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2501. Find a closed form: 

∫ ∫
𝑳𝒊𝟑(−𝒚)𝒍𝒏

𝟑(𝒙)

(𝒙 + 𝟏)𝟐(𝒚 + 𝟏)𝟑
𝒅𝒙𝒅𝒚

∞

𝟏

𝟏

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution 1 by Quadri Faruk Temitope-Nigeria 
 

𝑰 = ∫ ∫
𝑳𝒊𝟑(−𝒚)𝒍𝒏

𝟑(𝒙)

(𝒙 + 𝟏)𝟐(𝒚 + 𝟏)𝟑
𝒅𝒙𝒅𝒚 = ∫

𝑳𝒊𝟑(−𝒚)

(𝒚 + 𝟏)𝟑
𝒅𝒚 .  ∫

𝒍𝒏𝟑(𝒙)

(𝒙 + 𝟏)𝟐
𝒅𝒙 = 𝑨 . 𝑩

∞

𝟏

𝟏

𝟎

∞

𝟏

𝟏

𝟎

 

𝑨 = ∫
𝑳𝒊𝟑(−𝒚)

(𝒚 + 𝟏)𝟑
𝒅𝒚  {𝒖 = 𝑳𝒊𝟑(−𝒚),

𝒅𝒖

𝒅𝒚
=
𝑳𝒊𝟐(−𝒚)

𝒚
, 𝒗 = −

𝟏

𝟐(𝒚 + 𝟏)𝟐
,

𝟏

𝟎

𝒅𝒗 =
𝟏

(𝒚 + 𝟏)𝟑
} 

𝑨 =
−𝑳𝒊𝟑(−𝒚)

𝟐(𝒚 + 𝟏)𝟐
|
𝟏

𝟎
+
𝟏

𝟐
∫

𝑳𝒊𝟐(−𝒚)

𝒚(𝒚 + 𝟏)𝟐

𝟏

𝟎

𝒅𝒚 =
𝟑𝜻(𝟑)

𝟑𝟐
+
𝟏

𝟑𝟐
+
𝟏

𝟐
∫

𝑳𝒊𝟐(−𝒚)

𝒚(𝒚 + 𝟏)𝟐

𝟏

𝟎

𝒅𝒚 

{
 

 𝒖 = 𝑳𝒊𝟐(−𝒚) ,   
𝒅𝒖

𝒅𝒚
=
−𝐥𝐧 (𝒚 + 𝟏)

𝒚

𝒅𝒗 =
𝟏

𝒚(𝒚 + 𝟏)𝟐
,   𝒗 =

𝟏

𝒚 + 𝟏
+ 𝐥𝐧(𝒚) − 𝐥𝐧(𝒚 + 𝟏)

 

𝑨 =
𝟑𝜻(𝟑)

𝟑𝟐
+ [    −

𝑳𝒊𝟐(−𝒚)

𝒚 + 𝟏

𝟏

𝟎
+ 𝑳𝒊𝟐(−𝒚) 𝐥𝐧(𝒚)

𝟏

𝟎
− 𝑳𝒊𝟐(−𝒚) 𝐥𝐧(𝒚 + 𝟏)

𝟏

𝟎
  

+ ∫
𝐥𝐧(𝒚 + 𝟏)

𝒚(𝒚 + 𝟏)
𝒅𝒚 +∫

𝐥𝐧(𝒚) 𝐥𝐧 (𝒚 + 𝟏)

𝒚
𝒅𝒚 − ∫

𝒍𝒏𝟐(𝒚 + 𝟏)

𝒚
𝒅𝒚     

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

] 

𝑨 =
𝟑𝜻(𝟑)

𝟑𝟐
+
𝟏

𝟐
(−
𝜻(𝟐)

𝟒
+
𝜻(𝟐)

𝟐
𝐥𝐧(𝟐)

+ ∫
𝐥𝐧 (𝒚 + 𝟏)

𝒚
𝒅𝒚

𝟏

𝟎

−∫
𝐥𝐧 (𝒚 + 𝟏)

𝒚 + 𝟏
𝒅𝒚 +∫

𝐥𝐧(𝒚) 𝐥𝐧 (𝒚 + 𝟏)

𝒚
𝒅𝒚 − ∫

𝒍𝒏𝟐(𝒚 + 𝟏)

𝒚
𝒅𝒚)   

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝑨 =
𝟑𝜻(𝟑)

𝟑𝟐
+
𝟏

𝟐
(−
𝜻(𝟐)

𝟒
+
𝜻(𝟐)

𝟐
𝐥𝐧(𝟐)

−∑
(−𝟏)𝒏

𝒏
∫ 𝒚𝒏−𝟏𝒅𝒚 −

𝟏

𝟐
𝒍𝒏𝟐(𝒚 + 𝟏)|

𝟏

𝟎
−∑

(−𝟏)𝒏

𝒏

∞

𝒏=𝟏

𝟏

𝟎

∞

𝒏=𝟏

∫ 𝒚𝒏−𝟏𝒍𝒏𝟐(𝒚)𝒅𝒚
𝟏

𝟎

−∫
𝒍𝒏𝟐(𝒚)

𝒚
𝒅𝒚)  = 

𝟐

𝟎

 

𝑨 =
𝟑𝜻(𝟑)

𝟑𝟐
+
𝟏

𝟐
(−
𝜻(𝟐)

𝟒
+
𝜻(𝟐)

𝟐
𝐥𝐧(𝟐)

−∑
(−𝟏)𝒏

𝒏𝟐
−
𝟏

𝟐
𝒍𝒏𝟐(𝟐) +∑

(−𝟏)𝒏

𝒏𝟑
+∑∫ 𝒚𝒏−𝟏𝒍𝒏𝟐(𝒚)𝒅𝒚

𝟐

𝟏

∞

𝒏=𝟏

∞

𝒏=𝟏

∞

𝒏=𝟏
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𝑨 =
𝟑𝜻(𝟑)

𝟑𝟐
+
𝟏

𝟐
(−
𝜻(𝟐)

𝟒
+
𝜻(𝟐)

𝟐
𝐥𝐧(𝟐) +

𝜻(𝟐)

𝟐
−
𝟏

𝟐
𝒍𝒏𝟐(𝟐) −

𝟑

𝟒
𝜻(𝟑) −

𝜻(𝟑)

𝟒
)  

𝑨 =
𝟑𝜻(𝟑)

𝟑𝟐
+
𝜻(𝟐)

𝟖
+
𝜻(𝟐)

𝟐
𝐥𝐧(𝟐) −

𝟏

𝟒
𝒍𝒏𝟐(𝟐) −

𝜻(𝟑)

𝟐
 

𝑩 = ∫
𝒍𝒏𝟑(𝒙)

(𝒙 + 𝟏)𝟐
𝒅𝒙 =⏞

𝒙→
𝟏
𝒙

∫
𝒍𝒏𝟑 (

𝟏
𝒙)

(𝟏 +
𝟏
𝒙)

𝟐 −
𝒅𝒙

𝒙𝟐
= −∫

𝒙𝟐𝒍𝒏𝟑(𝒙)

(𝒙 + 𝟏)𝟐

𝟏

𝟎

𝟎

𝟏

∞

𝟏

𝒅𝒙

𝒙𝟐
= −∫

𝒍𝒏𝟑(𝒙)

(𝒙 + 𝟏)𝟐
𝒅𝒙

𝟏

𝟎

 

𝑩 = 𝟑∫
𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙
𝒅𝒙 = −𝟑∑∫ 𝒙𝒏−𝟏𝒍𝒏𝟐(𝒙)𝒅𝒙 = −𝟑∑(𝟏)𝒏 (

𝟐

𝒏𝟑
) = −𝟔∑

𝟏

𝒏𝟑
=

∞

𝒏=𝟏

∞

𝒏=𝟏

𝟏

𝟎

∞

𝒏=𝟏

𝟏

𝟎

− 𝟔. (−
𝟑

𝟒
𝜻(𝟑)) =

𝟗

𝟐
𝜻(𝟑) 

𝑰 = 𝑨  .  𝑩 

𝑰 = [−
𝟏𝟑

𝟑𝟐
𝜻(𝟑) +

𝜻(𝟐)

𝟖
+
𝜻(𝟐)

𝟒
𝐥𝐧(𝟐) −

𝟏

𝟒
𝒍𝒏𝟐(𝟐)] .  

𝟗

𝟐
𝜻(𝟑) 

𝑰 = −
𝟏𝟏𝟕

𝟔𝟒
𝜻𝟑(𝟑) +

𝟗

𝟏𝟔
𝜻(𝟑)𝜻(𝟐) +

𝟗

𝟖
𝜻(𝟑)𝜻(𝟐) 𝐥𝐧(𝟐) −

𝟗

𝟖
𝜻(𝟑)𝒍𝒏𝟐(𝟐) 

 

Solution 2 by Exodo Halcalias-Angola 

∫ ∫
𝑳𝒊𝟑(−𝒚)𝒍𝒏

𝟑(𝒙)

(𝒙 + 𝟏)𝟐(𝒚 + 𝟏)𝟑
𝒅𝒙𝒅𝒚

∞

𝟏

𝟏

𝟎

 

𝑯 = ((∫
𝑳𝒊𝟑(−𝒚)

(𝒚 + 𝟏)𝟑
𝒅𝒚 ) . ( ∫

𝒍𝒏𝟑(𝒙)

(𝒙 + 𝟏)𝟐
𝒅𝒙

∞

𝟏

𝟏

𝟎

)) 

𝑰 = ∫
𝒍𝒏𝟑(𝒙)

(𝒙 + 𝟏)𝟐
𝒅𝒙

∞

𝟏

=⏞

𝒙→
𝟏
𝒙

−∫
𝒍𝒏𝟑(𝒙)

(𝒙 + 𝟏)𝟐
𝒅𝒙 =∑(−𝟏)𝒌𝒌∫ 𝒙𝒌−𝟏𝒍𝒏𝟑(𝒙)𝒅𝒙 = 𝟔∑

(−𝟏)𝒌−𝟏

𝒌𝟑
=
𝟗

𝟐
𝜻(𝟑)

𝒌∈𝑵

𝟏

𝟎𝒌∈𝑵

𝟏

𝟎

 

𝑱 = ∫
𝒍𝒏𝟑(𝒙)

(𝒙 + 𝟏)𝟐
𝒅𝒙

∞

𝟏

=⏞
𝑰.𝑩.𝑷

−
𝑳𝒊𝟑(−𝒚)

𝟐(𝒚 + 𝟏)𝟐
|
𝟏

𝟎
+
𝟏

𝟐
∫

𝑳𝒊𝟐(−𝒚)

𝒚(𝒚 + 𝟏)𝟐
𝒅𝒚

𝟏

𝟎

= −
𝑳𝒊𝟑(−𝟏)

𝟖
−
𝟏

𝟐
∫
𝑳𝒊𝟐(−𝒚)

𝒚 + 𝟏
𝒅𝒚

𝟏

𝟎

+ 

∫
𝑳𝒊𝟐(−𝒚)

𝒚
𝒅𝒚 −

𝟏

𝟐
∫
𝑳𝒊𝟐(−𝒚)

(𝒚 + 𝟏)𝟐
𝒅𝒚 =

𝟑𝜻(𝟑)

𝟑𝟐
−
𝟏

𝟐
(𝑱𝟏 − 𝑱𝟐 + 𝑱𝟑)

𝟏

𝟎

𝟏

𝟎

 

{∴ 𝑳𝒊𝒔(−𝟏) = −𝜼(𝒔); 𝜼(𝒔) = (𝟏 − 𝟐
𝟏−𝒔)𝜻𝒔), 𝑹[𝒔] ≥ 𝟏; 𝑳𝒊𝒔(𝟏) = 𝜻𝒔),𝑹[𝒔] > 1} 

𝑱𝟏 = ∫
𝑳𝒊𝟐(−𝒚)

𝒚 + 𝟏
𝒅𝒚

𝟏

𝟎

=⏞
𝑰.𝑩.𝑷

𝑳𝒊𝟐(−𝟏) 𝐥𝐧(𝟐)

+∫
𝒍𝒏𝟐(𝒚 + 𝟏)

𝒚
𝒅𝒚 =

𝝅𝟐 𝐥𝐧 (
𝟏
𝟐
)

𝟏𝟐
+∫

𝒍𝒏𝟐(𝒚)

𝒚
𝒅𝒚 + ∫

𝒍𝒏𝟐(𝒚)

𝟏 − 𝒚
𝒅𝒚 =

𝟏

𝟏
𝟐

𝟏

𝟏
𝟐

𝟏

𝟎

 

𝝅𝟐 𝐥𝐧 (
𝟏
𝟐
)

𝟏𝟐
−
𝟐𝒍𝒏𝟑(𝟐)

𝟑
− 𝟐∫ 𝑳𝒊𝟐(𝒙) 𝐥𝐧(𝒙)𝒅𝒙 =

𝝅𝟐 𝐥𝐧(
𝟏
𝟐
)

𝟏𝟐
−
𝟐𝒍𝒏𝟑(𝟐)

𝟑
+ 𝟐𝑳𝒊𝟐 (

𝟏

𝟐
) 𝐥𝐧 (

𝟏

𝟐
) + 𝟐∫ 𝒅𝑳𝒊𝟑(𝒚) =

𝟏

𝟎

𝟏

𝟏
𝟐
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𝝅𝟐 𝐥𝐧 (
𝟏
𝟐)

𝟏𝟐
−
𝟐𝒍𝒏𝟑(𝟐)

𝟑
+ 𝟐𝑳𝒊𝟐 (

𝟏

𝟐
) 𝐥𝐧 (

𝟏

𝟐
) + 𝟐(𝑳𝒊𝟑(𝟏) − 𝑳𝒊𝟑 (

𝟏

𝟐
)) =

𝝅𝟐 𝐥𝐧 (
𝟏
𝟐)

𝟏𝟐
+
𝜻(𝟑)

𝟒
 

𝑱𝟐 = ∫
𝑳𝒊𝟐(−𝒚)

𝒚
𝒅𝒚 = ∫ 𝒅𝑳𝒊𝟑(−𝒙) = −

𝟑𝜻(𝟑)

𝟒

𝟏

𝟎

𝟏

𝟎

 

𝑱𝟑 = ∫
𝑳𝒊𝟐(−𝒚)

(𝒚 + 𝟏)𝟐
𝒅𝒚 =⏞

𝑰.𝑩.𝑷𝟏

𝟎

−
𝑳𝒊𝟐(−𝒚)

𝒚 + 𝟏
|
𝟏

𝟎

−∫
𝐥𝐧 (𝒚 + 𝟏)

𝒚(𝒚 + 𝟏)
𝒅𝒚 =

𝑳𝒊𝟐(−𝟏)

𝟐
+∫

𝐥𝐧 (𝒚 + 𝟏)

𝒚 + 𝟏
𝒅𝒚 − ∫

𝐥𝐧 (𝒚 + 𝟏)

𝒚
𝒅𝒚 =

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝟏

𝟐
 .  
𝝅𝟐

𝟏𝟐
+ ∫ 𝒅(

𝒍𝒏𝟐(𝒙 + 𝟏)

𝟐
) −∫ 𝒅(−𝑳𝒊𝟐(−𝟏)) =

𝟏

𝟎

𝟏

𝟎

𝝅𝟐

𝟐𝟒
+
𝒍𝒏𝟐(𝟐)

𝟐
+ 𝑳𝒊𝟐(−𝟏)

=
𝒍𝒏𝟐(𝟐)

𝟐
−
𝝅𝟐

𝟐𝟒
 

𝑯 = [
𝟑𝜻(𝟑)

𝟑𝟐
−
𝟏

𝟐
(
𝝅𝟐 𝐥𝐧 (

𝟏
𝟐)

𝟏𝟐
+
𝜻(𝟑)

𝟒
) −

𝟑𝜻(𝟑)

𝟖
−
𝟏

𝟐
(
𝒍𝒏𝟐(𝟐)

𝟐
−
𝝅𝟐

𝟐𝟒
)]  .

𝟗 

𝟐
𝜻(𝟑) 

∫ ∫
𝑳𝒊𝟑(−𝒚)𝒍𝒏

𝟑(𝒙)

(𝒙 + 𝟏)𝟐(𝒚 + 𝟏)𝟑
𝒅𝒙𝒅𝒚

∞

𝟏

𝟏

𝟎

=
𝟗 

𝟐
𝜻(𝟑) (

𝝅𝟐 𝐥𝐧(𝟐)

𝟐𝟒
−
𝟏𝟑

𝟑𝟐
𝜻(𝟑) +

𝝅𝟐

𝟒𝟖
−
𝒍𝒏𝟐(𝟐)

𝟐
) 

 
2502. Solve  the differential equation: 

𝒖𝒕𝒕 + 𝒖𝒙𝒙 = 𝟎    𝒖(𝒙, 𝟎) = 𝐬𝐞𝐜𝒂 𝒙 + 𝒄𝒐𝒔𝒆𝒄𝒃𝒙 − 𝟏       𝒖𝒕(𝒙 , 𝟎) = 𝟎 
 

where: b+1=a=tg2z-2  and 
𝟐

𝒕𝒈𝟐𝒙
= 𝒔𝒊𝒏𝒛𝒄𝒐𝒔𝒛(𝟐𝒄𝒕𝒈𝒛 − 𝟏), 𝟎 < 𝑥 <

𝝅

𝟐
 

 
                                                            Proposed by Samir Cabiyev -Azerbaijan 
Solution by proposer 

Firstly, solve  the trigonometric equation: 𝟎 < 𝑥 <
𝝅

𝟐
 

𝟐

𝒕𝒈𝟐𝒙
=
𝟐𝒔𝒊𝒏𝒙𝒄𝒐𝒔𝒙𝒄𝒐𝒔𝒙

𝒔𝒊𝒏𝒙
− 𝒔𝒊𝒏𝒙𝒄𝒐𝒔𝒙 

𝒂𝒏𝒅 𝒂𝒄𝒄𝒆𝒑𝒕𝒆𝒅 𝒕𝒉𝒂𝒕 ,

𝒕𝒈𝟐𝒙 =
𝟐𝒕𝒈𝒙

𝟏 − 𝒕𝒈𝟐𝒙
    𝒔𝒊𝒏𝒙 = 𝒄𝒐𝒔𝒙𝒕𝒈𝒙     𝒄𝒐𝒔𝒙 =

𝟏

𝟏 + 𝒕𝒈𝟐𝒙 
. 𝑻𝒉𝒆𝒏: 

𝟏 − 𝒕𝒈𝟐𝒙

𝒕𝒈𝒙
=
𝟐 − 𝒕𝒈𝒙

𝟏 + 𝒕𝒈𝟐𝒙
, 𝟏 − 𝒕𝒈𝟒𝒙 = 𝟐𝒕𝒈𝒙 − 𝒕𝒈𝟐𝒙 

𝒕𝒈𝟒𝒙 − 𝒕𝒈𝟐𝒙 + 𝟐𝒕𝒈𝒙 − 𝟏 = 𝟎, (𝒕𝒈𝟐𝒙)𝟐 − (𝒕𝒈𝒙 − 𝟏)𝟐 = 𝟎 
𝒕𝒈𝟐𝒙 − 𝒕𝒈𝒙 + 𝟏 = 𝟎 𝒉𝒆𝒓𝒆 𝑫 < 0   𝑏𝑢𝑡    𝑡𝒈𝟐𝒙 + 𝒕𝒈𝒙 − 𝟏 = 𝟎 

𝒕𝒈𝒙 =
√𝟓−𝟏

𝟐
. According to the formula above:    𝒕𝒈𝟐𝒙 = 𝟐 . 𝑨𝒏𝒅 𝒂 = 𝟎 , 𝒃 = −𝟏 

𝐖𝐞 𝐜𝐨𝐧𝐬𝐢𝐝𝐞𝐫 𝐢𝐧 𝐰𝐚𝐯𝐞 𝐞𝐪𝐮𝐚𝐭𝐢𝐨𝐧: 𝒖𝒕𝒕 + 𝒖𝒙𝒙 = 𝟎    𝒖(𝒙, 𝟎) = 𝒔𝒊𝒏𝒙             𝒖𝒕(𝒙 , 𝟎) = 𝟎 
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𝒖(𝒙, 𝒕) =
𝒔𝒊𝒏(𝒙−𝒊𝒕)+𝒔𝒊𝒏(𝒙+𝒊𝒕)

𝟐
=

𝒆𝒊(𝒙−𝒊𝒕)−𝒆−𝒊(𝒙−𝒊𝒕)

𝟐𝒊
+
𝒆𝒊(𝒙+𝒊𝒕)−𝒆−𝒊(𝒙+𝒊𝒕)

𝟐𝒊

𝟐
=
𝒆𝒊𝒙−𝒆−𝒊𝒙

𝟐𝒊

𝒆𝒕+𝒆−𝒕

𝟐
= 𝒔𝒊𝒏𝒙𝒄𝒉𝒕   

                                                                         

 2503. Prove the below closed form 

𝛀 = ∫ 𝐥𝐨𝐠 (𝟏 +
𝐬𝐢𝐧(𝐱)

𝐬𝐢𝐧(𝟐𝐱)
)

𝛑
𝟐

𝟎

𝐝𝐱 =
𝟒𝐆

𝟑
 

where, 𝑮 is the Catalan’s constant. 
 

Proposed by Ankush Kumar Parcha-India 
Solution by Togrul Ehmedov-Azerbaijan 

𝛀 = ∫ 𝐥𝐨𝐠 (𝟏 +
𝐬𝐢𝐧(𝐱)

𝐬𝐢𝐧(𝟐𝐱)
)

𝛑
𝟐

𝟎

𝐝𝐱 = ∫ 𝐥𝐨𝐠(
𝐬𝐢𝐧(𝟐𝐱) + 𝐬𝐢𝐧(𝐱)

𝐬𝐢𝐧(𝟐𝐱)
)

𝛑
𝟐

𝟎

𝐝𝐱

= ∫ 𝐥𝐨𝐠(
𝟐 𝐬𝐢𝐧 (

𝟑𝐱
𝟐 )𝐜𝐨𝐬 (

𝐱
𝟐)

𝐬𝐢𝐧(𝟐𝐱)
)

𝛑
𝟐

𝟎

𝐝𝐱 

= ∫ 𝐥𝐨𝐠(𝟐)

𝛑
𝟐

𝟎

𝐝𝐱 + ∫ 𝐥𝐨𝐠 (𝐬𝐢𝐧(
𝟑𝐱

𝟐
))

𝛑
𝟐

𝟎

𝐝𝐱 +∫ 𝐥𝐨𝐠 (𝐜𝐨𝐬(
𝐱

𝟐
))

𝛑
𝟐

𝟎

𝐝𝐱 − ∫ 𝐥𝐨𝐠(𝐬𝐢𝐧(𝟐𝐱))

𝛑
𝟐

𝟎

𝐝𝐱

=
𝛑

𝟐
𝐥𝐨𝐠(𝟐) +

𝟐

𝟑
∫ 𝐥𝐨𝐠(𝐬𝐢𝐧(𝐱))

𝟑𝛑
𝟒

𝟎

𝐝𝐱 + 𝟐∫ 𝐥𝐨𝐠(𝐜𝐨𝐬(𝐱))

𝛑
𝟒

𝟎

𝐝𝐱 −
𝟏

𝟐
∫ 𝐥𝐨𝐠(𝐬𝐢𝐧(𝐱))

𝛑

𝟎

𝐝𝐱

=
𝛑

𝟐
𝐥𝐨𝐠(𝟐) +

𝟐

𝟑
{−
𝟑𝛑

𝟒
𝐥𝐨𝐠(𝟐) +

𝟏

𝟐
𝐆} + 𝟐 {

𝟏

𝟐
𝐆 −

𝛑

𝟒
𝐥𝐨𝐠(𝟐)} −

𝟏

𝟐
{−𝛑 𝐥𝐨𝐠(𝟐)} =

𝟒𝐆

𝟑
 

𝐍𝐨𝐭𝐞:∫ 𝐥𝐨𝐠(𝐬𝐢𝐧(𝐱))

𝟑𝛑
𝟒

𝟎

𝐝𝐱 = ∫ {− 𝐥𝐨𝐠(𝟐) −∑
𝐜𝐨𝐬(𝟐𝐤𝐱)

𝐤

∞

𝐤=𝟏

}

𝟑𝛑
𝟒

𝟎

𝐝𝐱

= −
𝟑𝛑

𝟒
𝐥𝐨𝐠(𝟐) −∑

𝟏

𝐤

∞

𝐤=𝟏

∫ 𝐜𝐨𝐬(𝟐𝐤𝐱)

𝟑𝛑
𝟒

𝟎

𝐝𝐱 = −
𝟑𝛑

𝟒
𝐥𝐨𝐠(𝟐) −

𝟏

𝟐
∑
𝐬𝐢𝐧 (

𝟑𝛑
𝟐 𝐤)

𝐤𝟐

∞

𝐤=𝟏

= −
𝟑𝛑

𝟒
𝐥𝐨𝐠(𝟐) −

𝟏

𝟐
∑

(−𝟏)𝐤

(𝟐𝐤 − 𝟏)𝟐

∞

𝐤=𝟏

= −
𝟑𝛑

𝟒
𝐥𝐨𝐠(𝟐) +

𝟏

𝟐
𝐆 
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2504. Let be 𝒂𝟏 = 𝒂 ∈ ℝ  ,   𝒂 ≠ 𝟐 ,   𝒂𝟐 =
𝒂

𝒂−𝟐
 , and: 

 𝒂𝒏+𝟏 =
𝒂𝒏
𝟐

𝒂𝒏
𝟐−𝟐𝒂𝒏+𝟐

  , ∀𝒏 ≥ 𝟐. Prove that: 

∑𝟐𝒌−𝟏𝒂𝒌

𝒏

𝒌=𝟏

=∏𝒂𝒌

𝒏

𝒌=𝟏

 

 
Determine 𝒂𝒏 and compute:  

𝐥𝐢𝐦
𝒏→∞

𝒂𝒏 

Proposed by Bela Kovacs-Romania 
Solution by Khaled Abd Imouti-Syria, Omar Alhafeez-Syria 
 

Let us prove the following issue by mathematical induction: 

𝑬(𝒏)  ∶         ∑ 𝟐𝒌−𝟏𝒂𝒌

𝒏

𝒌=𝟏

=∏𝒂𝒌

𝒏

𝒌=𝟏

 

At = 𝟏 : 𝒂𝟏 = 𝒂𝟏 , so the issue is valid for 𝒏 = 𝟏. 

At = 𝟐 : 𝒂𝟏 + 𝟐𝒂𝟐=⏞
?

𝒂𝟏. 𝒂𝟐 

Firstly, 𝒍𝟏 ≔ 𝒂𝟏 + 𝟐𝒂𝟐 = 𝒂𝟏 +
𝟐𝒂𝟏

𝒂𝟏−𝟐
=
𝒂𝟏
𝟐−𝟐𝒂𝟏+𝟐𝒂𝟏

𝒂𝟏−𝟐
=

𝒂𝟏
𝟐

𝒂𝟏−𝟐
= 𝒂𝟏.

𝒂𝟏

𝒂𝟏−𝟐
= 𝒂𝟏. 𝒂𝟐 ≔ 𝒍𝟐 

Now, we assume that the issue is valid at n=p 

𝑬(𝒑)  ∶         ∑𝟐𝒌−𝟏𝒂𝒌

𝒑

𝒌=𝟏

=∏𝒂𝒌

𝒑

𝒌=𝟏

 

And let’s prove its validity at n=p+1: 

𝑬(𝒑 + 𝟏)  ∶         ∑𝟐𝒌−𝟏𝒂𝒌

𝒑+𝟏

𝒌=𝟏

=∏𝒂𝒌

𝒑+𝟏

𝒌=𝟏

 

𝒍𝟏 ≔∑𝟐𝒌−𝟏𝒂𝒌

𝒑+𝟏

𝒌=𝟏

= ∑𝟐𝒌−𝟏𝒂𝒌

𝒑

𝒌=𝟏

+ 𝟐𝒑𝒂𝒑+𝟏 =∏𝒂𝒌

𝒑

𝒌=𝟏

+
𝟐𝒑𝒂𝒑

𝟐

𝒂𝒑
𝟐 − 𝟐𝒂𝒑 + 𝟐

=
𝒂𝒑
𝟐∏ 𝒂𝒌

𝒑
𝒌=𝟏 − 𝟐𝒂𝒑∏ 𝒂𝒌

𝒑
𝒌=𝟏 + 𝟐∏ 𝒂𝒌

𝒑
𝒌=𝟏 + 𝟐𝒑𝒂𝒑

𝟐

𝒂𝒑
𝟐 − 𝟐𝒂𝒑 + 𝟐

 

Let’s look at: 

∏𝒂𝒌

𝒑−𝟏

𝒌=𝟏

+ 𝟐𝒑−𝟏𝒂𝒑 =∑𝟐𝒌−𝟏𝒂𝒌

𝒑−𝟏

𝒌=𝟏

+ 𝟐𝒑−𝟏𝒂𝒑 = ∑𝟐𝒌−𝟏𝒂𝒌

𝒑

𝒌=𝟏

=∏𝒂𝒌

𝒑

𝒌=𝟏

 

⟹ −∏𝒂𝒌

𝒑

𝒌=𝟏

+∏𝒂𝒌

𝒑−𝟏

𝒌=𝟏

+ 𝟐𝒑−𝟏𝒂𝒑 = −∏𝒂𝒌

𝒑

𝒌=𝟏

+∏𝒂𝒌

𝒑

𝒌=𝟏

= 𝟎 

⟹ −∏𝒂𝒌

𝒑

𝒌=𝟏

+∏𝒂𝒌

𝒑−𝟏

𝒌=𝟏

+ 𝟐𝒑−𝟏𝒂𝒑 = 𝟎 
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We multiply both sides by 𝒂𝒑 : 

⟹ −𝟐𝒂𝒑∏𝒂𝒌

𝒑

𝒌=𝟏

+ 𝟐𝒂𝒑∏𝒂𝒌

𝒑−𝟏

𝒌=𝟏

+ 𝟐𝒑𝒂𝒑
𝟐 = 𝟐𝒂𝒑(𝟎) = 𝟎 

⟹  −𝟐𝒂𝒑∏𝒂𝒌

𝒑

𝒌=𝟏

+ 𝟐∏𝒂𝒌

𝒑

𝒌=𝟏

+ 𝟐𝒑𝒂𝒑
𝟐 = 𝟎 

Hence, 

𝒍𝟏 =
𝒂𝒑
𝟐∏ 𝒂𝒌

𝒑
𝒌=𝟏 − 𝟐𝒂𝒑∏ 𝒂𝒌

𝒑
𝒌=𝟏 + 𝟐∏ 𝒂𝒌

𝒑
𝒌=𝟏 + 𝟐𝒑𝒂𝒑

𝟐

𝒂𝒑
𝟐 − 𝟐𝒂𝒑 + 𝟐

=∏𝒂𝒌

𝒑

𝒌=𝟏

𝒂𝒑
𝟐

𝒂𝒑
𝟐 − 𝟐𝒂𝒑 + 𝟐

= 

= 𝒂𝒑+𝟏∏𝒂𝒌

𝒑

𝒌=𝟏

=∏𝒂𝒌

𝒑+𝟏

𝒌=𝟏

≔ 𝒍𝟐 

So, 𝑬(𝒑 + 𝟏) is valid and the issue is valid for any 𝒏 ≥ 𝟏. 
Now, let’s consider a function 𝒇 defined on ℝ by : 

𝒇 ∶ 𝒙 ⟼ 𝒇(𝒙) ≔
𝒙𝟐

𝒙𝟐 − 𝟐𝒙+ 𝟐
 

This function is differentiable on ℝ and : 

𝒇′(𝒙) = −
𝟐𝒙(𝒙 − 𝟐)

(𝒙𝟐 − 𝟐𝒙 + 𝟐)𝟐
 

So, 𝒇 is decreasing on 𝑰𝟏 ≔] −∞, 𝟎] and 𝟎 = 𝒇(𝟎) ≤ 𝒇(𝒙) < 𝐥𝐢𝐦
𝒙→−∞

𝒇(𝒙) = 𝟏    on 𝑰𝟏. 

On 𝑰𝟐 ≔ [𝟎, 𝟐] the function is increasing and 𝟎 = 𝒇(𝟎) ≤ 𝒇(𝒙) ≤ 𝒇(𝟐) = 𝟐  on 𝑰𝟐. 
On 𝑰𝟑 ≔ [𝟐,+∞[ the function is decreasing and 𝟏 = 𝐥𝐢𝐦

𝒙→+∞
𝒇(𝒙) < 𝑓(𝒙) ≤ 𝟐 on 𝑰𝟑 

Hence, For all ∈ ℝ , 𝟎 ≤ 𝒇(𝒙) ≤ 𝟐. 
Since 𝒇([𝟎,𝟐]) = [𝟎,𝟐] and 𝒇(𝒙) ∈ [𝟎, 𝟐] for any 𝒙 ∈ ℝ then (𝒂𝒏)𝒏≥𝟏 is bounded and 𝒂𝒏 ∈ [𝟎, 𝟐] 

when 𝒏 ≥ 𝟑. 
On the other hand, 

𝒂𝒏+𝟏 − 𝒂𝒏 = −
𝒂𝒏(𝒂𝒏 − 𝟐)(𝒂𝒏 − 𝟏)

𝒂𝒏
𝟐 − 𝟐𝒂𝒏 + 𝟐

  , 𝒏 ≥ 𝟐 

𝒊𝒇 𝒂𝟏 = 𝒂 > 2  ⟹   𝒂𝟐 =
𝒂

𝒂−𝟐
> 1  ⟹   𝒂𝟑 − 𝒂𝟐 > 0 and while 𝟎 ≤ 𝒂𝒏 ≤ 𝟐  , 𝒏 ≥ 𝟑 then 𝒂𝟑 stays 

in the interval ]𝟏, 𝟐], hence 𝒂𝟒 − 𝒂𝟑 > 0, so 𝒂𝟒 stays in the same interval, hence the same is true 
for 𝒂𝟓, 𝒂𝟔,… .We deduce that (𝒂𝒏)𝒏≥𝟐 is increasing. 

So, (𝒂𝒏)𝒏≥𝟏 is increasing, then it’s convergent to a number such as 𝒙 

𝒙 =
𝒙𝟐

𝒙𝟐 − 𝟐𝒙+ 𝟐
  ⟺   𝒙(𝒙𝟐 − 𝟑𝒙+ 𝟐) = 𝟎  ⟺   𝒙(𝒙 − 𝟐)(𝒙 − 𝟏) = 𝟎 

Since the sequence is increasing then 𝒙 = 𝟐 and 𝐥𝐢𝐦
𝒏→∞

𝒂𝒏 = 𝟐. 

𝒊𝒇 𝒂𝟏 = 𝒂 < 2  ⟹   𝒂𝟐 =
𝒂

𝒂−𝟐
< 1  ⟹   𝒂𝟑 − 𝒂𝟐 < 0 and while 𝟎 ≤ 𝒂𝒏 ≤ 𝟐  , 𝒏 ≥ 𝟑 then 𝒂𝟑 stays 

in the interval [𝟎, 𝟏[, hence 𝒂𝟒 − 𝒂𝟑 < 0, so 𝒂𝟒 stays in the same interval too, hence the same is 
true for 𝒂𝟓, 𝒂𝟔, … .We deduce that (𝒂𝒏)𝒏≥𝟐 is decreasing. 

So, (𝒂𝒏)𝒏≥𝟏 is decreasing, then it’s convergent to a number such as 𝒙 

𝒙 =
𝒙𝟐

𝒙𝟐 − 𝟐𝒙+ 𝟐
  ⟺   𝒙(𝒙𝟐 − 𝟑𝒙+ 𝟐) = 𝟎  ⟺   𝒙(𝒙 − 𝟐)(𝒙 − 𝟏) = 𝟎 

Since the sequence is decreasing then 𝒙 = 𝟎 and 𝐥𝐢𝐦
𝒏→∞

𝒂𝒏 = 𝟎. 
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2505. Find: 

 

𝛀 = 𝐥𝐢𝐦
𝒙→𝟎

𝒍𝒏(𝟐 − 𝒄𝒐𝒔𝟐𝒙)

𝒙(𝒆𝒙 − 𝟏)
 

 
Proposed by Nguyen Hung Cuong-Vietnam 

Solution by Daniel Sitaru-Romania 

 

𝛀 = 𝐥𝐢𝐦
𝒙→𝟎

𝒍𝒏(𝟐 − 𝒄𝒐𝒔𝟐𝒙)

𝒙(𝒆𝒙 − 𝟏)
= 𝐥𝐢𝐦
𝒙→𝟎

𝒍𝒏(𝟐 − (𝟏 − 𝒔𝒊𝒏𝟐𝒙))

𝒙(𝒆𝒙 − 𝟏)
= 𝐥𝐢𝐦
𝒙→𝟎

𝒍𝒏(𝟏 + 𝒔𝒊𝒏𝟐𝒙)

𝒙(𝒆𝒙 − 𝟏)
= 

 

= 𝐥𝐢𝐦
𝒙→𝟎

𝒙

𝒆𝒙 − 𝟏
∙
𝒍𝒏(𝟏 + 𝒔𝒊𝒏𝟐𝒙)

𝒙𝟐
= 𝟏 ∙ 𝐥𝐢𝐦

𝒙→𝟎

𝒍𝒏(𝟏 + 𝒔𝒊𝒏𝟐𝒙)

𝒙𝟐
= 

 

= 𝐥𝐢𝐦
𝒙→𝟎

𝟏

𝟐𝒙
∙
𝟐𝒔𝒊𝒏𝒙𝒄𝒐𝒔𝒙

𝟏 + 𝒔𝒊𝒏𝟐𝒙
= 𝐥𝐢𝐦
𝒙→𝟎

𝒄𝒐𝒔𝒙

𝟏 + 𝒔𝒊𝒏𝟐𝒙
∙
𝒔𝒊𝒏𝒙

𝒙
= 𝐥𝐢𝐦

𝒙→𝟎

𝒄𝒐𝒔𝒙

𝟏 + 𝒔𝒊𝒏𝟐𝒙
∙ 𝐥𝐢𝐦
𝒙→𝟎

𝒔𝒊𝒏𝒙

𝒙
= 

 

=
𝒄𝒐𝒔𝟎

𝟏 + 𝒔𝒊𝒏𝟐𝟎
∙ 𝟏 = 𝟏 

2506. Find: 

Ω = ∫ (
𝑳𝒊𝟐(−𝒙)

𝟏 + 𝒙
+ 𝒙𝒂𝒓𝒄𝒕𝒂𝒏𝟐 (

𝟏

𝒙𝟐
))𝒅𝒙

𝟏

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution 1 by Pham Duc Nam-Vietnam 
 
∗ 𝑹𝒆𝒔𝒖𝒍𝒕𝒔  𝒘𝒊𝒍𝒍  𝒃𝒆  𝒖𝒔𝒆𝒅 ∶  

𝟏.∫
𝐥𝐧 (𝒙)

𝟏 − 𝒙
𝒅𝒙 = −

𝝅𝟐

𝟔
,   𝒆𝒂𝒔𝒚  𝒕𝒐  𝒆𝒗𝒂𝒍𝒖𝒂𝒕𝒆

𝟏

𝟎

 

𝟐.∫
𝐥𝐧(𝒙) 𝐥𝐧 (𝟏 + 𝒙)

𝒙
𝒅𝒙 = −∑

(−𝟏)𝒏

𝒏
∫ 𝒙𝒏−𝟏 𝐥𝐧(𝒙)𝒅𝒙 =∑

(−𝟏)𝒏

𝒏𝟑
= −

𝟑

𝟒
𝜻(𝟑)

∞

𝒏=𝟏

𝟏

𝟎

∞

𝒏=𝟏

𝟏

𝟎

 

𝟑.∫
𝐥𝐧(𝟏 − 𝒙) 𝐥𝐧(𝟏 + 𝒙)

𝒙
𝒅𝒙 =⏞

𝑰.𝑩.𝑷𝟏

𝟎

 

= −𝜻(𝟐) 𝐥𝐧(𝟐) + ∫
𝑳𝒊𝟐(𝒙)
𝟏 + 𝒙

𝒅𝒙 = −𝜻(𝟐) 𝐥𝐧(𝟐) − ∫ ∫
𝒙𝒍𝒏(𝒕)

(𝟏 + 𝒙)(𝟏 − 𝒙𝒕)
𝒅𝒙𝒅𝒕 =

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

= −𝜻(𝟐) 𝐥𝐧(𝟐) +∫ 𝐥𝐧(𝒕) (
𝐥𝐧(𝟐)

𝟏 + 𝒕
+
𝐥𝐧(𝟏 − 𝒕)

𝒕
−
𝐥𝐧(𝟏 − 𝒕)

𝟏 + 𝒕
)𝒅𝒕 = −𝜻(𝟐) 𝐥𝐧(𝟐) + 𝐥𝐧 (𝟐)∫

𝐥𝐧 (𝒕)

𝟏 + 𝒕
𝒅𝒕 +

𝟏

𝟎

𝟏

𝟎

 

+∫
𝐥𝐧(𝐭)𝐥𝐧(𝟏 − 𝒕)

𝒕
𝒅𝒕

𝟏

𝟎⏟              
𝑰.𝑩.𝑷

−∫
𝐥𝐧(𝐭) 𝐥𝐧(𝟏 − 𝒕)

𝟏 + 𝒕
𝒅𝒕

𝟏

𝟎⏟              
𝑰.𝑩.𝑷

= −
𝟑

𝟐
𝜻(𝟐) 𝐥𝐧(𝟐) + 𝜻(𝟑) −∫

𝐥𝐧(𝐭) 𝐥𝐧(𝟏 + 𝒕)

𝟏 − 𝒕
𝒅𝒕

𝟏

𝟎

+ 
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∫
𝐥𝐧(𝟏 + 𝐭) 𝐥𝐧(𝟏 − 𝒕)

𝒕
𝒅𝒕

𝟏

𝟎

 →   ∫
𝐥𝐧(𝒕) 𝐥𝐧 (𝟏 + 𝒕)

𝟏 − 𝒕
𝒅𝒕 =

𝟏

𝟎

−
𝟑

𝟐
𝜻(𝟐) 𝐥𝐧(𝟐) + 𝜻(𝟑) 

𝟒.∫
𝐥𝐧(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙 = −𝟐∫ 𝐥𝐧(𝒄𝒐𝒔(𝒙))𝒅𝒙 =

𝝅
𝟒

𝟎

𝟏

𝟎

𝝅

𝟐
𝐥𝐧(𝟐) − 𝑮  ∴  ∫ 𝐥𝐧(𝒄𝒐𝒔(𝒙))𝒅𝒙 =

𝝅
𝟒

𝟎

𝑮

𝟐
−
𝝅

𝟒
𝐥𝐧(𝟐)  

∗ 𝑰 = ∫
𝑳𝒊𝟐(−𝒙)
𝟏+ 𝒙

𝒅𝒙 = ∫ ∫
𝒙𝒍𝒏(𝒕)

(𝟏+ 𝒙)(𝟏+ 𝒙𝒕)
𝒅𝒙𝒅𝒕 = ∫ 𝐥𝐧 (𝒕)

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

(∫
𝒙

(𝟏+𝒙)(𝟏+𝒙𝒕)
𝒅𝒙)𝒅𝒕 =

𝟏

𝟎

 

∫ 𝐥𝐧(𝒕) (
𝐥𝐧(𝟏 + 𝒕)

𝒕(𝟏− 𝒕)
−
𝐥𝐧(𝟐)

𝟏 − 𝒕
)𝒅𝒕 = 𝜻(𝟐) 𝐥𝐧(𝟐) + ∫

𝐥𝐧(𝐭) 𝐥𝐧(𝟏 + 𝒕)

𝒕
𝒅𝒕 +∫

𝐥𝐧(𝐭) 𝐥𝐧(𝟏 + 𝒕)

𝟏 − 𝒕
𝒅𝒕 =

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝜻(𝟐) 𝐥𝐧(𝟐) + (−
𝟑

𝟒
𝜻(𝟑)) + (−

𝟑

𝟐
𝜻(𝟐) 𝐥𝐧(𝟐) + 𝜻(𝟑)) =

𝟏

𝟒
𝜻(𝟑) −

𝟏

𝟐
𝜻(𝟐) 𝐥𝐧(𝟐) 

∗ 𝑱 = ∫ 𝒙𝒂𝒓𝒄𝒕𝒂𝒏𝟐 (
𝟏

𝒙𝟐
)𝒅𝒙 =

𝟏
𝟐
∫ 𝒂𝒓𝒄𝒕𝒂𝒏𝟐 (

𝟏

𝒙𝟐
) (𝒙𝟐)=

𝟏
𝟐
∫ 𝒂𝒓𝒄𝒕𝒂𝒏𝟐 (

𝟏
𝒙
)𝒅𝒙 =

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

−
𝝅𝟐

𝟖
∫ 𝒅𝒙 −
𝟏

𝟎

 

𝝅

𝟐
∫ 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)𝒅𝒙
𝟏

𝟎

+
𝟏

𝟐
∫ 𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙)𝒅𝒙 =

𝝅𝟐

𝟖
−
𝝅

𝟐
(𝒙𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) −

𝟏

𝟐
𝐥𝐧(𝟏 + 𝒙𝟐)

𝟏

𝟎
| +
𝟏

𝟐
∫ 𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙)𝒅𝒙 =
𝟏

𝟎

𝟏

𝟎

 

=
𝝅

𝟒
𝐥𝐧(𝟐) +

𝟏

𝟐
∫ 𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙)𝒅𝒙
𝟏

𝟎

 

𝑨𝒏𝒅 ∶  ∫ 𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙)𝒅𝒙
𝟏

𝟎

=⏞
𝑰.𝑩.𝑷

𝒙𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙)|
𝟏

𝟎
− 𝟐∫

𝐱𝐚𝐫𝐜𝐭𝐚𝐧(𝐱)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎⏟            
𝑰.𝑩.𝑷

=
𝝅𝟐

𝟏𝟔
− (
𝟏

𝟐
𝐥𝐧(𝟏 + 𝒙𝟐)𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙)|

𝟏

𝟎
− 

𝟏

𝟐
∫
𝐥𝐧(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙) =

𝝅𝟐

𝟏𝟔
−

𝟏

𝟎

𝝅

𝟒
𝐥𝐧(𝟐) + ∫

𝐥𝐧(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙) =

𝟏

𝟎

𝝅𝟐

𝟏𝟔
−
𝝅

𝟒
𝐥𝐧(𝟐) +

𝝅

𝟐
𝐥𝐧(𝟐) − 𝑮 =

𝝅𝟐

𝟏𝟔
+
𝝅

𝟒
𝐥𝐧(𝟐)

− 𝑮 

𝑱 = ∫ 𝒙𝒂𝒓𝒄𝒕𝒂𝒏𝟐 (
𝟏

𝒙𝟐
)𝒅𝒙 =

𝟏

𝟎

𝝅

𝟒
𝐥𝐧(𝟐) +

𝟏

𝟐
(
𝝅𝟐

𝟏𝟔
+
𝝅

𝟒
𝐥𝐧(𝟐) − 𝑮) =

𝝅𝟐

𝟑𝟐
+
𝟑𝝅

𝟖
𝐥𝐧(𝟐) −

𝑮

𝟐
 

𝑪𝒐𝒎𝒃𝒊𝒏𝒆  𝒂𝒍𝒍  𝒓𝒆𝒔𝒖𝒍𝒕𝒔 ∶   

Ω = ∫ (
𝑳𝒊𝟐(−𝒙)

𝟏 + 𝒙
+ 𝒙𝒂𝒓𝒄𝒕𝒂𝒏𝟐 (

𝟏

𝒙𝟐
))𝒅𝒙 =

𝟏

𝟎

𝟏

𝟒
𝜻(𝟑) −

𝟏

𝟐
𝜻(𝟐) 𝐥𝐧(𝟐) +

𝝅𝟐

𝟑𝟐
+
𝟑𝝅

𝟖
𝐥𝐧(𝟐) −

𝑮

𝟐
 

 

Solution 2 by Exodo Halcalias-Angola 
 

∫ (
𝑳𝒊𝟐(−𝒙)

𝟏 + 𝒙
+ 𝒙𝒂𝒓𝒄𝒕𝒂𝒏𝟐 (

𝟏

𝒙𝟐
))𝒅𝒙

𝟏

𝟎

 

𝑼 = ∫
𝑳𝒊𝟐(−𝒙)

𝟏 + 𝒙
𝒅𝒙 = (𝑳𝒊𝟐(−𝒙)∫𝒅𝒍𝒏((𝟏 + 𝒙))|

𝟏

𝟎

𝟏

𝟎
+∫

𝒍𝒏𝟐(𝟏 + 𝒙)

𝒙
𝒅𝒙 =

𝟏

𝟎

 

𝑳𝒊𝟐(−𝟏) 𝐥𝐧(𝟐) +∫
𝒍𝒏𝟐(𝒙)

𝒙
𝒅𝒙 +

𝟏

𝟏
𝟐

∫
𝒍𝒏𝟐(𝒙)

𝟏 − 𝒙
𝒅𝒙 =

𝝅𝟐

𝟏𝟐
𝐥𝐧 (

𝟏

𝟐
) −

𝟐

𝟑

𝟏

𝟏
𝟐

𝒍𝒏𝟑(𝟐) + 𝟐𝑳𝒊𝟐 (
𝟏

𝟐
) 𝐥𝐧(

𝟏

𝟐
) + 



 
www.ssmrmh.ro 

11 RMM-CALCULUS MARATHON 2501-2600 

 

∫
𝑳𝒊𝟐(𝒙)

𝒙
𝒅𝒙 =

𝝅𝟐

𝟏𝟐
𝐥𝐧(

𝟏

𝟐
) −

𝟐

𝟑

𝟏

𝟏
𝟐

𝒍𝒏𝟑(𝟐) + 𝟐𝑳𝒊𝟐 (
𝟏

𝟐
) 𝐥𝐧(

𝟏

𝟐
) +𝟐∫ 𝒅

𝟏

𝟏
𝟐

𝑳𝒊𝟑(𝒙) =
𝝅𝟐

𝟏𝟐
𝐥𝐧 (

𝟏

𝟐
) −

𝟐

𝟑
𝒍𝒏𝟑(𝟐) + 

𝟐 𝐥𝐧(
𝟏

𝟐
)(
𝝅𝟐

𝟏𝟐
−
𝒍𝒏𝟐(𝟐)

𝟐
) + 𝟐𝜻(𝟑) − 𝟐(

𝟕

𝟖
𝜻(𝟑) +

𝒍𝒏𝟑(𝟐)

𝟔
−
𝝅𝟐

𝟏𝟐
𝐥𝐧(

𝟏

𝟐
)) 

𝑼 =
𝟏

𝟒
𝜻(𝟑) −

𝝅𝟐

𝟏𝟐
𝐥𝐧(𝟐) 

𝑽 = ∫ 𝒙𝒂𝒓𝒄𝒕𝒂𝒏𝟐 (
𝟏

𝒙𝟐
)𝒅𝒙 =

𝟏

𝟎

𝟏

𝟐
∫ 𝒂𝒓𝒄𝒕𝒂𝒏𝟐 (

𝟏

𝒙
)

𝟏

𝟎

𝒅𝒙 =
𝟏

𝟐
∫ (

𝝅

𝟐
− 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙))

𝟐

𝒅𝒙 =

𝟏

𝟎

 

−
𝟏

𝟐
∫ 𝒙𝟐𝒄𝒔𝒄𝟐(𝒙)𝒅𝒙 =

𝟏

𝟐
(𝒙𝟐∫𝒅𝒄𝒐𝒕(𝒙))|

𝝅
𝟒
𝝅
𝟐

−∫
𝒙

𝐭𝐚𝐧(𝒙)
𝒅𝒙 =

𝝅𝟐

𝟑𝟐
𝐜𝐨𝐭 (

𝝅

𝟒
) −

𝝅
𝟒

𝝅
𝟐

𝝅
𝟒

𝝅
𝟐

(𝒙∫𝒅𝒍𝒏(𝐬𝐢𝐧(𝒙))|

𝝅
𝟒
𝝅
𝟐

+ 

+∫ 𝐥𝐧 (𝐬𝐢𝐧(𝒙) 𝒅𝒙

𝝅
𝟒

𝝅
𝟐

 

{∴ ∫ 𝐥𝐧 (𝐬𝐢𝐧(𝒛) 𝒅𝒛 = −
𝟏

𝟐
𝑪𝒍𝟐(𝟐𝜽) − 𝜽 𝐥𝐧(𝟐) ;  𝑪𝒍𝟐

𝜽

𝟎

(
𝝅

𝟐
) = 𝑮; 𝑪𝒍𝟐(𝝅) = 𝟎} 

𝑽 =
𝝅𝟐

𝟑𝟐
+
𝝅

𝟖
𝐥𝐧(𝟐) +

𝝅

𝟒
𝐥𝐧(𝟐) −

𝑮

𝟐
=
𝝅𝟐

𝟑𝟐
+
𝟑𝝅

𝟖
𝐥𝐧(𝟐) −

𝑮

𝟐
 

𝑼 + 𝑽 =
𝟏

𝟒
𝜻(𝟑) −

𝝅𝟐

𝟏𝟐
𝐥𝐧(𝟐) +

𝝅𝟐

𝟑𝟐
+
𝟑𝝅

𝟖
𝐥𝐧(𝟐) −

𝑮

𝟐
 

 

2507. Find a closed form: 

∫
𝒙(𝟏 + 𝐥𝐧(𝒙))𝟐

(𝟏 + 𝒙𝟐)(𝟐 + 𝒙)
𝒅𝒙

𝟏

𝟎

 

 
Proposed by Shirvan Tahirov, Gulkhanim Pirieyeva-Azerbaijan 

 
Solution 1 by Ankush Kumar Parcha-India 
 

𝑾𝒆  𝒉𝒂𝒗𝒆 ∶  ∫
𝒙(𝟏 + 𝐥𝐧(𝒙))𝟐

(𝟏 + 𝒙𝟐)(𝟐 + 𝒙)
𝒅𝒙

𝟏

𝟎

−>⏞
𝑷𝒂𝒓𝒕𝒊𝒂𝒍  𝒇𝒓𝒂𝒄𝒕𝒊𝒐𝒏

𝟏

𝟓
∫ (

𝟏 + 𝟐𝒙

𝟏 + 𝒙𝟐
−

𝟐

𝟐 + 𝒙
) (𝒍𝒏𝟐(𝒙) + 𝟐 𝐥𝐧(𝒙) + 𝟏)𝒅𝒙 =

𝟏

𝟎

 

= −
𝟐

𝟓
∫

𝒅𝒙

𝟐 + 𝒙
+
𝟐

𝟓
∫

𝒙

𝟏 + 𝒙𝟐

𝟏

𝟎

𝟏

𝟎

𝒅𝒙 +
𝟏

𝟓
∫

𝒅𝒙

𝟏 + 𝒙𝟐

𝟏

𝟎

−
𝟒

𝟓
∫
𝐥𝐧(𝒙)

𝟐 + 𝒙
𝒅𝒙

𝟏

𝟎⏟        
𝑰.𝑩.𝑷

+
𝟒

𝟓
∫
𝒙𝒍𝒏(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 +

𝟐

𝟓
∫

𝐥𝐧 (𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 −

𝟏

𝟎

𝟏

𝟎

 

−
𝟐

𝟓
∫
𝒍𝒏𝟐(𝒙)

𝟐 + 𝒙
𝒅𝒙

𝟏

𝟎⏟        
𝑰.𝑩.𝑷

+
𝟐

𝟓
∫
𝒙𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 +
𝟏

𝟓
∫
𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 =⏟
|𝒙𝟐|<1 ,𝑥∈(0,1)

−
𝟐

𝟓
∫ 𝒅𝒍𝒏(𝟐 + 𝒙) +∫

𝒅𝒍𝒏(𝟏 + 𝒙𝟐)

𝟓

𝟏

𝟎

𝟏

𝟎

 

+∫
𝒅𝒂𝒓𝒄𝒕𝒂𝒏(𝒙)

𝟓
−
𝟒

𝟓
(𝐥𝐧(𝒙)∫𝒅𝒍𝒏(𝟏+

𝒙

𝟐
))
𝟏

𝟎⏟                
𝟎

+
𝟒

𝟓
∫ 𝒍𝒏(𝟏 +

𝒙

𝟐
)
𝒅𝒙

𝒙

𝟏

𝟎

𝟏

𝟎

+
𝟒

𝟓
∑(−𝟏)𝒏−𝟏

𝒏∈𝑵

∫ 𝒙𝟐𝒏−𝟏 𝐥𝐧(𝒙)𝒅𝒙
𝟏

𝟎

 

+
𝟐

𝟓
∑(−𝟏)𝒏

𝒏∈𝑵

∫ 𝒙𝟐𝒏 𝐥𝐧(𝒙)𝒅𝒙 −
𝟐

𝟓

𝟏

𝟎

(𝒍𝒏𝟐(𝒙)∫𝒅𝒍𝒏 (𝟏 +
𝒙

𝟐
))
𝟏

𝟎⏟              
𝟎

+
𝟒

𝟓
∫

𝐥𝐧 (𝒙)

𝒙

𝟏

𝟎

(𝟏 +
𝒙

𝟐
)

⏟          
𝑰.𝑩.𝑷

𝒅𝒙 + 
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+
𝟐

𝟓
∑(−𝟏)𝒏−𝟏

𝒏∈𝑵

∫ 𝒙𝟐𝒏−𝟏𝒍𝒏𝟐(𝒙)𝒅𝒙
𝟏

𝟎

+
𝟏

𝟓
∑ (−𝟏)𝒏

𝒏∈𝑵𝟎

∫ 𝒙𝟐𝒏 𝐥𝐧(𝒙)𝒅𝒙
𝟏

𝟎

 

(∴ ∫ 𝒕𝒎𝒍𝒏𝒏(𝒕)𝒅𝒕 =
(−𝟏)𝒏. 𝒏!

(𝒎 + 𝟏)𝒏+𝟏
 ,   𝒏 > −1 ⋀𝒎 ≠ 𝟏

𝟏

𝟎

 ) 

∫
𝒙(𝟏 + 𝐥𝐧(𝒙))𝟐

(𝟏 + 𝒙𝟐)(𝟐 + 𝒙)
𝒅𝒙

𝟏

𝟎

=
𝝅

𝟐𝟎
−
𝟐

𝟓
𝐥𝐧(𝟑) +

𝟑

𝟓
𝐥𝐧(𝟐) −

𝟒

𝟓
∫ 𝒅𝑳𝒊𝟐 (−

𝒙

𝟐
) −

𝟐

𝟓
∑

(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟐
𝒏∈𝑵𝟎⏟        

=𝑮(𝑪𝒂𝒕𝒂𝒍𝒂𝒏′𝒔 𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕)

−
𝟏

𝟎

 

−
𝟏

𝟓
∑

(−𝟏)𝒏−𝟏

𝒏𝟐
−

𝒏∈𝑵

𝟒

𝟓
(𝐥𝐧(𝒙)∫ 𝒅𝑳𝒊𝟐 (−

𝒙

𝟐
))
𝟏

𝟎⏟              
𝟎

+
𝟒

𝟓
∫ 𝒅

𝟏

𝟎

𝑳𝒊𝟑 (−
𝒙

𝟐
)

+
𝟏

𝟏𝟎
∑

(−𝟏)𝒏−𝟏

𝒏𝟑
+
𝟐

𝟓
𝒏∈𝑵

∑
(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟑
𝒏∈𝑵𝟎

 

∫
𝒙(𝟏 + 𝐥𝐧(𝒙))𝟐

(𝟏 + 𝒙𝟐)(𝟐 + 𝒙)
𝒅𝒙

𝟏

𝟎

=
𝟒

𝟓
𝑳𝒊𝟑 (−

𝟏

𝟐
) −

𝟒

𝟓
𝑳𝒊𝟐 (−

𝟏

𝟐
) −

𝟐𝑮

𝟓
+
𝟐

𝟓
𝜷(𝟑) +

𝜼(𝟑)

𝟏𝟎
−
𝜼(𝟐)

𝟏𝟎
+
𝝅

𝟐𝟎
−
𝟐

𝟓
𝐥𝐧(𝟑) +

𝟑

𝟓
𝐥𝐧(𝟐) 

∫
𝒙(𝟏 + 𝐥𝐧(𝒙))𝟐

(𝟏 + 𝒙𝟐)(𝟐 + 𝒙)
𝒅𝒙

𝟏

𝟎

=
𝟒

𝟓
(𝑳𝒊𝟑 (−

𝟏

𝟐
) − 𝑳𝒊𝟐 (−

𝟏

𝟐
)) −

𝟐𝑮

𝟓
+
𝟑

𝟒𝟎
𝜻(𝟑) +

𝝅𝟑

𝟖𝟎
−
𝝅𝟐

𝟔𝟎
+
𝝅

𝟐𝟎
−
𝟐

𝟓
𝐥𝐧(𝟑) +

𝟑

𝟓
𝐥𝐧(𝟐) 

𝑵𝒐𝒕𝒆  𝒔𝒆𝒄𝒕𝒊𝒐𝒏 ∶  
𝜼(𝒔) = (𝟏 − 𝟐𝟏−𝒔). 𝜻(𝒔) 

𝜷(𝟑) =
𝝅𝟐

𝟑𝟐
 , 𝜻(𝟐) =  

𝝅𝟐

𝟔
 

 

Solution 2 by Cosghun Memmedov-Azerbaijan 
 

∫
𝒙(𝟏 + 𝐥𝐧(𝒙))𝟐

(𝟏 + 𝒙𝟐)(𝟐 + 𝒙)
𝒅𝒙

𝟏

𝟎

= ∫
𝒙

(𝟏 + 𝒙𝟐)(𝟐 + 𝒙)
𝒅𝒙 + 𝟐∫

𝒙𝒍𝒏(𝒙)

(𝟏 + 𝒙𝟐)(𝟐 + 𝒙)
𝒅𝒙 +∫

𝒙𝟐

(𝟏 + 𝒙𝟐)(𝟐 + 𝒙)
𝒅𝒙 =

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

= 𝑨 + 𝟐𝑩 + 𝑪 

𝑨 = ∫
𝒙

(𝟏 + 𝒙𝟐)(𝟐 + 𝒙)
𝒅𝒙 = ∫ (

𝟐𝒙

𝟓(𝟏 + 𝒙𝟐)
−

𝟏

𝟓(𝟏 + 𝒙𝟐)
−

𝟐

𝟓(𝒙 + 𝟐)
)𝒅𝒙 =

𝟏

𝟓
𝐥𝐧 (𝟏 + 𝒙𝟐)|

𝟏

𝟎
−

𝟏

𝟎

𝟏

𝟎

 

−
𝟐

𝟓
𝐥𝐧 (𝟐 + 𝒙)|

𝟏

𝟎
+
𝟏

𝟓
𝐚𝐫𝐜𝐭𝐚𝐧 (𝒙)|

𝟏

𝟎
=
𝟑

𝟓
𝐥𝐧(𝟐) +

𝝅

𝟐𝟎
−
𝟐

𝟓
𝐥𝐧(𝟑) =

𝝅

𝟐𝟎
+
𝟏

𝟓
𝐥𝐧(

𝟖

𝟗
) 

𝑩 = ∫
𝒙𝒍𝒏(𝒙)

(𝟏 + 𝒙𝟐)(𝟐 + 𝒙)
𝒅𝒙

𝟏

𝟎

=
𝟐

𝟓
∫

𝒙𝒍𝒏(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 +

𝟏

𝟓
∫

𝐥𝐧 (𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 −

𝟐

𝟓
∫

𝐥𝐧 (𝒙)

𝒙 + 𝟐
𝒅𝒙 =

𝟏

𝟓
(𝟐𝑩𝟏 + 𝑩𝟐 − 𝟐𝑩𝟑)

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎
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𝑩𝟏 = ∫
𝒙𝒍𝒏(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

=∑(−𝟏)𝒏∫ 𝒙𝟐𝒏+𝟏 𝐥𝐧(𝒙) 𝒅𝒙 = −∑
(−𝟏)𝒏

(𝟐𝒏 + 𝟐)𝟐
= −

𝟏

𝟒
∑
(−𝟏)𝒏−𝟏

𝒏𝟐
= −

𝟏

𝟒
𝜼(𝟐) = −

∞

𝒏=𝟏

∞

𝒏=𝟎

𝟏

𝟎

∞

𝒏=𝟎

𝝅𝟐

𝟒𝟖
 

𝑩𝟐 = −𝑮  , 𝑩𝟑

= ∫
𝐥𝐧 (𝒙)

𝒙 + 𝟐
𝒅𝒙 =

𝟏

𝟐
∑(−

𝟏

𝟐
)
𝒏

∫ 𝒙𝒏 𝐥𝐧(𝒙) 𝒅𝒙 = −
𝟏

𝟐
∑

(−
𝟏

𝟐
)
𝒏

(𝒏 + 𝟏)𝟐
= −

∞

𝒏=𝟎

𝟏

𝟎

∞

𝒏=𝟎

𝟏

𝟎

𝑳𝒊𝟐 (−
𝟏

𝟐
) 

𝑩 =
𝟏

𝟓
(𝟐𝑩𝟏 +𝑩𝟐 − 𝟐𝑩𝟑) =

𝟏

𝟓
{−
𝝅𝟐

𝟐𝟒
− 𝑮 − 𝟐𝑳𝒊𝟐 (−

𝟏

𝟐
)}   𝑪 = ∫

𝒙𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙𝟐)(𝟐 + 𝒙)
𝒅𝒙 =

𝟐

𝟓
∫
𝒙𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 +

𝟏

𝟎

𝟏

𝟎

 

+
𝟏

𝟓
∫

𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 −

𝟐

𝟓
∫

𝒍𝒏𝟐(𝒙)

𝒙 + 𝟐

𝟏

𝟎

𝟏

𝟎

𝒅𝒙 =
𝟏

𝟓
(𝟐𝑪𝟏 + 𝑪𝟐 − 𝟐𝑪𝟑)      𝑪𝟏 = ∫

𝒙𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 =

𝟏

𝟎

 

∑(−𝟏)𝒏∫ 𝒙𝟐𝒏+𝟏𝒍𝒏𝟐(𝒙)𝒅𝒙 = 𝟐
𝟏

𝟎

∞

𝒏=𝟏

∑
(−𝟏)𝒏

(𝟐𝒏 + 𝟐)𝟑
=

∞

𝒏=𝟎

𝟏

𝟒
∑
(−𝟏)𝒏−𝟏

𝒏𝟑
=
𝟏

𝟒
𝜼(𝟑) =

𝟑

𝟏𝟔
𝜻(𝟑)

∞

𝒏=𝟏

  , 

𝑪𝟐 = ∫
𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 =

𝟏

𝟎

∑(−𝟏)𝒏

∞

𝒏=𝟎

∫ 𝒙𝟐𝒏𝒍𝒏𝟐(𝒙)𝒅𝒙 = 𝟐
𝟏

𝟎

∑
(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟑
=

∞

𝒏=𝟏

𝝅𝟑

𝟏𝟔
 ,

𝑪𝟑 = ∫
𝒍𝒏𝟐(𝒙)

𝒙 + 𝟐
𝒅𝒙 =

𝟏

𝟐

𝟏

𝟎

∑(−
𝟏

𝟐
)
𝒏

∫ 𝒙𝒏𝒍𝒏𝟐(𝒙)𝒅𝒙 =

𝟏

𝟎

∞

𝒏=𝟎

 

∑
(−
𝟏
𝟐
)
𝒏

(𝒏 + 𝟏)𝟑
= −𝟐∑

(−
𝟏
𝟐
)
𝒏

𝒏𝟑
=

∞

𝒏=𝟏

∞

𝒏=𝟎

𝟐𝑳𝒊𝟑 (−
𝟏

𝟐
)  ,

𝟏
𝟓
(𝟐𝑪𝟏 +𝑪𝟐 −𝟐𝑪𝟑)=

𝟑
𝟒𝟎
𝜻(𝟑)+

𝝅𝟑

𝟖𝟎
+
𝟒

𝟓
𝑳𝒊𝟑 (−

𝟏

𝟐
) 

Ω = 𝑨+𝟐𝑩+𝑪 =
𝝅

𝟐𝟎
+
𝟏

𝟓
𝐥𝐧(

𝟖

𝟗
) +

𝟐

𝟓
{−
𝝅𝟐

𝟐𝟒
− 𝑮− 𝟐𝑳𝒊𝟐 (−

𝟏

𝟐
)} +

𝟑
𝟒𝟎
𝜻(𝟑)+

𝝅𝟑

𝟖𝟎
+
𝟒

𝟓
𝑳𝒊𝟑 (−

𝟏

𝟐
) 

∫
𝒙(𝟏 + 𝐥𝐧(𝒙))𝟐

(𝟏 + 𝒙𝟐)(𝟐 + 𝒙)
𝒅𝒙

𝟏

𝟎

=
𝟒

𝟓
(𝑳𝒊𝟑 (−

𝟏

𝟐
) − 𝑳𝒊𝟐 (−

𝟏

𝟐
)) −

𝟐𝑮

𝟓
+
𝟑

𝟒𝟎
𝜻(𝟑) +

𝝅𝟑

𝟖𝟎
−
𝝅𝟐

𝟔𝟎
+
𝝅

𝟐𝟎
−
𝟐

𝟓
𝐥𝐧(𝟑) +

𝟑

𝟓
𝐥𝐧(𝟐) 

 

2508. Find: 

∫
𝒙𝟐 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) 𝐥𝐧 (𝟏 + 𝒙𝟐)

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙

𝟏

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution 1 by Bui Hong Suc-Vietnam 

𝑵𝒐𝒕𝒆  𝒔𝒆𝒄𝒕𝒊𝒐𝒏 ∶  ∴ 𝐥𝐧(𝒄𝒐𝒔(𝒕)) = − 𝐥𝐧(𝟐) −∑
(−𝟏)𝒏

𝒏
𝐜𝐨𝐬(𝟐𝒏𝒕) , |𝒕| <

𝝅

𝟐

∞

𝒏=𝟏

 

𝑳𝒆𝒕 ∶  −𝟐Ω = −𝟐∫
𝒙𝟐 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) 𝐥𝐧(𝟏 + 𝒙𝟐)

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙 = ∫ 𝒙𝒂𝒓𝒄𝒕𝒂𝒏(𝒙)𝐥𝐧 (

𝟏

𝟎

𝟏

𝟎

𝟏

+ 𝒙𝟐)(
−𝟐𝒙

(𝟏 + 𝒙𝟐)𝟐
) = 

∫ 𝒙𝒂𝒓𝒄𝒕𝒂𝒏(𝒙)𝐥𝐧 (
𝟏

𝟎

𝟏 + 𝒙𝟐)𝒅 (
𝟏

𝟏 + 𝒙𝟐
) =⏞
𝑰.𝑩.𝑷 𝒙𝒂𝒓𝒄𝒕𝒂𝒏(𝒙)𝐥𝐧 (𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
|
𝟏

𝟎
− 
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∫
𝟏

𝟏 + 𝒙𝟐
(𝐚𝐫𝐜𝐭𝐚𝐧 (𝒙)

𝟏

𝟎

𝐥𝐧(𝟏 + 𝒙𝟐) +
𝒙𝒍𝒏(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
+ 𝟐

𝒙𝒂𝒓𝒄𝒕𝒂𝒏(𝒙)

𝟏 + 𝒙𝟐
)𝒅𝒙

=
𝝅

𝟖
𝐥𝐧(𝟐) − ∫

𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) 𝐥𝐧(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎⏟                  
𝑨

− 

∫
𝐱 𝐥𝐧(𝟏 + 𝒙𝟐)

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙

𝟏

𝟎⏟            
𝑩

− 𝟐∫
𝐱𝐚𝐫𝐜𝐭𝐚𝐧(𝐱)

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙

𝟏

𝟎⏟            
𝑪

=
𝝅

𝟖
𝐥𝐧(𝟐) − 𝑨 − 𝑩 − 𝟐𝑪 

𝒂) 𝑨 = ∫
𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) 𝐥𝐧(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎⏟                  
𝒙=𝐭𝐚𝐧 (𝒕)

= ∫ 𝒕𝒍𝒏(
𝟏

𝒄𝒐𝒔𝟐(𝒕)
) 𝒅𝒕 = −𝟐∫ 𝒕𝒍𝒏(𝐜𝐨𝐬 (𝒕))𝒅𝒕 =

𝝅
𝟒

𝟎

𝝅
𝟒

𝟎

 

𝟐∫ 𝒕(𝐥𝐧(𝟐) +∑
(−𝟏)𝒏

𝒏
𝐜𝐨𝐬(𝟐𝒏𝒕))

∞

𝒏=𝟏

𝒅𝒕

𝝅
𝟒

𝟎

= 𝐥𝐧(𝟐) 𝒕𝟐|

𝝅
𝟒
𝟎
+ 𝟐∑

(−𝟏)𝒏

𝒏

∞

𝒏=𝟏

∫ 𝒕𝒄𝒐𝒔(𝟐𝒏𝒕)𝒅𝒕 =⏞
𝑰.𝑩.𝑷𝝅𝟐

𝟏𝟔
𝐥𝐧(𝟐) +

𝝅
𝟒

𝟎

 

𝟐∑
(−𝟏)𝒏

𝒏

𝟐𝒏𝒕𝒔𝒊𝒏(𝟐𝒏𝒕) + 𝐜𝐨 𝐬(𝟐𝒏𝒕)

𝟒𝒏𝟐

∞

𝒏=𝟏

|

𝝅
𝟒
𝟎

 

=
𝝅𝟐

𝟏𝟔
𝐥𝐧(𝟐) +

𝟏

𝟐
∑
(−𝟏)𝒏

𝒏𝟑
(𝒏
𝝅

𝟐
𝐬𝐢𝐧 (𝒏

𝝅

𝟐
) + 𝐜𝐨𝐬 (𝒏

𝝅

𝟐
) − 𝟏) =

∞

𝒏=𝟏

 

=
𝝅𝟐

𝟏𝟔
𝐥𝐧(𝟐) +

𝝅

𝟒
∑
(−𝟏)𝒏

𝒏𝟐

∞

𝒏=𝟏

𝐬𝐢𝐧 (𝒏
𝝅

𝟐
) + 

+
𝟏

𝟐
∑
(−𝟏)𝒏

𝒏𝟑

∞

𝒏=𝟏

𝐜𝐨𝐬 (𝒏
𝝅

𝟐
) +

𝟏

𝟐
∑
(−𝟏)𝒏−𝟏

𝒏𝟑

∞

𝒏=𝟏

=
𝝅𝟐

𝟏𝟔
𝐥𝐧(𝟐) −

𝝅

𝟒
∑

(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟐
+

∞

𝒏=𝟎

 

𝟏

𝟐
∑
(−𝟏)𝒏

(𝟐𝒏)𝟑

∞

𝒏=𝟏

+
𝟏

𝟐
∑
(−𝟏)𝒏−𝟏

𝒏𝟑

∞

𝒏=𝟏

=
𝝅𝟐

𝟏𝟔
𝐥𝐧(𝟐) −

𝝅

𝟒
𝑮+

𝟕

𝟏𝟔
∑
(−𝟏)𝒏−𝟏

𝒏𝟑

∞

𝒏=𝟏

=
𝝅𝟐

𝟏𝟔
𝐥𝐧(𝟐) −

𝝅

𝟒
𝑮 +

𝟐𝟏

𝟔𝟒
𝜻(𝟑) 

 𝑩 = ∫
𝐱 𝐥𝐧(𝟏 + 𝒙𝟐)

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙

𝟏

𝟎

= −
𝟏

𝟐
∫ 𝐥𝐧(𝟏 + 𝒙𝟐)

−𝟐𝒙

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙

𝟏

𝟎

= −
𝟏

𝟐
∫ 𝐥𝐧(𝟏 + 𝒙𝟐)𝒅

𝟏

𝟏 + 𝒙𝟐
= −

𝟏

𝟐

𝐥𝐧 (𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
|

𝟏

𝟎

𝟏

𝟎
 

+
𝟏

𝟐
∫
𝒅(𝟏 + 𝒙𝟐)

(𝟏 + 𝒙𝟐)𝟐
= −

𝐥𝐧(𝟐)

𝟒
−
𝟏

𝟐

𝟏

𝟏 + 𝒙𝟐
|

𝟏

𝟎

𝟏

𝟎
= −

𝐥𝐧(𝟐)

𝟒
+
𝟏

𝟒
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 𝑪 = ∫
𝐱𝐚𝐫𝐜𝐭𝐚𝐧(𝐱)

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙

𝟏

𝟎⏟            
𝒙=𝐭𝐚 𝐧(𝒕)

= ∫
𝐭𝐚𝐧(𝒕) 𝒕(𝟏+ 𝒕𝒂𝒏𝟐(𝒕))

(𝟏 + 𝒕𝒂𝒏𝟐(𝒕))
𝟐 𝒅𝒕 =

𝟏

𝟐
∫ 𝒕𝒔𝒊𝒏(𝟐𝒕)𝒅𝒕

𝝅
𝟒

𝟎

𝝅
𝟒

𝟎

=⏞
𝑰.𝑩.𝑷𝟏

𝟐

𝐬𝐢𝐧(𝟐𝒕) − 𝟐𝒕𝒄𝒐𝒔(𝟐𝒕)

𝟒
|

𝝅
𝟒
𝟎

=
𝟏

𝟖
 

𝑻𝒉𝒆𝒏:−𝟐Ω =
𝝅

𝟖
𝐥𝐧(𝟐) − 𝑨 − 𝑩− 𝟐𝑪

=
𝝅

𝟖
𝐥𝐧(𝟐) − {

𝝅𝟐

𝟏𝟔
𝐥𝐧(𝟐) −

𝝅

𝟒
𝑮+

𝟐𝟏

𝟔𝟒
𝜻(𝟑)} − {−

𝐥𝐧(𝟐)

𝟒
+
𝟏

𝟒
} − 𝟐.

𝟏

𝟖
= 

𝝅

𝟒
𝑮 −

𝟐𝟏

𝟔𝟒
𝜻(𝟑) −

𝝅𝟐

𝟏𝟔
𝐥𝐧(𝟐) +

𝝅

𝟖
𝐥𝐧(𝟐) +

𝐥𝐧(𝟐)

𝟒
−
𝟏

𝟐
 

𝑻𝒉𝒆𝒓𝒆𝒇𝒐𝒓𝒆 ∶   Ω =
𝟐𝟏

𝟏𝟐𝟖
𝜻(𝟑) +

𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) −

𝝅

𝟏𝟔
𝐥𝐧(𝟐) −

𝝅

𝟖
𝑮−

𝐥𝐧(𝟐)

𝟖
+
𝟏

𝟒
 

 

Solution 2 by Exodo Halcalias-Angola 
 

Ω = ∫
𝒙𝟐 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) 𝐥𝐧 (𝟏 + 𝒙𝟐)

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙

𝟏

𝟎

  

𝑰 = ∫
𝐚𝐫𝐜𝐭𝐚𝐧 (𝒙)𝐥𝐧 (𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙 − ∫

𝐚𝐫𝐜𝐭𝐚𝐧 (𝒙)𝐥𝐧 (𝟏 + 𝒙𝟐)

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙

𝟏

𝟎

𝟏

𝟎

 

𝑵 = ∫
𝐚𝐫𝐜𝐭𝐚𝐧 (𝒙)𝐥𝐧 (𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

= −𝟐∫ 𝒙𝒍𝒏(𝒄𝒐𝒔𝒙)𝒅𝒙 = −𝟐∫ 𝒙(𝐥𝐧 (
𝟏

𝟐
) −∑

(−𝟏)𝒌

𝒌
𝐜𝐨𝐬 (𝟐𝒌𝒙))𝒅𝒙 =

𝒌∈𝑵

𝝅
𝟒

𝟎

𝝅
𝟒

𝟎

 

𝝅𝟐

𝟏𝟔
𝐥𝐧(𝟐) + 𝟐∑

(−𝟏)𝒌

𝒌
(
𝝅

𝟖𝒌
𝐬𝐢𝐧 (

𝝅𝒌

𝟐
) +

𝟏

𝟒𝒌𝟐
𝐜𝐨𝐬 (

𝝅𝒌

𝟐
) −

𝟏

𝟒𝒌𝟐
)𝒅𝒙 =

𝒌∈𝑵

𝝅𝟐

𝟏𝟔
𝐥𝐧(𝟐)

+
𝝅

𝟒
∑

(−𝟏)𝒌

(𝟐𝒌 − 𝟏)𝟐
+

𝒌∈𝑵

 

𝟏

𝟐
∑
(−𝟏)𝒌

(𝟐𝒌)𝟑
−
𝟏

𝟐
𝒌∈𝑵

∑
(−𝟏)𝒌

𝒌𝟑
=
𝝅𝟐

𝟏𝟔
𝐥𝐧(𝟐) −

𝝅

𝟒
𝑮 +

𝟐𝟏

𝟔𝟒
𝜻(𝟑)

𝒌∈𝑵

 

𝑴 = ∫
𝐚𝐫𝐜𝐭𝐚𝐧 (𝒙)𝐥𝐧 (𝟏 + 𝒙𝟐)

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙

𝟏

𝟎

= (𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) 𝐥𝐧 (𝟏 + 𝒙𝟐)∫𝒅(
𝒙

𝟐(𝟏 + 𝒙𝟐)
+
𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)

𝟐
))|
𝟏

𝟎
− 

𝟏

𝟐
∫
𝐥𝐧(𝟏 + 𝒙𝟐) + 𝟐𝒙𝒂𝒓𝒄𝒕𝒂𝒏(𝒙)

𝟏 + 𝒙𝟐
(

𝒙

𝟐(𝟏 + 𝒙𝟐)
+ 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙))𝒅𝒙 =

𝝅

𝟏𝟔
𝐥𝐧(𝟐) +

𝟏

𝟎

𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) − 

−
𝟏

𝟐
∫
𝒙𝒍𝒏(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 −
𝟏

𝟐
∫
𝒂𝒓𝒄𝒕𝒂𝒏(𝒙)𝐥𝐧 (𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙 − ∫

𝒙𝟐𝐚𝐫𝐜𝐭𝐚𝐧 (𝒙)

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙 −∫

𝒙𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 =

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎
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=
𝝅

𝟏𝟔
𝐥𝐧(𝟐) (𝟏 +

𝝅

𝟐
) −

𝟏

𝟒
∫
𝐥𝐧 (𝟏 + 𝒙)

(𝟏 + 𝒙)𝟐
𝒅𝒙 −

𝑵

𝟐
+
𝟏

𝟐
∫ 𝒙𝒅𝒙 +

𝟏

𝟐
∫ 𝒙𝒄𝒐𝒔(𝟐𝒙)𝒅𝒙 (𝒙𝟐∫𝒅𝒍𝒏(

𝟏

𝐜𝐨𝐬(𝒙)
))|

𝝅
𝟒
𝟎
+

𝝅
𝟒

𝟎

𝝅
𝟒

𝟎

𝟏

𝟎

 

𝟏

𝟐
∫ 𝒙𝒍𝒏𝒄𝒐𝒔(𝒙)𝒅𝒙  

𝝅
𝟒

𝟎

 𝑴

=
𝝅

𝟏𝟔
𝐥𝐧(𝟐) (𝟏 +

𝝅

𝟐
) −

𝟏

𝟒
(
𝟏

𝟐
−
𝐥𝐧(𝟐)

𝟐
) −

𝑵

𝟐
−
𝝅𝟐

𝟔𝟒
+
𝝅

𝟏𝟔
−
𝟏

𝟖
−
𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) + 𝑵 

𝑰 = 𝑵 −𝑴 

𝑰 = 𝑵 − (−
𝟏

𝟒
+
𝐥𝐧(𝟐)

𝟖
−
𝑵

𝟐
−
𝝅𝟐

𝟔𝟒
+
𝝅

𝟏𝟔
+
𝝅

𝟏𝟔
𝐥𝐧(𝟐) + 𝑵)

=
𝟏

𝟐
(
𝝅𝟐

𝟏𝟔
𝐥𝐧(𝟐) −

𝝅

𝟒
𝑮 +

𝟐𝟏

𝟔𝟒
𝜻(𝟑)) + 

𝝅𝟐

𝟔𝟒
−
𝝅

𝟏𝟔
−
𝝅

𝟏𝟔
𝐥𝐧(𝟐) +

𝟏

𝟒
−
𝒍𝒏(𝟐)

𝟖
 

∴ Ω =
𝟐𝟏

𝟏𝟐𝟖
𝜻(𝟑) +

𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) −

𝝅

𝟏𝟔
𝐥𝐧(𝟐) −

𝝅

𝟖
𝑮 −

𝐥𝐧(𝟐)

𝟖
+
𝟏

𝟒
 

 

Solution 3 by Ankush Kumar Parcha-India 
 

Ω = ∫
𝒙𝟐 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) 𝐥𝐧 (𝟏 + 𝒙𝟐)

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙

𝟏

𝟎

 

𝑾𝒆  𝒉𝒂𝒗𝒆 , ∫
𝒙𝟐 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) 𝐥𝐧 (𝟏 + 𝒙𝟐)

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙 =⏞

𝑰.𝑩.𝑷𝟏

𝟎

− (
𝒙𝒂𝒓𝒄𝒕𝒂𝒏(𝒙)

𝟐
∫𝒅(

𝟏 + 𝐥𝐧(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
))
𝟏

𝟎
+ 

𝟏

𝟐
∫ (
𝟏

𝟎

𝟏 + 𝐥𝐧(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
) (

𝒙

𝟏 + 𝒙𝟐
+ 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙))𝒅𝒙 

= −
𝝅

𝟏𝟔
𝐥𝐧(𝟐) −

𝝅

𝟏𝟔

+
𝟏

𝟐
∫

𝒙

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙 +

𝟏

𝟎

𝟏

𝟐
∫
𝒙𝒍𝒏(𝟏 + 𝒙𝟐)

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙

𝟏

𝟎

+
𝟏

𝟐
∫
𝒂𝒓𝒄𝒕𝒂𝒏(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 +∫

𝐥𝐧(𝟏 + 𝒙𝟐) 𝐚𝐫𝐜𝐭𝐚𝐧 (𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎⏟                  
𝒙→𝐭𝐚𝐧 (𝒙)

𝟏

𝟎

= −
𝝅

𝟏𝟔
𝐥𝐧(𝟐) −

𝝅

𝟏𝟔
− 

−
𝟏

𝟒
∫ 𝒅(

𝟏

𝟏 + 𝒙𝟐
) −

𝟏

𝟒

𝟏

𝟎

∫ 𝒅(
𝟏 + 𝐥𝐧(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
) + ∫

𝒅𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙)

𝟒
−∫ 𝒙𝒍𝒏𝒄𝒐𝒔(𝒙)𝒅𝒙

𝝅
𝟒

𝟎

𝟏

𝟎

𝟏

𝟎

 

(∴ ∑
(−𝟏)𝒏 𝐜𝐨𝐬(𝟐𝒏𝒙)

𝒏
= 𝐥𝐧(

𝒔𝒆𝒄|𝒙|

𝟐
)  ,   |𝒙| <

𝒏∈𝑵

𝝅

𝟐
) 
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∫
𝒙𝟐 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) 𝐥𝐧 (𝟏 + 𝒙𝟐)

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙

𝟏

𝟎

=
𝝅𝟐

𝟔𝟒
−
𝝅

𝟏𝟔
−
𝝅

𝟏𝟔
𝐥𝐧(𝟐) +

𝟏

𝟒
+ 𝐥 𝐧(𝟐)∫ 𝒙𝒅𝒙 +∑

(−𝟏)𝒏

𝒏𝟐
𝒏∈𝑵

∫ 𝒙𝒄𝒐𝒔(𝟐𝒏𝒙)

𝝅
𝟒

𝟎⏟        
𝑰.𝑩.𝑷

𝝅
𝟒

𝟎

= 

=
𝝅𝟐

𝟔𝟒
−
𝝅

𝟏𝟔
−
𝝅

𝟏𝟔
𝐥𝐧(𝟐) −

𝐥𝐧(𝟐)

𝟖
+
𝟏

𝟒
+ 

+
𝐥𝐧 (𝟐)

𝟐
∫ 𝒅(𝒙𝟐) +

𝝅
𝟒

𝟎

∑
(−𝟏)𝒏

𝒏
[(
𝒙

𝟐𝒏
∫𝒅𝒔𝒊𝒏(𝟐𝒏𝒙))

𝝅
𝟒
𝟎
−
𝟏

𝟐𝒏
∫ 𝐬𝐢𝐧(𝟐𝒏𝒙)𝒅𝒙

𝝅
𝟒

𝟎

]

𝒏∈𝑵

 

=
𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) +

𝝅𝟐

𝟔𝟒
−
𝝅

𝟏𝟔
−
𝝅

𝟏𝟔
𝐥𝐧(𝟐) −

𝐥𝐧(𝟐)

𝟖
+
𝟏

𝟒
+
𝝅

𝟖
∑

(−𝟏)𝒏

𝒏𝟐
𝒏∈𝑵

𝐬𝐢𝐧(
𝒏𝝅

𝟐
)

⏟            
𝒏→𝟐𝒏+𝟏

+
𝟏

𝟒
∑
(−𝟏)𝒏

𝒏𝟑
𝒏∈𝑵

∫ 𝒅𝒄𝒐𝒔(𝟐𝒏𝒙) =

𝝅
𝟒

𝟎

 

=
𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) +

𝝅𝟐

𝟔𝟒
−
𝝅

𝟏𝟔
−
𝝅

𝟏𝟔
𝐥𝐧(𝟐) −

𝐥𝐧(𝟐)

𝟖
+
𝟏

𝟒
− 

−
𝝅

𝟖
∑

𝟏

(𝟐𝒏 + 𝟏)𝟐
𝐬𝐢𝐧 (𝒏𝝅 +

𝒏∈𝑵𝟎

𝝅

𝟐
) +

𝟏

𝟒
∑
(−𝟏)𝒏

𝒏𝟑
𝐜𝐨𝐬 (

𝒏𝝅

𝟐
)

𝒏∈𝑵⏟            
𝒏→𝟐𝒏

−
𝟏

𝟒
∑
(−𝟏)𝒏

𝒏𝟑
𝒏∈𝑵

−>⏟
∴𝒔𝒊𝒏(𝒏𝝅)=𝟎,   ⩝𝒏∈𝒁

⏞          

∴𝐜𝐨𝐬(𝒏𝝅)=(−𝟏)𝒏 ,⩝𝒏∈𝒁

 

∫
𝒙𝟐 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) 𝐥𝐧 (𝟏 + 𝒙𝟐)

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙 =

𝟏

𝟎

𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) +

𝝅𝟐

𝟔𝟒
−
𝝅

𝟏𝟔
−
𝝅

𝟏𝟔
𝐥𝐧(𝟐) −

𝐥𝐧(𝟐)

𝟖
+
𝟏

𝟒
−
𝝅

𝟖
∑

(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟐
𝒏∈𝑵𝟎⏟          

=𝑮(𝑪𝒂𝒕𝒂𝒍𝒂𝒏′𝒔 𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕)

+ 

+
𝟏

𝟑𝟐
∑
(−𝟏)𝒏

𝒏𝟑
−
𝟏

𝟒
∑
(−𝟏)𝒏

𝒏𝟑
= −

𝝅

𝟖
𝑮+

𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) +

𝝅𝟐

𝟔𝟒
−
𝝅

𝟏𝟔
−
𝝅

𝟏𝟔
𝐥𝐧(𝟐) −

𝐥𝐧(𝟐)

𝟖
+
𝟏

𝟒
+
𝟕

𝟑𝟐
𝜼(𝟑)

𝒏∈𝑵𝒏∈𝑵

 

∴ Ω =
𝟐𝟏

𝟏𝟐𝟖
𝜻(𝟑) +

𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) −

𝝅

𝟏𝟔
𝐥𝐧(𝟐) −

𝝅

𝟖
𝑮−

𝐥𝐧(𝟐)

𝟖
+
𝟏

𝟒
 

 

2509. Prove that: 
 

∫
𝒙. 𝐚𝐫𝐜𝐜𝐨𝐬 (𝒙)

√𝟐 − 𝟐𝒙𝟒
𝒅𝒙 =

𝝅

𝟖√𝟐
𝟒𝑭𝟑 (

𝟏

𝟐
,
𝟏

𝟐
,
𝟑

𝟒
,
𝟓

𝟒
; 𝟏,
𝟑

𝟐
,
𝟑

𝟐
; 𝟏)

𝟏

𝟎

 

 
Proposed by Shirvan Tahirov-Azerbaijan 

Solution by Quadri Faruk Temitope-Nigeria 
 

𝑰 = ∫
𝒙. 𝐚𝐫𝐜𝐜𝐨𝐬 (𝒙)

√𝟐 − 𝟐𝒙𝟒
𝒅𝒙 =

𝟏

𝟎

∫
𝒙. 𝐚𝐫𝐜𝐜𝐨𝐬(𝒙)

√𝟐(𝟏 − 𝒙𝟒)
𝒅𝒙 =

𝟏

√𝟐

𝟏

𝟎

∫
𝒙. 𝐚𝐫𝐜𝐜𝐨𝐬(𝒙)

√(𝟏 − 𝒙𝟒)
𝒅𝒙

𝟏

𝟎

 

𝒖 = 𝐚𝐫𝐜𝐜𝐨𝐬(𝒙)   ;    
𝒅𝒖

𝒅𝒙
= −

𝟏

√(𝟏 − 𝒙𝟐)
 

𝒅𝒗 =
𝒙

√(𝟏 − 𝒙𝟒)
  ;   𝒗 =

𝟏

𝟐
𝐚𝐫𝐜𝐬𝐢𝐧(𝒙𝟐) 
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𝑰 =
𝟏

√𝟐
[
𝟏

𝟐
𝐚𝐫𝐜𝐜𝐨𝐬(𝒙) . 𝐚𝐫𝐜𝐬𝐢𝐧(𝒙𝟐)|

𝟎

𝟏

+
𝟏

𝟐
∫
𝐚𝐫𝐜𝐬𝐢𝐧(𝒙𝟐)

√(𝟏 − 𝒙𝟐)
𝒅𝒙

𝟏

𝟎

] =
𝟏

𝟐√𝟐
∫
𝐚𝐫𝐜𝐬𝐢𝐧(𝒙𝟐)

√(𝟏 − 𝒙𝟐)
𝒅𝒙 =

𝟏

𝟎

 

=⏟

𝒅𝒙=
𝒅𝒚

𝟐√𝒚

⏞    

𝒙𝟐=𝒚 ,   𝒙=√𝒚 𝟏

𝟐√𝟐
∫
𝐚𝐫𝐜𝐬𝐢𝐧(𝒚)

√(𝟏 − 𝒚)

𝒅𝒚

𝟐√𝒚
=

𝟏

𝟎

𝟏

𝟒√𝟐
∫

𝐚𝐫𝐜𝐬𝐢𝐧(𝒚)

√𝒚√(𝟏 − 𝒚)
𝒅𝒚 =

𝟏

𝟎

 

=
𝟏

𝟒√𝟐
∑

(𝟐𝒏!)

(𝟐𝒏𝒏!)(𝟐𝒏 + 𝟏)
∫

𝒚𝟐𝒏+𝟏

√𝒚√(𝟏 − 𝒚)

𝟏

𝟎

∞

𝒏=𝟎

𝒅𝒚 = 

=
𝟏

𝟒√𝟐
∑

(𝟐𝒏!)

(𝟐𝒏𝒏!)(𝟐𝒏 + 𝟏)
∫ 𝒚𝟐𝒏+𝟏. (𝟏 − 𝒚)−

𝟏
𝟐𝒅𝒚 =

𝟏

𝟎

∞

𝒏=𝟎

 

𝟏

𝟒√𝟐
∑

(𝟐𝒏!)

(𝟐𝒏𝒏!)(𝟐𝒏 + 𝟏)
∫ 𝒚

𝟏

𝟐𝒏+
𝟑
𝟐. (𝟏 − 𝒚)−

𝟏
𝟐
−𝟏𝒅𝒚

𝟏

𝟎

∞

𝒏=𝟎

=
𝟏

𝟒√𝟐
∑

(𝟐𝒏!)

(𝟐𝒏𝒏!)(𝟐𝒏 + 𝟏)
𝜷(𝟐𝒏 +

𝟑

𝟐
,
𝟏

𝟐
) =

∞

𝒏=𝟎

 

𝟏

𝟒√𝟐
∑

(𝟐𝒏!)

(𝟐𝒏𝒏!)(𝟐𝒏 + 𝟏)

𝜞 (𝟐𝒏 +
𝟑
𝟐)𝜞 (

𝟏
𝟐)

𝜞 (𝟐𝒏 +
𝟑
𝟐 +

𝟏
𝟐)

∞

𝒏=𝟎

=
√𝝅

𝟒√𝟐
∑

(𝟐𝒏!)

(𝟐𝒏𝒏!)(𝟐𝒏 + 𝟏)

𝜞 (𝟐𝒏 +
𝟑
𝟐)

𝜞(𝟐𝒏 + 𝟐)
=

∞

𝒏=𝟎

 

√𝝅

𝟒√𝟐
∑

(𝟐𝒏!)

(𝟐𝒏𝒏!)(𝟐𝒏 + 𝟏)

𝜞 (𝟐𝒏 +
𝟑
𝟐)

𝜞(𝟐𝒏+ 𝟐)
=

∞

𝒏=𝟎

√𝝅

𝟒√𝟐
∑

(
𝟏
𝟐)𝒏

 

(𝒏!)(𝟐𝒏+ 𝟏)

𝜞 (𝟐𝒏 +
𝟑
𝟐)

𝜞(𝟐𝒏 + 𝟐)
=

∞

𝒏=𝟎

 

=
√𝝅

𝟒√𝟐
∑

(
𝟏
𝟐)𝒏

 

𝟐 (𝒏 +
𝟏
𝟐)𝒏!

𝜞 (𝟐𝒏 +
𝟑
𝟐)

𝜞(𝟐𝒏 + 𝟐)

∞

𝒏=𝟎

 

𝑻𝒉𝒊𝒔 ∶ 

√𝝅

𝟖√𝟐
∑

(
𝟏
𝟐)𝒏

 

𝟐 (𝒏 +
𝟏
𝟐)𝒏!

.
𝟒(𝒏 + 𝟏) (𝟐𝒏 +

𝟑
𝟐)𝒏!

𝟒 (𝒏 +
𝟑
𝟒)
(𝟐(𝒏 + 𝟏))! 

∞

𝒏=𝟏

=
√𝝅

𝟖√𝟐
∑
𝜞(𝒏+

𝟏
𝟐
)𝜞 (𝒏 +

𝟏
𝟐
)𝜞 (𝒏 +

𝟑
𝟒
) (𝒏 + 𝟏)𝜞 (𝒏 +

𝟓
𝟒
)

𝒏! 𝜞 (𝒏 +
𝟑
𝟐)𝜞 (𝒏 +

𝟑
𝟐)
(𝒏 + 𝟏) 

=

∞

𝒏=𝟎

 

=
√𝝅

𝟖√𝟐
∑
(
𝟏
𝟐)𝒏

(
𝟏
𝟐)𝒏

(
𝟑
𝟒)𝒏

(
𝟓
𝟒)𝒏

(𝟏)𝒏

𝒏! (
𝟑
𝟐)𝒏

(
𝟑
𝟐)𝒏

(𝟏)𝒏

=

∞

𝒏=𝟎

√𝝅

𝟖√𝟐
𝟒𝑭𝟑 [

𝟏

𝟐
,
𝟏

𝟐
,
𝟑

𝟒
,
𝟓

𝟒
; 𝟏,
𝟑

𝟐
,
𝟑

𝟐
; 𝟏] 
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2510. 
𝒇, 𝒈 ∶ 𝑹 → 𝑹 , 𝒇(𝟏) = 𝟑,𝒈(𝟏) = 𝟐 , 𝒙𝒇(𝒚) + 𝒚𝒇(𝒙) = 𝟐𝒇(𝒙𝒚) 

𝒙𝒈(𝒚) + 𝒚𝒈(𝒙) = 𝟐𝒈(𝒙𝒚) ,⩝ 𝒙, 𝒚 ∈ 𝑹 
𝐅𝐢𝐧𝐝 ∶  

Ω = ∫
𝒇 (
𝐬𝐢𝐧𝐡(𝒙)
𝟑

)

𝒇 (
𝐬𝐢𝐧𝐡(𝒙)
𝟑

) + 𝒇(
𝐜𝐨𝐬𝐡(𝒙)
𝟐

)
𝒅𝒙

𝟏

𝟎

 

 
Proposed by Daniel Sitaru-Romania 

Solution by Shirvan Tahirov-Azerbaijan 
 

𝒙𝒇(𝒚) + 𝒚𝒇(𝒙) = 𝟐𝒇(𝒙𝒚) ⟹  𝒙𝒇(𝟏) + 𝒇(𝒙) = 𝟐𝒇(𝒙) ⟹ 𝒇(𝒙) = 𝒙𝒇(𝟏) = 𝟑𝒙 
𝒙𝒈(𝒚) + 𝒚𝒈(𝒙) = 𝟐𝒈(𝒙𝒚) ⟹ 𝒙𝒈(𝟏) + 𝟐𝒈(𝒙) = 𝟐𝒈(𝒙) ⟹ 𝒈(𝒙) = 𝒙𝒈(𝟏) = 𝟐𝒙 

𝒇 (
𝐬𝐢𝐧𝐡(𝒙)

𝟑
) = 𝐬𝐢𝐧𝐡(𝒙)  , 𝒇 (

𝐜𝐨𝐬𝐡(𝒙)

𝟐
) = 𝐜𝐨𝐬𝐡(𝒙) 

∫
𝒇 (
𝐬𝐢𝐧𝐡(𝒙)
𝟑 )

𝒇 (
𝐬𝐢𝐧𝐡(𝒙)
𝟑 ) + 𝒇 (

𝐜𝐨𝐬𝐡(𝒙)
𝟐 )

𝒅𝒙
𝟏

𝟎

= ∫
𝐬𝐢𝐧𝐡(𝒙)

𝐬𝐢𝐧𝐡(𝒙) + 𝐜𝐨𝐬𝐡(𝒙)
𝒅𝒙 = ∫

𝒆𝒙 − 𝒆−𝒙

𝟐
𝒆𝒙 − 𝒆−𝒙

𝟐 +
𝒆𝒙 + 𝒆−𝒙

𝟐

𝒅𝒙 =
𝟏

𝟎

𝟏

𝟎

 

∫

𝒆𝒙 − 𝒆−𝒙

𝟐
𝒆𝒙 − 𝒆−𝒙 + 𝒆𝒙 + 𝒆−𝒙

𝟐

𝒅𝒙
𝟏

𝟎

= ∫

𝒆𝒙 − 𝒆−𝒙

𝟐
𝟐𝒆𝒙

𝟐

𝒅𝒙 = ∫
𝒆𝒙 − 𝒆−𝒙

𝟐𝒆𝒙
𝒅𝒙 = (

𝟏

𝟒𝒆𝟐
+
𝟏

𝟐
−
𝟏

𝟒
) = (

𝟏

𝟒𝒆𝟐
+
𝟏

𝟒
)

𝟏

𝟎

𝟏

𝟎

 

 
2511. Find a closed form: 

 

∫
𝒆−𝒙(𝟏 − 𝐜𝐨𝐬(𝟑𝒙))

𝒙𝟐

∞

𝟎

𝒅𝒙 

Proposed by Cosghun Memmedov-Azerbaijan 
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Solution by Alireza Askari-Iran 
 

𝑳𝒆𝒕  𝒇(𝒕) = ∫
𝒆−𝒙(𝟏 − 𝐜𝐨𝐬(𝒕𝒙)

𝒙𝟐

∞

𝟎

𝒅𝒙 →  
𝒅

𝒅𝒕
𝒇(𝒕) =

𝒅

𝒅𝒕
( ∫

𝒆−𝒙(𝟏 − 𝐜𝐨𝐬(𝒕𝒙)

𝒙𝟐

∞

𝟎

𝒅𝒙) 

𝒅

𝒅𝒕
𝒇(𝒕) = ∫

𝝏

𝝏𝒕

𝒆−𝒙(𝟏 − 𝐜𝐨𝐬(𝒕𝒙)

𝒙𝟐

∞

𝟎

𝒅𝒙 = ∫
𝒆−𝒙

𝒙𝟐
(𝒙 𝐬𝐢𝐧(𝒕𝒙))

∞

𝟎

𝒅𝒙 = ∫
𝒆−𝒙

𝒙
𝐬𝐢𝐧(𝒕𝒙)

∞

𝟎

𝒅𝒙 

𝒅𝟐

𝒅𝒕𝟐
𝒇(𝒕) = ∫ 𝒆−𝒙 𝐜𝐨𝐬(𝒕𝒙)𝒅𝒙

∞

𝟎

= 𝓡𝒆 {∫ 𝒆−𝒙+𝒊𝒕𝒙

∞

𝟎

𝒅𝒙} = 𝓡𝒆 {
𝒆𝒙(−𝟏+𝒊𝒕)

𝟏 − 𝒊𝒕
]
∞

𝟎
} = 𝓡𝒆 {

𝟏

𝟏 − 𝒊𝒕
} 

𝒅𝟐

𝒅𝒕𝟐
𝒇(𝒕) = 𝓡𝒆 {

𝟏 + 𝒊𝒕

𝟏 + 𝒕𝟐
} =

𝟏

𝟏 + 𝒕𝟐
→ 
𝒅

𝒅𝒕
𝒇(𝒕) = 𝐭𝐚𝐧−𝟏(𝒕) + 𝑪

𝒕=𝟎
→  

𝒅

𝒅𝒕
𝒇(𝟎)

= 𝐭𝐚𝐧−𝟏(𝟎) + 𝑪𝟏  
 

∫
𝒆−𝒙

𝒙
𝐬𝐢𝐧(𝟎 × 𝒙)

∞

𝟎

𝒅𝒙 = 𝟎 = 𝟎 + 𝑪𝟏 → 𝑪𝟏 = 𝟎 →
𝒅

𝒅𝒕
𝒇(𝒕) = 𝐭𝐚𝐧−𝟏(𝒕) 

𝒇(𝒕) = ∫𝐭𝐚𝐧−𝟏(𝒕)𝒅𝒕 =⏟
𝑰𝑩𝑷

𝒕 𝐭𝐚𝐧−𝟏(𝒕) −
𝟏

𝟐
𝐥𝐧(𝒕𝟐 + 𝟏) + 𝑪𝟐

𝒕=𝟎
→   𝑪𝟐 = 𝟎  

∫
𝒆−𝒙(𝟏 − 𝐜𝐨𝐬(𝒕𝒙)

𝒙𝟐

∞

𝟎

𝒅𝒙 = 𝒕 𝐭𝐚𝐧−𝟏(𝒕) −
𝟏

𝟐
𝐥𝐧(𝒕𝟐 + 𝟏)

𝒕=𝟑
→   

𝐀𝐍𝐒𝐖𝐄𝐑 = 𝟑 𝐭𝐚𝐧−𝟏(𝟑) −
𝟏

𝟐
𝐥𝐧 (𝟏𝟎)  

2512. Prove the below closed form 

𝛀 = ∫∫
𝐥𝐨𝐠(𝟏 − 𝐱𝟒𝐲𝟒)

𝐱𝐲

𝟏

𝟎

𝟏

𝟎

𝐝𝐱𝐝𝐲 = −
𝛇(𝟑)

𝟏𝟔
 

where 𝛇(𝟑) is the Apery’s constant. 
 

Proposed by Ankush Kuma Parcha-India 
Solution by Togrul Ehmedov-Azerbaijan 

 
We know that:  

∫∫𝐟(𝐱𝐲)

𝟏

𝟎

𝟏

𝟎

𝐝𝐱𝐝𝐲 = −∫ 𝐥𝐨𝐠(𝐱) 𝐟(𝐱)

𝟏

𝟎

𝐝𝐱 

Then we can write:  
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𝛀 = ∫∫
𝐥𝐨𝐠(𝟏 − 𝐱𝟒𝐲𝟒)

𝐱𝐲

𝟏

𝟎

𝟏

𝟎

𝐝𝐱𝐝𝐲 = −∫
𝐥𝐨𝐠(𝐱) 𝐥𝐨𝐠(𝟏 − 𝐱𝟒)

𝐱

𝟏

𝟎

𝐝𝐱]

𝐱𝟒→𝐱

= 

= −
𝟏

𝟏𝟔
∫
𝐥𝐨𝐠(𝐱) 𝐥𝐨𝐠(𝟏 − 𝐱)

𝐱

𝟏

𝟎

𝐝𝐱 = −
𝟏

𝟏𝟔
∫
𝐥𝐨𝐠(𝐱)

𝐱
(−∑

𝐱𝐤

𝐤

∞

𝐤=𝟏

)

𝟏

𝟎

𝐝𝐱 = 

=
𝟏

𝟏𝟔
∑
𝟏

𝐤

∞

𝐤=𝟏

∫𝐱𝐤−𝟏 𝐥𝐨𝐠(𝐱)

𝟏

𝟎

𝐝𝐱 = −
𝟏

𝟏𝟔
∑

𝟏

𝐤𝟑

∞

𝐤=𝟏

= −
𝛇(𝟑)

𝟏𝟔
 

 
2513. Prove the below closed form 

𝛀 = ∫∫ 𝐭𝐚𝐧−𝟏 (
𝟏 − 𝐱𝐲

𝟏 + 𝐱𝐲
) 𝐜𝐨𝐭−𝟏 (

𝟏 − 𝐱𝐲

𝟏 + 𝐱𝐲
)

𝟏

𝟎

𝟏

𝟎

𝐝𝐱𝐝𝐲

𝐥𝐨𝐠(𝐱𝐲)
= −𝐆 +

𝛑

𝟒
𝐥𝐨𝐠(𝟐) 

where 𝐆 is the Catalan’s constant. 
 

Proposed by Ankush Kumar Parcha-India 
Solution by Togrul Ehmedov-Azerbaijan 

 
We know that:  

∫∫𝐟(𝐱𝐲)

𝟏

𝟎

𝟏

𝟎

𝐝𝐱𝐝𝐲 = −∫ 𝐥𝐨𝐠(𝐱) 𝐟(𝐱)

𝟏

𝟎

𝐝𝐱 

Then we can write  
 

𝛀 = ∫ ∫ 𝐭𝐚𝐧−𝟏 (
𝟏−𝐱𝐲

𝟏+𝐱𝐲
) 𝐜𝐨𝐭−𝟏 (

𝟏−𝐱𝐲

𝟏+𝐱𝐲
)

𝟏

𝟎

𝟏

𝟎

𝐝𝐱𝐝𝐲

𝐥𝐨𝐠(𝐱𝐲)
= −∫ 𝐭𝐚𝐧−𝟏 (

𝟏−𝐱

𝟏+𝐱
) 𝐜𝐨𝐭−𝟏 (

𝟏−𝐱

𝟏+𝐱
)

𝟏

𝟎
𝐝𝐱 =

−∫ 𝐭𝐚𝐧−𝟏 (
𝟏−𝐱

𝟏+𝐱
) (

𝛑

𝟐
− 𝐭𝐚𝐧−𝟏 (

𝟏−𝐱

𝟏+𝐱
))

𝟏

𝟎
𝐝𝐱 = −∫ (

𝛑

𝟒
− 𝐭𝐚𝐧−𝟏(𝐱)) (

𝛑

𝟒
+ 𝐭𝐚𝐧−𝟏(𝐱))

𝟏

𝟎
𝐝𝐱 =

−∫ (
𝛑𝟐

𝟏𝟔
− 𝐚𝐫𝐜𝐭𝐚𝐧𝟐(𝐱))

𝟏

𝟎
𝐝𝐱 = −

𝛑𝟐

𝟏𝟔
+ ∫ 𝐚𝐫𝐜𝐭𝐚𝐧𝟐(𝐱)

𝟏

𝟎
𝐝𝐱 = −

𝛑𝟐

𝟏𝟔
+ (

𝛑𝟐

𝟏𝟔
+
𝛑

𝟒
𝐥𝐨𝐠(𝟐) − 𝐆) =

𝛑

𝟒
𝐥𝐨𝐠(𝟐) − 𝐆. 

𝐍𝐨𝐭𝐞:∫ 𝐚𝐫𝐜𝐭𝐚𝐧𝟐(𝐱)

𝟏

𝟎

𝐝𝐱 =
𝛑𝟐

𝟏𝟔
+
𝛑

𝟒
𝐥𝐨𝐠(𝟐) − 𝐆 

2514. Find: 

Ω = ∫
𝒄𝒐𝒔𝟑(𝒙) + 𝒄𝒐𝒔𝟓(𝒙)

𝒔𝒊𝒏𝟐(𝒙) + 𝒔𝒊𝒏𝟒(𝒙)
𝒅𝒙

𝝅
𝟐

𝝅
𝟔

 

Proposed by Nguyen Hung Cuong-Vietnam 
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Solution by Mirsadix Muzefferov-Azerbaijan 
𝒄𝒐𝒔𝟑(𝒙) + 𝒄𝒐𝒔𝟓(𝒙)

𝒔𝒊𝒏𝟐(𝒙) + 𝒔𝒊𝒏𝟒(𝒙)
= 𝐜𝐨𝐬(𝒙) .

𝒄𝒐𝒔𝟐(𝒙) + 𝒄𝒐𝒔𝟒(𝒙)

𝒔𝒊𝒏𝟐(𝒙) + 𝒔𝒊𝒏𝟒(𝒙)

= 𝐜𝐨𝐬(𝒙) .
𝟏 − 𝒔𝒊𝒏𝟐(𝒙) + (𝟏 − 𝒔𝒊𝒏𝟐(𝒙))𝟐

𝒔𝒊𝒏𝟐(𝒙) + 𝒔𝒊𝒏𝟒(𝒙)
= 

𝐜𝐨𝐬(𝒙) .
𝒔𝒊𝒏𝟒(𝒙) − 𝟑𝒔𝒊𝒏𝟐(𝒙) + 𝟐

𝒔𝒊𝒏𝟐(𝒙) + 𝒔𝒊𝒏𝟒(𝒙)
= 𝐜𝐨𝐬(𝒙) . (𝟏 −

𝟒𝒔𝒊𝒏𝟐(𝒙) − 𝟐

𝒔𝒊𝒏𝟐(𝒙) + 𝒔𝒊𝒏𝟒(𝒙)
) = 

𝐜𝐨𝐬(𝒙) . (𝟏 −
𝟒𝒔𝒊𝒏𝟐(𝒙) − 𝟐

𝒔𝒊𝒏𝟐(𝒙)(𝟏 + 𝒔𝒊𝒏𝟐(𝒙))
) = 𝐜𝐨𝐬(𝒙) . (𝟏 − 𝑨) 

𝑨 =
𝟒𝒔𝒊𝒏𝟐(𝒙) − 𝟐

𝒔𝒊𝒏𝟐(𝒙)(𝟏 + 𝒔𝒊𝒏𝟐(𝒙))
= −

𝟐

𝒔𝒊𝒏𝟐(𝒙)
+

𝟔

𝟏 + 𝒔𝒊𝒏𝟐(𝒙)
𝐜𝐨𝐬(𝒙) . (𝟏 − 𝑨)

→  𝐜𝐨𝐬(𝒙) . (𝟏 +
𝟐

𝒔𝒊𝒏𝟐(𝒙)
−

𝟔

𝟏 + 𝒔𝒊𝒏𝟐(𝒙)
)

= 𝐜𝐨𝐬(𝒙) +
𝟐𝐜𝐨𝐬(𝒙)

𝒔𝒊𝒏𝟐(𝒙)
−

𝟔 𝐜𝐨𝐬(𝒙)

𝟏 + 𝒔𝒊𝒏𝟐(𝒙)
= 

Ω = ∫
𝒄𝒐𝒔𝟑(𝒙) + 𝒄𝒐𝒔𝟓(𝒙)

𝒔𝒊𝒏𝟐(𝒙) + 𝒔𝒊𝒏𝟒(𝒙)
𝒅𝒙

𝝅
𝟐

𝝅
𝟔

= ∫ (𝐜𝐨𝐬(𝒙) +
𝟐𝐜𝐨𝐬(𝒙)

𝒔𝒊𝒏𝟐(𝒙)
−

𝟔 𝐜𝐨𝐬(𝒙)

𝟏 + 𝒔𝒊𝒏𝟐(𝒙)
)𝒅𝒙 =

𝝅
𝟐

𝝅
𝟔

 

∫ 𝐜𝐨𝐬(𝒙)𝒅𝒙 +

𝝅
𝟐

𝝅
𝟔

𝟐∫
𝐜𝐨𝐬(𝒙)

𝒔𝒊𝒏𝟐(𝒙)

𝝅
𝟐

𝝅
𝟔

𝒅𝒙

− 𝟔∫
𝐜𝐨𝐬(𝒙)

𝟏 + 𝒔𝒊𝒏𝟐(𝒙)
𝒅𝒙

𝝅
𝟐

𝝅
𝟔

= 𝐬𝐢𝐧 (𝒙)|

𝝅
𝟐
𝝅
𝟔

+ 𝟐∫
𝐝(𝐬𝐢𝐧(𝒙)) 

𝒔𝒊𝒏𝟐(𝒙)
− 𝟔∫

𝒅(𝐬𝐢𝐧(𝒙)) 

𝟏 + 𝒔𝒊𝒏𝟐(𝒙)

𝝅
𝟐

𝝅
𝟔

=

𝝅
𝟐

𝝅
𝟔

 

𝐬𝐢 𝐧(𝒙)|

𝝅
𝟐
𝝅
𝟔

− 𝟐(
𝟏

𝐬𝐢𝐧(𝒙)
)|

𝝅
𝟐
𝝅
𝟔

− 𝟔(𝐚𝐫𝐜𝐭𝐚𝐧(𝒔𝒊𝒏(𝒙))|

𝝅
𝟐
𝝅
𝟔

= 

= (𝟏 −
𝟏

𝟐
) − 𝟐(𝟏 − 𝟐) − 𝟔(

𝝅

𝟒
− 𝐚𝐫𝐜𝐭𝐚𝐧 (

𝟏

𝟐
) =

𝟓 − 𝟑𝝅

𝟐
+ 𝟔𝐚𝐫𝐜𝐭𝐚𝐧 (

𝟏

𝟐
) 

Ω = ∫
𝒄𝒐𝒔𝟑(𝒙) + 𝒄𝒐𝒔𝟓(𝒙)

𝒔𝒊𝒏𝟐(𝒙) + 𝒔𝒊𝒏𝟒(𝒙)
𝒅𝒙 =

𝟓 − 𝟑𝝅

𝟐

𝝅
𝟐

𝝅
𝟔

+ 𝟔 𝐚𝐫𝐜𝐭𝐚𝐧 (
𝟏

𝟐
) 

2515. Find a closed form: 

𝛀 = ∫ (𝒙𝟐 𝐥𝐧(𝒍𝒏(𝒙)) +
𝒙𝒍𝒏𝟐 (

𝟏
𝒙
)

(𝟏 + 𝒙𝟐)(𝒙 + 𝟐)
)𝒅𝒙

𝟏

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan 
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Solution 1 by Bui Hong Suc-Vietnam 
 

∴ ∫
𝒍𝒏𝒏(𝒙)

𝒂 + 𝒙
𝒅𝒙 = −∑(−

𝟏

𝒂
)
𝒌

∫ 𝒙𝒌−𝟏𝒍𝒏𝒏(𝒙)𝒅𝒙 = −∑(−
𝟏

𝒂
)
𝒌

𝒙𝒌𝒏!∑
(−𝟏)𝒊𝒍𝒏𝒏−𝒊(𝒙)

(𝒏 − 𝒊)!𝒌𝒊+𝟏
|
𝟏

𝟎
=

𝒏

𝒊=𝟎

∞

𝒌=𝟏

𝟏

𝟎

∞

𝒌=𝟏

𝟏

𝟎

(−𝟏)𝒏+𝟏𝒏!𝑳𝒊𝒏+𝟏 (−
𝟏

𝒂
) 

∴ ∫
𝒍𝒏𝒏(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 = −∑(−𝟏)𝒌∫ 𝒙𝟐𝒌−𝟏−𝟏𝒍𝒏𝒏(𝒙)𝒅𝒙 = −∑(−𝟏)𝒌𝒙𝟐𝒌−𝟏𝒏!∑

(−𝟏)𝒊𝒍𝒏𝒏−𝒊(𝒙)

(𝒏 − 𝒊)! (𝟐𝒌− 𝟏)𝒊+𝟏
|
𝟏

𝟎
=

𝒏

𝒊=𝟎

∞

𝒌=𝟏

𝟏

𝟎

∞

𝒌=𝟏

𝟏

𝟎

𝒏! (−𝟏)𝒏𝜷(𝒏

+ 𝟏) 

∴ 𝑰𝒂 = ∫ 𝒙𝒏−𝟏𝒅𝒙 = 𝒂−𝟏:
𝝏𝒑

𝝏𝒂𝒑
  

𝟏

𝟎

 𝑰𝒂 = ∫ 𝒙𝒏−𝟏𝒍𝒏𝒑(𝒙)𝒅𝒙 = (−𝟏)𝒑𝜞(𝒑+ 𝟏)𝒂−𝟏−𝒑
𝟏

𝟎

 

𝑲𝒂,𝒑 = ∫ 𝒙𝒂−𝟏𝒍𝒏𝒑(𝒙) 𝐥𝐧(𝒍𝒏(𝒙))𝒅𝒙 =
𝝏

𝝏𝒑
(

𝟏

𝟎

𝝏𝒑

𝝏𝒂𝒑
𝑰𝒂) =

𝝏

𝝏𝒑
(∫ 𝒙𝒂−𝟏𝒍𝒏𝒑(𝒙)𝒅𝒙

𝟏

𝟎

) = 

(−𝟏)𝒑𝜞(𝒑+ 𝟏)𝒂−𝟏−𝒑{𝐥𝐧(−𝟏) +𝝍(𝒑+ 𝟏)− 𝐥𝐧(𝒂)} 

Ω = ∫ (𝒙𝒏 𝐥𝐧(𝒍𝒏(𝒙))+
𝒙𝒍𝒏𝒌 (

𝟏
𝒙)

(𝟏+ 𝒙𝟐)(𝒙+ 𝟐)
)𝒅𝒙

𝟏

𝟎

= ∫ 𝒙𝒏 𝐥𝐧(𝒍𝒏(𝒙))𝒅𝒙 +
𝟏

𝟎

(−𝟏)𝒌∫
𝒙𝒍𝒏𝒌(𝒙)

(𝟏 + 𝒙𝟐)(𝒙+ 𝟐)

𝟏

𝟎

𝒅𝒙 = 𝑰 + (−𝟏)𝒌𝑱 

𝟏)𝑰 = ∫ 𝒙𝒏 𝐥𝐧(𝒍𝒏(𝒙))𝒅𝒙 = 𝑲𝒏+𝟏,𝟎 =
𝟏

𝟎

(−𝟏)𝟎𝜞(𝟎+ 𝟏)(𝒏+ 𝟏)−𝟏−𝟎{𝐥𝐧(−𝟏) +𝝍(𝟎+ 𝟏)− 𝐥𝐧(𝒏+ 𝟏)} = 

𝐥𝐧(−𝟏) +𝝍(𝟏) − 𝐥𝐧(𝒏+ 𝟏)

𝒏+ 𝟏
=
𝐥𝐧(𝒆𝒊𝝅) − 𝜸 − 𝐥𝐧 (𝒏 + 𝟏)

𝒏 + 𝟏
=
𝒊𝝅 − 𝜸 − 𝐥𝐧(𝒏+ 𝟏)

𝒏+ 𝟏
 

𝟐)𝑱 = ∫
𝒙𝒍𝒏𝒌(𝒙)

(𝟏 + 𝒙𝟐)(𝒙+ 𝟐)
𝒅𝒙 =

𝟐

𝟓
∫
𝒙𝒍𝒏𝒌(𝒙)

(𝟏 + 𝒙𝟐)
𝒅𝒙 +

𝟏

𝟓
∫

𝒍𝒏𝒌(𝒙)

(𝟏 + 𝒙𝟐)
𝒅𝒙 −

𝟐

𝟓
∫
𝒍𝒏𝒌(𝒙)

(𝟐 + 𝒙)

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝒅𝒙 =
𝟏

𝟓. 𝟐𝒌
∫
𝒍𝒏𝒌(𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅(𝒙𝟐) +

𝟏

𝟎

 

𝟏

𝟓
𝒌! (−𝟏)𝒌𝜷(𝒌+ 𝟏)−

𝟐

𝟓
𝒌! (−𝟏)𝒌+𝟏𝑳𝒊𝒌+𝟏 (−

𝟏

𝟐
) =

𝟏

𝟓.𝟐𝒌
𝒌! (−𝟏)𝒌+𝟏𝑳𝒊𝒌+𝟏(−𝟏) +

𝟏

𝟓
𝒌! (−𝟏)𝒌𝜷(𝒌+ 𝟏)+ 

𝟐

𝟓
𝒌! (−𝟏)𝒌𝑳𝒊𝒌+𝟏 (−

𝟏

𝟐
) =

(−𝟏)𝒌𝒌!

𝟓
{𝜷(𝒌+ 𝟏) + 𝟐𝑳𝒊𝒌+𝟏 (−

𝟏

𝟐
)+

(𝟏 − 𝟐−𝒌)𝜻(𝒌 + 𝟏)

𝟐𝟐𝒌
} 

𝑻𝒉𝒆𝒏 ∶  Ω =
𝒊𝝅 − 𝜸 − 𝐥𝐧(𝒏 + 𝟏)

𝒏+ 𝟏
+
(−𝟏)𝒌𝒌!

𝟓
{𝜷(𝒌+ 𝟏) + 𝟐𝑳𝒊𝒌+𝟏 (−

𝟏

𝟐
)+

(𝟏 − 𝟐−𝒌)𝜻(𝒌 + 𝟏)

𝟐𝟐𝒌
} = 

𝒊𝝅 − 𝜸 − 𝐥𝐧(𝒏+ 𝟏)

𝒏 + 𝟏
+
𝒌!

𝟓
{𝜷(𝒌+ 𝟏) + 𝟐𝑳𝒊𝒌+𝟏 (−

𝟏

𝟐
)+

(𝟐𝒌 − 𝟏)𝜻(𝒌 + 𝟏)

𝟐𝟐𝒌
} 

𝒊𝒇𝒇 ∶   𝒏 = 𝒌 = 𝟐;  Ω =
𝒊𝝅 − 𝜸 − 𝐥𝐧(𝟑)

𝟑
+
𝟐

𝟓
{𝜷(𝟑)+ 𝟐𝑳𝒊𝟑 (−

𝟏

𝟐
)+

𝟑𝜻(𝟑)

𝟏𝟔
}  

Ω =
𝒊𝝅 − 𝜸 − 𝐥𝐧(𝟑)

𝟑
+
𝟏

𝟖𝟎
{𝝅𝟑 + 𝟔𝟒𝑳𝒊𝟑 (−

𝟏

𝟐
)+ 𝟔𝜻(𝟑)} 

 

Solution 2 by Quadri Faruk Temitope-Nigeria 
 

𝑰 = ∫ (𝒙𝟐 𝐥𝐧(𝒍𝒏(𝒙)) +
𝒙𝒍𝒏𝟐 (

𝟏
𝒙)

(𝟏+ 𝒙𝟐)(𝒙 + 𝟐)
)𝒅𝒙 = ∫ (𝒙𝟐 𝐥𝐧(𝒍𝒏(𝒙))⏟        

𝑨

𝟏

𝟎

+
𝟏

𝟎

𝒙𝒍𝒏𝟐 (
𝟏
𝒙)

(𝟏+ 𝒙𝟐)(𝒙+ 𝟐)⏟          
𝑩

)𝒅𝒙 

∗ 𝒘𝒐𝒓𝒌𝒊𝒏𝒈   𝒐𝒏  𝑨 

𝑨 = ∫ 𝒙𝟐 𝐥𝐧(𝒍𝒏(𝒙)) 𝒅𝒙 =⏟
𝒅𝒙=𝒆𝒑

[−∞,𝟎]

⏞

𝐥𝐧(𝒙)=𝒑
𝒙=𝒆𝒑𝟏

𝟎

∫ 𝒆𝟐𝒑 𝐥𝐧(𝒑) . 𝒆𝒑𝒅𝒑 = ∫ 𝒆𝟑𝒑
𝟎

−∞

𝐥𝐧(𝒑)𝒅𝒑
𝟎

−∞

=
𝒅

𝒅𝒏
∫ 𝐥𝐢𝐦

𝒏→𝟎
𝒑𝒏. 𝒆𝟑𝒑𝒅𝒑 =

𝟎

−∞
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= 𝐥𝐢𝐦
𝒏→𝟎

𝒅

𝒅𝒏
∫ 𝒑𝒏. 𝒆𝟑𝒑𝒅𝒑
𝟎

−∞

= 𝐥𝐢𝐦
𝒏→𝟎

𝒅

𝒅𝒏
[(−𝟏)𝒏𝟑−𝒏−𝟏𝜞(𝒏 + 𝟏)] = 

= 𝐥𝐢𝐦
𝒏→𝟎

[(−𝟏)𝒏𝟑−𝒏−𝟏𝜞(𝒏 + 𝟏)[𝝍(𝒏 + 𝟏) + 𝒊𝝅 − 𝐥𝐧(𝟑)]] =
𝟏

𝟑
[−𝜸 + 𝒊𝝅 − 𝐥𝐧(𝟑)] =

𝒊𝝅 − 𝜸 − 𝐥𝐧(𝟑)

𝟑
 

∗ 𝒘𝒐𝒓𝒌𝒊𝒏𝒈  𝒐𝒏  𝑩 

𝑩 = ∫
𝒙𝒍𝒏𝟐 (

𝟏
𝒙)

(𝟏 + 𝒙𝟐)(𝒙 + 𝟐)
𝒅𝒙

𝟏

𝟎

= ∫
𝒙𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙𝟐)(𝒙+ 𝟐)
𝒅𝒙

𝟏

𝟎

 

𝑫𝒆𝒄𝒐𝒎𝒑𝒐𝒔𝒆  𝒊𝒏𝒕𝒐  𝒑𝒂𝒓𝒕𝒊𝒂𝒍  𝒇𝒓𝒂𝒄𝒕𝒊𝒐𝒏… 

𝑩 = ∫
(𝟐𝒙+ 𝟏)𝒍𝒏𝟐(𝒙)

𝟓(𝒙𝟐 +𝟏)
𝒅𝒙

𝟏

𝟎

−
𝟐

𝟓
∫
𝒍𝒏𝟐(𝒙)

𝒙 + 𝟐
𝒅𝒙 =

𝟐

𝟓
∑(−𝟏)𝒏∫ 𝒙𝟐𝒏+𝟏

𝟏

𝟎

∞

𝒏=𝟎

𝟏

𝟎

𝒍𝒏𝟐(𝒙)𝒅𝒙+
𝟏

𝟓
∑(−𝟏)𝒏
∞

𝒏=𝟎

∫ 𝒙𝟐𝒏𝒍𝒏𝟐(𝒙)𝒅𝒙
𝟏

𝟎

− 

𝟐

𝟓
∑(−𝟏)𝒏𝟐−𝟏−𝒏
∞

𝒏=𝟎

∫ 𝒙𝒏𝒍𝒏𝟐(𝒙)𝒅𝒙
𝟏

𝟎

=
𝟐

𝟓
∑(−𝟏)𝒏 [

𝟏

𝟒(𝒏+ 𝟏)𝟑
]

∞

𝒏=𝟎

+
𝟏

𝟓
∑(−𝟏)𝒏 [

𝟐

(𝟐𝒏+ 𝟏)𝟑
]

∞

𝒏=𝟎

−
𝟐

𝟓
∑
(−𝟏)𝒏

𝟐𝟏+𝒏
[

𝟐

(𝒏 + 𝟏)𝟑
] =

∞

𝒏=𝟎

 

𝟏

𝟏𝟎
∑

(−𝟏)𝒏

(𝒏 + 𝟏)𝟑

∞

𝒏=𝟎

+
𝟐

𝟓
∑

(−𝟏)𝒏

(𝟐𝒏+ 𝟏)𝟑

∞

𝒏=𝟎

−
𝟒

𝟓
∑

(−𝟏)𝒏

𝟐𝟏+𝒏(𝒏+ 𝟏)𝟑
=
𝟏

𝟏𝟎
[
𝟑

𝟒
𝜻(𝟑)]

∞

𝒏=𝟎

+
𝟐

𝟓
[
𝝅𝟑

𝟑𝟐
] +
𝟒

𝟓
[𝑳𝒊𝟑 (−

𝟏

𝟐
)] = 

=
𝟑

𝟒𝟎
𝜻(𝟑) +

𝝅𝟑

𝟖𝟎
+
𝟒

𝟓
𝑳𝒊𝟑 (−

𝟏

𝟐
) 

𝑩𝒖𝒕  𝑰 = 𝑨 +𝑩 

𝑰 =
𝒊𝝅 − 𝜸 − 𝐥𝐧(𝟑)

𝟑
+
𝟑

𝟒𝟎
𝜻(𝟑) +

𝝅𝟑

𝟖𝟎
+
𝟒

𝟓
𝑳𝒊𝟑 (−

𝟏

𝟐
) 

 

2516. Find a closed form: 

𝛀 = ∫
𝐥𝐧(𝒙) 𝒍𝒏𝟑(𝒙 + 𝟏)

𝒙 + 𝟏
𝒅𝒙

𝟏

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan 
 

Solution 1 by Kartick Chandra Betal-India 
 

𝐈 = ∫
𝐥𝐧(𝐱) 𝐥𝐧𝟑(𝐱 + 𝟏)

𝐱 + 𝟏
𝐝𝐱

𝟏

𝟎

= ∫
𝐥𝐧(𝐱 − 𝟏) 𝐥𝐧𝟑(𝐱)

𝐱
𝐝𝐱 = ∫

−{𝐥𝐧(𝟏 − 𝐱) − 𝐥𝐧(𝐱)}𝐥𝐧𝟑(𝐱)

𝐱
𝐝𝐱 =

𝟏

𝟏
𝟐

𝟐

𝟏

 

∫
𝐥𝐧𝟒(𝐱)

𝐱
𝐝𝐱

𝟏

𝟏
𝟐

−∫
𝐥𝐧(𝟏 − 𝐱) 𝐥𝐧𝟑(𝐱)

𝐱
𝐝𝐱 = [

𝐥𝐧𝟓(𝐱)

𝟓
]

𝟏

𝟏
𝟐

𝟏
𝟏
𝟐
+∑

𝟏

𝐧
∫ 𝐱𝐧−𝟏𝐥𝐧𝟑(𝐱)𝐝𝐱 =
𝟏

𝟏
𝟐

∞

𝐧=𝟏

 

𝐥𝐧𝟓(𝟐)

𝟓
+∑

𝟏

𝐧
[
𝐱𝐧

𝐧
𝐥𝐧𝟑(𝐱) −

𝟑𝐱𝐧𝐥𝐧𝟐(𝐱)

𝐧𝟐
+
𝟔𝐱𝐧𝐥𝐧(𝐱)

𝐧𝟑
−
𝟔𝐱𝐧

𝐧𝟒
]
𝟏
𝟏
𝟐
=

∞

𝐧=𝟏

𝐥𝐧𝟓(𝟐)

𝟓
+ 

∑
𝟏

𝐧
[−
𝟔

𝐧𝟒
− {
−𝐥𝐧𝟑(𝟐)

𝐧. 𝟐𝐧
−
𝟑𝐥𝐧𝟐(𝟐)

𝐧𝟐. 𝟐𝐧
−
𝟔 𝐥𝐧(𝟐)

𝐧𝟑. 𝟐𝐧
−

𝟔

𝐧𝟒. 𝟐𝐧
}]

∞

𝐧=𝟏

=
𝐥𝐧𝟓(𝟐)

𝟓
+ 

∑{−
𝟔

𝐧𝟓
+
𝐥𝐧𝟑(𝟐)

𝐧𝟐. 𝟐𝐧
+
𝟑𝐥𝐧𝟐(𝟐)

𝐧𝟑. 𝟐𝐧
+
𝟔 𝐥𝐧(𝟐)

𝐧𝟒. 𝟐𝐧
+

𝟔

𝐧𝟓. 𝟐𝟓
}

∞

𝐧=𝟏

=
𝐥𝐧𝟓(𝟐)

𝟓
− 𝟔𝛇(𝟓) + 𝐥𝐧𝟑(𝟐). 𝐋𝐢𝟐 (

𝟏

𝟐
) + 
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𝟑𝐥𝐧𝟐(𝟐). 𝐋𝐢𝟑 (
𝟏

𝟐
) + 𝟔 𝐥𝐧(𝟐) 𝐋𝐢𝟒 (

𝟏

𝟐
) + 𝟔𝐋𝐢𝟓 (

𝟏

𝟐
)

=
𝐥𝐧𝟓(𝟐)

𝟓
− 𝟔𝛇(𝟓) + 𝐥𝐧𝟑(𝟐) {

𝛑𝟐

𝟏𝟐
−
𝐥𝐧𝟐(𝟐)

𝟐
} + 

𝟑𝐥𝐧𝟐(𝟐) {
𝐥𝐧𝟑(𝟐)

𝟔
−
𝛑𝟐

𝟏𝟐
𝐥𝐧(𝟐) +

𝟕

𝟖
𝛇(𝟑)} + 𝟔 𝐥𝐧(𝟐)𝐋𝐢𝟒 (

𝟏

𝟐
) + 𝟔𝐋𝐢𝟓 (

𝟏

𝟐
) = 

𝟔 𝐥𝐧(𝟐) 𝐋𝐢𝟒 (
𝟏

𝟐
) + 𝟔𝐋𝐢𝟓 (

𝟏

𝟐
) − 𝟔𝛇(𝟓) − 𝛇(𝟐)𝐥𝐧𝟑(𝟐) +

𝟐𝟏

𝟖
𝐥𝐧𝟐(𝟐)𝛇(𝟑) +

𝐥𝐧𝟓(𝟐)

𝟓
 

 

Solution 2 by Bui Hong Suc-Vietnam 

∫
𝐥𝐧(𝒙) 𝒍𝒏𝟑(𝒙 + 𝟏)

𝒙 + 𝟏
𝒅𝒙

𝟏

𝟎

 

Ω𝒏 = ∫
𝐥𝐧(𝒙) 𝒍𝒏𝒏−𝟏(𝒙 + 𝟏)

𝒙 + 𝟏
𝒅𝒙

𝟏

𝟎

=
𝟏

𝒏
∫ 𝐥𝐧(𝒙)𝒅(𝒍𝒏𝒏(𝒙+ 𝟏)) =

𝟏

𝒏
(𝐥𝐧(𝒙)𝒍𝒏𝒏(𝒙 + 𝟏)|

𝟏

𝟎

𝟏

𝟎
−∫

𝒍𝒏𝒏(𝒙+ 𝟏)

𝒙
𝒅𝒙

𝟏

𝟎

) = 

−
𝟏

𝒏
∫

𝒍𝒏𝒏(𝒙 + 𝟏)

𝒙
𝒅𝒙

𝟏

𝟎

=⏞

𝒙+𝟏=
𝟏

𝒗 (−𝟏)𝒏−𝟏

𝒏
∫

𝒍𝒏𝒏(𝒗)

𝒗(𝟏 − 𝒗)
𝒅𝒗 =

𝟏

𝟏

𝟐

(−𝟏)𝒏−𝟏

𝒏
𝑰 

𝑰 = ∫
𝒍𝒏𝒏(𝒗)

𝒗(𝟏 − 𝒗)
𝒅𝒗 =

𝟏

𝟏

𝟐

∫
𝒍𝒏𝒏(𝒗)

𝒗
𝒅𝒗 +∫

𝒍𝒏𝒏(𝒗)

𝟏 − 𝒗
𝒅𝒗 =

𝟏

𝟏

𝟐

𝟏

𝟏

𝟐

𝟏

𝒏 + 𝟏
𝒍𝒏𝒏+𝟏(𝒗)|

𝟏
𝟏

𝟐

−∫
𝒍𝒏𝒏(𝒗)

𝟏 − 𝒗
𝒅𝒗

𝟏

𝟐

𝟎

= 

(−𝟏)𝒏

𝒏 + 𝟏
𝒍𝒏𝒏+𝟏(𝟐) +∑∫ 𝒗𝒌−𝟏𝒍𝒏𝒏(𝒗)𝒅𝒗 −∑∫ 𝒗𝒌−𝟏𝒍𝒏𝒏(𝒗)𝒅𝒗 =

(−𝟏)𝒏

𝒏 + 𝟏
𝒍𝒏𝒏+𝟏(𝟐) + (−𝟏)𝒏𝒏!∑

𝟏

𝒌𝒏+𝟏
−

∞

𝒌=𝟏

𝟏
𝟐

𝟎

∞

𝒌=𝟏

𝟏

𝟎

∞

𝒌=𝟏

 

∑𝒗𝒌𝒏!∑(−𝟏)𝒏𝒊!(
𝒏

𝒊
)

𝒏

𝒊=𝟎

∞

𝒌=𝟏

(−𝟏)−𝒊

𝒌𝒊+𝟏
𝒍𝒏𝒏−𝒊(𝒗)|

𝟏

𝟐
𝟎
=
(−𝟏)𝒏

𝒏 + 𝟏
𝒍𝒏𝒏+𝟏(𝟐) + (−𝟏)𝒏. 𝒏!. 𝜻(𝒏 + 𝟏) − 

∑𝒏!∑(−𝟏)𝒏𝒊!(
𝒏

𝒊
)

𝒏

𝒊=𝟎

∞

𝒌=𝟏

𝒍𝒏𝒏−𝒊(𝟐)
(
𝟏

𝟐
)
𝒏

𝒌𝒊+𝟏
=
(−𝟏)𝒏

𝒏 + 𝟏
𝒍𝒏𝒏+𝟏(𝟐) + (−𝟏)𝒏. 𝒏!. 𝜻(𝒏 + 𝟏) − 

(−𝟏)𝒏𝒏!∑ 𝒊! (
𝒏

𝒊
)

𝒏

𝒊=𝟎

𝒍𝒏𝒏−𝒊(𝟐)𝑳𝒊𝒊+𝟏 (
𝟏

𝟐
) 

𝑻𝒉𝒆𝒏 ∶  

Ω𝒏 =
(−𝟏)𝒏−𝟏

𝒏
{
(−𝟏)𝒏

𝒏 + 𝟏
𝒍𝒏𝒏+𝟏(𝟐) + (−𝟏)𝒏. 𝒏!. 𝜻(𝒏 + 𝟏) − (−𝟏)𝒏𝒏!∑ 𝒊! (

𝒏

𝒊
)

𝒏

𝒊=𝟎

𝒍𝒏𝒏−𝒊(𝟐)𝑳𝒊𝒊+𝟏 (
𝟏

𝟐
)} 

𝒊𝒇𝒇  𝒏 = 𝟒    Ω𝟒

= ∫
𝐥𝐧(𝒙) 𝒍𝒏𝟑(𝒙 + 𝟏)

𝒙 + 𝟏
𝒅𝒙 =

𝟏𝟐𝟎∑ 𝒊! (𝟒
𝒊
)𝒍𝒏𝟒−𝒊(𝟐)𝑳𝒊𝒊+𝟏 (

𝟏

𝟐
) − 𝟏𝟐𝟎𝜻(𝟓) − 𝒍𝒏𝟓 (

𝟏

𝟐
)∞

𝒊=𝟎

𝟐𝟎

𝟏

𝟎
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∫
𝐥𝐧(𝒙) 𝒍𝒏𝟑(𝒙 + 𝟏)

𝒙 + 𝟏
𝒅𝒙 =

𝟏

𝟎

𝟔 𝐥𝐧(𝟐)𝑳𝒊𝟒 (
𝟏
𝟐
)+𝟔𝑳𝒊𝟓 (

𝟏
𝟐
)−𝟔𝜻(𝟓)−𝜻(𝟐)𝒍𝒏

𝟑
(𝟐)+

𝟐𝟏
𝟖
𝒍𝒏
𝟐
(𝟐)𝜻(𝟑)

+
𝒍𝒏
𝟓
(𝟐)

𝟓
 

 

Solution 3 by Quadri Faruk Temitope-Nigeria 

∫
𝐥𝐧(𝒙) 𝒍𝒏𝟑(𝒙 + 𝟏)

𝒙 + 𝟏
𝒅𝒙

𝟏

𝟎

 

𝒖 = 𝐥𝐧(𝒙)𝒍𝒏𝟑(𝒙 + 𝟏) ,   
𝒅𝒖

𝒅𝒙
=
𝟑𝒍𝒏𝟐(𝟏 + 𝒙)𝐥𝐧 (𝒙)

𝟏 + 𝒙
+
𝒍𝒏𝟑(𝒙 + 𝟏)

𝒙
 

𝒗 = 𝐥𝐧(𝟏 + 𝒙) , 𝒅𝒗 =
𝟏

𝟏 + 𝒙
 

𝑰 = 𝐥𝐧(𝒙) 𝒍𝒏𝟒(𝒙 + 𝟏)|
𝟏

𝟎
− 𝟑∫

𝐥𝐧(𝒙) 𝒍𝒏𝟑(𝒙 + 𝟏)

𝒙 + 𝟏
𝒅𝒙

𝟏

𝟎⏟              
𝑰

−∫
𝒍𝒏𝟒(𝒙 + 𝟏)

𝒙

𝟏

𝟎

𝒅𝒙 

𝑰 = −𝟑𝑰 − ∫
𝒍𝒏𝟒(𝒙 + 𝟏)

𝒙

𝟏

𝟎

𝒅𝒙 

𝑰 = −
𝟏

𝟒
∫
𝒍𝒏𝟒(𝒙 + 𝟏)

𝒙
𝒅𝒙

𝟏

𝟎

 

𝑵𝒐𝒘  𝒕𝒉𝒆  𝒎𝒂𝒊𝒏  𝒕𝒂𝒔𝒌, 𝒍𝒆𝒕′𝒔  𝒄𝒂𝒍𝒄𝒖𝒍𝒂𝒕𝒆  𝒕𝒉𝒊𝒔  𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒍… 

∫
𝒍𝒏𝟒(𝒙 + 𝟏)

𝒙
𝒅𝒙

𝟏

𝟎

 

𝑹𝒆𝒄𝒂𝒍𝒍  𝒕𝒉𝒂𝒕: 

∫
𝒍𝒏𝒂(𝒙 + 𝟏)

𝒙
𝒅𝒙 =

𝒍𝒏𝒂+𝟏(𝟐)

𝒂 + 𝟏
+ 𝒂! 𝜻(𝒂 + 𝟏) − (−𝟏)𝒂∫

𝒍𝒏𝒂(𝒙)

𝟏 − 𝒙
𝒅𝒙

𝟏
𝟐

𝟎

𝟏

𝟎

 

∫
𝒍𝒏𝟒(𝒙 + 𝟏)

𝒙
𝒅𝒙 =

𝒍𝒏𝟓(𝟐)

𝟓
+ 𝟐𝟒𝜻(𝟓) −

𝟏

𝟎

∫
𝒍𝒏𝟒(𝒙)

𝟏 − 𝒙
𝒅𝒙

𝟏
𝟐

𝟎

 

∗𝑾𝒐𝒓𝒌𝒊𝒏𝒈  𝒐𝒏  𝑨 

𝑨 = ∫
𝒍𝒏𝟒(𝒙)

𝟏 − 𝒙
𝒅𝒙

𝟏
𝟐

𝟎

  𝒙 =
𝒑

𝟐
, 𝒅𝒙 =

𝒅𝒑

𝟐
  [𝟎, 𝟏] 

𝑨 = ∫
𝒍𝒏𝟒 (

𝒑
𝟐)

𝟏 −
𝒑
𝟐

𝒅𝒑

𝟐
=

𝟏

𝟎

𝟏

𝟐
∫
𝒍𝒏𝟒 (

𝒑
𝟐)

𝟏 −
𝒑
𝟐

𝒅𝒑
𝟏

𝟎

=
𝟏

𝟐
∑∫ (

𝒑

𝟐
)
𝒏

𝒍𝒏𝟒 (
𝒑

𝟐
)𝒅𝒑 =

𝟏

𝟐
∑

𝟏

𝟐𝒏
∫ 𝒑𝒏𝒍𝒏𝟒 (

𝒑

𝟐
)𝒅𝒑 =

𝟏

𝟎

∞

𝒏=𝟎

𝟏

𝟎

∞

𝒏=𝟎

 

𝟏

𝟐
∑

𝟏

𝟐𝒏
∫ 𝒑𝒏[𝒍𝒏𝟒(𝒑) − 𝟒𝒍𝒏𝟑(𝒑)
𝟏

𝟎

∞

𝒏=𝟎

𝐥𝐧(𝟐) + 𝟔𝒍𝒏𝟐(𝒑)𝒍𝒏𝟐(𝟐) − 𝟒 𝐥𝐧(𝒑) 𝒍𝒏𝟑(𝟐) + 𝒍𝒏𝟒(𝟐)]𝒅𝒑 = 
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𝟏

𝟐
∑

𝟏

𝟐𝒏
∫ 𝒑𝒏𝒍𝒏𝟒(𝒑)𝒅𝒑 − 𝟐𝐥𝐧 (𝟐)
𝟏

𝟎

∞

𝒏=𝟎

∑
𝟏

𝟐𝒏
∫ 𝒑𝒏𝒍𝒏𝟑(𝒑)𝒅𝒑
𝟏

𝟎

∞

𝒏=𝟎

− 𝟑𝒍𝒏𝟐(𝟐)∑
𝟏

𝟐𝒏
∫ 𝒑𝒏𝒍𝒏𝟐(𝒑)𝒅𝒑 −
𝟏

𝟎

∞

𝒏=𝟎

 

𝟐𝒍𝒏𝟑(𝟐)∑
𝟏

𝟐𝒏
∫ 𝒑𝒏𝒍𝒏(𝒑)𝒅𝒑 +

𝒍𝒏𝟒(𝟐)

𝟐
∑

𝟏

𝟐𝒏
∫ 𝒑𝒏𝒅𝒑 =

𝟏

𝟐
∑

𝟏

𝟐𝒏
𝒅𝟒

𝒅𝒏𝟒
(
𝒑𝒏+𝟏

𝒏 + 𝟏
|
𝟏

𝟎
) −

∞

𝒏=𝟎

𝟏

𝟎

∞

𝒏=𝟎

𝟏

𝟎

∞

𝒏=𝟎

 

𝟐𝐥𝐧 (𝟐)∑
𝟏

𝟐𝒏
𝒅𝟑

𝒅𝒏𝟑
(
𝒑𝒏+𝟏

𝒏 + 𝟏
|
𝟏

𝟎
) −

∞

𝒏=𝟎

𝟑𝒍𝒏𝟐(𝟐)∑
𝟏

𝟐𝒏
𝒅𝟐

𝒅𝒏𝟐
(
𝒑𝒏+𝟏

𝒏 + 𝟏
|
𝟏

𝟎
)

∞

𝒏=𝟎

− 𝟐𝒍𝒏𝟑(𝟐)∑
𝟏

𝟐𝒏
𝒅

𝒅𝒏
(
𝒑𝒏+𝟏

𝒏 + 𝟏
|
𝟏

𝟎
) +

∞

𝒏=𝟎

 

𝒍𝒏𝟒(𝟐)

𝟐
∑

𝟏

𝟐𝒏
(
𝟏

𝒏 + 𝟏
) = 𝟏𝟐∑

𝟏

𝟐𝒏(𝒏 + 𝟏)𝟓

∞

𝒏=𝟎

∞

𝒏=𝟎

+ 𝟏𝟐𝐥𝐧(𝟐)∑
𝟏

𝟐𝒏(𝒏 + 𝟏)𝟒

∞

𝒏=𝟎

− 𝟔𝒍𝒏𝟐(𝟐)∑
𝟏

𝟐𝒏(𝒏 + 𝟏)𝟑
+

∞

𝒏=𝟎

 

𝟐𝒍𝒏𝟑(𝟐)∑
𝟏

𝟐𝒏(𝒏 + 𝟏)𝟐

∞

𝒏=𝟎

+
𝒍𝒏𝟒(𝟐)

𝟐
∑

𝟏

𝟐𝒏(𝒏 + 𝟏)
= 𝟐𝟒𝑳𝒊𝟓 (

𝟏

𝟐
) + 𝟐𝟒 𝐥𝐧(𝟐) 𝑳𝒊𝟒 (

𝟏

𝟐
) − 𝟔𝒍𝒏𝟐(𝟐)[

∞

𝒏=𝟎

𝟕

𝟒
𝜻(𝟑) + 

𝟏

𝟑
𝒍𝒏𝟑(𝟐) − 𝜻(𝟐) 𝐥𝐧(𝟐)] + 𝟐𝒍𝒏𝟑(𝟐)[𝜻(𝟐)− 𝒍𝒏𝟐(𝟐)] +

𝒍𝒏𝟒(𝟐)

𝟐
. 𝟐𝐥𝐧 (𝟐) 

𝑨 = 𝟐𝟒𝑳𝒊𝟓 (
𝟏

𝟐
) + 𝟐𝟒 𝐥𝐧(𝟐) 𝑳𝒊𝟒 (

𝟏

𝟐
) +

𝟐𝟏

𝟐
𝜻(𝟑)𝒍𝒏𝟐(𝟐) + 𝟐𝒍𝒏𝟓(𝟐) − 𝟔𝜻(𝟐)𝒍𝒏𝟑(𝟐) + 𝟐𝜻(𝟐)𝒍𝒏𝟑(𝟐) − 𝒍𝒏𝟓(𝟐) 

∫
𝒍𝒏𝟒(𝒙 + 𝟏)

𝒙
𝒅𝒙 =

𝒍𝒏𝟓(𝟐)

𝟓
+ 𝟐𝟒𝜻(𝟓) −

𝟏

𝟎

𝑨 

∫
𝒍𝒏𝟒(𝒙 + 𝟏)

𝒙
𝒅𝒙 =

𝟏

𝟎

𝒍𝒏𝟓(𝟐)

𝟓
+ 𝟐𝟒𝜻(𝟓) − 𝟐𝟒𝑳𝒊𝟓 (

𝟏

𝟐
) − 𝟐𝟒 𝐥𝐧(𝟐) 𝑳𝒊𝟒 (

𝟏

𝟐
) −

𝟐𝟏

𝟐
𝜻(𝟑)𝒍𝒏𝟐(𝟐)

− 

−𝒍𝒏𝟓(𝟐) + 𝟔𝜻(𝟐)𝒍𝒏𝟑(𝟐) − 𝟐𝜻(𝟐)𝒍𝒏𝟑(𝟐) 

𝑰 = −
𝟏

𝟒
∫
𝒍𝒏𝟒(𝒙 + 𝟏)

𝒙
𝒅𝒙

𝟏

𝟎

= 

= −
𝟏

𝟒
[𝟐𝟒𝜻(𝟓)− 𝟐𝟒 𝐥𝐧(𝟐) 𝑳𝒊𝟒 (

𝟏

𝟐
) − 𝟐𝟒𝑳𝒊𝟓 (

𝟏

𝟐
) −

𝟐𝟏

𝟐
𝜻(𝟑)𝒍𝒏𝟐(𝟐) −

𝟒

𝟓
𝒍𝒏𝟓(𝟐) + 𝟒𝜻(𝟐)𝒍𝒏𝟑(𝟐)] 

∫
𝐥𝐧(𝒙) 𝒍𝒏𝟑(𝒙 + 𝟏)

𝒙 + 𝟏
𝒅𝒙 =

𝟏

𝟎

𝟔 𝐥𝐧(𝟐) 𝑳𝒊𝟒 (
𝟏

𝟐
) + 𝟔𝑳𝒊𝟓 (

𝟏

𝟐
) − 𝟔𝜻(𝟓) − 𝜻(𝟐)𝒍𝒏𝟑(𝟐) +

𝟐𝟏

𝟖
𝒍𝒏𝟐(𝟐)𝜻(𝟑) +

𝒍𝒏𝟓(𝟐)

𝟓
 

 

Solution 4 by Togrul Ehmedov-Azerbaijan 
 

𝛀 = ∫
𝐥𝐨𝐠(𝐱) 𝐥𝐨𝐠𝟑(𝟏 + 𝐱)

𝟏 + 𝐱

𝟏

𝟎

𝐝𝐱 = ∫
(𝐥𝐨𝐠(𝟏 + 𝐱) + 𝐥𝐨𝐠 (

𝐱
𝟏 + 𝐱)) 𝐥𝐨𝐠

𝟑(𝟏 + 𝐱)

𝟏 + 𝐱

𝟏

𝟎

𝐝𝐱 = 

= ∫
𝐥𝐨𝐠𝟒(𝟏 + 𝐱)

𝟏 + 𝐱

𝟏

𝟎

𝐝𝐱 + ∫
𝐥𝐨𝐠 (

𝐱
𝟏 + 𝐱)

𝟏 + 𝐱
𝐥𝐨𝐠𝟑(𝟏 + 𝐱)

𝟏

𝟎

𝐝𝐱 =
𝟏

𝟓
𝐥𝐨𝐠𝟐(𝟓) + 
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+∫(𝐋𝐢𝟐 (
𝟏

𝟏 + 𝐱
))

′

𝐥𝐨𝐠𝟑(𝟏 + 𝐱)

𝟏

𝟎

𝐝𝐱 =
𝟏

𝟓
𝐥𝐨𝐠𝟐(𝟓) + 𝐋𝐢𝟐 (

𝟏

𝟐
) 𝐥𝐨𝐠𝟑(𝟐) − 

−𝟑∫
𝐋𝐢𝟐 (

𝟏
𝟏 + 𝐱)

𝟏 + 𝐱
𝐥𝐨𝐠𝟐(𝟏 + 𝐱)

𝟏

𝟎

𝐝𝐱 =
𝟏

𝟓
𝐥𝐨𝐠𝟐(𝟓) + 𝐋𝐢𝟐 (

𝟏

𝟐
) 𝐥𝐨𝐠𝟑(𝟐) + 

+𝟑∫(𝐋𝐢𝟑 (
𝟏

𝟏 + 𝐱
))

′

𝐥𝐨𝐠𝟐(𝟏 + 𝐱)

𝟏

𝟎

𝐝𝐱 =
𝟏

𝟓
𝐥𝐨𝐠𝟐(𝟓) + 𝐋𝐢𝟐 (

𝟏

𝟐
) 𝐥𝐨𝐠𝟑(𝟐) + 

+𝟑{𝐋𝐢𝟑 (
𝟏

𝟐
) 𝐥𝐨𝐠𝟐(𝟐) − 𝟐∫

𝐋𝐢𝟑 (
𝟏

𝟏 + 𝐱)

𝟏 + 𝐱
𝐥𝐨𝐠(𝟏 + 𝐱)

𝟏

𝟎

𝐝𝐱} =
𝟏

𝟓
𝐥𝐨𝐠𝟐(𝟓) + 

+𝐋𝐢𝟐 (
𝟏

𝟐
) 𝐥𝐨𝐠𝟑(𝟐) + 𝟑𝐋𝐢𝟑 (

𝟏

𝟐
) 𝐥𝐨𝐠𝟐(𝟐) + 𝟔∫(𝐋𝐢𝟒 (

𝟏

𝟏 + 𝐱
))

′

𝐥𝐨𝐠(𝟏 + 𝐱)

𝟏

𝟎

𝐝𝐱 = 

=
𝟏

𝟓
𝐥𝐨𝐠𝟐(𝟓) + 𝐋𝐢𝟐 (

𝟏

𝟐
) 𝐥𝐨𝐠𝟑(𝟐) + 𝟑𝐋𝐢𝟑 (

𝟏

𝟐
) 𝐥𝐨𝐠𝟐(𝟐)

+ 𝟔{𝐋𝐢𝟒 (
𝟏

𝟐
) 𝐥𝐨𝐠(𝟐) − ∫

𝐋𝐢𝟒 (
𝟏

𝟏 + 𝐱)

𝟏 + 𝐱

𝟏

𝟎

𝐝𝐱} = 

=
𝟏

𝟓
𝐥𝐨𝐠𝟐(𝟓) + 𝐋𝐢𝟐 (

𝟏

𝟐
) 𝐥𝐨𝐠𝟑(𝟐) + 𝟑𝐋𝐢𝟑 (

𝟏

𝟐
) 𝐥𝐨𝐠𝟐(𝟐) + 𝟔𝐋𝐢𝟒 (

𝟏

𝟐
) 𝐥𝐨𝐠(𝟐) + 𝟔𝐋𝐢𝟓 (

𝟏

𝟐
)

− 𝟔𝛇(𝟓) 

 
2517. Find: 

∫ (𝑳𝒊𝟑(−𝒙) + 𝒙
𝟐𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙))𝒅𝒙

𝟏

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution 1 by Pham Duc Nam-Vietnam 

𝑰 = ∫ (𝑳𝒊𝟑(−𝒙) + 𝒙
𝟐𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙))𝒅𝒙

𝟏

𝟎

 

∗ 𝑺 = ∫ 𝑳𝒊𝟑(−𝒙)
𝟏

𝟎

𝒅𝒙 = ∑
(−𝟏)𝒏

𝒏𝟑
∫ 𝒙𝒏𝒅𝒙 = ∑

(−𝟏)𝒏

𝒏𝟑(𝒏 + 𝟏)
=

∞

𝒏=𝟏

𝟏

𝟎

∞

𝒏=𝟏

 

∑(−𝟏)𝒏 (
𝟏

𝒏𝟑
−
𝟏

𝒏𝟐
−

𝟏

𝒏 + 𝟏
+
𝟏

𝒏
) =

∞

𝒏=𝟏

−
𝟑

𝟒
𝜻(𝟑) +

𝟏

𝟐
𝜻(𝟐) − 𝟐 𝐥𝐧(𝟐) + 𝟏 

∗ 𝒀 = ∫ 𝒙𝟐𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙)𝒅𝒙 =⏞
𝑰.𝑩.𝑷𝟏

𝟎

𝟏

𝟑
𝒙𝟑𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙)|

𝟏

𝟎
−
𝟐

𝟑
∫
𝒙𝟑𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙)|

𝟏 + 𝒙𝟐
𝒅𝒙 =⏞

𝑰.𝑩.𝑷𝟏

𝟎
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𝝅𝟐

𝟒𝟖
−
𝟐

𝟑
(𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)(

𝒙𝟐

𝟐
−
𝟏

𝟐
𝐥𝐧(𝟏 + 𝒙𝟐))|

𝟏

𝟎

−
𝟏

𝟐
∫
𝒙𝟐 − 𝐥𝐧(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙) =

𝝅𝟐

𝟒𝟖
−
𝟐

𝟑
(
𝝅

𝟖
−
𝝅

𝟖
𝐥𝐧(𝟐) −

𝟏

𝟎

 

𝟏

𝟐
(𝟏 −

𝝅

𝟒
) +

𝟏

𝟐
∫
𝐥𝐧 (𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎⏟          
𝟏
𝒙
  → 𝒙 

)

=
𝝅𝟐

𝟒𝟖
−
𝟐

𝟑
(−
𝟏

𝟐
+
𝝅

𝟒
−
𝝅

𝟖
𝐥𝐧(𝟐) +

𝟏

𝟐
∫

𝐥𝐧 (
𝟏 + 𝒙𝟐

𝒙𝟐
)

𝟏 + 𝒙𝟐
𝒅𝒙) =

∞

𝟏

 

𝝅𝟐

𝟒𝟖
−
𝟐

𝟑
(−
𝟏

𝟐
+
𝝅

𝟒
−
𝝅

𝟖
𝐥𝐧(𝟐) +

𝟏

𝟒
∫

𝐥𝐧(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙 −

𝟏

𝟒

∞

𝟏

∫
𝐥𝐧(𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙) =

∞

𝟏

 

=
𝝅𝟐

𝟒𝟖
−
𝟐

𝟑
(−
𝟏

𝟐
+
𝝅

𝟒
−
𝝅

𝟖
𝐥𝐧(𝟐) − 

−
𝟏

𝟐
∫ 𝐥𝐧(𝒄𝒐𝒔(𝒙)) 𝒅𝒙 +

𝟏

𝟐

𝝅
𝟐

𝟎

∫
𝐥𝐧(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙) =

𝝅𝟐

𝟒𝟖
−
𝟐

𝟑
(−
𝟏

𝟐
+
𝝅

𝟒
−
𝝅

𝟖
𝐥𝐧(𝟐) +

𝝅

𝟒
𝐥𝐧(𝟐) −

𝑮

𝟐
)

𝟏

𝟎

= 

=
𝑮

𝟑
+
𝟏

𝟖
𝜻(𝟐) −

𝝅

𝟏𝟐
𝐥𝐧(𝟐) −

𝝅

𝟔
+
𝟏

𝟑
 

𝑰 = 𝑺 + 𝒀 = −
𝟑

𝟒
𝜻(𝟑) +

𝟏

𝟐
𝜻(𝟐) − 𝟐 𝐥𝐧(𝟐) + 𝟏 +

𝑮

𝟑
+
𝟏

𝟖
𝜻(𝟐) −

𝝅

𝟏𝟐
𝐥𝐧(𝟐) −

𝝅

𝟔
+
𝟏

𝟑
 

𝑰 =
𝑮

𝟑
+
𝟓

𝟖
𝜻(𝟐) −

𝟑

𝟒
𝜻(𝟑) −

𝝅

𝟏𝟐
𝐥𝐧(𝟐) −

𝝅

𝟔
− 𝟐 𝐥𝐧(𝟐) +

𝟒

𝟑
 

 

Solution 2 by Exodo Halcalias-Angola 
 

∫ (𝑳𝒊𝟑(−𝒙) + 𝒙
𝟐𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙))𝒅𝒙

𝟏

𝟎

 

𝑬 = ∫ 𝑳𝒊𝟑(−𝒙)𝒅𝒙
𝟏

𝟎

= (𝑳𝒊𝟑(−𝒙)∫𝒅𝒙)|
𝟏

𝟎
−∫ 𝑳𝒊𝟐(−𝒙)

𝟏

𝟎

𝒅𝒙

= 𝑳𝒊𝟑(−𝟏) − (𝑳𝒊𝟐(−𝒙)∫𝒅𝒙)|
𝟏

𝟎
− 

∫ 𝐥𝐧(𝟏 + 𝒙)𝒅𝒙 =
𝟏

𝟎

−
𝟑

𝟒
𝜻(𝟑) +

𝟏

𝟐
𝜻(𝟐) − 𝟐 𝐥𝐧(𝟐) + 𝟏 

𝑬 = −
𝟑

𝟒
𝜻(𝟑) +

𝟏

𝟐
𝜻(𝟐) − 𝟐 𝐥𝐧(𝟐) + 𝟏 

𝑯 = ∫ 𝒙𝟐𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙)𝒅𝒙
𝟏

𝟎

= (𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙)∫𝒅(
𝒙𝟑

𝟑
))|

𝟏

𝟎
−
𝟐

𝟑
∫
𝒙𝟑 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 =

𝟏

𝟎
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𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝟏)

𝟑
−
𝟐

𝟑
∫ 𝒙𝒕𝒂𝒏𝟑(𝒙)𝒅𝒙

𝝅
𝟒

𝟎

=
𝟏

𝟑
(
𝝅

𝟒
)
𝟐

−
𝟐

𝟑
(𝒙∫𝒅(

𝟏

𝟐𝒄𝒐𝒔𝟐(𝒙)
+ 𝐥𝐧(𝒄𝒐𝒔(𝒙))))|

𝝅
𝟒
𝟎
+ 

𝟏

𝟑
∫

𝒅𝒙

𝒄𝒐𝒔𝟐(𝒙)

𝝅
𝟒

𝟎

+
𝟐

𝟑
∫ 𝐥𝐧(𝒄𝒐𝒔(𝒙))𝒅𝒙

𝝅
𝟒

𝟎

 

{∴ ∫ 𝐥𝐧(𝒄𝒐𝒔(𝒛))
𝜽

𝟎

𝒅𝒛 =
𝟏

𝟐
𝑪𝒍𝟐(𝝅 − 𝟐𝜽) − 𝜽 𝐥𝐧(𝟐) ; 𝑪𝒍𝟐 (

𝝅

𝟐
) = 𝜷(𝟐) = 𝑮} 

=
𝟏

𝟖
𝜻(𝟐) −

𝟐

𝟑
(
𝝅

𝟒
−
𝝅

𝟖
𝐥𝐧(𝟐)) +

𝟏

𝟑
∫ 𝒅𝒕𝒂𝒏(𝒙) +

𝑮

𝟑
−
𝝅

𝟔
𝐥𝐧(𝟐)

𝝅
𝟒

𝟎

 

𝑯 =
𝑮

𝟑
+
𝟏

𝟖
𝜻(𝟐) −

𝝅

𝟏𝟐
𝐥𝐧(𝟐) −

𝝅

𝟔
+
𝟏

𝟑
 

𝑬 +𝑯 = −
𝟑

𝟒
𝜻(𝟑) +

𝟏

𝟐
𝜻(𝟐) − 𝟐 𝐥𝐧(𝟐) + 𝟏 +

𝑮

𝟑
+
𝟏

𝟖
𝜻(𝟐) −

𝝅

𝟏𝟐
𝐥𝐧(𝟐) −

𝝅

𝟔
+
𝟏

𝟑
 

∫ (𝑳𝒊𝟑(−𝒙) + 𝒙
𝟐𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙))𝒅𝒙

𝟏

𝟎

=
𝑮

𝟑
+
𝟓

𝟖
𝜻(𝟐) −

𝟑

𝟒
𝜻(𝟑) −

𝝅

𝟏𝟐
𝐥𝐧(𝟐) −

𝝅

𝟔
− 𝟐 𝐥𝐧(𝟐) +

𝟒

𝟑
 

 

Solution 3 by Quadri Faruk Temitope-Nigeria 
 

𝑰 = ∫ (𝑳𝒊𝟑(−𝒙) + 𝒙
𝟐𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙))𝒅𝒙

𝟏

𝟎

= ∫ 𝑳𝒊𝟑(−𝒙)𝒅𝒙
𝟏

𝟎

+∫ 𝒙𝟐𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙)𝒅𝒙
𝟏

𝟎

= 𝑨 +𝑩 

∗ 𝒘𝒐𝒓𝒌𝒊𝒏𝒈   𝒐𝒏  𝑨 

𝑨 = ∫ 𝑳𝒊𝟑(−𝒙)𝒅𝒙
𝟏

𝟎

   [𝒖 = 𝑳𝒊𝟑(−𝒙) ,
𝒅𝒖

𝒅𝒙
=
𝑳𝒊𝟐(−𝒙)

𝒙
 ;   𝒗 = 𝒙 , 𝒅𝒗 = 𝒅𝒙] 

𝑨 = 𝒙𝑳𝒊𝟑(−𝒙)|
𝟏

𝟎
−∫ 𝑳𝒊𝟐(−𝒙)

𝟏

𝟎

= −
𝟑

𝟒
𝜻(𝟑) − [𝒙𝑳𝒊𝟑(−𝒙)|

𝟏

𝟎
+∫

𝒙𝒍𝒏(𝟏 + 𝒙)

𝒙
𝒅𝒙]

𝟏

𝟎

 

𝑨 = −
𝟑

𝟒
𝜻(𝟑) − [−

𝟏

𝟐
𝜻(𝟐) + ∫ 𝐥𝐧(𝟏 + 𝒙)𝒅𝒙

𝟏

𝟎⏟          
𝒙+𝟏→ 𝒚

= −
𝟑

𝟒
𝜻(𝟑) − [−

𝟏

𝟐
𝜻(𝟐) + ∫ 𝐥𝐧(𝒚)𝒅𝒚]

𝟐

𝟏

 

𝑨 = −
𝟑

𝟒
𝜻(𝟑) +

𝟏

𝟐
𝜻(𝟐) − 𝟐 𝐥𝐧(𝟐) + 𝟏 

∗ 𝒘𝒐𝒓𝒌𝒊𝒏𝒈   𝒐𝒏  𝑩 

𝑩 = ∫ 𝒙𝟐𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙)𝒅𝒙
𝟏

𝟎

    [𝒙 = 𝐭𝐚𝐧(𝒚) ; 𝒅𝒙 = 𝒔𝒆𝒄𝟐(𝒚)]  [𝟎,
𝝅

𝟒
] 

𝑩 = ∫ 𝒕𝒂𝒏𝟐(𝒚)𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝐭𝐚𝐧(𝒚)).

𝝅
𝟒

𝟎

𝒔𝒆𝒄𝟐(𝒚)𝒅𝒚 = ∫ 𝒚𝟐𝒕𝒂𝒏𝟐(𝒚)

𝝅
𝟒

𝟎

𝒔𝒆𝒄𝟐(𝒚)𝒅𝒚 

𝑩 =
𝒚𝟐𝒕𝒂𝒏𝟑(𝒚)

𝟑
|

𝝅
𝟒
𝟎
−
𝟐

𝟑
∫ 𝒚𝒕𝒂𝒏𝟑(𝒚)𝒅𝒚 =

𝟏

𝟑
(
𝝅

𝟒
)
𝟐

−
𝟐

𝟑
∫ 𝒚𝒕𝒂𝒏𝟑(𝒚)𝒅𝒚

𝝅
𝟒

𝟎

𝝅
𝟒

𝟎

 

𝑩 =
𝝅𝟐

𝟒𝟖
−
𝟐

𝟑
∫ 𝒚𝒕𝒂𝒏𝟑(𝒚)𝒅𝒚

𝝅
𝟒

𝟎

= 
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=
𝝅𝟐

𝟒𝟖
−
𝟐

𝟑
[(
𝒔𝒆𝒄𝟐(𝒚)

𝟐
+ 𝐥𝐧(𝒄𝒐𝒔(𝒚)))𝒚|

𝝅
𝟒
𝟎
−
𝟏

𝟐
∫ 𝒔𝒆𝒄𝟐(𝒚)𝒅𝒚 −

𝝅
𝟒

𝟎

∫ 𝐥𝐧(𝒄𝒐𝒔(𝒚))𝒅𝒚]

𝝅
𝟒

𝟎

 

𝑩 =
𝝅𝟐

𝟒𝟖
−
𝟐

𝟑
[
𝝅

𝟒
(𝟏 −

𝐥𝐧(𝟐)

𝟐
) −

𝟏

𝟐
𝐭𝐚𝐧 (

𝝅

𝟒
)+ 𝐥𝐧 (𝟐)∫ 𝒅𝒚 +∑

(−𝟏)𝒏

𝒏
∫ 𝐜𝐨𝐬(𝟐𝒏𝒚)𝒅𝒚]

𝝅
𝟒

𝟎

∞

𝒏=𝟏

𝝅
𝟒

𝟎

 

𝑩 =
𝑮

𝟑
+
𝟏

𝟖
𝜻(𝟐) −

𝝅

𝟏𝟐
𝐥𝐧(𝟐) −

𝝅

𝟔
+
𝟏

𝟑
 

𝑨+ 𝑩 = −
𝟑

𝟒
𝜻(𝟑) +

𝟏

𝟐
𝜻(𝟐) − 𝟐 𝐥𝐧(𝟐) + 𝟏 +

𝑮

𝟑
+
𝟏

𝟖
𝜻(𝟐) −

𝝅

𝟏𝟐
𝐥𝐧(𝟐) −

𝝅

𝟔
+
𝟏

𝟑
 

𝑰 = ∫ (𝑳𝒊𝟑(−𝒙) + 𝒙
𝟐𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙))𝒅𝒙

𝟏

𝟎

=
𝑮

𝟑
+
𝟓

𝟖
𝜻(𝟐) −

𝟑

𝟒
𝜻(𝟑) −

𝝅

𝟏𝟐
𝐥𝐧(𝟐) −

𝝅

𝟔
− 𝟐 𝐥𝐧(𝟐) +

𝟒

𝟑
 

 
2518. Find: 

∫
𝒙𝟑𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙)(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙

∞

𝟏

 

Proposed by Shirvan Tahirov-Azerbaijan 
 

Solution 1 by Ankush Kumar Parcha-India 
 

𝑾𝒆  𝒉𝒂𝒗𝒆, ∫
𝒙𝟑𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙)(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙

∞

𝟏

 →⏞

𝒙→
𝟏
𝒙

∫
𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙)(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙

𝟏

𝟎

=
𝟏

𝟒
∫
𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙
𝒅𝒙 −

𝟏

𝟎

 

𝟏

𝟒
∫
𝒙𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎⏟          
𝒙𝟐→𝒙

+
𝟏

𝟒
∫
𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 −

𝟏

𝟐
∫

𝒙𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙𝟐)𝟐

𝟏

𝟎

𝒅𝒙
⏟          

𝑰.𝑩.𝑷

+
𝟏

𝟐
∫

𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙𝟐)𝟐

𝟏

𝟎

𝒅𝒙
⏟          

𝑰.𝑩.𝑷

𝟏

𝟎

=
𝟏

𝟒
∫
𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 +

𝟏

𝟎

 

𝟕

𝟑𝟐
∫
𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 − (

𝒍𝒏𝟐(𝒙)

𝟒
∫𝒅(

𝒙𝟐

𝟏 + 𝒙𝟐
))
𝟏

𝟎⏟                
=𝟎

𝟏

𝟎

+
𝟏

𝟐
∫
𝒙𝒍𝒏(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎⏟        
𝒙𝟐→𝒙

+ (
𝒍𝒏𝟐(𝒙)

𝟒
∫𝒅(

𝒙𝟐

𝟏 + 𝒙𝟐
+ 𝐚𝐫𝐜𝐭𝐚𝐧 (𝒙)))

𝟏

𝟎⏟                        
=𝟎

 

−
𝟏

𝟐
∫

𝐥𝐧(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 −

𝟏

𝟐
∫
𝐥𝐧(𝒙) 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)

𝒙

𝟏

𝟎

𝒅𝒙
⏟              

𝑰.𝑩.𝑷

=
𝟏

𝟎

𝟏

𝟒
∫
𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 +

𝟕

𝟑𝟐
∫
𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 −

𝟏

𝟐
∫

𝐥𝐧(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

+ 

𝟏

𝟖
∫
𝐥𝐧(𝒙)

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎

− (
𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)

𝟒
∫𝒅(𝒍𝒏𝟐(𝒙)))

𝟏

𝟎⏟                  
=𝟎

+
𝟏

𝟒
∫
𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 →⏞

|𝒙|<1 𝑥∈(𝟎,𝟏) 𝟏

𝟎

𝟏

𝟐
∑ (−𝟏)𝒏

𝒏∈𝑵𝟎

∫ 𝒙𝟐𝒏
𝟏

𝟎

𝒍𝒏𝟐(𝒙)𝒅𝒙 + 

𝟕

𝟑𝟐
∑ (−𝟏)𝒏−𝟏

𝒏∈𝑵𝟎

∫ 𝒙𝒏−𝟏𝒍𝒏𝟐(𝒙)𝒅𝒙 −
𝟏

𝟐

𝟏

𝟎

∑(−𝟏)𝒏

𝒏∈𝑵𝟎

∫ 𝒙𝟐𝒏
𝟏

𝟎

𝒍𝒏(𝒙)𝒅𝒙 +
𝟏

𝟖
∑ (−𝟏)𝒏−𝟏

𝒏∈𝑵𝟎

∫ 𝒙𝒏−𝟏𝐥𝐧 (𝒙)𝒅𝒙
𝟏

𝟎

 

(∴ ∫ 𝒕𝒎𝒍𝒏𝒏(𝒕)
𝟏

𝟎

𝒅𝒕 =
(−𝟏)𝒏. 𝒏!

(𝒎 + 𝟏)𝒏+𝟏
  𝒏 > −1 ⋀𝒎 ≠ −𝟏) 
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∫
𝒙𝟑𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙)(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙 = ∑

(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟑
𝒏∈𝑵𝟎⏟        

=𝜷(𝟑)

∞

𝟏

+
𝟕

𝟏𝟔
∑

(−𝟏)𝒏−𝟏

(𝒏)𝟑
𝒏∈𝑵𝟎⏟      

=𝜼(𝟑)

+
𝟏

𝟐
∑

(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟐
𝒏∈𝑵𝟎⏟        

=𝑮 (𝑪𝒂𝒕𝒂𝒍𝒂𝒏′𝒔 𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕)

−
𝟏

𝟖
∑
(−𝟏)𝒏−𝟏

(𝒏)𝟐
𝒏∈𝑵⏟      

=𝜻(𝟐)

 

∫
𝒙𝟑𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙)(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙 =

𝟐𝟏

𝟔𝟒
𝜻(𝟑) +

𝑮

𝟐
+ 𝜷(𝟑) −

𝜻(𝟐)

𝟏𝟔

∞

𝟏

 

 
Solution 2 by Exodo Halcalias-Angola 

∫
𝒙𝟑𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙)(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙

∞

𝟏

 

∫
𝒙𝟑𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙)(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙 =⏞

𝒙→
𝟏
𝒙∞

𝟏

∫
𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙)(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙

𝟏

𝟎

= 

∫ 𝒍𝒏𝟐(𝒙) (
𝟏 − 𝒙

𝟒(𝒙𝟐 + 𝟏)
+

𝟏 − 𝒙

𝟐(𝟏 + 𝒙𝟐)𝟐
+

𝟏

𝟒(𝒙 + 𝟏)
)

𝟏

𝟎

𝒅𝒙 =
𝟏

𝟒
∫
𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 −

𝟏

𝟒
∫
𝒙𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 +

𝟏

𝟎

𝟏

𝟎

 

∫
𝒍𝒏𝟐(𝒙)

𝟐(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙 −

𝟏

𝟐
∫

𝒙𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙 +

𝟏

𝟒
∫

𝒍𝒏𝟐(𝒙)

𝒙 + 𝟏

𝟏

𝟎

𝒅𝒙 =
𝟏

𝟒
∑(−𝟏)𝒌−𝟏∫ 𝒙𝟐𝒌−𝟐

𝟏

𝟎𝒌∈𝑵

𝟏

𝟎

𝟏

𝟎

𝒍𝒏𝟐(𝒙)𝒅𝒙

+ 
𝟕

𝟑𝟐
∑(−𝟏)𝒌−𝟏∫ 𝒙𝒌−𝟏𝒍𝒏𝟐(𝒙)𝒅𝒙 +

𝟏

𝟐
∑(−𝟏)𝒌−𝟏∫ 𝒙𝟐𝒌−𝟐

𝟏

𝟎𝒌∈𝑵

𝟏

𝟎𝒌∈𝑵

𝒍𝒏𝟐(𝒙)𝒅𝒙 − 

𝟏

𝟏𝟔
∑(−𝟏)𝒌−𝟏𝒌∫ 𝒙𝒌−𝟏𝒍𝒏𝟐(𝒙)𝒅𝒙

𝟏

𝟎𝒌∈𝑵

=
𝟏

𝟐
∑

(−𝟏)𝒌−𝟏

(𝟐𝒌 − 𝟏)𝟑
+
𝟕

𝟏𝟔
𝒌∈𝑵

∑
(−𝟏)𝒌−𝟏

(𝒌)𝟑
+

𝒌∈𝑵

 

𝟏

𝟐
∑(−𝟏)𝒌−𝟏(

𝟏

(𝟐𝒌 − 𝟏)𝟐
+

𝒌∈𝑵

𝟏

(𝟐𝒌 − 𝟏)𝟑
) −

𝟏

𝟖
∑
(−𝟏)𝒌−𝟏

(𝒌)𝟐
𝒌∈𝑵

 

{∴ ∑
(−𝟏)𝒏

(𝟐𝒌 + 𝟏)𝒛
= 𝜷(𝒛);   𝜷(𝟐) = 𝑮;   𝜷(𝟑) =

𝟑

𝟏𝟔
𝝅𝜻(𝟐)

𝒏∈𝑵

} 

=
𝟏

𝟐
.
𝟑

𝟏𝟔
𝝅𝜻(𝟐) +

𝟕

𝟏𝟔
.
𝜻(𝟑)

𝟒
+
𝟏

𝟐
(𝑮 +

𝟑

𝟏𝟔
𝝅𝜻(𝟐)) −

𝟏

𝟖
.
𝜻(𝟐)

𝟐
 

∫
𝒙𝟑𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙)(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙 =

𝟐𝟏

𝟔𝟒
𝜻(𝟑) +

𝑮

𝟐
+ 𝜷(𝟑) −

𝜻(𝟐)

𝟏𝟔

∞

𝟏

 

 

Solution 3 by Pham Duc Nam-Vietnam 
 

∗ 𝑨 = ∫
𝒍𝒏𝟐(𝒙)

𝟏 − 𝒙𝟐
𝒅𝒙 = ∑∫ 𝒙𝟐𝒏𝒍𝒏𝟐(𝒙)𝒅𝒙 = 𝟐∑

𝟏

(𝟐𝒏 + 𝟏)𝟑
=
𝟕

𝟒
𝜻(𝟑)

∞

𝒏=𝟎

𝟏

𝟎

∞

𝒏=𝟎

𝟏

𝟎

 

𝑩 = ∫
𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙)𝟐
𝒅𝒙 = −∑(−𝟏)𝒏

∞

𝒏=𝟏

𝒏∫ 𝒙𝒏−𝟏𝒍𝒏𝟐(𝒙)𝒅𝒙 = −𝟐∑
(−𝟏)𝒏

𝒏𝟐
=

∞

𝒏=𝟎

𝟏

𝟎

𝟏

𝟎

𝜻(𝟐) 
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𝒂 ≥ 𝟏 ∶ 𝑪 = ∫
𝒍𝒏𝟐(𝒙)

𝒂 + 𝒙𝟐
𝒅𝒙 =

𝟏

𝒂

𝟏

𝟎

∫
𝒍𝒏𝟐(𝒙)

𝟏 + (√
𝟏
𝒂𝒙)

𝟐
𝒅𝒙 =

𝟏

𝒂
∑(−

𝟏

𝒂
)
𝒏

∫ 𝒙𝟐𝒏
𝟏

𝟎

∞

𝒏=𝟎

𝟏

𝟎

𝒍𝒏𝟐(𝒙)𝒅𝒙 = 

=
𝟐

𝒂
∑(−

𝟏

𝒂
)
𝒏

𝟏

(𝟐𝒏 + 𝟏)𝟑
=
𝟏

𝟒𝒂
𝜱 (−

𝟏

𝒂
, 𝟑,
𝟏

𝟐
)

∞

𝒏=𝟎

 

𝒂 = 𝟏 ∶ 𝑪𝟏 = ∫
𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 =

𝟏

𝟎

𝟏

𝟒𝒂
𝜱(−

𝟏

𝒂
, 𝟑,
𝟏

𝟐
)   ∴  𝜱 (−𝟏, 𝒔,

𝟏

𝟐
) = 𝟐𝒔𝜷(𝒔)

→ ∫
𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 =

𝟏

𝟎

𝟐𝜷(𝟑) 

𝒅

𝒅𝒂
|
𝒂=𝟏

∫
𝒍𝒏𝟐(𝒙)

𝒂 + 𝒙𝟐
𝒅𝒙 = 𝑪𝟐 = −∫

𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙 =

𝒅

𝒅𝒂
|
𝒂=𝟏

𝟏

𝟒𝒂
𝜱 (−

𝟏

𝒂
, 𝟑,
𝟏

𝟐
) =

𝟏

𝟎

𝟏

𝟎

 

= −
𝟐𝜱(−

𝟏

𝒂
, 𝟐,
𝟏

𝟐
) + 𝜱 (−

𝟏

𝒂
, 𝟑,
𝟏

𝟐
)

𝟖𝒂𝟐
|

𝒂=𝟏

= −𝑮 − 𝜷(𝟑) → 𝑪𝟐 = 𝑮 + 𝜷(𝟑) 

𝑰 = ∫
𝒙𝟑𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙)(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙

∞

𝟏

 =⏞

𝒙→
𝟏
𝒙

∫
𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙)(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙

𝟏

𝟎

= ∫
𝒍𝒏𝟐(𝒙)

(𝟏 − 𝒙𝟐)(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙 −

𝟏

𝟎

∫
𝒙𝒍𝒏𝟐(𝒙)

(𝟏 − 𝒙𝟐)(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙

𝟏

𝟎

 

∗ 𝑬 = ∫
𝒍𝒏𝟐(𝒙)

(𝟏 − 𝒙𝟐)(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙

𝟏

𝟎

=⏞

𝒙→
𝟏

𝒙 𝟏

𝟖
∫

𝒍𝒏𝟐(𝒙)

(𝟏 − 𝒙)(𝟏 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙

=
𝟏

𝟏𝟔
∫ 𝒍𝒏𝟐(𝒙) (

𝟏

𝟏 − 𝒙𝟐
+

𝟏

(𝟏 + 𝒙)𝟐
) 𝒅𝒙 =

𝟏

𝟎

 

=
𝟏

𝟏𝟔
(𝑨+𝑩) =

𝟕

𝟔𝟒
𝜻(𝟑) +

𝟏

𝟏𝟔
𝜻(𝟐) 

∗ 𝑯 = ∫
𝒍𝒏𝟐(𝒙)

(𝟏 − 𝒙𝟐)(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙 =

𝟏

𝟒
∫

𝒍𝒏𝟐(𝒙)

𝟏 − 𝒙𝟐
𝒅𝒙

𝟏

𝟎⏟        
𝑨

+

𝟏

𝟎

𝟏

𝟒
∫

𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎⏟        
𝑪𝟏

+
𝟏

𝟐
∫

𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙

𝟏

𝟎⏟          
𝑪𝟐

= 

= 𝜷(𝟑) +
𝟕

𝟏𝟔
𝜻(𝟑) +

𝑮

𝟐
 

𝑰 = 𝑯− 𝑬 = 𝜷(𝟑) +
𝟕

𝟏𝟔
𝜻(𝟑) +

𝑮

𝟐
−
𝟕

𝟔𝟒
𝜻(𝟑) −

𝟏

𝟏𝟔
𝜻(𝟐) =

𝟐𝟏

𝟔𝟒
𝜻(𝟑) +

𝑮

𝟐
+ 𝜷(𝟑) −

𝜻(𝟐)

𝟏𝟔
 

∫
𝒙𝟑𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙)(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙 =

𝟐𝟏

𝟔𝟒
𝜻(𝟑) +

𝑮

𝟐
+ 𝜷(𝟑) −

𝜻(𝟐)

𝟏𝟔

∞

𝟏

 

 

2519. Find: 

∫
𝒙𝟐(𝟏 + √𝒙)𝒄𝒐𝒔𝟐(𝒙)

√𝟏 − 𝒙𝟐
𝒅𝒙

𝟏

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan 
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Solution by Exodo Halcalias-Angola 
 

𝑰 = ∫
𝒙𝟐(𝟏 + √𝒙)𝒄𝒐𝒔𝟐(𝒙)

√𝟏 − 𝒙𝟐
𝒅𝒙 = ∫

𝒙𝟐𝒄𝒐𝒔𝟐(𝒙)

√𝟏 − 𝒙𝟐
𝒅𝒙 + ∫

𝒙𝟐√𝒙𝒄𝒐𝒔𝟐(𝒙)

√𝟏 − 𝒙𝟐
𝒅𝒙 = 𝑬 +𝑯

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝑬 = ∫
𝒙𝟐𝒄𝒐𝒔𝟐(𝒙)

√𝟏 − 𝒙𝟐
𝒅𝒙 = ∫

𝒙𝟐

√𝟏 − 𝒙𝟐
(𝟏 +∑

(−𝟏)𝒌𝟐𝟐𝒌−𝟏𝒙𝟐𝒌

(𝟐𝒌)!
)𝒅𝒙 =

∞

𝒌=𝟏

𝟏

𝟎

𝟏

𝟎

 

= ∫
𝒙𝟐

√𝟏 − 𝒙𝟐
𝒅𝒙 +∑

(−𝟏)𝒌𝟐𝟐𝒌−𝟏

(𝟐𝒌)!
∫

𝒙𝟐𝒌+𝟐

√𝟏 − 𝒙𝟐
𝒅𝒙

𝟏

𝟎

=

∞

𝒌=𝟏

𝟏

𝟎

𝟏

𝟐
∫

𝒙
𝟑
𝟐
−𝟏

√𝟏− 𝒙
𝒅𝒙 +

𝟏

𝟎

 

=
𝟏

𝟐
∑
(−𝟏)𝒌𝟐𝟐𝒌−𝟏

(𝟐𝒌)!
∫
𝒙𝒌+

𝟑
𝟐
−𝟏

√𝟏 − 𝒙
𝒅𝒙

𝟏

𝟎

=
𝟏

𝟐
(𝜞 (

𝟏

𝟐
)

∞

𝒌=𝟏

𝜞(
𝟑

𝟐
))

+
𝟏

𝟐
∑
(−𝟏)𝒌𝟐𝟐𝒌−𝟏

(𝟐𝒌)!
(𝜞 (

𝟏

𝟐
)
𝜞 (𝒌 +

𝟑
𝟐)

𝜞(𝒌 + 𝟏)
) =

∞

𝒌=𝟏

 

=
𝟏

𝟒
𝜞𝟐 (

𝟏

𝟐
) +

√𝝅

𝟐
(−
√𝝅

𝟒
+
√𝝅

𝟒
∑
(−𝟏)𝒌−𝟏𝟐𝟐𝒌−𝟏(𝟐(𝟏)𝒌 − (𝟐)𝒌)

𝒌! (𝟏)𝒌(𝟐)𝒌
) =

∞

𝒌=𝟎

 

=
𝝅

𝟒
+
√𝝅

𝟐
(−

√𝝅

𝟒
+
√𝝅

𝟒
𝑱(𝟎)(𝟐) −

√𝝅

𝟐
𝑱(𝟏)(𝟐)) 

𝑬 = (
𝝅

𝟖
+
𝝅

𝟖
𝑱(𝟎)(𝟐) −

𝝅

𝟒
𝑱(𝟏)(𝟐)) 

𝑯 = ∫
𝒙𝟐√𝒙𝒄𝒐𝒔𝟐(𝒙)

√𝟏 − 𝒙𝟐
𝒅𝒙 = ∫

𝒙𝟐√𝒙

√𝟏 − 𝒙𝟐
𝒅𝒙(

𝟏

𝟎

𝟏

𝟎

𝟏 +∑
(−𝟏)𝒌𝟐𝟐𝒌−𝟏𝒙𝟐𝒌

(𝟐𝒌)!
)𝒅𝒙 =

∞

𝒌=𝟏

 

∫
𝒙𝟐√𝒙

√𝟏 − 𝒙𝟐
𝒅𝒙 +∑

(−𝟏)𝒌𝟐𝟐𝒌−𝟏

(𝟐𝒌)!
∫

𝒙𝟐𝒌+
𝟓
𝟐

√𝟏 − 𝒙𝟐
𝒅𝒙

𝟏

𝟎

=

∞

𝒌=𝟏

𝟏

𝟎

𝟏

𝟐
∫

𝒙
𝟕
𝟒
−𝟏

√𝟏 − 𝒙

𝟏

𝟎

𝒅𝒙 + 

𝟏

𝟐
∑
(−𝟏)𝒌𝟐𝟐𝒌−𝟏

(𝟐𝒌)!
∫
𝒙𝒌+

𝟕
𝟒
−𝟏

√𝟏 − 𝒙
𝒅𝒙

𝟏

𝟎

=
𝟏

𝟐
(
𝜞(
𝟏
𝟐
)𝜞 (

𝟕
𝟒
)

𝜞 (
𝟗
𝟒
)

) +

∞

𝒌=𝟏

𝟏

𝟐
∑
(−𝟏)𝒌𝟐𝟐𝒌−𝟏

(𝟐𝒌)!
(𝜞 (

𝟏

𝟐
)
𝜞(𝒌 +

𝟕
𝟒
)

𝜞(𝒌 +
𝟗
𝟒
)
) =

∞

𝒌=𝟏

 

=
√𝝅

𝟐
(
𝟏𝟐𝝅√𝟐

𝟓𝜞𝟐 (
𝟏
𝟒
)
) +

√𝝅

𝟐
(
𝟔𝜞 (

𝟑
𝟒
)  𝑭𝟐
𝟏 (

𝟕
𝟒 ;
𝟏
𝟐 ;
𝟗
𝟒 ;−𝟏

)    

𝟓𝜞 (
𝟏
𝟒
)

−
𝟔𝜞(

𝟑
𝟒
)

𝟓𝜞(
𝟏
𝟒
)
) = 

=
𝟑√𝝅

𝟓
(
𝜞𝟐 (

𝟏
𝟒
)

𝟐𝝅√𝟐
)

−𝟏

+
𝟑√𝝅

𝟓
(
𝜞𝟐 (

𝟏
𝟒
)

𝟐𝝅√𝟐
)

−𝟏

𝑭𝟐
𝟏 (

𝟕

𝟒
;
𝟏

𝟐
;
𝟗

𝟒
;−𝟏) −

𝟑√𝝅

𝟏𝟎
(
𝜞𝟐 (

𝟏
𝟒
)

𝟐𝝅√𝟐
)

−𝟏

 

𝑯 =
𝟑√𝝅

𝟏𝟎𝝕
(( 𝑭𝟐
𝟏 (

𝟕

𝟒
;
𝟏

𝟐
;
𝟗

𝟒
;−𝟏) + 𝟏)) 
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𝑰 = 𝑬 +𝑯 = (
𝝅

𝟖
+
𝝅

𝟖
𝑱(𝟎)(𝟐) −

𝝅

𝟒
𝑱(𝟏)(𝟐)) +

𝟑√𝝅

𝟏𝟎𝝕
(( 𝑭𝟐

𝟏 (
𝟕

𝟒
;
𝟏

𝟐
;
𝟗

𝟒
;−𝟏) + 𝟏)) 

𝑱(𝒂)(𝒙) → 𝑩𝒂𝒔𝒔𝒆𝒍  𝒇𝒖𝒏𝒄𝒕𝒊𝒐𝒏  𝒐𝒇  𝒇𝒊𝒓𝒔𝒕  𝒕𝒉𝒆  𝒌𝒊𝒏𝒅  

𝝕 → 𝑳𝒆𝒎𝒏𝒊𝒔𝒄𝒂𝒕𝒆  𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕 

2520. Find: 

Ω = 𝐥𝐢𝐦
𝒏→∞

(∑
𝝎𝒌
𝟐𝝎𝒌+𝟏

− 𝐥𝐧 (𝒏)) , 𝝎𝒏 = 𝐥𝐢𝐦
𝒙→
𝝅
𝟐

∏
𝟏− 𝒔𝒊𝒏𝒌(𝒙)

𝒄𝒐𝒔𝟐(𝒙)

𝒏

𝒌=𝟏

 

∞

𝒌=𝟏

 

Proposed by Daniel Sitaru-Romania 
Solution by Shirvan Tahirov-Azerbaijan 
 

𝝎𝒏 = 𝐥𝐢𝐦
𝒙→
𝝅
𝟐

∏
𝟏− 𝒔𝒊𝒏𝒌(𝒙)

𝒄𝒐𝒔𝟐(𝒙)

𝒏

𝒌=𝟏

= 𝐥𝐢𝐦
𝒙→
𝝅
𝟐

𝒏!
𝟏 − 𝒔𝒊𝒏𝒏(𝒙)

𝒄𝒐𝒔𝟐𝒏(𝒙)
= 𝐧! 𝐥𝐢𝐦

𝒙→
𝝅
𝟐

𝟏 − 𝒔𝒊𝒏𝒏(𝒙)

𝒄𝒐𝒔𝟐𝒏(𝒙)
=⏟

𝒌−>0

⏞

𝒙=𝒌+
𝝅
𝟐

 

= 𝐧! 𝐥𝐢𝐦
𝒌→𝟎

−𝟏 − 𝒄𝒐𝒔𝒏(𝒌)

𝒔𝒊𝒏𝟐𝒏(𝒌)
= 𝐧! 𝐥𝐢𝐦

𝒌→𝟎

𝟏 − 𝒄𝒐𝒔𝒏(𝒌)

𝒌𝟐𝒏. (
𝒔𝒊𝒏𝟐𝒏(𝒌)
𝒌𝟐𝒏

)
=⏞

𝐥𝐢𝐦
𝒙→𝟎

(
𝐬𝐢𝐧(𝒙)
𝒙

)

𝐧! 𝐥𝐢𝐦
𝒌→𝟎

𝟏 − 𝒄𝒐𝒔𝒏(𝒌)

𝒌𝟐𝒏. (
𝒔𝒊𝒏(𝒌)
𝒌

)
𝟐𝒏 = 

= 𝐧! 𝐥𝐢𝐦
𝒌→𝟎

(𝟏 − 𝟐𝒔𝒊𝒏𝟐 (
𝒌
𝟐
))

𝟐𝒏

− 𝟏

𝒌𝟐𝒏
=⏞

𝐥𝐢𝐦
𝒙→𝟎

(
𝐬𝐢𝐧(

𝒙
𝟐
)

𝒙
𝟐

)

𝐧! 𝐥𝐢𝐦
𝒌→𝟎

𝟐𝒏 − (−𝟏)𝒏(𝒌𝟐 − 𝟐)𝒏

𝟐𝒏. 𝒌𝟐𝒏
=
𝒏!

𝟐𝒏
 

Ω = 𝐥𝐢𝐦
𝒏→∞

(∑
𝝎𝒌

𝟐𝝎𝒌+𝟏
− 𝐥𝐧 (𝒏)) =  𝐥𝐢𝐦

𝒏→∞
(∑

𝒌!
𝟐𝒌

𝟐
(𝒌 + 𝟏)!
𝟐𝒌+𝟏

− 𝐥𝐧 (𝒏)) =  

∞

𝒌=𝟏

 

∞

𝒌=𝟏

 

𝐥𝐢𝐦
𝒏→∞

(∑
𝟐𝒌+𝟏. 𝒌!

𝟐𝒌+𝟏. (𝒌 + 𝟏)!
− 𝐥𝐧 (𝒏)) =  

∞

𝒌=𝟏

𝐥𝐢𝐦
𝒏→∞

(∑
𝒌!

(𝒌 + 𝟏)
− 𝐥𝐧 (𝒏)) = 𝜸 − 𝟏  

∞

𝒌=𝟏

 

 
2521. Find: 

𝛀 = 𝐥𝐢𝐦
𝒏→∞

(𝒏 ∫ 𝒙𝒏
𝟏

𝟎

𝐞𝐱𝐩(𝒙) 𝒅𝒙) 

Proposed by Daniel Sitaru – Romania  

Solution by Dimitris Kastriotis – Greece  

𝒏 ⋅ ∫ 𝒙𝒏𝒆𝒙
𝟏

𝟎

𝒅𝒙 = 𝒏 ⋅ ∫ 𝒙𝒏
𝟏

𝟎

∑
𝒙𝒌

𝒌!

∞

𝒌=𝟎

𝒅𝒙 = 𝒏 ⋅ ∫ ∑
𝒙𝒌+𝒏

𝒌!

∞

𝒌=𝟎

𝟏

𝟎

𝒅𝒙 = 
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= 𝒏 ⋅∑
𝟏

𝒌!

∞

𝒌=𝟎

∫ 𝒙𝒏+𝒌
𝟏

𝟎

𝒅𝒙 = 𝒏 ⋅∑(
𝟏

𝒌!
⋅

𝟏

𝒏 + 𝒌 + 𝟏
)

∞

𝒌=𝟎

= 

=∑(
𝟏

𝒌!
⋅

𝟏

𝟏 +
𝒌 + 𝟏
𝒏

)

∞

𝒌=𝟎

→
𝒏→∞

∑
𝟏

𝒌!

∞

𝒌=𝟎

= 𝒆 

2522. Find: 

𝛀 = 𝐥𝐢𝐦
𝒏→∞

(𝒏∫
𝒙𝒏 𝐞𝐱𝐩(𝒙𝟐)

𝟏 + 𝒙𝟐𝒏

𝟏

𝟎

𝒅𝒙) 

Proposed by Daniel Sitaru – Romania  

Solution 1 by Hikmat Mammadov-Azerbaijan 

𝛀 = 𝐥𝐢𝐦
𝒏→∞

(𝒏∫
𝒙𝒏 𝐞𝐱𝐩(𝒙𝟐)

𝟏 + 𝒙𝟐𝒏

𝟏

𝟎

𝒅𝒙) 

∫
𝒙𝒏 𝐞𝐱𝐩(𝒙𝟐)

𝟏 + 𝒙𝟐𝒏

𝟏

𝟎

𝒅𝒙 = ∫ 𝒙𝒏 𝐞𝐱𝐩(𝒙𝟐)
𝟏

𝟎

∑(−𝟏)𝒌𝒙𝟐𝒏𝒌
∞

𝒌

𝒅𝒙 =∑(−𝟏)𝒌
∞

𝒌=𝟎

∫ 𝐞𝐱𝐩(𝒙𝟐) 𝒙𝒏(𝟐𝒌+𝟏)𝒅𝒙
𝟏

𝟎

 

∫ 𝐞𝐱𝐩(𝒙𝟐) 𝒙𝒏(𝟐𝒏+𝟏)
𝟏

𝟎

𝒅𝒙 = 

=
𝐞𝐱𝐩(𝒙𝟐) 𝒙𝒏(𝟐𝒌+𝟏)+𝟏

𝒏(𝟐𝒌 + 𝟏) + 𝟏
|
𝟎

𝟏

−
𝟐

𝒏(𝟐𝒌 + 𝟏) + 𝟏
∫ 𝐞𝐱𝐩(𝒙𝟐) 𝒙𝒏(𝟐𝒌+𝟏)+𝟐
𝟏

𝟎

𝒅𝒙 

=
𝐞𝐱𝐩(𝟏)

𝒏(𝟐𝒌 + 𝟏) + 𝟏
−

𝟐

𝒏(𝟐𝒌 + 𝟏) + 𝟏
∫ 𝐞𝐱𝐩(𝒙𝟐) 𝒙𝒏(𝟐𝒌+𝟏)+𝟐
𝟏

𝟎

𝒅𝒙 

𝐥𝐢𝐦
𝒏→∞

𝒏∑(−𝟏)𝒌
∞

𝒌=𝟎

𝐞𝐱𝐩(𝟏)

𝒏(𝟐𝒌 + 𝟏) + 𝟏
= 𝐥𝐢𝐦
𝒏→∞

∑(−𝟏)𝒌
∞

𝒌=𝟎

𝐞𝐱𝐩(𝟏) ⋅ 𝒏

𝒏(𝟐𝒌 + 𝟏) + 𝟏
= 

=∑(−𝟏)𝒌
∞

𝒌=𝟎

𝐥𝐢𝐦
𝒏→∞

𝒏 ⋅ 𝐞𝐱𝐩(𝟏)

𝒏(𝟐𝒌 + 𝟏) + 𝟏
= 

=∑(−𝟏)𝒌
∞

𝒌=𝟎

𝐞𝐱𝐩(𝟏)

𝟐𝒌 + 𝟏
= 𝐞𝐱𝐩(𝟏)∑

(−𝟏)𝒌

𝟐𝒌 + 𝟏

∞

𝒌=𝟎

= 𝐞𝐱𝐩(𝟏)
𝝅

𝟒
= 𝒆

𝝅

𝟒
 

For another case: 𝐥𝐢𝐦
𝒏→∞

𝒏∑ (−𝟏)𝒌∞
𝒌=𝟎

𝟐

𝒏(𝟐𝒌+𝟏)+𝟏
∫ 𝐞𝐱𝐩(𝒙𝟐) 𝒙𝒏(𝟐𝒌+𝟏)+𝟐
𝟏𝟐

𝟎
𝒅𝒙 
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= ∑(−𝟏)𝒌
∞

𝒌=𝟎

𝐥𝐢𝐦
𝒏→∞

𝟐𝒏

𝒏(𝟐𝒌 + 𝟏) + 𝟏
⋅ 𝐥𝐢𝐦
𝒏→∞

𝐞𝐱𝐩(𝒙𝟐) 𝒙𝒎(𝟐𝒌×𝟏)+𝟐 = 𝟎 

So we get:  

∫
𝒙𝒏 𝐞𝐱𝐩(𝒙𝟐)

𝟏 + 𝒙𝟐𝒏

𝟏

𝟎

𝒅𝒙 = 𝒆
𝝅

𝟒
 

Solution 2 by Exodo Halcalias-Angola 

𝐥𝐢𝐦
𝒏→∞

(𝒏∫
𝒙𝒏 𝐞𝐱𝐩(𝒙𝟐)

𝟏 + 𝒙𝟐𝒏

𝟏

𝟎

𝒅𝒙) = 𝐥𝐢𝐦
𝐧→∞

(∑
𝟏

𝐤!

∞

𝐤=𝟎

∫
𝐲
𝟐𝐤
𝐧
+
𝟏
𝐧

𝟏 + 𝐲𝟐

𝟏

𝟎

𝐝𝐲) = 

= 𝐥𝐢𝐦
𝐧→∞

(∑
𝟏

𝐤!
𝐤∈ℕ

(∑(−𝟏)𝐣−𝟏

𝐣∈ℕ∗

∫ 𝐲𝟐𝐣−𝟐+
𝟐𝐤
𝐧
+
𝟏
𝐧

𝟏

𝟎

𝐝𝐲)) = 

= 𝐥𝐢𝐦
𝐧→∞

(∑
𝟏

𝐤!
𝐤∈ℕ

(∑
(−𝟏)𝐣−𝟏

𝟐𝐣 − 𝟏 +
𝟐𝐤
𝐧 +

𝟏
𝐧𝐣∈ℕ∗

)) =∑
𝟏

𝐤!
𝐤∈ℕ

(∑
(−𝟏)𝐣−𝟏

𝟐𝐣 − 𝟏
𝐣∈ℕ∗

) = 

= 𝐞∫
𝟏

𝟏 + 𝐲𝟐

𝟏

𝟎

𝐝𝐲 = 𝐞∫ 𝐝 𝐭𝐚𝐧−𝟏(𝐲)
𝟏

𝟎

=
𝛑𝐞

𝟒
 

∴ 𝐥𝐢𝐦
𝐧→∞

(𝐧∫
𝐱𝐧 𝐞𝐱𝐩(𝐱𝟐)

𝟏 + 𝐱𝟐𝐧

𝟏

𝟎

𝐝𝐱) =
𝛑𝐞

𝟒
 

2523. Find: 

𝛀 = 𝐥𝐢𝐦
𝒏→∞

(𝟐−𝒏 ⋅∏ √𝒌
𝒌+𝟏

𝒏

𝒌=𝟏

) 

Proposed by Daniel Sitaru – Romania  

Solution  by Adrian Popa – Romania  

∏ √𝒌
𝒌+𝟏

𝒏

𝒌=𝟏

= √𝟏 ⋅ √𝟐
𝟑
⋅ √𝟑
𝟒
⋅ … ⋅ √𝒏

𝒏+𝟏
= 

= √𝟏 ⋅ 𝟏 ⋅ √𝟏 ⋅ 𝟏 ⋅ 𝟐
𝟑

⋅ √𝟏 ⋅ 𝟏 ⋅ 𝟏 ⋅ 𝟑
𝟒

⋅ … ⋅ √𝟏 ⋅ 𝟏 ⋅ … ⋅ 𝟏⏟      
𝒏 𝒕𝒊𝒎𝒆𝒔

⋅ 𝒏𝒏+𝟏 <
𝑴𝑮≤𝑴𝑨
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<
𝟐

𝟐
⋅
𝟐 ⋅ 𝟐

𝟑
⋅
𝟐 ⋅ 𝟑

𝟒
⋅ … ⋅

𝟐 ⋅ 𝒏

𝒏 + 𝟏
⇒ 

⇒ 𝟐−𝒏∏ √𝒌
𝒌+𝟏

𝒏

𝒌=𝟏

<
𝟏

𝟐
⋅
𝟐

𝟑
⋅
𝟑

𝟒
⋅ … ⋅

𝒏

𝒏 + 𝟏
=

𝟏

𝒏 + 𝟏
→
𝒏→∞

𝟎 

⇒ 𝐥𝐢𝐦
𝒏→∞

𝟐−𝒏∏ √𝒌
𝒌+𝟏

= 𝟎 

2534. Find: 

𝛀 = 𝐥𝐢𝐦
𝒏→∞

(

 
 𝟏

(
𝒏(𝒏 + 𝟏)

𝟐
) !
⋅∏𝒌!

𝒏

𝒌=𝟏

⋅ (

𝒌(𝒌 + 𝟏)

𝟐
𝒌(𝒌 − 𝟏)

𝟐

)

)

 
 

 

Proposed by Daniel Sitaru – Romania  

Solution by Bui Hong Suc-Vietnam 

Let: 𝑺𝒏 = ∏ 𝒌!𝒏
𝒌=𝟏 (

𝒌(𝒌+𝟏)

𝟐
𝒌(𝒌−𝟏)

𝟐

) = ∏ 𝒌!𝒏
𝒌=𝟏

(
𝒌(𝒌+𝟏)

𝟐
)! 

(
𝒌(𝒌−𝟏)

𝟐
)!𝒌!

 

=∏
(
𝒌(𝒌+ 𝟏)

𝟐 ) !

(
𝒌(𝒌 − 𝟏)

𝟐 ) ! 

𝒏

𝒌=𝟏

=
(
𝟏 ⋅ 𝟐
𝟐 ) ! (

𝟐 ⋅ 𝟑
𝟐 ) ! (

𝟑 ⋅ 𝟒
𝟐 ) ! ⋅ … ⋅ (

(𝒏 − 𝟏)𝒏
𝟐 ) ! (

𝒏(𝒏 + 𝟏)
𝟐 ) !

(
𝟏 ⋅ 𝟎
𝟐 ) ! (

𝟐 ⋅ 𝟏
𝟐 ) ! (

𝟑 ⋅ 𝟐
𝟐 ) ! (

𝟒 ⋅ 𝟑
𝟐 ) ! ⋅ … ⋅ (

𝒏(𝒏 − 𝟏)
𝟐 ) !

 

= (
𝒏(𝒏 + 𝟏)

𝟐
) ! 

Then: 

𝛀 = 𝐥𝐢𝐦
𝒏→∞

(
𝟏

(
𝒏(𝒏 + 𝟏)

𝟐 ) !
𝑺𝒏) = 𝐥𝐢𝐦

𝒏→∞
(

𝟏

(
𝒏(𝒏 + 𝟏)

𝟐 ) !
⋅ (
𝒏(𝒏 + 𝟏)

𝟐
) !) = 𝐥𝐢𝐦

𝒏→∞
(𝟏) = 𝟏 

Therefore: 𝛀 = 𝟏 

2525. Find: 

∫ ∫
𝒍𝒏𝟐(√𝒙)𝒍𝒏𝟐(𝒙𝒚) 

(𝟏 + 𝒚𝟐)(𝟐 + 𝒙)𝟐
𝒅𝒙𝒅𝒚

𝟏

𝟎

∞

𝟏

 

Proposed by Shirvan Tahirov-Azerbaijan 
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Solution by Quadri Faruk Temitope-Nigeria 
 

𝑰 = ∫ ∫
𝒍𝒏𝟐(√𝒙)𝒍𝒏𝟐(𝒙𝒚) 

(𝟏 + 𝒚𝟐)(𝟐 + 𝒙)𝟐
𝒅𝒙𝒅𝒚

𝟏

𝟎

∞

𝟏

 

∗ 𝑩𝒖𝒕 ∶ 
𝒍𝒏𝟐(𝑨𝑩) = 𝒍𝒏𝟐(𝑨) + 𝟐 𝐥𝐧(𝑨) 𝐥𝐧(𝑩) + 𝒍𝒏𝟐(𝑩) 

𝑰 = ∫ ∫
𝒍𝒏𝟐(√𝒙)𝒍𝒏𝟐(𝒙) 

(𝟏 + 𝒚𝟐)(𝟐 + 𝒙)𝟐
𝒅𝒙𝒅𝒚 + 𝟐∫ ∫

𝒍𝒏𝟐(√𝒙)𝒍𝒏(𝒙)𝐥𝐧 (𝒚) 

(𝟏 + 𝒚𝟐)(𝟐 + 𝒙)𝟐
𝒅𝒙𝒅𝒚

𝟏

𝟎

∞

𝟏

𝟏

𝟎

∞

𝟏

+ 

∫ ∫
𝒍𝒏𝟐(√𝒙)𝒍𝒏𝟐(𝒚) 

(𝟏 + 𝒚𝟐)(𝟐 + 𝒙)𝟐
𝒅𝒙𝒅𝒚

𝟏

𝟎

∞

𝟏

=
𝟏

𝟒
∫ ∫

𝒍𝒏𝟒(𝒙) 

(𝟏 + 𝒚𝟐)(𝟐 + 𝒙)𝟐
𝒅𝒙𝒅𝒚

𝟏

𝟎

∞

𝟏

+
𝟐

𝟒
∫ ∫

𝒍𝒏𝟑(𝒙)𝒍𝒏(𝒚) 

(𝟏 + 𝒚𝟐)(𝟐 + 𝒙)𝟐
𝒅𝒙𝒅𝒚

𝟏

𝟎

∞

𝟏

+ 

𝟏

𝟒
∫ ∫

𝒍𝒏𝟐(𝒙)𝒍𝒏𝟐(𝒚) 

(𝟏 + 𝒚𝟐)(𝟐 + 𝒙)𝟐
𝒅𝒙𝒅𝒚

𝟏

𝟎

∞

𝟏

=
𝟏

𝟒
∫

𝒅𝒚

𝟏 + 𝒚𝟐

∞

𝟏

∫
𝒍𝒏𝟒(𝒙)

(𝟐 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙 +
𝟏

𝟐
∫

𝐥𝐧 (𝒚)

𝟏 + 𝒚𝟐
𝒅𝒚

∞

𝟏

∫
𝒍𝒏𝟑(𝒙)

(𝟐 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙 + 

+
𝟏

𝟒
∫

𝒍𝒏𝟐(𝒚)

𝟏 + 𝒚𝟐
𝒅𝒚

∞

𝟏

∫
𝒍𝒏𝟐(𝒙)

(𝟐 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙 

𝑩𝒚  𝒘𝒐𝒓𝒌𝒊𝒏𝒈  𝒂𝒕  𝒕𝒉𝒆  𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒍𝒔 

𝟏)∫
𝒅𝒚

𝟏 + 𝒚𝟐
= 𝐭𝐚𝐧 (𝒚)|

∞

𝟏
=
𝝅

𝟐
−
𝝅

𝟒
=
𝝅

𝟒

∞

𝟏

 

𝟐)∫
𝒍𝒏(𝒚)

𝟏 + 𝒚𝟐
𝒅𝒚

∞

𝟏

=⏞

𝒚→
𝟏
𝒚

∫
𝐥𝐧(

𝟏
𝒚
)

𝟏 + 𝒚𝟐

𝒚𝟐

𝟎

𝟏

−𝒅𝒚

𝒚𝟐
= −∫

𝐥𝐧(𝒚)

𝟏 + 𝒚𝟐
𝒅𝒚 = −∑(−𝟏)𝒏

∞

𝒏=𝟎

𝟏

𝟎

∫ 𝒚𝟐𝒏 𝐥𝐧(𝒚)
𝟏

𝟎

𝒅𝒚

= ∑
(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟐
= 𝑮

∞

𝒏=𝟎

 

𝟑)∫
𝒍𝒏𝟐(𝒚)

𝟏 + 𝒚𝟐
𝒅𝒚 =⏞

𝒚→
𝟏
𝒚∞

𝟏

∫
𝒍𝒏𝟐 (

𝟏
𝒚
)

𝟏 + 𝒚𝟐

𝒚𝟐

𝟎

𝟏

−𝒅𝒚

𝒚𝟐
= ∫

𝒍𝒏𝟐(𝒚)

𝟏 + 𝒚𝟐
𝒅𝒚

𝟏

𝟎

=∑(−𝟏)𝒏
∞

𝒏=𝟎

∫ 𝒚𝟐𝒏𝒍𝒏𝟐(𝒚)
𝟏

𝟎

𝒅𝒚

= 𝟐∑
(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟑
=
𝝅𝟑

𝟏𝟔

∞

𝒏=𝟎

 

𝟒) 𝑨 = ∫
𝒍𝒏𝟒(𝒙)

(𝟐 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙 =∑(
−𝟐

𝒏
)

∞

𝒏=𝟎

𝟐−𝟐−𝒏∫ 𝒙𝒏
𝟏

𝟎

𝒍𝒏𝟒(𝒙)𝒅𝒙 = ∑(
−𝟐

𝒏
)

∞

𝒏=𝟎

𝟐−𝟐−𝒏
𝒅

𝒅𝒏
∫ 𝒙𝒏
𝟏

𝟎

𝒅𝒙 = 

∑(
−𝟐

𝒏
)

∞

𝒏=𝟎

𝟏

𝟐𝟐+𝒏
.

𝟐𝟒

(𝒏 + 𝟏)𝟓
= 𝟐𝟒∑

(−𝟐
𝒏
)

𝟐𝟐+𝒏. (𝒏 + 𝟏)𝟓
= 𝟐𝟒 [−

𝟏

𝟐
𝑳𝒊𝟒 (−

𝟏

𝟐
)] = −𝟏𝟐

∞

𝒏=𝟎

𝑳𝒊𝟒 (−
𝟏

𝟐
) 

𝟓) 𝑩 = ∫
𝒍𝒏𝟑(𝒙)

(𝟐 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙 =∑(
−𝟐

𝒏
)

∞

𝒏=𝟎

𝟐−𝟐−𝒏∫ 𝒙𝒏
𝟏

𝟎

𝒍𝒏𝟑(𝒙)𝒅𝒙 = ∑(
−𝟐

𝒏
)

∞

𝒏=𝟎

𝟏

𝟐𝟐+𝒏
. ∫ 𝒙𝒏

𝟏

𝟎

𝒍𝒏𝟑(𝒙)𝒅𝒙 = 

∑(
−𝟐

𝒏
)

∞

𝒏=𝟎

𝟏

𝟐𝟐+𝒏
. [−

𝟔

(𝒏 + 𝟏)𝟒
] = −𝟔∑

(−𝟐
𝒏
)

𝟐𝟐+𝒏. (𝒏 + 𝟏)𝟒
= −𝟔 [−

𝟏

𝟐
𝑳𝒊𝟑 (−

𝟏

𝟐
)] = 𝟑𝑳𝒊𝟑 (−

𝟏

𝟐
)

∞

𝒏=𝟎

 



 
www.ssmrmh.ro 

40 RMM-CALCULUS MARATHON 2501-2600 

 

𝟔) 𝑪 = ∫
𝒍𝒏𝟐(𝒙)

(𝟐 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙 =∑(
−𝟐

𝒏
)

∞

𝒏=𝟎

𝟐−𝟐−𝒏∫ 𝒙𝒏
𝟏

𝟎

𝒍𝒏𝟐(𝒙)𝒅𝒙 = ∑(
−𝟐

𝒏
)

∞

𝒏=𝟎

𝟏

𝟐𝟐+𝒏
. ∫ 𝒙𝒏

𝟏

𝟎

𝒍𝒏𝟐(𝒙)𝒅𝒙 = 

∑(
−𝟐

𝒏
)

∞

𝒏=𝟎

𝟏

𝟐𝟐+𝒏
. [

𝟐

(𝒏 + 𝟏)𝟑
] = 𝟐∑

(−𝟐
𝒏
)

𝟐𝟐+𝒏. (𝒏 + 𝟏)𝟑
= 𝟐 [−

𝟏

𝟐
𝑳𝒊𝟐 (−

𝟏

𝟐
)] = −𝑳𝒊𝟐 (−

𝟏

𝟐
)

∞

𝒏=𝟎

 

𝑻𝒉𝒊𝒔 ∶ 

𝑰 =
𝟏

𝟒
∫

𝒅𝒚

𝟏 + 𝒚𝟐

∞

𝟏

∫
𝒍𝒏𝟒(𝒙)

(𝟐 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙 +
𝟏

𝟐
∫

𝐥𝐧 (𝒚)

𝟏 + 𝒚𝟐
𝒅𝒚

∞

𝟏

∫
𝒍𝒏𝟑(𝒙)

(𝟐 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙 +
𝟏

𝟒
∫

𝒍𝒏𝟐(𝒚)

𝟏 + 𝒚𝟐
𝒅𝒚

∞

𝟏

∫
𝒍𝒏𝟐(𝒙)

(𝟐 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙 = 

𝟏

𝟒
(
𝝅

𝟒
)(−𝟏𝟐𝑳𝒊𝟒 (−

𝟏

𝟐
))+

𝟏

𝟐
𝑮(𝟑𝑳𝒊𝟑 (−

𝟏

𝟐
)) +

𝟏

𝟒
(
𝝅𝟑

𝟏𝟔
)(−𝑳𝒊𝟐 (−

𝟏

𝟐
)) 

𝑰 = −
𝟑

𝟒
𝑳𝒊𝟒 (−

𝟏

𝟐
) +

𝟑

𝟐
𝑮𝑳𝒊𝟑 (−

𝟏

𝟐
) −

𝝅𝟑

𝟔𝟒
𝑳𝒊𝟐 (−

𝟏

𝟐
) 

 

∫ ∫
𝒍𝒏𝟐(√𝒙)𝒍𝒏𝟐(𝒙𝒚) 

(𝟏 + 𝒚𝟐)(𝟐 + 𝒙)𝟐
𝒅𝒙𝒅𝒚

𝟏

𝟎

∞

𝟏

=
𝟑

𝟐
𝑮𝑳𝒊𝟑 (−

𝟏

𝟐
) −

𝟑

𝟒
𝑳𝒊𝟒 (−

𝟏

𝟐
) −

𝝅𝟑

𝟔𝟒
𝑳𝒊𝟐 (−

𝟏

𝟐
) 

 

2526. Find: 

∬
𝒙𝒚𝒍𝒏(𝒚)𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝒙)

(√𝒚 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙𝒅𝒚

𝟏

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan 
 

Solution 1 by Quadri Faruk Temitope-Nigeria 
 

𝑰 = ∬
𝒙𝒚𝒍𝒏(𝒚)𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝒙)

(√𝒚 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙𝒅𝒚

𝟏

𝟎

= ∫
𝒚𝒍𝒏(𝒚)

√𝒚 + 𝟏
𝒅𝒚

𝟏

𝟎⏟        
𝑨

∫
𝒙𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝒙)

𝒙𝟐 + 𝟏
𝒅𝒙

𝟏

𝟎⏟            
𝑩

 

∗𝑾𝒐𝒓𝒌𝒊𝒏𝒈  𝒐𝒏  𝑨 

𝑨 = ∫
𝒚𝒍𝒏(𝒚)

√𝒚 + 𝟏
𝒅𝒚

𝟏

𝟎

= ∑(−𝟏)𝒏∫ 𝒚
𝒏
𝟐
+𝟏

𝟏

𝟎

∞

𝒏=𝟎

𝐥𝐧(𝒚)𝒅𝒚 = −𝟒∑
(−𝟏)𝒏

(𝒏 + 𝟒)𝟐

∞

𝒏=𝟎

= −𝟒 [
𝟑𝟏

𝟑𝟔
−
𝝅𝟐

𝟏𝟐
] = 

−
𝟑𝟏

𝟗
+
𝝅𝟐

𝟑
= −

𝟑𝟏

𝟗
+ 𝟐𝜻(𝟐) 

∗𝑾𝒐𝒓𝒌𝒊𝒏𝒈  𝒐𝒏  𝑩 

𝑩 = ∫
𝒙𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝒙)

𝒙𝟐 + 𝟏
𝒅𝒙

𝟏

𝟎

=⏟
𝒅𝒙=𝒔𝒆𝒄𝟐(𝒚)𝒅𝒚

⏞      
𝒙=𝐭𝐚𝐧 (𝒚)

∫
𝐭𝐚𝐧 (𝒚)𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝐭𝐚𝐧 (𝒚))

𝟏 + 𝒕𝒂𝒏𝟐(𝒚)
.

𝝅
𝟒

𝟎

𝒔𝒆𝒄𝟐(𝒚)𝒅𝒚 = 
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∫
𝒚𝟑𝐭𝐚𝐧 (𝒚)

𝒔𝒆𝒄𝟐(𝒚)
. 𝒔𝒆𝒄𝟐(𝒚)𝒅𝒚 = ∫ 𝒚𝟑𝐭𝐚𝐧 (𝒚) =⏞

𝑰.𝑩.𝑷
𝝅
𝟒

𝟎

𝝅
𝟒

𝟎

− 𝒚𝟑𝐥𝐧(𝒄𝒐𝒔(𝒚))|

𝝅
𝟒
𝟎

+ 𝟑∫ 𝒚𝟐 𝐥𝐧(𝒄𝒐𝒔(𝒚)) 𝒅𝒚 =

𝝅
𝟒

𝟎

 

𝝅𝟑

𝟏𝟐𝟖
𝐥𝐧(𝟐) + 𝟑∫ 𝒚𝟐 𝐥𝐧(𝒄𝒐𝒔(𝒚))𝒅𝒚

𝝅
𝟒

𝟎⏟              
𝑩𝟏

 

𝑩𝟏 = ∫ 𝒚𝟐 𝐥𝐧(𝒄𝒐𝒔(𝒚)) 𝒅𝒚

𝝅
𝟒

𝟎

   {𝐥𝐧(𝒄𝒐𝒔(𝒚)) = − 𝐥𝐧(𝟐) −∑
(−𝟏)𝒏 𝐜𝐨𝐬(𝟐𝒏𝒚)

𝒏

∞

𝒏=𝟏

} 

𝑩𝟏 = − 𝐥𝐧(𝟐)∫ 𝒚𝟐
𝝅
𝟒

𝟎

𝒅𝒚 −∑
(−𝟏)𝒏

𝒏
∫ 𝒚𝟐 𝐜𝐨𝐬(𝟐𝒏𝒚)𝒅𝒚 = −

𝟏

𝟑
(
𝝅

𝟒
)
𝟑

𝐥𝐧(𝟐) −

𝝅
𝟒

𝟎

∞

𝒏=𝟏

 

∑
(−𝟏)𝒏

𝒏

∞

𝒏=𝟏

[
𝝅𝟐

𝟑𝟐𝒏
𝐬𝐢𝐧 (

𝝅𝒏

𝟐
)−

𝐬𝐢𝐧 (
𝝅𝒏
𝟐 )

𝟒𝒏𝟑
+
𝝅

𝟖𝒏𝟐
𝐜𝐨𝐬 (

𝝅𝒏

𝟐
)] = −

𝝅𝟑

𝟏𝟗𝟐
𝐥𝐧(𝟐) +

𝝅𝟐

𝟑𝟐
𝑮 + 

𝟏

𝟖
𝒊𝑳𝒊𝟒(−𝒊) −

𝟏

𝟖
𝒊𝑳𝒊𝟒(𝒊) +

𝟑𝝅

𝟐𝟓𝟔
𝜻(𝟑)

=
𝝅𝟐

𝟑𝟐
𝑮 −

𝝅

𝟖
𝑳𝒊𝟑(−𝒊) −

𝟏

𝟒
𝒊𝑳𝒊𝟒(−𝒊) −

𝟏𝟖𝟕

𝟒𝟔𝟎𝟖𝟎
𝒊𝝅𝟒 −

𝝅𝟑

𝟏𝟗𝟐
𝐥𝐧(𝟐) 

∗ 𝑩𝒖𝒕   𝑳𝒊𝟒(𝒙)  + 𝑳𝒊𝟒(−𝒙) =
𝟏

𝟖
  𝑳𝒊𝟒(𝒙

𝟐) 

𝑩 =
𝝅𝟑

𝟏𝟐𝟖
𝐥𝐧(𝟐) + 𝟑𝑩𝟏

=
𝝅𝟑

𝟏𝟐𝟖
𝐥𝐧(𝟐) +

𝟑𝝅𝟐

𝟑𝟐
𝑮 −

𝟑

𝟖
𝝅𝑳𝒊𝟑(−𝒊) −

𝟑

𝟒
𝒊𝑳𝒊𝟒(−𝒊) −

𝟏𝟖𝟕

𝟏𝟓𝟑𝟔𝟎
𝒊𝝅𝟒 −

𝝅𝟑

𝟔𝟒
𝐥𝐧(𝟐) 

𝑩 = −
𝝅𝟑

𝟏𝟐𝟖
𝐥𝐧(𝟐) +

𝟑𝝅𝟐

𝟑𝟐
𝑮 −

𝟑

𝟖
𝝅𝑳𝒊𝟑(−𝒊) −

𝟑

𝟒
𝒊𝑳𝒊𝟒(−𝒊) −

𝟏𝟖𝟕

𝟏𝟓𝟑𝟔𝟎
𝒊𝝅𝟒 

𝑰 = 𝑨. 𝑩 

∬
𝒙𝒚𝒍𝒏(𝒚)𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝒙)

(√𝒚 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙𝒅𝒚

𝟏

𝟎

= [𝟐𝜻(𝟐) −
𝟑𝟏

𝟗
] [−

𝝅𝟑

𝟏𝟐𝟖
𝐥𝐧(𝟐) +

𝟑𝝅𝟐

𝟑𝟐
𝑮 −

𝟑

𝟖
𝝅𝑳𝒊𝟑(−𝒊) −

𝟑

𝟒
𝒊𝑳𝒊𝟒(−𝒊) −

𝟏𝟖𝟕

𝟏𝟓𝟑𝟔𝟎
𝒊𝝅𝟒] 

 
Solution 2 by Ankush Kumar Parcha-India 

𝑾𝒆  𝒉𝒂𝒗𝒆  ,  

 Ω = ∬
𝒙𝒚𝒍𝒏(𝒚)𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝒙)

(√𝒚 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙𝒅𝒚 =

𝟏

𝟎

∫
𝒚𝒍𝒏(𝒚)

√𝒚 + 𝟏
𝒅𝒚

𝟏

𝟎⏟        
𝑴

∫
𝒙𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝒙)

𝒙𝟐 + 𝟏
𝒅𝒙

𝟏

𝟎⏟            
𝑵

  (𝟏) 
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𝑴 = ∫
𝒚𝒍𝒏(𝒚)

√𝒚 + 𝟏
𝒅𝒚

𝟏

𝟎

→⏞
𝒚 → 𝒙𝟐 

𝟒∫
𝒙𝟑 𝐥𝐧(𝒙)

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎

= 𝟒∑(−𝟏)𝒏−𝟏

𝒏∈𝑵

∫ 𝒙𝒏+𝟐
𝟏

𝟎

𝐥𝐧(𝒙)𝒅𝒙
⏟          

𝑰.𝑩.𝑷

= 

−𝟒∑(−𝟏)𝒏−𝟏

𝒏∈𝑵

[(
𝐥𝐧(𝒙)

𝒏 + 𝟑
∫𝒅(𝒙𝒏+𝟑))

𝟏

𝟎⏟            
𝟎

−
𝟏

𝒏 + 𝟑
∫ 𝒙𝒏+𝟐𝒅𝒙] = −𝟒
𝟏

𝟎

∑
(−𝟏)𝒏−𝟏

(𝒏 + 𝟑)𝟐
𝒏∈𝑵

∫𝒅(𝒙𝒏+𝟑) =⏞
𝒏→𝒏−𝟑

 

−𝟒(𝟏 −
𝟏

𝟒
+
𝟏

𝟗
) + 𝟒∑

(−𝟏)𝒏−𝟏

𝒏𝟐
𝒏∈𝑵⏟        

=𝜼(𝟐)

= (
𝝅𝟐

𝟑
−
𝟑𝟏

𝟗
) 

𝑵 = ∫
𝒙𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝒙)

𝒙𝟐 + 𝟏
𝒅𝒙

𝟏

𝟎

=⏞
𝒙→𝐭𝐚𝐧(𝒙)

∫ 𝒙𝟑 𝐭𝐚𝐧(𝒙) =⏞
𝑰.𝑩.𝑷

𝝅
𝟒

𝟎

− (𝒙𝟑∫𝒅𝒍𝒏𝒄𝒐𝒔(𝒙))

𝝅
𝟒
𝟎

+ 𝟑∫ 𝒙𝟐𝒍𝒏𝒄𝒐𝒔(𝒙)𝒅𝒙

𝝅
𝟒

𝟎

 

(∴ ∑
(−𝟏)𝒌 𝐜𝐨𝐬(𝟐𝒌𝒙)

𝒌
= 𝐥𝐧(

𝒔𝒆𝒄(𝒙)

𝟐
)  |𝒙| <

𝝅

𝟐
) 

𝒌∈𝑵

 

𝑵 = ∫
𝒙𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝒙)

𝒙𝟐 + 𝟏
𝒅𝒙

𝟏

𝟎

=
𝝅𝟑

𝟏𝟐𝟖
𝐥𝐧(𝟐) +𝟑𝐥𝐧(𝟐)∫ 𝒙𝟐𝒅𝒙 − 𝟑

𝝅
𝟒

𝟎

∑
(−𝟏)𝒏

𝒏
𝒏∈𝑵

∫ 𝒙𝟐 𝐜𝐨𝐬(𝟐𝒏𝒙)

𝝅
𝟒

𝟎

𝒅𝒙
⏟            

𝑰.𝑩.𝑷

= 

𝝅𝟑

𝟏𝟐𝟖
− 𝒍𝒏(𝟐)∫ 𝒅(𝒙𝟑)

𝝅
𝟒

𝟎

− 𝟑∑
(−𝟏)𝒏

𝒏
𝒏∈𝑵

[
𝒙𝟐

𝟐𝒏
∫𝒅𝒔𝒊𝒏(𝟐𝒏𝒙))

𝝅
𝟒
𝟎
−
𝟏

𝒏
∫ 𝒙𝒔𝒊𝒏(𝟐𝒏𝒙)

𝝅
𝟒

𝟎⏟        
𝑰.𝑩.𝑷

]

=
𝝅𝟑

𝟏𝟐𝟖
𝒍𝒏(𝟐) − 

𝝅𝟑

𝟔𝟒
𝐥𝐧(𝟐) −

𝟑𝝅𝟐

𝟑𝟐
∑
(−𝟏)𝒏

𝒏𝟐
𝐬𝐢𝐧 (

𝝅𝒏

𝟐
) + 𝟑∑

(−𝟏)𝒏

𝒏𝟐
𝒏∈𝑵𝒏∈𝑵

[−
𝒙

𝟐𝒏
∫𝒅𝒄𝒐𝒔(𝟐𝒏𝒙))

𝝅
𝟒
𝟎

+
𝟏

𝟐𝒏
∫ 𝐜𝐨𝐬(𝟐𝒏𝒙)𝒅𝒙

𝝅
𝟒

𝟎

] = 

−
𝝅𝟑

𝟏𝟐𝟖
𝒍𝒏(𝟐) −

𝟑𝝅𝟐

𝟑𝟐
∑
(−𝟏)𝒏

𝒏𝟐
𝐬𝐢𝐧 (

𝝅𝒏

𝟐
)

𝒏∈𝑵⏟            
𝒏→𝟐𝒏+𝟏

−
𝟑𝝅

𝟖
∑
(−𝟏)𝒏

𝒏𝟑
𝐜𝐨𝐬 (

𝝅𝒏

𝟐
)

𝒏∈𝑵⏟            
𝒏→𝟐𝒏

+
𝟑

𝟒
∑
(−𝟏)𝒏

𝒏𝟒
∫𝒅𝒔𝒊𝒏(𝟐𝒏𝒙)

𝒏∈𝑵⏟                
𝒏→𝟐𝒏+𝟏
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𝑵 =
𝟑𝝅𝟐

𝟑𝟐
𝑮 −

𝝅𝟑

𝟏𝟐𝟖
𝐥𝐧(𝟐) −

𝟑

𝟒
𝜷(𝟒) +

𝟗

𝟐𝟓𝟔
𝝅𝜻(𝟑) 

Ω = 𝑴.𝑵 

Ω =∬
𝒙𝒚𝒍𝒏(𝒚)𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝒙)

(√𝒚 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙𝒅𝒚

𝟏

𝟎

= [𝟐𝜻(𝟐) −
𝟑𝟏

𝟗
] [
𝟑𝝅𝟐

𝟑𝟐
𝑮 −

𝝅𝟑

𝟏𝟐𝟖
𝐥𝐧(𝟐) −

𝟑

𝟒
𝜷(𝟒) +

𝟗

𝟐𝟓𝟔
𝝅𝜻(𝟑)] 

 
Solution 3 by Exodo Halcalias-Angola 

∬
𝒙𝒚𝒍𝒏(𝒚)𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝒙)

(√𝒚 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙𝒅𝒚 

𝟏

𝟎

 

𝑰 = (∫
𝒚𝒍𝒏(𝒚)

√𝒚 + 𝟏
𝒅𝒚

𝟏

𝟎

)(∫
𝒙𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝒙)

𝒙𝟐 + 𝟏
𝒅𝒙

𝟏

𝟎

) 

𝑬 = ∫
𝒚𝒍𝒏(𝒚)

√𝒚 + 𝟏
𝒅𝒚

𝟏

𝟎

= 𝟒∫
𝒚𝟑 𝐥𝐧(𝒚)

𝒚 + 𝟏
𝒅𝒚 = 𝟒∫ 𝒚𝟐 𝐥𝐧(𝒚)𝒅𝒚

𝟏

𝟎

𝟏

𝟎

− 𝟒∫ 𝒚𝒍𝒏(𝒚)𝒅𝒚 
𝟏

𝟎

+ 

𝟒∫ 𝐥𝐧(𝒚)𝒅𝒚 − 𝟒∫
𝐥𝐧(𝒚)

𝒚 + 𝟏
𝒅𝒚 = −𝟒(

𝟏

𝟑𝟐
−
𝟏

𝟐𝟐
+ 𝟏) − 𝟒(𝐥𝐧(𝒚)∫𝒅𝒍𝒏(𝒚 + 𝟏))|

𝟏

𝟎
+

𝟏

𝟎

𝟏

𝟎

 

𝟒∫
𝐥𝐧 (𝒚 + 𝟏)

𝒚
𝒅𝒚 = −

𝟑𝟏

𝟗
− 𝟒∫ 𝒅𝑳𝒊𝟐(−𝒙)

𝟏

𝟎

= −
𝟑𝟏

𝟗
+ 𝟒.

𝝅𝟐

𝟏𝟐
= 𝟐𝜻(𝟐) −

𝟑𝟏

𝟗

𝟏

𝟎

 

𝑯 = ∫
𝒙𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝒙)

𝒙𝟐 + 𝟏
𝒅𝒙

𝟏

𝟎

= ∫ 𝒙𝟑 𝐭𝐚𝐧(𝒙)𝒅𝒙 = (𝒙𝟑∫𝒅𝒍𝒏(𝐬𝐞𝐜(𝒙))|

𝝅
𝟒
𝟎

𝝅
𝟒

𝟎

+ 𝟑∫ 𝒙𝟐 𝐥𝐧(𝒄𝒐𝒔(𝒙))𝒅𝒙 =

𝝅
𝟒

𝟎

 

(
𝝅

𝟒
)
𝟑

𝐥𝐧 (𝒔𝒆𝒄 (
𝝅

𝟒
)) + 𝟑∫ 𝒙𝟐

𝝅
𝟒

𝟎

(𝐥𝐧 (
𝟏

𝟐
) +∑

(−𝟏)𝒌−𝟏 𝐜𝐨𝐬(𝟐𝒌𝒙)

𝒌
𝒅𝒙

𝒌∈𝑵

)

=
𝝅𝟑

𝟏𝟐𝟖
𝐥𝐧(𝟐) − (

𝝅

𝟒
)
𝟑

𝐥𝐧(𝟐) + 

𝟑∑
(−𝟏)𝒌−𝟏

𝒌
∫ 𝒙𝟐 𝐜𝐨𝐬(𝟐𝒌𝒙)𝒅𝒙

𝝅
𝟒

𝟎𝒌∈𝑵

=
𝝅𝟑

𝟏𝟐𝟖
𝐥𝐧 (

𝟏

𝟐
) + 𝟑∑

(−𝟏)𝒌−𝟏

𝒌
𝒌∈𝑵

(
𝝅𝟐

𝟑𝟐𝒌
−
𝐬𝐢𝐧 (

𝝅𝒌
𝟐 )

𝟒𝒌𝟑
+
𝝅𝐜𝐨𝐬 (

𝝅𝒌
𝟐 )

𝟒𝒌𝟐
) = 
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𝝅𝟑

𝟏𝟐𝟖
𝐥𝐧 (

𝟏

𝟐
) +

𝟑𝝅𝟐

𝟑𝟐
∑
(−𝟏)𝒌−𝟏

𝒌𝟐
𝒌∈𝑵

−
𝟑

𝟒
∑
(−𝟏)𝒌−𝟏 𝐬𝐢𝐧 (

𝝅𝒌
𝟐 )

𝒌𝟒
𝒌∈𝑵

+
𝟑𝝅

𝟖
∑
(−𝟏)𝒌−𝟏𝐜𝐨𝐬

𝒌𝟑
𝒌∈𝑵

=
𝝅𝟑

𝟏𝟐𝟖
𝐥𝐧 (

𝟏

𝟐
) + 

𝟑𝝅𝟐

𝟑𝟐
.
𝟏

𝟐
∑

𝟏

𝒌𝟐
𝒌∈𝑵

−
𝟑

𝟒
∑

(−𝟏)𝒌−𝟏

(𝟐𝒌 − 𝟏)𝟒
𝒌∈𝑵

+
𝟑𝝅

𝟖
∑
(−𝟏)𝒌−𝟏

(𝟐𝒌)𝟑
𝒌∈𝑵

= 

𝟑

𝟔𝟒
𝝅𝜻(𝟐) 𝐥𝐧 (

𝟏

𝟐
) +

𝟑𝝅𝟐

𝟔𝟒
.
𝝅𝟐

𝟔
−
𝟑

𝟒
𝜷(𝟒) +

𝟗

𝟐𝟓𝟔
𝝅𝜻(𝟐) 

(∴ 𝜷(𝒖) =
(−𝟏)𝒖𝟐𝟏−𝟐𝒖

(𝒖 − 𝟏)! 
𝝍(𝒖−𝟏) (

𝟏

𝟒
) + (

𝟏

𝟐𝒖
− 𝟏)𝜻(𝒖) , 𝒖 ∈ 𝒁+) 

𝟑

𝟔𝟒
𝝅𝜻(𝟐) 𝐥𝐧 (

𝟏

𝟐
) +

𝜻(𝟒)

𝟖
−
𝟑

𝟒
(
𝟏

𝟕𝟔𝟖
𝝍(𝟑) (

𝟏

𝟒
) −

𝟏𝟓𝜻(𝟒)

𝟏𝟔
) +

𝟗

𝟏𝟐𝟖
𝝅𝜻(𝟑) 

𝑯 =
𝟑

𝟔𝟒
𝝅𝜻(𝟐) 𝐥𝐧 (

𝟏

𝟐
) +

𝟓𝟑𝜻(𝟒)

𝟖
−

𝟏

𝟏𝟎𝟐𝟒
𝝍(𝟑) (

𝟏

𝟒
) +

𝟗

𝟏𝟐𝟖
𝝅𝜻(𝟑) 

𝑰 = ∬
𝒙𝒚𝒍𝒏(𝒚)𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝒙)

(√𝒚 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙𝒅𝒚 = 

𝟏

𝟎

𝑬.𝑯 

𝑰 = (𝟐𝜻(𝟐) −
𝟑𝟏

𝟗
)(
𝟑

𝟔𝟒
𝝅𝜻(𝟐) 𝐥𝐧 (

𝟏

𝟐
) +

𝟓𝟑𝜻(𝟒)

𝟖
−

𝟏

𝟏𝟎𝟐𝟒
𝝍(𝟑) (

𝟏

𝟒
) +

𝟗

𝟏𝟐𝟖
𝝅𝜻(𝟑)) 

 
Solution 4 by Cosghun Memmedov-Azerbaijan 

Ω =∬
𝒙𝒚𝒍𝒏(𝒚)𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝒙)

(√𝒚 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙𝒅𝒚 

𝟏

𝟎

 

∬
𝒙𝒚𝒍𝒏(𝒚)𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝒙)

(√𝒚 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙𝒅𝒚 

𝟏

𝟎

= (∫
𝒚𝒍𝒏(𝒚)

√𝒚 + 𝟏
𝒅𝒚

𝟏

𝟎

) . (∫
𝒙𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝒙)

𝒙𝟐 + 𝟏
𝒅𝒙

𝟏

𝟎

) = 𝜳.𝜱 

𝜳 = ∫
𝒚𝒍𝒏(𝒚)

√𝒚 + 𝟏
𝒅𝒚

𝟏

𝟎

=⏞

√𝒚→𝒚

𝟒∫
𝒚𝟑 𝐥𝐧(𝒚)

𝒚 + 𝟏

𝟏

𝟎

𝒅𝒚 = 𝟒∑(−𝟏)𝒏
∞

𝒏=𝟎

∫ 𝒚𝒏+𝟑 𝐥𝐧(𝒚)𝒅𝒚
𝟏

𝟎

= 

𝟒∑
(−𝟏)𝒏

(𝒏 + 𝟒)𝟐
= −

𝟑𝟏

𝟗
+ 𝟒.

𝝅𝟐

𝟏𝟐
= 𝟐𝜻(𝟐) −

𝟑𝟏

𝟗

∞

𝒏=𝟎

 

𝜱 = ∫
𝒙𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝒙)

𝒙𝟐 + 𝟏
𝒅𝒙

𝟏

𝟎

=⏞
𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)→𝒙

∫ 𝒙𝟑 𝐭𝐚𝐧(𝒙) 𝒅𝒙

𝝅
𝟒

𝟎

=⏞
𝑰.𝑩.𝑷

−
𝝅𝟑

𝟔𝟒
𝐥𝐧 (

𝟏

√𝟐
) + 𝟑∫ 𝒙𝟐 𝐥𝐧(𝒄𝒐𝒔(𝒙))𝒅𝒙

𝝅
𝟒

𝟎⏟              
𝝃

=
𝝅𝟑

𝟏𝟐𝟖
𝐥𝐧(𝟐) + 𝟑𝝃 

𝝃 = ∫ 𝒙𝟐 𝐥𝐧(𝒄𝒐𝒔(𝒙)) 𝒅𝒙

𝝅
𝟒

𝟎

= −𝒍𝒏(𝟐)∫ 𝒙𝟐𝒅𝒙

𝝅
𝟒

𝟎

−∑
(−𝟏)𝒏

𝒏

∞

𝒏=𝟏

∫ 𝒙𝟐 𝐜𝐨𝐬(𝟐𝒏𝒙)𝒅𝒙

𝝅
𝟒

𝟎

= −
𝝅𝟑

𝟏𝟗𝟐
𝐥𝐧(𝟐) − 
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∑
(−𝟏)𝒏

𝟐𝒏𝟐

∞

𝒏=𝟏

∫ 𝒙𝟐𝒅(𝐬𝐢𝐧(𝟐𝒏𝒙)) =⏞
𝑰.𝑩.𝑷

−
𝝅𝟑

𝟏𝟗𝟐
𝐥𝐧(𝟐)

𝝅
𝟒

𝟎

−
𝝅𝟐

𝟑𝟐
∑

(−𝟏)𝒏 𝐬𝐢𝐧 (
𝝅𝒏
𝟐
)

𝒏𝟐

∞

𝒏=𝟏

+ 

∑
(−𝟏)𝒏

𝒏𝟐

∞

𝒏=𝟏

∫ 𝒙𝒔𝒊𝒏(𝟐𝒏𝒙)𝒅𝒙

𝝅
𝟒

𝟎

= −
𝝅𝟑

𝟏𝟗𝟐
𝐥𝐧(𝟐) +

𝝅𝟐

𝟑𝟐
𝑮 −∑

(−𝟏)𝒏

𝟐𝒏𝟑

∞

𝒏=𝟏

∫ 𝒙𝒅(𝐜𝐨𝐬(𝟐𝒏𝒙)) =

𝝅
𝟒

𝟎

 

−
𝝅𝟑

𝟏𝟗𝟐
𝐥𝐧(𝟐) +

𝝅𝟐

𝟑𝟐
𝑮 −

𝝅

𝟖
∑
(−𝟏)𝒏 𝐜𝐨𝐬 (

𝝅𝒏
𝟐 )

𝒏𝟑

∞

𝒏=𝟏

+∑
(−𝟏)𝒏

𝟐𝒏𝟑

∞

𝒏=𝟏

∫ 𝐜𝐨𝐬(𝟐𝒏𝒙)𝒅𝒙 =

𝝅
𝟒

𝟎

−
𝝅𝟑

𝟏𝟗𝟐
𝐥𝐧(𝟐) +

𝝅𝟐

𝟑𝟐
𝑮 + 

𝟏

𝟔𝟒
∑
(−𝟏)𝒏−𝟏

𝒏𝟑

∞

𝒏=𝟏

+∑
(−𝟏)𝒏 𝐬𝐢𝐧 (

𝝅𝒏
𝟐 )

𝟒𝒏𝟒

∞

𝒏=𝟏

= −
𝝅𝟑

𝟏𝟗𝟐
𝐥𝐧(𝟐) +

𝝅𝟐

𝟑𝟐
𝑮 +

𝟑

𝟐𝟓𝟔
𝜻(𝟑) −

𝟏

𝟒
𝜷(𝟒) 

𝝃 = −
𝝅𝟑

𝟏𝟗𝟐
𝐥𝐧(𝟐) +

𝝅𝟐

𝟑𝟐
𝑮 +

𝟑

𝟐𝟓𝟔
𝜻(𝟑) −

𝟏

𝟒
(
𝝍(𝟑) (

𝟏
𝟒)

𝟕𝟔𝟖
−
𝝅𝟒

𝟗𝟔
) 

𝜱 =
𝝅𝟑

𝟏𝟐𝟖
𝐥𝐧(𝟐) + 𝟑𝝃 =

𝝅𝟑

𝟏𝟐𝟖
𝐥𝐧(𝟐) +

𝟗

𝟐𝟓𝟔
𝝅𝜻(𝟑) +

𝝅𝟒

𝟏𝟐𝟖
+
𝟑𝝅𝟐

𝟑𝟐
𝑮 −

𝝍(𝟑) (
𝟏
𝟒)

𝟏𝟎𝟐𝟒
 

Ω = 𝜳.𝜱 = (𝟐𝜻(𝟐) −
𝟑𝟏

𝟗
)(
𝟑

𝟔𝟒
𝝅𝜻(𝟐) 𝐥𝐧 (

𝟏

𝟐
) +

𝟓𝟑𝜻(𝟒)

𝟖
−

𝟏

𝟏𝟎𝟐𝟒
𝝍(𝟑) (

𝟏

𝟒
) +

𝟗

𝟏𝟐𝟖
𝝅𝜻(𝟑)) 

 
2527. Find: 

𝛀 = ∫
(𝟏 + √𝒙)

𝟐
𝒔𝒊𝒏𝟐(𝒙)

𝒙
𝒅𝒙

𝝅
𝟐

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution 1 by Bui Hong Suc-Vietnam 
 

Ω = ∫
(𝟏 + √𝒙)

𝟐
𝒔𝒊𝒏𝟐(𝒙)

𝒙
𝒅𝒙

𝝅
𝟐

𝟎

=
𝟏

𝟐
∫
(𝟏 + 𝟐√𝒙 + 𝒙)(𝟏 − 𝐜𝐨𝐬(𝟐𝒙))

𝒙
𝒅𝒙 =

𝝅
𝟐

𝟎

 

𝟏

𝟐
(∫

𝟏 − 𝐜𝐨𝐬(𝟐𝒙)

𝒙
𝒅𝒙 + 𝟐∫

𝟏 − 𝐜𝐨𝐬(𝟐𝒙)

√𝒙
𝒅𝒙 + ∫ (𝟏 − 𝐜𝐨𝐬(𝟐𝒙))𝒅𝒙

𝝅
𝟐

𝟎

𝝅
𝟐

𝟎

𝝅
𝟐

𝟎

) = 

𝟏

𝟐
(∫

𝟏 − 𝐜𝐨𝐬(𝟐𝒙)

𝟐𝒙
𝒅(𝟐𝒙) + 𝟐∫

𝟏 − 𝐜𝐨𝐬(𝟐𝒙)

√𝒙
𝒅𝒙 +∫ (𝟏 − 𝐜𝐨𝐬(𝟐𝒙))𝒅𝒙

𝝅
𝟐

𝟎

𝝅
𝟐

𝟎

𝝅
𝟐

𝟎

) = 

−
𝟏

𝟐

(

 ∫
𝐜𝐨𝐬(𝒙) − 𝟏

𝒙
𝒅𝒙 + 𝟒√𝒙|

𝝅
𝟐
𝟎
− 𝟐√𝟐∫ 𝐜𝐨𝐬(𝟐𝒙)𝒅(√𝟐𝒙)

𝝅
𝟐

𝟎⏟            
√𝟐𝒙→𝒙

𝝅
𝟐

𝟎

+ (𝒙−
𝐬𝐢𝐧(𝟐𝒙)

𝟐
)|

𝝅
𝟐
𝟎
)

 = 
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𝟏

𝟐
(𝜸 + 𝐥𝐧(𝝅) − 𝑪𝒊(𝝅) + 𝟐√𝟐𝝅 − 𝟐√𝟐∫ 𝐜𝐨𝐬(𝒙𝟐) 𝒅𝒙 +

√𝝅

𝟎

𝝅

𝟐
) = 

=
𝟏

𝟐
(𝜸 + 𝐥𝐧(𝝅) − 𝑪𝒊(𝝅) + 𝟐√𝟐𝝅 − 𝟐√𝟐𝑪(√𝝅) + (

𝝅

𝟐
)) 

 

Solution 2 by Shobhit Jain-India 

𝑰 = ∫
(𝟏 + √𝒙)

𝟐
𝒔𝒊𝒏𝟐(𝒙)

𝒙
𝒅𝒙

𝝅
𝟐

𝟎

 

𝑰 = ∫
(𝟏 + √𝒙)

𝟐
𝒔𝒊𝒏𝟐(𝒙)

𝒙
𝒅𝒙

𝝅
𝟐

𝟎

=
𝟏

𝟐
∫ (𝟏 + 𝒙 + 𝟐√𝒙)

𝝅
𝟐

𝟎

(
𝟏 − 𝐜𝐨𝐬(𝟐𝒙) 

𝟐𝒙
)𝒅𝒙 =⏞

𝒙→
𝒙
𝟐

 

∫ (𝟏+
𝒙

𝟐
+ √𝟐𝒙) (

𝟏 − 𝐜𝐨𝐬(𝒙) 

𝒙
)𝒅𝒙 =

𝝅

𝟎

𝟏

𝟐
∫ (

𝟏 − 𝐜𝐨𝐬(𝒙) 

𝒙
)𝒅𝒙 +

𝝅

𝟎

 

𝟏

𝟒
∫ (−𝐜𝐨𝐬(𝒙))𝒅𝒙 +
𝝅

𝟎

𝟏

√𝟐
∫ (

𝟏 − 𝐜𝐨𝐬(𝒙)

√𝒙
)𝒅𝒙

𝝅

𝟎

 

𝑰 =
𝟏

𝟐
(𝜸 + 𝐥𝐧(𝝅) − 𝑪𝒊(𝝅)) +

𝝅

𝟒
+
𝟏

√𝟐
∫ (

𝟏 − 𝐜𝐨𝐬(𝒙)

√𝒙
)

𝝅

𝟎

𝒅𝒙 

𝑰 =
𝟏

𝟐
(𝜸 + 𝐥𝐧(𝝅) − 𝑪𝒊(𝝅)) +

𝝅

𝟒
+ √𝟐𝝅 −

𝟏

√𝟐
∫ (

𝐜𝐨𝐬(𝒙)

√𝒙
)𝒅𝒙

𝝅

𝟎

 

𝑰 =
𝟏

𝟐
(𝜸 + 𝐥𝐧(𝝅) − 𝑪𝒊(𝝅)) +

𝝅

𝟒
+ √𝟐𝝅 −

√𝝅

𝟐
∫ 𝑱

−
𝟏
𝟐

(𝒙)𝒅𝒙
𝝅

𝟎

 

𝑰 =
𝟏

𝟐
(𝜸 + 𝐥𝐧(𝝅) − 𝑪𝒊(𝝅) +

𝝅

𝟐
) + √𝟐𝝅 −

√𝝅

𝟐
𝑪 

𝑵𝒐𝒕𝒆  𝒔𝒆𝒄𝒕𝒊𝒐𝒏:  
𝜸 →   𝑬𝒖𝒍𝒆𝒓  𝑴𝒂𝒔𝒄𝒉𝒆𝒓𝒐𝒏𝒊′𝒔  𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕 

𝑪 = ∫ 𝑱
−
𝟏
𝟐

(𝒙)𝒅𝒙
𝝅

𝟎

 ,   𝑱
−
𝟏
𝟐

(𝒙) = √
𝟐

𝝅𝒙
𝐜𝐨𝐬(𝒙) → 𝑵𝒖𝒎𝒆𝒓𝒊𝒄𝒂𝒍  𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕   

𝑪𝒊(𝒙) = −∫
𝐜𝐨𝐬(𝒕)

𝒕
𝒅𝒕 = 𝜸 + 𝐥𝐧(𝒙)𝒏 − ∫

𝟏 − 𝐜𝐨𝐬(𝒕)

𝒕
𝒅𝒕

𝒙

𝟎

∞

𝒙

 

 

2528. Find: 

𝛀 = ∫
𝒙𝒍𝒏 (

𝟏
𝒙
)

(𝒙𝟐 + 𝟏)(𝟐𝒙 + 𝟏)
𝒅𝒙

𝟏

𝟎

 

 
Proposed by Shirvan Tahirov-Azerbaijan 

 
 



 
www.ssmrmh.ro 

47 RMM-CALCULUS MARATHON 2501-2600 

 

Solution 1 by Shohbit Jain-India 

∫
𝒙𝒍𝒏(

𝟏
𝒙)

(𝒙𝟐 + 𝟏)(𝟐𝒙 + 𝟏)
𝒅𝒙

𝟏

𝟎

= 

=
𝟏

𝟓
∫ 𝐥𝐧 (

𝟏

𝒙
)(
𝒙 + 𝟐

𝟏 + 𝒙𝟐
−

𝟐

𝟏 + 𝟐𝒙
)𝒅𝒙 =

𝟏

𝟓
∫
𝒙𝒍𝒏(

𝟏
𝒙)

𝒙𝟐 + 𝟏

𝟏

𝟎

𝟏

𝟎

𝒅𝒙 +
𝟐

𝟓
∫
𝒍𝒏(

𝟏
𝒙)

𝒙𝟐 + 𝟏
𝒅𝒙 −

𝟏

𝟎

 

−
𝟏

𝟓
∫
𝒍𝒏(

𝟐
𝒖)

𝟏 + 𝒖
𝒅𝒖 =

𝟏

𝟓
∫ 𝐥𝐧 (

𝟏

𝒙
) {𝒙 − 𝒙𝟑 + 𝒙𝟓 − 𝒙𝟕 +⋯}

𝟏

𝟎

𝒅𝒙
𝟐

𝟎

+ 

+
𝟐

𝟓
∫ 𝐥𝐧 (

𝟏

𝒙
) {𝟏 − 𝒙𝟐 + 𝒙𝟒 − 𝒙𝟔 +⋯}

𝟏

𝟎

𝒅𝒙 −
𝟏

𝟓
∫
𝐥𝐧(𝟐)

𝟏 + 𝒖
𝒅𝒖

𝟐

𝟎

+
𝟏

𝟓
∫
𝐥 𝐧(𝒖)

𝟏 + 𝒖
𝒅𝒖

𝟐

𝟎

 

=
𝟏

𝟓
𝜞𝟐 {

𝟏

𝟐𝟐
−
𝟏

𝟒𝟐
+
𝟏

𝟔𝟐
−
𝟏

𝟖𝟐
+⋯} +

𝟐

𝟓
𝜞𝟐 {

𝟏

𝟏𝟐
−
𝟏

𝟑𝟐
+
𝟏

𝟓𝟐
−
𝟏

𝟕𝟐
+⋯} − 

𝐥𝐧(𝟐) 𝐥𝐧 (𝟑)

𝟓
+
𝟏

𝟓
∫
𝐥𝐧 (𝒖)

𝟏 + 𝒖
𝒅𝒖 +

𝟏

𝟓
∫
𝐥𝐧 (𝒖)

𝟏 + 𝒖
𝒅𝒖

𝟐

𝟎

𝟏

𝟎

=
𝟏

𝟓
.
𝜼(𝟐)

𝟒
+
𝟐𝑮

𝟓
−
𝐥𝐧(𝟐) 𝐥𝐧(𝟑)

𝟓
+
𝟏

𝟓
. (−

𝝅𝟐

𝟏𝟐
) − 

𝟏

𝟓
∫

𝐥𝐧 (𝒕)

𝒕(𝟏 + 𝒕)
𝒅𝒕 =

𝝅𝟐

𝟐𝟒𝟎
+
𝟐𝑮

𝟓
−
𝐥𝐧(𝟐) 𝐥𝐧(𝟑)

𝟓

𝟏

𝟏
𝟐

−
𝝅𝟐

𝟔𝟎
−
𝟏

𝟓
∫
𝐥𝐧(𝒕)

𝒕
𝒅𝒕

𝟏

𝟏
𝟐

+
𝟏

𝟓
∫
𝐥𝐧 (𝒕)

𝟏 + 𝒕
𝒅𝒕 =

𝟏

𝟏
𝟐

 

=
𝟐𝑮

𝟓
−
𝐥𝐧(𝟐) 𝐥𝐧(𝟑)

𝟓
−
𝝅𝟐

𝟖𝟎
+
𝒍𝒏𝟐(𝟐)

𝟏𝟎
+
𝑷

𝟓
 

𝑵𝒐𝒘   𝑷 = ∫
𝐥𝐧 (𝒕)

𝟏 + 𝒕
𝒅𝒕 =

𝟏

𝟏
𝟐

∑(−𝟏)𝒏+𝟏
∞

𝒏=𝟏

∫ 𝒕𝒏−𝟏
𝟏

𝟏
𝟐

𝐥𝐧(𝒕) 𝒅𝒕 

𝑵𝒐𝒘  ∫ 𝒕𝒏−𝟏 𝐥𝐧(𝒕) 𝒅𝒕 =
𝒕𝒏

𝒏
𝐥𝐧 (𝒕)|

𝟏
𝟏
𝟐
− ∫

𝒕𝒏−𝟏

𝒏
𝒅𝒕 =

𝐥𝐧 (𝟐)

𝒏𝟐𝒏
+

𝟏

𝒏𝟐𝟐𝒏
−
𝟏

𝒏𝟐

𝟏

𝟏
𝟐

𝟏

𝟏
𝟐

 

𝑻𝒉𝒆𝒓𝒆𝒇𝒐𝒓𝒆 ∶   𝑷 = ∑(−𝟏)𝒏+𝟏
∞

𝒏=𝟏

∫ 𝒕𝒏−𝟏
𝟏

𝟏
𝟐

𝐥𝐧(𝒕) 𝒅𝒕

= ∑{
𝐥𝐧 (𝟐)(−𝟏)𝒏+𝟏

𝒏𝟐𝒏
−
𝟏

𝒏𝟐
(−
𝟏

𝟐
)
𝒏

+
(−𝟏)𝒏

𝒏𝟐
}

∞

𝒏=𝟏

 

𝑷 = 𝐥𝐧(𝟐) 𝐥𝐧 (𝟏 +
𝟏

𝟐
) − 𝑳𝒊𝟐 (−

𝟏

𝟐
) − 𝜼(𝟐) = 𝐥𝐧(𝟐) 𝐥𝐧(𝟑) − 𝒍𝒏𝟐(𝟐) − 𝑳𝒊𝟐 (−

𝟏

𝟐
) −

𝝅𝟐

𝟏𝟐
 

∫
𝒙𝒍𝒏(

𝟏
𝒙)

(𝒙𝟐 + 𝟏)(𝟐𝒙 + 𝟏)
𝒅𝒙 =

𝟐𝑮

𝟓
−
𝐥𝐧(𝟐) 𝐥𝐧(𝟑)

𝟓
−
𝝅𝟐

𝟖𝟎
+
𝒍𝒏𝟐(𝟐)

𝟏𝟎
+
𝐥𝐧(𝟐) 𝐥𝐧(𝟑)

𝟓
−
𝒍𝒏𝟐(𝟐)

𝟓

𝟏

𝟎

− 

𝑳𝒊𝟐 (−
𝟏
𝟐)

𝟓
−
𝝅𝟐

𝟔𝟎
=
𝟐𝑮

𝟓
−
𝒍𝒏𝟐(𝟐)

𝟏𝟎
−
𝟕

𝟒𝟎
𝜻(𝟐) −

𝟏

𝟓
𝑳𝒊𝟐 (−

𝟏

𝟐
) 
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∫
𝒙𝒍𝒏(

𝟏
𝒙)

(𝒙𝟐 + 𝟏)(𝟐𝒙 + 𝟏)
𝒅𝒙

𝟏

𝟎

=
𝟐𝑮

𝟓
−
𝒍𝒏𝟐(𝟐)

𝟏𝟎
−
𝟕

𝟒𝟎
𝜻(𝟐) −

𝟏

𝟓
𝑳𝒊𝟐 (−

𝟏

𝟐
) 

 

Solution 2 by Bui Hong Suc-Vietnam 

Ω = ∫
𝒙𝒍𝒏(

𝟏
𝒙)

(𝒙𝟐 + 𝟏)(𝟐𝒙 + 𝟏)
𝒅𝒙

𝟏

𝟎

 

∴ ∫
𝒍𝒏𝒏(𝒙)

𝒂 + 𝒙
𝒅𝒙 = −∑(−

𝟏

𝒂
)
𝒌

∫ 𝒙𝒌−𝟏𝒍𝒏𝒏(𝒙)𝒅𝒙 =
𝟏

𝟎

∞

𝒌=𝟏

𝟏

𝟎

−∑(−
𝟏

𝒂
)
𝒌

𝒙𝒌𝒏!∑
(−𝟏)𝒊𝒍𝒏𝒏−𝒊(𝒙)

(𝒏 − 𝒊)! 𝒌𝒊+𝟏

𝒏

𝒊=𝟎

|
𝟏

𝟎
= 

∞

𝒌=𝟏

 

= (−𝟏)𝒏+𝟏𝒏!𝑳𝒊𝒏+𝟏 (−
𝟏

𝒂
) 

∴ ∫
𝒍𝒏𝒏(𝒙)

𝒂 + 𝒙𝟐
𝒅𝒙 = −∑(−

𝟏

𝒂
)
𝒌

∫ 𝒙𝟐𝒌−𝟏−𝟏𝒍𝒏𝒏(𝒙)𝒅𝒙 =
𝟏

𝟎

∞

𝒌=𝟏

𝟏

𝟎

−∑(−
𝟏

𝒂
)
𝒌

𝒙𝟐𝒌−𝟏𝒏!∑
(−𝟏)𝒊𝒍𝒏𝒏−𝒊(𝒙)

(𝒏 − 𝒊)! (𝟐𝒌 − 𝟏)𝒊+𝟏

𝒏

𝒊=𝟎

|
𝟏

𝟎
= 

∞

𝒌=𝟏

 

= (−𝟏)𝒏+𝟏𝒏!∑
(−
𝟏
𝒂
)
𝒌

(𝟐𝒌 − 𝟏)𝒏+𝟏

∞

𝒌=𝟏

 

𝟏)𝝍𝒏 = ∫
𝒙𝒍𝒏𝒏 (

𝟏
𝒙
)

(𝒙𝟐 + 𝟏)(𝟐𝒙 + 𝟏)
𝒅𝒙 =

(−𝟏)𝒏

𝟓
∫
𝒙𝒍𝒏𝒏(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎⏟          
𝒙𝟐→ 𝒙

𝟏

𝟎

+
𝟐(−𝟏)𝒏

𝟓
∫
𝒍𝒏𝒏(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

−
𝟐(−𝟏)𝒏

𝟓
∫
𝒍𝒏𝒏(𝒙)

𝟏 + 𝟐𝒙
𝒅𝒙 =

𝟏

𝟎

 

 
(−𝟏)𝒏

𝟓. 𝟐𝒏+𝟏
∫
𝒍𝒏𝒏(𝒙)

𝟏 + 𝒙
𝒅𝒙 +

𝟐(−𝟏)𝒏

𝟓
∫
𝒍𝒏𝒏(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

−
𝟏

𝟎

(−𝟏)𝒏

𝟓
∫
𝒍𝒏𝒏(𝒙)

𝒙 +
𝟏
𝟐

𝒅𝒙 =
𝟏

𝟎

(−𝟏)𝒏

𝟓. 𝟐𝒏+𝟏
(−𝟏)𝒏+𝟏𝒏! 𝑳𝒊𝒏+𝟏(−𝟏) + 

𝟐(−𝟏)𝒏

𝟓
. 𝒏!. (−𝟏)𝒏+𝟏∑

(−𝟏)𝒌

(𝟐𝒌 − 𝟏)𝒏+𝟏
−
(−𝟏)𝒏

𝟓
.

∞

𝒌=𝟏

𝒏!. (−𝟏)𝒏+𝟏 . 𝑳𝒊𝒏+𝟏(−𝟐) = 

𝒏!

𝟓
{
𝟏

𝟐𝒏+𝟏
(𝟏 − 𝟐−𝒏)𝜻(𝒏 + 𝟏) + 𝟐𝜷(𝒏 + 𝟏) + 𝑳𝒊𝒏+𝟏(−𝟐)} 

𝒊𝒇𝒇    𝒏 = 𝟏 ∶  𝝍 = ∫
𝒙𝒍𝒏(

𝟏
𝒙)

(𝒙𝟐 + 𝟏)(𝟐𝒙 + 𝟏)
𝒅𝒙

𝟏

𝟎

=
𝟏

𝟓
{
𝟏

𝟐𝟐
(𝟏 − 𝟐−𝟏)𝜻(𝟐) + 𝟐𝜷(𝟐) + 𝑳𝒊𝟐(−𝟐)} =  

𝟏

𝟓
{
𝟏

𝟖
𝜻(𝟐) + 𝟐𝑮 − 𝑳𝒊𝟐 (−

𝟏

𝟐
) −
𝒍𝒏𝟐(𝟐)

𝟐
+ 𝟐𝑳𝒊𝟐(−𝟏)}

=
𝟏

𝟓
{
𝟏

𝟖
𝜻(𝟐) + 𝟐𝑮 − 𝑳𝒊𝟐 (−

𝟏

𝟐
) −
𝒍𝒏𝟐(𝟐)

𝟐
− 𝜻(𝟐)} 

∫
𝒙𝒍𝒏(

𝟏
𝒙)

(𝒙𝟐 + 𝟏)(𝟐𝒙 + 𝟏)
𝒅𝒙

𝟏

𝟎

=
𝟐𝑮

𝟓
−
𝒍𝒏𝟐(𝟐)

𝟏𝟎
−
𝟕

𝟒𝟎
𝜻(𝟐) −

𝟏

𝟓
𝑳𝒊𝟐 (−

𝟏

𝟐
) 
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2529. Find: 

𝛀 = ∫
𝒙𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙)𝟐(𝟑 + 𝒙)
𝒅𝒙

∞

𝟏

 

 
Proposed by Shirvan Tahirov-Azerbaijan 

Solution 1 by Shobhit Jain-India 
 

Ω = ∫
𝒙𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙)𝟐(𝟑 + 𝒙)
𝒅𝒙

∞

𝟏

= ∫
𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙)𝟐(𝟑𝒙 + 𝟏)
𝒅𝒙  𝒑𝒖𝒕 𝒙 =

𝟏

𝒙

𝟏

𝟎

 

∫ 𝒍𝒏𝟐(𝒙)(

𝟗
𝟒

𝟏 + 𝟑𝒙
−

𝟑
𝟒

𝟏 + 𝒙
−

𝟏
𝟐

(𝟏 + 𝒙)𝟐
)𝒅𝒙

𝟏

𝟎

=
𝟗

𝟒
∫
𝒍𝒏𝟐(𝒙)

𝟏 + 𝟑𝒙
𝒅𝒙 −

𝟑

𝟒
∫
𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎

−
𝟏

𝟐
∫

𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙)𝟐
=

𝟏

𝟎

𝟏

𝟎

 

𝟗

𝟒
𝑨 −

𝟑

𝟒
𝑩 −

𝟏

𝟐
𝑪 

𝑩 = ∫ 𝒍𝒏𝟐(𝒙)(𝟏 − 𝒙 + 𝒙𝟐 − 𝒙𝟑 +⋯)𝒅𝒙 = 𝜞𝟑(
𝟏

𝟏𝟑
−
𝟏

𝟐𝟑
+
𝟏

𝟑𝟑
−
𝟏

𝟒𝟑
+⋯) = 𝟐𝜼(𝟑)

𝟏

𝟎

=
𝟑

𝟐
𝜻(𝟑) 

𝑪 = ∫ 𝒍𝒏𝟐(𝒙)(𝟏 − 𝟐𝒙 + 𝟑𝒙𝟐 − 𝟒𝒙𝟑 +⋯)𝒅𝒙 = 𝜞𝟑(
𝟏

𝟏𝟑
−
𝟐

𝟐𝟑
+
𝟑

𝟑𝟑
−
𝟒

𝟒𝟑
+⋯) = 𝟐𝜼(𝟐)

𝟏

𝟎

= 𝜻(𝟐) 

𝑨 = ∫
𝒍𝒏𝟐(𝒙)

𝟏 + 𝟑𝒙
𝒅𝒙 =

𝒙=
𝒙
𝟑

𝟏

𝟎

𝟏

𝟑
∫
(𝐥𝐧(𝒙) − 𝐥𝐧(𝟑))𝟐

𝟏 + 𝒙
𝒅𝒙 =

𝟏

𝟑
∫
𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙
𝒅𝒙

𝟑

𝟎

𝟑

𝟎

−
𝟐

𝟑
𝐥𝐧 (𝟑)∫

𝒍𝒏(𝒙)

𝟏 + 𝒙
𝒅𝒙 +

𝟑

𝟎

 

𝒍𝒏𝟐(𝟑)

𝟑
∫

𝒅𝒙

𝟏 + 𝒙

𝟑

𝟎

=
𝟏

𝟑
∫
𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙
𝒅𝒙

𝟑

𝟎

−
𝟐

𝟑
𝐥𝐧(𝟑)∫

𝒍𝒏(𝒙)

𝟏 + 𝒙
𝒅𝒙 +

𝟑

𝟎

𝟐

𝟑
𝒍𝒏𝟐(𝟑)𝐥𝐧 (𝟐) 

𝑻𝒉𝒆𝒓𝒆𝒇𝒐𝒓𝒆 ∶   Ω

=
𝟑

𝟒
∫
𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙
𝒅𝒙

𝟑

𝟎

−
𝟑

𝟐
𝐥𝐧(𝟑)∫

𝒍𝒏(𝒙)

𝟏 + 𝒙
𝒅𝒙 +

𝟑

𝟐
𝒍𝒏𝟐(𝟑) 𝐥𝐧(𝟐) −

𝟗

𝟖
𝜻(𝟑) −

𝟏

𝟐

𝟑

𝟎

𝜻(𝟐) 

𝑵𝒐𝒘 ∶  

∫
𝒍𝒏(𝒙)

𝟏 + 𝒙
𝒅𝒙 = 𝐥𝐧(𝒙) 𝐥𝐧 (𝟏 + 𝒙)|

𝟑

𝟎
− ∫

𝐥𝐧(𝟏 + 𝒙)

𝒙
𝒅𝒙 = 𝟐 𝐥𝐧(𝟐) 𝐥𝐧(𝟑) + 𝑳𝒊𝟐(−𝟑)

𝟑

𝟎

𝟑

𝟎
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∫
𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙
𝒅𝒙 = 𝒍𝒏𝟐(𝒙)𝐥𝐧 (𝟏 + 𝒙)|

𝟑

𝟎

𝟑

𝟎

− 𝟐∫
𝐥𝐧(𝐱)𝐥𝐧(𝟏 + 𝒙)

𝒙
𝒅𝒙 = 𝟐 𝐥𝐧(𝟐)𝒍𝒏𝟐(𝟑) +

𝟑

𝟎

 

𝟐∫ 𝐥𝐧(𝒙)𝒅(𝑳𝒊𝟐(−𝒙)) = 𝟐 𝐥𝐧(𝟐)𝒍𝒏
𝟐(𝟑) +

𝟑

𝟎

𝟐𝒍𝒏(𝒙)𝑳𝒊𝟐(−𝒙)|
𝟑

𝟎
− ∫

𝑳𝒊𝟐(−𝒙)

𝒙

𝟑

𝟎

𝒅𝒙 = 

𝟐 𝐥𝐧(𝟐)𝒍𝒏𝟐(𝟑) + 𝟐 𝐥𝐧(𝟑) 𝑳𝒊𝟐(−𝟑) − 𝟐𝑳𝒊𝟑(−𝟑) 

𝑯𝒆𝒏𝒄𝒆 ∶  Ω =
𝟑

𝟒
{𝟐 𝐥𝐧(𝟐)𝒍𝒏𝟐(𝟑) + 𝟐 𝐥𝐧(𝟑) 𝑳𝒊𝟐(−𝟑) − 𝟐𝑳𝒊𝟑(−𝟑)} − 

𝟐

𝟑
𝐥𝐧(𝟑) {𝟐 𝐥𝐧(𝟐) 𝐥𝐧(𝟑) + 𝑳𝒊𝟐(−𝟑)} +

𝟑

𝟐
𝒍𝒏𝟐(𝟑) 𝐥𝐧(𝟐) −

𝟗

𝟖
𝜻(𝟑) −

𝟏

𝟐
𝜻(𝟐) 

∫
𝒙𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙)𝟐(𝟑 + 𝒙)
𝒅𝒙

∞

𝟏

= −
𝟗

𝟖
𝜻(𝟑) −

𝟏

𝟐
𝜻(𝟐) −

𝟑

𝟐
𝑳𝒊𝟑(−𝟑) 

 

Solution 2 by Bui Hong Suc-Vietnam 

𝝍 = ∫
𝒙𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙)𝟐(𝟑 + 𝒙)
𝒅𝒙

∞

𝟏

 

𝝍𝒏 = ∫
𝒙𝒍𝒏𝒏(𝒙)

(𝟏 + 𝒙)𝟐(𝟑 + 𝒙)
𝒅𝒙 =⏞

𝒙=
𝟏
𝒙∞

𝟏

∫

𝟏
𝒙 𝒍𝒏

𝒏(
𝟏
𝒙)

(
𝟏
𝒙 + 𝟏)

𝟐

(
𝟏
𝒙 + 𝟑)

𝒅𝒙

𝒙𝟐

𝟏

𝟎

= (−𝟏)𝒏∫
𝒍𝒏𝒏(𝒙)

(𝟏 + 𝒙)𝟐(𝟑𝒙 + 𝟏)
𝒅𝒙 =

𝟏

𝟎

 

(−𝟏)𝒏

𝟒
{𝟑. 𝟑∫

𝒍𝒏𝒏(𝒙)

𝟑𝒙 + 𝟏
𝒅𝒙

𝟏

𝟎⏟        
𝑨

− 𝟑∫
𝒍𝒏𝒏(𝒙)

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎⏟        
𝑩

− 𝟐∫
𝒍𝒏𝒏(𝒙)

(𝟏 + 𝒙)𝟐
𝒅𝒙

𝟏

𝟎⏟          
𝑪

}

=
(−𝟏)𝒏

𝟒
(𝟑𝑨 − 𝟑𝑩 − 𝟐𝑪) 

𝑨 = 𝟑∫
𝒍𝒏𝒏(𝒙)

𝟑𝒙 + 𝟏
𝒅𝒙

𝟏

𝟎

= ∫
𝒍𝒏𝒏(𝒙)

𝒙 +
𝟏
𝟑

𝟏

𝟎

𝒅𝒙 = (−𝟏)𝒏+𝟏𝒏!𝑳𝒊𝒏+𝟏(−𝟑) 

𝑩 = ∫
𝒍𝒏𝒏(𝒙)

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎

= (−𝟏)𝒏+𝟏𝒏! 𝑳𝒊𝒏+𝟏(−𝟏) = (−𝟏)
𝒏𝒏! (𝟏 − 𝟐−𝒏)𝜻(𝒏 + 𝟏) 

𝑪 = ∫
𝒍𝒏𝒏(𝒙)

(𝟏 + 𝒙)𝟐
𝒅𝒙

𝟏

𝟎

= 

= ∫ 𝒍𝒏𝒏(𝒙)𝒅 (
𝒙

𝒙 + 𝟏
) =

𝒙𝒍𝒏𝒏(𝒙)

𝒙 + 𝟏
|
𝟏

𝟎
− 𝒏∫

𝒍𝒏𝒏−𝟏(𝒙)

𝒙 + 𝟏
𝒅𝒙 = (−𝟏)𝒏+𝟏𝒏!𝑳𝒊𝒏(−𝟏)

𝟏

𝟎

𝟏

𝟎

 

𝝍𝒏 =
(−𝟏)𝒏

𝟒
(𝟑𝑨 − 𝟑𝑩− 𝟐𝑪) = 

(−𝟏)𝒏
𝟑(−𝟏)𝒏+𝟏𝒏!𝑳𝒊𝒏+𝟏(−𝟑) − 𝟑(−𝟏)

𝒏𝒏! (𝟏 − 𝟐−𝒏)𝜻(𝒏 + 𝟏) − 𝟐(−𝟏)𝒏+𝟏𝒏!𝑳𝒊𝒏(−𝟏)

𝟒
= 

−
𝒏!

𝟒
(𝟑𝑳𝒊𝒏+𝟏(−𝟑) + 𝟑(𝟏 − 𝟐

−𝒏)𝜻(𝒏 + 𝟏) + 𝟐𝜼(𝒏)) 
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𝑰𝒇 ∶   𝒏 = 𝟐   

𝝍 = ∫
𝒙𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙)𝟐(𝟑 + 𝒙)
𝒅𝒙

∞

𝟏

= −
𝟑

𝟒
. 𝟒 (𝟑𝑳𝒊𝟑(−𝟑) + 𝟑(𝟏 − 𝟐

−𝟐)𝜻(𝟐 + 𝟏) + 𝟐𝜼(𝟐)) 

∫
𝒙𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙)𝟐(𝟑 + 𝒙)
𝒅𝒙

∞

𝟏

= −
𝟗

𝟖
𝜻(𝟑) −

𝟏

𝟐
𝜻(𝟐) −

𝟑

𝟐
𝑳𝒊𝟑(−𝟑) 

 
Solution 3 by Obiajunwa Januarius-Nigeria 

∫
𝒙𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙)𝟐(𝟑 + 𝒙)
𝒅𝒙

∞

𝟏

 

∫
𝒙𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙)𝟐(𝟑 + 𝒙)
𝒅𝒙

∞

𝟏

=⏞

𝒙→
𝟏
𝒙

∫
𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙)𝟐(𝟑𝒙 + 𝟏)
𝒅𝒙 =

𝟗

𝟒
∫
𝒍𝒏𝟐(𝒙)

𝟏 + 𝟑𝒙
𝒅𝒙 −

𝟏

𝟎

𝟏

𝟎

 

𝟑

𝟒
∫
𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎

−
𝟏

𝟐
∫

𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙)𝟐
𝒅𝒙 =

𝟗

𝟒
∑(−𝟏)𝒏𝟑𝒏∫ 𝒙𝒏𝒍𝒏𝟐(𝒙)𝒅𝒙 −

𝟏

𝟎

∞

𝒏=𝟎

𝟏

𝟎

 

𝟑

𝟒
∑(−𝟏)𝒏∫ 𝒙𝒏𝒍𝒏𝟐(𝒙)𝒅𝒙 −

𝟏

𝟎

∞

𝒏=𝟎

𝟏

𝟐
∑(−𝟏)𝒏−𝟏𝒏∫ 𝒙𝒏−𝟏𝒍𝒏𝟐(𝒙)𝒅𝒙 =

𝟏

𝟎

∞

𝒏=𝟏

 

𝟗

𝟒
∑(−𝟏)𝒏𝟑𝒏

𝝏𝟐

𝝏𝒏𝟐
[∫ 𝒙𝒏𝒅𝒙

𝟏

𝟎

] −
𝟑

𝟒
∑(−𝟏)𝒏

𝝏𝟐

𝝏𝒏𝟐
[∫ 𝒙𝒏𝒅𝒙

𝟏

𝟎

] −

∞

𝒏=𝟎

∞

𝒏=𝟎

 

𝟏

𝟐
∑(−𝟏)𝒏−𝟏𝒏

𝝏𝟐

𝝏𝒏𝟐
[∫ 𝒙𝒏−𝟏𝒅𝒙

𝟏

𝟎

] =
𝟗

𝟒
∑(−𝟏)𝒏𝟑𝒏

𝝏𝟐

𝝏𝒏𝟐
[
𝟏

𝒏 + 𝟏
]

∞

𝒏=𝟎

∞

𝒏=𝟏

− 

𝟑

𝟒
∑(−𝟏)𝒏

𝝏𝟐

𝝏𝒏𝟐
[
𝟏

𝒏 + 𝟏
] −

𝟏

𝟐

∞

𝒏=𝟎

∑(−𝟏)𝒏−𝟏𝒏
𝝏𝟐

𝝏𝒏𝟐

∞

𝒏=𝟏

[
𝟏

𝒏
] =

𝟗

𝟒
(−𝟏)𝟐𝟐!∑

(−𝟏)𝒏𝟑𝒏

(𝒏 + 𝟏)𝟑
−

∞

𝒏=𝟎

 

𝟑

𝟒
(−𝟏)𝟐𝟐!∑

(−𝟏)𝒏

(𝒏 + 𝟏)𝟑
−

∞

𝒏=𝟎

𝟏

𝟐
(−𝟏)𝟐𝟐!∑

(−𝟏)𝒏−𝟏

𝒏𝟑
=⏞

𝒏+𝟏=𝒎
∞

𝒏=𝟏

𝟗

𝟐
∑

(−𝟏)𝒎−𝟏𝟑𝒎−𝟏

𝒎𝟑
−

∞

𝒎=𝟏

 

𝟑

𝟐
𝜼(𝟑) − 𝜼(𝟐) = −

𝟑

𝟐
𝑳𝒊𝟑(−𝟑) −

𝟑

𝟐
.
𝟑

𝟒
𝜻(𝟑) −

𝟏

𝟐
𝜻(𝟐) 

∫
𝒙𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙)𝟐(𝟑 + 𝒙)
𝒅𝒙

∞

𝟏

= −
𝟗

𝟖
𝜻(𝟑) −

𝟏

𝟐
𝜻(𝟐) −

𝟑

𝟐
𝑳𝒊𝟑(−𝟑) 

2530. Find: 

∫ (𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝒙) + 𝒙𝟐𝑳𝒊𝟑(−𝒙
𝟑)) 𝒅𝒙

𝟏

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution 1 by Bui Hong Suc-Vietnam 
 

𝑮𝒆𝒏𝒆𝒓𝒂𝒍   𝒑𝒓𝒐𝒃𝒍𝒆𝒎  𝒂𝒏𝒅  𝒇𝒖𝒍𝒍  𝒔𝒐𝒍𝒖𝒕𝒊𝒐𝒏 ∶ 
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∴ 𝐥𝐧(𝒄𝒐𝒔(𝒚)) = − 𝐥𝐧(𝟐) −∑
(−𝟏)𝒏

𝒏
𝐜𝐨𝐬(𝟐𝒏𝒚),   |𝒚| <

𝝅

𝟐

∞

𝒏=𝟏

 

∴ ∫𝒚𝒎 𝐜𝐨𝐬(𝒂𝒚)𝒅𝒚 =∑𝒋! (
𝒎

𝒋
)

∞

𝒋=𝟎

𝒚𝒎−𝒋

𝒂𝒋+𝟏
𝐬𝐢𝐧 (𝒂𝒚 + 𝒋

𝝅

𝟐
)  

𝑭𝒐𝒓  𝒎 , 𝒏 , 𝒌 ∈ 𝒁+ ∶ 𝑺 = ∫ (𝒂𝒓𝒄𝒕𝒂𝒏𝒎(𝒙) + 𝒙𝒌−𝟏𝑳𝒊𝒏(𝒂𝒙
𝒌)) 𝒅𝒙

𝟏

𝟎

= ∫ 𝒂𝒓𝒄𝒕𝒂𝒏𝒎(𝒙)𝒅𝒙 +
𝟏

𝟎

 

∫ 𝒙𝒌−𝟏𝑳𝒊𝒏(𝒂𝒙
𝒌)𝒅𝒙 = 𝑰 + 𝑱

𝟏

𝟎

 

𝟏)𝑰 = ∫ 𝒂𝒓𝒄𝒕𝒂𝒏𝒎+𝟐(𝒙)𝒅𝒙 =⏞
𝒙=𝐭𝐚𝐧(𝒚)𝟏

𝟎

∫ 𝒚𝒎+𝟐𝒅(𝐭𝐚𝐧(𝒚)) = 𝒚𝒎+𝟐 𝐭𝐚𝐧(𝒚)|

𝝅
𝟒
𝟎
−

𝝅
𝟒

𝟎

 

(𝒎 + 𝟐)∫ 𝒚𝒎+𝟏
𝝅
𝟒

𝟎

𝐭𝐚𝐧(𝒚)𝒅𝒚 = (
𝝅

𝟒
)
𝒎+𝟐

− (𝒎+ 𝟐)𝒚𝒎+𝟏 𝐥𝐧(𝒄𝒐𝒔(𝒚))|

𝝅
𝟒
𝟎
+ 

(𝒎 + 𝟐)(𝒎+ 𝟏)∫ 𝒚𝒎
𝝅
𝟒

𝟎

𝐥𝐧(𝒄𝒐𝒔(𝒚))𝒅𝒚
⏟              

𝑨

= (
𝝅

𝟒
)
𝒎+𝟐

+ (𝒎+ 𝟐) (
𝝅

𝟒
)
𝒎+𝟏

𝐥𝐧(√𝟐) + (𝒎 + 𝟐)(𝒎+ 𝟏)𝑨 

𝒂) 𝑨 = ∫ 𝒚𝒎
𝝅
𝟒

𝟎

𝐥𝐧(𝒄𝒐𝒔(𝒚))𝒅𝒚 = −∫ 𝒚𝒎(

𝝅
𝟒

𝟎

𝐥𝐧(𝟐) +∑
(−𝟏)𝒂

𝒂
𝐜𝐨𝐬(𝟐𝒂𝒚)

∞

𝒂=𝟏

)𝒅𝒚 = −𝐥𝐧 (𝟐)∫ 𝒚𝒎𝒅𝒚

𝝅
𝟒

𝟎

+ 

∑
(−𝟏)𝒂

𝒂
∫ 𝒚𝒎 𝐜𝐨𝐬(𝟐𝒂𝒚)𝒅𝒚 =

𝝅
𝟒

𝟎

∞

𝒂=𝟏

− (
𝝅

𝟒
)
𝒎

𝐥𝐧(𝟐) +∑
(−𝟏)𝒂

𝒂
∑𝒋! (

𝒎

𝒋
)

∞

𝒋=𝟎

𝒚𝒎−𝒋

(𝟐𝒂)𝒋+𝟏
𝐬𝐢𝐧 (𝒂𝒚 + 𝒋

𝝅

𝟐
)

∞

𝒂=𝟏

|

𝝅
𝟒
𝟎

= 

−(
𝝅

𝟒
)
𝒎

𝐥𝐧(𝟐) +∑
𝒋!

𝟐𝒋+𝟏
(
𝒎

𝒋
)

𝟎

𝒋=𝟎

(
𝝅

𝟒
)
𝒎−𝒋

∑
(−𝟏)𝒂

𝒂𝒋+𝟐
𝐬𝐢𝐧 (

∞

𝒂=𝟏

𝒂𝝅

𝟐
+ 𝒋
𝝅

𝟐
) −

𝒎!

𝟐𝒎+𝟏
𝐬𝐢𝐧 (

𝒎𝝅

𝟐
)∑

(−𝟏)𝒂

𝒂𝒎+𝟐
=

∞

𝒂=𝟏

 

−(
𝝅

𝟒
)
𝒎

𝐥𝐧(𝟐) +∑
𝒋!

𝟐𝒋+𝟏
(
𝒎

𝒋
)

𝟎

𝒋=𝟎

(
𝝅

𝟒
)
𝒎−𝒋

∑
(−𝟏)𝒂

𝒂𝒋+𝟐
(
𝐬𝐢𝐧 (

𝒂𝝅

𝟐
)𝐜𝐨𝐬 (

𝒋𝝅

𝟐
)

+𝒄𝒐𝒔 (
𝒂𝝅

𝟐
)𝒔𝒊𝒏 (

𝒋𝝅

𝟐
)

)

∞

𝒂=𝟏
⏟                      

𝑫

+ 

𝒎!

𝟐𝒎+𝟏
𝐬𝐢𝐧 (

𝒎𝝅

𝟐
) (𝟏 − 𝟐−𝟏−𝒎)𝜻(𝒎+ 𝟐)

=
𝒎!

𝟐𝒎+𝟏
𝐬𝐢𝐧 (

𝒎𝝅

𝟐
) (𝟏 − 𝟐−𝟏−𝒎)𝜻(𝒎+ 𝟐) − (

𝝅

𝟒
)
𝒎

𝐥𝐧(𝟐) + 

∑
𝒋!

𝟐𝒋+𝟏
(
𝒎

𝒋
)

𝟎

𝒋=𝟎

(
𝝅

𝟒
)
𝒎−𝒋

𝑫 
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𝑫 =∑
(−𝟏)𝒂

𝒂𝒋+𝟐
(𝐬𝐢𝐧 (

𝒂𝝅

𝟐
)𝐜𝐨𝐬 (

𝒋𝝅

𝟐
) + 𝒄𝒐𝒔 (

𝒂𝝅

𝟐
) 𝒔𝒊𝒏(

𝒋𝝅

𝟐
))

∞

𝒂=𝟏

= 

𝒄𝒐𝒔 (
𝒋𝝅

𝟐
)∑

(−𝟏)𝒂

𝒂𝒋+𝟐

∞

𝒂=𝟏

𝐬𝐢𝐧 (
𝒂𝝅

𝟐
) + 𝒔𝒊𝒏(

𝒋𝝅

𝟐
)∑

(−𝟏)𝒂

𝒂𝒋+𝟐

∞

𝒂=𝟏

𝒄𝒐𝒔 (
𝒂𝝅

𝟐
)

= −𝐜𝐨𝐬 (
𝒋𝝅

𝟐
)∑

(−𝟏)𝒂

(𝟐𝒂 + 𝟏)𝒋+𝟐

∞

𝒂=𝟎

+ 

𝒔𝒊𝒏(
𝒋𝝅

𝟐
)∑

𝟏

(𝟐𝒂)𝒋+𝟐
=

∞

𝒂=𝟎

−𝐜𝐨𝐬 (
𝒋𝝅

𝟐
)𝜷(𝒋 + 𝟐) +

𝟏

𝟐𝒋+𝟐
𝒔𝒊𝒏(

𝒋𝝅

𝟐
) 𝜻(𝒋 + 𝟐) 

𝑨 =
𝒎!

𝟐𝒎+𝟏
𝐬𝐢𝐧 (

𝒎𝝅

𝟐
) (𝟏 − 𝟐−𝟏−𝒎)𝜻(𝒎+ 𝟐) − (

𝝅

𝟒
)
𝒎

𝐥𝐧(𝟐) + 

∑
𝒋!

𝟐𝒋+𝟏
(
𝒎

𝒋
)

𝟎

𝒋=𝟎

(
𝝅

𝟒
)
𝒎−𝒋

(
𝟏

𝟐𝒋+𝟐
𝒔𝒊𝒏 (

𝒋𝝅

𝟐
)𝜻(𝒋 + 𝟐)−𝐜𝐨𝐬 (

𝒋𝝅

𝟐
)𝜷(𝒋 + 𝟐) +

𝟏

𝟐𝒋+𝟐
) 

𝑻𝒉𝒆𝒏 ∶ 𝑰 = (
𝝅

𝟒
)
𝒎+𝟐

+ (𝒎 + 𝟐) (
𝝅

𝟒
)
𝒎+𝟏

𝐥𝐧(√𝟐) + 

(𝒎 + 𝟐)(𝒎

+ 𝟏)

{
 
 

 
 

𝒎!

𝟐𝒎+𝟏
𝐬𝐢𝐧 (

𝒎𝝅

𝟐
) (𝟏 − 𝟐−𝟏−𝒎)𝜻(𝒎+ 𝟐) − (

𝝅

𝟒
)
𝒎

𝐥𝐧(𝟐) +

∑
𝒋!

𝟐𝒋+𝟏
(
𝒎

𝒋
)

𝟎

𝒋=𝟎

(
𝝅

𝟒
)
𝒎−𝒋

(
𝟏

𝟐𝒋+𝟐
𝒔𝒊𝒏 (

𝒋𝝅

𝟐
)𝜻(𝒋 + 𝟐)−𝐜𝐨𝐬 (

𝒋𝝅

𝟐
)𝜷(𝒋 + 𝟐) +

𝟏

𝟐𝒋+𝟐
)
}
 
 

 
 

 

𝟐)𝑱 = ∫ 𝒙𝒌−𝟏
𝟏

𝟎

𝑳𝒊𝒏(𝒂𝒙
𝒌)𝒅𝒙 =⏞

𝒂𝒙𝒌→𝒙 𝟏

𝒌𝒂
∫ 𝑳𝒊𝒏(𝒙)𝒅) =
𝒂

𝟎

𝟏

𝒌𝒂
𝑲𝒏 

𝑲𝒏 = ∫ 𝑳𝒊𝒏(𝒙)𝒅𝒙
𝒂

𝟎

= 𝒙𝑳𝒊𝒏(𝒙)|
𝒂

𝟎
−∫ 𝒙

𝝏𝑳𝒊𝒏(𝒙)

𝝏𝒙
𝒅𝒙 = 𝒂𝑳𝒊𝒏(𝒂) − ∫ 𝑳𝒊𝒏−𝟏(𝒙)

𝒂

𝟎

𝒅𝒙 =
𝒂

𝟎

𝒂𝑳𝒊𝒏(𝒂)

− 𝑲𝒏−𝟏 
= (−𝟏)𝟎𝒂𝑳𝒊𝒏(𝒂) + (−𝟏)

𝟏𝒂𝑳𝒊𝒏−𝟏(𝒂) + (−𝟏)
𝟐𝒂𝑳𝒊𝒏−𝟐(𝒂) + (−𝟏)

𝟑𝑲𝒏−𝟑 = 

𝒂∑(−𝟏)𝒌𝑳𝒊𝒏−𝒌(𝒂) + (−𝟏)
𝒏−𝟏𝑲𝒏−𝟏 = 𝒂∑(−𝟏)𝒌𝑳𝒊𝒏−𝒌(𝒂) + (−𝟏)

𝒏−𝟏∫ 𝑳𝒊𝟏(𝒙)𝒅𝒙
𝒂

𝟎

𝒏−𝟏

𝒌=𝟎

𝒏−𝟏

𝒌=𝟎

= 

𝒂∑(−𝟏)𝒌𝑳𝒊𝒏−𝒌(𝒂) + (−𝟏)
𝒏−𝟏∫ 𝐥𝐧 (𝟏 − 𝒙)𝒅(𝟏 − 𝒙)

𝒂

𝟎

𝒏−𝟏

𝒌=𝟎

= 𝒂∑(−𝟏)𝒌𝑳𝒊𝒏−𝒌(𝒂)

𝒏−𝟏

𝒌=𝟎

+ 

(−𝟏)𝒏−𝟏{(𝟏 − 𝒙) 𝐥𝐧(𝟏 − 𝒙) + 𝒙}|
𝒂

𝟎
+ 𝒂∑(−𝟏)𝒌𝑳𝒊𝒏−𝒌(𝒂)

𝒏−𝟏

𝒌=𝟎

+ (−𝟏)𝒏−𝟏{(𝟏 − 𝒂) 𝐥𝐧(𝟏 − 𝒂) + 𝒂} 
𝑻𝒉𝒆𝒏 ∶  
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𝑱 =
∑ (−𝟏)𝒌𝑳𝒊𝒏−𝒌(𝒂)
𝒏−𝟏
𝒌=𝟎

𝒌
+ (−𝟏)𝒏−𝟏

{(𝟏 − 𝒂) 𝐥𝐧(𝟏 − 𝒂) + 𝒂}

𝒌𝒂
 

𝑻𝒉𝒆𝒓𝒆𝒇𝒐𝒓𝒆 ∶   𝑺 = 𝑰 + 𝑱 

𝑺 = (
𝝅

𝟒
)
𝒎+𝟐

+ (𝒎 + 𝟐) (
𝝅

𝟒
)
𝒎+𝟏

𝐥𝐧(√𝟐) + 

(𝒎 + 𝟐)(𝒎

+ 𝟏)

{
 
 

 
 

𝒎!

𝟐𝒎+𝟏
𝐬𝐢𝐧 (

𝒎𝝅

𝟐
) (𝟏 − 𝟐−𝟏−𝒎)𝜻(𝒎+ 𝟐) − (

𝝅

𝟒
)
𝒎

𝐥𝐧(𝟐) +

∑
𝒋!

𝟐𝒋+𝟏
(
𝒎

𝒋
)

𝟎

𝒋=𝟎

(
𝝅

𝟒
)
𝒎−𝒋

(
𝟏

𝟐𝒋+𝟐
𝒔𝒊𝒏 (

𝒋𝝅

𝟐
)𝜻(𝒋 + 𝟐)−𝐜𝐨𝐬 (

𝒋𝝅

𝟐
)𝜷(𝒋 + 𝟐) +

𝟏

𝟐𝒋+𝟐
)
}
 
 

 
 

+ 

∑ (−𝟏)𝒌𝑳𝒊𝒏−𝒌(𝒂)
𝒏−𝟏
𝒌=𝟎

𝒌
+ (−𝟏)𝒏−𝟏

{(𝟏 − 𝒂) 𝐥𝐧(𝟏 − 𝒂) + 𝒂}

𝒌𝒂
 

 

Solution 2 by Quadri Faruk Temitope-Nigeria 
 

Ω = ∫ (𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝒙) + 𝒙𝟐𝑳𝒊𝟑(−𝒙
𝟑)) 𝒅𝒙

𝟏

𝟎

= ∫ 𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝒙)𝒅𝒙
𝟏

𝟎

+∫ 𝒙𝟐𝑳𝒊𝟑(−𝒙
𝟑)𝒅𝒙

𝟏

𝟎

= 𝑰𝟏 + 𝑰𝟐 

𝑰𝟏 = ∫ 𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝒙)𝒅𝒙
𝟏

𝟎

   {𝒙 = 𝐭𝐚𝐧(𝒚)  , 𝒅𝒙 = 𝒔𝒆𝒄𝟐(𝒚) [𝟎,
𝝅

𝟒
]} 

𝑰𝟏 = ∫ 𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝐭𝐚𝐧(𝒚)). 𝒔𝒆𝒄𝟐(𝒚)𝒅𝒚 = ∫ 𝒚𝟑
𝝅
𝟒

𝟎

𝝅
𝟒

𝟎

𝒔𝒆𝒄𝟐(𝒚)

= 𝒚𝟑𝐭𝐚𝐧 (𝒚)|

𝝅
𝟒
𝟎
− 𝟑∫ 𝒚𝟐 𝐭𝐚𝐧(𝒚)𝒅𝒚

𝝅
𝟒

𝟎

= 

𝝅𝟑

𝟔𝟒
− 𝟑∫ 𝒚𝟐 𝐭𝐚𝐧(𝒚)𝒅𝒚

𝝅
𝟒

𝟎⏟          
𝑨

 

𝑨 = ∫ 𝒚𝟐 𝐭𝐚𝐧(𝒚)𝒅𝒚

𝝅
𝟒

𝟎

= −𝒚𝟐𝐥𝐧(𝒄𝒐𝒔(𝒚))|

𝝅
𝟒
𝟎
+ 𝟐∫ 𝒚𝒍𝒏(𝒄𝒐𝒔(𝒚))

𝝅
𝟒

𝟎

𝒅𝒚

=
𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) − 𝟐 𝐥𝐧(𝟐)∫ 𝒚𝒅𝒚 −

𝝅
𝟒

𝟎

 

𝟐∑
(−𝟏)𝒏

 𝒏
∫ 𝒚𝒄𝒐𝒔(𝟐𝒏𝒚)𝒅𝒚

𝝅
𝟒

𝟎

∞

𝒏=𝟏

=
𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) − 𝟐 𝐥𝐧(𝟐) [

𝟏

𝟐
.
𝝅𝟐

𝟏𝟔
] − 𝟐∑

(−𝟏)𝒏

 𝒏
𝓡∫ 𝒚𝒆−𝟐𝒊𝒏𝒚𝒅𝒚

𝝅
𝟒

𝟎

=

∞

𝒏=𝟏
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𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) −

𝝅𝟐

𝟏𝟔
𝐥𝐧(𝟐) − 𝟐𝓡∑

(−𝟏)𝒏

 𝒏
[
−𝟏 + 𝒆−

𝒊𝝅𝒏
𝟐 +

𝒊𝝅𝒏
𝟐 𝒆−

𝒊𝝅𝒏
𝟐

𝟒𝒏𝟐
] =

∞

𝒏=𝟏

 

−𝟐∑
(−𝟏)𝒏

 𝒏
[
𝝅 𝐬𝐢𝐧 (

𝝅𝒏
𝟐 )

𝟖𝒏
+
𝒄𝒐𝒔 (

𝝅𝒏
𝟐 )

𝟒𝒏𝟐
−
𝟏

𝟒𝒏𝟐
] =

∞

𝒏=𝟏

−
𝝅

𝟒
∑
(−𝟏)𝒏 𝐬𝐢𝐧 (

𝝅𝒏
𝟐 )

 𝒏𝟐

∞

𝒏=𝟏

− 

𝟏

𝟐
∑
(−𝟏)𝒏 𝐜𝐨𝐬 (

𝝅𝒏
𝟐 )

 𝒏𝟑
+
𝟏

𝟐
∑
(−𝟏)𝒏

 𝒏𝟑

∞

𝒏=𝟏

∞

𝒏=𝟏

−
𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) 

𝑨 =
𝝅

𝟒
𝑮 +

𝟑

𝟔𝟒
𝜻(𝟑) −

𝟑

𝟖
𝜻(𝟑) −

𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) 

𝑰𝟏 =
𝝅𝟑

𝟔𝟒
− 𝟑𝑨 =

𝝅𝟑

𝟔𝟒
−
𝟑𝝅

𝟒
𝑮 +

𝟔𝟑

𝟔𝟒
𝜻(𝟑) +

𝟑𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) 

𝑰𝟐 = ∫ 𝒙𝟐𝑳𝒊𝟑(−𝒙
𝟑)𝒅𝒙

𝟏

𝟎

  {𝒖 = 𝒙𝟑 ,
𝒅𝒖

𝒅𝒙
= 𝟑𝒙𝟐 , 𝒅𝒙 =

𝒅𝒖

𝟑𝒙𝟐
} 

𝑰𝟐 =
𝟏

𝟑
∫ 𝑳𝒊𝟑(−𝒖)𝒅𝒖
𝟏

𝟎

=⏞
𝒖=𝒙𝟏

𝟑
∫ 𝑳𝒊𝟑(−𝒙)𝒅𝒙  {𝒖 = 𝑳𝒊𝟑(−𝒙),
𝟏

𝟎

𝒅𝒖

𝒅𝒙
=
𝑳𝒊𝟐(−𝒙)

𝒙
, 𝒅𝒖 = 𝒅𝒙  𝒗 = 𝒙} 

𝑰𝟐 =
𝟏

𝟑
[𝒙𝑳𝒊𝟑(−𝒙)⌋

𝟏

𝟎
−∫ 𝑳𝒊𝟐(−𝒙)𝒅𝒙

𝟏

𝟎

] =
𝟏

𝟑
(−
𝟑

𝟒
𝜻(𝟑) − (−

𝜻(𝟐)

𝟐
+ 𝟐 𝐥𝐧(𝟐) − 𝟏)) = 

𝑰𝟐 = −
𝟏

𝟒
𝜻(𝟑) +

𝜻(𝟐)

𝟔
−
𝟐

𝟑
𝐥𝐧 (𝟐) +

𝟏

𝟑
 

Ω = ∫ (𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝒙) + 𝒙𝟐𝑳𝒊𝟑(−𝒙
𝟑)) 𝒅𝒙

𝟏

𝟎

=
𝝅𝟑

𝟔𝟒
−
𝟑𝝅

𝟒
𝑮 +

𝟒𝟕

𝟔𝟒
𝜻(𝟑) +

𝟑𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) +

𝜻(𝟐)

𝟔
−
𝟐

𝟑
𝐥𝐧 (𝟐) +

𝟏

𝟑
 

 

Solution 3 by Shobhit Jain-India 

𝑰 = ∫ (𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝒙) + 𝒙𝟐𝑳𝒊𝟑(−𝒙
𝟑)) 𝒅𝒙

𝟏

𝟎

= 𝑴+𝑲 

𝑴 = ∫ 𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝒙)𝒅𝒙
𝟏

𝟎

= ∫ 𝜽𝟑𝐝(𝐭𝐚𝐧(𝜽)) = 𝜽𝟑𝐭𝐚𝐧 (𝜽)|

𝝅
𝟒
𝟎
− 𝟑∫ 𝜽𝟐 𝐭𝐚𝐧(𝜽)𝒅(𝜽) =

𝝅𝟑

𝟔𝟒
+

𝝅
𝟒

𝟎

𝝅
𝟒

𝟎

 

𝟑∫ 𝜽𝟐𝒅(𝐥𝐧(𝟐 𝒄𝒐𝒔(𝜽)) =
𝝅𝟑

𝟔𝟒
+ 𝟑.

𝝅
𝟒

𝟎

𝝅𝟐

𝟏𝟔
. 𝐥𝐧 (

𝟐

√𝟐
) − 𝟑∫ 𝐥𝐧(𝟐 𝒄𝒐𝒔(𝜽)) =

𝝅𝟑

𝟔𝟒
+
𝟑𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) −

𝝅
𝟒

𝟎
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𝟑

𝟐
∫ 𝜽𝐥𝐧 (𝟐 𝐜𝐨𝐬 (

𝜽

𝟐
)𝒅𝜽   𝒃𝒚  𝒓𝒆𝒑𝒍𝒂𝒄𝒊𝒏𝒈  𝜽  𝒘𝒊𝒕𝒉  𝜽/𝟐

𝝅
𝟐

𝟎

 

𝑵𝒐𝒘 ∶   𝐥𝐧 (𝟐 𝐜𝐨𝐬 (
𝜽

𝟐
) = ∑(−𝟏)𝒏−𝟏

𝐜𝐨𝐬(𝒏𝜽)

𝒏

∞

𝒏=𝟏

 

∫ 𝜽𝐥𝐧 (𝟐 𝐜𝐨𝐬 (
𝜽

𝟐
)𝒅𝜽 = ∑

(−𝟏)𝒏−𝟏

𝒏
∫ 𝜽 𝐜𝐨𝐬(𝒏𝜽)𝒅𝜽

𝝅
𝟐

𝟎

∞

𝒏=𝟏

𝝅
𝟐

𝟎

= ∑
(−𝟏)𝒏−𝟏

𝒏
{
𝜽 𝐬𝐢𝐧(𝒏𝜽)

𝒏
+
𝐜𝐨𝐬(𝒏𝜽)

𝒏𝟐
}|

𝝅
𝟐
𝟎
=

∞

𝒏=𝟏

 

∑
(−𝟏)𝒏−𝟏

𝒏
{

𝝅
𝟐 𝐬𝐢𝐧 (

𝒏𝝅
𝟐 )

𝒏
+
𝐜𝐨𝐬 (

𝒏𝝅
𝟐 )

𝒏𝟐
−
𝟏

𝒏𝟐
}

∞

𝒏=𝟏

=
𝝅

𝟐
∑(−𝟏)𝒏−𝟏

𝐬𝐢𝐧 (
𝒏𝝅
𝟐 )

𝒏𝟐
+∑(−𝟏)𝒏−𝟏

𝐬𝐢𝐧 (
𝒏𝝅
𝟐 )

𝒏𝟑
−

∞

𝒏=𝟏

∞

𝒏=𝟏

 

∑
(−𝟏)𝒏−𝟏

𝒏𝟑
=
𝝅

𝟐
{
𝟏

𝟏𝟐
−
𝟏

𝟑𝟐
+
𝟏

𝟓𝟐
−⋯} + {

𝟏

𝟐𝟑
−
𝟏

𝟒𝟑
+
𝟏

𝟔𝟑
−⋯} − {

𝟏

𝟏𝟑
−
𝟏

𝟐𝟑
+
𝟏

𝟑𝟑
−⋯}

∞

𝒏=𝟏

= 

𝝅

𝟐
𝑮 +

𝜼(𝟑)

𝟖
− 𝜼(𝟑) =

𝝅

𝟐
𝑮 −

𝟐𝟏

𝟑𝟐
𝜻(𝟑) 

𝑴 =
𝝅𝟑

𝟔𝟒
+
𝟑𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) −

𝟑

𝟐
{
𝝅

𝟐
𝑮 −

𝟐𝟏

𝟑𝟐
𝜻(𝟑)} =

𝝅𝟑

𝟔𝟒
+
𝟑𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) +

𝟔𝟑

𝟔𝟒
𝜻(𝟑) −

𝟑𝝅

𝟒
𝑮 

𝑵𝒐𝒘 

𝑲 = ∫ 𝒙𝟐𝑳𝒊𝟑(−𝒙
𝟑)𝒅𝒙 =

𝟏

𝟑
∫ 𝑳𝒊𝟑(−𝒕)𝒅𝒕   𝑩𝒚  𝒔𝒖𝒃𝒔𝒕𝒊𝒕𝒖𝒕𝒊𝒏𝒈   𝒕 = 𝒙

𝟑
𝟏

𝟎

𝟏

𝟎

 

𝑳𝒊𝟑(−𝒕) = ∑(−𝟏)𝒏
𝒕𝒏

𝒏𝟑

∞

𝒏=𝟏

 

𝑻𝒉𝒆𝒓𝒆𝒇𝒐𝒓𝒆  𝑲 =
𝟏

𝟑
∑

(−𝟏)𝒏

𝒏𝟑(𝒏 + 𝟏)
=
𝟏

𝟑
∑(−𝟏)𝒏 {

𝟏

𝒏𝟑
−
𝟏

𝒏𝟐
+
𝟏

𝒏
−

𝟏

𝒏 + 𝟏
} =

∞

𝒏=𝟏

∞

𝒏=𝟏

 

𝟏

𝟑
{−𝜼(𝟑) + 𝜼(𝟐) − 𝐥𝐧(𝟐) + 𝟏 − 𝐥𝐧 (𝟐)} =

𝟏

𝟑
{−
𝟑

𝟒
𝜻(𝟑) +

𝟏

𝟐
𝜻(𝟐) + 𝟏 − 𝟐 𝐥𝐧(𝟐)} = 

𝝅𝟐

𝟑𝟔
−
𝟏

𝟒
𝜻(𝟑) −

𝟐

𝟑
𝐥𝐧(𝟐) +

𝟏

𝟑
 

𝑰 = ∫ (𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝒙) + 𝒙𝟐𝑳𝒊𝟑(−𝒙
𝟑)) 𝒅𝒙

𝟏

𝟎

= 𝑴+𝑲

=
𝝅𝟑

𝟔𝟒
+
𝟑𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) +

𝟔𝟑

𝟔𝟒
𝜻(𝟑) −

𝟑𝝅

𝟒
𝑮 + 

𝝅𝟐

𝟑𝟔
−
𝟏

𝟒
𝜻(𝟑) −

𝟐

𝟑
𝐥𝐧(𝟐) +

𝟏

𝟑
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𝑰 = ∫ (𝒂𝒓𝒄𝒕𝒂𝒏𝟑(𝒙) + 𝒙𝟐𝑳𝒊𝟑(−𝒙
𝟑))𝒅𝒙

𝟏

𝟎

=
𝝅𝟑

𝟔𝟒
−
𝟑𝝅

𝟒
𝑮 +

𝟒𝟕

𝟔𝟒
𝜻(𝟑) +

𝟑𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) +

𝜻(𝟐)

𝟔
−
𝟐

𝟑
𝐥𝐧 (𝟐) +

𝟏

𝟑
 

 

2531. Find a closed form: 

𝑰 =  ∑
(
𝟏
𝟑
)
𝒏+𝟑

𝟐

𝒏 (𝒏 +
𝟑
𝟐
)  𝟐𝒏𝑪𝒏

 

∞

𝒏=𝟏

 

Proposed by Akerele Olofin Segun-Nigeria 
Solution by Shobhit Jain-India 

  𝑰 =  ∑
(
𝟏
𝟑)

𝒏+
𝟑
𝟐

𝒏 (𝒏 +
𝟑
𝟐)  

𝟐𝒏𝑪𝒏

 

∞

𝒏=𝟏

=  
𝟐

√𝟑
∑

𝟏

𝟑𝒏+𝟏 𝒏(𝟐𝒏 + 𝟑) 𝟐𝒏𝑪𝒏
 

∞

𝒏=𝟏

=  

=
𝟐

√𝟑
∫ ∑

𝒙𝟐𝒏+𝟐 𝒏! 𝒏!

𝟑𝒏+𝟏 𝒏 (𝟐𝒏)!
𝒅𝒙

∞

𝒏=𝟏

𝟏

𝟎

=
𝟐

√𝟑
∫ ∑

𝒙𝟐𝒏+𝟐 𝚪(𝐧)𝚪(𝐧 + 𝟏)

𝟑𝒏+𝟏 𝚪(𝟐𝒏 + 𝟏)
𝒅𝒙

∞

𝒏=𝟏

𝟏

𝟎

= 

      =
𝟐

√𝟑
∫ ∑

𝒙𝟐𝒏+𝟐 

𝟑𝒏+𝟏
𝑩(𝒏,𝒏 + 𝟏)𝒅𝒙

∞

𝒏=𝟏

𝟏

𝟎

=
𝟐

√𝟑
∫∫∑

𝒙𝟐𝒏+𝟐 

𝟑𝒏+𝟏

∞

𝒏=𝟏

𝟏

𝟎

𝟏

𝟎

(𝟏 − 𝒕)𝒏−𝟏𝒕𝒏𝒅𝒕𝒅𝒙 = 

     =
𝟐

√𝟑
∫∫

𝒙𝟒𝒕
𝟑𝟐

𝟏 −
𝒙𝟐

𝟑 𝒕
(𝟏 − 𝒕)

𝟏

𝟎

𝟏

𝟎

𝒅𝒕𝒅𝒙 =
𝟐

𝟑√𝟑
∫∫

𝒙𝟒𝒕

𝟑 − 𝒙𝟐𝒕(𝟏 − 𝒕)

𝟏

𝟎

𝟏

𝟎

𝒅𝒕𝒅𝒙 = 

  ∫
𝒕

𝟑 − 𝒙𝟐𝒕(𝟏 − 𝒕)

𝟏

𝟎

𝒅𝒕 =⏟
𝒕→𝟏−𝒕

 ∫
𝟏 − 𝒕

𝟑 − 𝒙𝟐𝒕(𝟏 − 𝒕)

𝟏

𝟎

𝒅𝒕 =
𝟏

𝟐
∫

𝟏

𝟑 − 𝒙𝟐𝒕(𝟏 − 𝒕)

𝟏

𝟎

𝒅𝒕 = 

=
𝟏

𝟐
∫

𝟏

𝟑 −
𝒙𝟐

𝟒
+ (𝒙𝒕 −

𝒙
𝟐
)
𝟐

𝟏

𝟎

𝒅𝒕 =
𝟏

𝟐𝒙√𝟑−
𝒙𝟐

𝟒 [
 
 
 

𝒕𝒂𝒏−𝟏

(

 
𝒙𝒕 −

𝒙
𝟐

√𝟑 −
𝒙𝟐

𝟒 )

 

]
 
 
 

𝒕=𝟎

𝒕=𝟏

= 

=
𝟐

𝒙√𝟏𝟐 − 𝒙𝟐
𝒕𝒂𝒏−𝟏 (

𝒙

√𝟏𝟐 − 𝒙𝟐
) =

𝟐

𝒙√𝟏𝟐− 𝒙𝟐
𝒔𝒊𝒏−𝟏 (

𝒙

√𝟏𝟐
) 

𝑻𝒉𝒆𝒓𝒆𝒇𝒐𝒓𝒆,   

 𝑰 =
𝟐

𝟑√𝟑
∫

𝟐𝒙𝟒

𝒙√𝟏𝟐 − 𝒙𝟐
𝒔𝒊𝒏−𝟏 (

𝒙

√𝟏𝟐
)𝒅𝒙

𝟏

𝟎

=
𝟒

𝟑√𝟑
∫

𝒙𝟑

√𝟏𝟐− 𝒙𝟐
𝒔𝒊𝒏−𝟏 (

𝒙

√𝟏𝟐
)𝒅𝒙

𝟏

𝟎

= 𝟑𝟐∫ 𝜽𝒔𝒊𝒏𝟑𝜽𝒅𝜽

𝝓

𝟎
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    𝒃𝒚 𝒔𝒖𝒃𝒔𝒕𝒊𝒕𝒖𝒕𝒊𝒏𝒈  𝜽 = 𝒔𝒊𝒏−𝟏 (
𝒙

√𝟏𝟐
)  𝒐𝒓 𝒙 = √𝟏𝟐𝒔𝒊𝒏𝜽                            

= 𝟖∫ 𝜽(𝟑𝒔𝒊𝒏𝜽 − 𝒔𝒊𝒏𝟑𝜽)𝒅𝜽

𝝓

𝟎

 , 𝒃𝒚 𝒖𝒔𝒊𝒏𝒈  𝒔𝒊𝒏𝟑𝜽 =
𝟑𝒔𝒊𝒏𝜽 − 𝒔𝒊𝒏𝟑𝜽

𝟒
        

 𝒉𝒆𝒓𝒆, : 𝝓 = 𝒔𝒊𝒏−𝟏 (
𝟏

√𝟏𝟐
) = 𝒄𝒐𝒔−𝟏 (

√𝟏𝟏

√𝟏𝟐
) = 𝒕𝒂𝒏−𝟏 (

𝟏

√𝟏𝟏
) 

      ⇒ 𝑰 = 𝟖 [𝜽 (
𝒄𝒐𝒔𝟑𝜽

𝟑
− 𝟑𝒄𝒐𝒔𝜽)]

𝟎

𝝓

− 𝟖∫ (
𝒄𝒐𝒔𝟑𝜽

𝟑
− 𝟑𝒄𝒐𝒔𝜽)𝒅𝜽

𝝓

𝟎

= 𝟖𝝓(
𝒄𝒐𝒔𝟑𝝓

𝟑
− 𝟑𝒄𝒐𝒔𝝓) − 𝟖(

𝒔𝒊𝒏𝟑𝝓

𝟗
− 𝟑𝒔𝒊𝒏𝝓) = 

𝑵𝒐𝒘 𝒖𝒔𝒆 𝒕𝒉𝒆 𝒊𝒅𝒆𝒏𝒕𝒊𝒕𝒚  𝒄𝒐𝒔𝟑𝝓 = 𝟒𝒄𝒐𝒔𝟑𝝓 − 𝟑𝒄𝒐𝒔𝝓  𝒂𝒏𝒅 𝒔𝒊𝒏𝟑𝝓 = 𝟑𝒔𝒊𝒏𝝓 − 𝟒𝒔𝒊𝒏𝟑𝝓 

     ⇒ 𝑰 =
𝟑𝟐

𝟗
(𝟔𝒔𝒊𝒏𝝓 + 𝒔𝒊𝒏𝟑𝝓) −

𝟑𝟐𝝓

𝟑
(𝟑𝒄𝒐𝒔𝝓 − 𝒄𝒐𝒔𝟑𝝓)

=  
𝟑𝟐

𝟗
(
𝟔

√𝟏𝟐
+

𝟏

𝟏𝟐√𝟏𝟐
) −

𝟑𝟐𝝓

𝟑
(
𝟑√𝟏𝟏

√𝟏𝟐
−
𝟏𝟏√𝟏𝟏

𝟏𝟐√𝟏𝟐
)

=
𝟑𝟐 ∗ 𝟕𝟑

𝟗 ∗ 𝟏𝟐√𝟏𝟐
− 𝝓

𝟑𝟐 ∗ 𝟐𝟓√𝟏𝟏

𝟑 ∗ 𝟏𝟐√𝟏𝟐
 

  ⇒ 𝑰 =
𝟒 ∗ 𝟕𝟑

𝟐𝟕√𝟑
− 𝝓

𝟏𝟎𝟎√𝟏𝟏

𝟗√𝟑
   ⇒     𝑰 =

𝟒

𝟐𝟕√𝟑
(𝟕𝟑 − 𝟕𝟓𝝓√𝟏𝟏) = 

=
𝟒

𝟐𝟕√𝟑
(𝟕𝟑 − 𝟕𝟓√𝟏𝟏𝒕𝒂𝒏−𝟏 (

𝟏

√𝟏𝟏
))          

2532. 

𝑰 = ∑
𝐬𝐢𝐧(𝒏) 𝐬𝐢𝐧(𝒏 + 𝟏) 𝐬𝐢𝐧(𝒏 − 𝟏)

𝒏

∞

𝒏=𝟏

 

 
Proposed by Ankush Kumar Parcha-India 

Solution by Alireza Askari-Iran 

𝑰 = ∑
𝐬𝐢𝐧(𝒏) 𝐬𝐢𝐧(𝒏 + 𝟏) 𝐬𝐢𝐧(𝒏 − 𝟏)

𝒏

∞

𝒏=𝟏

=      

=
𝐜𝐨𝐬(𝟐)

𝟐
∑
𝐬𝐢𝐧(𝒏)

𝒏

∞

𝒏=𝟏

−
𝟏

𝟐
∑
𝐬𝐢𝐧(𝒏) 𝐜𝐨𝐬(𝟐𝒏)

𝒏

∞

𝒏=𝟏

= (
𝐜𝐨𝐬(𝟐)

𝟐
+
𝟏

𝟒
)∑

𝐬𝐢𝐧(𝒏)

𝒏

∞

𝒏=𝟏

−∑
𝐬𝐢𝐧(𝟑𝒏)

𝟒𝒏

∞

𝒏=𝟏

 

𝑨 = ∑
𝐬𝐢𝐧(𝒏)

𝒏

∞

𝒏=𝟏

= 𝑰𝒎(∑
𝒆𝒊𝒏

𝒏

∞

𝒏=𝟏

) = 𝑰𝒎(− 𝐥𝐧(𝟏 − 𝒆𝒊)) = 𝑰𝒎(𝐥𝐧 (
𝟏

𝟏 − 𝒆𝒊
)) 
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= 𝑰𝒎(𝐥𝐧 (
𝟏

𝐜𝐨𝐬(𝟏) + 𝟏 − 𝒊 𝐬𝐢𝐧(𝟏)
)) 𝑰𝒎(𝐥𝐧(

𝐜𝐨𝐬(𝟏) + 𝟏 + 𝒊 𝐬𝐢𝐧(𝟏)

(𝟏 + 𝐜𝐨𝐬(𝟏))𝟐 + (𝐬𝐢𝐧(𝟏))𝟐
)) 

= 𝑰𝒎(𝐥𝐧(𝟐 𝐬𝐢𝐧(
𝟏

𝟐
) 𝒆

𝐢 𝐭𝐚𝐧−𝟏(
𝐬𝐢𝐧(𝟏)
𝟏−𝐜𝐨𝐬(𝟏)

)
)) = 𝐭𝐚𝐧−𝟏 (

𝐬𝐢𝐧(𝟏)

𝟏 − 𝐜𝐨𝐬(𝟏)
) 

= 𝐭𝐚𝐧−𝟏 (𝐜𝐨𝐭 (
𝟏

𝟐
)) = 𝐭𝐚𝐧−𝟏 (𝐭𝐚𝐧 (

𝝅 − 𝟏

𝟐
)) = (

𝝅 − 𝟏

𝟐
)    

(
𝐜𝐨𝐬(𝟐)

𝟐
+
𝟏

𝟒
)∑

𝐬𝐢𝐧(𝒏)

𝒏

∞

𝒏=𝟏

= (
𝐜𝐨𝐬(𝟐)

𝟐
+
𝟏

𝟒
) (
𝝅 − 𝟏

𝟐
)    

𝐧𝐨𝐭𝐞: {
{𝐬𝐢𝐧(𝒂) 𝐬𝐢𝐧(𝒃) =

𝟏

𝟐
(𝐜𝐨𝐬(𝒂 − 𝒃) − 𝐜𝐨𝐬(𝒂 + 𝒃))}

{𝐬𝐢𝐧(𝒂) 𝐜𝐨𝐬(𝒃) =
𝟏

𝟐
(𝐬𝐢𝐧(𝒂 − 𝒃) + 𝐬𝐢𝐧(𝒂 + 𝒃))}

 

(𝒂𝒄𝒄𝒐𝒓𝒅𝒊𝒏𝒈 𝒕𝒐 𝒂𝒃𝒐𝒗𝒆 𝒔𝒐𝒍𝒖𝒕𝒊𝒐𝒏)∑
𝐬𝐢𝐧(𝟑𝒏)

𝟒𝒏

∞

𝒏=𝟏

=
𝝅− 𝟑

𝟖
 

 𝐈 = (
𝐜𝐨𝐬(𝟐)

𝟐
+
𝟏

𝟒
) (
𝝅 − 𝟏

𝟐
) +

𝟑 − 𝝅

𝟖
=
𝝅

𝟒
𝐜𝐨𝐬(𝟐) +

𝟏 − 𝐜𝐨𝐬(𝟐)

𝟒
 

𝐀𝐍𝐒𝐖𝐄𝐑 =
𝛑 𝐜𝐨𝐬(𝟐) + (𝐬𝐢𝐧(𝟏))𝟐

𝟒
 

2533. Prove that: 

∑
𝒏+ 𝟏

(−𝟒)𝒏+𝟏
𝜻(𝒏 + 𝟏)

𝒏𝝐𝑵

 =
𝑮

𝟐
+
𝝅𝟐

𝟏𝟔
−
𝝅

𝟖
−
𝟑

𝟒
𝒍𝒏𝟐   

Proposed by Ankush Kumar Parcha-India 
Solution by Shobhit Jain-India 
 

𝝍(𝟏 + 𝒙) −  𝝍(𝟏) = ∑
𝟏

𝒌
−

𝟏

𝒙 + 𝒌

∞

𝒌=𝟏

 = ∑
𝟏

𝒌
−
𝟏

𝒌
(𝟏 +

𝒙

𝒌
)
−𝟏

∞

𝒌=𝟏

       𝒉𝒆𝒓𝒆 𝝍(𝒙)

= 𝒅𝒊𝒈𝒂𝒎𝒎𝒂 𝒇𝒖𝒏𝒄𝒕𝒊𝒐𝒏 
Let  |𝒙| < 1 

 

⇒ 𝝍(𝟏 + 𝒙) +  𝜸 =  ∑
𝟏

𝒌
−
𝟏

𝒌
(𝟏 −

𝒙

𝒌
+
𝒙𝟐

𝒌𝟐
−
𝒙𝟑

𝒌𝟑
+. . . . . . . . )

𝒌=𝟏

=∑(
𝒙

𝒌𝟐
 −
𝒙𝟐

𝒌𝟑
 +
𝒙𝟑

𝒌𝟒
 + . . . . . . . . )

𝒌=𝟏

 

 
= 𝒙𝜻(𝟐) − 𝒙𝟐𝜻(𝟑)  + 𝒙𝟑𝜻(𝟒) − . . . . . . . .. 
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⇒ 𝝍(𝟏 + 𝒙)  =  −𝜸  +  𝒙𝜻(𝟐)  − 𝒙𝟐𝜻(𝟑)  + 𝒙𝟑𝜻(𝟒) − . . . . . . . .. 
 

⇒  −𝒙𝝍(𝟏 − 𝒙)  =  𝒙𝜸  +  𝒙𝟐𝜻(𝟐)  + 𝒙𝟑𝜻(𝟑)  + 𝒙𝟒𝜻(𝟒) + . . . . . . . .. 

= 𝒙𝜸 +∑𝒙𝒏+𝟏𝜻(𝒏 + 𝟏)

∞

𝒏=𝟏

 

 
𝑫𝒊𝒇𝒇𝒆𝒓𝒆𝒏𝒕𝒊𝒂𝒕𝒆   𝒘. 𝒓. 𝒕   𝒙 

⇒ −𝝍(𝟏 − 𝒙) +  𝒙𝝍′(𝟏 − 𝒙) =  𝜸 + ∑(𝒏 + 𝟏)𝒙𝒏𝜻(𝒏 + 𝟏)

∞

𝒏=𝟏

 

𝒑𝒖𝒕  𝒙 = (−𝟏/𝟒) 

⇒ −𝝍(
𝟓

𝟒
) −

𝟏

𝟒
𝝍′(
𝟓

𝟒
) =  𝜸 + ∑(𝒏 + 𝟏)(

−𝟏

𝟒
)𝒏𝜻(𝒏+ 𝟏)

∞

𝒏=𝟏

 

 

⇒∑
𝒏+ 𝟏

(−𝟒)𝒏+𝟏
𝜻(𝒏 + 𝟏)

𝒏𝝐𝑵

 =
𝟏

𝟒
𝝍(
𝟓

𝟒
) +

𝜸

𝟒
+
𝟏

𝟏𝟔
𝝍′(
𝟓

𝟒
) 

𝑵𝒐𝒘, 𝝍(
𝟓

𝟒
) = 𝟒 +𝝍(

𝟏

𝟒
)

= 𝟒 − 𝜸 −
𝝅

𝟐
− 𝟑𝒍𝒏𝟐      (𝑩𝒚 𝑮𝒂𝒖𝒔𝒔′𝒔 𝑫𝒊𝒈𝒂𝒎𝒎𝒂 𝑻𝒉𝒆𝒐𝒓𝒆𝒎) 

 

𝑻𝒉𝒆𝒓𝒆𝒇𝒐𝒓𝒆,       
𝟏

𝟒
𝝍(

𝟓

𝟒
) +

𝜸

𝟒
= 𝟏 −

𝝅

𝟖
−
𝟑

𝟒
𝒍𝒏𝟐      ----------------(𝑨) 

 

𝑾𝒆 𝒌𝒏𝒐𝒘,𝝍′(𝒙) =
𝟏

𝒙𝟐
+

𝟏

(𝒙 + 𝟏)𝟐
+

𝟏

(𝒙 + 𝟐)𝟐
+. . . . . . . . . . . . .. 

 

𝝍′(
𝟓

𝟒
) = 𝟏𝟔 {

𝟏

𝟓𝟐
+
𝟏

𝟗𝟐
+
𝟏

𝟏𝟑𝟐
+
𝟏

𝟏𝟕𝟐
+. . . . . . . . . . . . . . . . . . } 

 

⇒
𝟏

𝟏𝟔
 𝝍′(

𝟓

𝟒
) =

𝟏

𝟓𝟐
+
𝟏

𝟗𝟐
+
𝟏

𝟏𝟑𝟐
+
𝟏

𝟏𝟕𝟐
+. . . . . . . . . . . . . . .. 

 
𝑵𝒐𝒘, 

𝟏

𝟏𝟐
−
𝟏

𝟑𝟐
+
𝟏

𝟓𝟐
−
𝟏

𝟕𝟐
+
𝟏

𝟗𝟐
−
𝟏

𝟏𝟏𝟐
+. . . . . . . . . . = 𝑮 

 
𝟏

𝟏𝟐
+
𝟏

𝟑𝟐
+
𝟏

𝟓𝟐
+
𝟏

𝟕𝟐
+
𝟏

𝟗𝟐
+
𝟏

𝟏𝟏𝟐
+. . . . . . . . . . = {𝟏 −

𝟏

𝟐𝟐
} 𝜻(𝟐) =

𝟑

𝟒
×
𝝅𝟐

𝟔
=
𝝅𝟐

𝟖
 

 
𝑩𝒚 𝒂𝒅𝒅𝒊𝒏𝒈 𝒃𝒐𝒕𝒉 𝒔𝒆𝒓𝒊𝒆𝒔, 
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⇒ 𝟐{
𝟏

𝟏𝟐
+
𝟏

𝟓𝟐
+
𝟏

𝟗𝟐
+. . . . . . . . . . . . . . . . . . } = 𝑮 +

𝝅𝟐

𝟖
 

 

⇒
𝟏

𝟏𝟔
 𝝍′(

𝟓

𝟒
) =

𝟏

𝟓𝟐
+

𝟏

𝟗𝟐
+

𝟏

𝟏𝟑𝟐
+

𝟏

𝟏𝟕𝟐
+. . . . . . . . . . . . . . =

𝑮

𝟐
+
𝝅𝟐

𝟏𝟔
− 𝟏         ----------------(𝑩) 

 
𝑨𝒅𝒅 𝒃𝒐𝒕𝒉 (𝑨) 𝒂𝒏𝒅 (𝑩) 

𝟏

𝟒
𝝍(
𝟓

𝟒
) +

𝜸

𝟒
+
𝟏

𝟏𝟔
𝝍′ (

𝟓

𝟒
) =

𝟏

𝟒
(𝟒 − 𝜸 −

𝝅

𝟐
− 𝟑𝒍𝒏𝟐) +

𝜸

𝟒
+
𝑮

𝟐
+
𝝅𝟐

𝟏𝟔
− 𝟏

= 𝟏 −
𝝅

𝟖
−
𝟑

𝟒
𝒍𝒏𝟐 +

𝑮

𝟐
+
𝝅𝟐

𝟏𝟔
− 𝟏 

=
𝑮

𝟐
+
𝝅𝟐

𝟏𝟔
−
𝝅

𝟖
−
𝟑

𝟒
𝒍𝒏𝟐 

 

⇒∑
𝒏+ 𝟏

(−𝟒)𝒏+𝟏
𝜻(𝒏 + 𝟏)

𝒏𝝐𝑵

 =
𝑮

𝟐
+
𝝅𝟐

𝟏𝟔
−
𝝅

𝟖
−
𝟑

𝟒
𝒍𝒏𝟐 

𝒉𝒆𝒓𝒆  𝑮 = 𝑪𝒂𝒕𝒂𝒍𝒂𝒏′𝒔 𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕   𝒂𝒏𝒅  𝜸 = 𝑬𝒖𝒍𝒆𝒓 −𝑴𝒂𝒔𝒄𝒉𝒆𝒓𝒐𝒏𝒊′𝒔  𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕 

 
2534. Find a closed form: 

∑
𝐬𝐢𝐧(𝒏 − 𝟏) 𝐬𝐢𝐧(𝒏) 𝐬𝐢𝐧 (𝒏 + 𝟏)

𝒏
𝒏∈𝑵

 

Proposed by Ankush Kumar Parcha-India 
Solution by Pham Duc Nam-Vietnam 

𝑺 = ∑
𝐬𝐢𝐧(𝒏 − 𝟏) 𝐬𝐢𝐧(𝒏) 𝐬𝐢𝐧 (𝒏 + 𝟏)

𝒏
𝒏∈𝑵

 

𝑻𝒉𝒊𝒔  𝒔𝒖𝒎𝒎 ∶ 𝑺(𝒙) = ∑
𝐬𝐢𝐧 (𝒏𝒙)

𝒏
=
𝝅 − 𝒙

𝟐
, 𝒘𝒉𝒆𝒓𝒆  ∈ (𝟎, 𝟐

∞

𝒏=𝟏

𝝅) 𝒊𝒔 𝒘𝒆𝒍𝒍 − 𝒌𝒏𝒐𝒘𝒏 

𝑺(𝟏) =
𝝅 − 𝟏

𝟐
 , 𝑺(𝟑) =

𝝅 − 𝟑

𝟐
 

𝑺𝒊𝒏𝒄𝒆 ∶  𝐬𝐢𝐧(𝒏 − 𝟏) 𝐬𝐢𝐧(𝒏 + 𝟏) =
𝟏

𝟐
(𝐜𝐨𝐬(𝟐) − 𝟏 + 𝟏 − 𝐜𝐨𝐬(𝟐𝒏)) 

𝑺 =
𝟏

𝟐
(𝐜𝐨𝐬(𝟐) − 𝟏)∑

𝐬𝐢𝐧 (𝒏)

𝒏
+
𝟏

𝟐
∑
𝐬𝐢𝐧(𝒏) (𝟏 − 𝐜𝐨𝐬(𝟐𝒏))

𝒏

∞

𝒏=𝟏

 

∞

𝒏=𝟏

= −𝒔𝒊𝒏𝟐(𝟏) (
𝝅 − 𝟏

𝟐
) +∑

𝒔𝒊𝒏𝟑(𝒏)

𝒏
=

∞

𝒏=𝟏
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= −𝒔𝒊𝒏𝟐(𝟏) (
𝝅 − 𝟏

𝟐
)

+∑

𝟏
𝟒
(𝟑 𝐬𝐢𝐧(𝒏) − 𝐬𝐢𝐧(𝟑𝒏))

𝒏
= −𝒔𝒊𝒏𝟐(𝟏) (

𝝅 − 𝟏

𝟐
) +

𝟑

𝟒
𝑺(𝟏) −

𝟏

𝟒
𝑺(𝟑) =

∞

𝒏=𝟏

 

= −𝒔𝒊𝒏𝟐(𝟏) (
𝝅 − 𝟏

𝟐
) +

𝝅

𝟒
=
𝝅𝒄𝒐𝒔(𝟐) + 𝟐𝒔𝒊𝒏𝟐(𝟏)

𝟒
 

 

2535. Find: 

𝛀 =∑
(−𝟏)𝒌

(𝒌 + 𝟏)𝟑(𝟐𝒌 + 𝟏)𝟐

∞

𝒌=𝟏

 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution 1 by Shobhit Jain-India 

Ω =∑
(−𝟏)𝒌

(𝒌 + 𝟏)𝟑(𝟐𝒌 + 𝟏)𝟐

∞

𝒌=𝟏

→ 

Ω + 𝟏 =∑
(−𝟏)𝒌

(𝒌 + 𝟏)𝟑(𝟐𝒌 + 𝟏)𝟐

∞

𝒌=𝟏

=∑(−𝟏)𝒌{
𝟏𝟐

𝒌 + 𝟏
+

𝟒

(𝒌 + 𝟏)𝟐
+

𝟏

(𝒌 + 𝟏)𝟑
−

𝟐𝟒

𝟐𝒌 + 𝟏
+

𝟖

(𝟐𝒌 + 𝟏)𝟐
}

∞

𝒌=𝟎

→ 

Ω + 𝟏 = 𝟏𝟐 {
𝟏

𝟏
−
𝟏

𝟐
+
𝟏

𝟑
−⋯} + 𝟒 {

𝟏

𝟏𝟐
−
𝟏

𝟐𝟐
+
𝟏

𝟑𝟐
−⋯} + {

𝟏

𝟏𝟑
−
𝟏

𝟐𝟑
+
𝟏

𝟑𝟑
−⋯} − 

𝟐𝟒 {
𝟏

𝟏
−
𝟏

𝟑
+
𝟏

𝟓
−⋯} + 𝟖 {

𝟏

𝟏𝟐
−
𝟏

𝟑𝟐
+
𝟏

𝟓𝟐
−⋯} = 𝟏𝟐 𝐥𝐧(𝟐) + 𝟒𝜼(𝟐) + 𝜼(𝟑) − 

−𝟐𝟒𝜷(𝟏) + 𝟖𝜷(𝟐) = 𝟏𝟐 𝐥𝐧(𝟐) + 𝟐𝜻(𝟐) +
𝟑

𝟒
𝜻(𝟑) − 𝟐𝟒.

𝝅

𝟒
+ 𝟖𝑮 

Ω = ∑
(−𝟏)𝒌

(𝒌 + 𝟏)𝟑(𝟐𝒌 + 𝟏)𝟐

∞

𝒌=𝟏

= 𝟖𝑮 + 𝟏𝟐 𝐥𝐧(𝟐) + 𝟐𝜻(𝟐) +
𝟑

𝟒
𝜻(𝟑) − 𝟔𝝅 − 𝟏 

 

Solution 2 by Kartick Chandra Betal-India 
 

𝛀 =∑
(−𝟏)𝒌

(𝒌 + 𝟏)𝟑(𝟐𝒌 + 𝟏)𝟐

∞

𝒌=𝟏

= ∑
(−𝟏)𝒌−𝟏

𝒌𝟑(𝟐𝒌 − 𝟏)𝟐

∞

𝒌=𝟐

=∑
(−𝟏)𝒌−𝟏

𝒌𝟑(𝟐𝒌 − 𝟏)𝟐
− 𝟏 =

∞

𝒌=𝟏

 

= 𝟖∑(−𝟏)𝒌−𝟏 {
𝟏

(𝟐𝒌)𝟐(𝟐𝒌− 𝟏)𝟐
−

𝟏

(𝟐𝒌)𝟑(𝟐𝒌 − 𝟏)
}

∞

𝒌=𝟏

− 𝟏 = 

= 𝟖∑(−𝟏)𝒌−𝟏 {
𝟏

𝟐𝒌(𝟐𝒌− 𝟏)𝟐
−

𝟏

(𝟐𝒌)𝟐(𝟐𝒌 − 𝟏)
−

𝟏

(𝟐𝒌)𝟐(𝟐𝒌− 𝟏)
+

𝟏

(𝟐𝒌)𝟑
} − 𝟏 =

∞

𝒌=𝟏
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= 𝟖∑(−𝟏)𝒌−𝟏 {
𝟏

(𝟐𝒌 − 𝟏)𝟐
−

𝟑

𝟐𝒌(𝟐𝒌 − 𝟏)
+

𝟐

(𝟐𝒌)𝟐
+

𝟏

(𝟐𝒌)𝟑
} − 𝟏

∞

𝒌=𝟏

= 

= 𝟖∑(−𝟏)𝒌−𝟏 {
𝟏

(𝟐𝒌 − 𝟏)𝟐
−

𝟑

(𝟐𝒌 − 𝟏)
+
𝟑

𝟐𝒌
+
𝟏

𝟐𝒌𝟐
+

𝟏

(𝟐𝒌)𝟑
} − 𝟏

∞

𝒌=𝟏

= 

= 𝟖{𝜷(𝟐) − 𝟑.
𝝅

𝟒
+
𝟑

𝟐
𝐥𝐧(𝟐) +

𝟏

𝟐
.
𝝅𝟐

𝟏𝟐
+
𝟏

𝟖
.
𝟑

𝟒
𝜻(𝟑)} − 𝟏 = 

= 𝟖{𝑮 −
𝟑𝝅

𝟒
+
𝟑

𝟐
𝒍𝒏(𝟐) +

𝝅𝟐

𝟐𝟒
+
𝟑

𝟑𝟐
𝜻(𝟑)} − 𝟏

= 𝟖𝑮+ 𝟏𝟐 𝐥𝐧(𝟐) + 𝟐𝜻(𝟐) +
𝟑

𝟒
𝜻(𝟑) − 𝟔𝝅 − 𝟏 

2536. Find: 

𝛀 = ∑
𝒌𝟐

(𝟐𝒌 + 𝟏)𝟑 ( 𝟐𝒌
𝟐𝒌+𝟏

)

∞

𝒌=𝟏

 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution by Shobhit Jain-India 
 

𝛀 =∑
𝒌𝟐

(𝟐𝒌 + 𝟏)𝟑 ( 𝟐𝒌𝑪𝒌+𝟏)

∞

𝒌=𝟏

= ∑
𝒌𝟐 (𝒌 − 𝟏)! (𝒌 + 𝟏)!

(𝟐𝒌 + 𝟏)𝟑 (𝟐𝒌)!

∞

𝒌=𝟎

 =  ∑
𝒌(𝒌 + 𝟏) 𝒌! 𝒌!

(𝟐𝒌 + 𝟏)𝟐 (𝟐𝒌 + 𝟏)!

∞

𝒌=𝟎

= 

= ∑
𝒌(𝒌 + 𝟏) 𝚪(𝐤 + 𝟏)𝚪(𝐤 + 𝟏)

(𝟐𝒌 + 𝟏)𝟐 𝚪(𝟐𝒌 + 𝟐)
=   ∑

𝒌(𝒌 + 𝟏) 

(𝟐𝒌 + 𝟏)𝟐 
𝑩(𝒌 + 𝟏, 𝒌 + 𝟏)

∞

𝒌=𝟎

∞

𝒌=𝟎

 

𝑵𝒐𝒘,
𝒌(𝒌 + 𝟏)

(𝟐𝒌 + 𝟏)𝟐
= 
𝟏

𝟒
− 

𝟏

𝟒(𝟐𝒌 + 𝟏)𝟐 
         𝒂𝒏𝒅   𝑩(𝒌 + 𝟏, 𝒌 + 𝟏) =  ∫ 𝒕𝒌(𝟏 − 𝒕)𝒌

𝟏

𝟎

𝒅𝒕 

𝐓𝐡𝐞𝐫𝐞𝐟𝐨𝐫𝐞,   𝛀 = ∫∑(
𝟏

𝟒
− 

𝟏

𝟒(𝟐𝒌 + 𝟏)𝟐 
) 𝒕𝒌(𝟏 − 𝒕)𝒌𝒅𝒕 

∞

𝒌=𝟎

𝟏

𝟎

=  
𝟏

𝟒
∫∑𝒕𝒌(𝟏 − 𝒕)𝒌𝒅𝒕 

∞

𝒌=𝟎

𝟏

𝟎

− 
𝟏

𝟒
∫∑

𝒕𝒌(𝟏 − 𝒕)𝒌

(𝟐𝒌 + 𝟏)𝟐
𝒅𝒕 

∞

𝒌=𝟎

𝟏

𝟎

                   𝑵𝒐𝒘 𝒖𝒔𝒆,
𝟏

(𝟐𝒌 + 𝟏)𝟐

= −∫ (𝒍𝒏𝒙)
𝟏

𝟎

𝒙𝟐𝒌𝒅𝒙 
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⇒  𝛀 =
𝟏

𝟒
∫

𝒅𝒕

𝟏 − 𝒕(𝟏 − 𝒕)

𝟏

𝟎

+ 
𝟏

𝟒
∫ ∫ ∑(𝒍𝒏𝒙)

∞

𝒌=𝟎

𝟏

𝟎

𝟏

𝟎

𝒙𝟐𝒌𝒕𝒌(𝟏 − 𝒕)𝒌𝒅𝒙𝒅𝒕

=  
𝟏

𝟒
∫

𝒅𝒕

𝟑
𝟒 + (𝒕 −

𝟏
𝟐)

𝟐

𝟏

𝟎

+  
𝟏

𝟒
∫∫

𝒍𝒏𝒙

𝟏 − 𝒙𝟐𝒕(𝟏 − 𝒕)

𝟏

𝟎

𝟏

𝟎

𝒅𝒕𝒅𝒙 

𝒖𝒔𝒆   ∫
𝒅𝒕

𝟑
𝟒 + (𝒕 −

𝟏
𝟐)

𝟐

𝟏

𝟎

= [ 
𝟐

√𝟑
𝒕𝒂𝒏−𝟏 (

𝟐𝒕 − 𝟏

√𝟑
) ]

𝟎

𝟏

= 
𝟐𝝅

𝟑√𝟑
 

∫
𝒅𝒕

𝟏 − 𝒙𝟐𝒕(𝟏 − 𝒕)

𝟏

𝟎

= 
𝟏

𝒙𝟐
∫

𝒅𝒕

(𝒕 −
𝟏
𝟐)

𝟐

+ (
𝟏
𝒙𝟐
− 
𝟏
𝟒)

𝟏

𝟎

=  
𝟏

𝒙𝟐
𝟏

√
𝟏
𝒙𝟐
− 
𝟏
𝟒

 

[
 
 
 

 𝒕𝒂𝒏−𝟏

(

 
𝒕 −

𝟏
𝟐

√
𝟏
𝒙𝟐
− 
𝟏
𝟒)

  

]
 
 
 

𝟎

𝟏

 

= 
𝟐

 𝒙𝟐√
𝟏
𝒙𝟐
− 
𝟏
𝟒

𝒕𝒂𝒏−𝟏

(

 

𝟏
𝟐

√
𝟏
𝒙𝟐
− 
𝟏
𝟒)

 =  
𝟒

𝒙√𝟒− 𝒙𝟐
𝒕𝒂𝒏−𝟏 (

𝒙

√𝟒 − 𝒙𝟐
)

=  
𝟒

𝒙√𝟒 − 𝒙𝟐
𝒔𝒊𝒏−𝟏 (

𝒙

𝟐
) 

𝐓𝐡𝐞𝐫𝐞𝐟𝐨𝐫𝐞,   𝛀 =  
𝝅

𝟔√𝟑
+ ∫

𝒍𝒏𝒙

𝒙√𝟒 − 𝒙𝟐

𝟏

𝟎

𝒔𝒊𝒏−𝟏 (
𝒙

𝟐
)𝒅𝒙   𝒔𝒖𝒃𝒔𝒕𝒊𝒕𝒖𝒕𝒆 𝜽 = 𝒔𝒊𝒏−𝟏 (

𝒙

𝟐
)  𝒐𝒓 𝒙

= 𝟐𝒔𝒊𝒏𝜽 

=
𝝅

𝟔√𝟑
+ 
𝟏

𝟐
∫
𝜽𝐥𝐧 (𝟐𝒔𝒊𝒏𝜽)

𝐬𝐢𝐧𝜽
𝒅𝜽

𝝅
𝟔

𝟎

= 
𝝅

𝟔√𝟑
+ 
𝒍𝒏𝟐

𝟐
∫

𝜽

𝐬𝐢 𝐧𝜽
𝒅𝜽

𝝅
𝟔

𝟎

+ 
𝟏

𝟐
∫
𝜽𝐥𝐧 (𝒔𝒊𝒏𝜽)

𝐬𝐢𝐧 𝜽
𝒅𝜽

𝝅
𝟔

𝟎

= 

= 
𝝅

𝟔√𝟑
+ 
𝒍𝒏𝟐

𝟐
𝑷 + 

𝟏

𝟐
𝑪 

𝑵𝒐𝒘, 𝑷 =  ∫
𝜽

𝐬𝐢𝐧 𝜽
𝒅𝜽

𝝅
𝟔

𝟎

= ∫ 𝜽𝒅 [𝐥𝐧 (𝒕𝒂𝒏
𝜽

𝟐
)]

𝝅
𝟔

𝟎

  =⏟
𝑰𝑩𝑷

  [𝜽𝐥𝐧 (𝒕𝒂𝒏
𝜽

𝟐
)]
𝟎

𝝅
𝟔
− ∫ 𝐥𝐧 (𝒕𝒂𝒏

𝜽

𝟐
)𝒅𝜽

𝝅
𝟔

𝟎

=
𝝅

𝟔
𝐥𝐧 (𝒕𝒂𝒏

𝝅

𝟏𝟐
) +∫ 𝐥𝐧 (𝒄𝒐𝒕

𝜽

𝟐
)𝒅𝜽

𝝅
𝟔

𝟎
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𝐭𝐚𝐧 (
𝝅

𝟏𝟐
) = 𝟐 − √𝟑         𝒂𝒏𝒅        𝐥𝐧 (𝒄𝒐𝒕

𝜽

𝟐
) = 𝟐 ∑

𝐜𝐨𝐬(𝒏𝜽)

𝒏
𝒏=𝒐𝒅𝒅>0

 

𝑷 =  
𝝅

𝟔
𝐥𝐧(𝟐 − √𝟑) +  𝟐 ∑ ∫

𝐜𝐨𝐬(𝒏𝜽)

𝒏
𝒅𝜽

𝝅
𝟔

𝟎𝒏=𝒐𝒅𝒅>0

=   
𝝅

𝟔
𝐥𝐧(𝟐 − √𝟑) + ∑

𝟐𝒔𝒊𝒏(
𝒏𝝅
𝟔
)

𝒏𝟐
𝒏=𝒐𝒅𝒅>0

 

𝑵𝒐𝒘, ∑
𝟐𝒔𝒊𝒏 (

𝒏𝝅
𝟔 )

𝒏𝟐
𝒏=𝒐𝒅𝒅>0

=  {
𝟏

𝟏𝟐
+ 
𝟐

𝟑𝟐
+
𝟏

𝟓𝟐
−
𝟏

𝟕𝟐
−
𝟐

𝟗𝟐
−
𝟏

𝟏𝟏𝟐
+ …………… } 

= {
𝟏

𝟏𝟐
− 
𝟏

𝟑𝟐
+
𝟏

𝟓𝟐
−
𝟏

𝟕𝟐
+
𝟏

𝟗𝟐
−
𝟏

𝟏𝟏𝟐
+ ……………} + {

𝟑

𝟑𝟐
−
𝟑

𝟗𝟐
+  ……………}

= 𝑮 + 
𝟑

𝟑𝟐
𝑮 =  

𝟒𝑮

𝟑
 

𝑯𝒆𝒏𝒄𝒆, 𝑷 =  
𝝅

𝟔
𝐥𝐧(𝟐 − √𝟑) +

𝟒𝑮

𝟑
. 𝐓𝐡𝐞𝐫𝐞𝐟𝐨𝐫𝐞,   𝛀 =  

𝝅

𝟔√𝟑
+ 

𝒍𝒏𝟐

𝟐
{ 
𝝅

𝟔
𝐥𝐧(𝟐 − √𝟑) +

𝟒𝑮

𝟑
} + 

𝟏

𝟐
𝑪 

𝛀 = 
𝝅

𝟔√𝟑
+ 
𝝅 𝐥𝐧(𝟐) 𝐥𝐧 (𝟐 − √𝟑)

𝟏𝟐
+
𝟐𝑮𝒍𝒏𝟐

𝟑
+
𝟏

𝟐
𝑪 

𝒉𝒆𝒓𝒆   𝑮 = 𝒄𝒂𝒕𝒂𝒍𝒂𝒏′𝒔  𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕 

𝑪 = ∫
𝜽𝐥𝐧 (𝒔𝒊𝒏𝜽)

𝐬𝐢𝐧 𝜽
𝒅𝜽

𝝅
𝟔

𝟎

= 𝒔𝒐𝒎𝒆 𝒏𝒖𝒎𝒆𝒓𝒊𝒄𝒂𝒍 𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕 

2537. Prove that: 

Ω = ∑
𝟏+ 𝒌𝟐

𝟐𝒌𝒌𝟐 (𝟏+𝒌
𝟐

𝒌𝟐
)
= 𝑳𝒊𝟐 (

𝟏

𝟐
)

∞

𝒌=𝟏

 

 
Proposed by Shirvan Tahirov-Azerbaijan 

 
Solution 1 by Mohammad Rostami-Afghanistan 

Ω = ∑
𝟏 + 𝒌𝟐

𝟐𝒌𝒌𝟐 (𝟏+𝒌
𝟐

𝒌𝟐
)

∞

𝒌=𝟏

=∑
𝟏+ 𝒌𝟐

𝟐𝒌𝒌𝟐
(𝟏 + 𝒌𝟐)!
𝒌𝟐!

= ∑
𝟏 + 𝒌𝟐

𝟐𝒌𝒌𝟐(𝟏 + 𝒌𝟐)
= ∑

(
𝟏
𝟐)

𝒌

𝒌𝟐
=

∞

𝒌=𝟏

∞

𝒌=𝟏

∞

𝒌=𝟏

 

−∑(
𝟏

𝟐
)
𝒌

∫ 𝒙𝒌−𝟏 𝐥𝐧(𝒙)𝒅𝒙
𝟏

𝟎

=

∞

𝒌=𝟏

−∫
𝐥𝐧 (𝒙)

𝒙
∑(

𝒙

𝟐
)
𝒌

𝒅𝒙 = −∫
𝐥𝐧 (𝒙)

𝒙

𝒙
𝟐

𝟏 −
𝒙
𝟐

𝒅𝒙 =
𝟏

𝟎

∞

𝒌=𝟏

𝟏

𝟎

 

−∫
𝐥𝐧(𝒙)

𝟐 − 𝒙
𝒅𝒙 = −∫

𝐥𝐧(𝟏 − 𝒙)

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎

𝟏

𝟎

  {𝒙 =
𝟏 − 𝒕

𝟏 + 𝒕
 ,

𝒅𝒙 =
−𝟏 − 𝒕 − 𝟏 + 𝒕

(𝟏 + 𝒕)𝟐
𝒅𝒕 → 𝒅𝒙 = −

𝟐

(𝟏 + 𝒕)𝟐
𝒅𝒕} 
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Ω = −∫
𝐥𝐧 (𝟏 −

𝟏 − 𝒕
𝟏 + 𝒕)

𝟏 +
𝟏 − 𝒕
𝟏 + 𝒕

−𝟐

(𝟏 + 𝒕)𝟐
𝒅

𝟏

𝟎

𝒕 = ∫
𝐥𝐧(𝟏 + 𝒕) − 𝐥𝐧(𝟐) − 𝐥𝐧 (𝒕)

𝟏 + 𝒕
𝒅𝒕 =

𝟏

𝟎

 

∫
𝐥𝐧 (𝟏 + 𝒕)

𝟏 + 𝒕
𝒅𝒕 − 𝐥𝐧 (𝟐)∫

𝟏

𝟏 + 𝒕
𝒅𝒕 − ∫

𝐥𝐧 (𝒕)

𝟏 + 𝒕
𝒅𝒕 , 𝐥𝐧(𝟏 + 𝒕) = 𝒖

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

= ∫ 𝒖𝒅𝒖 − 𝐥𝐧(𝟐) [𝐥𝐧(𝟏 + 𝒕)]|
𝟏

𝟎

𝐥𝐧(𝟐)

𝟎

− ∫ ∑(−𝒕)𝒏
𝝏

𝝏𝒂
|
𝒂=𝟎

𝒕𝒂𝒅𝒕 = [
𝒖𝟐

𝟐
]|
𝐥𝐧 (𝟐)

𝟎
− 𝒍𝒏𝟐(𝟐) −

∞

𝒏=𝟎

𝟏

𝟎

 

∑(−𝟏)𝒏
𝝏

𝝏𝒂
|
𝒂=𝟎

∫ 𝒕𝒏+𝒂
𝟏

𝟎

𝒅𝒕 =
𝒍𝒏𝟐(𝟐)

𝟐
− 𝒍𝒏𝟐(𝟐) −

∞

𝒏=𝟎

∑(−𝟏)𝒏
𝝏

𝝏𝒂
|
𝒂=𝟎

𝟏

𝒏 + 𝒂 + 𝟏
=

∞

𝒏=𝟎

 

−
𝒍𝒏𝟐(𝟐)

𝟐
+∑

(−𝟏)𝒏

(𝒏 + 𝟏)𝟐

∞

𝒏=𝟎

= −
𝒍𝒏𝟐(𝟐)

𝟐
+∑

(−𝟏)𝒏−𝟏

𝒏𝟐

∞

𝒏=𝟎

= −
𝒍𝒏𝟐(𝟐)

𝟐
+ 𝜼(𝟐) = 

−
𝒍𝒏𝟐(𝟐)

𝟐
+ (𝟏 − 𝟐−𝟏)𝜻(𝟐) = −

𝒍𝒏𝟐(𝟐)

𝟐
+
𝟏

𝟐
(
𝝅𝟐

𝟔
) =

𝝅𝟐

𝟏𝟐
−
𝟏

𝟐
𝒍𝒏𝟐(𝟐) = 𝑳𝒊𝟐 (

𝟏

𝟐
) 

Solution 2 by Bui Hong Suc-Vietnam 

Ω =∑
𝟏 + 𝒌𝟐

𝟐𝒌𝒌𝟐 (𝟏+𝒌
𝟐

𝒌𝟐
)

∞

𝒌=𝟏

 

Ω𝒂,𝒎,𝒏 =∑
𝒃𝟐 + 𝒌𝒏

𝒂𝒌𝒌𝒎 (𝒃
𝟐+𝒌𝒏

𝒌𝒏
)

∞

𝒌=𝟏

=∑
𝒃𝟐 + 𝒌𝒏

𝒂𝒌𝒌𝒎
(𝒃𝟐 + 𝒌𝒏)!
(𝒌𝒏)! (𝒃𝟐)!

∞

𝒌=𝟏

= 

(𝒃𝟐)!∑
𝒃𝟐 + 𝒌𝒏

𝒂𝒌𝒌𝒎
(𝒃𝟐 + 𝒌𝒏)(𝒌𝒏)!

(𝒌𝒏)!

∞

𝒌=𝟏

= (𝒃𝟐)!∑
𝟏

𝒂𝒌𝒌𝒎
= (𝒃𝟐)!∑

(
𝟏
𝒂
)
𝒌

𝒌𝒎
=

∞

𝒌=𝟏

∞

𝒌=𝟏

(𝒃𝟐)! 𝑳𝒊𝒎 (
𝟏

𝒂
) 

𝑳𝒆𝒕  𝒂 = 𝟐 , 𝒃 = 𝟏 , 𝒏 = 𝒎 = 𝟐 ∶  

Ω𝟐,𝟐,𝟐 = ∑
𝟏+ 𝒌𝟐

𝟐𝒌𝒌𝟐 (𝟏+𝒌
𝟐

𝒌𝟐
)

∞

𝒌=𝟏

= (𝟏𝟐)! 𝑳𝒊𝟐 (
𝟏

𝟐
) = 𝑳𝒊𝟐 (

𝟏

𝟐
) =

𝝅𝟐

𝟏𝟐
−
𝟏

𝟐
𝒍𝒏𝟐(𝟐) 

∑
𝟏+𝒌𝟐

𝟐𝒌𝒌𝟐 (𝟏+𝒌
𝟐

𝒌𝟐
)

∞

𝒌=𝟏

= 𝑳𝒊𝟐 (
𝟏

𝟐
) 

 

2538. Find a closed form: 

𝑰 = ∫
𝒙 𝐥𝐧(𝒙) {𝑳𝒊𝟐(𝒙) − 𝑳𝒊𝟐(−𝒙)}

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

 

Proposed by Amin Hajiyev-Azerbaijan 
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Solution by Pratham Prasad-India 
 

𝑰 = ∫
𝒙 𝐥𝐧(𝒙) {𝑳𝒊𝟐(𝒙) − 𝑳𝒊𝟐(−𝒙)}

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

= ∫
𝒙 𝐥𝐧(𝒙) {𝟐𝑳𝒊𝟐(𝒙) − [𝑳𝒊𝟐(𝒙) + 𝑳𝒊𝟐(−𝒙)]}

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

= 

= ∫
𝒙 𝐥𝐧(𝒙) {𝟐𝑳𝒊𝟐(𝒙) −

𝟏
𝟐𝑳𝒊𝟐(𝒙

𝟐)}

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

= 𝟐∫
𝒙 𝐥𝐧(𝒙) 𝑳𝒊𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 −

𝟏

𝟐

𝟏

𝟎

∫
𝒙 𝐥𝐧(𝒙) 𝑳𝒊𝟐(𝒙

𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

 

𝒊𝒏 𝒔𝒆𝒄𝒐𝒏𝒅 𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒍 {𝒙𝟐 = 𝒖, 𝟐𝒙𝒅𝒙 = 𝒅𝒖} 

= 𝟐∫
𝒙 𝐥𝐧(𝒙) 𝑳𝒊𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 −

𝟏

𝟖

𝟏

𝟎

∫
𝐥𝐧(𝒖) 𝑳𝒊𝟐(𝒖)

𝟏 + 𝒖
𝒅𝒖

𝟏

𝟎

= 𝟐𝑨 −
𝟏

𝟖
𝑩 

Where 

𝑨 = ∫
𝒙 𝐥𝐧(𝒙)𝑳𝒊𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙, 𝑩 =

𝟏

𝟎

∫
𝐥𝐧(𝒙) 𝑳𝒊𝟐(𝒙)

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎

 

𝑨 = ∫
𝒙 𝐥𝐧(𝒙) 𝑳𝒊𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

= −∫∫
𝒙𝟐 𝐥𝐧(𝒙) 𝐥𝐧(𝒚)

(𝟏 + 𝒙𝟐)(𝟏 − 𝒙𝒚)
𝒅𝒚𝒅𝒙

𝟏

𝟎

𝟏

𝟎

 

= −(∫∫
𝐥𝐧(𝒙) 𝐥𝐧(𝒚)

(𝟏 − 𝒙𝒚)
𝒅𝒚𝒅𝒙

𝟏

𝟎

𝟏

𝟎

−∫∫
𝐥𝐧(𝒙) 𝐥𝐧(𝒚)

(𝟏 + 𝒙𝟐)(𝟏 + 𝒚𝟐)
𝒅𝒚𝒅𝒙 −∫∫

𝒙𝒚 𝐥𝐧(𝒙) 𝐥𝐧(𝒚)

(𝟏 + 𝒙𝟐)(𝟏 + 𝒚𝟐)
𝒅𝒚𝒅𝒙

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

) 

=
−𝟏

𝟐
(∫∫

𝐥𝐧(𝒙) 𝐥𝐧(𝒚)

(𝟏 − 𝒙𝒚)
𝒅𝒚𝒅𝒙

𝟏

𝟎

𝟏

𝟎

− (∫
𝐥𝐧(𝒙)

(𝟏 + 𝒙𝟐)
𝒅𝒙

𝟏

𝟎

)

𝟐

− (∫
𝒙 𝐥𝐧(𝒙)

(𝟏 + 𝒙𝟐)
𝒅𝒙

𝟏

𝟎

)

𝟐

) 

=
−𝟏

𝟐
(∑∫∫𝒙𝒏−𝟏𝒚𝒏−𝟏 𝐥𝐧(𝒙) 𝐥𝐧 (𝒚)𝒅𝒚𝒅𝒙

𝟏

𝟎

𝟏

𝟎

∞

𝒏=𝟏

− (∑(−𝟏)𝒏−𝟏∫𝐱𝟐𝐧−𝟐𝐥𝐧(𝒙)𝒅𝒙

𝟏

𝟎

∞

𝒏=𝟏

)

𝟐

−(∑(−𝟏)𝒏−𝟏∫𝐱𝟐𝐧−𝟏𝐥𝐧(𝒙)𝒅𝒙

𝟏

𝟎

∞

𝒏=𝟏

)

𝟐

) 

=
−𝟏

𝟐
(∑

𝟏

𝒏𝟒

∞

𝒏=𝟏

− (∑
(−𝟏)𝒏

(𝟐𝒏 − 𝟏)𝟐

∞

𝒏=𝟏

)

𝟐

− (∑
(−𝟏)𝒏

(𝟐𝒏)𝟐

∞

𝒏=𝟏

)

𝟐

) 
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=
−𝟏

𝟐
(∑

𝟏

𝒏𝟒

∞

𝒏=𝟏

− (∑
(−𝟏)𝒏

(𝟐𝒏 − 𝟏)𝟐

∞

𝒏=𝟏

)

𝟐

− (∑
(−𝟏)𝒏

(𝟐𝒏)𝟐

∞

𝒏=𝟏

)

𝟐

) =
−𝟏

𝟐
(𝜻(𝟒) − 𝑮𝟐 − (

𝟏

𝟖
𝜻(𝟐))

𝟐

) = 

=
𝟏

𝟐
(𝑮𝟐 −

𝟏𝟐𝟑

𝟏𝟐𝟖
𝜻(𝟒)) 

𝑩 = ∫
𝐥𝐧(𝒙) 𝑳𝒊𝟐(𝒙)

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎

= −∫∫
𝒙 𝐥𝐧(𝒙) 𝐥𝐧(𝒚)

(𝟏 + 𝒙)(𝟏 − 𝒙𝒚)
𝒅𝒚𝒅𝒙

𝟏

𝟎

𝟏

𝟎

= 

= −
𝟏

𝟐
(∫∫

𝒙 𝐥𝐧(𝒙) 𝐥𝐧(𝒚)

(𝟏 + 𝒙)(𝟏 − 𝒙𝒚)
𝒅𝒚𝒅𝒙

𝟏

𝟎

𝟏

𝟎

+∫∫
𝒚 𝐥𝐧(𝒙) 𝐥𝐧(𝒚)

(𝟏 + 𝒚)(𝟏 − 𝒙𝒚)
𝒅𝒚𝒅𝒙

𝟏

𝟎

𝟏

𝟎

) 

= −
𝟏

𝟐
∫∫

(𝒙 + 𝒚 + 𝟐𝒙𝒚) 𝐥𝐧(𝒙) 𝐥𝐧(𝒚)

(𝟏 + 𝒚)(𝟏 + 𝒙)(𝟏 − 𝒙𝒚)
𝒅𝒚𝒅𝒙

𝟏

𝟎

𝟏

𝟎

 

= −
𝟏

𝟐
∫∫

[(𝟏 + 𝒙)(𝟏 + 𝒚) − (𝟏 − 𝒙𝒚)] 𝐥𝐧(𝒙) 𝐥𝐧(𝒚)

(𝟏 + 𝒚)(𝟏 + 𝒙)(𝟏 − 𝒙𝒚)
𝒅𝒚𝒅𝒙

𝟏

𝟎

𝟏

𝟎

 

= −
𝟏

𝟐
(∫∫

𝐥𝐧(𝒙) 𝐥𝐧(𝒚)

(𝟏 − 𝒙𝒚)
𝒅𝒚𝒅𝒙 −∫∫

𝐥𝐧(𝒙) 𝐥𝐧(𝒚)

(𝟏 + 𝒚)(𝟏 + 𝒙)
𝒅𝒚𝒅𝒙

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

) 

= −
𝟏

𝟐
(∫∫

𝐥𝐧(𝒙) 𝐥𝐧(𝒚)

(𝟏 − 𝒙𝒚)
𝒅𝒚𝒅𝒙 − (∫

𝐥𝐧(𝒙)

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎

)

𝟏

𝟎

𝟏

𝟎

𝟐

) 

=
−𝟏

𝟐
(∑∫∫𝒙𝒏−𝟏𝒚𝒏−𝟏 𝐥𝐧(𝒙) 𝐥𝐧 (𝒚)𝒅𝒚𝒅𝒙

𝟏

𝟎

𝟏

𝟎

∞

𝒏=𝟏

− (∑(−𝟏)𝒏−𝟏∫𝐱𝐧−𝟏𝐥𝐧(𝒙)𝒅𝒙

𝟏

𝟎

∞

𝒏=𝟏

)

𝟐

) 

=
−𝟏

𝟐
(∑

𝟏

𝒏𝟒

∞

𝒏=𝟏

− (∑
(−𝟏)𝒏

𝒏𝟐

∞

𝒏=𝟏

)

𝟐

) =
−𝟏

𝟐
(𝜻(𝟒) − (

𝟏

𝟐
𝜻(𝟐))

𝟐

) =
−𝟏

𝟐
(
𝝅𝟒

𝟗𝟎
−
𝝅𝟒

𝟏𝟒𝟒
) 

=
−𝟏

𝟐
(
𝝅𝟒

𝟗𝟎
(
𝟓𝟒

𝟏𝟒𝟒
)) = −

𝟑

𝟏𝟔
𝛇(𝟒) 

𝑰 = 𝟐𝑨 −
𝟏

𝟖
𝑩,       𝑰 = 𝟐 (

𝟏

𝟐
(𝑮𝟐 −

𝟏𝟐𝟑

𝟏𝟐𝟖
𝜻(𝟒))) −

𝟏

𝟖
(−

𝟑

𝟏𝟔
𝛇(𝟒)) 

 

𝑰 = 𝑮𝟐 −
𝟏𝟐𝟎

𝟏𝟐𝟖
𝜻(𝟒),   𝑰 = 𝑮𝟐 −

𝟏𝟐𝟎

𝟏𝟐𝟖

𝝅𝟒

𝟗𝟎
,     𝑰 = 𝑮𝟐 −

𝝅𝟒

𝟗𝟔
 

Or, 

∫
𝒙 𝐥𝐧(𝒙) {𝑳𝒊𝟐(𝒙) − 𝑳𝒊𝟐(−𝒙)}

𝟏 + 𝒙𝟐
𝒅𝒙 =

𝟏

𝟎

𝑮𝟐 −
𝝅𝟒

𝟗𝟔
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2539. Prove that: 

 ∫

𝒙
𝒙𝟐 + 𝟏 + 𝒙𝟐

𝒙𝟒 + 𝒙𝟐 + 𝟏 + 𝒙𝟐 + 𝒙𝟒

𝒙𝟐
𝒙
𝝅

∞

𝟎

𝒅𝒙 =
𝟐 − √𝟏 + √𝟐

𝟐√𝟐
 

Proposed by Ankush Kumar Parcha-India 
Solution by Shohbit Jain-India 
 
𝑨𝒇𝒕𝒆𝒓 𝒔𝒊𝒎𝒑𝒍𝒊𝒇𝒊𝒄𝒂𝒕𝒊𝒐𝒏: 

𝑰 =
𝟏

𝝅
∫

𝟏

(𝟏 + 𝟐𝒙𝟐)(𝟏 + 𝟐𝒙𝟐 + 𝟐𝒙𝟒)

∞

𝟎

𝒅𝒙 = 

=
𝟐

𝝅
∫

𝒅𝒙

(𝟏 + 𝟐𝒙𝟐)

∞

𝟎

−
𝟏

𝝅
∫

(𝟏 + 𝟐𝒙𝟐)

(𝟏 + 𝟐𝒙𝟐 + 𝟐𝒙𝟒)

∞

𝟎

𝒅𝒙 =
𝟏

√𝟐
−
𝟏

𝝅
∫

𝟏
𝒙𝟐
+ 𝟐

𝟐𝒙𝟐 +
𝟏
𝒙𝟐
+ 𝟐

∞

𝟎

𝒅𝒙 = 

=
𝟏

√𝟐
−
𝟏

𝝅
∫

𝟏
𝒙𝟐
+ 𝟐

(√𝟐𝒙 −
𝟏
𝒙)

𝟐

+ 𝟐 + 𝟐√𝟐

∞

𝟎

𝒅𝒙 =⏟

𝒙→
𝟏

√𝟐𝒙

  
𝟏

√𝟐
−
𝟏

𝝅
∫

√𝟐(
𝟏
𝒙𝟐
+ 𝟏)

(√𝟐𝒙 −
𝟏
𝒙)

𝟐

+ 𝟐 + 𝟐√𝟐

∞

𝟎

𝒅𝒙 = 

  𝑰 =
𝟏

√𝟐
−
𝟏

𝟐𝝅
∫

𝟏
𝒙𝟐
+ 𝟐 + √𝟐(

𝟏
𝒙𝟐
+ 𝟏)

(√𝟐𝒙 −
𝟏
𝒙)

𝟐

+ 𝟐 + 𝟐√𝟐

∞

𝟎

𝒅𝒙

=
𝟏

√𝟐
−
𝟏 + √𝟐

𝟐𝝅
∫

√𝟐+
𝟏
𝒙𝟐

(√𝟐𝒙 −
𝟏
𝒙)

𝟐

+ 𝟐 + 𝟐√𝟐

∞

𝟎

𝒅𝒙     

  𝑵𝒐𝒘  𝒔𝒖𝒃𝒔𝒕𝒊𝒕𝒖𝒕𝒆 √𝟐𝒙 −
𝟏

𝒙
= 𝒖 

𝑰 =
𝟏

√𝟐
−
𝟏 + √𝟐

𝟐𝝅
∫

𝒅𝒖

𝒖𝟐 + 𝟐 + 𝟐√𝟐
=

∞

−∞

𝟏

√𝟐
−
𝟏 + √𝟐

𝟐𝝅

𝝅

√𝟐 + 𝟐√𝟐
=
𝟏

√𝟐
−
√𝟏 + √𝟐

𝟐√𝟐
 

𝑻𝒉𝒆𝒓𝒆𝒇𝒐𝒓𝒆, 𝑰 =
𝟐 − √𝟏 + √𝟐

𝟐√𝟐
               

2540. Find a closed form: 

𝑰 =  ∭
(𝟏 + 𝒙𝒚𝒛)(𝟑 + 𝒙𝒚𝒛)

(𝟐 + 𝒙𝒚𝒛)(𝟒 + 𝒙𝒚𝒛){[𝟎,𝟏]𝟑}

𝒅𝒙𝒅𝒚𝒅𝒛 

 
Proposed by Ankush Kumar Parcha-India 
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Solution by Pratham Prasad-India 
By, partial fractions 

𝑰 =  ∭ (−
𝟑

𝟖{[𝟎,𝟏]𝟑}

𝟏

𝟏 +
𝒙𝒚𝒛
𝟒

−
𝟏

𝟒

𝟏

𝟏 +
𝒙𝒚𝒛
𝟐

+ 𝟏) 𝒅𝒙𝒅𝒚𝒅𝒛 

𝑰 =  ∭ (−
𝟑

𝟖{[𝟎,𝟏]𝟑}

∑(−
𝒙𝒚𝒛

𝟒
)
𝒓

−
𝟏

𝟒

∞

𝒓=𝟎

∑(−
𝒙𝒚𝒛

𝟐
)
𝒓

∞

𝒓=𝟎

+ 𝟏)𝒅𝒙𝒅𝒚𝒅𝒛 

𝑰 = −
𝟑

𝟖
 ∑∭ (−

𝒙𝒚𝒛

𝟒
)

{[𝟎,𝟏]𝟑}

𝒓

−
𝟏

𝟒

∞

𝒓=𝟎

∑∭ (−
𝒙𝒚𝒛

𝟐
)

{[𝟎,𝟏]𝟑}

𝒓∞

𝒓=𝟎

+ 𝟏 𝒅𝒙𝒅𝒚𝒅𝒛 

𝑰 =
𝟑

𝟐
 ∑

(
−𝟏
𝟒 )

𝒓+𝟏

(𝒓 + 𝟏)𝟑
+
𝟏

𝟐

∞

𝒓=𝟎

∑
(
−𝟏
𝟐 )

𝒓+𝟏

(𝒓 + 𝟏)𝟑

∞

𝒓=𝟎

+ 𝟏, 𝑰 =
𝟑

𝟐
 𝑳𝒊𝟑 (−

𝟏

𝟒
) +

𝟏

𝟐
𝑳𝒊𝟑 (−

𝟏

𝟐
) + 𝟏 

𝑰 =
𝟏

𝟐
(𝟑𝑳𝒊𝟑 (−

𝟏

𝟒
) + 𝑳𝒊𝟑 (−

𝟏

𝟐
)) + 𝟏 

2541. Find a closed form: 

∫ 𝒙 𝒍𝒏 (𝟏 +
𝟏

𝒄𝒔𝒄(𝒙)
+

𝟏

𝒔𝒆𝒄(𝒙)
)𝒅𝒙

𝝅
𝟐

𝟎

 

 
Proposed by Ankush Kumar Parcha-India 

Solution by Pratham Prasad-India 

∫ 𝐱 𝐥𝐧 (𝟏 +
𝟏

𝐜𝐬𝐜(𝒙)
+

𝟏

𝐬𝐞𝐜(𝒙)
)𝒅𝒙

𝝅
𝟐

𝟎

= ∫ 𝐱 𝐥𝐧 (𝟏 + 𝐬𝐢𝐧 (𝒙) + 𝐜𝐨𝐬 (𝒙))𝒅𝒙

𝝅
𝟐

𝟎

= 

𝒙 = 𝟐𝒖 

= 𝟒∫ 𝐮  𝐥𝐧(𝟏 + 𝐬𝐢𝐧(𝟐𝒖) + 𝐜𝐨𝐬(𝟐𝒖)) 𝒅𝒖

𝝅
𝟒

𝟎

= 𝟒∫ 𝒖 𝐥𝐧(𝟐𝒄𝒐𝒔𝟐(𝒖) + 𝟐 𝐜𝐨𝐬(𝒖) 𝐬𝐢𝐧 (𝒖)) 𝒅𝒖

𝝅
𝟒

𝟎

= 

= 𝟒∫ 𝒖 𝐥𝐧(𝟐𝒄𝒐𝒔(𝒖)(𝐜𝐨𝐬(𝐮) + 𝐬𝐢𝐧 (𝒖)) 𝒅𝒖

𝝅
𝟒

𝟎

= 𝟒∫ 𝒖 𝐥𝐧 (𝟐√𝟐𝒄𝒐𝒔(𝒖)𝐜𝐨𝐬 (
𝝅

𝟒
− 𝒖))𝒅𝒖

𝝅
𝟒

𝟎

= 

= 𝟒∫ 𝒖 𝐥𝐧(𝟐√𝟐)𝒅𝒖

𝝅
𝟒

𝟎

+ 𝟒∫ 𝒖 𝐥𝐧(𝐜𝐨𝐬 (𝒖)) 𝒅𝒖

𝝅
𝟒

𝟎

+  𝟒∫ 𝒖 𝐥𝐧 (𝐜𝐨𝐬 (
𝝅

𝟒
− 𝒖))𝒅𝒖

𝝅
𝟒

𝟎

= 

𝒓𝒆𝒑𝒍𝒂𝒄𝒆 (
𝝅

𝟒
− 𝒖) 𝒃𝒚 𝒖 𝒊𝒏 𝒕𝒉𝒆 𝒍𝒂𝒔𝒕 𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒍 𝒃𝒚 𝒖 

= 𝟒∫ 𝒖 𝐥𝐧(𝟐√𝟐)𝒅𝒖

𝝅
𝟒

𝟎

+ 𝟒∫ 𝒖 𝐥𝐧(𝐜𝐨𝐬 (𝒖)) 𝒅𝒖

𝝅
𝟒

𝟎

+  𝟒∫ (
𝝅

𝟒
− 𝒖) 𝐥𝐧(𝐜𝐨𝐬 (𝒖))𝒅𝒖

𝝅
𝟒

𝟎

= 

= 𝟒∫ 𝒖 𝐥𝐧(𝟐√𝟐)𝒅𝒖

𝝅
𝟒

𝟎

+ 𝟒∫ 𝒖 𝐥𝐧(𝐜𝐨𝐬 (𝒖)) 𝒅𝒖

𝝅
𝟒

𝟎

+𝝅∫  𝐥𝐧(𝐜𝐨𝐬 (𝒖)) 𝒅𝒖

𝝅
𝟒

𝟎

− 𝟒∫ 𝒖 𝐥𝐧(𝐜𝐨𝐬(𝒖))𝒅𝒖

𝝅
𝟒

𝟎

= 
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=
𝟏𝟐

𝟐
∫ 𝒖 𝐥𝐧(𝟐)𝒅𝒖

𝝅
𝟒

𝟎

+ 𝝅∫  𝐥𝐧(𝐜𝐨𝐬 (𝒖)) 𝒅𝒖

𝝅
𝟒

𝟎

=
𝟑𝝅𝟐

𝟏𝟔
𝐥𝐧 (𝟐) + 𝝅(

𝑮

𝟐
−
𝝅

𝟒
𝐥𝐧(𝟐))

=
𝑮𝝅

𝟐
−
𝝅𝟐

𝟏𝟔
𝐥𝐧 (𝟐) 

2542. Find a closed form: 

𝑰 = ∬𝐭𝐚𝐧−𝟏 (
𝒙 + 𝒚

𝟏 − 𝒙𝒚
) 𝐥𝐧(𝒙𝒚) 𝒅𝒙𝒅𝒚

𝟏

𝟎

 

Proposed by Cosghun Memmedov-Azerbaijan 
Solution by Alireza Askari-Iran 

𝑰 = ∬𝐭𝐚𝐧−𝟏 (
𝒙 + 𝒚

𝟏 − 𝒙𝒚
) 𝐥𝐧(𝒙𝒚)𝒅𝒙𝒅𝒚

𝟏

𝟎

=∬𝐭𝐚𝐧−𝟏(𝒙) 𝐥𝐧(𝒙𝒚)𝒅𝒙𝒅𝒚 +∬𝐭𝐚𝐧−𝟏(𝒚) 𝐥𝐧(𝒙𝒚)𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎

 

𝑨 = ∬𝐭𝐚𝐧−𝟏(𝒙) 𝐥𝐧(𝒙𝒚)𝒅𝒙𝒅𝒚

𝟏

𝟎

 .   𝑩 = ∬𝐭𝐚𝐧−𝟏(𝒚) 𝐥𝐧(𝒙𝒚)𝒅𝒙𝒅𝒚

𝟏

𝟎

 

𝑨 = ∬𝐭𝐚𝐧−𝟏(𝒙) 𝐥𝐧(𝒙𝒚)𝒅𝒙𝒅𝒚 =

𝟏

𝟎

𝝏

𝝏𝒂
|
𝒂=𝟎

∑
(−𝟏)𝒏−𝟏

𝟐𝒏 − 𝟏
∫𝒙𝟐𝒏+𝒂−𝟏𝒅𝒙∫𝒚𝒂𝒅𝒚 

𝟏

𝟎

𝟏

𝟎

∞

𝒏=𝟏

 

𝝏

𝝏𝒂
|
𝒂=𝟎

∑
(−𝟏)𝒏−𝟏

(𝟐𝒏 − 𝟏)(𝟐𝒏 + 𝒂)(𝒂 + 𝟏)

∞

𝒏=𝟏

= ∑
(−𝟏)𝒏(𝟐𝒏 + 𝟏)

𝟒(𝟐𝒏 − 𝟏)𝒏𝟐

∞

𝒏=𝟏

= 𝑩 = 𝑨 

𝑰 = ∑
(−𝟏)𝒏(𝟐𝒏+ 𝟏)

𝟐(𝟐𝒏 − 𝟏)𝒏𝟐
=

∞

𝒏=𝟏

∑
(−𝟏)𝒏

𝟐𝒏𝟐

∞

𝒏=𝟏

+∑
(−𝟏)𝒏

(𝟐𝒏 − 𝟏)𝒏𝟐

∞

𝒏=𝟏

=
−𝝅𝟐

𝟐𝟒
+∑

𝟒(−𝟏)𝒏

𝟐𝒏 − 𝟏

∞

𝒏=𝟏

−
𝟐(−𝟏)𝒏

𝒏
−
(−𝟏)𝒏

𝒏𝟐
 

𝑨𝒏𝒔𝒘𝒆𝒓 =
−𝝅𝟐

𝟐𝟒
+ 𝟒 (

−𝝅

𝟒
)+ 𝟐 𝐥𝐧(𝟐) +

𝝅𝟐

𝟏𝟐
=
𝝅𝟐

𝟐𝟒
− 𝛑 + 𝐥𝐧 (𝟒) 

 

2543. Prove that: 

∫
𝒍𝒏𝟐𝒙

(𝒙 + 𝟏)(𝒙𝟐+𝒙𝝋𝟐 + 𝝋)
𝒅𝒙 =

𝟏

𝟎

𝝋𝝅𝟐

𝟔
− 𝟐𝝋𝟐𝑳𝒊𝟑 (−

𝟏

𝝋
) −

𝟑

𝟐
𝝋𝟐𝜻(𝟑)     

  𝝋 = 𝒈𝒐𝒍𝒅𝒆𝒏 𝒓𝒂𝒕𝒊𝒐, 𝜻(𝟑) = 𝑨𝒑𝒆𝒓𝒚′𝒔 𝑪𝒐𝒏𝒔𝒕𝒂𝒏𝒕 ,  
𝑳𝒊𝟑(𝒛) = 𝒕𝒓𝒊𝒍𝒐𝒈𝒂𝒓𝒊𝒕𝒉𝒎𝒊𝒄 𝒇𝒖𝒏𝒄𝒕𝒊𝒐𝒏 
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Solution by Shobhit Jain-India 

𝒖𝒔𝒆, 𝝋𝟐 = 𝟏 + 𝝋   𝒂𝒏𝒅  𝟏 + 𝝋−𝟏 = 𝝋   𝒂𝒏𝒅   
𝟏

𝝋 − 𝟏
= 𝝋 

𝒙𝟐+𝒙𝝋𝟐 + 𝝋 = 𝒙𝟐 + 𝒙(𝟏 + 𝝋) + 𝝋 = (𝒙 + 𝟏)(𝒙 + 𝝋) 

𝑵𝒐𝒘, 𝑰 = ∫
𝒍𝒏𝟐𝒙

(𝒙 + 𝟏)(𝒙𝟐+𝒙𝝋𝟐 +𝝋)
𝒅𝒙 =

𝟏

𝟎

∫
𝒍𝒏𝟐𝒙

(𝒙 + 𝟏)𝟐(𝒙 + 𝝋)
𝒅𝒙

𝟏

𝟎

 

= ∫ 𝒍𝒏𝟐𝒙

𝟏

𝟎

(

𝟏
(𝝋 − 𝟏)

(𝒙 + 𝟏)𝟐
−

𝟏
(𝝋− 𝟏)𝟐

𝒙 + 𝟏
+

𝟏
(𝝋 − 𝟏)𝟐

𝒙 + 𝝋
)𝒅𝒙 

= 𝝓∫
𝒍𝒏𝟐𝒙

(𝟏 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙 −𝝋𝟐∫
𝒍𝒏𝟐𝒙

𝒙 + 𝟏

𝟏

𝟎

𝒅𝒙 + 𝝋𝟐∫
𝒍𝒏𝟐𝒙

𝒙 + 𝝋

𝟏

𝟎

𝒅𝒙 = 𝝓𝑨 −𝝋𝟐𝑩 +𝝋𝟐𝑪 

𝑵𝒐𝒘, 

𝑨 = ∫
𝒍𝒏𝟐𝒙

(𝟏 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙 = ∫ 𝒍𝒏𝟐𝒙

𝟏

𝟎

(𝟏 − 𝟐𝒙 + 𝟑𝒙𝟐 − 𝟒𝒙𝟑 +⋯)𝒅𝒙

= 𝚪𝟑 (
𝟏

𝟏𝟑
−
𝟐

𝟐𝟑
+
𝟑

𝟑𝟑
−
𝟒

𝟒𝟑
+⋯) = 𝟐𝜼(𝟐) = 𝜻(𝟐) 

𝑵𝒐𝒘,∫
𝒍𝒏𝟐𝒙

𝒙 − 𝒂

𝟏

𝟎

𝒅𝒙 = −
𝟏

𝒂
∑∫(𝒍𝒏𝟐𝒙

𝟏

𝟎

∞

𝒏=𝟏

) (
𝒙

𝒂
)
𝒏−𝟏

𝒅𝒙 = −
𝟏

𝒂
∑

𝚪𝟑

𝒂𝒏−𝟏𝒏𝟑

∞

𝒏=𝟏

= −𝟐∑
(
𝟏
𝒂)

𝒏

𝒏𝟑

∞

𝒏=𝟏

= −𝟐𝑳𝒊𝟑 (
𝟏

𝒂
) 

𝒑𝒖𝒕  𝒂 = −𝟏  ⇒ 𝑩 = ∫
𝒍𝒏𝟐𝒙

𝒙 + 𝟏

𝟏

𝟎

𝒅𝒙 = −𝟐𝑳𝒊𝟑(−𝟏) = 𝟐𝜼(𝟑) =
𝟑

𝟐
𝜻(𝟑) 

𝒑𝒖𝒕  𝒂 = −𝝋 ⇒ 𝑪 = ∫
𝒍𝒏𝟐𝒙

𝒙 + 𝝋

𝟏

𝟎

𝒅𝒙 = −𝟐𝑳𝒊𝟑 (−
𝟏

𝝋
) 

𝑻𝒉𝒆𝒓𝒆𝒇𝒐𝒓𝒆, 𝑰 = 𝝓𝜻(𝟐) − 𝝋𝟐
𝟑

𝟐
𝜻(𝟑) + −𝟐𝑳𝒊𝟑 (−

𝟏

𝝋
)𝝋𝟐

=
𝝋𝝅𝟐

𝟔
− 𝟐𝝋𝟐𝑳𝒊𝟑 (−

𝟏

𝝋
) −

𝟑

𝟐
𝝋𝟐𝜻(𝟑) 

 
2544. Prove that: 

∫
𝟏

(𝟏 + 𝒙𝟐𝟎𝟐𝟓)(𝟏 + 𝒙𝟐)

∞

𝟎

𝒅𝒙 =
𝝅

𝟐
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Solution by Tapas Das-India 

𝑳𝒆𝒕 𝑰 = ∫
𝟏

(𝟏 + 𝒙𝟐𝟎𝟐𝟓)(𝟏 + 𝒙𝟐)

∞

𝟎

𝒅𝒙    (𝑨) 

𝑳𝒆𝒕 𝒙 =
𝟏

𝒕
 𝒕𝒉𝒆𝒏 𝒅𝒙 = −

𝟏

𝒕𝟐
𝒅𝒕  

𝑰 = ∫
−(𝒕𝟐𝟎𝟐𝟓. 𝒕𝟐)

(𝟏 + 𝒕𝟐𝟎𝟐𝟓)(𝟏 + 𝒕𝟐)𝒕𝟐

𝟎

∞

𝒅𝒕 = ∫
(𝒕𝟐𝟎𝟐𝟓 . )

(𝟏 + 𝒕𝟐𝟎𝟐𝟓)(𝟏 + 𝒕𝟐)

∞

𝟎

𝒅𝒕

=  ∫
(𝒙𝟐𝟎𝟐𝟓. )

(𝟏 + 𝒙𝟐𝟎𝟐𝟓)(𝟏 + 𝒙𝟐)

∞

𝟎

𝒅𝒙 (𝑩) 

𝒂𝒅𝒅𝒊𝒏𝒈 (𝑨)𝒂𝒏𝒅 (𝑩) 𝒘𝒆 𝒈𝒆𝒕: 

 𝟐𝑰 = ∫
(𝒙𝟐𝟎𝟐𝟓 + 𝟏. )

(𝟏 + 𝒙𝟐𝟎𝟐𝟓)(𝟏 + 𝒙𝟐)

∞

𝟎

𝒅𝒙 = ∫
(𝒙𝟐𝟎𝟐𝟓 + 𝟏)

(𝟏 + 𝒙𝟐𝟎𝟐𝟓)(𝟏 + 𝒙𝟐)

∞

𝟎

𝒅𝒙 = ∫
𝟏

(𝟏 + 𝒙𝟐)

∞

𝟎

𝒅𝒙 = 

= 𝐥𝐢𝐦
𝒙→∞

∫
𝟏

(𝟏 + 𝒙𝟐)

𝒙

𝟎

𝒅𝒙 = 𝐥𝐢𝐦
𝒙→∞

[𝐭𝐚𝐧−𝟏 𝒙]𝟎
𝒙 = 𝐭𝐚𝐧−𝟏∞ =

𝝅

𝟐
  

 𝑰 =
𝝅

𝟒
 

2545. Prove that: 

∫
𝐥𝐧(𝟏 + 𝒙)

𝒙(𝟐𝒙 + 𝟏)(𝟑𝒙 + 𝟏)

𝟏

𝟎

𝒅𝒙 = −𝟓𝑳𝒊𝟐 (
𝟏

𝟒
) +

𝝅𝟐

𝟒
−
𝟐𝟗

𝟐
𝒍𝒏𝟐𝟐 + 𝟖(𝒍𝒏𝟐)(𝒍𝒏𝟑) 
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𝑰 = ∫
𝐥𝐧(𝟏 + 𝒙)

𝒙(𝟐𝒙 + 𝟏)(𝟑𝒙 + 𝟏)

𝟏

𝟎

𝒅𝒙 =⏟
𝒙→𝒙−𝟏

 ∫
𝒍𝒏𝒙

(𝒙 − 𝟏)(𝟐𝒙 − 𝟏)(𝟑𝒙 − 𝟐)

𝟐

𝟏

𝒅𝒙 =⏟

𝒙→
𝟏
𝒙

 ∫
𝒙𝒍𝒏𝒙

(𝟏 − 𝒙)(𝟐 − 𝒙)(𝟑 − 𝟐𝒙)

𝟏
𝟐

𝟏

𝒅𝒙 

= ∫(𝒍𝒏𝒙)

𝟏
𝟐

𝟏

(
𝟏

𝟏 − 𝒙
+

𝟐

𝟐 − 𝒙
−

𝟔

𝟑 − 𝟐𝒙
)𝒅𝒙 = ∫(𝒍𝒏𝒙)

𝟏
𝟐

𝟏

{(𝟏 − 𝒙)−𝟏 + (𝟏 −
𝒙

𝟐
)
−𝟏

− 𝟐(𝟏 −
𝟐𝒙

𝟑
)
−𝟏

}𝒅𝒙 

= 𝑭(𝟏) + 𝑭(
𝟏

𝟐
) − 𝟐𝑭(

𝟐

𝟑
) 

𝒉𝒆𝒓𝒆,   𝑭(𝒂) = ∫(𝒍𝒏𝒙)

𝟏
𝟐

𝟏

(𝟏 − 𝒂𝒙)−𝟏𝒅𝒙 =∑𝒂𝒏−𝟏
∞

𝒏=𝟏

∫(𝒍𝒏𝒙)

𝟏
𝟐

𝟏

𝒙𝒏−𝟏𝒅𝒙 

𝑵𝒐𝒘,   ∫(𝒍𝒏𝒙)

𝟏
𝟐

𝟏

𝒙𝒏−𝟏𝒅𝒙 = [(𝒍𝒏𝒙)
𝒙𝒏

𝒏
−
𝒙𝒏

𝒏𝟐
]
𝟏

𝟏
𝟐

= −
𝒍𝒏𝟐

𝒏𝟐𝒏
+
𝟏

𝒏𝟐
−

𝟏

𝒏𝟐𝟐𝒏
 

𝑻𝒉𝒆𝒓𝒆𝒇𝒐𝒓𝒆, 𝑭(𝒂) =
𝟏

𝒂
(𝒍𝒏𝟐) (𝟏 −

𝒂

𝟐
) +

𝟏

𝒂
𝑳𝒊𝟐(𝒂) −

𝟏

𝒂
𝑳𝒊𝟐 (

𝒂

𝟐
) 

𝑵𝒐𝒕𝒆:    𝑳𝒊𝟐 (
𝟏

𝟐
) =

𝝅𝟐

𝟏𝟐
−
𝒍𝒏𝟐𝟐

𝟐
 ⇒ 𝑭(𝟏) =

𝝅𝟐

𝟏𝟐
−
𝒍𝒏𝟐𝟐

𝟐
 

⇒ 𝑭(
𝟏

𝟐
) = 𝟐(𝒍𝒏𝟐)(𝒍𝒏𝟑) − 𝟓𝒍𝒏𝟐𝟐 +

𝝅𝟐

𝟔
− 𝟐𝑳𝒊𝟐 (

𝟏

𝟒
) 
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⇒ 𝑭(
𝟐

𝟑
) =

𝟑

𝟐
𝒍𝒏𝟐𝟐 −

𝟑

𝟐
(𝒍𝒏𝟐)(𝒍𝒏𝟑) +

𝟑

𝟐
𝑳𝒊𝟐 (

𝟐

𝟑
) −

𝟑

𝟐
𝑳𝒊𝟐 (

𝟏

𝟑
) ⇒ 𝑰 = 𝑭(𝟏) + 𝑭(

𝟏

𝟐
) − 𝟐𝑭(

𝟐

𝟑
) 

=
𝝅𝟐

𝟏𝟐
−
𝒍𝒏𝟐𝟐

𝟐
+ 𝟐(𝒍𝒏𝟐)(𝒍𝒏𝟑)− 𝟓𝒍𝒏𝟐𝟐 +

𝝅𝟐

𝟔
− 𝟐𝑳𝒊𝟐 (

𝟏

𝟒
) − 𝟑𝒍𝒏𝟐𝟐 + 𝟑(𝒍𝒏𝟐)(𝒍𝒏𝟑) − 𝟑𝑳𝒊𝟐 (

𝟐

𝟑
) + 𝟑𝑳𝒊𝟐 (

𝟏

𝟑
) 

⇒ 𝑰 =
𝝅𝟐

𝟒
−
𝟏𝟕𝒍𝒏𝟐𝟐

𝟐
+ 𝟓(𝒍𝒏𝟐)(𝒍𝒏𝟑) − 𝟐𝑳𝒊𝟐 (

𝟏

𝟒
) − 𝟑(𝑳𝒊𝟐 (

𝟐

𝟑
) − 𝑳𝒊𝟐 (

𝟏

𝟑
)) 

𝑵𝒐𝒘 𝒖𝒔𝒆 𝒕𝒉𝒆 𝒇𝒐𝒍𝒍𝒐𝒘𝒊𝒏𝒈 𝒊𝒅𝒆𝒏𝒕𝒊𝒕𝒊𝒆𝒔: 

 𝑳𝒊𝟐(𝒛) + 𝑳𝒊𝟐(𝟏 − 𝒛) =
𝝅𝟐

𝟔
− 𝒍𝒏(𝒙)𝒍𝒏(𝟏 − 𝒙) ⇒⏟

𝒛=
𝟏
𝟑

𝑳𝒊𝟐 (
𝟐

𝟑
) + 𝑳𝒊𝟐 (

𝟏

𝟑
)

=
𝝅𝟐

𝟔
− 𝒍𝒏𝟐𝟑 + (𝒍𝒏𝟐)(𝒍𝒏𝟑)    ………… (𝑨) 

 𝑳𝒊𝟐(𝟏 − 𝒛) + 𝑳𝒊𝟐(𝟏− 𝒛
−𝟏) = −

𝒍𝒏𝟐𝒛

𝟐
 ⇒⏟

𝒛=
𝟐
𝟑

𝑳𝒊𝟐 (
𝟏

𝟑
) + 𝑳𝒊𝟐 (−

𝟏

𝟐
) = (𝒍𝒏𝟐)(𝒍𝒏𝟑) −

𝒍𝒏𝟐𝟐

𝟐
−
𝒍𝒏𝟐𝟑

𝟐
    ………(𝑩) 

𝑳𝒊𝟐(𝒛) + 𝑳𝒊𝟐(−𝒛) =
𝟏

𝟐
𝑳𝒊𝟐(𝒛

𝟐)  ⇒⏟

𝒛=
𝟏
𝟐

 𝑳𝒊𝟐 (
𝟏

𝟐
) + 𝑳𝒊𝟐 (−

𝟏

𝟐
) =

𝟏

𝟐
𝑳𝒊𝟐 (

𝟏

𝟒
)   ………(𝑪) 

𝑵𝒐𝒘 𝒖𝒔𝒆,   (𝑨) − 𝟐(𝑩) + 𝟐(𝑪) 

⇒ 𝑳𝒊𝟐 (
𝟐

𝟑
) − 𝑳𝒊𝟐 (

𝟏

𝟑
) + 𝟐𝑳𝒊𝟐 (

𝟏

𝟐
) =

𝝅𝟐

𝟔
− 𝒍𝒏𝟐𝟑 + (𝒍𝒏𝟐)(𝒍𝒏𝟑) − 𝟐(𝒍𝒏𝟐)(𝒍𝒏𝟑) + 𝒍𝒏𝟐𝟐 + 𝒍𝒏𝟐𝟑 + 𝑳𝒊𝟐 (

𝟏

𝟒
) 

⇒ 𝑳𝒊𝟐 (
𝟐

𝟑
) − 𝑳𝒊𝟐 (

𝟏

𝟑
) +

𝝅𝟐

𝟔
− 𝒍𝒏𝟐𝟐 =

𝝅𝟐

𝟔
− (𝒍𝒏𝟐)(𝒍𝒏𝟑) + 𝒍𝒏𝟐𝟐 + 𝑳𝒊𝟐 (

𝟏

𝟒
) 

⇒ 𝑳𝒊𝟐 (
𝟐

𝟑
) − 𝑳𝒊𝟐 (

𝟏

𝟑
) = 𝟐𝒍𝒏𝟐𝟐 − (𝒍𝒏𝟐)(𝒍𝒏𝟑) + 𝑳𝒊𝟐 (

𝟏

𝟒
) 

⇒ 𝑰 =
𝝅𝟐

𝟒
−
𝟏𝟕𝒍𝒏𝟐𝟐

𝟐
+ 𝟓(𝒍𝒏𝟐)(𝒍𝒏𝟑) − 𝟐𝑳𝒊𝟐 (

𝟏

𝟒
) − 𝟑(𝟐𝒍𝒏𝟐𝟐 − (𝒍𝒏𝟐)(𝒍𝒏𝟑) + 𝑳𝒊𝟐 (

𝟏

𝟒
)) 

⇒ 𝑰 =
𝝅𝟐

𝟒
−
𝟐𝟗𝒍𝒏𝟐𝟐

𝟐
+ 𝟖(𝒍𝒏𝟐)(𝒍𝒏𝟑) − 𝟓𝑳𝒊𝟐 (

𝟏

𝟒
) 

2546. Prove that: 

∬ 𝒕𝒂𝒏−𝟏 (
𝒙 + 𝒚

𝒙 + 𝟏
)

 

[𝟎,𝟏]𝟐

𝒅𝒙𝒅𝒚 =
𝟏

𝟖
(𝟑𝝅 − 𝟐𝟐𝒍𝒏𝟐 + 𝟕𝒍𝒏𝟓 − 𝟐𝒄𝒐𝒕−𝟏𝟐) 

Proposed by Cosghun Memmedov-Azerbaijan 
Solution by Shobhit Jain-India 
 

𝑰 = ∫ ∫ 𝒕𝒂𝒏−𝟏 (
𝒙+ 𝒚
𝒙+ 𝟏

)

𝟏

𝒚=𝟎

𝟏

𝒙=𝟎

𝒅𝒚𝒅𝒙 =⏟
𝒙→𝒙−𝟏
𝒚→𝟏−𝒚

    ∫ ∫ 𝒕𝒂𝒏−𝟏 (
𝒙− 𝒚
𝒙

)

𝟏

𝒚=𝟎

𝟐

𝒙=𝟏

𝒅𝒚𝒅𝒙 =⏟

𝒙→
𝟏
𝒙

   

= ∫ ( ∫
𝒕𝒂𝒏−𝟏(𝟏− 𝒚𝒙)

𝒙𝟐

𝟏

𝒚=𝟎

𝒅𝒚)

𝟏

𝒙=
𝟏
𝟐

𝒅𝒙 =⏟

𝒚→
𝒚
𝒙

   ∫ ( ∫
𝒕𝒂𝒏−𝟏(𝟏 −𝒚)

𝒙𝟑

𝒙

𝒚=𝟎

𝒅𝒚)

𝟏

𝒙=
𝟏
𝟐

𝒅𝒙 =⏟
𝒚→𝟏−𝒚

 

= ∫ ( ∫
𝒕𝒂𝒏−𝟏(𝒚)

𝒙𝟑

𝟏

𝒚=𝟏−𝒙

𝒅𝒚)

𝟏

𝒙=
𝟏
𝟐

𝒅𝒙 =⏟
𝒙→𝟏−𝒙

 ∫
(∫ 𝒕𝒂𝒏−𝟏(𝒚)
𝟏

𝒚=𝒙
𝒅𝒚)

(𝟏 − 𝒙)𝟑

𝟏
𝟐

𝒙=𝟎

𝒅𝒙 = 
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= ∫
𝒇(𝟏) − 𝒇(𝒙)

(𝟏 − 𝒙)𝟑

𝟏
𝟐

𝟎

𝒅𝒙          𝑯𝒆𝒓𝒆,   𝒇(𝒙) = ∫ 𝒕𝒂𝒏−𝟏(𝒚)
𝒙

𝟎

𝒅𝒚 = 𝒙𝒕𝒂𝒏−𝟏(𝒙)−
𝟏
𝟐
𝐥𝐧 (𝟏+𝒙𝟐) 

= ∫(𝒇(𝟏) − 𝒇(𝒙))

𝟏
𝟐

𝟎

𝒅[
𝟏

𝟐(𝟏 − 𝒙)𝟐
] = [

𝒇(𝟏) − 𝒇(𝒙)

𝟐(𝟏 − 𝒙)𝟐
]
𝟎

𝟏
𝟐

+∫
𝒇′(𝒙)

𝟐(𝟏 − 𝒙)𝟐
𝒅𝒙

𝟏
𝟐

𝟎

= 

=
𝟑

𝟐
𝒇(𝟏) − 𝟐𝒇(

𝟏

𝟐
) +

𝟏

𝟐
∫
𝒕𝒂𝒏−𝟏(𝒙)
(𝟏 − 𝒙)𝟐

𝒅𝒙

𝟏
𝟐

𝟎

 

𝑵𝒐𝒘, ∫
𝒕𝒂𝒏−𝟏(𝒙)
(𝟏 − 𝒙)𝟐

𝒅𝒙

𝟏
𝟐

𝟎

= ∫ 𝒕𝒂𝒏−𝟏(𝒙)𝒅 [
𝟏

(𝟏 − 𝒙)
]

𝟏
𝟐

𝟎

 =⏟
𝑰𝑩𝑷

 [
𝒕𝒂𝒏−𝟏(𝒙)
𝟏 − 𝒙

]

𝟎

𝟏
𝟐

− ∫
𝟏

𝟏 − 𝒙
𝒅[𝒕𝒂𝒏−𝟏(𝒙)]

𝟏
𝟐

𝒙=𝟎

 

= 𝟐𝝓−∫
𝟏

𝟏 − 𝒕𝒂𝒏𝜽
𝒅𝜽

𝝓

𝟎

= 𝟐𝝓−∫
𝒄𝒐𝒔𝜽

𝒄𝒐𝒔𝜽 − 𝒔𝒊𝒏𝜽
𝒅𝜽

𝝓

𝟎

       𝑯𝒆𝒓𝒆,   𝝓 = 𝒕𝒂𝒏−𝟏 (
𝟏
𝟐
) = 𝒄𝒐𝒕−𝟏(𝟐) 

=  𝟐𝝓 +∫
𝒄𝒐𝒔𝜽

𝒔𝒊𝒏𝜽− 𝒄𝒐𝒔𝜽
𝒅𝜽

𝝓

𝟎

= 𝟐𝝓+
𝟏

𝟐
∫ (
𝒄𝒐𝒔𝜽 + 𝒔𝒊𝒏𝜽

𝒔𝒊𝒏𝜽− 𝒄𝒐𝒔𝜽
− 𝟏)𝒅𝜽

𝝓

𝟎

=
𝟑

𝟐
𝝓+

𝟏

𝟐
𝒍𝒏|𝒔𝒊𝒏𝝓− 𝒄𝒐𝒔𝝓| = 

=
𝟑

𝟐
𝝓+

𝟏

𝟐
𝒍𝒏 |

𝟏

√𝟓
−
𝟐

√𝟓
| =

𝟑

𝟐
𝝓−

𝟏

𝟒
𝒍𝒏𝟓 

⟹ 𝑰 =
𝟑

𝟐
𝒇(𝟏) − 𝟐𝒇(

𝟏

𝟐
) +

𝟏

𝟐
(
𝟑

𝟐
𝝓−

𝟏

𝟒
𝒍𝒏𝟓) =

𝟑

𝟐
𝒇(𝟏) − 𝟐𝒇(

𝟏

𝟐
) +

𝟑

𝟒
𝝓−

𝒍𝒏𝟓

𝟖
 

𝑵𝒐𝒘, 𝒇(𝒙) = 𝒙𝒕𝒂𝒏−𝟏(𝒙)−
𝟏
𝟐
𝐥𝐧(𝟏+𝒙𝟐) 

⟹ 𝒇(𝟏) =
𝝅

𝟒
−
𝟏

𝟐
𝒍𝒏𝟐          𝒂𝒏𝒅           𝒇 (

𝟏

𝟐
) =

𝝓

𝟐
−
𝒍𝒏𝟓

𝟐
+ 𝒍𝒏𝟐 

⟹ 𝑰 =
𝟑

𝟐
(
𝝅

𝟒
−
𝟏

𝟐
𝒍𝒏𝟐) − 𝟐(

𝝓

𝟐
−
𝒍𝒏𝟓

𝟐
+ 𝒍𝒏𝟐) +

𝟑

𝟒
𝝓−

𝒍𝒏𝟓

𝟖
=
𝟑𝝅

𝟖
−
𝟏𝟏

𝟒
𝒍𝒏𝟐−

𝝓

𝟒
+
𝟕

𝟖
𝒍𝒏𝟓 

⟹ 𝑰 =
𝟏

𝟖
(𝟑𝝅 − 𝟐𝟐𝒍𝒏𝟐− 𝟐𝒄𝒐𝒕−𝟏𝟐 + 𝟕𝒍𝒏𝟓) 

2547. Find: 

𝑰 = ∫
𝒙𝟐𝒍𝒏𝟐(𝟏 + 𝒙𝟐)

(𝟏 + 𝒙)(𝟏 + 𝒙𝟐)
𝒅𝒙

𝟏

𝟎

 

 
Proposed by Shirvan Tahirov-Azerbaijan 

Solution by Quadri Faruk Temitope-Nigeria 
 

𝑰 = ∫
𝒙𝟐𝒍𝒏𝟐(𝟏 + 𝒙𝟐)

(𝟏 + 𝒙)(𝟏 + 𝒙𝟐)
𝒅𝒙

𝟏

𝟎

= 

= ∫
𝒍𝒏𝟐(𝟏 + 𝒙𝟐)

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎⏟            
𝑨

−
𝟏

𝟐
∫
𝒍𝒏𝟐(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎⏟            
𝑩

+
𝟏

𝟐
∫
𝒙𝒍𝒏𝟐(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎⏟            
𝑪

 

𝑪𝒂𝒍𝒄𝒖𝒍𝒂𝒕𝒆  𝒕𝒉𝒆  𝒈𝒊𝒗𝒆𝒏  𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒍′𝒔 ∶ 
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𝑨 = ∫
𝒍𝒏𝟐(𝟏 + 𝒙𝟐)

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎

 {𝒖 = 𝒍𝒏𝟐(𝟏 + 𝒙𝟐),
𝒅𝒖

𝒅𝒙
=
𝟒𝒙𝒍𝒏(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
, 𝒗 = 𝐥𝐧(𝟏 + 𝒙)  𝒅𝒗

=
𝟏

𝟏 + 𝒙
} 

𝑨 = 𝒍𝒏𝟐(𝟏 + 𝒙𝟐)𝐥𝐧 (𝟏 + 𝒙)|
𝟏

𝟎
− 𝟒∫

𝒙𝒍𝒏(𝟏 + 𝒙𝟐) 𝐥𝐧(𝟏 + 𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎⏟                  
𝑴

= 

𝑨 = 𝒍𝒏𝟑(𝟐) − 𝟒∫
𝒙𝒍𝒏(𝟏 + 𝒙𝟐) 𝐥𝐧(𝟏 + 𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎⏟                  
𝑴

 

∫
𝒙𝒍𝒏(𝟏+ 𝒙𝟐)𝐥 𝐧(𝟏 + 𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎⏟                  
𝑴

=
𝟏

𝟐
∫
𝒙𝒍𝒏(𝟏− 𝒙𝟐) 𝐥𝐧(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

+
𝟏

𝟐
∫
𝒙𝒍𝒏(

𝟏 + 𝒙
𝟏 − 𝒙

) 𝐥𝐧(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

 

=
𝟏

𝟐
(𝑨𝟏 + 𝑨𝟐) 

𝑨𝟏 = ∫
𝒙𝒍𝒏(𝟏 − 𝒙𝟐) 𝐥𝐧(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

  [𝒙𝟐 = 𝒚 , 𝒅𝒚 = 𝟐𝒙𝒅𝒙, 𝒅𝒙 =
𝒅𝒚

𝟐𝒙
] 

∫
𝒙𝒍𝒏(𝟏 − 𝒙𝟐) 𝐥𝐧(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

= ∫
𝒙𝒍𝒏(𝟏 − 𝒚)𝐥𝐧 (𝟏 + 𝒚)

𝟏 + 𝒚

𝒅𝒚

𝟐𝒙
=
𝟏

𝟐
∫
𝐥𝐧(𝟏 + 𝒚) 𝐥𝐧 (𝟏 − 𝒚)

𝟏 + 𝒚
𝒅𝒚

𝟏

𝟎

𝟏

𝒐

 

𝑨𝟏 =
𝟏

𝟏𝟔
𝜻(𝟑) +

𝟏

𝟔
𝒍𝒏𝟑(𝟐) −

𝐥𝐧(𝟐)

𝟒
𝜻(𝟐), 𝑨𝟐 =

𝟑

𝟖
𝜻(𝟐) 𝐥𝐧(𝟐) −

𝟐𝟏

𝟏𝟔
𝜻(𝟑) +

𝝅

𝟐
𝑮 

𝑴 =
𝟏

𝟐
(𝑨𝟏 + 𝑨𝟐) =

𝟏

𝟐
(
𝟏

𝟏𝟔
𝜻(𝟑) +

𝟏

𝟔
𝒍𝒏𝟑(𝟐) −

𝐥𝐧(𝟐)

𝟒
𝜻(𝟐)) + 

𝟏

𝟐
(
𝟑

𝟖
𝜻(𝟐) 𝐥𝐧(𝟐) −

𝟐𝟏

𝟏𝟔
𝜻(𝟑) +

𝝅

𝟐
𝑮) = −

𝟓

𝟖
𝜻(𝟑) +

𝟏

𝟏𝟐
𝒍𝒏𝟑(𝟐) +

𝟏

𝟏𝟔
𝜻(𝟐) 𝐥𝐧(𝟐) +

𝝅

𝟒
𝑮 

𝑨 = 𝒍𝒏𝟑(𝟐) − 𝟒𝑴 = 𝒍𝒏𝟑(𝟐) − 𝟒(−
𝟓

𝟖
𝜻(𝟑) +

𝟏

𝟏𝟐
𝒍𝒏𝟑(𝟐) +

𝟏

𝟏𝟔
𝜻(𝟐) 𝐥𝐧(𝟐) +

𝝅

𝟒
𝑮) 

𝑨 =
𝟐

𝟑
𝒍𝒏𝟑(𝟐) +

𝟓

𝟐
𝜻(𝟑) −

𝟏

𝟒
𝜻(𝟐) 𝐥𝐧(𝟐) − 𝝅𝑮 

∫
𝒍𝒏𝟐(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

=
𝟐

𝟑
𝒍𝒏𝟑(𝟐) +

𝟓

𝟐
𝜻(𝟑) −

𝟏

𝟒
𝜻(𝟐) 𝐥𝐧(𝟐) − 𝝅𝑮 

𝑪 = ∫
𝒙𝒍𝒏𝟐(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

   

𝑪 =
𝟏

𝟐
𝒍𝒏𝟐(𝟏 + 𝒙𝟐)𝒍𝒏(𝟏 + 𝒙𝟐)|

𝟏

𝟎
− 𝟐∫

𝒙𝒍𝒏𝟐(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎⏟            
𝑪

=
𝟏

𝟐
𝒍𝒏𝟑(𝟐) − 𝟐𝑪 

𝟑𝑪 =
𝟏

𝟐
𝒍𝒏𝟑(𝟐) ,      𝑪 =

𝟏

𝟔
𝒍𝒏𝟑(𝟐), 𝑪 = ∫

𝒙𝒍𝒏𝟐(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

=
𝟏

𝟔
𝒍𝒏𝟑(𝟐) 
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∫
𝒍𝒏𝟐(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎⏟            
𝑩

= ∫
𝒍𝒏𝟐 (𝟏 + 𝒕𝒂𝒏𝟐(𝒚))

𝟏 + 𝒕𝒂𝒏𝟐(𝒚)
. 𝒔𝒆𝒄𝟐(𝒚)𝒅𝒚 = ∫

𝒍𝒏𝟐 (𝒔𝒆𝒄𝟐(𝒚))

𝒔𝒆𝒄𝟐(𝒚)
. 𝒔𝒆𝒄𝟐(𝒚)𝒅𝒚 =

𝝅
𝟒

𝟎

𝝅
𝟒

𝟎

 

∫ 𝒍𝒏𝟐 (𝒔𝒆𝒄𝟐(𝒚))𝒅𝒚

𝝅
𝟒

𝟎

= 𝟒∫ 𝒍𝒏𝟐(𝐜𝐨𝐬(𝒚))𝒅𝒚 = 𝟒∫ 𝒍𝒏𝟐(𝐜𝐨𝐬(𝒙))𝒅𝒙 =

𝝅
𝟒

𝟎

𝝅
𝟒

𝟎

𝟒∫ 𝒍𝒏𝟐[𝟐𝐜𝐨𝐬 (𝒙)]𝒅𝒙 −

𝝅
𝟒

𝟎

 

𝟒𝒍𝒏𝟐(𝟐)∫ 𝒅𝒙 − 𝟐𝐥𝐧 (𝟐)

𝝅
𝟒

𝟎

∫ 𝒍𝒏[𝐜𝐨𝐬 (𝒙)]𝒅𝒙

𝝅
𝟒

𝟎

 

𝑹𝒆𝒄𝒂𝒍𝒍   𝒕𝒉𝒂𝒕 ∶  

𝒍𝒏𝟐[𝟐𝐜𝐨𝐬 (𝒙)] = 𝒙𝟐 + 𝟐∑
(−𝟏)𝒏𝑯𝒏−𝟏

𝒏
𝐜𝐨𝐬 (𝟐𝒏𝒙)

∞

𝒏=𝟏

;  𝒍𝒏[𝐜𝐨𝐬 (𝒙)] = − 𝐥𝐧(𝟐) −∑
(−𝟏)𝒏𝐜𝐨𝐬 (𝟐𝒏𝒙)

𝒏

∞

𝒏=𝟏

 

𝑩 = 𝟒∫ 𝒙𝟐𝒅𝒙 + 𝟖

𝝅
𝟒

𝟎

∑
(−𝟏)𝒏𝑯𝒏−𝟏

𝒏
∫ 𝐜𝐨𝐬(𝟐𝒏𝒙)𝒅𝒙 − 𝟒𝒍𝒏𝟐(𝟐)(

𝝅
𝟒

𝟎

∞

𝒏=𝟏

𝝅

𝟒
) + 𝟐𝒍𝒏𝟐(𝟐)∫ 𝒅𝒙 +

𝝅
𝟒

𝟎

 

𝟐𝐥𝐧 (𝟐)∑
(−𝟏)𝒏

𝒏
∫ 𝐜𝐨𝐬(𝟐𝒏𝒙)𝒅𝒙 =

𝟒

𝟑
(
𝝅

𝟒
)
𝟑

𝝅
𝟒

𝟎

+ 𝟖

∞

𝒏=𝟏

∑
(−𝟏)𝒏𝑯𝒏−𝟏

𝒏
[
𝐬𝐢𝐧(

𝝅𝒏
𝟐
)

𝟐𝒏
] −

∞

𝒏=𝟏

 

𝝅𝒍𝒏𝟐(𝟐) + 𝟐𝒍𝒏𝟐(𝟐) (
𝝅

𝟒
)+ 𝟐 𝐥𝐧(𝟐)∑

(−𝟏)𝒏

𝒏

∞

𝒏=𝟏

[
𝐬𝐢𝐧 (

𝝅𝒏
𝟐
)

𝟐𝒏
]

=
𝝅𝟑

𝟒𝟖
+ 𝟒∑

(−𝟏)𝒏

𝒏𝟐
𝐬𝐢𝐧 (

𝝅𝒏

𝟐
) [𝑯𝒏 −

𝟏

𝒏
] −

∞

𝒏=𝟏

 

𝟏

𝟐
𝝅𝒍𝒏𝟐(𝟐) + 𝐥𝐧(𝟐) (−𝑮) 

𝑩 =
𝝅𝟑

𝟒𝟖
+∑

(−𝟏)𝒏

𝒏𝟐
𝐬𝐢𝐧 (

𝝅𝒏

𝟐
)𝑯𝒏 − 𝟒∑

(−𝟏)𝒏

𝒏𝟑
𝐬𝐢𝐧 (

𝝅𝒏

𝟐
) −

𝟏

𝟐
𝝅𝒍𝒏𝟐(𝟐) − 𝑮 𝐥𝐧(𝟐)

∞

𝒏=𝟏

∞

𝒏=𝟏

 

𝑩 =
𝝅𝟑

𝟒𝟖
+ 𝟒𝑺(𝒏) − 𝟒 [−

𝝅𝟑

𝟑𝟐
] −
𝟏

𝟐
𝝅𝒍𝒏𝟐(𝟐) − 𝑮 𝐥𝐧(𝟐) 

𝑺(𝒏) = ∑
(−𝟏)𝒏

𝒏𝟐
𝐬𝐢𝐧 (

𝝅𝒏

𝟐
)𝑯𝒏

∞

𝒏=𝟏

, 𝑺(𝒏) = −∫ 𝒙𝒏−𝟏
𝟏

𝟎

𝐥𝐧(𝟏 − 𝒙)𝒅𝒙 

𝑺(𝒏) = −∫
𝐥 𝐧(𝟏 − 𝒙)

𝒙
∑

(−𝟏)𝒏

𝒏
𝐬𝐢𝐧 (

𝝅𝒏

𝟐
)

∞

𝒏=𝟏

𝟏

𝟎

𝒅𝒙, 𝑺(𝒏) = −∫
𝐥𝐧(𝟏 − 𝒙)

𝒙
(−𝐚𝐫𝐜𝐭𝐚𝐧(𝒙))𝒅𝒙

𝟏

𝟎

 

𝑺(𝒏) = ∫
𝐥𝐧(𝟏 − 𝒙)𝐚𝐫𝐜𝐭𝐚𝐧 (𝒙)

𝒙
𝒅𝒙  (𝑰. 𝑩.𝑷)

𝟏

𝟎

,

𝑺(𝒏) = −𝒂𝒓𝒄𝒕𝒂𝒏(𝒙)𝑳𝒊𝟐(𝒙)|
𝟏

𝟎
+∫

𝑳𝒊𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎
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𝑺(𝒏) = −
𝝅

𝟒
𝜻(𝟐) +∑(−𝟏)𝒏

∞

𝒏=𝟎

∫ 𝒙𝟐𝒏𝑳𝒊𝟐(𝒙)𝒅𝒙
𝟏

𝟎

, 𝑺(𝒏)

= −
𝝅

𝟒
𝜻(𝟐) +∑(−𝟏)𝒏

∞

𝒏=𝟎

[
𝟏

𝟐𝒏 + 𝟏
−

𝑯𝟐𝒏+𝟏
(𝟐𝒏 + 𝟏)𝟐

] 

𝑺(𝒏) = −
𝝅

𝟒
𝜻(𝟐) +∑

(−𝟏)𝒏

𝟐𝒏 + 𝟏

∞

𝒏=𝟎

−∑
𝑯𝟐𝒏+𝟏

(𝟐𝒏 + 𝟏)𝟐

∞

𝒏=𝟎

 

𝑺(𝒏) = −
𝝅

𝟒
𝜻(𝟐) +

𝝅

𝟒
− [−𝓘𝑳𝒊𝟑(𝟏 − 𝒊) −

𝝅

𝟏𝟔
𝒍𝒏𝟐(𝟐) −

𝟏

𝟐
𝐥𝐧(𝟐)𝑮] 

𝑺(𝒏) = −
𝝅

𝟒
𝜻(𝟐) +

𝝅

𝟒
+ 𝓘𝑳𝒊𝟑(𝟏 − 𝒊) +

𝝅

𝟏𝟔
𝒍𝒏𝟐(𝟐) +

𝟏

𝟐
𝐥𝐧(𝟐)𝑮 

𝑩 =
𝝅𝟑

𝟒𝟖
+ 𝟒(−

𝝅

𝟒
𝜻(𝟐) +

𝝅

𝟒
+ 𝓘𝑳𝒊𝟑(𝟏 − 𝒊) +

𝝅

𝟏𝟔
𝒍𝒏𝟐(𝟐) +

𝟏

𝟐
𝐥𝐧(𝟐)𝑮) − 𝟒 [−

𝝅𝟑

𝟑𝟐
]

−
𝟏

𝟐
𝝅𝒍𝒏𝟐(𝟐) − 𝑮 𝐥𝐧(𝟐) 

𝑩 = −
𝝅𝟑

𝟒𝟖
+ 𝝅 + 𝟒𝓘𝑳𝒊𝟑(𝟏 − 𝒊) −

𝝅

𝟒
𝒍𝒏𝟐(𝟐) + 𝑮𝐥𝐧 (𝟐) 

∫
𝒙𝟐𝒍𝒏𝟐(𝟏 + 𝒙𝟐)

(𝟏 + 𝒙)(𝟏 + 𝒙𝟐)
𝒅𝒙

𝟏

𝟎

= 𝑨 −𝑩+ 𝑪 = (
𝟐

𝟑
𝒍𝒏𝟑(𝟐) +

𝟓

𝟐
𝜻(𝟑) −

𝟏

𝟒
𝜻(𝟐) 𝐥𝐧(𝟐) − 𝝅𝑮) − 

−
𝟏

𝟐
(−
𝝅𝟑

𝟒𝟖
+ 𝝅 + 𝟒𝓘𝑳𝒊𝟑(𝟏 − 𝒊) −

𝝅

𝟒
𝒍𝒏𝟐(𝟐) + 𝑮 𝐥𝐧(𝟐)) +

𝟏

𝟐
(
𝟏

𝟔
𝒍𝒏𝟑(𝟐)) 

∫
𝒙𝟐𝒍𝒏𝟐(𝟏 + 𝒙𝟐)

(𝟏 + 𝒙)(𝟏 + 𝒙𝟐)
𝒅𝒙

𝟏

𝟎

=
𝟗

𝟏𝟐
𝒍𝒏𝟑(𝟐) +

𝟓

𝟐
𝜻(𝟑) −

𝟏

𝟒
𝜻(𝟐) 𝐥𝐧(𝟐) − 𝝅𝑮 −

𝝅𝟑

𝟗𝟔
−
𝝅

𝟐
− 𝟐𝓘𝑳𝒊𝟑(𝟏 − 𝒊) + 

𝝅

𝟖
𝒍𝒏𝟐(𝟐) −

𝑮

𝟐
𝒍𝒏(𝟐) 

2548. Find: 

∫
𝒙𝟐𝒍𝒏𝟑(𝒙)

(𝟏 + 𝒙)𝟑
𝒅𝒙

𝟏

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan 
 

Solution 1 by Kartick Chandra Betal-India 
 

∫
𝒙𝟐𝒍𝒏𝟑(𝒙)

(𝟏 + 𝒙)𝟑
𝒅𝒙

𝟏

𝟎

= ∑(−𝟏)𝒏−𝟏.
𝒏(𝒏 + 𝟏)

𝟐
∫ 𝒙𝒏+𝟏𝒍𝒏𝟑(𝒙)𝒅𝒙 =
𝟏

𝟎

∞

𝒏=𝟏

 

∑(−𝟏)𝒏−𝟏.
𝒏(𝒏 + 𝟏)

𝟐
[
𝒙𝒏+𝟐𝒍𝒏𝟑(𝒙)

𝒏 + 𝟐
−
𝟑𝒙𝒏+𝟐𝒍𝒏𝟐(𝒙)

(𝒏 + 𝟐)𝟐
+
𝟔𝒙𝒏+𝟐 𝐥𝐧(𝒙)

(𝒏 + 𝟐)𝟑
−
𝟔𝒙𝒏+𝟐

(𝒏 + 𝟐)𝟒
]
𝟏

𝟎
=

∞

𝒏=𝟏
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∑(−𝟏)𝒏−𝟏.
𝒏(𝒏 + 𝟏)

𝟐
[−

𝟔

(𝒏 + 𝟐)𝟒
] = 𝟑∑(−𝟏)𝒏

∞

𝒏=𝟏

∞

𝒏=𝟏

.
𝒏(𝒏 + 𝟏)

(𝒏 + 𝟐)𝟒
= 

𝟑∑(−𝟏)𝒏
∞

𝒏=𝟏

{
𝟏

(𝒏 + 𝟐)𝟐
−

𝟑

(𝒏 + 𝟐)𝟑
+

𝟐

(𝒏 + 𝟐)𝟒
} = 𝟑∑(−𝟏)𝒏−𝟏

∞

𝒏=𝟑

{−
𝟏

𝒏𝟐
+
𝟑

𝒏𝟑
−
𝟐

𝒏𝟒
} = 

𝟑 [∑(−𝟏)𝒏−𝟏 {−
𝟏

𝒏𝟐
+
𝟑

𝒏𝟑
−
𝟐

𝒏𝟒
}

∞

𝒏=𝟏

] = 𝟑{−𝜼(𝟐) + 𝟑𝜼(𝟑) − 𝟐𝜼(𝟒)} = 

𝟑 {−
𝝅𝟐

𝟏𝟐
+ 𝟑.

𝟑

𝟒
𝜻(𝟑) − 𝟐.

𝟕

𝟖
. 𝜻(𝟒)} = 𝟑(−

𝝅𝟐

𝟏𝟐
+
𝟗

𝟒
𝜻(𝟑) −

𝟕

𝟒
.
𝝅𝟒

𝟗𝟎
) = 

𝟐𝟕

𝟒
𝜻(𝟑) −

𝝅𝟐

𝟒
−
𝟕𝝅𝟒

𝟏𝟐𝟎
 

∫
𝒙𝟐𝒍𝒏𝟑(𝒙)

(𝟏 + 𝒙)𝟑
𝒅𝒙

𝟏

𝟎

=
𝟐𝟕

𝟒
𝜻(𝟑) −

𝝅𝟐

𝟒
−
𝟕𝝅𝟒

𝟏𝟐𝟎
 

 

Solution 2 by Pham Duc Nam-Vietnam 
 

∗ 𝒏,𝒎 ∈ 𝑵 ∶ 𝑰(𝒎, 𝒏) = ∫
𝒍𝒏𝒏(𝒙)

(𝟏 + 𝒙)𝒎
𝒅𝒙 =

(−𝟏)𝒎−𝟏

(𝒎 − 𝟏)!
.
𝝏𝒎−𝟏

𝝏𝒂𝒎−𝟏
|
𝒂=𝟏

∫
𝒍𝒏𝒏(𝒙)

𝒂 + 𝒙
𝒅𝒙 =

𝟏

𝟎

𝟏

𝟎

 

(−𝟏)𝒎−𝟏

(𝒎 − 𝟏)!
.
𝝏𝒎−𝟏

𝝏𝒂𝒎−𝟏
|
𝒂=𝟏

∑
(−𝟏)𝒌

𝒂𝒌+𝟏

∞

𝒌=𝟎

∫ 𝒙𝒌𝒍𝒏𝒏(𝒙)𝒅𝒙 =
𝟏

𝟎

 

(−𝟏)𝒎−𝟏(−𝟏)𝒏𝒏!

(𝒎− 𝟏)!
.
𝝏𝒎−𝟏

𝝏𝒂𝒎−𝟏
|
𝒂=𝟏

∑
(−𝟏)𝒌

𝒂𝒌+𝟏(𝟏 + 𝒌)𝒏+𝟏

∞

𝒌=𝟎

=
(−𝟏)𝒎−𝟏(−𝟏)𝒏𝒏!

(𝒎− 𝟏)!
.
𝝏𝒎−𝟏

𝝏𝒂𝒎−𝟏
|
𝒂=𝟏

(−𝑳𝒊𝒏+𝟏 (−
𝟏

𝒂
)) 

∗ 𝑰 = ∫
𝒙𝟐𝒍𝒏𝟑(𝒙)

(𝟏 + 𝒙)𝟑
𝒅𝒙

𝟏

𝟎

= ∫ (
𝟏

(𝟏 + 𝒙)𝟑
−

𝟐

(𝟏 + 𝒙)𝟐
+

𝟏

𝟏 + 𝒙
) 𝒍𝒏𝟑(𝒙)𝒅𝒙

𝟏

𝟎

= 𝑰(𝟑, 𝟑) − 𝟐𝑰(𝟑, 𝟐) + 𝑰(𝟑, 𝟏) 

𝑰(𝟑, 𝟑) =
(−𝟏)𝟐(−𝟏)𝟑𝟑!

(𝟑 − 𝟏)!
.
𝝏𝟐

𝝏𝒂𝟐
|
𝒂=𝟏

(−𝑳𝒊𝟒 (−
𝟏

𝒂
)) = −

𝟗

𝟒
𝜻(𝟑) −

𝟑

𝟐
𝜻(𝟐) 

𝑰(𝟑, 𝟐) =
(−𝟏)𝟏(−𝟏)𝟑𝟑!

(𝟏)!
.
𝝏𝟏

𝝏𝒂𝟏
|
𝒂=𝟏

(−𝑳𝒊𝟑 (−
𝟏

𝒂
)) = −

𝟗

𝟐
𝜻(𝟑) 

𝑰(𝟑, 𝟏) =
(−𝟏)𝟎(−𝟏)𝟑𝟑!

(𝟎)!
(−𝑳𝒊𝟒(−𝟏)) = −

𝟐𝟏

𝟒
𝜻(𝟒) 

∗ 𝑰 = 𝑰(𝟑, 𝟑) − 𝟐𝑰(𝟑, 𝟐) + 𝑰(𝟑, 𝟏) = −
𝟗

𝟒
𝜻(𝟑) −

𝟑

𝟐
𝜻(𝟐) + 𝟐.

𝟗

𝟐
𝜻(𝟑) −

𝟐𝟏

𝟒
𝜻(𝟒) 

∫
𝒙𝟐𝒍𝒏𝟑(𝒙)

(𝟏 + 𝒙)𝟑
𝒅𝒙

𝟏

𝟎

=
𝟐𝟕

𝟒
𝜻(𝟑) −

𝝅𝟐

𝟒
−
𝟕𝝅𝟒

𝟏𝟐𝟎
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Solution 3 by Shobhit Jain-India 

Ω = ∫
𝒙𝟐𝒍𝒏𝟑(𝒙)

(𝟏 + 𝒙)𝟑
𝒅𝒙

𝟏

𝟎

 

𝑵𝒐𝒘  , (𝟏 + 𝒙)−𝟑 = ∑ 𝑪(−𝟏)𝒏𝒙𝒏𝟐
𝒏+𝟐

𝒏=𝟎

 

Ω = ∑ 𝑪(−𝟏)𝒏∫ 𝒙𝒏+𝟐𝒍𝒏𝟑(𝒙)𝒅𝒙 = −𝜞𝟒∑
𝑪(−𝟏)𝒏𝟐

𝒏+𝟐

(𝒏 + 𝟑)𝟒
=

𝒏=𝟎

𝟏

𝟎
𝟐

𝒏+𝟐

𝒏=𝟎

 

−𝟔∑
𝑪(−𝟏)𝒏𝟐
𝒏

(𝒏 + 𝟏)𝟒
𝒏=𝟐

= −𝟑∑(−𝟏)𝒏
𝒏(𝒏 − 𝟏)

(𝒏 + 𝟏)𝟒
= −𝟑

𝒏=𝟐

∑(−𝟏)𝒏
𝒏(𝒏 − 𝟏)

(𝒏 + 𝟏)𝟒
=

𝒏=𝟎

 

−𝟑∑(−𝟏)𝒏−𝟏
(𝒏 − 𝟏)(𝒏 − 𝟐)

𝒏𝟒
= −𝟑∑(−𝟏)𝒏−𝟏 {

𝟏

𝒏𝟐
−
𝟑

𝒏𝟑
+
𝟐

𝒏𝟒
}

𝒏=𝟏𝒏=𝟏

= 

−𝟑{𝜼(𝟐) − 𝟑𝜼(𝟑) + 𝟐𝜼(𝟒)} = −𝟑𝜼(𝟐) + 𝟗𝜼(𝟑) − 𝟔𝜼(𝟒) = 

−
𝟑

𝟐
𝜻(𝟐) +

𝟐𝟕

𝟒
𝜻(𝟑) −

𝟐𝟏

𝟒
𝜻(𝟒) =

𝟐𝟕

𝟒
𝜻(𝟑) −

𝝅𝟐

𝟒
−
𝟕𝝅𝟒

𝟏𝟐𝟎
 

  ∫
𝒙𝟐𝒍𝒏𝟑(𝒙)

(𝟏 + 𝒙)𝟑
𝒅𝒙

𝟏

𝟎

=
𝟐𝟕

𝟒
𝜻(𝟑) −

𝝅𝟐

𝟒
−
𝟕𝝅𝟒

𝟏𝟐𝟎
 

 

Solution 4 by Cosghun Memmedov-Azerbaijan 
 

Ω = ∫
𝒙𝟐𝒍𝒏𝟑(𝒙)

(𝟏 + 𝒙)𝟑
𝒅𝒙

𝟏

𝟎

= ∫
𝒍𝒏𝟑(𝒙)

𝟏 + 𝒙
𝒅𝒙 − 𝟐∫

𝒍𝒏𝟑(𝒙)

(𝟏 + 𝒙)𝟐
𝒅𝒙 +∫

𝒍𝒏𝟑(𝒙)

(𝟏 + 𝒙)𝟑
𝒅𝒙 = Ω𝟏 − 𝟐Ω𝟐 +Ω𝟑

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

Ω𝟏 = ∫
𝒍𝒏𝟑(𝒙)

𝟏 + 𝒙
𝒅𝒙 = ∑(−𝟏)𝒏∫ 𝒙𝒏

𝟏

𝟎

∞

𝒏=𝟎

𝟏

𝟎

𝒍𝒏𝟑(𝒙)𝒅𝒙 = −𝟔∑
(−𝟏)𝒏

(𝒏 + 𝟏)𝟒
=

∞

𝒏=𝟎

 

−𝟔∑
(−𝟏)𝒏−𝟏

𝒏𝟒
=

∞

𝒏=𝟏

− 𝟔𝜼(𝟒) = −𝟔.
𝟕𝝅𝟒

𝟕𝟐𝟎
= −

𝟕𝝅𝟒

𝟏𝟐𝟎
 

Ω𝟐 = ∫
𝒍𝒏𝟑(𝒙)

(𝟏 + 𝒙)𝟐
𝒅𝒙 = −∑(−𝟏)𝒏𝒏∫ 𝒙𝒏−𝟏𝒍𝒏𝟑(𝒙)𝒅𝒙 = 𝟔∑

(−𝟏)𝒏𝒏

𝒏𝟒
= −𝟔𝜼(𝟑) =

∞

𝒏=𝟏

𝟏

𝟎

∞

𝒏=𝟏

𝟏

𝟎

 

−𝟔.
𝟑

𝟒
𝜻(𝟑) = −

𝟗

𝟐
𝜻(𝟑) 

Ω𝟑 = ∫
𝒍𝒏𝟑(𝒙)

(𝟏 + 𝒙)𝟑
𝒅𝒙 =

𝟏

𝟐
∑(−𝟏)𝒏𝒏(𝒏 − 𝟏)∫ 𝒙𝒏−𝟐𝒍𝒏𝟑(𝒙)𝒅𝒙 = −𝟑∑

(−𝟏)𝒏𝒏(𝒏 − 𝟏)

(𝒏 − 𝟏)𝟒
=

∞

𝒏=𝟐

𝟏

𝟎

∞

𝒏=𝟐

𝟏

𝟎

 

−𝟑∑
(−𝟏)𝒏𝒏

(𝒏 − 𝟏)𝟑
= −𝟑

∞

𝒏=𝟐

∑
(−𝟏)𝒏

(𝒏 − 𝟏)𝟐
− 𝟑∑

(−𝟏)𝒏

(𝒏 − 𝟏)𝟑
= −𝟑∑

(−𝟏)𝒏−𝟏

𝒏𝟐
− 𝟑∑

(−𝟏)𝒏−𝟏

𝒏𝟑
=

∞

𝒏=𝟏

∞

𝒏=𝟏

∞

𝒏=𝟏

∞

𝒏=𝟐

 

−𝟑𝜼(𝟐) − 𝟑𝜼(𝟑) = −𝟑.
𝝅𝟐

𝟏𝟐
− 𝟑.

𝟑

𝟒
𝜻(𝟑) = −

𝝅𝟐

𝟒
−
𝟗

𝟒
𝜻(𝟑) 

Ω = Ω𝟏 − 𝟐Ω𝟐 + Ω𝟑 = −
𝟕𝝅𝟒

𝟏𝟐𝟎
+ 𝟗𝜻(𝟑) −

𝝅𝟐

𝟒
−
𝟗

𝟒
𝜻(𝟑) 
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∫
𝒙𝟐𝒍𝒏𝟑(𝒙)

(𝟏 + 𝒙)𝟑
𝒅𝒙

𝟏

𝟎

=
𝟐𝟕

𝟒
𝜻(𝟑) −

𝝅𝟐

𝟒
−
𝟕𝝅𝟒

𝟏𝟐𝟎
 

Solution 5 by Quadri Faruk Temitope-Nigeria 
 

𝑰 = ∫
𝒙𝟐𝒍𝒏𝟑(𝒙)

(𝟏 + 𝒙)𝟑
𝒅𝒙

𝟏

𝟎

 

𝑰 = ∫
𝒍𝒏𝟑(𝒙)

𝟏 + 𝒙
𝒅𝒙 − 𝟐∫

𝒍𝒏𝟑(𝒙)

(𝟏 + 𝒙)𝟐
𝒅𝒙 +∫

𝒍𝒏𝟑(𝒙)

(𝟏 + 𝒙)𝟑
𝒅𝒙

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝑰 = ∑(
−𝟑

𝒏
)∫ 𝒙𝒏𝒍𝒏𝟑(𝒙)𝒅𝒙 − 𝟐∑(

−𝟐

𝒏
)∫ 𝒙𝒏

𝟏

𝟎

∞

𝒏=𝟎

𝟏

𝟎

∞

𝒏=𝟎

𝒍𝒏𝟑(𝒙)𝒅𝒙 +∑(−𝟏)𝒏∫ 𝒙𝒏𝒍𝒏𝟑(𝒙)𝒅𝒙
𝟏

𝟎

∞

𝒏=𝟎

 

𝑰 = ∑(
−𝟑

𝒏
) [−

𝟔

(𝒏 + 𝟏)𝟒
] − 𝟐∑(

−𝟐

𝒏
) [−

𝟔

(𝒏 + 𝟏)𝟒
] +∑(−𝟏)𝒏

∞

𝒏=𝟎

∞

𝒏=𝟎

∞

𝒏=𝟎

[−
𝟔

(𝒏 + 𝟏)𝟒
] 

𝑰 = −𝟔∑
(−𝟑
𝒏
)

(𝒏 + 𝟏)𝟒

∞

𝒏=𝟎

+ 𝟏𝟐∑
(−𝟐
𝒏
)

(𝒏 + 𝟏)𝟒
− 𝟔∑

(−𝟏)𝒏

(𝒏 + 𝟏)𝟒

∞

𝒏=𝟎

∞

𝒏=𝟎

 

𝑰 = −𝟔 [
𝟑

𝟖
𝜻(𝟑) +

𝟏

𝟒
𝜻(𝟐)] + 𝟏𝟐 [

𝟑

𝟒
𝜻(𝟑)] − 𝟔 [

𝟕

𝟖
𝜻(𝟒)] 

∫
𝒙𝟐𝒍𝒏𝟑(𝒙)

(𝟏 + 𝒙)𝟑
𝒅𝒙

𝟏

𝟎

=
𝟐𝟕

𝟒
𝜻(𝟑) −

𝝅𝟐

𝟒
−
𝟕𝝅𝟒

𝟏𝟐𝟎
 

 

2549. Find: 

𝛀 = ∫
𝒍𝒏𝟑(𝒙 + 𝟏)

(𝟏 + 𝒙)(𝟑 + 𝒙)
𝒅𝒙

𝟏

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution 1 by Exodo Halcalias-Angola 
 

∫
𝒍𝒏𝟑(𝒙 + 𝟏)

(𝟏 + 𝒙)(𝟑 + 𝒙)
𝒅𝒙 =

𝟏

𝟐
∫
𝒍𝒏𝟑(𝒙 + 𝟏)

(𝟏 + 𝒙)
𝒅𝒙 −

𝟏

𝟐
∫
𝒍𝒏𝟑(𝒙 + 𝟏)

(𝟑 + 𝒙)
𝒅𝒙

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

=
𝟏

𝟐
∫ 𝒅(

𝟏

𝟒
𝒍𝒏𝟒(𝟏 + 𝒙)) −

𝟏

𝟎

 

𝟏

𝟐
∫
𝒍𝒏𝟑(𝒙)

𝒙
𝒅𝒙 + ∫

𝒍𝒏𝟑(𝒙)

𝟏 + 𝟐𝒙
𝒅𝒙 =

𝟏
𝟐

𝟎

𝟏
𝟐

𝟎

𝒍𝒏𝟒(𝟐)

𝟖

−
𝟏

𝟐
∫ 𝒅(

𝟏

𝟒
𝒍𝒏𝟒(𝒙)) − ∫

𝒍𝒏𝟑(𝒙)

𝟏 + 𝟐𝒙
𝒅𝒙 + ∫

𝒍𝒏𝟑(𝒙)

𝟏 + 𝟐𝒙
𝒅𝒙 =

𝟏
𝟐

𝟎

𝟏

𝟎

𝟏
𝟐

𝟎

 

𝟏

𝟐
∫ −

𝟐𝒍𝒏𝟑(𝒙)

𝟏 + 𝟐𝒙
𝒅𝒙

𝟏

𝟎

+
𝟏

𝟐
∫
𝒍𝒏𝟑 (

𝒙
𝟐)

𝟏 + 𝒙
𝒅𝒙 = −𝟑𝑳𝒊𝟒(−𝟐) +

𝟏

𝟎
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𝟏

𝟐
∑(

𝟑

𝒌
)

∞

𝒌=𝟎

𝒍𝒏𝟑−𝒌 (
𝟏

𝟐
)(∑(−𝟏)𝒏−𝟏∫ 𝒙𝒏−𝟏𝒍𝒏𝒌(𝒙)𝒅𝒙

𝟏

𝟎𝒏∈𝑵

) = −𝟑𝑳𝒊𝟒(−𝟐) + 

𝟏

𝟐
∑(

𝟑

𝒌
)

∞

𝒌=𝟎

𝒍𝒏𝟑−𝒌 (
𝟏

𝟐
)((−𝟏)𝒌𝒌!∑

(−𝟏)𝒏−𝟏

𝒏𝒌+𝟏
𝒏∈𝑵

) = −𝟑𝑳𝒊𝟒(−𝟐) + 

𝟏

𝟐
∑(

𝟑

𝒌
)

∞

𝒌=𝟎

𝒍𝒏𝟑−𝒌 (
𝟏

𝟐
) ((−𝟏)𝒌𝒌!𝜼(𝒌 + 𝟏)) = −𝟑𝑳𝒊𝟒(−𝟐) + 

𝟏

𝟐
(𝒍𝒏𝟑 (

𝟏

𝟐
) 𝐥𝐧(𝟐) −

𝝅𝟐

𝟒
𝒍𝒏𝟐(𝟐) +

𝟗

𝟐
𝜻(𝟑) 𝐥𝐧 (

𝟏

𝟐
) −

𝟕𝝅𝟒

𝟏𝟐𝟎
) 

∫
𝒍𝒏𝟑(𝒙 + 𝟏)

(𝟏 + 𝒙)(𝟑 + 𝒙)
𝒅𝒙

𝟏

𝟎

= −𝟑𝑳𝒊𝟒(−𝟐) −
𝝅𝟒

𝟐𝟒𝟎
−
𝟗

𝟒
𝜻(𝟑) 𝐥𝐧(𝟐) −

𝝅𝟐

𝟖
𝒍𝒏𝟐(𝟐) −

𝟏

𝟐
𝒍𝒏𝟒(𝟐) 

 

Solution 2 by Pham Duc Nam-Vietnam 

𝑰 = ∫
𝒍𝒏𝟑(𝒙 + 𝟏)

(𝟏 + 𝒙)(𝟑 + 𝒙)
𝒅𝒙

𝟏

𝟎

 

𝑳𝒆𝒕 ∶ 𝒙 =
𝟏

𝒕
− 𝟏 →   𝑰 = −∫

𝒍𝒏𝟑(𝒕)

𝟐𝒕 + 𝟏
𝒅𝒕

𝟏

𝟏
𝟐

= −∫
𝒍𝒏𝟑(𝒕)

𝟐𝒕 + 𝟏
𝒅(
𝟏

𝟐
𝐥𝐧(𝟐𝒕 + 𝟏)) =

𝟏

𝟏
𝟐

 

−
𝟏

𝟐
𝒍𝒏𝟒(𝟐) +

𝟑

𝟐
∫ 𝒍𝒏𝟐(𝒕)
𝟏

𝟏
𝟐

𝒅(−𝑳𝒊𝟐(−𝟐𝒕)) = 

−
𝟏

𝟐
𝒍𝒏𝟒(𝟐) +

𝟑

𝟐
(−

𝝅𝟐

𝟏𝟐
𝒍𝒏𝟐(𝟐) + 𝟐∫ 𝐥𝐧(𝒕) 𝒅(

𝟏

𝟏
𝟐

𝑳𝒊𝟑(−𝟐𝒕)) = 

−
𝟏

𝟐
𝒍𝒏𝟒(𝟐) −

𝝅𝟐

𝟖
𝒍𝒏𝟐(𝟐) + 𝟑(−

𝟑

𝟒
𝜻(𝟑) 𝐥𝐧(𝟐) − ∫ 𝒅

𝟏

𝟏
𝟐

(𝑳𝒊𝟒(−𝟐𝒕)) =  

−
𝟏

𝟐
𝒍𝒏𝟒(𝟐) −

𝝅𝟐

𝟖
𝒍𝒏𝟐(𝟐) −

𝟗

𝟒
𝜻(𝟑) 𝐥𝐧(𝟐) − 𝟑(𝑳𝒊𝟒(−𝟐) +

𝟕𝝅𝟒

𝟏𝟐𝟎
) = 

−𝟑𝑳𝒊𝟒(−𝟐) −
𝟕𝝅𝟒

𝟐𝟒𝟎
−
𝟗

𝟒
𝜻(𝟑) 𝐥𝐧(𝟐) −

𝝅𝟐

𝟖
𝒍𝒏𝟐(𝟐) −

𝟏

𝟐
𝒍𝒏𝟒(𝟐) 

 

Solution 3 by Shobhit Jain-India 

𝛀 = ∫
𝒍𝒏𝟑(𝟏 + 𝒙)

(𝟏 + 𝒙)(𝟑 + 𝒙)

𝟏

𝟎

𝒅𝒙 =⏟
𝒙→𝒙−𝟏

  ∫
𝒍𝒏𝟑𝒙

𝒙(𝟐 + 𝒙)

𝟐

𝟏

𝒅𝒙 =
𝟏

𝟐
∫
𝒍𝒏𝟑𝒙

𝒙

𝟐

𝟏

𝒅𝒙 −
𝟏

𝟐
∫
𝒍𝒏𝟑𝒙

(𝟐 + 𝒙)

𝟐

𝟏

𝒅𝒙 

=
𝒍𝒏𝟒𝟐

𝟖
−
𝟏

𝟒
∫𝒍𝒏𝟑𝒙

𝟐

𝟏

(𝟏 +
𝒙

𝟐
)
−𝟏

𝒅𝒙 =
𝒍𝒏𝟒𝟐

𝟖
+
𝟏

𝟐
∑
(−𝟏)𝒏

𝟐𝒏

∞

𝒏=𝟏

∫(𝒍𝒏𝟑𝒙

𝟐

𝟏

)𝒙𝒏−𝟏𝒅𝒙 

𝑵𝒐𝒘,   ∫(𝒍𝒏𝟑𝒙)𝒙𝒏−𝟏 𝒅𝒙 = (𝒍𝒏𝟑𝒙)
𝒙𝒏

𝒏
− 𝟑(𝒍𝒏𝟐𝒙)

𝒙𝒏

𝒏𝟐
+ 𝟔(𝒍𝒏𝒙)

𝒙𝒏

𝒏𝟑
− 𝟔

𝒙𝒏

𝒏𝟒
+ 𝑪 
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⇒ ∫(𝒍𝒏𝟑𝒙

𝟐

𝟏

)𝒙𝒏−𝟏𝒅𝒙 = (𝒍𝒏𝟑𝟐)
𝟐𝒏

𝒏
− 𝟑(𝒍𝒏𝟐𝟐)

𝟐𝒏

𝒏𝟐
+ 𝟔(𝒍𝒏𝟐)

𝟐𝒏

𝒏𝟑
− 𝟔

𝟐𝒏

𝒏𝟒
+
𝟔

𝒏𝟒
 

𝛀 =
𝒍𝒏𝟒𝟐

𝟖
+
𝟏

𝟐
∑((𝒍𝒏𝟑𝟐)

(−𝟏)𝒏

𝒏
− 𝟑(𝒍𝒏𝟐𝟐)

(−𝟏)𝒏

𝒏𝟐
+ 𝟔(𝒍𝒏𝟐)

(−𝟏)𝒏

𝒏𝟑
− 𝟔

(−𝟏)𝒏

𝒏𝟒

∞

𝒏=𝟏

+
𝟔(−𝟏)𝒏

𝒏𝟒𝟐𝒏
) 

    =
𝒍𝒏𝟒𝟐

𝟖
−
𝒍𝒏𝟒𝟐

𝟐
+
𝟑

𝟐
(𝒍𝒏𝟐𝟐)𝜼(𝟐) − 𝟑(𝒍𝒏𝟐)𝜼(𝟑) + 𝟑𝜼(𝟒) + 𝟑𝑳𝒊𝟒 (−

𝟏

𝟐
) 

    =
𝒍𝒏𝟒𝟐

𝟖
−
𝒍𝒏𝟒𝟐

𝟐
+
𝟑

𝟒
(𝒍𝒏𝟐𝟐)𝜻(𝟐) −

𝟗

𝟒
(𝒍𝒏𝟐)𝜻(𝟑) +

𝟐𝟏

𝟖
𝜻(𝟒) + 𝟑𝑳𝒊𝟒 (−

𝟏

𝟐
) 

    = −
𝟑

𝟖
𝒍𝒏𝟒(𝟐) +

𝝅𝟐

𝟖
(𝒍𝒏𝟐(𝟐)) −

𝟗

𝟒
𝐥𝐧 (𝟐)𝜻(𝟑) +

𝟕𝝅𝟒

𝟐𝟒𝟎
𝒍𝒏(𝟐) + 𝟑𝑳𝒊𝟒 (−

𝟏

𝟐
) 

 

Solution 4 by Cosghun Memmedov-Azerbaijan 

𝛀 = ∫
𝒍𝒏𝟑(𝟏 + 𝒙)

(𝟏 + 𝒙)(𝟑 + 𝒙)
𝒅𝒙

𝟏

𝟎

=
𝟏

𝟐
∫
𝒍𝒏𝟑(𝟏 + 𝒙)

(𝟏 + 𝒙)
𝒅𝒙

𝟏

𝟎⏟          
𝛀𝟏

−
𝟏

𝟐
∫
𝒍𝒏𝟑(𝟏 + 𝒙)

(𝟑 + 𝒙)
𝒅𝒙

𝟏

𝟎⏟          
𝛀𝟐

 

𝛀𝟏 = ∫
𝒍𝒏𝟑(𝟏 + 𝒙)

(𝟏 + 𝒙)
𝒅𝒙

𝟏

𝟎

=⏞
𝟏+𝒙→𝒙

∫
𝒍𝒏𝟑(𝒙)

𝒙
𝒅𝒙

𝟐

𝟏⏟        
𝑨

=⏞
𝑰𝑩𝑷

𝒍𝒏𝟒(𝟐) − 𝟑∫
𝒍𝒏𝟑(𝒙)

𝒙
𝒅𝒙

𝟐

𝟏⏟        
𝑨

 

𝑨 = 𝒍𝒏𝟒(𝟐) − 𝟑𝑨 →  𝛀𝟏 = 𝑨 =
𝒍𝒏𝟒(𝟐)

𝟒
 

𝛀𝟐 = ∫
𝒍𝒏𝟑(𝟏 + 𝒙)

(𝟑 + 𝒙)
𝒅𝒙 =⏞

𝟏+𝒙→𝒙𝟏

𝟎

∫
𝒍𝒏𝟑(𝒙)

𝟐 + 𝒙
𝒅𝒙

𝟐

𝟏

=
𝟏

𝟐
∑
(−𝟏)𝒏

𝟐𝒏

∞

𝒏=𝟎

∫ 𝒙𝒏
𝟐

𝟏

𝒍𝒏𝟑(𝒙)𝒅𝒙 =⏞
𝑰𝑩𝑷

 

𝒍𝒏𝟑(𝒙)∑
(−𝟏)𝒏

𝒏 + 𝟏

∞

𝒏=𝟎

− 𝟑𝒍𝒏𝟐(𝟐)∑
(−𝟏)𝒏

(𝒏 + 𝟏)𝟐

∞

𝒏=𝟎

+ 𝟔 𝐥𝐧(𝟐)∑
(−𝟏)𝒏

(𝒏 + 𝟏)𝟑

∞

𝒏=𝟎

− 𝟔∑
(−𝟏)𝒏

(𝒏 + 𝟏)𝟒

∞

𝒏=𝟎

+ 

𝟑∑
(−
𝟏
𝟐)

𝒏+𝟏

(𝒏 + 𝟏)𝟒

∞

𝒏=𝟎

= −
𝝅𝟐

𝟒
𝒍𝒏𝟐(𝟐) − 𝟔𝑳𝒊𝟒 (−

𝟏

𝟐
) +

𝟗

𝟐
𝜻(𝟑) 𝐥𝐧(𝟐) −

𝟕𝝅𝟒

𝟐𝟒𝟎
+ 𝒍𝒏𝟒(𝟐) 

𝛀 =
𝟏

𝟐
(𝛀𝟏 − 𝛀𝟐) = −𝟑𝑳𝒊𝟒(−𝟐) −

𝟕𝝅𝟒

𝟐𝟒𝟎
−
𝟗

𝟒
𝜻(𝟑) 𝐥𝐧(𝟐) −

𝝅𝟐

𝟖
𝒍𝒏𝟐(𝟐) −

𝟏

𝟐
𝒍𝒏𝟒(𝟐) 

 

Solution 5 by Quadri Faruk Temitope-Nigeria 

𝐈 = ∫
𝒍𝒏𝟑(𝟏 + 𝒙)

(𝟏 + 𝒙)(𝟑 + 𝒙)
𝒅𝒙

𝟏

𝟎
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𝑰 = ∫
𝒍𝒏𝟑(𝟏 + 𝒙)

(𝟏 + 𝒙)(𝟑 + 𝒙)
𝒅𝒙

𝟏

𝟎

=
𝟏

𝟐
∫
𝒍𝒏𝟑(𝟏 + 𝒙)

(𝟏 + 𝒙)
𝒅𝒙

𝟏

𝟎

−
𝟏

𝟐
∫
𝒍𝒏𝟑(𝟏 + 𝒙)

(𝟑 + 𝒙)
𝒅𝒙

𝟏

𝟎

 

𝑳𝒆 ∶   𝟏 + 𝒙 = 𝒑 →   𝒅𝒙 = 𝒅𝒑,   𝑰 =
𝟏

𝟐
∫
𝒍𝒏𝟑(𝒑)

(𝒑)
𝒅𝒑

𝟐

𝟏

−
𝟏

𝟐
∫
𝒍𝒏𝟑(𝒑)

(𝒑 + 𝟐)
𝒅𝒑

𝟐

𝟏

 

𝑰 =
𝟏

𝟐
.
𝟏

𝟒
𝒍𝒏𝟒(𝒑)|

𝟐

𝟏
−
𝟏

𝟐
∑
(−𝟏)𝒏

𝟐𝟏+𝒏

∞

𝒏=𝟎

∫ 𝒑𝒏
𝟐

𝟏

𝒍𝒏𝟑(𝒑)𝒅𝒑,

𝑰 =
𝟏

𝟖
𝒍𝒏𝟒(𝟐) −

𝟏

𝟐
∑
(−𝟏)𝒏−𝟏

𝟐𝒏
∫ 𝒑𝒏−𝟏
𝟐

𝟏

∞

𝒏=𝟏

𝒍𝒏𝟑(𝒑)𝒅𝒑 

𝑰 =
𝟏

𝟖
𝒍𝒏𝟒(𝟐) +

𝟏

𝟐
∑
(−𝟏)𝒏

𝟐𝒏

∞

𝒏=𝟏

[
𝟔

𝒏𝟒
−
𝟔. 𝟐𝒏

𝒏𝟒
+
𝟔. 𝟐𝒏 𝐥𝐧(𝟐)

𝒏𝟑
− 𝟑𝒍𝒏𝟐(𝟐)

𝟐𝒏

𝒏𝟐
+ 𝒍𝒏𝟑(𝟐)

𝟐𝒏

𝒏
] 

𝑰 = −𝟑𝑳𝒊𝟒(−𝟐) −
𝟕𝝅𝟒

𝟐𝟒𝟎
−
𝟗

𝟒
𝜻(𝟑) 𝐥𝐧(𝟐) −

𝝅𝟐

𝟖
𝒍𝒏𝟐(𝟐) −

𝟏

𝟐
𝒍𝒏𝟒(𝟐) 

 

Solution 6 by Obiajunwa Januarius-Nigeria 

∫
𝒍𝒏𝟑(𝟏 + 𝒙)

(𝟏 + 𝒙)(𝟑 + 𝒙)
𝒅𝒙

𝟏

𝟎

=
𝟏

𝟐
∫
𝒍𝒏𝟑(𝟏 + 𝒙)

(𝟏 + 𝒙)
𝒅𝒙

𝟏

𝟎

−
𝟏

𝟐
∫
𝒍𝒏𝟑(𝟏 + 𝒙)

(𝟑 + 𝒙)
𝒅𝒙

𝟏

𝟎

= 

𝟏

𝟐
𝐥𝐢𝐦
𝒏→−𝟏

∫ (𝟏 + 𝒙)𝒏
𝟏

𝟎

𝒍𝒏𝟑(𝟏 + 𝒙)𝒅𝒙 −
𝟏

𝟒
∫
𝒍𝒏𝟑(𝟏 + 𝒙)

𝟏 +
𝟏 + 𝒙
𝟐

𝒅𝒙 =
𝟏

𝟎

 

𝟏

𝟐
𝐥𝐢𝐦
𝒏→−𝟏

𝝏𝟑

𝝏𝒏𝟑
[∫ (𝟏 + 𝒙)𝒏𝒅𝒙

𝟏

𝟎

] −
𝟏

𝟒
∑
(−𝟏)𝒏

𝟐𝒏

∞

𝒏=𝟎

∫ (𝟏 + 𝒙)𝒏𝒍𝒏𝟑(𝟏 + 𝒙)𝒅𝒙
𝟏

𝟎

= 

𝟏

𝟐
𝐥𝐢𝐦
𝒏→−𝟏

𝝏𝟑

𝝏𝒏𝟑
[
(𝟏 + 𝒙)𝒏+𝟏

𝒏 + 𝟏
|
𝟏

𝟎
] −
𝟏

𝟒
∑
(−𝟏)𝒏

𝟐𝒏
𝝏𝟑

𝝏𝒏𝟑
[
(𝟏 + 𝒙)𝒏+𝟏

𝒏 + 𝟏
|
𝟏

𝟎
] =

∞

𝒏=𝟎

 

𝟏

𝟐
𝐥𝐢𝐦
𝒏→−𝟏

𝝏𝟑

𝝏𝒏𝟑
[
𝟐𝒏+𝟏

𝒏 + 𝟏
−

𝟏

𝒏 + 𝟏
] −
𝟏

𝟒
∑
(−𝟏)𝒏

𝟐𝒏
𝝏𝟑

𝝏𝒏𝟑
[
𝟐𝒏+𝟏

𝒏 + 𝟏
−

𝟏

𝒏 + 𝟏
] =

∞

𝒏=𝟎

 

𝟏

𝟐
𝐥𝐢𝐦
𝒏→𝟏

[
𝟔

(𝒏 + 𝟏)𝟒
−
𝟏𝟐. 𝟐𝒏

(𝒏 + 𝟏)𝟒
+
𝟏𝟐. 𝐥𝐧(𝟐) . 𝟐𝒏

(𝒏 + 𝟏)𝟑
−
𝟔𝒍𝒏𝟐(𝟐)𝟐𝒏

(𝒏 + 𝟏)𝟐
+
𝟐𝒍𝒏𝟑(𝟐)𝟐𝒏

𝒏 + 𝟏
] − 

𝟔

𝟒
∑
(−𝟏)𝒏

𝟐𝒏

∞

𝒏=𝟎

𝟏

(𝒏 + 𝟏)𝟒
+
𝟏𝟐

𝟒
∑
(−𝟏)𝒏

𝟐𝒏

∞

𝒏=𝟎

𝟐𝒏

(𝒏 + 𝟏)𝟒
−
𝟏𝟐

𝟒
∑
(−𝟏)𝒏

𝟐𝒏

∞

𝒏=𝟎

𝟐𝒏 𝐥𝐧(𝟐)

(𝒏 + 𝟏)𝟑
+ 

𝟔

𝟒
𝒍𝒏𝟐(𝟐)∑

(−𝟏)𝒏

𝟐𝒏

∞

𝒏=𝟎

𝟐𝒏

(𝒏 + 𝟏)𝟐
−
𝟐

𝟒
𝒍𝒏𝟐(𝟐)∑

(−𝟏)𝒏

𝟐𝒏

∞

𝒏=𝟎

𝟐𝒏

(𝒏 + 𝟏)
 

𝑬𝒙𝒕𝒆𝒏𝒅𝒆𝒅   𝑳′𝑯𝒐𝒑𝒊𝒕𝒂𝒍′𝒔   𝒓𝒖𝒍𝒆 ∶ 

𝐥𝐢𝐦
𝒏→𝒑

𝒇(𝒙)

𝒈(𝒙)
= 𝐥𝐢𝐦
𝒏→𝒑

𝒇𝒏(𝒙)

𝒈𝒏(𝒙)
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Ω =
𝟏

𝟐
𝐥𝐢𝐦
𝒏→−𝟏

[−
𝟏𝟐

𝟒!
𝟐𝒏𝒍𝒏𝟒(𝟐) +

𝟏𝟐

𝟑!
𝐥𝐧(𝟐) . 𝟐𝒏𝒍𝒏𝟑(𝟐) −

𝟔

𝟐!
𝒍𝒏𝟐(𝟐)𝟐𝒏𝒍𝒏𝟐(𝟐)

+ 𝟐𝒍𝒏𝟑(𝟐)𝟐𝒏 𝐥𝐧(𝟐)] + 

𝟑∑
(−𝟏)𝒏+𝟏

𝟐𝒏+𝟏(𝒏 + 𝟏)𝟒

∞

𝒏=𝟎

+ 𝟑∑
(−𝟏)𝒏

(𝒏 + 𝟏)𝟒

∞

𝒏=𝟎

− 𝟑 𝐥𝐧(𝟐)∑
(−𝟏)𝒏

(𝒏 + 𝟏)𝟑

∞

𝒏=𝟎

+ 

𝟑

𝟐
𝒍𝒏𝟐(𝟐)∑

(−𝟏)𝒏

(𝒏 + 𝟏)𝟐
−
𝒍𝒏𝟑(𝟐)

𝟐

∞

𝒏=𝟎

∑
(−𝟏)𝒏

𝒏 + 𝟏
=
𝟏

𝟐
[−

∞

𝒏=𝟎

𝒍𝒏𝟒(𝟐)

𝟒
+ 𝒍𝒏𝟒(𝟐) −

𝟑

𝟑
𝒍𝒏𝟒(𝟐) + 𝒍𝒏𝟒(𝟐)]

+ 

𝟑𝑳𝒊𝟒 (−
𝟏

𝟐
) + 𝟑𝜼(𝟒) − 𝟑 𝐥𝐧(𝟐) 𝜼(𝟑) +

𝟑

𝟐
𝒍𝒏𝟐(𝟐)𝜼(𝟐) −

𝒍𝒏𝟒(𝟐)

𝟐
 

Ω =
𝒍𝒏𝟒(𝟐)

𝟖
+ 𝟑𝑳𝒊𝟒 (−

𝟏

𝟐
) +

𝟐𝟏

𝟖
𝜻(𝟒) −

𝟗

𝟒
𝐥𝐧(𝟐) 𝜻(𝟑) +

𝟑

𝟒
𝒍𝒏𝟐(𝟐)𝜻(𝟐) −

𝒍𝒏𝟒(𝟐)

𝟐
 

Ω = −𝟑𝑳𝒊𝟒(−𝟐) −
𝟕𝝅𝟒

𝟐𝟒𝟎
−
𝟗

𝟒
𝜻(𝟑) 𝐥𝐧(𝟐) −

𝝅𝟐

𝟖
𝒍𝒏𝟐(𝟐) −

𝟏

𝟐
𝒍𝒏𝟒(𝟐) 

 

2550. Find: 

∫
𝒙|𝐥𝐧 (𝒙)|

(𝒙𝟐 + 𝟏)(𝒙𝟐 + 𝒙 + 𝟏)
𝒅𝒙

∞

𝟎

 

 
Proposed by Vasile Mircea Popa-Romania 

Solution by Kartick Chandra Betal-India 
 

𝑰 = ∫
𝒙|𝐥𝐧 (𝒙)|

(𝒙𝟐 + 𝟏)(𝒙𝟐 + 𝒙 + 𝟏)
𝒅𝒙

∞

𝟎

= −∫
𝒙𝒍𝒏(𝒙)

(𝒙𝟐 + 𝟏)(𝒙𝟐 + 𝒙+ 𝟏)
𝒅𝒙 +∫

𝒙𝒍𝒏(𝒙)

(𝒙𝟐 + 𝟏)(𝒙𝟐 + 𝒙 + 𝟏)
𝒅𝒙 =

∞

𝟏

𝟏

𝟎

 

−𝟐∫
𝒙𝒍𝒏(𝒙)

(𝒙𝟐 + 𝟏)(𝒙𝟐 + 𝒙 + 𝟏)
𝒅𝒙 = −𝟐∫ {

𝟏

𝟏 + 𝒙𝟐
−

𝟏

𝒙𝟐 + 𝒙 + 𝟏
} 𝐥𝐧(𝒙) =

𝟏

𝟎

𝟏

𝟎

 

𝟐∫ {
𝟏 − 𝒙

𝟏 − 𝒙𝟑
−
𝟏 − 𝒙𝟐

𝟏 − 𝒙𝟒
} 𝐥𝐧 (𝒙)

𝟏

𝟎

=
𝟐

𝟗
∫
𝒙
𝟏
𝟑
−𝟏 − 𝒙

𝟐
𝟑
−𝟏

𝟏 − 𝒙
𝒍𝒏(𝒙)𝒅𝒙 −

𝟐

𝟏𝟔
∫
𝒙
𝟏
𝟒
−𝟏 − 𝒙

𝟐
𝟒
−𝟏

𝟏 − 𝒙
𝒍𝒏(𝒙)𝒅𝒙 =

𝟏

𝟎

𝟏

𝟎

 

𝟐

𝟗
{𝝍′ (

𝟐

𝟑
) − 𝝍′ (

𝟏

𝟑
)} −

𝟏

𝟖
{𝝍′ (

𝟑

𝟒
) − 𝝍′ (

𝟏

𝟒
)} = 

𝟐

𝟗
[
𝝏

𝝏𝒙
(𝝅𝒄𝒕𝒈(𝝅𝒙))]

𝒙=
𝟏
𝟑

−
𝟏

𝟖
[
𝝏

𝝏𝒙
(𝝅𝒄𝒕𝒈(𝝅𝒙))]

𝒙=
𝟏
𝟒

=
𝟐

𝟗
𝝅𝟐 (−𝒄𝒐𝒔𝒆𝒄𝟐 (

𝝅

𝟑
)) −

𝟏

𝟖
𝝅𝟐 (−𝒄𝒐𝒔𝒆𝒄𝟐 (

𝝅

𝟒
)) = 
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=
𝝅𝟐

𝟒
−
𝟖𝝅𝟐

𝟐𝟕
= −

𝟓𝝅𝟐

𝟏𝟎𝟖
 

2551. 
𝑾𝒆 𝒄𝒐𝒏𝒔𝒊𝒅𝒆𝒓 𝒕𝒉𝒆 𝒇𝒖𝒏𝒄𝒕𝒊𝒐𝒏 𝒇: 𝑹 → 𝑹 

𝒇(𝒙) = {

𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)

𝒙(𝒙𝟐 + 𝒙 + 𝟏)
, 𝒊𝒇  𝒙 ∈ 𝑹\{𝟎}

𝟏, 𝒊𝒇  𝒙 = 𝟎

 

𝑭𝒊𝒏𝒅  𝛀 = ∫ 𝒇(𝒙)𝒅𝒙

∞

−∞

 

Proposed by Vasile Mircea Popa-Romania 
Solution by Shobhit Jain-India 

𝛀 = ∫ 𝒇(𝒙)𝒅𝒙

∞

−∞

= ∫ 𝒇(𝒙)

∞

𝟎

𝒅𝒙 +∫ 𝒇(−𝒙)

∞

𝟎

𝒅𝒙 = 𝛀𝟏 +𝛀𝟐 

𝛀𝟏 = ∫ 𝒇(𝒙)

∞

𝟎

𝒅𝒙 = ∫𝒇(𝒙)

𝟏

𝟎

𝒅𝒙 + ∫ 𝒇(𝒙)

∞

𝟏

𝒅𝒙 

𝒖𝒔𝒆, ∫ 𝒇(𝒙)

∞

𝟏

𝒅𝒙 = ∫
𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)

𝒙(𝒙𝟐 + 𝒙 + 𝟏)

∞

𝟏

𝒅𝒙 =⏟

𝒙→
𝟏
𝒙

  ∫
𝒙𝐚𝐫𝐜𝐭𝐚𝐧 (

𝟏
𝒙)

(𝒙𝟐 + 𝒙 + 𝟏)

𝟏

𝟎

𝒅𝒙

= ∫
𝒙(
𝝅
𝟐 − 𝐚𝐫𝐜𝐭𝐚𝐧

(𝒙))

(𝒙𝟐 + 𝒙 + 𝟏)

𝟏

𝟎

𝒅𝒙 

𝑻𝒉𝒆𝒓𝒆𝒇𝒐𝒓𝒆, 𝛀𝟏 =
𝝅

𝟐
∫

𝒙

(𝒙𝟐 + 𝒙 + 𝟏)

𝟏

𝟎

𝒅𝒙 + ∫
(𝟏 − 𝒙𝟐) 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)

𝒙(𝒙𝟐 + 𝒙 + 𝟏)

𝟏

𝟎

𝒅𝒙 

𝑵𝒐𝒘, ∫
𝒙

(𝒙𝟐 + 𝒙 + 𝟏)

𝟏

𝟎

𝒅𝒙 =
𝟏

𝟐
∫

𝟐𝒙 + 𝟏

(𝒙𝟐 + 𝒙 + 𝟏)

𝟏

𝟎

𝒅𝒙 −
𝟏

𝟐
∫

𝟏

(𝒙𝟐 + 𝒙 + 𝟏)

𝟏

𝟎

𝒅𝒙

= [
𝟏

𝟐
𝒍𝒏(𝒙𝟐 + 𝒙 + 𝟏) −

𝟏

√𝟑
𝒂𝒓𝒄𝒕𝒂𝒏 (

𝟐𝒙 + 𝟏

√𝟑
)]
𝟎

𝟏

=
𝒍𝒏𝟑

𝟐
−
𝝅

𝟔√𝟑
 

𝑻𝒉𝒆𝒓𝒆𝒇𝒐𝒓𝒆, 𝛀𝟏 =
𝝅

𝟐
(
𝒍𝒏𝟑

𝟐
−
𝝅

𝟔√𝟑
) + ∫

(𝟏 − 𝒙𝟐) 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)

𝒙(𝒙𝟐 + 𝒙 + 𝟏)

𝟏

𝟎

𝒅𝒙 =
𝝅𝒍𝒏𝟑

𝟒
−

𝝅𝟐

𝟏𝟐√𝟑
+ 𝑱 

 𝑱 = ∫
(𝟏 − 𝒙𝟐) 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)

𝒙(𝒙𝟐 + 𝒙 + 𝟏)

𝟏

𝟎

𝒅𝒙 = ∫𝒕𝒂𝒏−𝟏𝒙 (
𝟏

𝒙
−

𝟐𝒙 + 𝟏

𝒙𝟐 + 𝒙 + 𝟏
)

𝟏

𝟎

𝒅𝒙 = 
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= ∫𝒕𝒂𝒏−𝟏𝒙

𝟏

𝟎

𝒅 [𝒍𝒏(
𝒙

𝒙𝟐 + 𝒙 + 𝟏
)] = −

𝝅𝒍𝒏𝟑

𝟒
+∫

𝒍𝒏(𝒙 +
𝟏
𝒙 + 𝟏)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 = −
𝝅𝒍𝒏𝟑

𝟒
+ 𝑷 

𝑻𝒉𝒆𝒓𝒆𝒇𝒐𝒓𝒆, 𝛀𝟏 =
𝝅𝒍𝒏𝟑

𝟒
−

𝝅𝟐

𝟏𝟐√𝟑
+ (−

𝝅𝒍𝒏𝟑

𝟒
+ 𝑷) = 𝑷 −

𝝅𝟐

𝟏𝟐√𝟑
 

𝑵𝒐𝒘, 𝑷 = ∫
𝒍𝒏(𝒙 +

𝟏
𝒙 + 𝟏)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 =⏟

𝒙→
𝟏−𝒙
𝟏+𝒙

  ∫
𝒍𝒏(

𝟑 + 𝒙𝟐

𝟏 − 𝒙𝟐
)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙

= ∫
𝒍𝒏(𝟑 + 𝒙𝟐)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙

⏟          
𝑨

−∫
𝒍𝒏(𝟏 − 𝒙𝟐)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙

⏟          
𝑩

 

⇒  𝛀𝟏 = 𝑨 −𝑩 −
𝝅𝟐

𝟏𝟐√𝟑
 

𝛀𝟐 = ∫ 𝒇(−𝒙)

∞

𝟎

𝒅𝒙 = ∫𝒇(−𝒙)

𝟏

𝟎

𝒅𝒙 +∫ 𝒇(−𝒙)

∞

𝟏

𝒅𝒙 

𝒖𝒔𝒆, ∫ 𝒇(−𝒙)

∞

𝟏

𝒅𝒙 = ∫
𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)

𝒙(𝒙𝟐 − 𝒙 + 𝟏)

∞

𝟏

𝒅𝒙 =⏟

𝒙→
𝟏
𝒙

  ∫
𝒙𝐚𝐫𝐜𝐭𝐚𝐧 (

𝟏
𝒙)

(𝒙𝟐 − 𝒙 + 𝟏)

𝟏

𝟎

𝒅𝒙

= ∫
𝒙(
𝝅
𝟐 − 𝐚𝐫𝐜𝐭𝐚𝐧

(𝒙))

(𝒙𝟐 − 𝒙 + 𝟏)

𝟏

𝟎

𝒅𝒙 

𝑻𝒉𝒆𝒓𝒆𝒇𝒐𝒓𝒆, 𝛀𝟐 =
𝝅

𝟐
∫

𝒙

(𝒙𝟐 − 𝒙 + 𝟏)

𝟏

𝟎

𝒅𝒙 + ∫
(𝟏 − 𝒙𝟐) 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)

𝒙(𝒙𝟐 − 𝒙 + 𝟏)

𝟏

𝟎

𝒅𝒙 

𝑵𝒐𝒘, ∫
𝒙

(𝒙𝟐 − 𝒙 + 𝟏)

𝟏

𝟎

𝒅𝒙 =
𝟏

𝟐
∫

𝟐𝒙 − 𝟏

(𝒙𝟐 − 𝒙 + 𝟏)

𝟏

𝟎

𝒅𝒙 +
𝟏

𝟐
∫

𝟏

(𝒙𝟐 − 𝒙 + 𝟏)

𝟏

𝟎

𝒅𝒙

= [
𝟏

𝟐
𝒍𝒏(𝒙𝟐 − 𝒙 + 𝟏) +

𝟏

√𝟑
𝒂𝒓𝒄𝒕𝒂𝒏 (

𝟐𝒙 − 𝟏

√𝟑
)]
𝟎

𝟏

=
𝝅

𝟑√𝟑
 

𝑻𝒉𝒆𝒓𝒆𝒇𝒐𝒓𝒆, 𝛀𝟐 =
𝝅

𝟐
(
𝝅

𝟑√𝟑
) + ∫

(𝟏 − 𝒙𝟐) 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)

𝒙(𝒙𝟐 + 𝒙 + 𝟏)

𝟏

𝟎

𝒅𝒙 =
𝝅𝟐

𝟔√𝟑
+𝑲 

𝑵𝒐𝒘, 𝑲 = ∫
(𝟏 − 𝒙𝟐) 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)

𝒙(𝒙𝟐 − 𝒙 + 𝟏)

𝟏

𝟎

𝒅𝒙 = ∫𝒕𝒂𝒏−𝟏𝒙 (
𝟏

𝒙
−

𝟐𝒙 − 𝟏

𝒙𝟐 − 𝒙 + 𝟏
)

𝟏

𝟎

𝒅𝒙

= ∫𝒕𝒂𝒏−𝟏𝒙

𝟏

𝟎

𝒅 [𝒍𝒏(
𝒙

𝒙𝟐 − 𝒙 + 𝟏
)] = ∫

𝒍𝒏(𝒙 +
𝟏
𝒙 − 𝟏)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 
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𝑲 = ∫
𝒍𝒏(𝒙 +

𝟏
𝒙 − 𝟏)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 =⏟

𝒙→
𝟏−𝒙
𝟏+𝒙

  ∫
𝒍𝒏 (

𝟏 + 𝟑𝒙𝟐

𝟏 − 𝒙𝟐
)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙

= ∫
𝒍𝒏(𝟏 + 𝟑𝒙𝟐)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙

⏟            
𝑹

−∫
𝒍𝒏(𝟏 − 𝒙𝟐)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙

⏟          
𝑩

 

⇒  𝛀𝟐 = 𝑹 −𝑩+
𝝅𝟐

𝟔√𝟑
 

𝑵𝒐𝒘, 𝛀 =  𝛀𝟏 +  𝛀𝟐 = 𝑨 + 𝑹 − 𝟐𝑩 +
𝝅𝟐

𝟏𝟐√𝟑
 

𝑩 = ∫
𝒍𝒏(𝟏 − 𝒙𝟐)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 =⏟
𝒙→𝒕𝒂𝒏𝜽

∫ 𝒍𝒏 (
𝒄𝒐𝒔𝟐𝜽

𝒄𝒐𝒔𝟐𝜽
)

𝝅
𝟒

𝟎

𝒅𝜽 = 

= ∫ 𝐥𝐧 (𝟐𝒄𝒐𝒔𝟐𝜽)

𝝅
𝟒

𝟎

𝒅𝜽 +∫ 𝐥𝐧 𝟐

𝝅
𝟒

𝟎

𝒅𝜽 − 𝟐∫ 𝐥𝐧 (𝟐𝒄𝒐𝒔𝜽)

𝝅
𝟒

𝟎

𝒅𝜽 

∫ 𝐥𝐧 (𝟐𝒄𝒐𝒔𝟐𝜽)

𝝅
𝟒

𝟎

𝒅𝜽 =⏟

𝜽→
𝜽
𝟒

 
𝟏

𝟒
∫ 𝐥𝐧 (𝟐𝒄𝒐𝒔

𝜽

𝟐
)

𝝅

𝟎

𝒅𝜽 =
𝟏

𝟒
∑
(−𝟏)𝒏−𝟏

𝒏

∞

𝒏=𝟏

∫𝐜𝐨𝐬(𝒏𝜽)

𝝅

𝟎

𝒅𝜽 = 𝟎 

∫ 𝐥𝐧 (𝟐𝒄𝒐𝒔𝜽)

𝝅
𝟒

𝟎

𝒅𝜽 =⏟

𝜽→
𝜽
𝟐

 
𝟏

𝟐
∫ 𝐥𝐧 (𝟐𝒄𝒐𝒔

𝜽

𝟐
)

𝝅
𝟐

𝟎

𝒅𝜽 =
𝟏

𝟐
∑
(−𝟏)𝒏−𝟏

𝒏

∞

𝒏=𝟏

∫𝐜𝐨𝐬(𝒏𝜽)

𝝅
𝟐

𝟎

𝒅𝜽

=
𝟏

𝟐
∑
(−𝟏)𝒏−𝟏𝒔𝒊𝒏 (

𝒏𝝅
𝟐 )

𝒏𝟐
=
𝑮

𝟐

∞

𝒏=𝟏

⇒ 𝑩 =
𝝅

𝟒
𝒍𝒏𝟐 − 𝑮                 

           𝑮 = 𝑪𝒂𝒕𝒂𝒍𝒂𝒏′𝒔 𝑪𝒐𝒏𝒔𝒕𝒂𝒏𝒕 

𝑹 = ∫
𝒍𝒏(𝟏 + 𝟑𝒙𝟐)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 = 𝟐∫
𝒍𝒏(𝒙)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 + ∫
𝒍𝒏 (

𝟏
𝒙𝟐
+ 𝟑)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙

= −𝟐𝑮+ ∫
𝒍𝒏(𝒚𝟐 + 𝟑)

𝟏 + 𝒚𝟐

∞

𝟏

𝒅𝒚   (𝒚 =
𝟏

𝒙
) 

⇒ 𝑨+𝑹 = ∫
𝒍𝒏(𝟑 + 𝒙𝟐)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 + ∫
𝒍𝒏(𝒚𝟐 + 𝟑)

𝟏 + 𝒚𝟐

∞

𝟏

𝒅𝒚 − 𝟐𝑮 = ∫
𝒍𝒏(𝒚𝟐 + 𝟑)

𝟏 + 𝒚𝟐

∞

𝟎

𝒅𝒚 − 𝟐𝑮 

⇒ 𝛀 = 𝑨 +𝑹 − 𝟐𝑩 +
𝝅𝟐

𝟏𝟐√𝟑
= ∫

𝒍𝒏(𝒚𝟐 + 𝟑)

𝟏 + 𝒚𝟐

∞

𝟎

𝒅𝒚 −
𝝅

𝟐
𝒍𝒏𝟐 +

𝝅𝟐

𝟏𝟐√𝟑
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𝑵𝒐𝒘 𝒖𝒔𝒆,∫
𝒍𝒏(𝒚𝟐 + 𝒂𝟐)

𝒚𝟐 + 𝒃𝟐

∞

𝟎

𝒅𝒚 =
𝝅

|𝒃|
𝒍𝒏(|𝒂| + |𝒃|) 

⇒ 𝛀 = 𝛑𝒍𝒏(𝟏 + √𝟑) −
𝝅

𝟐
𝒍𝒏𝟐 +

𝝅𝟐

𝟏𝟐√𝟑
 

2552. Prove that: 

∫
𝒙𝒍𝒏(𝟏 + 𝒙)

(𝒙𝟐 + 𝟏)(𝒙 + 𝟏)(𝟐𝒙 + 𝟏)

∞

𝟎

𝒅𝒙 =
𝟏

𝟒𝟖𝟎
(𝟏𝟒𝟒𝑮 − 𝟏𝟗𝝅𝟐 + 𝟗𝟔𝒍𝒏𝟐𝟐 + 𝟑𝟔𝝅𝒍𝒏𝟐) 

  𝑮 𝒊𝒔 𝒕𝒉𝒆 𝑪𝒂𝒕𝒂𝒍𝒂𝒏′𝒔 𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕 
Proposed by Cosghun Memmedov-Azerbaijan 

Solution by Shobhit Jain-India 
 

𝑰 = ∫
𝒙𝒍𝒏(𝟏 + 𝒙)

(𝒙𝟐 + 𝟏)(𝒙 + 𝟏)(𝟐𝒙 + 𝟏)

∞

𝟎

𝒅𝒙 = ∫
𝒍𝒏(𝟏 + 𝒙)

𝟏𝟎

∞

𝟎

(
𝟓

𝟏 + 𝒙
−

𝟖

𝟏 + 𝟐𝒙
−

𝒙

𝟏 + 𝒙𝟐
+

𝟑

𝟏 + 𝒙𝟐
)𝒅𝒙 = 

= ∫
𝒍𝒏(𝟏 + 𝒙)

𝟏𝟎

∞

𝟎

(
𝟓

𝟏 + 𝒙
−

𝟖

𝟏 + 𝟐𝒙
−

𝒙

𝟏 + 𝒙𝟐
)𝒅𝒙 +

𝟑

𝟏𝟎
∫
𝒍𝒏(𝟏 + 𝒙)

(𝒙𝟐 + 𝟏)
𝒅𝒙

∞

𝟎

= 

=
𝟏

𝟏𝟎
∫ 𝒈(𝒙) 𝒍𝒏(𝟏 + 𝒙)𝒅𝒙

∞

𝟎

+
𝟑

𝟏𝟎
∫
𝒍𝒏(𝟏 + 𝒙)

(𝒙𝟐 + 𝟏)
𝒅𝒙

∞

𝟎

 

𝒉𝒆𝒓𝒆,   𝒈(𝒙) =
𝟓

𝟏 + 𝒙
−

𝟖

𝟏 + 𝟐𝒙
−

𝒙

𝟏 + 𝒙𝟐
 

 ∫
𝒍𝒏(𝟏 + 𝒙)

(𝒙𝟐 + 𝟏)
𝒅𝒙

∞

𝟎

= ∫
𝒍𝒏(𝟏 + 𝒙)

(𝒙𝟐 + 𝟏)
𝒅𝒙

𝟏

𝟎

+∫
𝒍𝒏(𝟏 + 𝒚)

(𝒚𝟐 + 𝟏)
𝒅𝒚

∞

𝟏

=⏟

𝒚→
𝟏
𝒙

 ∫
𝒍𝒏(𝟏 + 𝒙)

(𝒙𝟐 + 𝟏)
𝒅𝒙

𝟏

𝟎

+∫
𝒍𝒏(𝟏 +

𝟏
𝒙
)

(𝒙𝟐 + 𝟏)
𝒅𝒙

𝟏

𝟎

 

= 𝟐∫
𝒍𝒏(𝟏 + 𝒙)

(𝒙𝟐 + 𝟏)
𝒅𝒙

𝟏

𝟎

+∫
𝒍𝒏(

𝟏
𝒙
)

(𝒙𝟐 + 𝟏)
𝒅𝒙

𝟏

𝟎

 

  𝟐∫
𝒍𝒏(𝟏 + 𝒙)

(𝒙𝟐 + 𝟏)
𝒅𝒙

𝟏

𝟎

=⏟

𝒙→
𝟏−𝒙
𝟏+𝒙

  𝟐∫
𝒍𝒏(

𝟐
𝟏 + 𝒙

)

(𝒙𝟐 + 𝟏)
𝒅𝒙

𝟏

𝟎

= ∫
𝒍𝒏(𝟏 + 𝒙) + 𝒍𝒏 (

𝟐
𝟏 + 𝒙

)

(𝒙𝟐 + 𝟏)
𝒅𝒙

𝟏

𝟎

= ∫
𝒍𝒏𝟐

(𝒙𝟐 + 𝟏)
𝒅𝒙

𝟏

𝟎

=
𝝅

𝟒
𝒍𝒏𝟐 

𝑨𝒏𝒅,   ∫
𝒍𝒏 (

𝟏
𝒙
)

(𝒙𝟐 + 𝟏)
𝒅𝒙

𝟏

𝟎

= ∫𝒍𝒏(
𝟏

𝒙
)(𝟏 − 𝒙𝟐 + 𝒙𝟒 − ……… )𝒅𝒙

𝟏

𝟎

= (
𝟏

𝟏𝟐
−
𝟏

𝟑𝟐
+
𝟏

𝟓𝟐
− …… ) = 𝑮 

⟹∫
𝒍𝒏(𝟏 + 𝒙)

(𝒙𝟐 + 𝟏)
𝒅𝒙

∞

𝟎

=
𝝅

𝟒
𝒍𝒏𝟐 + 𝑮 
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⟹ 𝑰 =
𝟏

𝟏𝟎
∫ 𝒈(𝒙) 𝒍𝒏(𝟏 + 𝒙)𝒅𝒙

∞

𝟎

+
𝟑

𝟏𝟎
(
𝝅

𝟒
𝒍𝒏𝟐 + 𝑮)

=  
𝟏

𝟏𝟎
∫ 𝒈(𝒙) 𝒍𝒏(𝟏 + 𝒙)𝒅𝒙

∞

𝟎

+
𝟏

𝟒𝟖𝟎
(𝟑𝟔𝝅𝒍𝒏𝟐+ 𝟏𝟒𝟒𝑮) 

𝑵𝒐𝒘,   ∫ 𝒈(𝒙) 𝒍𝒏(𝟏 + 𝒙)𝒅𝒙

∞

𝟎

= ∫𝒈(𝒙) 𝒍𝒏(𝟏 + 𝒙)𝒅𝒙

𝟏

𝟎

+∫ 𝒈(𝒚) 𝒍𝒏(𝟏 + 𝒚)𝒅𝒚

∞

𝟏

 

=⏟

𝒚→
𝟏
𝒙

∫𝒈(𝒙) 𝒍𝒏(𝟏 + 𝒙)𝒅𝒙

𝟏

𝟎

+∫
𝟏

𝒙𝟐
𝒈(
𝟏

𝒙
) 𝒍𝒏 (𝟏 +

𝟏

𝒙
)𝒅𝒙

𝟏

𝟎

= ∫𝒍𝒏(𝟏 + 𝒙)(𝒈(𝒙) +
𝟏

𝒙𝟐
𝒈(
𝟏

𝒙
))𝒅𝒙

𝟏

𝟎⏟                      
𝑨

−∫(𝒍𝒏𝒙)(
𝟏

𝒙𝟐
𝒈(
𝟏

𝒙
))𝒅𝒙

𝟏

𝟎⏟              
𝑩

 

⟹ 𝑰 =
𝟏

𝟏𝟎
(𝑨 − 𝑩) +

𝟏

𝟒𝟖𝟎
(𝟑𝟔𝝅𝒍𝒏𝟐 + 𝟏𝟒𝟒𝑮).   𝑵𝒐𝒘,   𝒈(𝒙) =

𝟓

𝟏+𝒙
−

𝟖

𝟏+𝟐𝒙
−

𝒙

𝟏+𝒙𝟐
 

⟹ 
𝟏

𝒙𝟐
𝒈(
𝟏

𝒙
) =

𝟓

𝒙(𝟏 + 𝒙)
−

𝟖

𝒙(𝒙 + 𝟐)
−

𝟏

𝒙(𝟏 + 𝒙𝟐)
=

𝟒

𝒙 + 𝟐
−

𝟓

𝟏 + 𝒙
+

𝒙

𝟏 + 𝒙𝟐
 

⟹  𝒈(𝒙) +
𝟏

𝒙𝟐
𝒈(
𝟏

𝒙
) =

𝟒

𝒙 + 𝟐
−

𝟖

𝟏 + 𝟐𝒙
=

−𝟏𝟐

(𝒙 + 𝟐)(𝟏 + 𝟐𝒙)
 

⟹ 𝑨 = −𝟏𝟐∫
𝒍𝒏(𝟏 + 𝒙)

(𝒙 + 𝟐)(𝟏 + 𝟐𝒙)
𝒅𝒙

𝟏

𝟎

=⏟

𝒙⟶
𝟏
𝒕
−𝟏

𝒕=
𝟏
𝟏+𝒙

− 𝟏𝟐∫
𝒍𝒏𝒕

(𝟏 + 𝒕)(𝟐 − 𝒕)
𝒅𝒕

𝟏
𝟐

𝟏

= −𝟒∫
𝒍𝒏𝒕

(𝟏 + 𝒕)
𝒅𝒕

𝟏
𝟐

𝟏

− 𝟒∫
𝒍𝒏𝒕

(𝟐 − 𝒕)
𝒅𝒕

𝟏
𝟐

𝟏

= 𝟒𝒇(−𝟏) − 𝟒𝒇(𝟐) 

⟹ 𝑰 =
𝟐

𝟓
(𝒇(−𝟏) − 𝒇(𝟐)) −

𝑩

𝟏𝟎
+
𝟏

𝟒𝟖𝟎
(𝟑𝟔𝝅𝒍𝒏𝟐 + 𝟏𝟒𝟒𝑮) 

𝑯𝒆𝒓𝒆  𝒊  𝒅𝒆𝒇𝒊𝒏𝒆  𝒇(𝒂) = ∫
𝒍𝒏𝒕

𝒂 − 𝒕
𝒅𝒕

𝟏
𝟐

𝟏

= ∑
𝟏

𝒂𝒏

∞

𝒏=𝟏

∫(𝒍𝒏𝒕)𝒕𝒏−𝟏𝒅𝒕

𝟏
𝟐

𝟏

             𝒇𝒐𝒓 |𝒂| ≥ 𝟏 

𝑵𝒐𝒘,   ∫(𝒍𝒏𝒕)𝒕𝒏−𝟏𝒅𝒕

𝟏
𝟐

𝟏

= [(𝒍𝒏𝒕)
𝒕𝒏

𝒏
−
𝒕𝒏

𝒏𝟐
]
 𝟏

 
𝟏
𝟐
= −

𝒍𝒏𝟐

𝒏𝟐𝒏
−

𝟏

𝒏𝟐𝟐𝒏
+
𝟏

𝒏𝟐
 

⟹ 𝒇(𝒂) = ∑
𝟏

𝒂𝒏

∞

𝒏=𝟏

(−
𝒍𝒏𝟐

𝒏𝟐𝒏
−

𝟏

𝒏𝟐𝟐𝒏
+
𝟏

𝒏𝟐
) = (𝒍𝒏𝟐)𝒍𝒏 (𝟏 −

𝟏

𝟐𝒂
) − 𝑳𝒊𝟐 (

𝟏

𝟐𝒂
) + 𝑳𝒊𝟐 (

𝟏

𝒂
) 

⟹ 𝒇(−𝟏) = (𝒍𝒏𝟐)𝒍𝒏(
𝟑

𝟐
) − 𝑳𝒊𝟐 (−

𝟏

𝟐
) + 𝑳𝒊𝟐(−𝟏) = (𝒍𝒏𝟐)(𝒍𝒏𝟑) − 𝒍𝒏

𝟐𝟐 − 𝑳𝒊𝟐 (−
𝟏

𝟐
) −

𝝅𝟐

𝟏𝟐
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⟹ 𝒇(𝟐) = (𝒍𝒏𝟐)𝒍𝒏(
𝟑

𝟒
) − 𝑳𝒊𝟐 (

𝟏

𝟒
) + 𝑳𝒊𝟐 (

𝟏

𝟐
) = (𝒍𝒏𝟐)(𝒍𝒏𝟑) − 𝟐𝒍𝒏𝟐𝟐− 𝑳𝒊𝟐 (

𝟏

𝟒
) +

𝝅𝟐

𝟏𝟐
−
𝒍𝒏𝟐𝟐

𝟐

= (𝒍𝒏𝟐)(𝒍𝒏𝟑) − 𝑳𝒊𝟐 (
𝟏

𝟒
) +

𝝅𝟐

𝟏𝟐
−
𝟓

𝟐
𝒍𝒏𝟐𝟐 

𝑵𝒐𝒘,   𝑩 = ∫(𝒍𝒏𝒙)(
𝟏

𝒙𝟐
𝒈(
𝟏

𝒙
))𝒅𝒙

𝟏

𝟎

= ∫(𝒍𝒏𝒙)(
𝟒

𝒙 + 𝟐
−

𝟓

𝟏 + 𝒙
+

𝒙

𝟏 + 𝒙𝟐
)𝒅𝒙

𝟏

𝟎

 

= 𝟒∫

𝟏
𝟐 𝒍𝒏𝒙

𝟏 +
𝒙
𝟐

𝟏

𝟎

𝒅𝒙 + 𝟓∫
𝒍𝒏 (

𝟏
𝒙
)

𝟏 + 𝒙

𝟏

𝟎

𝒅𝒙 −∫
𝒙𝒍𝒏(

𝟏
𝒙
)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 

𝑵𝒐𝒘,   𝑳𝒊𝟐(𝒛) = −∫
𝒛𝒍𝒏𝒙

𝟏 − 𝒛𝒙

𝟏

𝟎

𝒅𝒙 ⟹⏟

𝒛=−
𝟏
𝟐

 ∫

𝟏
𝟐
𝒍𝒏𝒙

𝟏 +
𝒙
𝟐

𝟏

𝟎

𝒅𝒙 = 𝑳𝒊𝟐 (−
𝟏

𝟐
) 

𝑨𝒏𝒅 ∫
𝒍𝒏(

𝟏
𝒙
)

𝟏 + 𝒙

𝟏

𝟎

𝒅𝒙 = ∫𝒍𝒏 (
𝟏

𝒙
)

𝟏

𝟎

(𝟏 − 𝒙 + 𝒙𝟐 − ……… )𝒅𝒙 = (
𝟏

𝟏𝟐
−
𝟏

𝟐𝟐
+
𝟏

𝟑𝟐
− …… ) = 𝜼(𝟐) =

𝝅𝟐

𝟏𝟐
 

∫
𝒙𝒍𝒏(

𝟏
𝒙
)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 = ∫ 𝒍𝒏(
𝟏

𝒙
)(𝒙 − 𝒙𝟑 + 𝒙𝟓 − ……… )𝒅𝒙

𝟏

𝟎

= (
𝟏

𝟐𝟐
−
𝟏

𝟒𝟐
+
𝟏

𝟔𝟐
− …… ) =

𝜼(𝟐)

𝟒
=
𝝅𝟐

𝟒𝟖
 

⟹𝑩 = 𝟒𝑳𝒊𝟐 (−
𝟏

𝟐
) +

𝟓𝝅𝟐

𝟏𝟐
−
𝝅𝟐

𝟒𝟖
= 𝟒𝑳𝒊𝟐 (−

𝟏

𝟐
) +

𝟏𝟗𝝅𝟐

𝟒𝟖
 

⟹ 𝑰 =
𝟐

𝟓
(𝒇(−𝟏) − 𝒇(𝟐)) −

𝟏

𝟏𝟎
(𝟒𝑳𝒊𝟐 (−

𝟏

𝟐
) +

𝟏𝟗𝝅𝟐

𝟒𝟖
) +

𝟏

𝟒𝟖𝟎
(𝟑𝟔𝝅𝒍𝒏𝟐 + 𝟏𝟒𝟒𝑮) 

⟹ 𝑰 =
𝟐

𝟓
(𝒇(−𝟏) − 𝒇(𝟐) − 𝑳𝒊𝟐 (−

𝟏

𝟐
)) +

𝟏

𝟒𝟖𝟎
(𝟑𝟔𝝅𝒍𝒏𝟐+ 𝟏𝟒𝟒𝑮− 𝟏𝟗𝝅𝟐) 

𝑵𝒐𝒘,   𝒇(−𝟏) − 𝒇(𝟐) − 𝑳𝒊𝟐 (−
𝟏

𝟐
) 

= ((𝒍𝒏𝟐)(𝒍𝒏𝟑)− 𝒍𝒏𝟐𝟐− 𝑳𝒊𝟐 (−
𝟏

𝟐
) −

𝝅𝟐

𝟏𝟐
)− ((𝒍𝒏𝟐)(𝒍𝒏𝟑) − 𝑳𝒊𝟐 (

𝟏

𝟒
) +

𝝅𝟐

𝟏𝟐
−
𝟓

𝟐
𝒍𝒏𝟐𝟐)− 𝑳𝒊𝟐 (−

𝟏

𝟐
) 

=
𝟑

𝟐
𝒍𝒏𝟐𝟐 −

𝝅𝟐

𝟔
+ 𝟐(

𝟏

𝟐
𝑳𝒊𝟐 (

𝟏

𝟒
) − 𝑳𝒊𝟐 (−

𝟏

𝟐
)) 

𝑵𝒐𝒘 𝒖𝒔𝒆 𝒕𝒉𝒆 𝒊𝒅𝒆𝒏𝒕𝒊𝒕𝒚,   𝑳𝒊𝟐(𝒛) +  𝑳𝒊𝟐(−𝒛) =
𝟏

𝟐
𝑳𝒊𝟐(𝒛

𝟐)  ⇒⏟

𝒛=
𝟏
𝟐

 𝑳𝒊𝟐 (
𝟏

𝟐
) + 𝑳𝒊𝟐 (−

𝟏

𝟐
) =

𝟏

𝟐
𝑳𝒊𝟐 (

𝟏

𝟒
) 

⟹
𝟏

𝟐
𝑳𝒊𝟐 (

𝟏

𝟒
) − 𝑳𝒊𝟐 (−

𝟏

𝟐
) = 𝑳𝒊𝟐 (

𝟏

𝟐
) =

𝝅𝟐

𝟏𝟐
− 
𝒍𝒏𝟐𝟐

𝟐
 

⟹ 𝒇(−𝟏) − 𝒇(𝟐) − 𝑳𝒊𝟐 (−
𝟏

𝟐
) =

𝟑

𝟐
𝒍𝒏𝟐𝟐 −

𝝅𝟐

𝟔
+ 𝟐(

𝝅𝟐

𝟏𝟐
− 
𝒍𝒏𝟐𝟐

𝟐
) =

𝟏

𝟐
𝒍𝒏𝟐𝟐 

⟹ 𝑰 =
𝟐

𝟓
(
𝟏

𝟐
𝒍𝒏𝟐𝟐) +

𝟏

𝟒𝟖𝟎
(𝟑𝟔𝝅𝒍𝒏𝟐 + 𝟏𝟒𝟒𝑮− 𝟏𝟗𝝅𝟐) 

=
𝟏

𝟓
𝒍𝒏𝟐𝟐 +

𝟏

𝟒𝟖𝟎
(𝟑𝟔𝝅𝒍𝒏𝟐+ 𝟏𝟒𝟒𝑮− 𝟏𝟗𝝅𝟐) ⟹ 𝑰 =

𝟏

𝟒𝟖𝟎
(𝟏𝟒𝟒𝑮− 𝟏𝟗𝝅𝟐 + 𝟗𝟔𝒍𝒏𝟐𝟐 + 𝟑𝟔𝝅𝒍𝒏𝟐) 
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2553. Prove that: 

∑
(−𝟏)𝒏𝝍(𝒏)𝜞(𝟐𝒏)𝜞(−𝒏 +

𝟏
𝟐
) 𝒄𝒐𝒔 (𝒏𝝅)

𝟖𝒏𝜞(𝒏)

∞

𝒏=𝟏

=
√𝝅

𝟔
𝒍𝒐𝒈𝒆 (

𝟑𝒆𝜸

𝟐
) 

 𝜸 ≈ 𝟎. 𝟓𝟕𝟕 𝒊𝒔 𝑬𝒖𝒍𝒆𝒓 − 𝑴𝒂𝒔𝒄𝒉𝒆𝒓𝒐𝒏𝒊′𝒔 𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕 
Proposed by Amin Hajiyev-Azerbaijan 

Solution by Shobhit Jain-India 
 

𝑳𝒆𝒕  𝑰 = ∑
(−𝟏)𝒏𝝍(𝒏)𝜞(𝟐𝒏)𝜞(−𝒏+

𝟏
𝟐
)𝒄𝒐𝒔 (𝒏𝝅)

𝟖𝒏𝜞(𝒏)

∞

𝒏=𝟏

 

𝑾𝒆 𝒌𝒏𝒐𝒘: 𝜞(𝒏)𝜞(𝟏− 𝒏) =
𝝅

𝒔𝒊𝒏(𝒏𝝅)
⟹ 𝜞(𝒏+

𝟏

𝟐
)𝜞 (−𝒏 +

𝟏

𝟐
)

=
𝝅

𝒄𝒐𝒔(𝒏𝝅)
 (𝑬𝒖𝒍𝒆𝒓′𝒔  𝒓𝒆𝒇𝒍𝒆𝒄𝒕𝒊𝒐𝒏  𝒇𝒐𝒓𝒎𝒖𝒍𝒂)⟹ 𝜞(−𝒏+

𝟏

𝟐
)𝒄𝒐𝒔(𝒏𝝅) =

𝝅

𝜞(𝒏 +
𝟏
𝟐
)

 

⟹ 𝑰 = 𝝅∑
(−𝟏)𝒏𝝍(𝒏)

𝟖𝒏

∞

𝒏=𝟏

(
𝜞(𝟐𝒏)

𝜞(𝒏)𝜞(𝒏+
𝟏
𝟐
)
) 

𝑵𝒐𝒘 ,𝒘𝒆 𝒌𝒏𝒐𝒘 ∏𝜞(𝒙 +
𝒌

𝒎
)

𝒎−𝟏

𝒌=𝟏

=
(√𝟐𝝅)

𝒎−𝟏

√𝒎

𝟏

𝒎𝒎𝒙−𝟏

𝜞(𝒎𝒙)

𝜞(𝒙)
   𝒇𝒐𝒓 𝒎 ≥ 𝟐 

⟹⏟
𝒎=𝟐

𝜞(𝒙 +
𝟏

𝟐
) =

√𝝅

𝟐𝟐𝒙−𝟏
𝜞(𝟐𝒙)

𝜞(𝒙)
⟹ 𝜞(𝒙)𝜞(𝒙 +

𝟏

𝟐
) =

√𝝅

𝟐𝟐𝒙−𝟏
𝜞(𝟐𝒙)    (𝒍𝒆𝒈𝒆𝒏𝒅𝒓𝒆′𝒔  𝒅𝒖𝒑𝒍𝒊𝒄𝒂𝒕𝒊𝒐𝒏  𝒇𝒐𝒓𝒎𝒖𝒍𝒂) 

⟹
𝜞(𝟐𝒏)

𝜞(𝒏)𝜞(𝒏 +
𝟏
𝟐
)
=
𝟐𝟐𝒏−𝟏

√𝝅
⟹ 𝑰 = 𝝅∑

(−𝟏)𝒏𝝍(𝒏)

𝟖𝒏

∞

𝒏=𝟏

(
𝟐𝟐𝒏−𝟏

√𝝅
) =

√𝝅

𝟐
∑
(−𝟏)𝒏𝝍(𝒏)

𝟐𝒏

∞

𝒏=𝟏

=
√𝝅

𝟐
∑(

−𝟏

𝟐
)
𝒏∞

𝒏=𝟏

𝝍(𝒏) 

𝑵𝒐𝒘 𝒖𝒔𝒆,   𝝍(𝒏) = −𝜸+ 𝑯𝒏−𝟏   (𝒑𝒓𝒐𝒑𝒆𝒓𝒕𝒚 𝒐𝒇 𝒅𝒊𝒈𝒂𝒎𝒎𝒂 𝒇𝒖𝒏𝒄𝒕𝒊𝒐𝒏) 

⟹ 𝑰 = √𝝅∑(
−𝟏

𝟐
)
𝒏+𝟏

𝜸

∞

𝒏=𝟏

−
√𝝅

𝟒
∑𝑯𝒏−𝟏 (

−𝟏

𝟐
)
𝒏−𝟏∞

𝒏=𝟏

 

𝑾𝒆 𝒌𝒏𝒐𝒘,   − 𝒍𝒏(𝟏 − 𝒙) = ∑
𝒙𝒏

𝒏

∞

𝒏=𝟏

⟹ 𝑰 = −
𝒍𝒏(𝟏 − 𝒙)

𝟏 − 𝒙
=∑𝑯𝒏−𝟏𝒙

𝒏−𝟏

∞

𝒏=𝟏

    𝒉𝒆𝒓𝒆 𝑯𝒏 =∑
𝟏

𝒌

𝒏

𝒌=𝟏

 𝒂𝒏𝒅 𝑯𝟎 = 𝟎 

⟹ 𝑰 = √𝝅𝜸

𝟏
𝟒

𝟏+
𝟏
𝟐

+
√𝝅

𝟒

𝒍𝒏(𝟏 +
𝟏
𝟐
)

𝟏 +
𝟏
𝟐

=
𝜸√𝝅

𝟔
+
√𝝅

𝟔
𝒍𝒏(

𝟑

𝟐
) =

√𝝅

𝟔
(𝜸 + 𝒍𝒏(

𝟑

𝟐
))  ⟹ 𝑰 =

√𝝅

𝟔
𝒍𝒏(

𝟑𝒆𝜸

𝟐
) 

 
2554. Find: 

𝛀 = ∫
𝟏

√𝒙
𝒍𝒏 (∑ 𝒙𝟐𝒎

𝒏

𝒎=𝟎

)𝒅𝒙
𝟏

𝟎

 

Proposed by Amin Hajiyev-Azerbaijan 
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Solution by Pratham Prasad-India 
 

𝛀 = ∫ 𝟐𝒍𝒏(∑ 𝒙𝟒𝒎
𝒏

𝒎=𝟎

)𝒅𝒙
𝟏

𝟎

= 𝟐(∫ 𝒍𝒏(𝟏 − 𝒙𝟒(𝒏+𝟏))𝒅𝒙
𝟏

𝟎

− ∫ 𝒍𝒏(𝟏 − 𝒙𝟒)𝒅𝒙
𝟏

𝟎

) = 

= 𝟐(𝑰(𝟒(𝒏 + 𝟏)) − 𝑰(𝟒)) 
Thus  

𝑰 = 𝟐(𝑰(𝟒(𝒏 + 𝟏)) − 𝑰(𝟒)) 
where 

𝑰(𝒂) = ∫ 𝒍𝒏(𝟏 − 𝒙𝒂)𝒅𝒙
𝟏

𝟎

,   𝒙𝒂 = 𝒕,            𝒅𝒙 =
𝟏

𝒂
𝒕
𝟏
𝒂
−𝟏𝒅𝒕 

𝒂𝑰(𝒂) = ∫ 𝒕
𝟏
𝒂
−𝟏𝒍𝒏(𝟏 − 𝒕)𝒅𝒙

𝟏

𝟎

,   𝒂𝑰(𝒂) = 𝐥𝐢𝐦
𝒖→𝟏

𝒅

𝒅𝒖
𝑩(
𝟏

𝒂
, 𝒖) 

𝒂𝑰(𝒂) = 𝐥𝐢𝐦
𝒖→𝟏

𝑩(
𝟏

𝒂
,𝒖) (𝝍(𝒖) − 𝝍(𝒖 +

𝟏

𝒂
)) ,   𝒂𝑰(𝒂) = 𝒂(𝝍(𝟏) − 𝝍(

𝟏

𝒂
) − 𝒂) 

𝑰(𝒂) = (𝝍(𝟏) − 𝝍(
𝟏

𝒂
) − 𝒂) 

𝑰 = 𝟐(𝝍(𝟏) − 𝝍(
𝟏

𝟒(𝒏 + 𝟏)
) − 𝟒(𝒏 + 𝟏) − 𝝍(𝟏) + 𝝍(

𝟏

𝟒
) + 𝟒) 

𝑰 = 𝟐(𝝍(
𝟏

𝟒
) −𝝍(

𝟏

𝟒(𝒏 + 𝟏)
) − 𝟒𝒏) 

2555. Find a closed form: 

𝛀 = ∫ ∫ 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙𝟐 + 𝒚𝟐 − 𝟐𝒙𝒚)𝒅𝒙𝒅𝒚
𝟏

𝟎

𝟏

𝟎

 

Proposed by Asmat Qatea-Afghanistan 
Solution by Pratham Prasad-India 
 

𝛀 = ∫ ∫ 𝐚𝐫𝐜𝐭𝐚𝐧((𝒚 − 𝒙)𝟐) 𝒅𝒙𝒅𝒚
𝟏

𝟎

𝟏

𝟎

= ∫ ∫ 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙𝟐) 𝒅𝒙𝒅𝒚
𝒚

𝒚−𝟏

𝟏

𝟎

 

𝑨𝒑𝒑𝒍𝒚𝒊𝒏𝒈 𝑰𝒏𝒕𝒆𝒈𝒓𝒂𝒕𝒊𝒐𝒏 𝒃𝒚 𝒑𝒂𝒓𝒕𝒔 𝒐𝒏 𝒕𝒉𝒆 𝒐𝒖𝒕𝒆𝒓 𝑰𝒏𝒕𝒆𝒈𝒓𝒂𝒍 𝒂𝒏𝒅 𝒓𝒆𝒑𝒍𝒂𝒄𝒊𝒏𝒈 𝒚 𝒘𝒊𝒕𝒉 𝒙 𝒂𝒇𝒕𝒆𝒓 𝒕𝒉𝒂𝒕, 

= ∫ 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙𝟐) 𝒅𝒙 − ∫ 𝒙( 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙𝟐) − 𝐚𝐫𝐜𝐭𝐚𝐧((𝒙 − 𝟏)𝟐))𝒅𝒙
𝟏

𝟎

𝟏

𝟎

 

= ∫ 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙𝟐) 𝒅𝒙 − ∫ 𝒙( 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙𝟐))𝒅𝒙 +∫ 𝒙( 𝐚𝐫𝐜𝐭𝐚𝐧((𝟏 − 𝒙)𝟐))𝒅𝒙
𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝟏 − 𝒙 = 𝒕 𝒂𝒏𝒅 𝒓𝒆𝒑𝒍𝒂𝒄𝒆 𝒕 𝒘𝒊𝒕𝒉 𝒙 𝒊𝒏 𝒕𝒉𝒆 𝒍𝒂𝒔𝒕 𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒍, 𝒕𝒐 𝒈𝒆𝒕: 

= ∫ 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙𝟐) 𝒅𝒙 − ∫ 𝒙( 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙𝟐))𝒅𝒙 +∫ (𝟏 − 𝒙)( 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙𝟐))𝒅𝒙
𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

= 𝟐(∫ 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙𝟐) 𝒅𝒙 − ∫ 𝒙( 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙𝟐))𝒅𝒙
𝟏

𝟎

𝟏

𝟎

) 
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𝒙𝟐 = 𝒕 𝒂𝒏𝒅 𝒓𝒆𝒑𝒍𝒂𝒄𝒆 𝒕 𝒘𝒊𝒕𝒉 𝒙 𝒊𝒏 𝒕𝒉𝒆 𝒍𝒂𝒔𝒕 𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒍, 𝒕𝒐 𝒈𝒆𝒕: 

= 𝟐(∫ 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙𝟐) 𝒅𝒙
𝟏

𝟎

) − ∫ 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)𝒅𝒙
𝟏

𝟎

= 𝟐(𝑨) − 𝑩 

𝑰 = 𝟐(𝑨) − 𝑩, 𝑨 = ∫ 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙𝟐) 𝒅𝒙
𝟏

𝟎

 

𝑨𝒑𝒑𝒍𝒚𝒊𝒏𝒈 𝑰𝒏𝒕𝒆𝒈𝒓𝒂𝒕𝒊𝒐𝒏 𝒃𝒚 𝒑𝒂𝒓𝒕𝒔, 

𝑨 =
𝝅

𝟒
−∫

𝟐𝒙𝟐

𝟏 + 𝒙𝟒
𝒅𝒙

𝟏

𝟎

, 𝑨 =
𝝅

𝟒
− ∫

(𝒙𝟐 − 𝟏) + (𝒙𝟐 + 𝟏)

𝟏 + 𝒙𝟒
𝒅𝒙

𝟏

𝟎

 

𝑨 =
𝝅

𝟒
−∫

(𝒙𝟐 − 𝟏)

𝟏 + 𝒙𝟒
𝒅𝒙 −∫

(𝒙𝟐 + 𝟏)

𝟏 + 𝒙𝟒
𝒅𝒙

𝟏

𝟎

𝟏

𝟎

 

𝑨 =
𝝅

𝟒
−∫

(𝟏−
𝟏
𝒙𝟐
)

(𝒙 +
𝟏
𝒙)

𝟐

− 𝟐

𝒅𝒙 −∫
(𝟏+

𝟏
𝒙𝟐
)

(𝒙 −
𝟏
𝒙)

𝟐

+ 𝟐

𝒅𝒙
𝟏

𝟎

𝟏

𝟎

 

𝒔𝒖𝒃𝒔𝒕𝒊𝒕𝒖𝒕𝒆 𝒙 +
𝟏

𝒙
= 𝒕 𝒊𝒏 𝒕𝒉𝒆 𝒇𝒊𝒓𝒔𝒕 𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒍 𝒂𝒏𝒅 𝒙 −

𝟏

𝒙
= 𝒕 𝒊𝒏 𝒕𝒉𝒆 𝒔𝒆𝒄𝒐𝒏𝒅 𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒍, 

𝑨 =
𝝅

𝟒
+ ∫

𝟏

𝒕𝟐 − 𝟐
𝒅𝒕 −∫

𝟏

𝒕𝟐 + 𝟐
𝒅𝒕

𝟎

−∞

∞

𝟐

, 𝑨 =
𝝅

𝟒
+
𝐥𝐧(𝟏 + √𝟐)

√𝟐
−
𝝅

𝟐√𝟐
 

𝑩 = ∫ 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)𝒅𝒙
𝟏

𝟎

 

𝑨𝒑𝒑𝒍𝒚𝒊𝒏𝒈 𝑰𝒏𝒕𝒆𝒈𝒓𝒂𝒕𝒊𝒐𝒏 𝒃𝒚 𝒑𝒂𝒓𝒕𝒔, 

𝑩 =
𝝅

𝟒
−∫

𝒙

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

,    𝑩 =
𝝅

𝟒
−
𝟏

𝟐
∫

𝟐𝒙

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

 

𝒙𝟐 = 𝒕 𝒂𝒏𝒅 𝒓𝒆𝒑𝒍𝒂𝒄𝒆 𝒕 𝒘𝒊𝒕𝒉 𝒙 𝒊𝒏 𝒕𝒉𝒆 𝒍𝒂𝒔𝒕 𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒍, 𝒕𝒐 𝒈𝒆𝒕: 

𝑩 =
𝝅

𝟒
−
𝟏

𝟐
∫

𝟏

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎

,   𝑩 =
𝝅

𝟒
−
𝟏

𝟐
𝐥𝐧 (𝟐) 

𝑵𝒐𝒘, 
𝑰 = 𝟐(𝑨) − 𝑩 

𝑰 = 𝟐(
𝝅

𝟒
+
𝐥𝐧(𝟏 + √𝟐)

√𝟐
−
𝝅

𝟐√𝟐
) −

𝝅

𝟒
+
𝟏

𝟐
𝐥𝐧(𝟐),   

𝑰 =
𝝅

𝟐
+ √𝟐 𝐥𝐧(𝟏 + √𝟐) −

𝝅

√𝟐
−
𝝅

𝟒
+
𝟏

𝟐
𝐥𝐧 (𝟐) 

𝑰 =
𝝅

𝟒
+ √𝟐 𝐥𝐧(𝟏 + √𝟐) −

𝝅

√𝟐
+
𝟏

𝟐
𝐥 𝐧(𝟐) ,   𝑰 =

𝟏

𝟐
𝐥𝐧 (𝟐) + √𝟐 𝐥𝐧(𝟏 + √𝟐) +

𝝅

𝟒
(𝟏 − √𝟖) 

∫ ∫ 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙𝟐 + 𝒚𝟐 − 𝟐𝒙𝒚)𝒅𝒙𝒅𝒚
𝟏

𝟎

𝟏

𝟎

=
𝟏

𝟐
𝐥𝐧 (𝟐) + √𝟐 𝐥𝐧(𝟏 + √𝟐) +

𝝅

𝟒
(𝟏 − √𝟖) 
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2556. Prove that: 

𝜴 = ∫𝒙𝟑𝝍(𝟏 + 𝒙𝟐)𝒅𝒙

𝟏
𝟐

𝟎

=
𝟏

𝟏𝟔
(𝟐 + 𝒍𝒏(

𝟖𝜞𝟐 (
𝟓
𝟒
)

𝝅𝑨𝟗
) −

𝟐𝑮

𝝅
) 

𝑨 = 𝑮𝒍𝒂𝒊𝒔𝒉𝒆𝒓 − 𝑲𝒊𝒏𝒌𝒆𝒍𝒊𝒏′𝒔 𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕, 𝑮 = 𝑪𝒂𝒕𝒂𝒍𝒂𝒏′𝒔 𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕, 
 𝝍(𝒙) = 𝒅𝒊𝒈𝒂𝒎𝒎𝒂 𝒇𝒖𝒏𝒄𝒕𝒊𝒐𝒏 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution by Shobhit Jain-India 

𝜴 = ∫𝒙𝟑𝝍(𝟏 + 𝒙𝟐)𝒅𝒙

𝟏
𝟐

𝟎

= ∫ 𝒙𝟐𝝍(𝟏 + 𝒙𝟐)𝒙𝒅𝒙

𝟏
𝟐

𝒙=𝟎

=⏟
𝒙⟶√𝒖

𝒖=𝒙𝟐

𝟏

𝟐
∫ 𝒖 𝝍(𝟏 + 𝒖)𝒅𝒖

𝟏
𝟒

𝒖=𝟎

=
𝟏

𝟐
∫ 𝒖

𝜞′(𝟏 + 𝒖)

𝜞(𝟏 + 𝒖)
𝒅𝒖

𝟏
𝟒

𝒖=𝟎

 

= [
𝒖

𝟐
𝒍𝒏𝜞(𝟏 + 𝒖)]

𝟎

𝟏
𝟒
−
𝟏

𝟐
∫ 𝒍𝒏𝜞(𝟏 + 𝒖)𝒅𝒖

𝟏
𝟒

𝒖=𝟎

=
𝟏

𝟖
𝒍𝒏𝜞 (

𝟓

𝟒
) −

𝟏

𝟐
𝑰 

𝑯𝒆𝒓𝒆,   𝑰 = ∫ 𝒍𝒏𝜞(𝟏

𝟏
𝟒

𝟎

+ 𝒙)𝒅𝒙 . 𝑵𝒐𝒘 𝒘𝒆 𝒄𝒂𝒏 𝒖𝒔𝒆 𝑲𝒖𝒎𝒎𝒆𝒓′𝒔 𝒔𝒆𝒓𝒊𝒆𝒔 𝒇𝒐𝒓 𝒕𝒉𝒆 𝒇𝒖𝒏𝒄𝒕𝒊𝒐𝒏 𝒍𝒏𝜞(𝒙) 

⟹
𝟏

𝟐
𝒍𝒏(

𝜞(𝒙)

𝜞(𝟏 − 𝒙)
) = (

𝟏

𝟐
− 𝒙)(𝜸 + 𝒍𝒏𝟐𝝅) +

𝟏

𝝅
∑
𝒍𝒐𝒈𝒆𝒏

𝒏
𝒔𝒊𝒏(𝟐𝒏𝝅𝒙)

∞

𝒏=𝟏

     𝒇𝒐𝒓 𝟎 < 𝑥 < 1 

(𝜸 = 𝑬𝒖𝒍𝒆𝒓 −𝑴𝒂𝒔𝒄𝒉𝒆𝒓𝒐𝒏𝒊  𝑪𝒐𝒏𝒔𝒕𝒂𝒏𝒕) 

 
𝜞(𝒙)

𝜞(𝟏 − 𝒙)
=
𝜞𝟐(𝒙 + 𝟏)𝟐𝒔𝒊𝒏(𝝅𝒙)

𝟐𝝅𝒙𝟐
 

⟹
𝟏

𝟐
𝒍𝒏(

𝜞(𝒙)

𝜞(𝟏 − 𝒙)
) = 𝒍𝒏𝜞(𝟏 + 𝒙) +

𝟏

𝟐
𝒍𝒏(𝟐 𝒔𝒊𝒏(𝝅𝒙)) −

𝟏

𝟐
𝒍𝒏(𝟐𝝅) − 𝒍𝒏𝒙 

⇒ 𝒍𝒏𝜞(𝟏 + 𝒙) =
𝟏

𝟐
𝒍𝒏(𝟐𝝅) + (

𝟏

𝟐
− 𝒙) (𝜸 + 𝒍𝒏𝟐𝝅)−

𝟏

𝟐
𝒍𝒏(𝟐 𝒔𝒊𝒏(𝝅𝒙)) + 𝒍𝒏𝒙 +

𝟏

𝝅
∑
𝒍𝒐𝒈𝒆𝒏

𝒏
𝒔𝒊𝒏(𝟐𝒏𝝅𝒙)

∞

𝒏=𝟏

 

⟹ 𝑰 =
𝒍𝒏(𝟐𝝅)

𝟖
+ (𝜸 + 𝒍𝒏𝟐𝝅)∫(

𝟏

𝟐
− 𝒙)𝒅𝒙

𝟏
𝟒

𝟎⏟        
𝑷

−
𝟏

𝟐
∫ 𝒍𝒏(𝟐𝒔𝒊𝒏(𝝅𝒙))𝒅𝒙

𝟏
𝟒

𝟎⏟            
𝑸

+∫𝒍𝒏𝒙𝒅𝒙

𝟏
𝟒

𝟎⏟      
𝑹

+
𝟏

𝟐𝝅𝟐
∑
𝒍𝒐𝒈𝒆𝒏

𝒏𝟐
(𝟏 − 𝒄𝒐𝒔 (

𝒏𝝅

𝟐
))

∞

𝒏=𝟏
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𝑷 = ∫(
𝟏

𝟐
− 𝒙)𝒅𝒙

𝟏
𝟒

𝟎

=⏟

𝒙⟶
𝟏
𝟒
−𝒙

∫(𝒙 +
𝟏

𝟒
)𝒅𝒙

𝟏
𝟒

𝟎

=
𝟏

𝟐
× (
𝟏

𝟐
+
𝟏

𝟒
) ×

𝟏

𝟒
=
𝟑

𝟑𝟐
 

𝑸 = ∫𝒍𝒏(𝟐 𝒔𝒊𝒏(𝝅𝒙))𝒅𝒙

𝟏
𝟒

𝟎

=⏟

𝒙⟶
𝒙
𝟐𝝅

 
𝟏

𝟐𝝅
∫ 𝒍𝒏 (𝟐𝒔𝒊𝒏 (

𝒙

𝟐
))𝒅𝒙

𝝅
𝟐

𝟎

=
−𝟏

𝟐𝝅
∑∫

𝒄𝒐𝒔(𝒏𝒙)

𝒏
𝒅𝒙

𝝅
𝟐

𝟎

∞

𝒏=𝟏

= 

=
−𝟏

𝟐𝝅
∑
𝒔𝒊𝒏 (

𝒏𝝅
𝟐 )

𝒏𝟐

∞

𝒏=𝟏

= −
𝑮

𝟐𝝅
 

𝑹 = ∫ 𝒍𝒏𝒙𝒅𝒙

𝟏
𝟒

𝟎

= [𝒙𝒍𝒏𝒙 − 𝒙]
𝟎

𝟏
𝟒 = −

𝟏

𝟒
−
𝒍𝒏𝟐

𝟐
 

⟹ 𝑰 =
𝒍𝒏(𝟐𝝅)

𝟖
+
𝟑

𝟑𝟐
(𝜸 + 𝒍𝒏𝟐𝝅) +

𝑮

𝟒𝝅
−
𝟏

𝟒
−
𝒍𝒏𝟐

𝟐
+
𝟏

𝟐𝝅𝟐
∑
𝒍𝒐𝒈𝒆𝒏

𝒏𝟐
(𝟏 − 𝒄𝒐𝒔 (

𝒏𝝅

𝟐
))

∞

𝒏=𝟏

 

𝑳𝒆𝒕,   𝑵 = ∑
𝒍𝒐𝒈𝒆𝒏

𝒏𝟐

∞

𝒏=𝟏

= 𝑶 + 𝑬  𝒘𝒉𝒆𝒓𝒆,   𝑶 = ∑
𝒍𝒐𝒈𝒆(𝟐𝒏 − 𝟏)

(𝟐𝒏 − 𝟏)𝟐

∞

𝒏=𝟏

 𝒂𝒏𝒅 𝑬 = ∑
𝒍𝒐𝒈𝒆(𝟐𝒏)

(𝟐𝒏)𝟐

∞

𝒏=𝟏

 

⟹   𝑬 =
𝒍𝒏𝟐

𝟒
∑

𝟏

𝒏𝟐

∞

𝒏=𝟏

+
𝟏

𝟒
∑
𝒍𝒐𝒈𝒆𝒏

𝒏𝟐

∞

𝒏=𝟏

=
𝝅𝟐𝒍𝒏𝟐

𝟐𝟒
+
𝑵

𝟒
⟹   𝑶 = 𝑵 − 𝑬 =

𝟑𝑵

𝟒
−
𝝅𝟐𝒍𝒏𝟐

𝟐𝟒
 

⟹  𝑶 − 𝑬 = (
𝟑𝑵

𝟒
−
𝝅𝟐𝒍𝒏𝟐

𝟐𝟒
) − (

𝝅𝟐𝒍𝒏𝟐

𝟐𝟒
+
𝑵

𝟒
) =

𝑵

𝟐
−
𝝅𝟐𝒍𝒏𝟐

𝟏𝟐
 

𝑵𝒐𝒘,   ∑
𝒍𝒐𝒈𝒆𝒏

𝒏𝟐
(𝟏 − 𝒄𝒐𝒔 (

𝒏𝝅

𝟐
))

∞

𝒏=𝟏

= (
𝒍𝒏𝟏

𝟏𝟐
+
𝒍𝒏𝟑

𝟑𝟐
+
𝒍𝒏𝟓

𝟓𝟐
……) + 𝟐(

𝒍𝒏𝟐

𝟐𝟐
+
𝒍𝒏𝟔

𝟔𝟐
+
𝒍𝒏𝟏𝟎

𝟏𝟎𝟐
……) 

= (
𝒍𝒏𝟏

𝟏𝟐
+
𝒍𝒏𝟑

𝟑𝟐
+
𝒍𝒏𝟓

𝟓𝟐
……)

⏟                
𝑶

+ (
𝒍𝒏𝟐

𝟐𝟐
+
𝒍𝒏𝟒

𝟒𝟐
+
𝒍𝒏𝟔

𝟔𝟐
……)

⏟                
𝑬

+ (
𝒍𝒏𝟐

𝟐𝟐
−
𝒍𝒏𝟒

𝟒𝟐
+
𝒍𝒏𝟔

𝟔𝟐
− ……) 

= 𝑵+
𝒍𝒏𝟐

𝟐𝟐
(
𝟏

𝟏𝟐
−
𝟏

𝟐𝟐
+
𝟏

𝟑𝟐
− ……) +

𝟏

𝟐𝟐
(
𝒍𝒏𝟏

𝟏𝟐
−
𝒍𝒏𝟐

𝟐𝟐
+
𝒍𝒏𝟑

𝟑𝟐
− ……)

= 𝑵 +
𝝅𝟐𝒍𝒏𝟐

𝟒𝟖
+
𝟏

𝟒
(𝑶 − 𝑬) = 

= 𝑵+
𝝅𝟐𝒍𝒏𝟐

𝟒𝟖
+
𝟏

𝟒
(
𝑵

𝟐
−
𝝅𝟐𝒍𝒏𝟐

𝟏𝟐
) =

𝟗

𝟖
𝑵 

⟹   𝑰 =
𝒍𝒏(𝟐𝝅)

𝟖
+
𝟑

𝟑𝟐
(𝜸 + 𝒍𝒏𝟐𝝅) +

𝑮

𝟒𝝅
−
𝟏

𝟒
−
𝒍𝒏𝟐

𝟐
+
𝟗

𝟖
(
𝑵

𝟐𝝅𝟐
) 

𝑵𝒐𝒘,   𝜻(𝒔) = ∑
𝟏

𝒏𝒔

∞

𝒏=𝟏

  ⟹ 𝜻′(𝒔) = −∑
𝒍𝒐𝒈𝒆𝒏

𝒏𝒔

∞

𝒏=𝟏

 ⟹ 𝜻′(𝟐) = −∑
𝒍𝒐𝒈𝒆𝒏

𝒏𝟐

∞

𝒏=𝟏

= −𝑵 



 
www.ssmrmh.ro 

97 RMM-CALCULUS MARATHON 2501-2600 

 

𝑵𝒐𝒘,   −
𝜻′(𝟐)

𝜻(𝟐)
= 𝟏𝟐𝒍𝒏𝑨− 𝜸 − 𝒍𝒏(𝟐𝝅) 

⟹𝑵 = −𝜻′(𝟐) = 
𝝅𝟐

𝟔
(𝟏𝟐𝒍𝒏𝑨 − 𝜸 − 𝒍𝒏(𝟐𝝅)) ⟹ 

𝑵

𝟐𝝅𝟐
= 𝒍𝒏𝑨 −

𝜸

𝟏𝟐
−
𝒍𝒏 (𝟐𝝅)

𝟏𝟐
 

⟹   𝑰 =
𝒍𝒏(𝟐𝝅)

𝟖
+
𝟑

𝟑𝟐
(𝜸 + 𝒍𝒏𝟐𝝅) +

𝑮

𝟒𝝅
−
𝟏

𝟒
−
𝒍𝒏𝟐

𝟐
+
𝟗

𝟖
(𝒍𝒏𝑨 −

𝜸

𝟏𝟐
−
𝒍𝒏(𝟐𝝅)

𝟏𝟐
) 

=
𝒍𝒏(𝟐𝝅)

𝟖
+
𝑮

𝟒𝝅
−
𝟏

𝟒
−
𝒍𝒏𝟐

𝟐
+
𝟗

𝟖
𝒍𝒏𝑨 ⟹   𝑰 =

𝒍𝒏𝝅

𝟖
+
𝑮

𝟒𝝅
−
𝟏

𝟒
−
𝟑𝒍𝒏𝟐

𝟖
+
𝟗

𝟖
𝒍𝒏𝑨 

⟹𝜴 =
𝟏

𝟖
𝒍𝒏𝜞(

𝟓

𝟒
) −

𝟏

𝟐
(
𝒍𝒏𝝅

𝟖
+
𝑮

𝟒𝝅
−
𝟏

𝟒
−
𝟑𝒍𝒏𝟐

𝟖
+
𝟗

𝟖
𝒍𝒏𝑨) = 

=
𝟏

𝟏𝟔
(𝟐 −

𝟐𝑮

𝝅
+ 𝟐𝒍𝒏𝜞(

𝟓

𝟒
) + 𝟑𝒍𝒏𝟐 − 𝒍𝒏𝝅 − 𝟗𝒍𝒏𝑨)⟹ 𝜴 =

𝟏

𝟏𝟔
(𝟐 + 𝒍𝒏(

𝟖𝜞𝟐 (
𝟓
𝟒
)

𝝅𝑨𝟗
)−

𝟐𝑮

𝝅
) 

 
2557. Find: 

𝑺 = ∑
(−𝟏)𝒌𝒌𝟐

(𝟐𝒌𝟐 + 𝒌 − 𝟏)(𝟐𝒌 − 𝟏)

∞

𝒌=𝟏

 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution by Pratham Prasad-India 

𝑩𝒚 𝑷𝒂𝒓𝒕𝒊𝒂𝒍 𝑭𝒓𝒂𝒄𝒕𝒊𝒐𝒏𝒔: 

𝑺 =
𝟓

𝟏𝟖
∑

(−𝟏)𝒌

𝟐𝒌 − 𝟏
+
𝟏

𝟔
∑

(−𝟏)𝒌

(𝟐𝒌 − 𝟏)𝟐
+
𝟏

𝟗
∑
(−𝟏)𝒌

𝟏 + 𝒌

∞

𝒌=𝟏

∞

𝒌=𝟏

∞

𝒌=𝟏

 

𝑺 =
𝟓

𝟏𝟖
∑(−𝟏)𝒌∫ 𝒙𝟐𝒌−𝟐𝒅𝒙

𝟏

𝟎

+
𝟏

𝟔
∑

(−𝟏)𝒌

(𝟐𝒌 − 𝟏)𝟐
+
𝟏

𝟗
∑
(−𝟏)𝒌

𝟏 + 𝒌

∞

𝒌=𝟏

∞

𝒌=𝟏

∞

𝒌=𝟏

 

𝒄𝒉𝒂𝒏𝒈𝒊𝒏𝒈 𝒐𝒓𝒅𝒆𝒓 𝒐𝒇 𝒔𝒖𝒎𝒎𝒂𝒕𝒊𝒐𝒏 𝒂𝒏𝒅 𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒕𝒊𝒐𝒏,  

𝑺 = −
𝟓

𝟏𝟖
∫ ∑(−𝒙𝟐)𝒌−𝟏

∞

𝒌=𝟏

𝒅𝒙
𝟏

𝟎

−
𝟏

𝟔
∑

(−𝟏)𝒌−𝟏

(𝟐𝒌 − 𝟏)𝟐
+
𝟏

𝟗
∑
(−𝟏)𝒌

𝟏 + 𝒌

∞

𝒌=𝟏

∞

𝒌=𝟏

 

𝑺 = −
𝟓

𝟏𝟖
∫

𝟏

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

−
𝟏

𝟔
𝑮+

𝟏

𝟗
𝐥𝐧(𝟐) −

𝟏

𝟗
 

𝑺 = −
𝟓𝝅

𝟕𝟐
−
𝟏

𝟔
𝑮 +

𝟏

𝟗
𝐥𝐧(𝟐) −

𝟏

𝟗
 

2558. Prove that: 

∑∑
𝟏

𝒆(𝒎+𝒏)𝝅 + 𝒆(𝒎−𝒏)𝝅

∞

𝒏=𝟏

∞

𝒎=𝟏

=
𝟏 − 𝑮√𝟐

𝟒(𝟏 − 𝒆𝝅)
 

𝒘𝒉𝒆𝒓𝒆,   𝑮 𝒊𝒔 𝑮𝒂𝒖𝒔𝒔′𝒔 𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕 
Proposed by Ankush Kumar Parcha-India 
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Solution by Shobhit Jain-India 

𝑰 = ∑
𝟏

𝒆𝒎𝝅

∞

𝒎=𝟏

∑
𝟏

𝒆𝒏𝝅 + 𝒆−𝒏𝝅

∞

𝒏=𝟏

= 𝑴×𝑵 

𝑵𝒐𝒘,   𝑴 = ∑
𝟏

𝒆𝒎𝝅

∞

𝒎=𝟏

= ∑ 𝒆−𝒎𝝅
∞

𝒎=𝟏

=
𝒆−𝝅

𝟏 − 𝒆−𝝅
=

𝟏

𝒆𝝅 − 𝟏
 

𝑵 =∑
𝟏

𝒒−𝒏 + 𝒒𝒏

∞

𝒏=𝟏

=∑
𝒒𝒏

𝟏 + 𝒒𝟐𝒏

∞

𝒏=𝟏

=∑∑(−𝟏)𝒌𝒒(𝟐𝒌+𝟏)𝒏
∞

𝒌=𝟎

∞

𝒏=𝟏

=∑(−𝟏)𝒌∑𝒒(𝟐𝒌+𝟏)𝒏
∞

𝒏=𝟏

∞

𝒌=𝟎

=∑
(−𝟏)𝒌𝒒𝟐𝒌+𝟏

𝟏 − 𝒒𝟐𝒌+𝟏

∞

𝒌=𝟎

 

𝒉𝒆𝒓𝒆,   𝒒 = 𝒆−𝝅. 𝑪𝒐𝒏𝒔𝒊𝒅𝒆𝒓,   𝝋(𝒒) = 𝒇(𝒒, 𝒒) = ∑ 𝒒𝒏
𝟐∞

𝒏=−∞   

𝒉𝒆𝒓𝒆  𝒇(𝒂, 𝒃) = ∑ 𝒂
𝒏(𝒏+𝟏)
𝟐 𝒃

𝒏(𝒏−𝟏)
𝟐

∞

𝒏=−∞

,

|𝒂𝒃| < 1      (𝑹𝒂𝒎𝒂𝒏𝒖𝒋𝒂𝒏 𝒈𝒆𝒏𝒆𝒓𝒂𝒍 𝒕𝒉𝒆𝒕𝒂 𝒇𝒖𝒏𝒄𝒕𝒊𝒐𝒏) 

𝑳𝒆𝒕  𝒈(𝒙) =  𝟐𝑭𝟏 (
𝟏

𝟐
,
𝟏

𝟐
; 𝟏, 𝒙) = ∑

(
𝟏
𝟐)𝒏

(
𝟏
𝟐)𝒏

(𝟏)𝒏𝒏!

∞

𝒏=𝟎

𝒙𝒏 = ∑
( 𝟐𝒏𝑪𝒏 )

𝟐

𝟏𝟔

∞

𝒏=𝟎

𝒙𝒏        |𝒙| < 1 

𝑪𝒐𝒏𝒔𝒊𝒅𝒆𝒓 𝒄𝒐𝒎𝒑𝒍𝒆𝒕𝒆 𝒆𝒍𝒍𝒊𝒑𝒕𝒊𝒄 𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒍 𝒐𝒇 𝒇𝒊𝒓𝒔𝒕 𝒌𝒊𝒏𝒅, 

𝑲(𝒌) = ∫
𝒅𝜽

√𝟏 − 𝒌𝟐𝒔𝒊𝒏𝟐𝜽

𝝅
𝟐

𝟎

=
𝝅

𝟐
𝒈(𝒌𝟐)  𝒂𝒏𝒅  𝑲(𝒌′) = ∫

𝒅𝜽

√𝟏 − 𝒌′𝟐𝒔𝒊𝒏𝟐𝜽

𝝅
𝟐

𝟎

=
𝝅

𝟐
𝒈(𝒌′𝟐)

=
𝝅

𝟐
𝒈(𝟏 − 𝒌𝟐) 

𝒌′ = √𝟏 − 𝒌𝟐 

𝑰𝒇  𝒌 = √𝟏 −
𝝋𝟒(−𝒒)

𝝋𝟒(𝒒)
       𝒕𝒉𝒆𝒏,   𝝋𝟐 (𝒆

−𝝅
𝑲(𝒌′)

𝑲(𝒌) ) = 𝒈(𝒌𝟐) =
𝟐

𝝅
𝑲(𝒌) 

𝑵𝒐𝒘,   𝒌 = 𝒌′ =
𝟏

√𝟐
  ⟹ ,   𝝋𝟐(𝒆−𝝅) = 𝒈(

𝟏

𝟐
) =

𝟐

𝝅
𝑲(

𝟏

√𝟐
) 

 𝑲 (
𝟏

√𝟐
) = √𝟐∫

𝒅𝜽

√𝟐 − 𝒔𝒊𝒏𝟐𝜽

𝝅
𝟐

𝟎

= √𝟐∫
𝒅𝜽

√𝟏+ 𝒄𝒐𝒔𝟐𝜽

𝝅
𝟐

𝟎

 =⏟
𝜽=𝒄𝒐𝒔−𝟏𝒙

√𝟐∫
𝒅𝒙

√𝟏 − 𝒙𝟒

𝟏

𝟎

=
√𝟐

𝟒
𝑩(
𝟏

𝟒
,
𝟏

𝟐
) =

𝜞𝟐 (
𝟏
𝟒
)

𝟒√𝝅
 

⟹𝝋𝟐(𝒆−𝝅) = 𝒈(
𝟏

𝟐
) =

𝟐

𝝅
𝑲(

𝟏

√𝟐
) =

𝜞𝟐 (
𝟏
𝟒)

𝟐𝝅√𝝅
= 𝑮√𝟐   

(𝑮 =
𝜞𝟐 (

𝟏
𝟒)

𝟐𝝅√𝟐𝝅
= 𝑮𝒂𝒖𝒔𝒔′𝒔 𝑪𝒐𝒏𝒔𝒕𝒂𝒏𝒕)   

𝑵𝒐𝒘 𝒘𝒆 𝒄𝒂𝒏 𝒖𝒔𝒆 𝒕𝒉𝒆 𝒊𝒅𝒆𝒏𝒕𝒊𝒕𝒚 𝒈𝒊𝒗𝒆𝒏 𝒊𝒏  𝑹𝒂𝒎𝒂𝒏𝒖𝒋𝒂𝒏 𝑵𝒐𝒕𝒆𝒃𝒐𝒐𝒌 (𝑷𝒂𝒓𝒕 − 𝟑) 𝒑𝒂𝒈𝒆 − 𝟏𝟏𝟒,   𝒆𝒏𝒕𝒓𝒚 𝟖 

𝝋𝟐(𝒒) = 𝟏 + 𝟒∑
(−𝟏)𝒌𝒒𝟐𝒌+𝟏

𝟏 − 𝒒𝟐𝒌+𝟏

∞

𝒌=𝟎
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𝑪𝒐𝒏𝒔𝒊𝒅𝒆𝒓 ∑
𝟐

𝒒−𝒏 + 𝒒𝒏

∞

𝒏=−∞

= 𝟏 + 𝟒∑
𝟏

𝒒−𝒏 + 𝒒𝒏

∞

𝒏=𝟏

= 𝟏 + 𝟒∑
(−𝟏)𝒌𝒒𝟐𝒌+𝟏

𝟏 − 𝒒𝟐𝒌+𝟏

∞

𝒌=𝟎

= 𝝋𝟐(𝒒) 

⟹⏟
𝒒=𝒆−𝝅

∑
𝟐

𝒆𝒏𝝅 + 𝒆−𝒏𝝅

∞

𝒏=−∞

= 𝟏 + 𝟒∑
𝟏

𝒆𝒏𝝅 + 𝒆−𝒏𝝅

∞

𝒏=𝟏

= 𝟏 + 𝟒∑
(−𝟏)𝒌𝒆−(𝟐𝒌+𝟏)𝝅

𝟏 − 𝒆−(𝟐𝒌+𝟏)𝝅

∞

𝒌=𝟎

= 𝝋𝟐(𝒆−𝝅)

= 𝑮√𝟐 

⟹𝑵 =∑
(−𝟏)𝒌𝒆−(𝟐𝒌+𝟏)𝝅

𝟏 − 𝒆−(𝟐𝒌+𝟏)𝝅

∞

𝒌=𝟎

=
𝑮√𝟐− 𝟏

𝟒
⟹ 𝑰 = 𝑴×𝑵 = (

𝟏

𝒆𝝅 − 𝟏
)(
𝑮√𝟐− 𝟏

𝟒
) 

⟹ 𝑰 =
𝟏 − 𝑮√𝟐

𝟒(𝟏 − 𝒆𝝅)
 

2559. Prove that: 

∫
(𝟏 − 𝒙)(𝟏 − 𝒙𝟐)(𝟏 − 𝒙𝟑)

(𝟏 + 𝒙𝟐)𝒍𝒏𝒙
𝒅𝒙

𝟏

𝟎

= 𝒍𝒏 (
𝟏𝟖𝝅𝟐

𝟓𝝕𝟒
) 

𝒘𝒉𝒆𝒓𝒆 𝝕 𝒊𝒔 𝑳𝒆𝒎𝒏𝒊𝒔𝒄𝒂𝒕𝒆 𝑪𝒐𝒏𝒔𝒕𝒂𝒏𝒕 
Proposed by Ankush Kumar Parcha-India 

Solution by Shobhit Jain-India 

𝑰 = ∫
(𝟏 − 𝒙)(𝟏 − 𝒙𝟐)(𝟏 − 𝒙𝟑)

(𝟏 + 𝒙𝟐)𝒍𝒏𝒙
𝒅𝒙

𝟏

𝟎

= ∫
(𝟏 − 𝒙)

𝒍𝒏𝒙
(𝒙𝟑 − 𝟐𝒙 − 𝟏 +

𝟐(𝟏 + 𝒙)

𝟏 + 𝒙𝟐
)𝒅𝒙

𝟏

𝟎

= 

= ∫
−𝒙𝟒 + 𝒙𝟑 + 𝟐𝒙𝟐 − 𝒙 − 𝟏

𝒍𝒏𝒙
𝒅𝒙

𝟏

𝟎

− 𝟐∫
𝒙𝟐 − 𝟏

(𝟏 + 𝒙𝟐)𝒍𝒏𝒙
𝒅𝒙

𝟏

𝟎

 

= −∫
𝒙𝟒 − 𝟏

𝒍𝒏𝒙
𝒅𝒙

𝟏

𝟎

+∫
𝒙𝟑 − 𝟏

𝒍𝒏𝒙
𝒅𝒙

𝟏

𝟎

+ 𝟐∫
𝒙𝟐 − 𝟏

𝒍𝒏𝒙
𝒅𝒙

𝟏

𝟎

−∫
𝒙 − 𝟏

𝒍𝒏𝒙
𝒅𝒙

𝟏

𝟎

− 𝟐∫
𝒙𝟐 − 𝟏

(𝟏 + 𝒙𝟐)𝒍𝒏𝒙
𝒅𝒙

𝟏

𝟎

 

= −𝑯(𝟓) + 𝑯(𝟒) + 𝟐𝑯(𝟑) − 𝑯(𝟐) − 𝟐𝑲(𝟐) 

𝒉𝒆𝒓𝒆,   𝑯(𝒂) = ∫
𝒙𝒂−𝟏 − 𝟏

𝒍𝒏𝒙
𝒅𝒙

𝟏

𝟎

= ∫ ∫𝒙𝒕−𝟏

𝒂

𝒕=𝟏

𝒅𝒕𝒅𝒙

𝟏

𝒙=𝟎

= ∫ ∫ 𝒙𝒕−𝟏

𝟏

𝒙=𝟎

𝒅𝒙𝒅𝒕

𝒂

𝒕=𝟏

= ∫
𝒅𝒕

𝒕

𝒂

𝟏

= 𝒍𝒏(𝒂) 

⟹ 𝑰 = −𝒍𝒏𝟓 + 𝒍𝒏𝟒 + 𝟐𝒍𝒏𝟑 − 𝒍𝒏𝟐 − 𝟐𝑲(𝟐) = 𝒍𝒏(
𝟏𝟖

𝟓
) − 𝟐𝑲(𝟐) 

𝑨𝒏𝒅,   𝑲(𝒂) = ∫
𝒙𝒂 − 𝟏

(𝟏 + 𝒙𝟐)𝒍𝒏𝒙
𝒅𝒙

𝟏

𝟎

  ⟹ 𝑲(𝟎) = 𝟎 

⟹𝑲′(𝒂) = ∫
𝒙𝒂

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

= ∫
𝒙𝒂 − 𝒙𝒂+𝟐

𝟏 − 𝒙𝟒
𝒅𝒙

𝟏

𝟎

=⏟

𝒙⟶𝒙
𝟏
𝟒

𝟏

𝟒
∫
𝒙
𝒂−𝟑
𝟒 − 𝒙

𝒂−𝟏
𝟒

𝟏 − 𝒙
𝒅𝒙

𝟏

𝟎

= 
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=
𝟏

𝟒
(𝝍(

𝒂 + 𝟑

𝟒
) − 𝝍(

𝒂 + 𝟏

𝟒
)) 

⟹𝑲(𝒂) =
𝟏

𝟒
∫(𝝍(

𝒂 + 𝟑

𝟒
) −𝝍(

𝒂 + 𝟏

𝟒
))𝒅𝒂

𝒂

𝟎

= [𝒍𝒏(
𝜞 (
𝒂+ 𝟑
𝟒 )

𝜞 (
𝒂+ 𝟏
𝟒 )

)]

𝟎

𝒂

= 𝒍𝒏(
𝜞(
𝒂+ 𝟑
𝟒 )𝜞 (

𝟏
𝟒)

𝜞 (
𝒂 + 𝟏
𝟒 )𝜞 (

𝟑
𝟒)
) 

⟹𝑲(𝟐) = 𝒍𝒏(
𝜞(
𝟓
𝟒
)𝜞 (

𝟏
𝟒
)

𝜞(
𝟑
𝟒
)𝜞 (

𝟑
𝟒
)
) = 𝒍𝒏(

𝜞𝟐 (
𝟏
𝟒
)

𝟒𝜞𝟐 (
𝟑
𝟒
)
) = 𝒍𝒏(

𝜞𝟒 (
𝟏
𝟒
)

𝟒𝜞𝟐 (
𝟑
𝟒
)𝜞𝟐 (

𝟏
𝟒
)
) = 𝒍𝒏(

𝜞𝟒 (
𝟏
𝟒
)

𝟒(𝝅√𝟐)
𝟐) = 𝒍𝒏(

𝜞𝟒 (
𝟏
𝟒
)

𝟖𝝅𝟐
) 

𝑵𝒐𝒘,   𝝕 =
𝜞𝟐 (

𝟏
𝟒
)

𝟐√𝟐𝝅
 ⟹ 𝝕𝟐 =

𝜞𝟒 (
𝟏
𝟒
)

𝟖𝝅
⟹𝑲(𝟐) = 𝒍𝒏(

𝝕𝟐

𝝅
)⟹ 𝑰 = 𝒍𝒏(

𝟏𝟖

𝟓
) − 𝟐𝒍𝒏(

𝝕𝟐

𝝅
) = 𝒍𝒏(

𝟏𝟖𝝅𝟐

𝟓𝝕𝟒
) 

 

2560. Find a closed form: 

∫ 𝐭𝐚𝐧(𝒙)

𝝅
𝟒

𝝅
𝟖

𝐥𝐧(𝟏 − 𝒕𝒂𝒏𝒙) 𝒅𝒙 

Proposed by Fao Ler-Iraq 
Solution by Pratham Prasad-India 

𝑰 = ∫ 𝐭𝐚𝐧 (𝒙)

𝝅
𝟒

𝝅
𝟖

𝐥𝐧(𝟏 − 𝒕𝒂𝒏𝒙) 𝒅𝒙 

𝑰 = ∫
𝒕𝒍𝒏(𝟏 − 𝒕)

𝟏 + 𝒕𝟐

𝟏

√𝟐−𝟏

𝒅𝒕 = ∫
𝒕𝒍𝒏(𝟏 − 𝒕)

(𝒕 + 𝒊)(𝒕 − 𝒊)

𝟏

√𝟐−𝟏

𝒅𝒕 

=
𝟏

𝟐
∫

𝒍𝒏(𝟏 − 𝒕)

(𝒕 + 𝒊)

𝟏

√𝟐−𝟏

𝒅𝒕 +
𝟏

𝟐
∫

𝒍𝒏(𝟏 − 𝒕)

(𝒕 − 𝒊)

𝟏

√𝟐−𝟏

𝒅𝒕 

=
𝟏

𝟐
∫

𝒍𝒏(𝟏 + 𝒊 − 𝒖)

𝒖

𝟏+𝒊

√𝟐−𝟏+𝒊

𝒅𝒖 +
𝟏

𝟐
∫

𝐥𝐧(𝟏 − 𝒊 − 𝒖)

𝒖

𝟏−𝒊

√𝟐−𝟏−𝒊

𝒅𝒖 

=
𝟏

𝟐
∫

𝒍𝒏 (𝟏 −
𝒖
𝟏 + 𝒊

)

𝒖

𝟏+𝒊

√𝟐−𝟏+𝒊

𝒅𝒖 +
𝟏

𝟐
𝐥𝐧(𝟏 + 𝒊) 𝐥𝐧 (

𝟏 + 𝒊

√𝟐 − 𝟏 + 𝒊
)

+
𝟏

𝟐
∫

𝐥𝐧 (𝟏 −
𝒖
𝟏 − 𝒊)

𝒖

𝟏−𝒊

√𝟐−𝟏−𝒊

𝒅𝒖 +
𝟏

𝟐
𝐥𝐧(𝟏 − 𝒊) 𝐥𝐧 (

𝟏 − 𝒊

√𝟐 − 𝟏 − 𝒊
) 

=
𝟏

𝟐
∫

𝒍𝒏(𝟏 − 𝒖)

𝒖

𝟏

√𝟐−𝟏+𝒊
𝟏+𝒊

 

𝒅𝒖 +
𝟏

𝟐
𝐥𝐧(𝟏 + 𝒊) 𝐥𝐧 (

𝟏 + 𝒊

√𝟐 − 𝟏 + 𝒊
) +

𝟏

𝟐
∫

𝐥𝐧(𝟏 − 𝒖)

𝒖

𝟏

√𝟐−𝟏−𝒊
𝟏−𝒊

𝒅𝒖

+
𝟏

𝟐
𝐥𝐧(𝟏 − 𝒊) 𝐥𝐧 (

𝟏 − 𝒊

√𝟐 − 𝟏 − 𝒊
) = 
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=
𝟏

𝟐
𝑳𝒊𝟐 (

√𝟐− 𝟏 + 𝒊

𝟏 + 𝒊
) +

𝟏

𝟐
𝐥𝐧(𝟏 + 𝒊) 𝐥𝐧 (

𝟏 + 𝒊

√𝟐 − 𝟏 + 𝒊
) +

𝟏

𝟐
𝑳𝒊𝟐 (

√𝟐 − 𝟏 − 𝒊

𝟏 − 𝒊
)

+
𝟏

𝟐
𝐥𝐧(𝟏 − 𝒊) 𝐥𝐧 (

𝟏 − 𝒊

√𝟐 − 𝟏 − 𝒊
) − 𝑳𝒊𝟐(𝟏) = 

=
𝟏

𝟐
𝑳𝒊𝟐 (

√𝟐− 𝟏 + 𝒊

𝟏 + 𝒊
) −

𝟏

𝟐
𝐥𝐧(𝟏 + 𝒊) 𝐥𝐧 (

√𝟐 − 𝟏 + 𝒊

𝟏 + 𝒊
) +

𝟏

𝟐
𝑳𝒊𝟐 (

√𝟐 − 𝟏 − 𝒊

𝟏 − 𝒊
)

−
𝟏

𝟐
𝐥𝐧(𝟏 − 𝒊) 𝐥𝐧 (

√𝟐 − 𝟏 − 𝒊

𝟏 − 𝒊
) − 𝑳𝒊𝟐(𝟏) = 

 

=
𝟏

𝟐
𝑳𝒊𝟐 (

𝟏

√𝟐
+ 𝒊 (𝟏 −

𝟏

√𝟐
)) −

𝟏

𝟐
𝐥𝐧(𝟏 + 𝒊) 𝐥𝐧(

𝟏

√𝟐
+ 𝒊 (𝟏 −

𝟏

√𝟐
))

+
𝟏

𝟐
𝑳𝒊𝟐 (

𝟏

√𝟐
+ 𝒊 (

𝟏

√𝟐
− 𝟏)) −

𝟏

𝟐
𝐥𝐧(𝟏 − 𝒊) 𝐥𝐧 (

𝟏

√𝟐
+ 𝒊 (

𝟏

√𝟐
− 𝟏)) − 𝜻(𝟐) 

𝒘𝒉𝒆𝒓𝒆: 

𝐥𝐧(𝟏 + 𝒊) =
𝟏

𝟐
𝐥𝐧(𝟐) + 𝐥𝐧(𝒄𝒐𝒔 (

𝝅

𝟒
) + 𝒊𝒔𝒊𝒏(

𝝅

𝟒
)) =

𝟏

𝟐
𝐥𝐧(𝟐) +

𝒊𝝅

𝟒
 

𝐥𝐧(𝟏 + 𝒊) =
𝟏

𝟐
𝐥𝐧(𝟐) + 𝐥𝐧(𝒄𝒐𝒔 (

𝝅

𝟒
) − 𝒊𝒔𝒊𝒏 (

𝝅

𝟒
)) =

𝟏

𝟐
𝐥𝐧(𝟐) −

𝒊𝝅

𝟒
 

𝐥𝐧 (
𝟏

√𝟐
+ 𝒊 (𝟏 −

𝟏

√𝟐
)) = 𝐥𝐧(𝟐 − √𝟐) + 𝒊𝒂𝒓𝒄𝒕𝒂𝒏(√𝟐 − 𝟏) 

𝐥𝐧 (
𝟏

√𝟐
+ 𝒊 (

𝟏

√𝟐
− 𝟏)) = 𝐥𝐧(𝟐 − √𝟐) − 𝒊𝒂𝒓𝒄𝒕𝒂𝒏(√𝟐 − 𝟏) 

𝑻𝒉𝒖𝒔, 

𝑰 =
𝟏

𝟐
𝑳𝒊𝟐 (

𝟏

√𝟐
+ 𝒊 (𝟏 −

𝟏

√𝟐
)) −

𝟏

𝟐
𝐥𝐧(𝟏 + 𝒊) 𝐥𝐧(

𝟏

√𝟐
+ 𝒊 (𝟏 −

𝟏

√𝟐
))

+
𝟏

𝟐
𝑳𝒊𝟐 (

𝟏

√𝟐
+ 𝒊 (

𝟏

√𝟐
− 𝟏)) −

𝟏

𝟐
𝐥𝐧(𝟏 − 𝒊) 𝐥𝐧 (

𝟏

√𝟐
+ 𝒊 (

𝟏

√𝟐
− 𝟏)) − 𝜻(𝟐) 

𝑰 =
𝝅

𝟒
𝐚𝐫𝐜𝐭𝐚𝐧(√𝟐 − 𝟏) −

𝟏

𝟐
𝐥𝐧(𝟐) 𝐥𝐧(𝟐 − √𝟐) + 𝑹𝒆(𝑳𝒊𝟐 (

𝟏

√𝟐
+ 𝒊 (𝟏 −

𝟏

√𝟐
))) − 𝜻(𝟐) 

∫ 𝐭𝐚𝐧(𝒙)

𝝅
𝟒

𝝅
𝟖

𝐥𝐧(𝟏 − 𝒕𝒂𝒏𝒙)𝒅𝒙 =

=
𝝅

𝟒
𝐚𝐫𝐜𝐭𝐚𝐧(√𝟐 − 𝟏) −

𝟏

𝟐
𝐥𝐧(𝟐) 𝐥𝐧(𝟐 − √𝟐) + 𝑹𝒆(𝑳𝒊𝟐 (

𝟏

√𝟐
+ 𝒊(𝟏 −

𝟏

√𝟐
))) − 𝜻(𝟐)
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2561. Prove that: 

∫
𝐥𝐧(𝒍𝒏𝒙)

𝟏 − 𝒙 + 𝒙𝟐
𝒅𝒙

∞

𝟏

=
𝟐𝝅

√𝟑
𝒍𝒏𝚪 (

𝟓

𝟔
) −

𝝅

𝟑√𝟑
𝒍𝒏(𝟐𝝅) 

Proposed by Lunjapao Baite-India 
Solution by Shohbit Jain-India 

𝑰 = ∫
𝐥𝐧(𝒍𝒏𝒙)

𝟏 − 𝒙 + 𝒙𝟐
𝒅𝒙

∞

𝟏

=⏟

𝒙⟶
𝟏
𝒙

∫
𝐥𝐧 (𝒍𝒏

𝟏
𝒙)

𝒙𝟐 − 𝒙 + 𝟏
𝒅𝒙

𝟏

𝟎

= 𝒇′(𝟏) 

𝒅𝒆𝒇𝒊𝒏𝒆,   𝒇(𝒔) = ∫
(𝒍𝒏

𝟏
𝒙)

𝒔−𝟏

𝒙𝟐 − 𝒙 + 𝟏
𝒅𝒙

𝟏

𝟎

= ∫
(𝒍𝒏

𝟏
𝒙)

𝒔−𝟏

𝒙𝟐 − 𝟐𝒙𝒄𝒐𝒔 (
𝝅
𝟑) + 𝟏

𝒅𝒙

𝟏

𝟎

 

∑𝒙𝒏 𝐬𝐢𝐧(𝒏𝜽)

∞

𝒏=𝟏

= 𝑰𝒎(∑𝒙𝒏𝒆𝒊𝒏𝜽
∞

𝒏=𝟎

) = 𝑰𝒎(
𝟏

𝟏 − 𝒙𝒆𝒊𝜽
) = 𝑰𝒎(

𝟏

𝟏− 𝒙𝒄𝒐𝒔𝜽 − 𝒊𝒙𝒔𝒊𝒏𝜽
) =

𝒙𝒔𝒊𝒏𝜽

𝟏 − 𝟐𝒙𝒄𝒐𝒔𝜽 + 𝒙𝟐
 

⟹
𝟏

𝟏− 𝟐𝒙𝒄𝒐𝒔𝜽 + 𝒙𝟐
= ∑𝒙𝒏−𝟏

𝐬𝐢𝐧(𝒏𝜽)

𝒔𝒊𝒏𝜽

∞

𝒏=𝟏

 

⟹
𝟏

𝒙𝟐 − 𝟐𝒙𝒄𝒐𝒔 (
𝝅
𝟑
) + 𝟏

= ∑𝒙𝒏−𝟏
𝐬𝐢𝐧 (

𝒏𝝅
𝟑 )

𝒔𝒊𝒏 (
𝝅
𝟑
)

∞

𝒏=𝟏

=
𝟐

√𝟑
∑𝒙𝒏−𝟏 𝐬𝐢𝐧 (

𝒏𝝅

𝟑
)

∞

𝒏=𝟏

 

⟹ 𝒇(𝒔) =
𝟐

√𝟑
∑𝐬𝐢𝐧 (

𝒏𝝅

𝟑
)∫(𝒍𝒏

𝟏

𝒙
)
𝒔−𝟏

𝒙𝒏−𝟏𝒅𝒙

𝟏

𝟎

∞

𝒏=𝟏

=
𝟐

√𝟑
𝚪(𝒔)∑

𝐬𝐢𝐧 (
𝒏𝝅
𝟑 )

𝒏𝒔

∞

𝒏=𝟏

 

⟹ 𝒇′(𝒔) =
𝟐

√𝟑
𝚪′(𝒔)∑

𝐬𝐢𝐧 (
𝒏𝝅
𝟑 )

𝒏𝒔

∞

𝒏=𝟏

−
𝟐

√𝟑
𝚪(𝒔)∑

𝒍𝒐𝒈𝒆𝒏

𝒏𝒔
𝐬𝐢𝐧 (

𝒏𝝅

𝟑
)

∞

𝒏=𝟏

 

⟹ 𝒇′(𝟏) =
𝟐

√𝟑
𝚪′(𝟏)∑

𝐬𝐢𝐧 (
𝒏𝝅
𝟑 )

𝒏

∞

𝒏=𝟏

−
𝟐

√𝟑
𝚪(𝟏)∑

𝒍𝒐𝒈𝒆𝒏

𝒏
𝐬𝐢𝐧 (

𝒏𝝅

𝟑
)

∞

𝒏=𝟏

 

𝒉𝒆𝒓𝒆,   𝚪′(𝟏) = 𝚪(𝟏)𝝍(𝟏) = −𝜸         (𝜸 𝒊𝒔 𝑬𝒖𝒍𝒆𝒓 − 𝑴𝒂𝒔𝒄𝒉𝒆𝒓𝒐𝒏𝒊′𝒔 𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕) 

𝑨𝒏𝒅,∑
𝐬𝐢𝐧 (

𝒏𝝅
𝟑
)

𝒏

∞

𝒏=𝟏

= 𝑰𝒎(− 𝐥𝐧 (𝟏 − 𝒆
𝒊𝝅
𝟑 )) = −𝑰𝒎{𝐥𝐧( 𝟏 − 𝒄𝒐𝒔 (

𝝅

𝟑
) − 𝒊𝒔𝒊𝒏 (

𝝅

𝟑
))}

= 𝒕𝒂𝒏−𝟏 (
𝒔𝒊𝒏 (

𝝅
𝟑)

𝟏 − 𝒄𝒐𝒔 (
𝝅
𝟑)
) = 𝒕𝒂𝒏−𝟏 (𝒄𝒐𝒕 (

𝝅

𝟔
)) =

𝝅

𝟐
−
𝝅

𝟔
=
𝝅

𝟑
 

𝑵𝒐𝒘,   𝒇𝒓𝒐𝒎 𝑲𝒖𝒎𝒎𝒆𝒓′𝒔 𝒔𝒆𝒓𝒊𝒆𝒔: 

𝟏

𝟐
𝒍𝒏(

𝚪(𝒙)

𝚪(𝟏 − 𝒙)
) = (

𝟏

𝟐
− 𝒙) (𝜸 + 𝒍𝒏(𝟐𝝅)) +

𝟏

𝝅
∑
𝒍𝒐𝒈𝒆𝒏

𝒏
𝐬𝐢𝐧(𝟐𝒏𝝅𝒙)

∞

𝒏=𝟏
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⟹⏟

𝒙=
𝟏
𝟔

 
𝟏

𝟐
𝒍𝒏(

𝚪 (
𝟏
𝟔)

𝚪 (
𝟓
𝟔)
) =

𝟏

𝟑
(𝜸 + 𝒍𝒏(𝟐𝝅)) +

𝟏

𝝅
∑
𝒍𝒐𝒈𝒆𝒏

𝒏
𝐬𝐢𝐧 (

𝒏𝝅

𝟑
)

∞

𝒏=𝟏

 

𝚪 (
𝟏
𝟔)

𝚪 (
𝟓
𝟔)
=
𝚪(
𝟏
𝟔) 𝚪(

𝟓
𝟔)

𝚪𝟐 (
𝟓
𝟔)

=
𝟐𝝅

𝚪𝟐 (
𝟓
𝟔)
 ⟹ 

𝟏

𝟐
𝒍𝒏(

𝚪 (
𝟏
𝟔)

𝚪 (
𝟓
𝟔)
) =

𝟏

𝟐
𝐥𝐧(𝟐𝝅) − 𝒍𝒏𝚪(

𝟓

𝟔
) 

⟹∑
𝒍𝒐𝒈𝒆𝒏

𝒏
𝐬𝐢𝐧(

𝒏𝝅

𝟑
)

∞

𝒏=𝟏

=
𝝅

𝟐
𝐥𝐧(𝟐𝝅) − 𝝅𝒍𝒏𝚪(

𝟓

𝟔
) −

𝝅

𝟑
(𝜸 + 𝒍𝒏(𝟐𝝅)) = −𝝅𝒍𝒏𝚪(

𝟓

𝟔
) −

𝝅

𝟔
𝐥𝐧(𝟐𝝅) −

𝝅𝜸

𝟑
 

⟹ 𝒇′(𝟏) = −
𝟐𝜸𝝅

𝟑√𝟑
−
𝟐

√𝟑
(−𝝅𝒍𝒏𝚪 (

𝟓

𝟔
) −

𝝅

𝟔
𝐥𝐧(𝟐𝝅) −

𝝅𝜸

𝟑
) ⟹ 𝑰

=
𝟐𝝅

√𝟑
𝒍𝒏𝚪(

𝟓

𝟔
) −

𝝅

𝟑√𝟑
𝒍𝒏(𝟐𝝅) 

2562. Find: 

𝑱 = ∫ 𝒙 𝒕𝒂𝒏𝒙 𝐥𝐧(𝒄𝒐𝒔𝒙) 𝒅𝒙

𝝅
𝟒

𝟎

 

Proposed by Naren Bhandari-Nepal 
Solution by Pratham Prasad-India 

𝑱 = ∫ 𝒙 𝒕𝒂𝒏𝒙 𝐥𝐧(𝒄𝒐𝒔𝒙)𝒅𝒙

𝝅
𝟒

𝟎

= −
𝟏

𝟐
∫ 𝒙 𝐝(𝐥𝐧𝟐(𝒄𝒐𝒔𝒙))

𝝅
𝟒

𝟎

= −
𝝅

𝟑𝟐
𝒍𝒏𝟐(𝟐) +

𝟏

𝟐
∫ 𝐥𝐧𝟐(𝒄𝒐𝒔𝒙)𝒅𝒙 

𝝅
𝟒

𝟎

 

𝑰 = ∫ 𝐥𝐧𝟐(𝒄𝒐𝒔𝒙)𝒅𝒙 

𝝅
𝟒

𝟎

, 𝑰 =
𝟏

𝟒
∫
𝐥𝐧𝟐(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙 .

𝟏

𝟎

 𝑩𝒚 𝑾𝒆𝒊𝒆𝒓𝒆𝒔𝒕𝒓𝒂𝒔 𝒔𝒖𝒃𝒔𝒕𝒊𝒕𝒖𝒕𝒊𝒐𝒏: 

𝑰 =
𝟏

𝟒
∫
𝐥𝐧𝟐 (

𝟐(𝟏 + 𝒙𝟐)
(𝟏 + 𝒙)𝟐

)

𝟏 + 𝒙𝟐
𝒅𝒙 

𝟏

𝟎

,   

𝑰 = ∫
𝐥𝐧𝟐(𝟏 + 𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

+
𝟏

𝟒
∫
𝐥𝐧𝟐(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

+
𝐥𝐧𝟐(𝟐)

𝟒
∫

𝟏

𝟏 + 𝒙𝟐
𝒅𝒙 −∫

𝒍𝒏(𝟏 + 𝒙) 𝐥𝐧(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙 

𝟏

𝟎

− 𝒍𝒏𝟐∫
𝐥𝐧(𝟏 + 𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 

𝟏

𝟎

𝟏

𝟎

 

+
𝒍𝒏𝟐

𝟐
∫
𝐥𝐧(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙 

𝟏

𝟎

 

By putting results, 
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𝑰 = (−𝟐𝑮𝒍𝒏(𝟐) − 𝟒 𝑰𝒎(𝑳𝒊𝟑 (
𝟏 + 𝒊

𝟐
)) +

𝟕𝝅𝟑

𝟔𝟒
+
𝟑

𝟏𝟔
𝝅 𝐥𝐧𝟐(𝟐))

+
𝟏

𝟒
(−𝟐𝑮𝒍𝒏(𝟐) + 𝟒 𝑰𝒎(𝑳𝒊𝟑 (

𝟏+ 𝒊

𝟐
))−

𝟕𝝅𝟑

𝟗𝟔
+
𝟕

𝟖
𝝅 𝐥𝐧𝟐(𝟐)) +

𝐥𝐧𝟐(𝟐)

𝟒
(
𝝅

𝟒
)

− (−
𝟓

𝟐
𝑮𝒍𝒏(𝟐) − 𝟒 𝑰𝒎(𝑳𝒊𝟑 (

𝟏+ 𝒊

𝟐
))+

𝟕𝝅𝟑

𝟔𝟒
+
𝟑

𝟖
𝝅 𝐥𝐧𝟐(𝟐)) − 𝐥𝐧(𝟐) (

𝝅

𝟖
𝐥𝐧(𝟐))

+
𝐥𝐧(𝟐)

𝟐
(
𝝅

𝟐
𝐥𝐧(𝟐) − 𝑪 ) 

𝑰 =
𝟕𝝅𝟑

𝟏𝟗𝟐
−
𝑮 𝐥𝐧(𝟐)

𝟐
+
𝟓𝝅 𝐥𝐧𝟐(𝟐)

𝟏𝟔
− 𝑰𝒎(𝑳𝒊𝟑(𝟏− 𝒊))  

𝑱 = −
𝝅

𝟑𝟐
𝒍𝒏𝟐(𝟐) +

𝟏

𝟐
(
𝟕𝝅𝟑

𝟏𝟗𝟐
−
𝑮 𝐥𝐧(𝟐)

𝟐
+
𝟓𝝅 𝐥𝐧𝟐(𝟐)

𝟏𝟔
− 𝑰𝒎(𝑳𝒊𝟑(𝟏 − 𝒊))) 

𝑱 =  
𝟕𝝅𝟑

𝟑𝟖𝟒
−
𝑮 𝐥𝐧(𝟐)

𝟒
+
𝝅 𝐥𝐧𝟐(𝟐)

𝟖
−
𝟏

𝟐
𝑰𝒎(𝑳𝒊𝟑(𝟏 − 𝒊)) 

2563. Find: 

𝑰 = ∫
𝐥𝐧𝟑(𝟏 − 𝒙) 𝐥𝐧𝟐(𝒙)

𝟏 − 𝒙
𝒅𝒙

𝟏

𝟎

− 𝟑∫
𝐥𝐧(𝟏 − 𝒙) 𝑳𝒊𝟐

𝟐(𝟏 − 𝒙)

𝟏 − 𝒙
𝒅𝒙

𝟏

𝟎

 

Proposed by Naren Bhandari-Nepal 
Solution by Pratham Prasad-India 
 

𝑹𝒆𝒑𝒍𝒂𝒄𝒊𝒏𝒈 𝟏 − 𝒙 𝒃𝒚 𝒙 𝒊𝒏 𝒕𝒉𝒆 𝒔𝒆𝒄𝒐𝒏𝒅 𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒍, 

= ∫
𝐥𝐧𝟑(𝟏 − 𝒙) 𝐥𝐧𝟐(𝒙)

𝟏 − 𝒙
𝒅𝒙

𝟏

𝟎

− 𝟑∫
𝐥𝐧(𝒙) 𝑳𝒊𝟐

𝟐(𝒙)

𝒙
𝒅𝒙

𝟏

𝟎

 

𝑳𝒆𝒕, 

𝑨 = ∫
𝐥𝐧𝟑(𝟏−𝒙) 𝐥𝐧𝟐(𝒙)

𝟏−𝒙
𝒅𝒙 

𝟏

𝟎
, 𝑩 = ∫

𝐥𝐧(𝒙)𝑳𝒊𝟐
𝟐(𝒙)

𝒙
𝒅𝒙

𝟏

𝟎
. 𝑻𝒉𝒖𝒔 𝑰 = 𝑨 − 𝟑𝑩  

𝑨 = ∫
𝐥𝐧𝟑(𝟏 − 𝒙) 𝐥𝐧𝟐(𝒙)

𝟏 − 𝒙
𝒅𝒙 

𝟏

𝟎

 

𝑨𝒑𝒑𝒍𝒚𝒊𝒏𝒈 𝑰𝒏𝒕𝒆𝒈𝒓𝒂𝒕𝒊𝒐𝒏 𝑩𝒚 𝒑𝒂𝒓𝒕𝒔,𝒘𝒆 𝒈𝒆𝒕 − 𝑨 =
𝟏

𝟐
∫
𝐥𝐧𝟒(𝟏 − 𝒙) 𝒍𝒏(𝒙)

𝒙
𝒅𝒙 

𝟏

𝟎

 

𝑹𝒆𝒑𝒍𝒂𝒄𝒊𝒏𝒈 𝟏 − 𝒙 𝒃𝒚 𝒙 , 𝑨 =
𝟏

𝟐
∫
𝐥𝐧𝟒(𝒙) 𝒍𝒏(𝟏 − 𝒙)

𝟏 − 𝒙
𝒅𝒙 ,

𝟏

𝟎

𝑨 = −
𝟏

𝟐
∫ 𝐥𝐧𝟒(𝒙)
𝟏

𝟎

∑𝒙𝒏𝑯𝒏

∞

𝒏=𝟏

𝒅𝒙 

𝑨 = −
𝟏

𝟐
∑𝑯𝒏

∞

𝒏=𝟏

∫ 𝐱𝐧𝐥𝐧𝟒(𝒙)
𝟏

𝟎

𝒅𝒙,   𝑨 = −
𝟏

𝟐
∑𝑯𝒏

∞

𝒏=𝟏

∫
𝝏𝟒

𝝏𝒏𝟒

𝟏

𝟎

𝒙𝒏𝒅𝒙 

𝑨 = −
𝟏

𝟐
∑𝑯𝒏

∞

𝒏=𝟏

𝒅𝟒

𝒅𝒏𝟒
 ∫ 𝒙𝒏

𝟏

𝟎

𝒅𝒙, 𝑨 = −
𝟏

𝟐
∑𝑯𝒏

∞

𝒏=𝟏

𝒅𝟒

𝒅𝒏𝟒
(
𝟏

𝒏 + 𝟏
) 

𝑨 = −𝟏𝟐∑𝑯𝒏

∞

𝒏=𝟏

(
𝟏

𝒏 + 𝟏
)
𝟓

, 𝑨 = −𝟏𝟐(∑
𝑯𝒏
𝒏𝟓

∞

𝒏=𝟏

− 𝜻(𝟔)) , 𝑨 = −𝟏𝟐𝑺𝟏 + 𝟏𝟐𝜻(𝟔) 
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𝑺𝟏 = ∑
𝑯𝒏
𝒏𝟓

∞

𝒏=𝟏

, 𝒅𝒆𝒇𝒊𝒏𝒆, 𝑱(𝒒) = ∫ 𝒙𝒏−𝟏𝑳𝒊𝒒(𝒙)𝒅𝒙
𝟏

𝟎

,

𝑱(𝒒) =
𝜻(𝒒)

𝒏
−
𝟏

𝒏
∫ 𝒙𝒏−𝟏𝑳𝒊𝒒−𝟏(𝒙)𝒅𝒙
𝟏

𝟎

 

𝑨𝒑𝒑𝒍𝒚𝒊𝒏𝒈 𝑰𝒏𝒕𝒆𝒈𝒓𝒂𝒕𝒊𝒐𝒏 𝑩𝒚 𝒑𝒂𝒓𝒕𝒔,𝒘𝒆 𝒈𝒆𝒕 − 𝑱(𝒒) =
𝜻(𝒒)

𝒏
−
𝟏

𝒏
∫ 𝒙𝒏−𝟏𝑳𝒊𝒒−𝟏(𝒙)𝒅𝒙
𝟏

𝟎

 

𝑱(𝒒) =
𝜻(𝒒)

𝒏
−
𝟏

𝒏
𝑱(𝒒 − 𝟏), 𝑱(𝟐) = ∫ 𝒙𝒏−𝟏𝑳𝒊𝟐(𝒙)𝒅𝒙

𝟏

𝟎

 

𝑱(𝟐) =
𝜻(𝟐)

𝒏
+
𝟏

𝒏
∫ 𝒙𝒏−𝟏 𝐥𝐧(𝟏 − 𝒙)𝒅𝒙
𝟏

𝟎

, 𝑱(𝟐) =
𝜻(𝟐)

𝒏
−
𝑯𝒏
𝒏𝟐

 

𝑻𝒉𝒖𝒔 𝒃𝒚 𝒓𝒆𝒄𝒖𝒓𝒔𝒊𝒐𝒏: 𝑱(𝒒) =
(−𝟏)𝒒−𝟏𝑯𝒏

𝒏𝒒
−∑

(−𝟏)𝒌

𝒏𝒌
𝜻(𝒒 − 𝒌 + 𝟏)

𝒒−𝟏

𝒌=𝟏

 

∫ 𝒙𝒏−𝟏𝑳𝒊𝒒(𝒙)𝒅𝒙
𝟏

𝟎

=
(−𝟏)𝒒−𝟏𝑯𝒏

𝒏𝒒
−∑

(−𝟏)𝒌

𝒏𝒌
𝜻(𝒒 − 𝒌 + 𝟏)

𝒒−𝟏

𝒌=𝟏

  

𝑺𝒆𝒕𝒕𝒊𝒏𝒈 𝒒 = 𝟒 𝒂𝒏𝒅 𝒓𝒆𝒂𝒓𝒓𝒂𝒏𝒈𝒊𝒏𝒈, 

𝑯𝒏
𝒏𝟒
= −∫ 𝒙𝒏−𝟏𝑳𝒊𝟒(𝒙)𝒅𝒙

𝟏

𝟎

−∑
(−𝟏)𝒌

𝒏𝒌
𝜻(𝟒 − 𝒌 + 𝟏)

𝟑

𝒌=𝟏

 

𝑯𝒏
𝒏𝟓
= −∫

𝒙𝒏−𝟏𝑳𝒊𝟒(𝒙)

𝒏
𝒅𝒙

𝟏

𝟎

−∑
(−𝟏)𝒌

𝒏𝒌+𝟏
𝜻(𝟓 − 𝒌)

𝟑

𝒌=𝟏

 

∑
𝑯𝒏
𝒏𝟓

∞

𝒏=𝟏

= −∫
𝑳𝒊𝟒(𝒙)

𝒙
∑
𝒙𝒏

𝒏

∞

𝒏=𝟏

𝒅𝒙
𝟏

𝟎

−∑(−𝟏)𝒌𝜻(𝟓 − 𝒌)𝜻(𝒌 + 𝟏)

𝟑

𝒌=𝟏

 

∑
𝑯𝒏
𝒏𝟓

∞

𝒏=𝟏

= ∫
𝑳𝒊𝟒(𝒙)

𝒙
𝐥𝐧 (𝟏 − 𝒙)𝒅𝒙

𝟏

𝟎

−∑(−𝟏)𝒌𝜻(𝟓 − 𝒌)𝜻(𝒌 + 𝟏)

𝟑

𝒌=𝟏

 

∑
𝑯𝒏
𝒏𝟓

∞

𝒏=𝟏

= ∫
𝐥𝐧(𝟏 − 𝒙)

𝒙
∑
𝒙𝒏

𝒏𝟒

∞

𝒏=𝟏

𝒅𝒙
𝟏

𝟎

−∑(−𝟏)𝒌𝜻(𝟓 − 𝒌)𝜻(𝒌 + 𝟏)

𝟑

𝒌=𝟏

 

∑
𝑯𝒏
𝒏𝟓

∞

𝒏=𝟏

= ∑
𝟏

𝒏𝟒

∞

𝒏=𝟏

∫ 𝒙𝒏−𝟏𝐥𝐧 (𝟏 − 𝒙)𝒅𝒙
𝟏

𝟎

−∑(−𝟏)𝒌𝜻(𝟓 − 𝒌)𝜻(𝒌 + 𝟏)

𝟑

𝒌=𝟏

 

∑
𝑯𝒏
𝒏𝟓

∞

𝒏=𝟏

= −∑
𝑯𝒏
𝒏𝟓

∞

𝒏=𝟏

−∑(−𝟏)𝒌𝜻(𝟓 − 𝒌)𝜻(𝒌+ 𝟏)

𝟑

𝒌=𝟏

,

∑
𝑯𝒏
𝒏𝟓

∞

𝒏=𝟏

= 𝜻(𝟐)𝜻(𝟒) −
𝟏

𝟐
𝜻𝟐(𝟑) + 𝜻(𝟐)𝜻(𝟒) 
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𝑺𝟏 = ∑
𝑯𝒏
𝒏𝟓

∞

𝒏=𝟏

=
𝟕

𝟒
𝜻(𝟔) −

𝟏

𝟐
𝜻𝟐(𝟑) , 𝑨 = −𝟏𝟐(

𝟕

𝟒
𝜻(𝟔) −

𝟏

𝟐
𝜻𝟐(𝟑)) + 𝟏𝟐𝜻(𝟔) 

𝑨 = −𝟐𝟏𝜻(𝟔) + 𝟔𝜻𝟐(𝟑) + 𝟏𝟐𝜻(𝟔), 𝑨 = ∫
𝐥𝐧𝟑(𝟏 − 𝒙) 𝐥𝐧𝟐(𝒙)

𝟏 − 𝒙
𝒅𝒙 

𝟏

𝟎

= 𝟔𝜻𝟐(𝟑) − 𝟗𝜻(𝟔)  

𝑩 = ∫
𝐥𝐧(𝒙)𝑳𝒊𝟐

𝟐(𝒙)

𝒙
𝒅𝒙

𝟏

𝟎

, 𝑨𝒑𝒑𝒍𝒚𝒊𝒏𝒈 𝑰𝒏𝒕𝒆𝒈𝒓𝒂𝒕𝒊𝒐𝒏 𝑩𝒚 𝒑𝒂𝒓𝒕𝒔,𝒘𝒆 𝒈𝒆𝒕 − 

𝑩 = ∫
𝐥𝐧𝟐(𝒙)𝐥𝐧 (𝟏 − 𝒙)𝑳𝒊𝟐(𝒙)

𝒙
𝒅𝒙

𝟏

𝟎

, 𝑩 = ∫
𝐥𝐧𝟐(𝒙)𝐥𝐧 (𝟏 − 𝒙)

𝒙
∑
𝒙𝒏

𝒏𝟐

∞

𝒏=𝟏

𝒅𝒙
𝟏

𝟎

 

𝑩 = ∑
𝟏

𝒏𝟐

∞

𝒏=𝟏

∫ 𝐥𝐧𝟐(𝒙)
𝟏

𝟎

𝐥𝐧(𝟏 − 𝒙) 𝒙𝒏−𝟏𝒅𝒙, 𝑩 = ∑
𝟏

𝒏𝟐

∞

𝒏=𝟏

𝒅𝟐

𝒅𝒏𝟐
∫ 𝐥𝐧(𝟏 − 𝒙) 𝒙𝒏−𝟏
𝟏

𝟎

𝒅𝒙 

𝑩 = −∑
𝟏

𝒏𝟐

∞

𝒏=𝟏

𝒅𝟐

𝒅𝒏𝟐
(
𝑯𝒏
𝒏
) , 𝑩 = −∑

𝟏

𝒏𝟐

∞

𝒏=𝟏

𝒅𝟐

𝒅𝒏𝟐
(
𝜸 + 𝝍(𝒏 + 𝟏)

𝒏
) 

𝑩 = −∑
𝟏

𝒏𝟐

∞

𝒏=𝟏

(
𝟐𝜸

𝒏𝟑
+𝝍𝟐(𝒏 + 𝟏) −

𝟐

𝒏
𝝍𝟏(𝒏 + 𝟏) +

𝟐

𝒏𝟑
𝝍(𝒏 + 𝟏)) 

𝑩 = ∑
𝟏

𝒏𝟐

∞

𝒏=𝟏

(
𝟐𝜻(𝟑)

𝒏
+
𝟐𝜻(𝟐)

𝒏𝟐
−
𝟐𝑯𝒏
𝒏𝟑

−
𝟐𝑯𝒏

(𝟐)

𝒏𝟐
−
𝟐𝑯𝒏

(𝟑)

𝒏
),  

𝑩 = ∑(
𝟐𝜻(𝟑)

𝒏𝟑
+
𝟐𝜻(𝟐)

𝒏𝟒
−
𝟐𝑯𝒏
𝒏𝟓

−
𝟐𝑯𝒏

(𝟐)

𝒏𝟒
−
𝟐𝑯𝒏

(𝟑)

𝒏𝟑
)

∞

𝒏=𝟏

 

𝑩 = 𝟐𝜻𝟐(𝟑) + 𝟐𝜻(𝟐)𝜻(𝟒) − 𝟐𝑺𝟏 − 𝟐𝑺𝟐 − 𝟐𝑺𝟑 
(𝑺𝟏𝒊𝒔 𝒄𝒂𝒍𝒄𝒖𝒍𝒂𝒕𝒆𝒅 𝒂𝒃𝒐𝒗𝒆) 

𝑺𝟐 = ∑
𝑯𝒏
(𝟐)

𝒏𝟒

∞

𝒏=𝟏

 

𝑩𝒚 𝑪𝒂𝒖𝒄𝒉𝒚 𝒑𝒓𝒐𝒅𝒖𝒄𝒕 𝒐𝒏 𝑳𝒊𝟐(𝒙)𝒂𝒏𝒅 𝑳𝒊𝟑(𝒙), 

𝑳𝒊𝟐(𝒙)𝑳𝒊𝟑(𝒙) = 𝟔∑
𝑯𝒏
𝒏𝟒
𝒙𝒏

∞

𝒏=𝟏

+ 𝟑∑
𝑯𝒏
(𝟐)

𝒏𝟑
𝒙𝒏

∞

𝒏=𝟏

+∑
𝑯𝒏
(𝟑)

𝒏𝟐

∞

𝒏=𝟏

𝒙𝒏 − 𝟏𝟎𝑳𝒊𝟓(𝒙) 

𝑫𝒊𝒗𝒊𝒅𝒆 𝒃𝒐𝒕𝒉 𝒔𝒊𝒅𝒆𝒔 𝒃𝒚 𝒙 𝒂𝒏𝒅 𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒕𝒆 𝒇𝒓𝒐𝒎 𝟎 𝒕𝒐 𝒚, 

∫
𝑳𝒊𝟐(𝒙)𝑳𝒊𝟑(𝒙)

𝒙
𝒅𝒙

𝒚

𝟎

= 𝟔∑
𝑯𝒏
𝒏𝟓
𝒚𝒏

∞

𝒏=𝟏

+ 𝟑∑
𝑯𝒏
(𝟐)

𝒏𝟒
𝒚𝒏

∞

𝒏=𝟏

+∑
𝑯𝒏
(𝟑)

𝒏𝟑

∞

𝒏=𝟏

𝒚𝒏 − 𝟏𝟎𝑳𝒊𝟔(𝒚) 

𝟏

𝟐
𝑳𝒊𝟑
𝟐(𝒚) = 𝟔∑

𝑯𝒏
𝒏𝟓
𝒚𝒏

∞

𝒏=𝟏

+ 𝟑∑
𝑯𝒏
(𝟐)

𝒏𝟒
𝒚𝒏

∞

𝒏=𝟏

+∑
𝑯𝒏
(𝟑)

𝒏𝟑

∞

𝒏=𝟏

𝒚𝒏 − 𝟏𝟎𝑳𝒊𝟔(𝒚) 

𝑷𝒖𝒕𝒕𝒊𝒏𝒈 𝒚 = 𝟏, 

𝟏

𝟐
𝑳𝒊𝟑
𝟐(𝟏) = 𝟔∑

𝑯𝒏
𝒏𝟓

∞

𝒏=𝟏

+ 𝟑∑
𝑯𝒏
(𝟐)

𝒏𝟒

∞

𝒏=𝟏

+∑
𝑯𝒏
(𝟑)

𝒏𝟑

∞

𝒏=𝟏

− 𝟏𝟎𝑳𝒊𝟔(𝟏) 
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𝟏

𝟐
𝑳𝒊𝟑
𝟐(𝟏) = 𝟔𝑺𝟏 + 𝟑𝑺𝟐 + 𝑺𝟑 − 𝟏𝟎𝑳𝒊𝟔(𝟏)             − − − (𝟏) 

Now, 

𝑺𝟑 = ∑
𝑯𝒏
(𝟑)

𝒏𝟑

∞

𝒏=𝟏

, 𝑺𝟑 = ∑
𝟏

𝒏𝟑
∑

𝟏

𝒌𝟑

𝒏

𝒌=𝟏

∞

𝒏=𝟏

 

𝑺𝒑𝒍𝒊𝒕𝒕𝒊𝒏𝒈 𝒕𝒉𝒆 𝒊𝒏𝒏𝒆𝒓 𝑺𝒖𝒎, 

𝑺𝟑 = ∑
𝟏

𝒏𝟑
∑

𝟏

𝒌𝟑

∞

𝒌=𝟏

∞

𝒏=𝟏

−∑
𝟏

𝒏𝟑
∑

𝟏

𝒌𝟑

∞

𝒌=𝒏

∞

𝒏=𝟏

+∑
𝟏

𝒏𝟑
∑

𝟏

𝒌𝟑

𝒏

𝒌=𝒏

∞

𝒏=𝟏

 

𝑺𝒘𝒊𝒕𝒄𝒉𝒊𝒏𝒈 𝒕𝒉𝒆 𝒐𝒓𝒅𝒆𝒓 𝒐𝒇 𝒔𝒖𝒎 𝒊𝒏 𝒕𝒉𝒆 𝒎𝒊𝒅𝒅𝒍𝒆 𝒕𝒆𝒓𝒎, 

𝑺𝟑 = 𝜻
𝟐(𝟑) −∑

𝟏

𝒌𝟑
∑

𝟏

𝒏𝟑

𝒌

𝒏=𝟏

∞

𝒌=𝟏

+∑
𝟏

𝒏𝟔

∞

𝒏=𝟏

, 𝑹𝒆𝒑𝒍𝒂𝒄𝒊𝒏𝒈 𝒌 𝒂𝒏𝒅 𝒏 𝒃𝒚 𝒆𝒂𝒄𝒉 𝒐𝒕𝒉𝒆𝒓, 

𝑺𝟑 = 𝜻
𝟐(𝟑) −∑

𝟏

𝒏𝟑
∑

𝟏

𝒌𝟑

𝒏

𝒌=𝟏

∞

𝒏=𝟏

+ 𝜻(𝟔), 𝑺𝟑 = 𝜻
𝟐(𝟑) − 𝑺𝟑 + 𝜻(𝟔) 

𝑺𝟑 = ∑
𝑯𝒏
(𝟑)

𝒏𝟑

∞

𝒏=𝟏

=
𝟏

𝟐
(𝜻𝟐(𝟑) + 𝜻(𝟔))  

𝑵𝒐𝒘 𝑷𝒖𝒕𝒕𝒊𝒏𝒈 𝒕𝒉𝒆 𝑪𝒂𝒍𝒄𝒖𝒍𝒂𝒕𝒆𝒅 𝑽𝒂𝒍𝒖𝒆𝒔 𝑶𝒇 𝑺𝟏𝒂𝒏𝒅 𝑺𝟑𝒊𝒏 𝒆𝒒𝒖𝒂𝒍𝒕𝒊𝒐𝒏 (𝟏) 𝒘𝒆 𝒈𝒆𝒕 𝑺𝟐 𝒂𝒔
− 

𝑺𝟐 = ∑
𝑯𝒏
(𝟐)

𝒏𝟒

∞

𝒏=𝟏

= 𝜻𝟐(𝟑) −
𝟏

𝟑
𝜻(𝟔)  

𝑩 = 𝟐𝜻𝟐(𝟑) + 𝟐𝜻(𝟐)𝜻(𝟒) − 𝟐𝑺𝟏 − 𝟐𝑺𝟐 − 𝟐𝑺𝟑 

𝑩 = 𝟐𝜻𝟐(𝟑) + 𝟐𝜻(𝟐)𝜻(𝟒) − 𝟐(
𝟕

𝟒
𝜻(𝟔) −

𝟏

𝟐
𝜻𝟐(𝟑)) − 𝟐(𝜻𝟐(𝟑) −

𝟏

𝟑
𝜻(𝟔))

− 𝟐(
𝟏

𝟐
(𝜻𝟐(𝟑) + 𝜻(𝟔))) 

𝑩 = 𝟐𝜻(𝟐)𝜻(𝟒) −
𝟕

𝟐
𝜻(𝟔) +

𝟐

𝟑
𝜻(𝟔) − 𝟐𝜻(𝟔), 𝑩 =

𝟕

𝟐
𝜻(𝟔) −

𝟕

𝟐
𝜻(𝟔) +

𝟐

𝟑
𝜻(𝟔) − 𝟐𝜻(𝟔) 

𝑩 = ∫
𝐥𝐧(𝒙) 𝑳𝒊𝟐

𝟐(𝒙)

𝒙
𝒅𝒙

𝟏

𝟎

=
−𝟏

𝟑
𝜻(𝟔) , 𝑰 = 𝑨 − 𝟑𝑩 

𝑰 = (𝟔𝜻𝟐(𝟑) − 𝟗𝜻(𝟔)) − 𝟑(
−𝟏

𝟑
𝜻(𝟔)) ,   𝑰 = 𝟔𝜻𝟐(𝟑) − 𝟖𝜻(𝟔) 

∫
𝐥𝐧𝟑(𝟏 − 𝒙) 𝐥𝐧𝟐(𝒙)

𝟏 − 𝒙
𝒅𝒙

𝟏

𝟎

− 𝟑∫
𝐥𝐧(𝟏 − 𝒙) 𝑳𝒊𝟐

𝟐(𝟏 − 𝒙)

𝟏 − 𝒙
𝒅𝒙

𝟏

𝟎

= 𝟔𝜻𝟐(𝟑) − 𝟖𝜻(𝟔) 
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2564. Find a closed form: 

𝑱 = ∫ 𝒙 𝒕𝒂𝒏𝒙 𝐥𝐧(𝒄𝒐𝒔𝒙) 𝒅𝒙

𝝅
𝟒

𝟎

 

Proposed by Naren Bhandari-Nepal 
Solution by Pratham Prasad-India 

𝑱 = ∫ 𝒙 𝒕𝒂𝒏𝒙 𝐥𝐧(𝒄𝒐𝒔𝒙)𝒅𝒙

𝝅
𝟒

𝟎

= −
𝟏

𝟐
∫ 𝒙 𝐝(𝐥𝐧𝟐(𝒄𝒐𝒔𝒙))

𝝅
𝟒

𝟎

= −
𝝅

𝟑𝟐
𝒍𝒏𝟐(𝟐) +

𝟏

𝟐
∫ 𝐥𝐧𝟐(𝒄𝒐𝒔𝒙)𝒅𝒙 

𝝅
𝟒

𝟎

 

𝑰 = ∫ 𝐥𝐧𝟐(𝒄𝒐𝒔𝒙)𝒅𝒙 

𝝅
𝟒

𝟎

 

𝑰 = ∫ 𝐥𝐧𝟐(𝟐𝒄𝒐𝒔𝒙)𝒅𝒙 − 𝟐𝐥𝐧 (𝟐)∫ 𝐥𝐧(𝒄𝒐𝒔𝒙)𝒅𝒙

𝝅
𝟒

𝟎

𝝅
𝟒

𝟎

−
𝝅

𝟒
𝐥𝐧𝟐(𝟐) 

𝑰 = ∫ 𝒙𝟐𝒅𝒙 + 𝟐

𝝅
𝟒

𝟎

∑
(−𝟏)𝒏𝑯𝒏−𝟏

𝒏

∞

𝒏=𝟏

∫ 𝐜𝐨𝐬 (𝟐𝒏𝒙)

𝝅
𝟒

𝟎

𝒅𝒙 − 𝟐 𝐥𝐧(𝟐) (
𝑮

𝟐
−
𝝅

𝟒
𝐥𝐧(𝟐)) −

𝝅

𝟒
𝐥𝐧𝟐(𝟐) 

𝑰 =
𝝅𝟑

𝟏𝟗𝟐
+∑

(−𝟏)𝒏𝑯𝒏−𝟏
𝒏𝟐

∞

𝒏=𝟏

𝐬𝐢𝐧 (
𝒏𝝅

𝟐
) − 𝟐 𝐥𝐧(𝟐)(

𝑮

𝟐
−
𝝅

𝟒
𝐥𝐧(𝟐)) −

𝝅

𝟒
𝐥𝐧𝟐(𝟐) 

=
𝝅𝟑

𝟏𝟗𝟐
+ 𝑰𝒎(∑

(−𝟏)𝒏𝑯𝒏−𝟏
𝒏𝟐

∞

𝒏=𝟏

𝒊𝒏) − 𝟐 𝐥𝐧(𝟐)(
𝑮

𝟐
−
𝝅

𝟒
𝐥𝐧(𝟐)) −

𝝅

𝟒
𝐥𝐧𝟐(𝟐) 

=
𝝅𝟑

𝟏𝟗𝟐
+ 𝑰𝒎(∑

(−𝒊)𝒏𝑯𝒏−𝟏
𝒏𝟐

∞

𝒏=𝟏

) − 𝟐 𝐥𝐧(𝟐) (
𝑮

𝟐
−
𝝅

𝟒
𝐥𝐧(𝟐)) −

𝝅

𝟒
𝐥𝐧𝟐(𝟐) 

=
𝝅𝟑

𝟏𝟗𝟐
+ 𝑰𝒎(𝜻(𝟑) − 𝑳𝒊𝟑(𝟏 + 𝒊) + 𝐥𝐧(𝟏 + 𝒊)𝑳𝒊𝟐(𝟏 + 𝒊) +

𝟏

𝟐
𝐥𝐧(−𝒊) 𝐥𝐧𝟐(𝟏 + 𝒊))

− 𝟐 𝐥𝐧(𝟐) (
𝑮

𝟐
−
𝝅

𝟒
𝐥𝐧(𝟐)) −

𝝅

𝟒
𝐥𝐧𝟐(𝟐) 

=
𝟕𝝅𝟑

𝟏𝟗𝟐
+
𝟓𝝅

𝟏𝟔
𝐥𝐧𝟐(𝟐) −

𝟏

𝟐
𝑮𝒍𝒏(𝟐) + 𝑰𝒎(𝑳𝒊𝟑(𝟏 − 𝒊)) 

𝑱 = −
𝝅

𝟑𝟐
𝒍𝒏𝟐(𝟐) +

𝟕𝝅𝟑

𝟑𝟖𝟒
+
𝟓𝝅

𝟑𝟐
𝐥𝐧𝟐(𝟐) −

𝟏

𝟒
𝑮𝒍𝒏(𝟐) +

𝟏

𝟐
𝑰𝒎(𝑳𝒊𝟑(𝟏 − 𝒊)) 

𝑱 =
𝟕𝝅𝟑

𝟑𝟖𝟒
+
𝝅

𝟖
𝐥𝐧𝟐(𝟐) −

𝟏

𝟒
𝑮𝒍𝒏(𝟐) +

𝟏

𝟐
𝑰𝒎(𝑳𝒊𝟑(𝟏 − 𝒊)) 

2565. Find a closed form: 

𝑰 = ∫ 𝑳𝒊𝟑(−𝒙
𝟐)(𝟏 − 𝒙𝟐)𝒙 +

𝒙𝒍𝒏(𝟏 + 𝒙)

𝒙𝟐 + 𝟏

𝟏

𝟎

 𝒅𝒙 

Proposed by Shirvan Tahirov-Azerbaijan 
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Solution by Pratham Prasad-India 

𝑰 =
𝟏

𝟐
∫ 𝑳𝒊𝟑(−𝒙)(𝟏 − 𝒙)𝒅𝒙 +∫

𝒙𝒍𝒏(𝟏 + 𝒙)

𝒙𝟐 + 𝟏

𝟏

𝟎

𝟏

𝟎

 𝒅𝒙 

𝑰 =
𝟏

𝟐
∫ 𝑳𝒊𝟑(−𝒙)
𝟏

𝟎

𝒅𝒙 −
𝟏

𝟐
∫ 𝒙𝑳𝒊𝟑(−𝒙)
𝟏

𝟎

𝒅𝒙 +∫
𝒙𝒍𝒏(𝟏 + 𝒙)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 

𝑰 =
𝟏

𝟐
𝑨 −

𝟏

𝟐
𝑩 + 𝑪  

𝑾𝒉𝒆𝒓𝒆, 

𝑨 = ∫ 𝑳𝒊𝟑(−𝒙)
𝟏

𝟎

𝒅𝒙, 𝑨 =  𝑳𝒊𝟑(−𝟏) −∫ 𝒙(
𝑳𝒊𝟐(−𝒙)

𝒙
)𝒅𝒙

𝟏

𝟎

 

𝑨 =  𝑳𝒊𝟑(−𝟏) − ∫ 𝑳𝒊𝟐(−𝒙)𝒅𝒙
𝟏

𝟎

, 𝑨 =  𝑳𝒊𝟑(−𝟏) − 𝑳𝒊𝟐(−𝟏) + 𝟏 − 𝟐𝐥𝐧 (𝟐) 

𝑨 = −
𝟑

𝟒
𝜻(𝟑) +

𝝅𝟐

𝟏𝟐
+ 𝟏 − 𝟐𝐥𝐧 (𝟐)  

𝑩 = ∫ 𝒙𝑳𝒊𝟑(−𝒙)
𝟏

𝟎

𝒅𝒙 

𝑩 =
𝟏

𝟐
𝑳𝒊𝟑(−𝟏) −∫

𝒙𝟐

𝟐

𝟏

𝟎

(
𝑳𝒊𝟐(−𝒙)

𝒙
)𝒅𝒙, 𝑩 =

𝟏

𝟐
𝑳𝒊𝟑(−𝟏) −

𝟏

𝟐
∫ 𝒙𝑳𝒊𝟐(−𝒙)
𝟏

𝟎

𝒅𝒙 

𝑩 =
𝟏

𝟐
𝑳𝒊𝟑(−𝟏) −

𝟏

𝟐
(
𝟏

𝟐𝟒
(𝟑 − 𝝅𝟐)) , 𝑩 = −

𝟑

𝟖
𝜻(𝟑) −

𝟏

𝟏𝟔
+
𝝅𝟐

𝟒𝟖
 

𝑪 = ∫
𝒙𝒍𝒏(𝟏 + 𝒙)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙, 𝑪 = ∫
𝒙𝟐

𝟏 + 𝒙𝟐

𝟏

𝟎

∫
𝟏

𝟏 + 𝒙𝒚
𝒅𝒚

𝟏

𝟎

𝒅𝒙 

𝑪 = ∫ ∫
𝒙𝟐

(𝟏 + 𝒙𝟐)(𝟏 + 𝒙𝒚)

𝟏

𝟎

𝒅𝒙
𝟏

𝟎

𝒅𝒚 

𝑪 = ∫
𝒚

𝟐(𝟏 + 𝒚𝟐)
𝐥𝐧 (𝟐)

𝟏

𝟎

+
𝐥𝐧(𝟏 + 𝒚)

𝒚(𝒚𝟐 + 𝟏)
−

𝝅

𝟒(𝟏 + 𝒚𝟐)
𝒅𝒚 

𝑪 =
𝟏

𝟒
𝐥𝐧𝟐(𝟐) +∫

𝐥𝐧(𝟏 + 𝒚)

𝒚(𝒚𝟐 + 𝟏)
𝒅𝒚

𝟏

𝟎

−
𝝅𝟐

𝟏𝟔
 

𝑪 =
𝟏

𝟒
𝐥𝐧𝟐(𝟐) +∫

𝐥𝐧(𝟏 + 𝒚)

𝒚
𝒅𝒚 −∫

𝒚 𝐥𝐧(𝟏 + 𝒚)

(𝒚𝟐 + 𝟏)
𝒅𝒚

𝟏

𝟎

𝟏

𝟎

−
𝝅𝟐

𝟏𝟔
 

𝑪 =
𝟏

𝟒
𝐥𝐧𝟐(𝟐) +∫

𝐥𝐧(𝟏 + 𝒚)

𝒚
𝒅𝒚 − 𝑪

𝟏

𝟎

−
𝝅𝟐

𝟏𝟔
 

𝟐𝑪 =
𝟏

𝟒
𝐥𝐧𝟐(𝟐) +

𝝅𝟐

𝟏𝟐
 −
𝝅𝟐

𝟏𝟔
, 𝟐𝑪 =

𝟏

𝟒
𝐥𝐧𝟐(𝟐) +

𝝅𝟐

𝟒𝟖
 , 𝑪 =

𝟏

𝟖
𝐥𝐧𝟐(𝟐) +

𝝅𝟐

𝟗𝟔
 

Putting everything back in, 

𝑰 =
𝟏

𝟐
𝑨 −

𝟏

𝟐
𝑩 + 𝑪  
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𝑰 =
𝟏

𝟐
(−
𝟑

𝟒
𝜻(𝟑) +

𝝅𝟐

𝟏𝟐
+ 𝟏 − 𝟐 𝐥𝐧(𝟐)) −

𝟏

𝟐
(−
𝟑

𝟖
𝜻(𝟑) −

𝟏

𝟏𝟔
+
𝝅𝟐

𝟒𝟖
) + (

𝟏

𝟖
𝐥𝐧𝟐(𝟐) +

𝝅𝟐

𝟗𝟔
)  

Simplifying, 

𝑰 = −
𝟑

𝟏𝟔
𝜻(𝟑) +

𝝅𝟐

𝟐𝟒
+
𝟏𝟕

𝟑𝟐
− 𝐥𝐧(𝟐) +

𝟏

𝟖
𝐥𝐧𝟐(𝟐) 

∫ 𝑳𝒊𝟑(−𝒙
𝟐)(𝟏 − 𝒙𝟐)𝒙 +

𝒙𝒍𝒏(𝟏 + 𝒙)

𝒙𝟐 + 𝟏

𝟏

𝟎

 𝒅𝒙 = −
𝟑

𝟏𝟔
𝜻(𝟑) +

𝝅𝟐

𝟐𝟒
+
𝟏𝟕

𝟑𝟐
− 𝐥𝐧(𝟐) +

𝟏

𝟖
𝐥𝐧𝟐(𝟐)  

 
2566. Prove that: 

∫ (𝒙𝒍𝒏(𝟏 + 𝐜𝐨𝐬(𝒙)) + 𝒙𝒍𝒏(𝐬𝐢𝐧(𝒙)))𝒅𝒙 = 𝝅𝑮 −
𝟕

𝟖
𝜻(𝟑) −

𝝅𝟐

𝟒
𝒍𝒏(𝟐)

𝝅
𝟐

𝟎

 

𝑮 →  𝑪𝒂𝒕𝒂𝒍𝒂𝒏′𝒔  𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕   , 𝜻(𝟑) → 𝑨𝒑𝒆𝒓𝒚′𝒔  𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕  
 

Proposed by Shirvan Tahirov, Elsen Kerimov-Azerbaijan 
Solution 1 by Quadri Faruk Temitope-Nigeria 

𝑰 = ∫ 𝒙𝒍𝒏(𝟏 + 𝐜𝐨𝐬(𝒙))𝒅𝒙

𝝅
𝟐

𝟎⏟              
𝑨

+∫ 𝒙𝒍𝒏(𝐬𝐢𝐧(𝒙))𝒅𝒙

𝝅
𝟐

𝟎⏟            
𝑩

= 𝑨 +𝑩 

𝑨 = ∫ 𝒙𝒍𝒏(𝟏 + 𝐜𝐨𝐬(𝒙))𝒅𝒙

𝝅
𝟐

𝟎

= ∫ 𝒙𝒍𝒏(𝟐𝒄𝒐𝒔𝟐 (
𝒙

𝟐
))𝒅𝒙 = ∫ 𝒙𝒍𝒏(𝟐)𝒅𝒙 +∫ 𝒙𝒍𝒏(𝒄𝒐𝒔𝟐 (

𝒙

𝟐
))

𝝅
𝟐

𝟎

𝝅
𝟐

𝟎

𝝅
𝟐

𝟎

= 

= 𝐥𝐧(𝟐) [
𝟏

𝟐
(
𝝅

𝟐
)
𝟐

] + 𝟐∫ 𝒙𝒍𝒏(𝒄𝒐𝒔 (
𝒙

𝟐
))𝒅𝒙

𝝅
𝟐

𝟎

=
𝝅𝟐

𝟖
𝐥𝐧(𝟐) + 𝟐∫ 𝒙 [− 𝐥𝐧(𝟐) −∑

(−𝟏)𝒏𝐜𝐨𝐬 (𝒏𝒙)

𝒏

∞

𝒏=𝟏

]𝒅𝒙 =

𝝅
𝟐

𝟎

 

𝝅𝟐

𝟖
𝐥𝐧(𝟐) − 𝟐 𝐥𝐧(𝟐)

𝒙𝟐

𝟖
|

𝝅
𝟐
𝟎
− 𝟐∫ 𝒙 [∑

(−𝟏)𝒏 𝐜𝐨𝐬(𝒏𝒙)

𝒏

∞

𝒏=𝟏

]𝒅𝒙 =

𝝅
𝟐

𝟎

𝝅𝟐

𝟖
𝐥𝐧(𝟐) −

𝝅𝟐

𝟒
𝐥𝐧(𝟐) − 

𝟐𝕽∫ 𝒙 [∑
(−𝟏)𝒏𝒆−𝒊𝒏𝒙

𝒏

∞

𝒏=𝟏

]𝒅𝒙 =
𝝅𝟐

𝟖
𝐥𝐧(𝟐) −

𝝅𝟐

𝟒
𝐥𝐧(𝟐) −𝟐𝕽∑

(−𝟏)𝒏

𝒏
∫ 𝒙

𝝅
𝟐

𝟎

∞

𝒏=𝟏

𝝅
𝟐

𝟎

𝒆−𝒊𝒏𝒙𝒅𝒙 = 

−
𝝅𝟐

𝟖
𝐥𝐧(𝟐) − 𝟐𝕽∑

(−𝟏)𝒏

𝒏
[−
𝟏

𝒏𝟐
+
𝒆−
𝒊𝝅𝒏
𝟐

𝒏𝟐
+
𝒊𝝅𝒏𝒆−

𝒊𝝅𝒏
𝟐

𝟐𝒏𝟐
]

∞

𝒏=𝟏

= −
𝝅𝟐

𝟖
𝐥𝐧(𝟐) − 𝟐 [−

𝝅𝑮
𝟐
+
𝟐𝟏

𝟑𝟐
𝜻(𝟑)] 

𝑨 = −
𝝅𝟐

𝟖
𝐥𝐧(𝟐) +𝝅𝑮−

𝟐𝟏

𝟏𝟔
𝜻(𝟑) 

𝑾𝒐𝒓𝒌𝒊𝒏𝒈  𝒐𝒏  𝑩  

𝑩 = ∫ 𝒙𝒍𝒏(𝐬𝐢𝐧(𝒙))𝒅𝒙

𝝅
𝟐

𝟎

= ∫ 𝒙 [− 𝐥𝐧(𝟐) −∑
𝐜𝐨𝐬 (𝟐𝒏𝒙)

𝒏

∞

𝒏=𝟏

] 𝒅𝒙

𝝅
𝟐

𝟎

= − 𝐥𝐧(𝟐)∫ 𝒙𝒅𝒙

𝝅
𝟐

𝟎

− 

∑
𝟏

𝒏

∞

𝒏=𝟏

∫ 𝒙𝒄𝒐𝒔(𝟐𝒏𝒙)𝒅𝒙

𝝅
𝟐

𝟎

= − 𝐥𝐧(𝟐) [
𝟏

𝟐
(
𝝅

𝟐
)
𝟐

] −∑
𝟏

𝒏

∞

𝒏=𝟏

𝕽∫ 𝒙𝒆−𝟐𝒊𝒏𝒙

𝝅
𝟐

𝟎

𝒅𝒙 = −
𝝅𝟐

𝟖
𝐥𝐧(𝟐) − 
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∑
𝟏

𝒏
𝕽[
−𝟏 + 𝒆−𝒊𝝅𝒏 + 𝒊𝝅𝒏𝒆−𝒊𝝅𝒏

𝟒𝒏𝟐
]

∞

𝒏=𝟏

= −
𝝅𝟐

𝟖
𝐥𝐧(𝟐) −

𝟏

𝟒
𝕽[∑−

𝟏

𝒏𝟑

∞

𝒏=𝟏

+∑
𝒆−𝒊𝝅𝒏

𝒏𝟑
+ 𝒊𝝅∑

𝒆−𝒊𝝅𝒏

𝒏𝟐

∞

𝒏=𝟏

∞

𝒏=𝟏

] = 

−
𝝅𝟐

𝟖
𝐥𝐧(𝟐) −

𝟏

𝟒
𝕽[−𝜻(𝟑)−

𝟑
𝟒
𝜻(𝟑)− 𝒊𝝅

𝜻(𝟐)
𝟐
] = −

𝝅𝟐

𝟖
𝐥𝐧(𝟐) +

𝟕

𝟏𝟔
𝜻(𝟑) 

𝑩 = −
𝝅𝟐

𝟖
𝐥𝐧(𝟐) +

𝟕

𝟏𝟔
𝜻(𝟑) 

𝑰 = ∫ 𝒙𝒍𝒏(𝟏 + 𝐜𝐨𝐬(𝒙))𝒅𝒙

𝝅
𝟐

𝟎⏟              
𝑨

+∫ 𝒙𝒍𝒏(𝐬𝐢𝐧(𝒙))𝒅𝒙

𝝅
𝟐

𝟎⏟            
𝑩

= −
𝝅𝟐

𝟖
𝐥𝐧(𝟐) +𝝅𝑮−

𝟐𝟏

𝟏𝟔
𝜻(𝟑) −

𝝅𝟐

𝟖
𝐥𝐧(𝟐) +

𝟕

𝟏𝟔
𝜻(𝟑) 

𝑰 = 𝝅𝑮 −
𝟕

𝟖
𝜻(𝟑) −

𝝅𝟐

𝟒
𝒍𝒏(𝟐) 

 

Solution 2 by Pratham Prasad-India 
 

𝝍 = ∫ 𝒙𝒍𝒏(𝟏 + 𝒄𝒐𝒔𝒙) + 𝒙𝒍𝒏𝒔𝒊𝒏𝒙

𝝅
𝟐

𝟎

𝒅𝒙 = ∫ 𝒙𝒍𝒏(𝟐𝐜𝐨𝐬𝟐 (
𝒙

𝟐
))

𝝅
𝟐

𝟎

𝒅𝒙 +∫ 𝒙𝒍𝒏(𝒔𝒊𝒏𝒙)

𝝅
𝟐

𝟎

𝒅𝒙 

= 𝟒∫ 𝒖𝒍𝒏(𝟐 𝐜𝐨𝐬𝟐(𝒖))

𝝅
𝟒

𝟎

𝒅𝒖 +∫ 𝒙𝒍𝒏(𝒔𝒊𝒏𝒙)

𝝅
𝟐

𝟎

𝒅𝒙 

= 𝟒∫ 𝒖𝒍𝒏(𝟐)

𝝅
𝟒

𝟎

𝒅𝒖 + 𝟖∫ 𝒖𝒍𝒏(𝒄𝒐𝒔𝒖)

𝝅
𝟒

𝟎

𝒅𝒖 + ∫ 𝒙𝒍𝒏(𝒔𝒊𝒏𝒙)

𝝅
𝟐

𝟎

𝒅𝒙 

𝑩𝒚  𝒆𝒙𝒑𝒂𝒏𝒅𝒊𝒏𝒈  𝒂𝒏𝒅  𝒆𝒗𝒂𝒍𝒖𝒂𝒕𝒊𝒏𝒈  𝒖𝒔𝒊𝒏𝒈  𝑭𝒐𝒖𝒓𝒊𝒆𝒓  𝒔𝒆𝒓𝒊𝒆𝒔   
𝒐𝒇  𝒕𝒉𝒆  𝒔𝒆𝒄𝒐𝒏𝒅  𝒂𝒏𝒅  𝒕𝒉𝒊𝒓𝒅  𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒍 

∫ 𝒖𝒍𝒏(𝒄𝒐𝒔𝒖)

𝝅
𝟒

𝟎

𝒅𝒖 = ∫ 𝒖(−𝐥𝐧(𝟐) + ∑
(−𝟏)𝒌−𝟏 𝐜𝐨𝐬(𝟐𝒌𝒖)

𝒌

∞

𝑲=𝟏

)

𝝅
𝟒

𝟎

𝒅𝒖 = 

= −
𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) + ∫ 𝒖(∑

(−𝟏)𝒌−𝟏 𝐜𝐨𝐬(𝟐𝒌𝒖)

𝒌

∞

𝑲=𝟏

)

𝝅
𝟒

𝟎

𝒅𝒖 

= −
𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) + ∑

(−𝟏)𝒌−𝟏

𝒌

∞

𝑲=𝟏

∫ (𝒖 𝐜𝐨𝐬(𝟐𝒌𝒖))

𝝅
𝟒

𝟎

𝒅𝒖 

= −
𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) + ∑

(−𝟏)𝒌−𝟏

𝒌

∞

𝑲=𝟏

(
𝝅

𝟖𝒌
𝐬𝐢𝐧 (

𝝅𝒌

𝟐
) +

𝟏

𝟒𝒌𝟐
𝐜𝐨𝐬 (

𝝅𝒌

𝟐
) −

𝟏

𝟒𝒌𝟐
) 

= −
𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) +

𝝅

𝟖
∑

(−𝟏)𝒌−𝟏

𝒌𝟐

∞

𝑲=𝟏

(𝐬𝐢𝐧 (
𝝅𝒌

𝟐
)) +

𝟏

𝟒
∑

(−𝟏)𝒌−𝟏

𝒌𝟑

∞

𝑲=𝟏

(𝐜𝐨𝐬 (
𝝅𝒌

𝟐
)) −

𝟏

𝟒
∑

(−𝟏)𝒌−𝟏

𝒌𝟑

∞

𝑲=𝟏

 

= −
𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) +

𝝅

𝟖
∑

(−𝟏)𝒌−𝟏

(𝟐𝒌 − 𝟏)𝟐

∞

𝑲=𝟏

+
𝟏

𝟑𝟐
∑
(−𝟏)𝒌−𝟏

𝒌𝟑

∞

𝑲=𝟏

−
𝟏

𝟒
∑
(−𝟏)𝒌−𝟏

𝒌𝟑

∞

𝑲=𝟏

 

=
𝟏

𝟏𝟐𝟖
(𝟏𝟔𝝅𝑮 − 𝟐𝟏𝜻(𝟑) − 𝟒𝝅𝟐 𝐥𝐧(𝟐)) 
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∫ 𝒙𝒍𝒏(𝒔𝒊𝒏𝒙)

𝝅
𝟐

𝟎

𝒅𝒙 = ∫ 𝒙(− 𝐥𝐧(𝟐) − ∑
𝐜𝐨𝐬(𝟐𝒌𝒖)

𝒌

∞

𝑲=𝟏

)

𝝅
𝟐

𝟎

𝒅𝒙 = 

= −
𝝅𝟐

𝟖
𝐥𝐧(𝟐) − ∫ 𝒙(∑

𝐜𝐨𝐬(𝟐𝒌𝒖)

𝒌

∞

𝑲=𝟏

)

𝝅
𝟐

𝟎

𝒅𝒙 = −
𝝅𝟐

𝟖
𝐥 𝐧(𝟐) − ∑

𝟏

𝒌

∞

𝑲=𝟏

∫ 𝒙(𝐜𝐨𝐬(𝟐𝒌𝒖))

𝝅
𝟐

𝟎

𝒅𝒙 = 

= −
𝝅𝟐

𝟖
𝐥𝐧 (𝟐) − ∑

𝟏

𝒌

∞

𝑲=𝟏

(
(−𝟏)𝒌

𝟒𝒌𝟐
−
𝟏

𝟒𝒌𝟐
) =

𝟕

𝟏𝟔
𝜻(𝟑) −

𝝅𝟐

𝟖
𝒍𝒏(𝟐) 

𝑷𝒖𝒕𝒕𝒊𝒏𝒈  𝒆𝒗𝒆𝒓𝒚𝒕𝒉𝒊𝒏𝒈  𝒃𝒂𝒄𝒌 ∶  

𝝍 =
𝝅𝟐

𝟖
𝐥𝐧(𝟐) + 𝟖(

𝟏

𝟏𝟐𝟖
(𝟏𝟔𝝅𝑮 − 𝟐𝟏𝜻(𝟑) − 𝟒𝝅𝟐 𝐥𝐧(𝟐)) ) +

𝟕

𝟏𝟔
𝜻(𝟑) −

𝝅𝟐

𝟖
𝒍𝒏(𝟐) 

=
𝝅𝟐

𝟖
𝐥𝐧(𝟐) + 𝝅𝑮 −

𝟐𝟏

𝟏𝟔
𝜻(𝟑) −

𝝅𝟐

𝟒
𝐥𝐧(𝟐) +

𝟕

𝟏𝟔
𝜻(𝟑) −

𝝅𝟐

𝟖
𝒍𝒏(𝟐) 

𝝍 = 𝝅𝑮 −
𝟕

𝟖
𝜻(𝟑) −

𝝅𝟐

𝟒
𝒍𝒏(𝟐) 

 

Solution 3 by Exodo Halcalias-Angola 

Ω = ∫ (𝒙𝒍𝒏(𝟏 + 𝐜𝐨𝐬(𝒙)) + 𝒙𝒍𝒏(𝐬𝐢𝐧(𝒙)))𝒅𝒙

𝝅
𝟐

𝟎

= ∫ 𝒙𝒍𝒏(𝐬𝐢𝐧(𝒙) +
𝟏

𝟐
𝐬𝐢𝐧(𝒙) 𝐜𝐨𝐬(𝒙))𝒅𝒙 =

𝝅
𝟐

𝟎

 

= ∫ 𝒙𝒍𝒏 (𝟒𝐬𝐢𝐧(
𝒙

𝟐
)𝒄𝒐𝒔𝟑 (

𝒙

𝟐
))𝒅𝒙 =

𝝅
𝟐

𝟎

𝟒∫ 𝒙𝒍𝒏(𝐬𝐢𝐧(𝟐𝒙))𝒅𝒙 + 𝟒 𝐥𝐧(𝟐)∫ 𝒙𝒅𝒙

𝝅
𝟒

𝟎

+ 𝟖∫ 𝒙𝒍𝒏(𝐜𝐨𝐬(𝒙))𝒅𝒙 =

𝝅
𝟒

𝟎

𝝅
𝟒

𝟎

 

∫ 𝒙(𝐥𝐧(
𝟏

𝟐
) −∑

𝐜𝐨𝐬(𝟐𝒌𝒙)

𝒌
𝒌∈𝑵

)𝒅𝒙 −
𝝅𝟐

𝟖
𝒍𝒏(

𝟏

𝟐
) +

𝝅
𝟐

𝟎

𝟖∫ 𝒙(𝐥𝐧(
𝟏

𝟐
) +∑

(−𝟏)𝒌−𝟏 𝐜𝐨𝐬(𝟐𝒌𝒙)

𝒌
𝒌∈𝑵

)𝒅𝒙 =
𝝅𝟐

𝟒
𝒍𝒏(

𝟏

𝟐
)

𝝅
𝟒

𝟎

− 

−∑
𝟏

𝒌
(
𝝅 𝐬𝐢𝐧(𝝅𝒌)

𝟒𝒌
+
𝒄𝒐𝒔(𝝅𝒌)

𝟒𝒌𝟐
𝒌∈𝑵

−
𝟏

𝒌𝟐
) + ∑

(−𝟏)𝒌−𝟏

𝒌
𝒌∈𝑵

(
𝝅
𝒌
𝐬𝐢𝐧(

𝒌𝝅
𝟐
)+

𝟏

𝟐𝒌𝟐
𝐜𝐨𝐬 (

𝒌𝝅
𝟐
)−

𝟏

𝟐𝒌𝟐
)= 

𝝅𝟐

𝟒
𝒍𝒏(

𝟏

𝟐
) −

𝟏

𝟒
∑
(−𝟏)𝒌

𝒌𝟑
𝒌∈𝑵

+
𝟏

𝟒
∑

𝟏

𝒌𝟑
𝒌∈𝑵

+𝝅∑
(−𝟏)𝒌−𝟏

(𝟐𝒌 − 𝟏)𝟐
𝒌∈𝑵

+
𝟏

𝟐
∑
(−𝟏)𝒌−𝟏

(𝟐𝒌)𝟑
𝒌∈𝑵

−
𝟏

𝟐
∑

𝟏

𝒌𝟑
𝒌∈𝑵

= 

𝝅𝟐

𝟒
𝒍𝒏(

𝟏

𝟐
) + 𝝅𝜷(𝟐) −

𝟕

𝟖
∑

𝟏

𝒌𝟑
𝒌∈𝑵

= 𝝅𝑮 −
𝟕

𝟖
𝜻(𝟑) −

𝝅𝟐

𝟒
𝒍𝒏(𝟐) 

Ω = 𝝅𝑮 −
𝟕

𝟖
𝜻(𝟑) −

𝝅𝟐

𝟒
𝒍𝒏(𝟐) 

2567. Find: 

𝝍 = ∫
𝐥𝐧(𝒔𝒊𝒏𝒙)

𝟏 + 𝐜𝐨𝐬𝟐(𝒙)
𝒅𝒙

𝝅
𝟐

𝟎

 

Proposed by  Le Thu-Vietnam  
Solved by Pratham Prasad-India  

𝒍𝒆𝒕,
𝝅

𝟐
− 𝒙 = 𝒚 
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𝝍 = ∫
𝐥𝐧(𝒄𝒐𝒔𝒚)

𝟏 + 𝐬𝐢𝐧𝟐(𝒚)
𝒅𝒚

𝝅
𝟐

𝟎

, 𝝍 = −
𝟏

𝟐
∫
𝐥𝐧(𝟏 + 𝐭𝐚𝐧𝟐(𝒚))

𝟏 + 𝟐 𝐭𝐚𝐧𝟐(𝒚)
𝐬𝐞𝐜𝟐(𝒚)𝒅𝒚

𝝅
𝟐

𝟎

 

𝝍 = −
𝟏

𝟐
∫

𝐥𝐧(𝟏 + 𝝐𝟐)

𝟏 + 𝟐𝝐𝟐
𝒅𝝐

∞

𝟎

, 𝝍 = −
𝟏

𝟐
∫

𝟏

𝟏 + 𝟐𝝐𝟐
∫

𝝐𝟐

𝟏 + 𝜶𝝐𝟐
𝒅𝜶

𝟏

𝟎

𝒅𝝐
∞

𝟎

 

𝝍 = −
𝟏

𝟐
∫ ∫

𝟏

𝟏 + 𝟐𝝐𝟐
𝝐𝟐

𝟏 + 𝜶𝝐𝟐
𝒅𝝐𝒅𝜶

∞

𝟎

𝟏

𝟎

 

𝝍 = −
𝟏

𝟐
∫

𝟏

𝟐 − 𝜶
∫

𝟏

𝟏 + 𝜶𝝐𝟐
−

𝟏

𝟏 + 𝟐𝝐𝟐
𝒅𝝐𝒅𝜶

∞

𝟎

𝟏

𝟎

 

𝝍 = −
𝟏

𝟐
∫

𝟏

𝟐 − 𝜶
∫

𝟏

𝟏 + 𝜶𝝐𝟐
𝒅𝝐𝒅𝜶

∞

𝟎

𝟏

𝟎

+
𝟏

𝟐
∫

𝟏

𝟐 − 𝜶
∫

𝟏

𝟏 + 𝟐𝝐𝟐
𝒅𝝐𝒅𝜶

∞

𝟎

𝟏

𝟎

 

𝝍 =
𝟏

𝟐
∫

𝟏

𝜶− 𝟐
 

𝟏

𝟎

(
𝝅

𝟐√𝜶
)𝒅𝜶 −

𝟏

𝟐
∫

𝟏

𝜶− 𝟐
(
𝝅

𝟐√𝟐
)𝒅𝜶

𝟏

𝟎

 

𝝍 =
𝝅

𝟐
∫

𝟏

𝜶 − 𝟐
 

𝟏

𝟎

(
𝟏

𝟐√𝜶
)𝒅𝜶 −

𝟏

𝟐
(
𝝅

𝟐√𝟐
)∫

𝟏

𝜶 − 𝟐
𝒅𝜶

𝟏

𝟎

 

𝝍 =
𝝅

𝟐
∫

𝟏

𝜷𝟐 − (√𝟐)
𝟐 

𝟏

𝟎

𝒅𝜷 +
𝟏

𝟐
(
𝝅

𝟐√𝟐
) 𝐥𝐧 (𝟐) 

𝝍 =
𝝅

𝟒√𝟐
∫

𝟏

𝜷 − √𝟐
 

𝟏

𝟎

𝒅𝜷 −
𝝅

𝟒√𝟐
∫

𝟏

𝜷 + √𝟐
 

𝟏

𝟎

𝒅𝜷 +
𝟏

𝟐
(
𝝅

𝟐√𝟐
) 𝐥𝐧 (𝟐) 

𝝍 =
𝝅

𝟒√𝟐
𝐥𝐧 (𝟏 −

𝟏

√𝟐
) −

𝝅

𝟒√𝟐
𝐥𝐧 (𝟏 +

𝟏

√𝟐
) +

𝟏

𝟐
(
𝝅

𝟐√𝟐
) 𝐥𝐧 (𝟐) =

𝝅

𝟒√𝟐
𝐥𝐧(

𝟐(√𝟐 − 𝟏)

√𝟐 + 𝟏
) = 

=
𝝅

𝟒√𝟐
𝐥𝐧 (𝟐(√𝟐 − 𝟏)

𝟐
) =

𝝅

𝟐√𝟐
𝐥𝐧(𝟐 − √𝟐) 

2568. Find: 

∫
√𝒙𝐥𝐧𝟐(𝒙)

𝟏 + 𝒙 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

 

Proposed by Vasile Mircea Popa-Romania 
Solution by Pratham Prasad-India 
Lemma: If   

𝑰(𝒂) = ∫
𝒙𝒂

𝟏 + 𝒙 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

 

 then: 

𝑰′′(𝒂) =
𝟏

𝟐𝟕
(𝝍𝟐 (

𝒂 + 𝟏

𝟑
) − 𝝍𝟐 (

𝒂 + 𝟐

𝟑
)) 

Proof: 

𝑰(𝒂) = ∫
𝒙𝒂(𝟏 − 𝒙)

𝟏 − 𝒙𝟑
𝒅𝒙

𝟏

𝟎
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𝑰(𝒂) = ∫ (𝒙𝒂 − 𝒙𝒂+𝟏)∑𝒙𝟑𝒓
∞

𝒓=𝟎

𝒅𝒙
𝟏

𝟎

 

𝑰(𝒂) =∑∫ (𝒙𝒂+𝟑𝒓 − 𝒙𝒂+𝟏+𝟑𝒓) 𝒅𝒙
𝟏

𝟎

∞

𝒓=𝟎

,   𝑰(𝒂) = ∑(
𝟏

𝟑𝒓 + 𝒂 + 𝟏
−

𝟏

𝟑𝒓 + 𝒂 + 𝟐
)

∞

𝒓=𝟎

 

𝑰(𝒂) =
𝟏

𝟑
(𝝍(

𝒂 + 𝟏

𝟑
) − 𝝍(

𝒂 + 𝟐

𝟑
)) ,    𝑰′(𝒂) =

𝟏

𝟗
(𝝍𝟏 (

𝒂 + 𝟏

𝟑
) −𝝍𝟏 (

𝒂 + 𝟐

𝟑
)) 

𝑰′′(𝒂) =
𝟏

𝟐𝟕
(𝝍𝟐 (

𝒂 + 𝟏

𝟑
) −𝝍𝟐 (

𝒂 + 𝟐

𝟑
)) , 𝑰′′ (

𝟏

𝟐
) =

𝟏

𝟐𝟕
(𝝍𝟐 (

𝟏

𝟐
) − 𝝍𝟐 (

𝟓

𝟔
)) 

𝑰′′ (
𝟏

𝟐
) = ∫

√𝒙𝐥𝐧𝟐(𝒙)

𝟏 + 𝒙 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

 

 
2569. Find a closed form: 

𝑰 = ∫
𝒆𝟑𝒛 − 𝒆𝒛

𝒛(𝒆𝟐𝒛 + 𝟏)𝟐

∞

𝟎

𝒅𝒛 

Proposed by Vincent Nguen-USA 
Solution by Pratham Prasad-India 

𝑰 = ∫
𝒆𝟑𝒛 − 𝒆𝒛

𝒛(𝒆𝟐𝒛 + 𝟏)𝟐

∞

𝟎

𝒅𝒛 

𝑹𝒆𝒑𝒍𝒂𝒄𝒆 𝒛 𝒃𝒚 − 𝒛 

𝑰 = ∫
𝒆−𝟑𝒛 − 𝒆−𝒛

𝒛(𝒆−𝟐𝒛 + 𝟏)𝟐

−∞

𝟎

𝒅𝒛, 𝑰 = ∫
𝒆𝟑𝒛 − 𝒆𝒛

𝒛(𝒆𝟐𝒛 + 𝟏)𝟐

𝟎

−∞

𝒅𝒛 

𝟐𝑰 = 𝑰 + 𝑰 = ∫
𝒆𝟑𝒛 − 𝒆𝒛

𝒛(𝒆𝟐𝒛 + 𝟏)𝟐

𝟎

−∞

𝒅𝒛 +∫
𝒆𝟑𝒛 − 𝒆𝒛

𝒛(𝒆𝟐𝒛 + 𝟏)𝟐

∞

𝟎

𝒅𝒛 

𝟐𝑰 = ∫
𝒆𝟑𝒛 − 𝒆𝒛

𝒛(𝒆𝟐𝒛 + 𝟏)𝟐

∞

−∞

𝒅𝒛 

𝑳𝒆𝒕, 𝒆𝒛 = 𝒙 

𝟐𝑰 = ∫
𝒙𝟐 − 𝟏

𝒍𝒏(𝒙)(𝟏 + 𝒙𝟐)𝟐

∞

𝟎

𝒅𝒙, 𝟐𝑰 = ∫
𝟏

(𝟏 + 𝒙𝟐)𝟐
∫ 𝒙𝒂𝒅𝒂
𝟐

𝟎

∞

𝟎

𝒅𝒙 

𝟐𝑰 = ∫ ∫
𝒙𝒂

(𝟏 + 𝒙𝟐)𝟐

𝟐

𝟎

𝒅𝒂
∞

𝟎

𝒅𝒙, 𝟐𝑰 = ∫ ∫
𝒙𝒂

(𝟏 + 𝒙𝟐)𝟐

∞

𝟎

𝒅𝒙
𝟐

𝟎

𝒅𝒂 

𝟐𝑰 =
𝟏

𝟐
∫ ∫

𝒙
𝒂−𝟏
𝟐

(𝟏 + 𝒙)𝟐

∞

𝟎

𝒅𝒙
𝟐

𝟎

𝒅𝒂, 𝟐𝑰 =
𝟏

𝟐
∫ 𝑩(

𝒂 + 𝟏

𝟐
, 𝟐 −

𝒂 + 𝟏

𝟐
)

𝟐

𝟎

𝒅𝒂 

𝟒𝑰 = ∫
(
𝟏 − 𝒂
𝟐 )𝝅

𝐬𝐢𝐧 (
𝝅(𝒂 + 𝟏)

𝟐 )

𝟐

𝟎

𝒅𝒂,  
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  𝑳𝒆𝒕 (
𝟏 + 𝒂

𝟐
)𝝅 = 𝒖 

𝟒𝑰 = −
𝟐

𝝅
∫

𝝅 − 𝒖

𝐬𝐢𝐧(𝒖)

𝟑𝝅
𝟐

𝝅
𝟐

𝒅𝒖 

𝑹𝒆𝒑𝒍𝒂𝒄𝒆 𝝅 − 𝒖 𝒃𝒚 𝒖 

𝟒𝑰 = −
𝟐

𝝅
∫

𝒖

𝐬𝐢𝐧(𝒖)

𝟑𝝅
𝟐

𝝅
𝟐

𝒅𝒖 

𝑹𝒆𝒑𝒍𝒂𝒄𝒆 𝒖 𝒃𝒚 𝒖 + 𝝅 

𝟒𝑰 = −
𝟐

𝝅
∫

(𝒖 + 𝝅)

𝐬𝐢𝐧(𝒖 + 𝝅)

𝝅
𝟐

−
𝝅
𝟐

𝒅𝒖, 𝟒𝑰 =
𝟐

𝝅
∫

(𝒖 + 𝝅)

𝐬𝐢𝐧(𝒖)

𝝅
𝟐

−
𝝅
𝟐

𝒅𝒖 

𝟒𝑰 =
𝟐

𝝅
∫

𝒖

𝐬𝐢𝐧(𝒖)

𝝅
𝟐

−
𝝅
𝟐

𝒅𝒖 + 𝟐∫
𝟏

𝐬𝐢𝐧(𝒖)

𝝅
𝟐

−
𝝅
𝟐

𝒅𝒖 

𝟒𝑰 =
𝟒

𝝅
∫

𝒖

𝐬𝐢𝐧(𝒖)

𝝅
𝟐

𝟎

𝒅𝒖 + 𝟐(𝟎), 𝟒𝑰 =
𝟒

𝝅
∫ 𝒖

𝝅
𝟐

𝟎

𝒅 (𝐥𝐧 (𝒕𝒂𝒏(
𝒖

𝟐
))) 

𝑨𝒑𝒑𝒍𝒚 𝑰𝒏𝒕𝒆𝒈𝒓𝒂𝒕𝒊𝒐𝒏 𝑩𝒚 𝒑𝒂𝒓𝒕𝒔 

𝟒𝑰 =
𝟒

𝝅
∫ 𝐥𝐧 (𝒕𝒂𝒏 (

𝒖

𝟐
))𝒅𝒖

𝝅
𝟐

𝟎

 

𝑹𝒆𝒑𝒍𝒂𝒄𝒆
𝒖

𝟐
𝒃𝒚 𝒖 

𝟒𝑰 =
𝟒

𝝅
(𝟐∫ 𝐥𝐧(𝒕𝒂𝒏(𝒖)) 𝒅𝒖

𝝅
𝟒

𝟎

) , 𝟒𝑰 =
𝟒

𝝅
(𝟐𝑮), 𝑰 =

𝟐𝑮

𝝅
 

 

2570. Find a closed form: 

∫ ∫ ∫
𝟏

𝟏 − 𝒙𝒚𝒛 + √𝟏 − 𝒙𝒚𝒛
𝒅𝒙𝒅𝒚𝒅𝒛

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

Proposed by Vincent Nguyen-USA 
Solution by  Pratham Prasad-India 
 
By the Property: 

∫ ∫ ∫ 𝒇(𝒙𝒚𝒛)𝒅𝒙𝒅𝒚𝒅𝒛
𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

=
𝟏

𝟐
∫ 𝒇(𝒙) 𝐥𝐧𝟐(𝒙)𝒅𝒙 
𝟏

𝟎

 

𝝍 = ∫ ∫ ∫
𝟏

𝟏 − 𝒙𝒚𝒛 + √𝟏 − 𝒙𝒚𝒛
𝒅𝒙𝒅𝒚𝒅𝒛

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

=
𝟏

𝟐
∫

𝐥𝐧𝟐(𝒙)

𝟏 − 𝒙 + √𝟏− 𝒙
𝒅𝒙

𝟏

𝟎

 

=
𝟏

𝟐
∫
𝐥𝐧𝟐(𝟏 − 𝒙)

𝒙 + √𝒙
𝒅𝒙

𝟏

𝟎

=
𝟏

𝟐
∫
(𝟏 − √𝒙)𝐥𝐧𝟐(𝟏 − 𝒙)

√𝒙(𝟏 − 𝒙)
𝒅𝒙

𝟏

𝟎

= 
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= −
𝟏

𝟔
∫
(𝟏 − √𝒙)

√𝒙
𝒅(𝐥𝐧𝟑(𝟏 − 𝒙))

𝟏

𝟎

=⏞
𝑰𝑩𝑷

−
𝟏

𝟏𝟐
∫ 𝐥𝐧𝟑(𝟏 − 𝒙)𝒙−

𝟑
𝟐𝒅𝒙

𝟏

𝟎

= 

= −
𝟏

𝟏𝟐
𝐥𝐢𝐦
𝒙→𝟏

𝒚→−
𝟏
𝟐

𝝏𝟑

𝝏𝒙𝟑
𝑩(𝒙, 𝒚) = −

𝟏

𝟏𝟐
(−𝟐𝟒𝜻(𝟑) − 𝟏𝟔 𝐥𝐧𝟑(𝟐) + 𝟐𝟒𝜻(𝟐)𝐥𝐧(𝟐)) = 

= 𝟐𝜻(𝟑) +
𝟒

𝟑
𝐥𝐧𝟑(𝟐) −

𝝅𝟐

𝟑
𝐥𝐧 (𝟐)𝝍 = 𝟐𝜻(𝟑) +

𝟏

𝟔
𝐥𝐧𝟑(𝟒) −

𝝅𝟐

𝟔
𝐥𝐧 (𝟒) 

∫ ∫ ∫
𝟏

𝟏 − 𝒙𝒚𝒛 + √𝟏 − 𝒙𝒚𝒛
𝒅𝒙𝒅𝒚𝒅𝒛

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

= 𝟐𝜻(𝟑) +
𝟏

𝟔
𝐥𝐧𝟑(𝟒) −

𝝅𝟐

𝟔
𝐥𝐧 (𝟒) 

 

2571. Find: 

∫ 𝐥𝐧(𝟏 + 𝐭𝐚𝐧𝐡(𝒙) + 𝐜𝐨𝐭𝐡(𝒙))
𝟏

𝟎

𝒅𝒙 

Proposed by Ahmed Nabeel-Iraq 
Solution by Pratham Prasad-India 

∫ 𝐥𝐧(𝟏 + 𝐭𝐚𝐧𝐡(𝒙) + 𝐜𝐨𝐭𝐡(𝒙))
𝟏

𝟎

𝒅𝒙 = 

= ∫ 𝐥𝐧 (𝟏 +
𝒆𝟐𝒙 − 𝟏

𝒆𝟐𝒙 + 𝟏
+
𝒆𝟐𝒙 + 𝟏

𝒆𝟐𝒙 − 𝟏
)

𝟏

𝟎

𝒅𝒙 = ∫ 𝐥𝐧(
𝟑𝒆𝟒𝒙 + 𝟏

𝒆𝟒𝒙 − 𝟏
)

𝟏

𝟎

𝒅𝒙 = 

= 𝐥𝐧(𝟑) + ∫ 𝐥𝐧(𝒆𝟒𝒙 + 𝟏/𝟑) − 𝐥𝐧(𝒆𝟒𝒙 − 𝟏)
𝟏

𝟎

𝒅𝒙 = 𝐥𝐧(𝟑) + ∫ ∫
𝟏

𝒆𝟒𝒙 + 𝒂
𝒅𝒂

𝟏/𝟑

−𝟏

𝟏

𝟎

𝒅𝒙 = 

= 𝐥𝐧(𝟑) + ∫ ∫
𝟏

𝒆𝟒𝒙 + 𝒂
𝒅𝒙

𝟏

𝟎

𝟏
𝟑

−𝟏

𝒅𝒂 = 𝐥𝐧(𝟑) − ∫
𝟏

𝟒𝒂
∫

−𝟒𝒂𝒆−𝟒𝒙

𝟏 + 𝒂𝒆−𝟒𝒙
𝒅𝒙

𝟏

𝟎

𝟏
𝟑

−𝟏

𝒅𝒂 = 

= 𝐥𝐧(𝟑) −
𝟏

𝟒
∫
𝟏

𝒂
(𝐥𝐧(𝟏 + 𝒂𝒆−𝟒) − 𝐥𝐧(𝟏 + 𝒂))

𝟏
𝟑

−𝟏

𝒅𝒂

= 𝐥𝐧(𝟑) +
𝟏

𝟒
(𝑳𝒊𝟐 (−

𝒂

𝒆𝟒
) − 𝑳𝒊𝟐(−𝒂))

−𝟏

𝟏
𝟑

= 

= 𝐥𝐧(𝟑) +
𝟏

𝟒
𝑳𝒊𝟐 (−

𝟏

𝟑𝒆𝟒
) −

𝟏

𝟒
𝑳𝒊𝟐 (

𝟏

𝒆𝟒
) −

𝟏

𝟒
𝑳𝒊𝟐 (−

𝟏

𝟑
) +

𝟏

𝟒
𝑳𝒊𝟐(𝟏) = 

= 𝐥𝐧(𝟑) +
𝟏

𝟒
𝑳𝒊𝟐 (−

𝟏

𝟑𝒆𝟒
) −

𝟏

𝟒
𝑳𝒊𝟐 (

𝟏

𝒆𝟒
) − 

𝟏

𝟒
𝑳𝒊𝟐 (−

𝟏

𝟑
) +

𝟏

𝟒
𝜻(𝟐) 

2572. Find: 

∫ ∫
𝒅𝒙𝒅𝒚

𝐬𝐢𝐧𝟐(𝒙) + 𝐜𝐨𝐬 (𝒚)

𝝅
𝟐

𝟎

𝝅
𝟐

𝟎

 

Proposed by Ankush Kumar Parcha-India 
 



 
www.ssmrmh.ro 

117 RMM-CALCULUS MARATHON 2501-2600 

 

Solution by Mirsadix Muzefferov-Azerbaijan 
 

Ω = ∫ (∫
𝒅𝒙

𝐬𝐢𝐧𝟐(𝒙) + 𝐜𝐨𝐬(𝒚)

𝝅
𝟐

𝟎

)𝒅𝒚

𝝅
𝟐

𝟎

= ∫ (∫

𝒅𝒙
𝐜𝐨𝐬𝟐(𝒙)

𝐬𝐢𝐧𝟐(𝒙)
𝐜𝐨𝐬𝟐(𝒙)

+
𝐜𝐨𝐬(𝒚)
𝐜𝐨𝐬𝟐(𝒙)

𝝅
𝟐

𝟎

)𝒅𝒚

𝝅
𝟐

𝟎

= 

= ∫ (∫
𝒅(𝒕𝒂𝒏𝒙)

(𝒕𝒂𝒏𝒙)𝟐 + 𝒄𝒐𝒔𝒚(𝟏 + 𝐭𝐚𝐧𝟐(𝒙))

𝝅
𝟐

𝟎

)𝒅𝒚

𝝅
𝟐

𝟎

=⏞
𝐭𝐚𝐧(𝒙)=𝒕

∫ (∫
𝒅𝒙

𝒄𝒐𝒔(𝒚) + (𝟏 + 𝐜𝐨𝐬(𝒚))𝒕𝟐

∞

𝟎

)𝒅𝒚

𝝅
𝟐

𝟎

= 

= ∫
𝒅𝒚

√𝐜𝐨𝐬(𝒚) (𝟏 + 𝐜𝐨𝐬(𝒚))

𝝅
𝟐

𝟎

(

 
 
 
 

∫

𝒅√
𝟏 + 𝐜𝐨𝐬(𝒚)
𝐜𝐨𝐬(𝒚)

𝒕

𝟏 + (√
𝟏 + 𝐜𝐨𝐬(𝒚)
𝐜𝐨𝐬(𝒚)

𝒕)

𝟐

∞

𝟎

)

 
 
 
 

𝒅𝒙 = 

∫
𝒅𝒚

√𝐜𝐨𝐬(𝒚) (𝟏 + 𝐜𝐨𝐬(𝒚))

𝝅
𝟐

𝟎

(𝒂𝒓𝒄𝒕𝒂𝒏√
𝟏 + 𝐜𝐨𝐬(𝒚)

𝐜𝐨𝐬(𝒚)
𝒕)|

∞

𝟎

=
𝝅

𝟐
∫ (

𝟏

√𝐜𝐨𝐬 (𝒚)(𝟏 + 𝐜𝐨𝐬(𝒚))
)𝒅𝒚

𝝅
𝟐

𝟎

= 

=⏞

𝐭𝐚𝐧(
𝒚
𝟐
)=𝒕
𝝅

𝟐
∫

(
𝟐

𝟏 + 𝒕𝟐
)

√𝟏 − 𝒕
𝟐

𝟏 + 𝒕𝟐
.
𝟐

𝟏 + 𝒕𝟐

𝟏

𝟎

𝒅𝒕 ==
𝝅

𝟐
√𝟐∫

𝟏

√𝟏 − 𝒕𝟐

𝟏

𝟎

𝒅𝒕 =
𝝅

𝟐
√𝟐𝐚𝐫𝐜𝐬𝐢𝐧(𝟏) =

𝝅𝟐

𝟐√𝟐
 

2573. Find: 

∫∫
𝐚𝐫𝐜𝐭𝐚𝐧(𝒙 + 𝒚)

𝒙 + 𝒚
𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎

 

Proposed by Ankush Kumar Parcha-India 
Solution by Quadri Faruk Temitope-Nigeria 
 

𝑼𝒔𝒊𝒏𝒈  𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒕𝒊𝒐𝒏  𝒃𝒚  𝒑𝒂𝒓𝒕𝒔, 𝑰𝑩𝑷  𝒘𝒆  𝒘𝒓𝒊𝒕𝒆 ∶ 

𝑰 = ∫ [𝐥𝐧(𝒙 + 𝒚)𝒂𝒓𝒄𝒕𝒂𝒏(𝒙 + 𝒚)|
𝟏

𝟎
−

𝟏

𝟎

∫
𝐥𝐧 (𝒙 + 𝒚)

(𝒙 + 𝒚)𝟐 + 𝟏
𝒅𝒚]𝒅𝒙

𝟏

𝟎

 

𝑳𝒆𝒕  𝑰 = 𝑨 − 𝑩  𝒘𝒉𝒆𝒓𝒆: 

𝑨 = ∫ 𝐥𝐧(𝒙 + 𝟏) 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙 + 𝟏)𝒅𝒙;   𝑩 = ∫ ∫
𝐥𝐧 (𝒙 + 𝒚)

(𝒙 + 𝒚)𝟐 + 𝟏
𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝑨𝒑𝒑𝒍𝒚𝒊𝒏𝒈  𝑰𝑩𝑷  𝒂𝒈𝒂𝒊𝒏  𝒕𝒐  𝑨,𝒘𝒆  𝒈𝒆𝒕: 
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𝑨 = [(𝒙 𝐥𝐧(𝒙) − 𝒙)𝒂𝒓𝒄𝒕𝒂𝒏(𝒙)|
𝟐

𝟏
− ∫

𝒙𝒍𝒏(𝒙)

𝒙𝟐 + 𝟏
𝒅𝒙 +∫

𝒙

𝒙𝟐 + 𝟏

𝟐

𝟏

𝒅𝒙
𝟐

𝟏

 

𝑨𝒇𝒕𝒆𝒓  𝒔𝒊𝒎𝒑𝒍𝒊𝒇𝒊𝒄𝒂𝒕𝒊𝒐𝒏𝒔 ∶ 

𝑨 = 𝟐 𝐥𝐧(𝟐) 𝐚𝐫𝐜𝐭𝐚𝐧(𝟐) − 𝟐 𝐚𝐫𝐜𝐭𝐚𝐧(𝟐) +
𝝅

𝟒

−∑(−𝟏)𝒏∫ 𝒙𝟐𝒏+𝟏 𝐥𝐧(𝒙)𝒅𝒙 + {
𝟏

𝟐
𝐥𝐧 (𝒙𝟐 + 𝟏)}

𝟐

𝟏

𝟐

𝟏

∞

𝒏=𝟎

 

𝑨 = 𝝅 𝐥𝐧(𝟐) − 𝟐𝐚𝐫𝐜𝐭𝐚𝐧(
𝟏

𝟐
) 𝐥𝐧(𝟐) − 𝝅 + 𝟐𝐚𝐫𝐜𝐭𝐚𝐧(

𝟏

𝟐
) +

𝝅

𝟒
−
𝟏

𝟒
𝑳𝒊𝟐(−𝟒) −

𝟏

𝟐
𝐥𝐧(𝟐) 𝐥𝐧(𝟓) +

𝟏

𝟐
𝐥𝐧(𝟐) −

𝝅𝟐

𝟒𝟖
 

𝑼𝒔𝒊𝒏𝒈  𝒕𝒉𝒆  𝒊𝒅𝒆𝒏𝒕𝒊𝒕𝒚 ∶   𝕵 |
𝒊

(𝒙 + 𝒚) + 𝒊
| =

𝒊

(𝒙 + 𝒚)𝟐 + 𝟏
  𝒘𝒆  𝒘𝒓𝒊𝒕𝒆:  

𝑩 = 𝕵∫ ∫
𝐥𝐧 (𝒙 + 𝒚)

(𝒙 + 𝒚) + 𝒊
𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎

 

𝑩 = 𝕵(𝑳𝒊𝟐(𝒊(𝒙 + 𝟏)) − 𝑳𝒊𝟐(𝒊𝒙) + 𝐥𝐧(𝟏 + 𝒙) 𝐥𝐧(−𝒊(𝟏 + 𝒙 − 𝒊)) − 𝐥𝐧(𝒙) 𝐥𝐧(−𝒊(𝒙 + 𝒊))𝒅𝒙 

𝑩 = −(−
𝝅

𝟐
+ 𝟐𝒂𝒓𝒄𝒕𝒂𝒏(𝟐) −

𝐥𝐧(𝟓)

𝟐
− 𝟐𝑮 + 𝝅 𝐥𝐧(𝟐) −

𝟏

𝟐
𝐥𝐧(𝟐)) 

𝑰 = 𝑨 − 𝑩 = 𝟐𝕵𝑳𝒊𝟐 (
𝟏

𝟐𝒊
) − 𝟐𝑮 + 𝝅 𝐥𝐧(𝟐) −

𝝅

𝟐
+ 𝟐𝒂𝒓𝒄𝒕𝒂𝒏 (

𝟏

𝟐
) +

𝐥𝐧(𝟓)

𝟐
− 𝐥𝐧 (𝟐) 

2574. Find: 

∫
𝒅𝒙

𝒙√𝟏 + 𝒙𝟑

𝟐

𝟏

 

Proposed by Nguyen Hung Cuong-Vietnam 
Solution by Mirsadix Muzefferov-Azerbaijan 
 

∫
𝒅𝒙

𝒙√𝟏 + 𝒙𝟑

𝟐

𝟏

= ∫
𝒙𝟐𝒅𝒙

𝒙𝟑√𝟏 + 𝒙𝟑
=
𝟏

𝟑
∫
𝒅(𝟏 + 𝒙𝟑)

𝒙𝟑√𝟏 + 𝒙𝟑
=⏞

√𝟏+𝒙𝟑→𝒕 𝟐

𝟏

𝟐

𝟏

 

=
𝟏

𝟑
∫

𝒅𝒕𝟐

(𝒕𝟐 − 𝟏)𝒕

𝟑

√𝟐

=
𝟐

𝟑
∫

𝒕𝒅𝒕

𝒕(𝒕𝟐 − 𝟏)

𝟑

√𝟐

= −
𝟐

𝟑
∫

𝒅𝒕

(𝟏 − 𝒕𝟐)
=

𝟑

√𝟐

 

= −
𝟐

𝟑
𝒍𝒏 |
𝟏 + 𝒕

𝟏 − 𝒕
||
𝟑

√𝟐
= −

𝟐

𝟑
(𝐥𝐧(𝟐) − 𝐥𝐧(

√𝟐 + 𝟏

√𝟐 − 𝟏
)) = 

= −
𝟐

𝟑
(𝐥𝐧(𝟐) − 𝐥𝐧(√𝟐 + 𝟏)

𝟐
) =

𝟐

𝟑
(𝐥𝐧(𝟑 + 𝟐√𝟐) − 𝐥𝐧(𝟐)) = 

=
𝟐

𝟑
𝐥𝐧 (

𝟑 + 𝟐√𝟐

𝟐
) =

𝟐

𝟑
𝐥𝐧(

√𝟐+ 𝟏

√𝟐
) =

𝟐

𝟑
𝐥𝐧 (𝟏 +

𝟏

√𝟐
) 

2575. Find a closed form: 

𝑰 = ∫
𝑳𝒊𝟐[(𝟏 − 𝒚)

𝟑]

(𝒚 − 𝟏)𝟑

∞

𝟏

𝒅𝒚 

Proposed by Aryan Desai-India 
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Solution by Quadri Faruk Temitope-Nigeria 

𝑰 = ∫
𝑳𝒊𝟐[(𝟏 − 𝒚)

𝟑]

(𝒚 − 𝟏)𝟑

∞

𝟏

𝒅𝒚 

𝑰 =⏞
𝒚−𝟏=𝒙

∫
𝑳𝒊𝟐[−𝒙

𝟑]

𝒙𝟑

∞

𝟎

𝒅𝒙, 𝑰 =⏞
𝒙𝟑=𝒑

∫
𝑳𝒊𝟐[−𝒑]

𝒑
(
𝟏

𝟑
𝒑−

𝟐
𝟑)

∞

𝟎

𝒅𝒑 

𝑰 =
𝟏

𝟑
∫ 𝒑−𝟏−

𝟐
𝟑𝑳𝒊𝟐(−𝒑)

∞

𝟎

𝒅𝒑 

𝑰 =⏞
𝑰𝒏𝒕𝒆𝒈𝒓𝒂𝒕𝒊𝒐𝒏 𝑩𝒚 𝑷𝒂𝒓𝒕𝒔

−
𝟏

𝟐
∫ 𝒑−

𝟓
𝟑𝐥𝐧 (𝟏 + 𝒑)

∞

𝟎

𝒅𝒑 

𝑰 =⏞
𝑰𝒏𝒕𝒆𝒈𝒓𝒂𝒕𝒊𝒐𝒏 𝑩𝒚 𝑷𝒂𝒓𝒕𝒔

−
𝟑

𝟐
∫

𝒑−
𝟐
𝟑

𝟏 + 𝐩

∞

𝟎

𝒅𝒑 

𝑰 = −
𝟑

𝟐
𝑩 (
𝟐

𝟑
,
𝟏

𝟑
) , 𝑰 = −

𝟑
𝟐𝚪 (

𝟐
𝟑)𝚪 (

𝟏
𝟑)

𝚪 (
𝟏
𝟑 +

𝟐
𝟑)

 

𝑰 = −
𝟑

𝟐
𝚪 (𝟏 −

𝟏

𝟑
)𝚪(

𝟏

𝟑
) 

𝑰 =⏞
𝑬𝒖𝒍𝒆𝒓 𝑹𝒆𝒇𝒍𝒆𝒄𝒕𝒊𝒐𝒏

−
𝟑

𝟐
𝛑𝐜𝐨𝐬𝐞𝐜 (

𝛑

𝟑
) = −

√𝟑𝝅

𝟐
 

2576. Find: 

∫
𝐬𝐢𝐧(𝟐𝒙) + 𝐬𝐢𝐧(𝒙)

√𝟏 + 𝟓 𝐜𝐨𝐬(𝒙)
𝒅𝒙

𝝅
𝟐

𝟎

 

 
Proposed by Nguyen Hung Cuong-Vietnam 

Solution by Mirsadix Muzefferov-Azerbaijan 
 

Ω = ∫
𝐬𝐢𝐧(𝟐𝒙) + 𝐬𝐢𝐧(𝒙)

√𝟏 + 𝟓𝐜𝐨𝐬(𝒙)
𝒅𝒙

𝝅
𝟐

𝟎

= ∫
𝐬𝐢𝐧(𝒙) (𝟏 + 𝟐𝐜𝐨𝐬(𝒙))

√𝟏 + 𝟓 𝐜𝐨𝐬(𝒙)
𝒅𝒙

𝝅
𝟐

𝟎

= 

−∫
(𝟏 + 𝟐 𝐜𝐨𝐬(𝒙))

√𝟏 + 𝟓𝐜𝐨𝐬(𝒙)

𝝅
𝟐

𝟎

𝒅(𝐜𝐨𝐬(𝒙)) =⏞
𝐜𝐨𝐬(𝒙)→𝒕

−
𝟏

𝟓
∫
(𝟏 + 𝟐𝒕)

√𝟏 + 𝟓𝒕
𝒅((𝟏 + 𝟓𝒕)

𝟎

𝟏

= 

−
𝟏

𝟓
∫ (𝟏 + 𝟐𝒕)𝒅(𝟐√𝟏 + 𝟓𝒕
𝟎

𝟏

) = − 
𝟐

𝟓
∫ (𝟏 + 𝟐𝒕)𝒅(√𝟏 + 𝟓𝒕)
𝟎

𝟏

=⏞
√𝟏+𝟓𝒕→𝒖

 

𝟐

𝟓
∫

(𝟐𝒖𝟐 + 𝟑) 

𝟓
𝒅𝒖 =

𝟐

𝟐𝟓

√𝟔

𝟏

∫ (𝟐𝒖𝟐 + 𝟑)
√𝟔

𝟏

𝒅𝒖 

{𝟏 + 𝟓𝒕 = 𝒖𝟐 →   𝒕 =
𝒖𝟐 − 𝟏

𝟓
→   𝟏 + 𝟐𝒕 = 𝟏 +

𝟐𝒖𝟐 − 𝟐

𝟓
=
𝟐𝒖𝟐 + 𝟑

𝟓
} 
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𝟐

𝟐𝟓
∫ (𝟐𝒖𝟐 + 𝟑)
√𝟔

𝟏

𝒅𝒖 =
𝟐

𝟐𝟓
(
𝟐

𝟑
𝒖𝟑 + 𝟑𝒖)|

√𝟔

𝟏
=
𝟐

𝟐𝟓
(𝟕√𝟔 −

𝟏𝟏

𝟑
) 

 

2577. Find a closed form: 

𝝍 = ∫
𝒙 + 𝟏

𝒙
𝐥𝐨𝐠(𝟐𝒙 + 𝟏)

𝟏

𝟎

𝒅𝒙 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution by Pratham Prasad-India 

𝝍 = ∫
𝒙 + 𝟏

𝒙
𝐥𝐨𝐠(𝟐𝒙 + 𝟏)

𝟏

𝟎

𝒅𝒙 = ∫ 𝐥𝐨𝐠 (𝟐𝒙 + 𝟏)
𝟏

𝟎

𝒅𝒙 +∫
𝐥𝐨𝐠(𝟐𝒙 + 𝟏)

𝒙

𝟏

𝟎

 𝒅𝒙 

= [𝒙𝒍𝒐𝒈(𝟐𝒙 + 𝟏)]𝟎
𝟏 −∫

𝟐𝐱

𝟐𝐱 + 𝟏

𝟏

𝟎

𝒅𝒙 + ∫
𝐥𝐨𝐠(𝟐𝒙 + 𝟏)

𝒙

𝟏

𝟎

 𝒅𝒙 

= 𝐥𝐨𝐠(𝟑) − ∫ 𝟏
𝟏

𝟎

𝒅𝒙 +∫
𝟏

𝟐𝐱 + 𝟏

𝟏

𝟎

 𝒅𝒙 +∫
𝐥𝐨𝐠(𝟐𝒙 + 𝟏)

𝒙

𝟏

𝟎

 𝒅𝒙 

= 𝐥𝐨𝐠(𝟑) − 𝟏 + [
𝟏

𝟐
𝐥𝐨𝐠(𝟐𝒙 + 𝟏)]

𝟎

𝟏

+∫
𝐥𝐨𝐠(𝟐𝒙 + 𝟏)

𝒙

𝟏

𝟎

 𝒅𝒙 

= 𝐥𝐨𝐠(𝟑) − 𝟏 +
𝟏

𝟐
𝐥𝐨𝐠(𝟑) + ∫

𝐥𝐨𝐠(𝟐𝒙 + 𝟏)

𝒙

𝟏

𝟎

 𝒅𝒙 =
𝟑

𝟐
𝐥𝐨𝐠(𝟑) − 𝟏 + ∫

𝐥𝐨𝐠(𝒙 + 𝟏)

𝒙

𝟐

𝟎

 𝒅𝒙 = 

=
𝟑

𝟐
𝐥𝐨𝐠(𝟑) − 𝟏 +∫

𝐥𝐨𝐠(𝒙 + 𝟏)

𝒙

𝟏

𝟎

 𝒅𝒙 +∫
𝐥𝐨𝐠(𝒙 + 𝟏)

𝒙

𝟐

𝟏

 𝒅𝒙 

=
𝟑

𝟐
𝐥𝐨𝐠(𝟑) − 𝟏 +

𝟏

𝟐
𝜻(𝟐) +∫

𝐥𝐨𝐠 (
𝟏
𝒙 + 𝟏)

𝒙

𝟏

𝟏
𝟐

 𝒅𝒙 

=
𝟑

𝟐
𝐥𝐨𝐠(𝟑) − 𝟏 +

𝟏

𝟐
𝜻(𝟐) + ∫

𝐥𝐨𝐠(𝟏 + 𝒙)

𝒙

𝟏

𝟏
𝟐

 𝒅𝒙 − ∫
𝐥𝐨𝐠(𝒙)

𝒙

𝟏

𝟏
𝟐

 𝒅𝒙 

=
𝟑

𝟐
𝐥𝐨𝐠(𝟑) − 𝟏 +

𝟏

𝟐
𝜻(𝟐) + ∫

𝐥𝐨𝐠(𝟏 + 𝒙)

𝒙

𝟏

𝟎

 𝒅𝒙 −∫
𝐥𝐨𝐠(𝟏 + 𝒙)

𝒙

𝟏
𝟐

𝟎

 𝒅𝒙 − [
𝟏

𝟐
𝐥𝐨𝐠𝟐(𝒙)]

𝟏
𝟐

𝟏

 

=
𝟑

𝟐
𝐥𝐨𝐠(𝟑) − 𝟏 +

𝟏

𝟐
𝜻(𝟐) +

𝟏

𝟐
𝜻(𝟐) + 𝑳𝒊𝟐 (−

𝟏

𝟐
) +

𝟏

𝟐
𝐥𝐨𝐠𝟐(𝟐) 

=
𝟑

𝟐
𝐥𝐨𝐠(𝟑) − 𝟏 + 𝜻(𝟐) + 𝑳𝒊𝟐 (−

𝟏

𝟐
) +

𝟏

𝟐
𝐥𝐨𝐠𝟐(𝟐) 

𝝍 =
𝟑

𝟐
𝐥𝐨𝐠(𝟑) − 𝟏 +

𝝅𝟐

𝟔
+ 𝑳𝒊𝟐 (−

𝟏

𝟐
) +

𝟏

𝟐
𝐥𝐨𝐠𝟐(𝟐) 

∫
𝒙+ 𝟏

𝒙
𝐥𝐨𝐠(𝟐𝒙 + 𝟏)

𝟏

𝟎

𝒅𝒙 =
𝟑

𝟐
𝐥𝐨𝐠(𝟑) − 𝟏 +

𝝅𝟐

𝟔
+ 𝑳𝒊𝟐 (−

𝟏

𝟐
) +

𝟏

𝟐
𝐥𝐨𝐠𝟐(𝟐) 
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2578. Find a closed form: 

𝝍 = ∫ ∫
𝒙𝟐 𝐥𝐧(𝒙 + 𝟏) 𝐥𝐧(𝒚 + 𝟐)

(𝒙 + 𝟏)(𝒚 + 𝟏)
𝒅𝒙𝒅𝒚

𝟏

𝟎

 
𝟏

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution by Pratham Prasad-India 

𝝍 = ∫ ∫
𝒙𝟐 𝐥𝐧(𝒙 + 𝟏) 𝐥𝐧(𝒚 + 𝟐)

(𝒙 + 𝟏)(𝒚 + 𝟏)
𝒅𝒙𝒅𝒚

𝟏

𝟎

 
𝟏

𝟎

 

= (∫
𝒙𝟐 𝐥𝐧(𝒙 + 𝟏)

(𝒙 + 𝟏)
𝒅𝒙

𝟏

𝟎

)(∫
𝐥𝐧(𝒚 + 𝟐)

(𝒚 + 𝟏)
𝒅𝒚

𝟏

𝟎

) 

= (∫
(𝒙 + 𝟏)𝟐 𝐥𝐧(𝒙 + 𝟏)

(𝒙 + 𝟏)
𝒅𝒙

𝟏

𝟎

− 𝟐∫
(𝒙 + 𝟏) 𝐥𝐧(𝒙 + 𝟏)

(𝒙 + 𝟏)
𝒅𝒙

𝟏

𝟎

+∫
𝐥𝐧(𝒙 + 𝟏)

(𝒙 + 𝟏)
𝒅𝒙

𝟏

𝟎

)(∫
𝐥𝐧(𝒚 + 𝟐)

(𝒚 + 𝟏)
𝒅𝒚

𝟏

𝟎

) 

= (∫ (𝒙 + 𝟏)𝐥𝐧 (𝒙 + 𝟏)𝒅𝒙
𝟏

𝟎

− 𝟐∫ 𝐥𝐧(𝒙 + 𝟏)𝒅𝒙
𝟏

𝟎

+∫
𝐥𝐧(𝒙 + 𝟏)

(𝒙 + 𝟏)
𝒅𝒙

𝟏

𝟎

)(∫
𝐥𝐧(𝒚 + 𝟐)

(𝒚 + 𝟏)
𝒅𝒚

𝟏

𝟎

) 

= (𝑰𝟏 − 𝟐𝑰𝟐 + 𝑰𝟑)(𝑰𝟒) 

𝑰𝟏 = ∫ (𝒙 + 𝟏)𝐥𝐧 (𝒙 + 𝟏)𝒅𝒙
𝟏

𝟎

 

𝑰𝟏 =⏞
𝑰𝑩𝑷

[
(𝒙 + 𝟏)𝟐

𝟐
𝐥𝐧(𝒙 + 𝟏)]

𝟎

𝟏

−
𝟏

𝟐
∫ (𝒙 + 𝟏)
𝟏

𝟎

𝒅𝒙 

𝑰𝟏 = 𝟐 𝐥𝐧(𝟐) −
𝟏

𝟐
(
𝟏

𝟐
+ 𝟏) 

𝑰𝟏 = 𝟐 𝐥𝐧(𝟐) −
𝟑

𝟒
 

𝑰𝟐 = ∫ 𝐥𝐧(𝒙 + 𝟏)𝒅𝒙
𝟏

𝟎

 

𝑰𝟐 =⏞
𝑰𝑩𝑷

[(𝒙 + 𝟏) 𝐥𝐧(𝟏 + 𝒙)]𝟎
𝟏 −∫

𝒙 + 𝟏

𝒙 + 𝟏

𝟏

𝟎

𝒅𝒙 

𝑰𝟐 = 𝟐𝐥𝐧 (𝟐) − ∫ 𝟏
𝟏

𝟎

𝒅𝒙 

𝑰𝟐 = 𝟐𝐥𝐧 (𝟐) − 𝟏 

𝑰𝟑 = ∫
𝐥𝐧(𝒙 + 𝟏)

(𝒙 + 𝟏)
𝒅𝒙

𝟏

𝟎

 

𝑰𝟑 =⏞
𝐥𝐧(𝟏+𝒙)=𝒕

∫ 𝒕𝒅𝒕
𝐥𝐧 (𝟐)

𝟎

 

𝑰𝟑 =
𝟏

𝟐
𝐥𝐧𝟐(𝟐) 
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𝑰𝟏 − 𝟐𝑰𝟐 + 𝑰𝟑 = 𝟐 𝐥𝐧(𝟐) −
𝟑

𝟒
− 𝟐(𝟐 𝐥𝐧(𝟐) − 𝟏) +

𝟏

𝟐
𝐥𝐧𝟐(𝟐) 

𝑰𝟏 − 𝟐𝑰𝟐 + 𝑰𝟑 = −𝟐 𝐥𝐧(𝟐) +
𝟓

𝟒
+
𝟏

𝟐
𝐥𝐧𝟐(𝟐) 

𝑰𝟒 = ∫
𝐥𝐧(𝒚 + 𝟐)

(𝒚 + 𝟏)
𝒅𝒚

𝟏

𝟎

 

𝑰𝟒 =⏞
𝒙=𝒚+𝟏

∫
𝐥𝐧(𝒚 + 𝟏)

𝒚
𝒅𝒚

𝟐

𝟏

 

𝑰𝟒 = ∫
𝐥𝐧(𝒚 + 𝟏)

𝒚
𝒅𝒚

𝟐

𝟎

−∫
𝐥𝐧(𝒚 + 𝟏)

𝒚
𝒅𝒚

𝟏

𝟎

 

𝑰𝟒 = −𝑳𝒊𝟐(−𝟐) −
𝟏

𝟐
𝜻(𝟐) 

 
𝝍 = (𝑰𝟏 − 𝟐𝑰𝟐 + 𝑰𝟑)(𝑰𝟒) 

𝝍 = (−𝟐 𝐥𝐧(𝟐) +
𝟓

𝟒
+
𝟏

𝟐
𝐥𝐧𝟐(𝟐))(−𝑳𝒊𝟐(−𝟐) −

𝟏

𝟐
𝜻(𝟐)) 

𝝍 = (𝟐 𝐥𝐧(𝟐) −
𝟓

𝟒
−
𝟏

𝟐
𝐥𝐧𝟐(𝟐))(𝑳𝒊𝟐(−𝟐) +

𝟏

𝟐
𝜻(𝟐)) 

𝝍 = 𝟐 𝐥𝐧(𝟐)𝑳𝒊𝟐(−𝟐) −
𝟓

𝟒
𝑳𝒊𝟐(−𝟐) −

𝟏

𝟐
𝐥𝐧𝟐(𝟐) 𝑳𝒊𝟐(−𝟐) + 𝜻(𝟐) 𝐥𝐧(𝟐) −

𝟓

𝟒
𝜻(𝟐)

−
𝟏

𝟐
𝜻(𝟐)𝐥𝐧𝟐(𝟐) 

∫ ∫
𝒙𝟐 𝐥𝐧(𝒙 + 𝟏) 𝐥𝐧(𝒚 + 𝟐)

(𝒙 + 𝟏)(𝒚 + 𝟏)
𝒅𝒙𝒅𝒚

𝟏

𝟎

 
𝟏

𝟎

= 𝟐 𝐥𝐧(𝟐)𝑳𝒊𝟐(−𝟐) −
𝟓

𝟒
𝑳𝒊𝟐(−𝟐) −

𝟏

𝟐
𝐥𝐧𝟐(𝟐) 𝑳𝒊𝟐(−𝟐)

+𝜻(𝟐) 𝐥𝐧(𝟐) −
𝟓

𝟒
𝜻(𝟐) −

𝟏

𝟐
𝜻(𝟐)𝐥𝐧𝟐(𝟐)

 

 

2579. Find a closed form: 

∫
(𝒙 − 𝟏)𝟐𝑳𝒊𝟑(−𝒙)

𝒙 + 𝟏
𝒅𝒙

𝟏

𝟎

, 𝜻(𝟑) → 𝑨𝒑𝒆𝒓𝒚′𝒔  𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution 1 by Pham Duc Nam-Vietnam 

∫
(𝒙 − 𝟏)𝟐𝑳𝒊𝟑(−𝒙)

𝒙 + 𝟏
𝒅𝒙

𝟏

𝟎

→ {

𝒖 = 𝑳𝒊𝟑(−𝒙)

𝒅𝒗 =
(𝒙 − 𝟏)𝟐

𝟏 + 𝒙
𝒅𝒙
→

{
 
 

 
 𝒅𝒖 =

𝑳𝒊𝟐(−𝒖)

𝒙

𝒗 = (
𝒙𝟐

𝟐
− 𝟑𝒙 + 𝟒 𝐥𝐧(𝟏 + 𝒙))

 

Ω = (
𝒙𝟐

𝟐
− 𝟑𝒙 + 𝟒 𝐥𝐧(𝟏 + 𝒙))𝑳𝒊𝟑(−𝒙)|

𝟏

𝟎
− ∫

𝑳𝒊𝟐(−𝒖)

𝒙
(
𝒙𝟐

𝟐
− 𝟑𝒙 + 𝟒 𝐥𝐧(𝟏 + 𝒙))𝒅𝒙 =

𝟏

𝟎
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𝟏𝟓

𝟖
𝜻(𝟑) − 𝟑 𝐥𝐧(𝟐) 𝜻(𝟑)

−
𝟏

𝟐
∫ 𝒙𝑳𝒊𝟐(−𝒙)𝒅𝒙 + 𝟑∫ 𝑳𝒊𝟐(−𝒙)𝒅𝒙 − 𝟒∫

𝐥𝐧 (𝟏 + 𝒙)𝑳𝒊𝟐(−𝒙)

𝒙
𝒅𝒙

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝑨 = ∫ 𝒙𝑳𝒊𝟐(−𝒙)𝒅𝒙 = ∑
(−𝟏)𝒏

𝒏𝟐
∫ 𝒙𝒏+𝟏
𝟏

𝟎

𝒅𝒙 = ∑
(−𝟏)𝒏

𝒏𝟐(𝒏 + 𝟐)

∞

𝒏=𝟏

∞

𝒏=𝟏

= −
𝝅𝟐

𝟐𝟒
+
𝟏

𝟖

𝟏

𝟎

 

𝑩 = ∫ 𝑳𝒊𝟐(−𝒙)𝒅𝒙 =
𝟏

𝟎

∑
(−𝟏)𝒏

𝒏𝟐

∞

𝒏=𝟏

∫ 𝒙𝒏𝒅𝒙
𝟏

𝟎

= ∑
(−𝟏)𝒏

𝒏𝟐(𝒏 + 𝟏)

∞

𝒏=𝟏

= −
𝝅𝟐

𝟏𝟐
+ 𝟐 𝐥𝐧(𝟐) − 𝟏 

𝑪 = ∫
𝐥𝐧 (𝟏 + 𝒙)𝑳𝒊𝟐(−𝒙)

𝒙
𝒅𝒙

𝟏

𝟎

= −∫ 𝑳𝒊𝟐(−𝒙)𝒅(𝑳𝒊𝟐(−𝒙)) =
𝟏

𝟎

−
𝟏

𝟐
𝑳𝒊𝟐
𝟐(−𝒙)|

𝟏

𝟎
= −

𝝅𝟒

𝟐𝟖𝟖
 

Ω =
𝟏𝟓

𝟖
𝜻(𝟑) − 𝟑 𝐥𝐧(𝟐) 𝜻(𝟑) −

𝟏

𝟐
𝑨 + 𝟑𝑩 − 𝟒𝑪

=
𝟏𝟓

𝟖
𝜻(𝟑) − 𝟑 𝐥𝐧(𝟐) 𝜻(𝟑) −

𝟏

𝟐
(−
𝝅𝟐

𝟐𝟒
+
𝟏

𝟖
) + 

𝟑(−
𝝅𝟐

𝟏𝟐
+ 𝟐 𝐥𝐧(𝟐) − 𝟏) − 𝟒(−

𝝅𝟒

𝟐𝟖𝟖
) 

∫
(𝒙 − 𝟏)𝟐𝑳𝒊𝟑(−𝒙)

𝒙 + 𝟏
𝒅𝒙

𝟏

𝟎

=
𝟏𝟓

𝟖
𝜻(𝟑) − 𝟑 𝐥𝐧(𝟐)𝜻(𝟑) +

𝝅𝟒

𝟕𝟐
−
𝟏𝟏

𝟒𝟖
𝝅𝟐 + 𝟔𝒍𝒏(𝟐) −

𝟒𝟗

𝟏𝟔
 

Solution 2 by Pratham Prasad-India 

∫
(𝒙 − 𝟏)𝟐𝑳𝒊𝟑(−𝒙)

𝒙 + 𝟏
𝒅𝒙

𝟏

𝟎

= ∫
(𝒙 + 𝟏)𝟐𝑳𝒊𝟑(−𝒙)

𝒙 + 𝟏
𝒅

𝟏

𝟎

𝒙 − 𝟒∫ 𝑳𝒊𝟑(−𝒙)𝒅𝒙 + 𝟒∫
𝑳𝒊𝟑(−𝒙)

𝟏 + 𝒙
𝒅𝒙 =

𝟏

𝟎

𝟏

𝟎

 

∫ 𝒙𝑳𝒊𝟑(−𝒙)𝒅𝒙
𝟏

𝟎

− 𝟑∫ 𝑳𝒊𝟑(−𝒙)𝒅𝒙 + 𝟒∫
𝑳𝒊𝟑(−𝒙)

𝟏 + 𝒙
𝒅𝒙 = 𝑰𝟏 − 𝟑𝑰𝟐 + 𝟒𝑰𝟑

𝟏

𝟎

𝟏

𝟎

 

𝑰𝟏 = ∫ 𝒙𝑳𝒊𝟑(−𝒙)𝒅𝒙
𝟏

𝟎

= ∫ 𝒙∑
(−𝒙)𝒏

𝒏𝟑

∞

𝒏=𝟏

𝒅𝒙 =
𝟏

𝟎

∑
(−𝟏)𝒏

𝒏𝟑

∞

𝒏=𝟏

∫ 𝒙𝒏+𝟏
𝟏

𝟎

𝒅𝒙 = 

∑(−𝟏)𝒏 {
𝟏

𝒏𝟐(𝒏 + 𝟐)
}

∞

𝒏=𝟏

=
𝟏

𝟐
∑
(−𝟏)𝒏

𝒏𝟑

∞

𝒏=𝟏

−
𝟏

𝟒
∑
(−𝟏)𝒏

𝒏𝟐

∞

𝒏=𝟏

−
𝟏

𝟖
∑
(−𝟏)𝒏

𝒏 + 𝟐

∞

𝒏=𝟏

+
𝟏

𝟖
∑
(−𝟏)𝒏

𝒏
=

∞

𝒏=𝟏
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−
𝟑

𝟖
𝜻(𝟑) +

𝟏

𝟖
𝜻(𝟐) −

𝟏

𝟖
(
𝟏

𝟐
− 𝐥𝐧(𝟐)) +

𝟏

𝟖
(− 𝐥𝐧(𝟐)) = −

𝟑

𝟖
𝜻(𝟑) +

𝟏

𝟖
𝜻(𝟐) −

𝟏

𝟏𝟔
 

𝑰𝟐 = ∫ 𝑳𝒊𝟑(−𝒙)𝒅𝒙 = ∫ ∑
(−𝒙)𝒏

𝒏𝟑

∞

𝒏=𝟏

𝒅𝒙 =
𝟏

𝟎

𝟏

𝟎

∑
(−𝟏)𝒏

𝒏𝟑

∞

𝒏=𝟏

∫ 𝒙𝒏
𝟏

𝟎

𝒅𝒙 = ∑
(−𝟏)𝒏

𝒏𝟑(𝒏 + 𝟏)
=

∞

𝒏=𝟏

 

∑
(−𝟏)𝒏

𝒏𝟑

∞

𝒏=𝟏

−∑
(−𝟏)𝒏

𝒏𝟐

∞

𝒏=𝟏

−∑
(−𝟏)𝒏

𝒏 + 𝟏

∞

𝒏=𝟏

+∑
(−𝟏)𝒏

𝒏
=

∞

𝒏=𝟏

−
𝟑

𝟒
𝜻(𝟑) +

𝟏

𝟐
𝜻(𝟐) − 𝐥𝐧(𝟐) − 𝐥𝐧(𝟐)

+ 𝟏 = 

−
𝟑

𝟒
𝜻(𝟑) +

𝟏

𝟐
𝜻(𝟐) − 𝟐 𝐥𝐧(𝟐) + 𝟏 

𝑰𝟑 = ∫
𝑳𝒊𝟑(−𝒙)

𝟏 + 𝒙
𝒅𝒙 =

𝟏

𝟎

𝑳𝒊𝟑(−𝒙)𝐥𝐧 (𝒙 + 𝟏)|
𝟏

𝟎

− ∫
𝑳𝒊𝟐(−𝒙)

𝒙
𝐥𝐧(𝟏 + 𝒙)𝒅𝒙 = 𝑳𝒊𝟑(−𝟏) 𝐥𝐧(𝟐) +

𝟏

𝟎

 

(𝑳𝒊𝟐(−𝒙))
𝟐

𝟐
|
𝟏

𝟎
= 𝐥𝐧(𝟐) (−

𝟑

𝟒
𝜻(𝟑)) +

𝟏

𝟐
(𝑳𝒊𝟐(−𝟐))

𝟐
= 𝐥𝐧(𝟐)(−

𝟑

𝟒
𝜻(𝟑)) +

𝟏

𝟐
(−
𝟏

𝟐
𝜻(𝟐))

𝟐

= 
𝝅𝟒

𝟐𝟖𝟖
−
𝟑

𝟒
𝜻(𝟑) 𝐥𝐧(𝟐) 

∫
(𝒙 − 𝟏)𝟐𝑳𝒊𝟑(−𝒙)

𝒙 + 𝟏
𝒅𝒙

𝟏

𝟎

= 𝑰𝟏 − 𝟑𝑰𝟐 + 𝟒𝑰𝟑 = −
𝟑

𝟖
𝜻(𝟑) +

𝟏

𝟖
𝜻(𝟐) −

𝟏

𝟏𝟔
− 

𝟑(−
𝟑

𝟒
𝜻(𝟑) +

𝟏

𝟐
𝜻(𝟐) − 𝟐 𝐥𝐧(𝟐) + 𝟏) + 𝟒 (

𝝅𝟒

𝟐𝟖𝟖
−
𝟑

𝟒
𝜻(𝟑) 𝐥𝐧(𝟐)) 

∫
(𝒙 − 𝟏)𝟐𝑳𝒊𝟑(−𝒙)

𝒙 + 𝟏
𝒅𝒙

𝟏

𝟎

=
𝟏𝟓

𝟖
𝜻(𝟑) − 𝟑 𝐥𝐧(𝟐)𝜻(𝟑) +

𝝅𝟒

𝟕𝟐
−
𝟏𝟏

𝟒𝟖
𝝅𝟐 + 𝟔𝒍𝒏(𝟐) −

𝟒𝟗

𝟏𝟔
 

 
2580. Find: 

∫ ∫
(𝒂 − 𝒙𝟐𝒚𝟐)𝒅𝒙𝒅𝒚

(𝟏 + 𝒙)(𝟏 + 𝒚)(𝟏 + 𝒙𝟐𝒚𝟐)

𝟏

𝟎

𝟏

𝟎

 

Proposed by Bui Hong Suc-Vietnam 
Solution by Pratham Prasad-India 

∫ ∫
(𝒂 − 𝒙𝟐𝒚𝟐)𝒅𝒙𝒅𝒚

(𝟏 + 𝒙)(𝟏 + 𝒚)(𝟏 + 𝒙𝟐𝒚𝟐)

𝟏

𝟎

=
𝟏

𝟎

 

= ∫ ∫
(𝒂 + 𝟏)𝒅𝒙𝒅𝒚

(𝟏 + 𝒙)(𝟏 + 𝒚)(𝟏 + 𝒙𝟐𝒚𝟐)
− ∫ ∫

𝒅𝒙𝒅𝒚

(𝟏 + 𝒙)(𝟏 + 𝒚)

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

= (𝒂 + 𝟏)∫ ∫
𝒅𝒙𝒅𝒚

(𝟏 + 𝒙)(𝟏 + 𝒚)(𝟏 + 𝒙𝟐𝒚𝟐)
− 𝐥𝐧𝟐(𝟐)

𝟏

𝟎

𝟏

𝟎
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= (𝒂 + 𝟏)∫ (∫
𝒅𝒙

(𝟏 + 𝒙)(𝟏 + 𝒚)(𝟏 + 𝒙𝟐𝒚𝟐)

𝟏

𝟎

)𝒅𝒚
𝟏

𝟎

− 𝐥𝐧𝟐(𝟐) 

= (𝒂 + 𝟏)∫
𝟏

(𝟏 + 𝒚)(𝟏 + 𝒚𝟐)
(∫

((𝟏 + 𝒙𝟐𝒚𝟐) + 𝒚𝟐(𝟏 − 𝒙)(𝟏 + 𝒙))𝒅𝒙

(𝟏 + 𝒙)(𝟏 + 𝒙𝟐𝒚𝟐)

𝟏

𝟎

)𝒅𝒚
𝟏

𝟎

− 𝐥𝐧𝟐(𝟐) 

= (𝒂 + 𝟏)∫
𝟏

(𝟏 + 𝒚)(𝟏 + 𝒚𝟐)
(∫

𝟏

𝟏 + 𝒙

𝟏

𝟎

+
𝒚𝟐

𝟏 + 𝒙𝟐𝒚𝟐
−

𝒚𝟐𝒙

𝟏 + 𝒙𝟐𝒚𝟐
𝒅𝒙)𝒅𝒚

𝟏

𝟎

− 𝐥𝐧𝟐(𝟐) 

= (𝒂 + 𝟏)∫
𝟏

(𝟏 + 𝒚)(𝟏 + 𝒚𝟐)
(∫

𝟏

𝟏 + 𝒙

𝟏

𝟎

𝒅𝒙 + ∫
𝒚𝟐

𝟏 + 𝒙𝟐𝒚𝟐
𝒅𝒙

𝟏

𝟎

−∫
𝒚𝟐𝒙

𝟏 + 𝒙𝟐𝒚𝟐

𝟏

𝟎

𝒅𝒙 )𝒅𝒚
𝟏

𝟎

− 𝐥𝐧𝟐(𝟐) 

= (𝒂 + 𝟏)∫
𝟏

(𝟏 + 𝒚)(𝟏 + 𝒚𝟐)
(𝐥𝐧 (𝟐) + 𝒚∫

𝟏

𝟏 + 𝒙𝟐𝒚𝟐
𝒅(𝒙𝒚)

𝟏

𝟎

𝟏

𝟎

−
𝟏

𝟐
∫

𝟏

𝟏 + 𝒙𝟐𝒚𝟐

𝟏

𝟎

𝒅(𝒙𝟐𝒚𝟐) )𝒅𝒚 − 𝐥𝐧𝟐(𝟐) 

= (𝒂 + 𝟏)∫
𝟏

(𝟏 + 𝒚)(𝟏 + 𝒚𝟐)
(𝐥𝐧(𝟐) + 𝒚𝒂𝒓𝒄𝒕𝒂𝒏(𝒚) −

𝟏

𝟐
𝐥𝐧 (𝟏 + 𝒚𝟐)) 𝒅𝒚

𝟏

𝟎

− 𝐥𝐧𝟐(𝟐) 

= (𝒂 + 𝟏)∫
𝐥𝐧 (𝟐)

(𝟏 + 𝒚)(𝟏 + 𝒚𝟐)
𝒅𝒚

𝟏

𝟎

+ (𝒂 + 𝟏)∫
𝐲𝐚𝐫𝐜𝐭𝐚𝐧(𝐲)

(𝟏 + 𝒚)(𝟏 + 𝒚𝟐)
𝒅𝒚

𝟏

𝟎

−
𝟏

𝟐
(𝒂 + 𝟏)∫

𝐥𝐧 (𝟏 + 𝒚𝟐)

(𝟏 + 𝒚)(𝟏 + 𝒚𝟐)
𝒅𝒚

𝟏

𝟎

− 𝐥𝐧𝟐(𝟐) 

=
(𝒂 + 𝟏)

𝟐
𝐥𝐧 (𝟐)∫

𝟏

(𝟏 + 𝒚)
𝒅𝒚

𝟏

𝟎

+
(𝒂 + 𝟏)

𝟐
𝐥𝐧 (𝟐)∫

𝟏

(𝟏 + 𝒚𝟐)
𝒅𝒚

𝟏

𝟎

−
(𝒂 + 𝟏)

𝟒
𝐥𝐧 (𝟐)∫

𝟐𝐲

(𝟏 + 𝒚𝟐)
𝒅𝒚

𝟏

𝟎

+
𝟏

𝟐
(𝒂 + 𝟏)∫

𝐚𝐫𝐜𝐭𝐚𝐧(𝐲)

(𝟏 + 𝒚𝟐)
𝒅𝒚

𝟏

𝟎

+
𝟏

𝟐
(𝒂 + 𝟏)∫

𝐲 𝐚𝐫𝐜𝐭𝐚𝐧(𝐲)

(𝟏 + 𝒚𝟐)
𝒅𝒚

𝟏

𝟎

−
𝟏

𝟐
(𝒂 + 𝟏)∫

𝐚𝐫𝐜𝐭𝐚𝐧(𝐲)

(𝟏 + 𝒚)
𝒅𝒚

𝟏

𝟎

−
𝟏

𝟒
(𝒂 + 𝟏)∫

𝐥𝐧(𝟏 + 𝒚𝟐)

(𝟏 + 𝒚𝟐)
𝒅𝒚

𝟏

𝟎

+
𝟏

𝟒
(𝒂 + 𝟏)∫

𝐲 𝐥𝐧(𝟏 + 𝒚𝟐)

(𝟏 + 𝒚𝟐)
𝒅𝒚

𝟏

𝟎

−
𝟏

𝟒
(𝒂 + 𝟏)∫

𝐥𝐧 (𝟏 + 𝒚𝟐)

(𝟏 + 𝒚)
𝒅𝒚

𝟏

𝟎

− 𝐥𝐧𝟐(𝟐) 

=
(𝒂 + 𝟏)

𝟐
𝐥𝐧(𝟐) 𝑰𝟏 +

(𝒂 + 𝟏)

𝟐
𝐥𝐧(𝟐) 𝑰𝟐 −

(𝒂 + 𝟏)

𝟒
𝐥𝐧(𝟐) 𝑰𝟑 +

𝟏

𝟐
(𝒂 + 𝟏)𝑰𝟒 +

𝟏

𝟐
(𝒂 + 𝟏)𝑰𝟓

−
𝟏

𝟐
(𝒂 + 𝟏)𝑰𝟔 −

𝟏

𝟒
(𝒂 + 𝟏)𝑰𝟕 +

𝟏

𝟒
(𝒂 + 𝟏)𝑰𝟖 −

𝟏

𝟒
(𝒂 + 𝟏)𝑰𝟗 − 𝐥𝐧

𝟐(𝟐) 
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=
(𝒂+ 𝟏)

𝟐
𝐥𝐧(𝟐) (𝐥𝐧(𝟐)) +

(𝒂 + 𝟏)

𝟐
𝐥𝐧(𝟐) (

𝝅

𝟒
) −

(𝒂 + 𝟏)

𝟒
𝐥𝐧 (𝟐)(𝐥𝐧(𝟐)) +

𝟏

𝟐
(𝒂 + 𝟏) (

𝝅𝟐

𝟑𝟐
)

+
𝟏

𝟐
(𝒂 + 𝟏) (

𝟏

𝟖
(𝟒𝑮 − 𝝅 𝐥𝐧(𝟐))) −

𝟏

𝟐
(𝒂 + 𝟏) (

𝝅

𝟖
𝐥𝐧(𝟐))

−
𝟏

𝟒
(𝒂 + 𝟏) (

𝝅

𝟐
𝐥𝐧(𝟐) − 𝑮) +

𝟏

𝟒
(𝒂 + 𝟏) (

𝟏

𝟒
𝐥𝐧𝟐(𝟐))

−
𝟏

𝟒
(𝒂 + 𝟏) (

𝟑

𝟒
𝐥𝐧𝟐(𝟐) −

𝝅𝟐

𝟒𝟖
) − 𝐥𝐧𝟐(𝟐) 

=
𝟏

𝟖
(𝒂 + 𝟏) (𝝅 𝐥𝐧(𝟐) + 𝟐 𝐥𝐧𝟐(𝟐) +

𝝅𝟐

𝟖
+ 𝟐𝑮 −

𝝅

𝟐
𝐥𝐧(𝟐) −

𝝅

𝟐
𝐥𝐧(𝟐) − 𝝅 𝐥𝐧(𝟐) + 𝟐𝑮

+
𝟏

𝟐
𝐥𝐧𝟐(𝟐) −

𝟑

𝟐
𝐥𝐧𝟐(𝟐) +

𝝅𝟐

𝟐𝟒
) − 𝐥𝐧𝟐(𝟐) 

=
𝟏

𝟖
(𝒂 + 𝟏) (−𝝅 𝐥𝐧(𝟐) + 𝐥𝐧𝟐(𝟐) +

𝝅𝟐

𝟔
+ 𝟒𝑮) − 𝐥𝐧𝟐(𝟐) 

𝑰𝟏 = ∫
𝟏

(𝟏 + 𝒚)
𝒅𝒚

𝟏

𝟎

= [𝐥𝐧(𝒚 + 𝟏)]𝟎
𝟏 = 𝐥𝐧 (𝟐) 

𝑰𝟐 = ∫
𝟏

(𝟏 + 𝒚𝟐)
𝒅𝒚

𝟏

𝟎

= 𝐚𝐫𝐜𝐭𝐚𝐧(𝟏) =
𝝅

𝟒
 

𝑰𝟑 = ∫
𝟐𝐲

(𝟏 + 𝒚𝟐)
𝒅𝒚

𝟏

𝟎

=⏞
𝒚𝟐=𝒙

∫
𝟏

(𝟏 + 𝒙)
𝒅𝒙

𝟏

𝟎

=⏞
𝒙=𝒚

∫
𝟏

(𝟏 + 𝒚)
𝒅𝒚

𝟏

𝟎

= 𝑰𝟏 = 𝐥𝐧(𝟐) 

𝑰𝟒 = ∫
𝐚𝐫𝐜𝐭𝐚𝐧(𝐲)

(𝟏 + 𝒚𝟐)
𝒅𝒚

𝟏

𝟎

=⏞
𝐚𝐫𝐜𝐭𝐚𝐧(𝒚)=𝒕

∫ 𝒕

𝝅
𝟒

𝟎

𝒅𝒕 = [
𝒕𝟐

𝟐
]
𝟎

𝝅
𝟒

=
𝝅𝟐

𝟑𝟐
 

𝑰𝟓 = ∫
𝐲𝐚𝐫𝐜𝐭𝐚𝐧(𝐲)

(𝟏 + 𝒚𝟐)
𝒅𝒚

𝟏

𝟎

= [
𝟏

𝟐
𝐚𝐫𝐜𝐭𝐚𝐧(𝒚) 𝐥𝐧(𝟏 + 𝒚𝟐)]

𝟎

𝟏

−
𝟏

𝟐
∫
𝐥𝐧(𝟏 + 𝒚𝟐)

(𝟏 + 𝒚𝟐)
𝒅𝒚

𝟏

𝟎

= 

=
𝝅

𝟖
𝐥𝐧(𝟐) −

𝟏

𝟐
∫
𝐥𝐧(𝟏 + 𝒚𝟐)

(𝟏 + 𝒚𝟐)
𝒅𝒚

𝟏

𝟎

=
𝝅

𝟖
𝐥𝐧(𝟐) −

𝟏

𝟐
∫ 𝐥𝐧(𝒔𝒆𝒄𝟐(𝒙)) 𝒅𝒙

𝝅
𝟒

𝟎

= 

=
𝝅

𝟖
𝐥𝐧(𝟐) + ∫ 𝐥𝐧 (𝒄𝒐𝒔𝒙)𝒅𝒙

𝝅
𝟒

𝟎

=
𝝅

𝟖
𝐥𝐧(𝟐) +

𝑮

𝟐
−
𝝅

𝟒
𝐥𝐧 (𝟐) =

𝟏

𝟖
(𝟒𝑮 − 𝝅 𝐥𝐧(𝟐)) 

𝑰𝟓 =
𝝅

𝟖
𝐥𝐧(𝟐) + ∫ 𝐥𝐧 (𝒄𝒐𝒔𝒙)𝒅𝒙

𝝅
𝟒

𝟎

=
𝝅

𝟖
𝐥𝐧(𝟐) +

𝑮

𝟐
−
𝝅

𝟒
𝐥𝐧 (𝟐) =

𝟏

𝟖
(𝟒𝑮 − 𝝅 𝐥𝐧(𝟐)) 

𝑰𝟔 = ∫
𝐚𝐫𝐜𝐭𝐚𝐧(𝐲)

(𝟏 + 𝒚)
𝒅𝒚

𝟏

𝟎

= [𝐥𝐧(𝟏 + 𝒚) 𝐚𝐫𝐜𝐭𝐚𝐧 (𝒚)]𝟎
𝟏 − ∫

𝐥𝐧(𝟏 + 𝒚)

𝟏 + 𝒚𝟐
𝒅𝒚

𝟏

𝟎

 

=
𝝅

𝟒
𝐥𝐧(𝟐) − ∫ 𝐥𝐧(𝒔𝒊𝒏𝒚 + 𝒄𝒐𝒔𝒚)𝒅𝒚

𝝅
𝟒

𝟎

+∫ 𝐥𝐧(𝒄𝒐𝒔𝒚)𝒅𝒚

𝝅
𝟒

𝟎

 

=
𝝅

𝟒
𝐥𝐧(𝟐) − ∫ 𝐥𝐧 (√𝟐 𝐜𝐨𝐬 (

𝝅

𝟒
− 𝒚))𝒅𝒚

𝝅
𝟒

𝟎

+∫ 𝐥𝐧 (𝒄𝒐𝒔𝒚)𝒅𝒚

𝝅
𝟒

𝟎
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=
𝝅

𝟖
𝐥𝐧(𝟐) − ∫ 𝐥𝐧 (𝐜𝐨𝐬 (

𝝅

𝟒
− 𝒚))𝒅𝒚

𝝅
𝟒

𝟎

+∫ 𝐥𝐧 (𝒄𝒐𝒔𝒚)𝒅𝒚

𝝅
𝟒

𝟎

 

=
𝝅

𝟖
𝐥𝐧(𝟐) − ∫ 𝐥𝐧(𝐜𝐨𝐬(𝒚))𝒅𝒚

𝝅
𝟒

𝟎

+∫ 𝐥𝐧 (𝒄𝒐𝒔𝒚)𝒅𝒚

𝝅
𝟒

𝟎

=
𝝅

𝟖
𝐥𝐧 (𝟐) 

𝑰𝟔 =
𝝅

𝟖
𝐥𝐧(𝟐) − ∫ 𝐥𝐧(𝐜𝐨𝐬(𝒚)) 𝒅𝒚

𝝅
𝟒

𝟎

+∫ 𝐥𝐧 (𝒄𝒐𝒔𝒚)𝒅𝒚

𝝅
𝟒

𝟎

=
𝝅

𝟖
𝐥𝐧 (𝟐) 

𝑰𝟕 = ∫
𝐥𝐧(𝟏 + 𝒚𝟐)

(𝟏 + 𝒚𝟐)
𝒅𝒚

𝟏

𝟎

= ∫ 𝐥𝐧(𝒔𝒆𝒄𝟐(𝒙)) 𝒅𝒙

𝝅
𝟒

𝟎

= −𝟐∫ 𝐥𝐧 (𝒄𝒐𝒔𝒙)𝒅𝒙

𝝅
𝟒

𝟎

=
𝝅

𝟐
𝐥𝐧(𝟐) − 𝑮 

𝑰𝟖 = ∫
𝐲 𝐥𝐧(𝟏 + 𝒚𝟐)

(𝟏 + 𝒚𝟐)
𝒅𝒚

𝟏

𝟎

=⏞
𝒚𝟐=𝒚 𝟏

𝟐
∫
𝐥𝐧(𝟏 + 𝒚)

(𝟏 + 𝒚)
𝒅𝒚

𝟏

𝟎

=⏞
𝒚𝟐=𝒚 𝟏

𝟒
𝐥𝐧𝟐(𝟐) 

𝑰𝟗 = ∫
𝐥𝐧 (𝟏 + 𝒚𝟐)

(𝟏 + 𝒚)
𝒅𝒚

𝟏

𝟎

 

𝑰𝟗 = ∫
𝐥𝐧 (𝟏 + 𝒚𝟐)

(𝟏 + 𝒚)
𝒅𝒚

𝟏

𝟎

= [𝐥𝐧(𝟏 + 𝒚) 𝐥𝐧(𝟏 + 𝒚𝟐)]𝟎
𝟏 − 𝟐∫

𝐲𝐥𝐧 (𝟏 + 𝒚)

(𝟏 + 𝒚𝟐)
𝒅𝒚

𝟏

𝟎

 

= 𝐥𝐧𝟐(𝟐) − 𝟐∫
𝐲𝐥𝐧 (𝟏 + 𝒚)

(𝟏 + 𝒚𝟐)
𝒅𝒚

𝟏

𝟎

= 𝐥𝐧𝟐(𝟐) − 𝟐(
𝝅𝟐

𝟗𝟔
+
𝟏

𝟖
𝐥𝐨𝐠𝟐(𝟐)) =

𝟑

𝟒
𝐥𝐧𝟐(𝟐) −

𝝅𝟐

𝟒𝟖
 

𝑰𝟗 = 𝐥𝐧
𝟐(𝟐) − 𝟐∫

𝐲𝐥𝐧 (𝟏 + 𝒚)

(𝟏 + 𝒚𝟐)
𝒅𝒚

𝟏

𝟎

= 𝐥𝐧𝟐(𝟐) − 𝟐(
𝝅𝟐

𝟗𝟔
+
𝟏

𝟖
𝐥𝐨𝐠𝟐(𝟐)) =

𝟑

𝟒
𝐥𝐧𝟐(𝟐) −

𝝅𝟐

𝟒𝟖
 

 
2581. Find a closed form: 

∫ ∫
𝐥𝐧(𝒙) 𝐥𝐧 (𝒙𝒚)

𝟏 − 𝒙𝒚
𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎

 

Proposed by Aryan Desai-India 
Solution by Pham Duc Nam-Vietnam 

𝑰 = ∫ ∫
𝐥𝐧(𝒙) 𝐥𝐧 (𝒙𝒚)

𝟏 − 𝒙𝒚
𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎

=⏞
𝒔𝒚𝒎𝒎𝒆𝒕𝒓𝒚

∫ ∫
𝐥𝐧(𝒚) 𝐥𝐧 (𝒙𝒚)

𝟏 − 𝒙𝒚
𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎

 

𝟐𝑰 = ∫ ∫
𝒍𝒏𝟐(𝒙𝒚)

𝟏 − 𝒙𝒚
𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎

=⏞
𝒔𝒚𝒎𝒎𝒆𝒕𝒓𝒚

−∫
𝒍𝒏𝟑(𝒙)

𝟏 − 𝒙
𝒅𝒙

𝟏

𝟎

= 

= −∑∫ 𝒙𝒏
𝟏

𝟎

∞

𝒏=𝟎

𝒍𝒏𝟑(𝒙)𝒅𝒙 = 𝟔∑
𝟏

(𝒏 + 𝟏)𝟒

∞

𝒏=𝟎

= 𝟔𝜻(𝟒) =
𝝅𝟒

𝟑𝟎
 

 

2582. Find a closed form: 

∫
𝐥𝐧 (𝒚)𝑳𝒊𝟐(𝒚)

𝟏 − 𝒚
𝒅𝒚

𝟏

𝟎

 

Proposed by Aryan Desai-India 
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Solution by Pham Duc Nam-Vietnam 

𝑰 = ∫
𝐥𝐧 (𝒚)𝑳𝒊𝟐(𝒚)

𝟏 − 𝒚
𝒅𝒚 = −∫

𝒙𝒍𝒏(𝒙)

𝟏 − 𝒙
𝒅𝒙(∫

𝐥𝐧(𝒕)

𝟏 − 𝒙𝒕

𝟏

𝟎

𝒅𝒕)
𝟏

𝟎

𝟏

𝟎

 

𝑰 = ∫ 𝐥𝐧(𝒕)𝒅𝒕(𝜻(𝟐)
𝟏

𝟏 − 𝒕
− 𝑳𝒊𝟐(𝒕)(

𝟏

𝟎

𝟏

𝟏 − 𝒕
+
𝟏

𝒕
)) 

𝑰 =  𝜻(𝟐)∫
𝐥𝐧 (𝒕)

𝟏 − 𝒕
𝒅𝒕 − 𝑰 − ∫

𝐥𝐧 (𝒕)𝑳𝒊𝟐(𝒕)

𝒕

𝟏

𝟎

𝒅𝒕
𝟏

𝟎

 

𝑰 = −
𝟏

𝟐
𝜻𝟐(𝟐) −

𝟏

𝟐
(𝐥𝐧(𝒕)𝑳𝒊𝟑(𝒕)|

𝟏

𝟎
− 𝑳𝒊𝟒(𝒕)|

𝟏

𝟎
) 

𝑰 = −
𝟏

𝟐
𝜻𝟐(𝟐) +

𝟏

𝟐
𝑳𝒊𝟒(𝟏) =

𝟏

𝟐
𝜻(𝟒) −

𝟏

𝟐
𝜻𝟐(𝟐) = −

𝝅𝟒

𝟏𝟐𝟎
 

 
2583. Find a closed form: 

∫
𝟏

(𝐬𝐢𝐧(𝒙) + 𝟏)𝟐√𝐥𝐧(𝒕𝒂𝒏(𝒙) + 𝒔𝒆𝒄(𝒙)) 
𝒅𝒙

𝝅
𝟐

𝟎

 

Proposed by Asmat Qatea-Afghanistan 
 
Solution by Rana Ranino-Algeria 

Ω = ∫
𝟏

(𝐬𝐢𝐧(𝒙) + 𝟏)𝟐√𝐥𝐧(𝒕𝒂𝒏(𝒙) + 𝒔𝒆𝒄(𝒙)) 
𝒅𝒙

𝝅
𝟐

𝟎

=⏞

𝒙→
𝝅
𝟐
−𝒙

 

= ∫
𝟏

(𝐜𝐨𝐬(𝒙) + 𝟏)𝟐√𝐥𝐧(𝒄𝒕𝒈(𝒙) + 𝒄𝒔𝒄(𝒙)) 
𝒅𝒙

𝝅
𝟐

𝟎

= 

=
𝟏

𝟒
∫

𝟏

𝒄𝒐𝒔𝟐 (
𝒙
𝟐)
√−𝐥𝐧 (𝐭𝐚𝐧 (

𝒙
𝟐)

𝒅𝒙

𝒄𝒐𝒔𝟐 (
𝒙
𝟐)

𝝅
𝟐

𝟎

=⏞
𝟐𝒙→𝒙

 

=
𝟏

𝟐
∫

𝒆−𝒕(𝟏 + 𝒆−𝟐𝒕)

√𝒕
𝒅𝒕 =

𝟏

𝟐
∫ 𝒕

𝟏
𝟐
−𝟏𝒆−𝒕

∞

𝟎

𝒅𝒕 +
∞

𝟎

𝟏

𝟐
∫ 𝒕

𝟏
𝟐
−𝟏𝒆−𝟑𝒕

∞

𝟎

𝒅𝒕 =
𝟏

𝟐
𝜞(
𝟏

𝟐
) +

𝟏

𝟐√𝟑
𝜞(
𝟏

𝟐
)

= 

=
√𝝅

𝟐
(𝟏 +

𝟏

√𝟑
) 

∫
𝟏

(𝐬𝐢𝐧(𝒙) + 𝟏)𝟐√𝐥𝐧(𝒕𝒂𝒏(𝒙) + 𝒔𝒆𝒄(𝒙)) 
𝒅𝒙

𝝅
𝟐

𝟎

=
√𝝅

𝟐
(𝟏 +

𝟏

√𝟑
) 

 

2584. Find: 
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∫
𝐬𝐢𝐧(𝒙) + 𝐭𝐚𝐧 (𝒙)

(𝟏 + 𝐬𝐢𝐧(𝒙))(𝟏 + 𝐜𝐨𝐬(𝒙))
𝒅𝒙

𝝅
𝟒

𝟎

 

 
Proposed by Cosghun Memmedov-Azerbaijan 

Solution by Mirsadix Muzefferov-Azerbaijan 
 

𝑳𝒆𝒕′𝒔  𝒔𝒊𝒎𝒑𝒍𝒊𝒇𝒚  𝒕𝒉𝒆  𝒔𝒖𝒃𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒍  𝒆𝒙𝒑𝒓𝒆𝒔𝒔𝒊𝒐𝒏 ∶ 
𝐬𝐢𝐧(𝒙) + 𝐭𝐚𝐧 (𝒙)

(𝟏 + 𝐬𝐢𝐧(𝒙))(𝟏 + 𝐜𝐨𝐬(𝒙))
=

𝐬𝐢𝐧(𝒙) (𝟏 + 𝐜𝐨𝐬(𝒙))

𝐜𝐨𝐬(𝒙)(𝟏 + 𝐬𝐢𝐧(𝒙))(𝟏 + 𝐜𝐨𝐬(𝒙))
=

𝐬𝐢𝐧 (𝒙)

𝐜𝐨𝐬(𝒙) (+𝐬𝐢𝐧(𝒙))
= 

𝐭𝐚𝐧 (𝒙)

𝟏 + 𝐬𝐢𝐧(𝒙)
;   {𝑳𝒆𝒕 ∶ 𝒕𝒂𝒏

𝒙

𝟐
= 𝒕  .  𝑻𝒉𝒆𝒏  𝒕𝒂𝒏(𝒙) =

𝟐𝒕

𝟏 − 𝒕𝟐
;  𝐬𝐢𝐧(𝒙) =

𝟐𝒕

𝟏 + 𝒕𝟐
,

𝒅𝒙 =
𝟐

𝟏 − 𝒕𝟐
𝒅𝒕} 

∫
𝐬𝐢𝐧(𝒙) + 𝐭𝐚𝐧 (𝒙)

(𝟏 + 𝐬𝐢𝐧(𝒙))(𝟏 + 𝐜𝐨𝐬(𝒙))
𝒅𝒙

𝝅
𝟒

𝟎

= ∫
𝐭𝐚𝐧 (𝒙)

(𝟏 + 𝐬𝐢𝐧(𝒙))
𝒅𝒙 =⏞

𝒕=𝒕𝒂𝒏
𝒙
𝟐

𝝅
𝟒

𝟎

∫
𝟒𝒕

(𝟏 − 𝒕)(𝟏 + 𝒕)𝟑

𝒕𝒂𝒏
𝝅
𝟖

𝟎

𝒅𝒕 

𝑭𝒓𝒐𝒎 ∶    
𝟒𝒕

(𝟏 − 𝒕)(𝟏 + 𝒕)𝟑
=

𝑨

𝟏 − 𝒕
+

𝑩

𝟏 + 𝒕
+

𝑪

(𝟏 + 𝒕)𝟐
+

𝑫

(𝟏 + 𝒕)𝟑
  

𝑨(𝟏 + 𝒕)𝟑 + 𝑩(𝟏 − 𝒕)(𝟏 + 𝒕)𝟐 + 𝑪(𝟏 − 𝒕)(𝟏 + 𝒕) + 𝑫(𝟏 − 𝒕) = 𝟒𝒕 
𝑳𝒆𝒕′𝒔  𝒔𝒊𝒎𝒑𝒍𝒊𝒇𝒚  .  𝑾𝒆   𝒈𝒆𝒕  

{

𝑨 − 𝑩 = 𝟎
𝟑𝑨 − 𝑩− 𝑪 = 𝟎
𝟑𝑨 + 𝑩− 𝑫 = 𝟎
𝑨 + 𝑩+ 𝑪 +𝑫 = 𝟎

 →    {
𝑨 − 𝑩 = 𝟎
𝟕𝑨 + 𝑩 = 𝟒

 →   𝑨 =
𝟏

𝟐
;  𝑩 =

𝟏

𝟐
;   𝑪 = 𝟏 ;𝑫 = −𝟐  

𝑻𝒉𝒆𝒏  ∶  
𝟒𝒕

(𝟏 − 𝒕)(𝟏 + 𝒕)𝟑
=

𝟏
𝟐

𝟏 − 𝒕
+

𝟏
𝟐

𝟏 + 𝒕
+

𝟏

(𝟏 + 𝒕)𝟐
−

𝟐

(𝟏 + 𝒕)𝟑
 

∫
𝟒𝒕

(𝟏 − 𝒕)(𝟏 + 𝒕)𝟑

𝒕𝒂𝒏
𝝅
𝟖

𝟎

𝒅𝒕

=
𝟏

𝟐
∫

𝒅𝒕

𝟏 − 𝒕

𝒕𝒂𝒏
𝝅
𝟖

𝟎

+
𝟏

𝟐
∫

𝒅𝒕

𝟏 + 𝒕

𝒕𝒂𝒏
𝝅
𝟖

𝟎

+ ∫
𝒅𝒕

(𝟏 + 𝒕)𝟐

𝒕𝒂𝒏
𝝅
𝟖

𝟎

− 𝟐∫
𝒅𝒕

(𝟏 + 𝒕)𝟑
=

𝒕𝒂𝒏
𝝅
𝟖

𝟎

 

𝟏

𝟐
𝒍𝒏 |
𝟏 + 𝒕

𝟏 − 𝒕
||
𝒕𝒂𝒏

𝝅
𝟖

𝟎
−

𝟏

(𝟏 + 𝒕)
|
𝒕𝒂𝒏

𝝅
𝟖

𝟎
+

𝟏

(𝟏 + 𝒕)𝟑
|
𝒕𝒂𝒏

𝝅
𝟖

𝟎
= 

𝟏

𝟐
(𝒍𝒏 |

𝟏 + √𝟐 − 𝟏

𝟐− √𝟐
| − 𝐥𝐧(𝟏)) − (

𝟏

𝟏 + √𝟐 − 𝟏
− 𝟏) + (

𝟏

(𝟏 + √𝟐− 𝟏)
𝟐 − 𝟏) = 

𝟏

𝟐
𝐥𝐧(𝟏 + √𝟐) −

√𝟐

𝟐
+ 𝟏 +

𝟏

𝟐
− 𝟏 =

𝟏

𝟐
(𝐥𝐧(𝟏 + √𝟐) − √𝟐 + 𝟏) 
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2585. Find a closed form: 

∫ √𝐜𝐨𝐬(𝒙) − 𝐬𝐢𝐧 (𝒙)

𝝅
𝟒

−
𝝅
𝟒

𝒅𝒙 

Proposed by Sonu Aarnav-India 
Solution by Odeyemi Gideon-Nigeria 

𝑰 = ∫ √𝐜𝐨𝐬(𝒙) − 𝐬𝐢𝐧 (𝒙)

𝝅
𝟒

−
𝝅
𝟒

𝒅𝒙 = ∫ √√𝟐𝐜𝐨𝐬 (𝒙 +
𝝅

𝟒
)

𝝅
𝟒

−
𝝅
𝟒

𝒅𝒙 

𝑰 = √√𝟐∫ √𝐜𝐨𝐬 (𝒙)𝒅𝒙 =

𝝅
𝟐

𝟎

√√𝟐∫ 𝒄𝒐𝒔𝟐(
𝟑
𝟒
)−𝟏(𝒙)𝒔𝒊𝒏𝟐(

𝟏
𝟐
)−𝟏(𝒙)𝒅𝒙

𝝅
𝟐

𝟎

 

𝑰 = √√𝟐
𝜞 (
𝟑
𝟒)𝜞 (

𝟏
𝟐) 

𝟐𝜞 (
𝟑
𝟒 +

𝟏
𝟐)
= √√𝟐

√𝝅𝜞(
𝟑
𝟒)

𝟐𝜞 (
𝟓
𝟒)

 

∫ √𝐜𝐨𝐬(𝒙) − 𝐬𝐢𝐧 (𝒙)

𝝅
𝟒

−
𝝅
𝟒

𝒅𝒙 = √𝝅√𝟐
𝜞 (
𝟑
𝟒)

𝟐𝜞 (
𝟓
𝟒)

 

2586. Find a closed form: 

𝛀 = ∫ ∫
𝐚𝐫𝐜𝐬𝐢𝐧(𝒙𝒂) 𝐚𝐫𝐜𝐜𝐨𝐬 (𝒙𝒂)

𝒙
𝒅𝒙𝒅𝒂

𝟏

𝟎

𝒆𝝅

𝟏

 

Proposed by Ankush Kumar Parcha-India 
Solution by Ose Favour-Nigeria 
 

𝛀 = ∫
𝐚𝐫𝐜𝐜𝐨𝐬(𝒙) 𝐚𝐫𝐜𝐬𝐢𝐧(𝒙)

𝒙
𝒅𝒙 = ∫

𝐚𝐫𝐜𝐬𝐢𝐧(𝒙)

𝒙
(
𝝅

𝟐
− 𝐚𝐫𝐜𝐬𝐢𝐧(𝒙))𝒅𝒙 =

𝟏

𝟎

𝟏

𝟎

 

=
𝝅

𝟐
∫
𝐚𝐫𝐜𝐬𝐢𝐧(𝒙)

𝒙
𝒅𝒙 −

𝟏

𝟎

∫
(𝐚𝐫𝐜𝐬𝐢 𝐧(𝒙))𝟐

𝒙
𝒅𝒙

𝟏

𝟎

=⏞
𝒙=𝐬𝐢𝐧(𝒚)

 

=
𝝅

𝟐
∫ 𝒚𝒄𝒕𝒈(𝒚)𝒅𝒚

𝝅
𝟐

𝟎⏟        

𝐥𝐧 (𝟐)
𝝅
𝟐

−∫ 𝒚𝟐𝒄𝒕𝒈(𝒚)𝒅𝒚

𝝅
𝟐

𝟎

=
𝝅𝟐

𝟒
𝐥𝐧(𝟐) + 𝟐∫ 𝒚𝒍𝒏(𝐬𝐢𝐧(𝒚))𝒅𝒚

𝝅
𝟐

𝟎

= 

=
𝝅𝟐

𝟒
𝐥𝐧(𝟐) − 𝟐(

𝝅𝟐

𝟖
𝐥𝐧(𝟐) − 𝟐∑

𝟏

𝒌

∞

𝒌=𝟏

∫ 𝒚𝒄𝒐𝒔(𝟐𝒌𝒚)𝒅𝒚 =
𝟕

𝟖
𝜻(𝟑)

𝝅
𝟐

𝟎
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2587. Find a closed form: 

𝜴 = ∫∫∫
𝟏

𝒍𝒏𝟐(𝒙𝒚𝒛)(𝟏 + 𝒙𝟐𝒚𝟐𝒛𝟐)
𝒅𝒙𝒅𝒚𝒅𝒛

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

Proposed by Asmat Qatea-Afghanistan 
Solution by Obiajunwa Januarius-Nigeria 
It is known that: 

∫∫∫𝑭(𝒙𝒚𝒛)𝒅𝒙𝒅𝒚𝒅𝒛

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

=
𝟏

𝟐
∫ 𝒍𝒏𝟐(𝒙)𝑭(𝒙)
𝟏

𝟎

𝒅𝒙 

𝛀 = ∫∫∫
𝟏

𝒍𝒏𝟐(𝒙𝒚𝒛)(𝟏 + 𝒙𝟐𝒚𝟐𝒛𝟐)
𝒅𝒙𝒅𝒚𝒅𝒛

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

=
𝟏

𝟐
∫

𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙𝟐)𝒍𝒏𝟐(𝒙)

𝟏

𝟎

𝒅𝒙

=
𝟏

𝟐
∫

𝒅𝒙

𝟏 + 𝒙𝟐
=

𝟏

𝟎

𝝅

𝟖
 

 

2588. Find a closed form: 

𝑰 = ∫
(𝒛𝟐 + 𝟏)𝒛𝟏𝟎𝟔𝐥𝐧 (𝒛)

(𝒛𝟏𝟎𝟎 + 𝟏)𝟐(𝒛𝟒 +
𝟐
𝟓
𝒛𝟐 + 𝟏)𝟒

𝒅𝒛
∞

𝟎

 

Proposed by Bui Hong Suc-Vietnam 
Solution by Pham Duc Nam-Vietnam 
 

𝑰 = ∫
(𝒛𝟐 + 𝟏)𝒛𝟏𝟎𝟔𝐥𝐧 (𝒛)

(𝒛𝟏𝟎𝟎 + 𝟏)𝟐(𝒛𝟒 +
𝟐
𝟓𝒛

𝟐 + 𝟏)𝟒
𝒅𝒛

∞

𝟎

= 𝟔𝟐𝟓∫
(𝒛𝟐 + 𝟏)𝒛𝟏𝟎𝟔𝐥𝐧 (𝒛)

(𝒛𝟏𝟎𝟎 + 𝟏)𝟐(𝟓𝒛𝟒 + 𝟐𝒛𝟐 + 𝟓)𝟒
𝒅𝒛

∞

𝟎

= 

𝟔𝟐𝟓(∫
(𝒛𝟐 + 𝟏)𝒛𝟏𝟎𝟔 𝐥𝐧(𝒛)

(𝒛𝟏𝟎𝟎 + 𝟏)𝟐(𝟓𝒛𝟒 + 𝟐𝒛𝟐 + 𝟓)𝟒
𝒅𝒛 +∫

(𝒛𝟐 + 𝟏)𝒛𝟏𝟎𝟔 𝐥𝐧(𝒛)

(𝒛𝟏𝟎𝟎 + 𝟏)𝟐(𝟓𝒛𝟒 + 𝟐𝒛𝟐 + 𝟓)𝟒
𝒅𝒛

∞

𝟏

𝟏

𝟎

) 

𝑪𝒉𝒂𝒏𝒈𝒆  𝒕𝒉𝒆  𝒗𝒂𝒓𝒊𝒂𝒃𝒍𝒆  𝒛 =
𝟏

𝒕
  𝒇𝒐𝒓  𝒕𝒉𝒆  𝒍𝒂𝒕𝒕𝒆𝒓  𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒍  𝒚𝒊𝒆𝒍𝒅𝒔:  

𝑰 = 𝟔𝟐𝟓∫
(𝒛𝟐 + 𝟏)𝒛𝟏𝟎𝟔 𝐥𝐧(𝒛)

(𝒛𝟏𝟎𝟎 + 𝟏)𝟐(𝟓𝒛𝟒 + 𝟐𝒛𝟐 + 𝟓)𝟒
𝒅𝒛 +

𝟏

𝟎

 

𝟔𝟐𝟓∫
((
𝟏
𝒕)
𝟐 + 𝟏) (

𝟏
𝒕)
𝟏𝟎𝟔 𝐥𝐧 (

𝟏
𝒕)

𝒕𝟐 ((
𝟏
𝒕)
𝟏𝟎𝟎 + 𝟏)

𝟐

(𝟓(
𝟏
𝒕)
𝟒 + 𝟐(

𝟏
𝒕)
𝟐 + 𝟓)

𝟒 𝒅𝒕
∞

𝟏

 

𝑰 = 𝟔𝟐𝟓(∫
(𝒛𝟐 + 𝟏)𝒛𝟏𝟎𝟔 𝐥𝐧(𝒛)

(𝒛𝟏𝟎𝟎 + 𝟏)𝟐(𝟓𝒛𝟒 + 𝟐𝒛𝟐 + 𝟓)𝟒
𝒅𝒛 −

𝟏

𝟎

∫
(𝒕𝟐 + 𝟏)𝒕𝟏𝟎𝟔 𝐥𝐧(𝒕)

(𝒕𝟏𝟎𝟎 + 𝟏)𝟐(𝟓𝒕𝟒 + 𝟐𝒕𝟐 + 𝟓)𝟒
𝒅𝒕 = 𝟎

𝟏

𝟎
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2589. Find a closed form: 

𝑰 = ∫
𝒙(𝒙𝟐(𝒙(𝒙(𝒙𝟐(𝟒𝒙 − 𝟐𝟎) − 𝟐𝟎) + 𝟏𝟕) − 𝟐𝟎) − 𝟐𝟎) + 𝟒

((((𝟒𝒙𝟐 + 𝟒)𝒙𝟐 + 𝟏𝟕)𝒙𝟐 + 𝟏𝟕)𝒙𝟐 + 𝟒) 𝒙𝟐 + 𝟒
𝒅𝒙

∞

−∞

 

Proposed by Srinivasa Raghava-AIRMC-India 
Solution by Obiajunwa Januarius-Nigeria 
 

𝑰 = ∫
𝒙(𝒙𝟐(𝒙(𝒙(𝒙𝟐(𝟒𝒙 − 𝟐𝟎) − 𝟐𝟎) + 𝟏𝟕) − 𝟐𝟎) − 𝟐𝟎) + 𝟒

((((𝟒𝒙𝟐 + 𝟒)𝒙𝟐 + 𝟏𝟕)𝒙𝟐 + 𝟏𝟕)𝒙𝟐 + 𝟒)𝒙𝟐 + 𝟒
𝒅𝒙

∞

−∞

 

𝑰 = ∫ (
𝟏

𝟏 + 𝒙𝟐
−

𝟏

𝟐 − 𝟐𝒙 + 𝒙𝟐
+

𝟏

𝟐 + 𝟐𝒙 + 𝒙𝟐
−

𝟏

𝟏 − 𝟐𝒙 + 𝟐𝒙𝟐
+

𝟏

𝟏 + 𝟐𝒙 + 𝟐𝒙𝟐
)𝒅𝒙

∞

−∞

 

𝑰 = ∫ (
𝟏

𝟏 + 𝒙𝟐
−

𝟏

𝟏 + (𝒙 − 𝟏)𝟐
+

𝟏

𝟏 + (𝒙 + 𝟏)𝟐
−
𝟏

𝟐

𝟏

(𝒙 −
𝟏
𝟐)
𝟐 +

𝟏
𝟒

+
𝟏

𝟐

𝟏

(𝒙 +
𝟏
𝟐)
𝟐 +

𝟏
𝟒

)𝒅𝒙
∞

−∞

 

𝑰 = 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) − 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙 − 𝟏) + 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙 + 𝟏) − 𝐚𝐫𝐜𝐭𝐚𝐧(𝟐 (𝒙 −
𝟏

𝟐
)) + 𝐚𝐫𝐜𝐭𝐚𝐧(𝟐 (𝒙+

𝟏

𝟐
))|

∞

−∞
= 𝝅 

2590. Prove that: 

∑
𝟏

(𝟏 + 𝒌𝟐)(𝟐 + 𝒌𝟐)(𝟑 + 𝒌𝟐)
𝒌∈𝒁

=
𝝅

𝟐
(
𝒄𝒐𝒕𝒉(𝝅√𝟑)

√𝟑
− √𝟐𝒄𝒐𝒕𝒉(𝝅√𝟐) + 𝒄𝒐𝒕𝒉(𝝅)) 

Proposed by Ankush Kumar Parcha-India 
Solution 1 by Shobhit Jain-India 

𝑰 = ∑
𝟏

(𝟏 + 𝒌𝟐)(𝟐 + 𝒌𝟐)(𝟑 + 𝒌𝟐)

∞

𝒌=−∞

= ∑ (

𝟏
𝟐

𝟑 + 𝒌𝟐
−

𝟏

𝟐 + 𝒌𝟐
+

𝟏
𝟐

𝟏 + 𝒌𝟐
)

∞

𝒌=−∞

= 

=
𝟏

𝟐
𝒇(√𝟑) − 𝒇(√𝟐) +

𝟏

𝟐
𝒇(𝟏) 

𝒉𝒆𝒓𝒆,   𝒇(𝒙) = ∑
𝟏

𝒙𝟐 + 𝒌𝟐

∞

𝒌=−∞

. 𝑵𝒐𝒘,   
𝒔𝒊𝒏(𝝅𝒙)

𝝅𝒙
=∏(𝟏 −

𝒙𝟐

𝒌𝟐
)

∞

𝒌=𝟏

 

⟹  𝒍𝒏(𝒔𝒊𝒏(𝝅𝒙)) − 𝒍𝒏(𝝅𝒙) = ∑𝒍𝒏(𝟏 −
𝒙𝟐

𝒌𝟐
)

∞

𝒌=𝟏

  𝑵𝒐𝒘 𝒅𝒊𝒇𝒇𝒆𝒓𝒆𝒏𝒕𝒊𝒂𝒕𝒆 𝒘. 𝒓. 𝒕 𝒙 

⟹ 𝝅𝒄𝒐𝒕(𝝅𝒙) −
𝟏

𝒙
= ∑

𝟐𝒙

𝒙𝟐 − 𝒌𝟐

∞

𝒌=𝟏

⟹
𝝅

𝒕𝒂𝒏(𝝅𝒙)
= ∑

𝒙

𝒙𝟐 − 𝒌𝟐

∞

𝒌=−∞

 

𝑵𝒐𝒘 𝒓𝒆𝒑𝒍𝒂𝒄𝒆 𝒙 𝒃𝒚 𝒊𝒙 ⟹
𝝅

𝒕𝒂𝒏(𝒊𝝅𝒙)
= ∑

𝒊𝒙

−𝒙𝟐 − 𝒌𝟐

∞

𝒌=−∞

       𝒖𝒔𝒆,   𝒕𝒂𝒏(𝒊𝝅𝒙)

= 𝒊 𝒕𝒂𝒏𝒉(𝝅𝒙) 
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⟹
𝝅

𝒊 𝒕𝒂𝒏𝒉(𝝅𝒙)
= ∑

𝒊𝒙

−𝒙𝟐 − 𝒌𝟐

∞

𝒌=−∞

⟹
𝝅

𝒕𝒂𝒏𝒉(𝝅𝒙)
= ∑

𝒙

𝒙𝟐 + 𝒌𝟐

∞

𝒌=−∞

 

⟹ 𝒇(𝒙) = ∑
𝟏

𝒙𝟐 + 𝒌𝟐

∞

𝒌=−∞

=
𝝅𝒄𝒐𝒕𝒉(𝝅𝒙)

𝒙
⟹ 𝑰 =

𝟏

𝟐
𝒇(√𝟑) − 𝒇(√𝟐) +

𝟏

𝟐
𝒇(𝟏)

=
𝟏

𝟐
(
𝝅 𝒄𝒐𝒕𝒉(𝝅√𝟑)

√𝟑
) − (

𝝅𝒄𝒐𝒕𝒉(𝝅√𝟐)

√𝟐
) +

𝟏

𝟐
(𝝅𝒄𝒐𝒕𝒉(𝝅)) 

⟹ 𝑰 =
𝝅

𝟐
(
𝒄𝒐𝒕𝒉(𝝅√𝟑)

√𝟑
− √𝟐𝒄𝒐𝒕𝒉(𝝅√𝟐) + 𝒄𝒐𝒕𝒉(𝝅)) 

Solution 2 by Pratham Prasad-India 

∑
𝟏

(𝟏+ 𝒒𝟐)(𝟐 + 𝒒𝟐)(𝟑 + 𝒒𝟐)
𝒒𝝐𝒁

=
𝟏

𝟐
∑

𝟏

(𝟏 + 𝒒𝟐)
−

𝟐

(𝟐 + 𝒒𝟐)
+

𝟏

(𝟑 + 𝒒𝟐)
𝒒𝝐𝒁

 

=
𝟏

𝟐
𝝅 (𝐜𝐨𝐭𝐡(𝝅) − √𝟐𝐜𝐨𝐭𝐡(𝝅√𝟐) +

𝟏

√𝟑
𝐜𝐨𝐭𝐡(𝝅√𝟑)) 

=
𝝅

𝟐
(
𝟏

√𝟑
𝐜𝐨𝐭𝐡(𝝅√𝟑) − √𝟐𝐜𝐨𝐭𝐡(𝝅√𝟐) + 𝐜𝐨𝐭𝐡(𝝅)) 

As by Fourier series: 

∑
𝟏

𝒌𝟐 + 𝒏𝟐
𝒏𝝐𝒁

=
𝝅

𝒌
𝐜𝐨𝐭𝐡 (𝝅𝒌) 

2591. Find: 

∫
𝒙𝐥𝐧𝟐(𝒙)

𝟏 + 𝒙 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

 

Proposed by Vasile Mircea Popa-Romania 
Solution by Pratham Prasad-India 

𝑳𝒆𝒕 𝑰(𝒂) = ∫
𝒙𝒂

𝟏 + 𝒙 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

.  𝑻𝒉𝒖𝒔, 𝑰′′(𝟏) = ∫
𝒙𝐥𝐧𝟐(𝒙)

𝟏 + 𝒙 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

 

𝑰(𝒂) = ∫
𝒙𝒂(𝟏 − 𝒙)

𝟏 − 𝒙𝟑
𝒅𝒙

𝟏

𝟎

, 𝑰(𝒂) = ∫ (𝒙𝒂 − 𝒙𝒂+𝟏)∑𝒙𝟑𝒓
∞

𝒓=𝟎

𝒅𝒙
𝟏

𝟎

 

𝑰(𝒂) =∑∫ (𝒙𝒂+𝟑𝒓 − 𝒙𝒂+𝟏+𝟑𝒓) 𝒅𝒙
𝟏

𝟎

∞

𝒓=𝟎

, 𝑰(𝒂) =∑(
𝟏

𝟑𝒓 + 𝒂 + 𝟏
−

𝟏

𝟑𝒓 + 𝒂 + 𝟐
)

∞

𝒓=𝟎

 

𝑰(𝒂) =
𝟏

𝟑
(𝝍(

𝒂 + 𝟏

𝟑
) − 𝝍(

𝒂 + 𝟐

𝟑
)) , 𝑰′(𝒂) =

𝟏

𝟗
(𝝍𝟏 (

𝒂 + 𝟏

𝟑
) −𝝍𝟏 (

𝒂 + 𝟐

𝟑
)) 

𝑰′′(𝒂) =
𝟏

𝟐𝟕
(𝝍𝟐 (

𝒂 + 𝟏

𝟑
) −𝝍𝟐 (

𝒂 + 𝟐

𝟑
)) , 𝑰′′(𝟏) =

𝟏

𝟐𝟕
(𝝍𝟐 (

𝟐

𝟑
) − 𝝍𝟐(𝟏)) 
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𝑰′′(𝟏) =
𝟏

𝟐𝟕
(
𝟒𝝅𝟑

𝟑√𝟑
− 𝟐𝟔𝜻(𝟑) + 𝟐𝜻(𝟑)) , 𝑰′′(𝟏) =

𝟏

𝟐𝟕
(
𝟒𝝅𝟑

𝟑√𝟑
− 𝟐𝟒𝜻(𝟑)) 

∫
𝒙𝐥𝐧𝟐(𝒙)

𝟏 + 𝒙 + 𝒙𝟐
𝒅𝒙 =

𝟒𝝅𝟑

𝟖𝟏√𝟑
−
𝟖

𝟗
𝜻(𝟑)

𝟏

𝟎

 

2592. Find a closed form: 

𝛀 =  ∫ 𝐥𝐧𝟐(𝟏 + 𝒄𝒐𝒔𝒙) 𝒅𝒙
𝝅

𝟎

 

Proposed by Bui Hong Suc-Vietnam 
Solution by Pratham Prasad-India 

𝛀 =  ∫ 𝐥𝐧𝟐(𝟏 + 𝒄𝒐𝒔𝒙)𝒅𝒙
𝝅

𝟎

= ∫ 𝐥𝐧𝟐 (𝟐 𝐜𝐨𝐬𝟐 (
𝒙

𝟐
))𝒅𝒙

𝝅

𝟎

=⏞

𝒚=
𝒙
𝟐

𝟐∫ 𝐥𝐧𝟐(𝟐 𝐜𝐨𝐬𝟐(𝒚)) 𝒅𝒚

𝝅
𝟐

𝟎

= 

= 𝟐∫ (𝐥𝐧(𝟐) + 𝟐 𝐥𝐧(𝒄𝒐𝒔𝒚))𝟐𝒅𝒚

𝝅
𝟐

𝟎

 

= 𝝅 𝐥𝐧𝟐(𝟐) + 𝟖∫ (𝐥𝐧(𝒄𝒐𝒔𝒚))𝟐𝒅𝒚

𝝅
𝟐

𝟎

+ 𝟖𝒍𝒏(𝟐)∫ 𝐥𝐧 (𝒄𝒐𝒔𝒚)

𝝅
𝟐

𝟎

𝒅𝒚 

=⏞

𝒚=
𝝅
𝟐
−𝒚

𝝅 𝐥𝐧𝟐(𝟐) + 𝟒∫ (𝐥𝐧(𝒔𝒊𝒏𝒚))𝟐𝒅𝒚
𝝅

𝟎⏟            
𝑰𝟐

+ 𝟖𝒍𝒏(𝟐)∫ 𝐥𝐧 (𝒔𝒊𝒏𝒚)

𝝅
𝟐

𝟎

𝒅𝒚
⏟          

𝑰𝟏

 

𝑰𝟏 = ∫ 𝐥𝐧 (𝒔𝒊𝒏𝒚)

𝝅
𝟐

𝟎

𝒅𝒚, 𝑰𝟏 =⏞

𝒚=
𝝅
𝟐
−𝒚

∫ 𝐥𝐧 (𝒄𝒐𝒔𝒚)

𝝅
𝟐

𝟎

𝒅𝒚 

𝟐𝑰𝟏 = ∫ 𝐥𝐧 (𝒔𝒊𝒏𝒚𝒄𝒐𝒔𝒚)

𝝅
𝟐

𝟎

𝒅𝒚, 𝟐𝑰𝟏 = ∫ 𝐥𝐧 (𝐬𝐢𝐧 (𝟐𝒚))

𝝅
𝟐

𝟎

𝒅𝒚 −
𝝅

𝟐
𝐥𝐧 (𝟐) 

𝟐𝑰𝟏 =
𝟏

𝟐
∫ 𝐥𝐧 (𝐬𝐢𝐧 (𝒙))
𝝅

𝟎

𝒅𝒙 −
𝝅

𝟐
𝐥 𝐧(𝟐) ,   𝟐𝑰𝟏 = ∫ 𝐥𝐧 (𝐬𝐢𝐧 (𝒙))

𝝅
𝟐

𝟎

𝒅𝒙 −
𝝅

𝟐
𝐥𝐧 (𝟐) 

𝟐𝑰𝟏 = 𝑰𝟏 −
𝝅

𝟐
𝐥 𝐧(𝟐),   𝑰𝟏 = −

𝝅

𝟐
𝐥𝐧 (𝟐) 

𝑰𝟐 = 𝑹𝒆∫ (𝐥𝐧(𝒔𝒊𝒏𝒚))𝟐𝒅𝒚
𝝅

𝟎

,   𝑰𝟐 =⏞

𝒚=
𝜽
𝟐 𝟏

𝟐
𝑹𝒆∫ (𝐥𝐧 (𝐬𝐢𝐧 (

𝜽

𝟐
)))

𝟐

𝒅𝒚
𝟐𝝅

𝟎

 

𝑰𝟐 =
𝟏

𝟐
𝑹𝒆∫ [𝐥𝐨𝐠(𝟏 − 𝒆𝒊𝜽) − 𝐥𝐧(𝟐) −

𝒊

𝟐
(𝜽 − 𝝅)]

𝟐

𝒅𝒚
𝟐𝝅

𝟎

 

𝑰𝟐 =
𝟏

𝟐
𝑹𝒆∫ 𝐥𝐨𝐠𝟐(𝟐) −

𝟏

𝟒
(𝜽 − 𝝅)𝟐 𝒅𝜽

𝟐𝝅

𝟎

+
𝟏

𝟐
𝑹𝒆∫ −𝒊𝒍𝒐𝒈(𝟏 − 𝒆𝒊𝜽)(𝜽 − 𝝅)𝒅𝜽

𝟐𝝅

𝟎

+
𝟏

𝟐
𝑹𝒆∫ 𝐥𝐨𝐠𝟐(𝟏 − 𝒆𝒊𝜽) − 𝟐 𝐥𝐨𝐠(𝟐) 𝐥𝐨𝐠(𝟏 − 𝒆𝒊𝜽) 𝒅𝜽

𝟐𝝅

𝟎
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 𝑰𝟐 =
𝟏

𝟐
(𝟐𝝅 𝐥𝐨𝐠𝟐(𝟐) −

𝝅𝟑

𝟔
) +

𝟏

𝟐
(
𝝅𝟑

𝟑
) +

𝟏

𝟐
𝑹𝒆∮ (−

𝒊

𝒛
) (𝐥𝐨𝐠𝟐(𝟏 − 𝒛) − 𝟐 𝐥𝐨𝐠(𝟐) 𝐥𝐨𝐠(𝟏 −

|𝒛|=𝟏

𝒛)) 𝒅𝒛 

𝑰𝟐 =
𝟏

𝟐
(𝟐𝝅 𝐥𝐨𝐠𝟐(𝟐) +

𝝅𝟑

𝟔
) 

∫ 𝐥𝐧𝟐(𝟏 + 𝒄𝒐𝒔𝒙)𝒅𝒙
𝝅

𝟎

= 𝝅 𝐥𝐧𝟐(𝟐) + 𝟐𝝅𝜻(𝟐)  

2593. Find a closed form: 

∫
√𝒙

𝟏 + 𝒆𝟐𝒙

∞

𝟎

𝒅𝒙 

Proposed by Manuel Suka-Angola 
Solution by Pratham Prasad-India 

∫
√𝒙

𝟏 + 𝒆𝟐𝒙

∞

𝟎

𝒅𝒙 = ∫
√𝒙𝒆−𝟐𝒙

𝟏 + 𝒆−𝟐𝒙

∞

𝟎

𝒅𝒙 = ∫ √𝒙∑(−𝟏)𝒓−𝟏𝒆−𝟐𝒓𝒙
∞

𝒓=𝟏

∞

𝟎

𝒅𝒙 = 

=∑(−𝟏)𝒓−𝟏
∞

𝒓=𝟏

∫ √𝒙
∞

𝟎

𝒆−𝟐𝒓𝒙𝒅𝒙 =∑
(−𝟏)𝒓−𝟏

(𝟐𝒓)
𝟑
𝟐

∞

𝒓=𝟏

∫ √𝒕
∞

𝟎

𝒆−𝒕𝒅𝒕 =
𝟏

𝟐
𝟑
𝟐

∑
(−𝟏)𝒓−𝟏

(𝒓)
𝟑
𝟐

∞

𝒓=𝟏

𝚪 (
𝟑

𝟐
) = 

=
𝟏

𝟐
𝟑
𝟐

(𝟏 −
𝟏

√𝟐
) 𝛇 (

𝟑

𝟐
)(
√𝝅

𝟐
)  =

𝝅

𝟖
(√𝟐 − 𝟏)𝛇 (

𝟑

𝟐
) 

 

2594. Find a closed form: 

∑ ∑
𝑯𝒏−𝟏𝟐

−𝒎

𝒏(𝒎 − 𝒏)

𝒎−𝟏

𝒏=𝟐

∞

𝒎=𝟑

, 𝒘𝒉𝒆𝒓𝒆 𝑯𝒌 𝒊𝒔 𝒕𝒉𝒆 𝒌_𝒕𝒉 𝒉𝒂𝒓𝒎𝒐𝒏𝒊𝒄 𝒏𝒖𝒎𝒃𝒆𝒓 

Proposed by Vincenzo Dima-Italy 
Solution by Shobhit Jain-India 
 

𝑰 = ∑ ∑
𝑯𝒏−𝟏𝟐

−𝒎

𝒏(𝒎− 𝒏)
𝒎<∞𝟏<𝑛<

= ∑
𝑯𝒏−𝟏
𝒏

∑
𝟐−𝒎

(𝒎 − 𝒏)

∞

𝒎=𝒏+𝟏

∞

𝒏=𝟐

 =⏟
𝒎=𝒌+𝒏

  (∑
𝑯𝒏−𝟏
𝒏𝟐𝒏

∞

𝒏=𝟐

)(∑
𝟐−𝒌

𝒌

∞

𝒌=𝟏

) 

𝑼𝒔𝒆,   ∑
𝟐−𝒌

𝒌

∞

𝒌=𝟏

= −𝒍𝒏(𝟏 − 𝟐−𝟏) = 𝒍𝒏𝟐 

𝑵𝒐𝒘, −𝒍𝒏(𝟏 − 𝒚) = ∑
𝒚𝒌

𝒌

∞

𝒌=𝟏

⟹−
𝒍𝒏(𝟏 − 𝒚)

𝟏 − 𝒚
= ∑𝑯𝒏−𝟏𝒚

𝒏−𝟏

∞

𝒏=𝟐

  

𝑰𝒏𝒕𝒆𝒈𝒓𝒂𝒕𝒆  𝒘. 𝒓. 𝒕  𝒚  𝒇𝒓𝒐𝒎 𝒚 = 𝟎  𝒕𝒐  𝒚 = 𝒙 

⟹
𝒍𝒏𝟐(𝟏 − 𝒙)

𝟐
= ∑

𝑯𝒏−𝟏
𝒏

∞

𝒏=𝟐

𝒙𝒏   ⟹⏟

𝒙=
𝟏
𝟐

  
𝒍𝒏𝟐𝟐

𝟐
= ∑

𝑯𝒏−𝟏
𝒏𝟐𝒏

∞

𝒏=𝟐

⟹ 𝑰 = (
𝒍𝒏𝟐𝟐

𝟐
) (𝒍𝒏𝟐) =

𝟏

𝟐
(𝒍𝒏𝟐)𝟑 
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2595. Prove that: 

∫∫
𝒚𝒔𝒊𝒏(𝒙) − 𝟏

𝟏 + 𝒚𝒔𝒊𝒏(𝒙)
𝒅𝒙𝒅𝒚

𝝅
𝟐

𝟎

𝝅
𝟐

𝟎

= 𝟐(𝑳𝒊𝟐 (
𝟐 − 𝝅 − √𝝅𝟐 − 𝟒

𝟐
) + 𝑳𝒊𝟐 (

𝟐 − 𝝅 + √𝝅𝟐 − 𝟒

𝟐
)) 

Proposed by Amin Hajiyev-Azerbaijan 
Solution by Shobhit Jain-India 

𝑰 = ∫∫
𝒚𝒔𝒊𝒏(𝒙) − 𝟏

𝟏 + 𝒚𝒔𝒊𝒏(𝒙)
𝒅𝒙𝒅𝒚

𝝅
𝟐

𝟎

𝝅
𝟐

𝟎

= ∫∫𝟏 −
𝟐

𝟏 + 𝒚𝒔𝒊𝒏(𝒙)
𝒅𝒚𝒅𝒙

𝝅
𝟐

𝟎

𝝅
𝟐

𝟎

= 

= ∫ (
𝝅

𝟐
−

𝟐

𝒔𝒊𝒏(𝒙)
𝒍𝒏(𝟏 +

𝝅

𝟐
𝒔𝒊𝒏(𝒙)))𝒅𝒙

𝝅
𝟐

𝟎

= 

=
𝝅𝟐

𝟒
− 𝟐∫

𝒍𝒏(𝟏 +
𝝅
𝟐 𝒔𝒊𝒏

(𝒙))

𝒔𝒊𝒏(𝒙)
𝒅𝒙

𝝅
𝟐

𝟎

=
𝝅𝟐

𝟒
− 𝟐𝒇(

𝝅

𝟐
) 

𝑵𝒐𝒘,   𝒄𝒐𝒏𝒔𝒊𝒅𝒆𝒓  𝒇(𝒂) = ∫
𝒍𝒏(𝟏 + 𝒂 𝒔𝒊𝒏(𝒙))

𝒔𝒊𝒏(𝒙)
𝒅𝒙

𝝅
𝟐

𝟎

    𝒂 ≥ −𝟏 ⟹   𝒇(𝟎) = 𝟎 

⟹ 𝒇(𝟏) = ∫
𝒍𝒏(𝟏 + 𝒔𝒊𝒏(𝒙))

𝒔𝒊𝒏(𝒙)
𝒅𝒙

𝝅
𝟐

𝟎

=⏟
𝒙⟶𝟐𝒕𝒂𝒏−𝟏𝒕

𝒕=𝒕𝒂𝒏(
𝒙
𝟐
)

   ∫
𝒍𝒏(𝟏 +

𝟐𝒕
𝟏 + 𝒕𝟐

)

𝟐𝒕
𝟏 + 𝒕𝟐

𝟐

𝟏 + 𝒕𝟐
𝒅𝒕

𝟏

𝟎

=∫
𝒍𝒏 (

(𝟏 + 𝒕)𝟐

𝟏 + 𝒕𝟐
)

𝒕
𝒅𝒕

𝟏

𝟎

= 𝟐∫
𝒍𝒏(𝟏 + 𝒕)

𝒕
𝒅𝒕

𝟏

𝟎

−∫
𝒍𝒏(𝟏 + 𝒕𝟐)

𝒕
𝒅𝒕

𝟏

𝟎

=

= 𝟐
𝝅𝟐

𝟏𝟐
−
𝟏

𝟐
∫
𝒍𝒏(𝟏 + 𝒚)

𝒚
𝒅𝒚

𝟏

𝟎

  (𝒃𝒚  𝒔𝒖𝒃𝒔𝒕𝒊𝒕𝒖𝒕𝒊𝒏𝒈 𝒚 = 𝒕𝟐) 

⟹ 𝒇(𝟏) =
𝝅𝟐

𝟔
−
𝟏

𝟐
×
𝝅𝟐

𝟏𝟐
=
𝝅𝟐

𝟖
 

  𝒇′(𝒂)

= ∫
𝟏

𝟏 + 𝒂𝒔𝒊𝒏(𝒙)
𝒅𝒙

𝝅
𝟐

𝟎

=⏟

𝒙→
𝝅
𝟐
−𝒙

   ∫
𝟏

𝟏 + 𝒂 𝒄𝒐𝒔(𝒙)
𝒅𝒙

𝝅
𝟐

𝟎

=⏟
𝒙⟶𝟐𝒕𝒂𝒏−𝟏𝒕

𝒕=𝒕𝒂𝒏(
𝒙
𝟐
)

   ∫
𝟐

(𝟏 + 𝒂) + (𝟏 − 𝒂)𝒕𝟐
𝒅𝒕

𝟏

𝟎

 

⟹ 𝒇′(𝒂) =
𝟐

√𝟏 − 𝒂𝟐
𝒕𝒂𝒏−𝟏 (√

𝟏 − 𝒂

𝟏 + 𝒂
) =

𝒄𝒐𝒔−𝟏𝒂

√𝟏 − 𝒂𝟐
   𝒇𝒐𝒓  − 𝟏 ≤ 𝒂 ≤ 𝟏 
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⟹ 𝒇′(𝒂) =
𝟐

√𝒂𝟐 − 𝟏
𝒕𝒂𝒏𝒉−𝟏 (√

𝒂 − 𝟏

𝒂 + 𝟏
) =

𝒄𝒐𝒔𝒉−𝟏𝒂

√𝒂𝟐 − 𝟏
  𝒇𝒐𝒓    𝒂 ≥ 𝟏 

⟹ 𝒇(𝒂) =
𝝅𝟐

𝟖
−
(𝒄𝒐𝒔−𝟏𝒂)𝟐

𝟐
    − 𝟏 ≤ 𝒂 ≤ 𝟏 ⟹ 𝒇(𝒂) =

𝝅𝟐

𝟖
+
(𝒄𝒐𝒔𝒉−𝟏𝒂)𝟐

𝟐
    𝒂 ≥ 𝟏 

⟹ 𝑰 =
𝝅𝟐

𝟒
− 𝟐𝒇(

𝝅

𝟐
) =

𝝅𝟐

𝟒
− 𝟐

(

 
𝝅𝟐

𝟖
+
(𝒄𝒐𝒔𝒉−𝟏 (

𝝅
𝟐))

𝟐

𝟐

)

 = −(𝒄𝒐𝒔𝒉−𝟏 (
𝝅

𝟐
))

𝟐

= 

= −𝒍𝒏𝟐(
𝝅

𝟐
+√

𝝅𝟐

𝟒
− 𝟏) = −𝒍𝒏𝟐 (

𝝅 + √𝝅𝟐 − 𝟒

𝟐
) 

𝑳𝒆𝒕,   𝒛 =
𝝅 + √𝝅𝟐 − 𝟒

𝟐
 ⟹ 

𝟏

𝒛
=  
𝝅 − √𝝅𝟐 − 𝟒

𝟐
 

𝑵𝒐𝒘,   𝑳𝒊𝟐(𝟏 − 𝒛) + 𝑳𝒊𝟐 (𝟏 −
𝟏

𝒛
) = −

𝒍𝒏𝟐(𝒛)

𝟐
⟹ −𝒍𝒏𝟐(𝒛)

= 𝟐(𝑳𝒊𝟐(𝟏 − 𝒛) + 𝑳𝒊𝟐 (𝟏 −
𝟏

𝒛
)) 

⟹−𝒍𝒏𝟐 (
𝝅 + √𝝅𝟐 − 𝟒

𝟐
) = 𝟐(𝑳𝒊𝟐 (𝟏 −

𝝅 + √𝝅𝟐 − 𝟒

𝟐
) + 𝑳𝒊𝟐 (𝟏 −

𝝅 − √𝝅𝟐 − 𝟒

𝟐
)) 

⟹ 𝑰 = 𝟐(𝑳𝒊𝟐 (
𝟐 − 𝝅 − √𝝅𝟐 − 𝟒

𝟐
) + 𝑳𝒊𝟐 (

𝟐 − 𝝅 + √𝝅𝟐 − 𝟒

𝟐
)) 

2596. Prove that: 

∬ (
𝑥+ 𝑦

𝑙𝑛(𝑥𝑦)
− 𝑡𝑎𝑛−1 (

𝑦2

𝑥
))𝑑𝑥𝑑𝑦 

 

[0,1]2

=
1

3√2
𝑠𝑖𝑛ℎ−1(1) −

1

√2
𝑐𝑜𝑡ℎ−1(√2) −

13

6
𝑙𝑛(2) + 𝜋 (

1

3√2
−
1

4
) 

Proposed by Cosghun Memmedov-Azerbaijan 
Solution by Shobhit Jain-India 

𝜴 = ∬
𝒙+ 𝒚

𝒍𝒏(𝒙𝒚)
𝒅𝒙𝒅𝒚 

 

[𝟎,𝟏]𝟐⏟            
𝑰𝟏

− ∬ 𝒕𝒂𝒏−𝟏 (
𝒚𝟐

𝒙
)𝒅𝒙𝒅𝒚 

 

[𝟎,𝟏]𝟐⏟              
𝑰𝟐

= 

𝑰𝟏 =⏟
𝒙=𝒆−𝒖

𝒚=𝒆−𝒗

  − ∫ ∫
(𝒆−𝒖 + 𝒆−𝒗)

𝒖 + 𝒗

∞

𝟎

𝒆−𝒖−𝒗𝒅𝒖𝒅𝒗

∞

𝟎

= −𝟐∫ ∫
𝒆−𝟐𝒖−𝒗

𝒖 + 𝒗

∞

𝟎

𝒅𝒖𝒅𝒗

∞

𝟎

= 

= −𝟐∫ (∫
𝒆−𝟐𝒖−𝒗

𝒖 + 𝒗

∞

𝟎

𝒅𝒗)𝒅𝒖

∞

𝟎

=⏟
𝒗→𝒖𝒕

− 𝟐∫ (∫
𝒆−(𝒕+𝟐)𝒖

𝟏 + 𝒕

∞

𝟎

𝒅𝒕)𝒅𝒖

∞

𝟎

= 
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= −𝟐∫ ∫
𝒆−(𝒕+𝟐)𝒖

𝟏 + 𝒕
𝒅𝒖𝒅𝒕

∞

𝟎

∞

𝟎

= −𝟐∫
𝟏

(𝟏 + 𝒕)(𝟐 + 𝒕)

∞

𝟎

𝒅𝒕 = −𝟐𝒍𝒏𝟐 

𝑰𝟐 = ∫(∫𝒕𝒂𝒏
−𝟏 (

𝒚𝟐

𝒙
)𝒅𝒙

𝟏

𝟎

)𝒅𝒚

𝟏

𝟎

=⏟
𝒙→𝑿𝒚𝟐

  ∫𝒚𝟐

(

 
 
∫ 𝒕𝒂𝒏−𝟏 (

𝟏

𝑿
)𝒅𝑿

𝟏

𝒚𝟐

𝟎

)

 
 
𝒅𝒚

𝟏

𝟎

= 

=⏟

𝒚→
𝟏
𝒀

  ∫
𝟏

𝒀𝟒
(∫ 𝒕𝒂𝒏−𝟏 (

𝟏

𝑿
)𝒅𝑿

𝒀𝟐

𝟎

)𝒅𝒀

∞

𝟏

= ∫
𝟏

𝒀𝟒
(∫

𝝅

𝟐
− 𝒕𝒂𝒏−𝟏(𝑿)𝒅𝑿

𝒀𝟐

𝟎

)𝒅𝒀 =

∞

𝟏

 

=
𝝅

𝟐
∫
𝟏

𝒀𝟐
𝒅𝒀

∞

𝟏

−∫
𝑭(𝒀𝟐)

𝒀𝟒
𝒅𝒀

∞

𝟏

=
𝝅

𝟐
−∫

𝑭(𝒀𝟐)

𝒀𝟒
𝒅𝒀

∞

𝟏

 

𝒉𝒆𝒓𝒆,   𝑭(𝒀𝟐) = ∫ 𝒕𝒂𝒏−𝟏(𝑿)𝒅𝑿

𝒀𝟐

𝟎

  ⟹ 𝑭(𝒀) = ∫ 𝒕𝒂𝒏−𝟏(𝑿)𝒅𝑿

𝒀

𝟎

= 𝒀𝒕𝒂𝒏−𝟏(𝒀) −
𝟏

𝟐
𝒍𝒏(𝟏 + 𝒀𝟐) 

∫
𝑭(𝒀𝟐)

𝒀𝟒
𝒅𝒀

∞

𝟏

=⏟
𝑰𝑩𝑷

 
𝟏

𝟑
𝑭(𝟏) +

𝟏

𝟑
∫
𝟐𝒀

𝒀𝟑
𝑭′(𝒀𝟐)𝒅𝒀

∞

𝟏

=
𝟏

𝟑
(
𝝅

𝟒
−
𝒍𝒏𝟐

𝟐
) +

𝟐

𝟑
∫
𝒕𝒂𝒏−𝟏(𝒀𝟐)

𝒀𝟐
𝒅𝒀

∞

𝟏

 

⟹ 𝑰𝟐 =
𝝅

𝟐
−
𝟏

𝟑
(
𝝅

𝟒
−
𝒍𝒏𝟐

𝟐
) −

𝟐

𝟑
∫
𝒕𝒂𝒏−𝟏(𝒀𝟐)

𝒀𝟐
𝒅𝒀

∞

𝟏

 

𝑵𝒐𝒘,   ∫
𝒕𝒂𝒏−𝟏(𝒀𝟐)

𝒀𝟐
𝒅𝒀

∞

𝟏

=⏟
𝑰𝑩𝑷

𝝅

𝟒
+ ∫

𝟐

𝟏 + 𝒀𝟒
𝒅𝒀

∞

𝟏

 

⟹ 𝑰𝟐 =
𝝅

𝟐
−
𝟏

𝟑
(
𝝅

𝟒
−
𝒍𝒏𝟐

𝟐
) −

𝟐

𝟑
(
𝝅

𝟒
) −

𝟐

𝟑
∫

𝟐

𝟏 + 𝒀𝟒
𝒅𝒀

∞

𝟏

=
𝝅

𝟒
+
𝒍𝒏𝟐

𝟔
−
𝟐

𝟑
∫

𝟐

𝟏 + 𝒀𝟒
𝒅𝒀

∞

𝟏

 

∫
𝟐

𝟏 + 𝒀𝟒
𝒅𝒀

∞

𝟏

= ∫
𝟏 +

𝟏
𝒀𝟐
− (𝟏−

𝟏
𝒀𝟐
)

𝒀𝟐 +
𝟏
𝒀𝟐

𝒅𝒀

∞

𝟏

= ∫
𝟏+

𝟏
𝒀𝟐

𝒀𝟐 +
𝟏
𝒀𝟐

𝒅𝒀

∞

𝟏

−∫
𝟏 −

𝟏
𝒀𝟐

𝒀𝟐 +
𝟏
𝒀𝟐

𝒅𝒀 =

∞

𝟏

 

=⏟

𝒖=𝒀−
𝟏
𝒀

𝒗=𝒀+
𝟏
𝒀

  ∫
𝒅𝒖

𝒖𝟐 + 𝟐

∞

𝟎

−∫
𝒅𝒗

𝒗𝟐 − 𝟐

∞

𝟐

=
𝝅

𝟐√𝟐
−

𝟏

𝟐√𝟐
[𝒍𝒏(

𝒗 − √𝟐

𝒗 + √𝟐
)]
𝟐

∞

=
𝝅

𝟐√𝟐
−
𝟏

√𝟐
𝒍𝒏(𝟏 + √𝟐) 

⟹ 𝑰𝟐 =
𝝅

𝟒
+
𝒍𝒏𝟐

𝟔
−
𝟐

𝟑
(
𝝅

𝟐√𝟐
−
𝟏

√𝟐
𝒍𝒏(𝟏 + √𝟐)) =

𝝅

𝟒
−
𝝅

𝟑√𝟐
+

𝟐

𝟑√𝟐
𝒍𝒏(𝟏 + √𝟐) +

𝒍𝒏𝟐

𝟔
 

⟹𝜴 = 𝑰𝟏 − 𝑰𝟐 = −𝟐𝒍𝒏𝟐 − (
𝝅

𝟒
−
𝝅

𝟑√𝟐
+

𝟐

𝟑√𝟐
𝒍𝒏(𝟏 + √𝟐) +

𝒍𝒏𝟐

𝟔
) = 
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= −
𝟐

𝟑√𝟐
𝒍𝒏(𝟏 + √𝟐) −

𝟏𝟑

𝟔
𝒍𝒏(𝟐) + 𝝅 (

𝟏

𝟑√𝟐
−
𝟏

𝟒
) = 

=
𝟏

𝟑√𝟐
𝒍𝒏(𝟏 + √𝟐) −

𝟏

√𝟐
𝒍𝒏(𝟏 + √𝟐) −

𝟏𝟑

𝟔
𝒍𝒏(𝟐) + 𝝅(

𝟏

𝟑√𝟐
−
𝟏

𝟒
) 

𝑵𝒐𝒘,   𝒔𝒊𝒏𝒉−𝟏𝒙 = 𝒍𝒏 (𝒙 + √𝒙𝟐 + 𝟏)      𝒂𝒏𝒅     𝒄𝒐𝒕𝒉−𝟏𝒙 =
𝟏

𝟐
𝒍𝒏(

𝒙 + 𝟏

𝒙 − 𝟏
) 

⟹ 𝒔𝒊𝒏𝒉−𝟏(𝟏) = 𝒍𝒏(𝟏 + √𝟐) = 𝒄𝒐𝒕𝒉−𝟏√𝟐 

⟹𝜴 =
𝟏

𝟑√𝟐
𝒔𝒊𝒏𝒉−𝟏(𝟏) −

𝟏

√𝟐
𝒄𝒐𝒕𝒉−𝟏√𝟐 −

𝟏𝟑

𝟔
𝒍𝒏(𝟐) + 𝝅 (

𝟏

𝟑√𝟐
−
𝟏

𝟒
) 

2597. Find a closed form: 

𝛀 = ∫
𝒙𝟐

𝒙𝟒 + 𝒙𝟐 + 𝟏
𝒅𝒙

∞

𝟏

 

Proposed by Nguyen Hung Cuong-Vietnam 
Solution by Daniel Sitaru-Romania 

𝛀 = ∫
𝒙𝟐

𝒙𝟒 + 𝒙𝟐 + 𝟏
𝒅𝒙 = ∫

𝒙𝟐

𝒙𝟐 (𝒙𝟐 +
𝟏
𝒙𝟐
+ 𝟏)

∞

𝟏

∞

𝟏

𝒅𝒙 = ∫
𝟏

𝒙𝟐 +
𝟏
𝒙𝟐
+ 𝟏

∞

𝟏

𝒅𝒙 = 

=⏞

𝒙=
𝟏
𝒚

∫
−
𝟏
𝒚𝟐

𝒚𝟐 +
𝟏
𝒚𝟐
+ 𝟏

𝒅𝒚

∞

𝟏

= ∫
−
𝟏
𝒙𝟐

𝒙𝟐 +
𝟏
𝒙𝟐
+ 𝟏

𝒅𝒙

∞

𝟏

 

𝟐𝛀 = ∫
𝟏 −

𝟏
𝒙𝟐

𝒙𝟐 +
𝟏
𝒙𝟐
+ 𝟏

𝒅𝒙

∞

𝟏

 

𝛀 =
𝟏

𝟐
∫
(𝒙 +

𝟏
𝒙)

′

𝒅𝒙

(𝒙 +
𝟏
𝒙)

𝟐

− 𝟑

∞

𝟏

=⏞

𝒚=𝒙+
𝟏
𝒙 𝟏

𝟐
∫

𝟏

𝒚𝟐 − 𝟑
𝒅𝒚

∞

𝟐

= 

𝛀 =
𝟏

𝟒√𝟑
𝐥𝐢𝐦
𝒚→∞

(𝒍𝒏 |
𝒚 − √𝟑

𝒚 + √𝟑
|) −

𝟏

𝟒√𝟑
𝒍𝒏 |
𝟐 − √𝟑

𝟐 + √𝟑
| 

 

𝛀 =
𝟏

𝟒√𝟑
𝒍𝒏𝟏 −

𝟏

𝟒√𝟑
𝒍𝒏 |
𝟐 − √𝟑

𝟐 + √𝟑
| =

𝟏

𝟒√𝟑
𝒍𝒏 (

𝟐 + √𝟑

𝟐− √𝟑
) 

2598. Find: 

𝑰 = ∫
𝒙

√𝒙𝟒 + 𝒙𝟐 + 𝟏
𝒅𝒙

∞

𝟏

 

 
Proposed by Nguyen Hung Cuong-Vietnam 
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Solution by Shirvan Tahirov-Azerbaijan, Kartick Chandra Betal-India 
 

𝑰 = ∫
𝒙

√𝒙𝟒 + 𝒙𝟐 + 𝟏
𝒅𝒙

∞

𝟏

= ∫
𝒅𝒙

√𝒙𝟐 +
𝟏
𝒙𝟐
+ 𝟏

∞

𝟏

= 

𝒙 =
𝟏

𝒚
→ 𝒅𝒙 = −

𝟏

𝒚𝟐
𝒅𝒚 →= ∫

−
𝟏
𝒚𝟐
𝒅𝒚

√𝒚𝟐 +
𝟏
𝒚𝟐
+ 𝟏

∞

𝟏

 

𝑰 = ∫
𝒅𝒙

√𝒙𝟐 +
𝟏
𝒙𝟐
+ 𝟏

∞

𝟏

 , 𝑰 = ∫
−
𝟏
𝒙𝟐
𝒅𝒙

√𝒙𝟐 +
𝟏
𝒙𝟐
+ 𝟏

∞

𝟏

⟹ 𝟐𝑰 = ∫
(𝟏 −

𝟏
𝒙𝟐
)𝒅𝒙

√𝒙𝟐 +
𝟏
𝒙𝟐
+ 𝟏

∞

𝟏

 

𝒙 +
𝟏

𝒙
= 𝒚 → (𝒙 +

𝟏

𝒙
)
′

𝒅𝒙 = (𝟏 −
𝟏

𝒙𝟐
)𝒅𝒙 = 𝒅𝒚 

𝟐𝑰 = ∫
(𝒙 +

𝟏
𝒙)

′

𝒅𝒙

√(𝒙 +
𝟏
𝒙)

𝟐

− 𝟏

∞

𝟏

= ∫
𝒅𝒚

√𝒚𝟐 − 𝟏

∞

𝟐

= 𝒍𝒐𝒈 |𝒚 + √𝒚𝟐 − 𝟏| |
∞
𝟐
= ∞ 

𝑰 = ∞ 

2599. Find a closed form: 

Ω = ∫
𝒙𝒍𝒏𝟐(𝒙)

(𝟏 − 𝒙)(𝟐 − 𝒙)(𝟑 − 𝒙)
𝒅𝒙

𝟏

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution 1 by Exodo Halcalias-Angola 
 

𝛀 = ∫
𝒙𝒍𝒏𝟐(𝒙)

(𝟏 − 𝒙)(𝟐 − 𝒙)(𝟑 − 𝒙)
𝒅𝒙

𝟏

𝟎

= −𝟐∫
𝒍𝒏𝟐(𝒙)

𝟐 − 𝒙
𝒅𝒙

𝟏

𝟎

−
𝟏

𝟐
∫
𝒍𝒏𝟐(𝒙)

𝒙 − 𝟏
𝒅𝒙

𝟏

𝟎

+
𝟑

𝟐
∫
𝒍𝒏𝟐(𝒙)

𝟑 − 𝒙
𝒅𝒙

𝟏

𝟎

= 

−𝟐∫

𝟏
𝟐 𝒍𝒏

𝟐(𝒙)

𝟏 −
𝟏
𝟐𝒙

𝒅𝒙
𝟏

𝟎

+
𝟏

𝟐
∫
𝒍𝒏𝟐(𝒙)

𝟏 − 𝒙
𝒅𝒙

𝟏

𝟎

+
𝟑

𝟐
∫

𝟏
𝟑 𝒍𝒏

𝟐(𝒙)

𝟏 −
𝟏
𝟑𝒙

𝟏

𝟎

𝒅𝒙

= −𝟒𝑳𝒊𝟑 (
𝟏

𝟐
) + 𝑳𝒊𝟑(𝟏) + 𝟑𝑳𝒊𝟑 (

𝟏

𝟑
) = 

−
𝟏

𝟔
(𝟐𝟏𝜻(𝟑) + 𝟒𝒍𝒏𝟑(𝟐) + 𝟏𝟐𝜻(𝟐) 𝐥𝐧 (

𝟏

𝟐
)) + 𝜻(𝟑) + 𝟑𝑳𝒊𝟑 (

𝟏

𝟑
) 

𝑵𝒐𝒕𝒆 ∶ 

 ∴ ∫
𝒚𝒍𝒏𝒏(𝒛)

𝟏 − 𝒚𝒛
𝒅𝒛 = (−𝟏)𝒏𝒏! 𝑳𝒊𝒏+𝟏(𝒚)

𝟏

𝟎

 

𝑳𝒊𝒔+𝟏(𝒛) = ∫
𝑳𝒊𝒔(𝒕)

𝒕
𝒅𝒕

𝒛

𝟎
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Solution 2 by Pratham Prasad-India 

𝛀 = ∫
𝒙𝒍𝒏𝟐(𝒙)

(𝟏 − 𝒙)(𝟐 − 𝒙)(𝟑 − 𝒙)

𝟏

𝟎

𝒅𝒙 = 

=
𝟑

𝟐
∫
𝐥𝐧𝟐(𝒙)

𝟑 − 𝒙

𝟏

𝟎

𝒅𝒙 +
𝟏

𝟐
∫
𝐥𝐧𝟐(𝒙)

𝟏 − 𝒙

𝟏

𝟎

𝒅𝒙 − 𝟐∫
𝐥𝐧𝟐(𝒙)

𝟐 − 𝒙

𝟏

𝟎

𝒅𝒙 =
𝟑

𝟐
𝑰(𝟑) +

𝟏

𝟐
𝑰(𝟏) − 𝟐𝑰(𝟐) 

𝑫𝒆𝒇𝒊𝒏𝒆:  

𝑰(𝒂) = ∫
𝐥𝐧𝟐(𝒙)

𝒂 − 𝒙

𝟏

𝟎

𝒅𝒙 =
𝟏

𝒂
∫
𝐥𝐧𝟐(𝒙)

𝟏 −
𝒙
𝒂

𝟏

𝟎

𝒅𝒙 

=
𝟏

𝒂
∫ ∑(

𝒙

𝒂
)
𝒓

𝐥𝐧𝟐(𝒙)

∞

𝒓=𝟎

𝟏

𝟎

𝒅𝒙 =
𝟏

𝒂
∑(

𝟏

𝒂
)
𝒓∞

𝒓=𝟎

∫ 𝒙𝒓 𝐥𝐧𝟐(𝒙)
𝟏

𝟎

𝒅𝒙 = 

𝟏

𝒂
∑(

𝟏

𝒂
)
𝒓∞

𝒓=𝟎

𝒅𝟐

𝒅𝒓𝟐
( ∫ 𝒙𝒓

𝟏

𝟎

𝒅𝒙) =
𝟏

𝒂
∑(

𝟏

𝒂
)
𝒓∞

𝒓=𝟎

𝒅𝟐

𝒅𝒓𝟐
(
𝟏

𝒓 + 𝟏
) =

𝟏

𝒂
∑(

𝟏

𝒂
)
𝒓∞

𝒓=𝟎

(
𝟐

(𝒓 + 𝟏)𝟑
) = 𝟐∑

(
𝟏
𝒂
)
𝒓

𝒓𝟑

∞

𝒓=𝟏

 

𝑰(𝒂) = 𝟐𝑳𝒊𝟑 (
𝟏

𝒂
) 

𝝍 = 𝟑𝑳𝒊𝟑 (
𝟏

𝟑
) + 𝑳𝒊𝟑(𝟏) − 𝟒𝑳𝒊𝟐 (

𝟏

𝟐
) 

∫
𝒙𝒍𝒏𝟐(𝒙)

(𝟏 − 𝒙)(𝟐 − 𝒙)(𝟑 − 𝒙)

𝟏

𝟎

𝒅𝒙 = 𝟑𝑳𝒊𝟑 (
𝟏

𝟑
) + 𝜻(𝟑) − 𝟒𝑳𝒊𝟐 (

𝟏

𝟐
) 

 

Solution 3 by Shobhit Jain-India 

∆= ∫
𝒙𝒍𝒏𝟐𝒙

(𝟏 − 𝒙)(𝟐 − 𝒙)(𝟑 − 𝒙)
𝒅𝒙

𝟏

𝟎

= ∫ 𝒍𝒏𝟐𝒙(

𝟏
𝟐

𝟏 − 𝒙
−

𝟐

𝟐 − 𝒙
+

𝟑
𝟐

𝟑 − 𝒙
)𝒅𝒙

𝟏

𝟎

 

= ∫ 𝒍𝒏𝟐𝒙(
𝟏

𝟐
(𝟏 − 𝒙)−𝟏 − (𝟏−

𝒙

𝟐
)
−𝟏

+
𝟏

𝟐
(𝟏 −

𝒙

𝟑
)
−𝟏

)𝒅𝒙

𝟏

𝟎

=
𝟏

𝟐
𝑭(𝟏) − 𝑭(

𝟏

𝟐
) +

𝟏

𝟐
𝑭(
𝟏

𝟑
) 

𝒉𝒆𝒓𝒆,   𝑭(𝒂) = ∫(𝒍𝒏𝟐𝒙)(𝟏 − 𝒂𝒙)−𝟏𝒅𝒙

𝟏

𝟎

= ∑∫(𝒍𝒏𝟐𝒙)𝒂𝒏−𝟏𝒙𝒏−𝟏𝒅𝒙

𝟏

𝟎

∞

𝒏=𝟏

= 𝚪𝟑∑
𝒂𝒏−𝟏

𝒏𝟑

∞

𝒏=𝟏

=
𝟐

𝒂
𝑳𝒊𝟑(𝒂) 

⟹ ∆=
𝟏

𝟐
𝑭(𝟏) − 𝑭(

𝟏

𝟐
) +

𝟏

𝟐
𝑭 (
𝟏

𝟑
) = 𝑳𝒊𝟑(𝟏) − 𝟒𝑳𝒊𝟑 (

𝟏

𝟐
) + 𝟑𝑳𝒊𝟑 (

𝟏

𝟑
) 

𝑩𝒚 𝑳𝒂𝒏𝒅𝒆𝒏′𝒔 𝑻𝒓𝒊𝒍𝒐𝒈𝒂𝒓𝒊𝒕𝒉𝒎𝒊𝒄 𝒊𝒅𝒆𝒏𝒕𝒊𝒕𝒚, 

𝑳𝒊𝟑(𝒛) + 𝑳𝒊𝟑(𝟏 − 𝒛) + 𝑳𝒊𝟑 (𝟏 −
𝟏

𝒛
) = 𝜻(𝟑) +

𝟏

𝟔
𝒍𝒏𝟑𝒛 + 𝜻(𝟐)𝒍𝒏𝒛 −

𝟏

𝟐
(𝒍𝒏𝟐𝒛)𝒍𝒏(𝟏 − 𝒛) 

⟹⏟
𝒛=𝟏

𝑳𝒊𝟑(𝟏) = 𝜻(𝟑)⟹⏟

𝒛=
𝟏
𝟐

𝟐𝑳𝒊𝟑 (
𝟏

𝟐
) + 𝑳𝒊𝟑(−𝟏) = 𝜻(𝟑) +

𝟏

𝟑
𝒍𝒏𝟑𝟐 − 𝜻(𝟐)𝒍𝒏𝟐 
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⟹ 𝟐𝑳𝒊𝟑 (
𝟏

𝟐
) − 𝜼(𝟑) = 𝜻(𝟑) +

𝟏

𝟑
𝒍𝒏𝟑𝟐 −

𝝅𝟐

𝟔
𝒍𝒏𝟐 ⟹ 𝟐𝑳𝒊𝟑 (

𝟏

𝟐
) −

𝟑

𝟒
𝜻(𝟑)

= 𝜻(𝟑) +
𝟏

𝟑
𝒍𝒏𝟑𝟐 −

𝝅𝟐

𝟔
𝒍𝒏𝟐 

⟹ 𝑳𝒊𝟑 (
𝟏

𝟐
) =

𝟕

𝟖
𝜻(𝟑) −

𝝅𝟐

𝟏𝟐
𝒍𝒏𝟐 +

𝟏

𝟔
𝒍𝒏𝟑𝟐⟹ ∆= 𝜻(𝟑) − 𝟒(

𝟕

𝟖
𝜻(𝟑) −

𝝅𝟐

𝟏𝟐
𝒍𝒏𝟐 +

𝟏

𝟔
𝒍𝒏𝟑𝟐) + 𝟑𝑳𝒊𝟑 (

𝟏

𝟑
) 

⟹ ∆= 𝟑𝑳𝒊𝟑 (
𝟏

𝟑
) +

𝝅𝟐

𝟑
𝒍𝒏𝟐 −

𝟓

𝟐
𝜻(𝟑) −

𝟐

𝟑
𝒍𝒏𝟑𝟐 

2600. Find a closed form: 

Ω = ∫ (𝒙𝟐 𝐥𝐧 (𝒔𝒊𝒏𝟐(𝒙)) + 𝒙𝟐(𝟏 + 𝐬𝐢𝐧(𝒙𝟐))) 𝒅𝒙

𝝅
𝟐

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution 1 by Bui Hong Suc-Vietnam 

∴ 𝐥𝐧(𝒔𝒊𝒏(𝒙)) = − 𝐥𝐧(𝟐) −∑
𝐜𝐨𝐬 (𝟐𝒌𝒙)

𝒌
, 𝒇𝒐𝒓  𝟎 < 𝑥 < 𝜋

∞

𝒌=𝟏

 

∴ ∫𝒙𝒏−𝟏 𝐜𝐨𝐬(𝒂𝒙)𝒅𝒙 = ∑𝒋! (
𝒏 − 𝟏

𝒋
)

𝒏−𝟏

𝒋=𝟎

𝒙𝒏−𝟏−𝒋

𝒂𝒋+𝟏
𝐬𝐢𝐧 (𝒂𝒙 +

𝒋𝝅

𝟐
) 

𝑭𝒐𝒓  𝒏,   𝒎, 𝒌 ∈ 𝒁+ ;    𝒎 ∈ 𝑹;  𝒂, 𝒃  ∈ 𝑹 

Ω = ∫ (𝒙𝒏 𝐥𝐧 (𝒔𝒊𝒏𝒌(𝒙)) + 𝒙𝒎(𝒂 + 𝒃 𝐬𝐢𝐧(𝒙𝒎))) 𝒅𝒙

𝝅
𝟐

𝟎

= ∫ 𝒙𝒏 𝐥𝐧 (𝒔𝒊𝒏𝒌(𝒙))𝒅𝒙

𝝅
𝟐

𝟎⏟              
𝑨

+ 

𝒂∫ 𝒙𝒎𝒅𝒙

𝝅
𝟐

𝟎⏟      
𝑩

+ 𝒃∫ 𝒙𝒎(𝒔𝒊𝒏(𝒙𝒎))𝒅𝒙

𝝅
𝟐

𝟎⏟              
𝑪

 

𝑨 = ∫ 𝒙𝒏 𝐥𝐧 (𝒔𝒊𝒏𝒌(𝒙))𝒅𝒙

𝝅
𝟐

𝟎

= 𝒌∫ 𝒙𝒏 𝐥𝐧(𝒔𝒊𝒏(𝒙))𝒅𝒙

𝝅
𝟐

𝟎

= −𝒌∫ 𝒙𝒏 (𝐥𝐧(𝟐) +∑
𝐜𝐨𝐬(𝟐𝒌𝒙)

𝒌

∞

𝒌=𝟏

)𝒅𝒙

𝝅
𝟐

𝟎

= 

−𝒌(𝐥𝐧(𝟐)∫ 𝒙𝒏−𝟏𝒅𝒙

𝝅
𝟐

𝟎

+∑
𝟏

𝒌
∫ 𝒙𝒏−𝟏
𝝅
𝟐

𝟎

𝐜𝐨𝐬 (𝟐𝒌𝒙))

∞

𝒌=𝟏

= −𝒌(
𝝅𝒏 𝐥𝐧(𝟐)

𝟐𝒏. 𝒏
+ 

∑
𝟏

𝒌

∞

𝒌=𝟏

∑𝒋!(
𝒏 − 𝟏

𝒋
)
𝒙𝒏−𝟏−𝒋

(𝟐𝒌)𝒋+𝟏

∞

𝒋=𝟎

𝐬𝐢𝐧 (𝟐𝒌𝒙 +
𝒋𝝅

𝟐
)|

𝝅
𝟐
𝟎
) = −𝒌(

𝝅𝒏+𝟏 𝐥𝐧(𝟐)

𝟐𝒏+𝟏. (𝒏 + 𝟏)
− 

𝒏!

𝟐𝒏+𝟏
𝐬𝐢𝐧 (

𝝅𝒙

𝟐
)∑

𝟏

𝒌𝒏+𝟐

∞

𝒌=𝟏

+∑𝒋! (
𝒏

𝒋
)

𝒏

𝒋=𝟎

𝝅𝒏−𝒋

𝟐𝒏+𝟏
∑
𝐬𝐢𝐧 (𝒌𝝅+

𝒋𝝅
𝟐 )

𝒌𝒋+𝟏

∞

𝒌=𝟏

) = −𝒌(
𝝅𝒏+𝟏 𝐥𝐧(𝟐)

𝟐𝒏+𝟏. (𝒏 + 𝟏)
− 
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∑𝒋!(
𝒏

𝒋
)

𝒏

𝒋=𝟎

𝝅𝒏−𝒋

𝟐𝒏+𝟏
𝐬𝐢𝐧 (

𝒋𝝅

𝟐
)∑

(−𝟏)𝒌−𝟏

𝒌𝒋+𝟏

∞

𝒌=𝟏

−
𝒏!

𝟐𝒏+𝟏
𝐬𝐢𝐧 (

𝒏𝝅

𝟐
)𝜻(𝒏 + 𝟐)) = −( 

𝝅𝒏+𝟏 𝐥𝐧(𝟐)

𝟐𝒏+𝟏. (𝒏 + 𝟏)
− 

∑𝒋! (
𝒏

𝒋
)

𝒏

𝒋=𝟎

𝝅𝒏−𝒋

𝟐𝒏+𝟏
𝐬𝐢𝐧 (

𝒋𝝅

𝟐
) (𝟏 − 𝟐−𝒋)𝜻(𝒏+ 𝟏) −

𝒏!

𝟐𝒏+𝟏
𝐬𝐢𝐧 (

𝒏𝝅

𝟐
)𝜻(𝒏 + 𝟐)) 

𝑩 = ∫ 𝒙𝒎𝒅𝒙

𝝅
𝟐

𝟎

=
𝒙𝒎+𝟏

𝒎+ 𝟏
|

𝝅
𝟐
𝟎
=

𝟏

𝒎+ 𝟏
(
𝝅

𝟐
)
𝒎+𝟏

 

𝑪 = ∫ 𝒙𝒎(𝒔𝒊𝒏(𝒙𝒎))𝒅𝒙

𝝅
𝟐

𝟎

= −
𝟏

𝒎
∫ 𝒙𝒅(𝒄𝒐𝒔(𝒙𝒎))

𝝅
𝟐

𝟎

=⏞
𝑰.𝑩.𝑷

−
𝟏

𝒎
(𝒙𝒄𝒐𝒔(𝒙𝒎)|

𝝅
𝟐
𝟎
− ∫ 𝒄𝒐𝒔(𝒙𝒎)

𝝅
𝟐

𝟎

) = 

−
𝟏

𝒎
(
𝝅

𝟐
𝐜𝐨𝐬 ((

𝝅

𝟐
)
𝒎

) − ∫ 𝒄𝒐𝒔(𝒙𝒎)𝒅𝒙
∞

𝟎

+∫ 𝒄𝒐𝒔(𝒙𝒎)𝒅𝒙
∞

𝝅
𝟐

) = −
𝟏

𝒎
(
𝝅

𝟐
𝐜𝐨𝐬 ((

𝝅

𝟐
)
𝒎

) − 

𝜞(𝟏 +
𝟏

𝒎
)𝒄𝒐𝒔

𝝅

𝟐𝒎
+
𝟏

𝟐𝒎
∫

𝒆𝒊𝒙
𝒎
+ 𝒆−𝒊𝒙

𝒎

(𝒙𝒎)
𝒎−𝟏
𝒎

∞

𝝅
𝟐

𝒅(𝒙𝒎)) = −
𝟏

𝒎
(
𝝅

𝟐
𝐜𝐨𝐬 ((

𝝅

𝟐
)
𝒎

) − 

𝜞(𝟏 +
𝟏

𝒎
)𝒄𝒐𝒔

𝝅

𝟐𝒎
+
𝟏

𝟐𝒎
∫

𝒆𝒊(
𝝅
𝟐
)
𝒎
𝒕 + 𝒆−𝒊(

𝝅
𝟐
)
𝒎
𝒕

((
𝝅
𝟐)

𝒏

𝒕)

𝒎−𝟏
𝒎

∞

𝟏

(
𝝅

𝟐
)𝒅𝒕) = −

𝟏

𝒎
(
𝝅

𝟐
𝐜𝐨𝐬 ((

𝝅

𝟐
)
𝒎

) − 

𝜞(𝟏 +
𝟏

𝒎
)𝒄𝒐𝒔

𝝅

𝟐𝒎
+
𝟏

𝟒𝒎
(∫

𝒆𝒊(
𝝅
𝟐
)
𝒎
𝒕

𝒕
𝒎−𝟏
𝒎

𝒅𝒕 + ∫
𝒆−𝒊(

𝝅
𝟐
)
𝒎
𝒕

𝒕
𝒎−𝟏
𝒎

𝒅𝒕
∞

𝟏

∞

𝟏

)) = −
𝟏

𝒎
(
𝝅

𝟐
𝐜𝐨𝐬 ((

𝝅

𝟐
)
𝒎

) − 

𝜞(𝟏 +
𝟏

𝒎
)𝒄𝒐𝒔

𝝅

𝟐𝒎
+
𝟏

𝟒𝒎
(𝑬𝒎−𝟏

𝒎

(−𝒊 (
𝝅

𝟐
)
𝒎

) + 𝑬𝒎−𝟏
𝒎

(𝒊 (
𝝅

𝟐
)
𝒎

)) 

𝑵𝒐𝒕𝒆 ∶  

∴ ∫ 𝐜𝐨𝐬(𝒙𝒎) 𝒅𝒙 = 𝕽(∫ 𝒆𝒊𝒙
𝒎

∞

𝟎

𝒅𝒙)
∞

𝟎

= 𝕽(𝜞(𝟏 +
𝟏

𝒎
)(𝒄𝒐𝒔

𝝅

𝟐𝒎
+ 𝒊𝒔𝒊𝒏

𝝅

𝟐𝒎
))

= 𝜞(𝟏 +
𝟏

𝒎
)𝒄𝒐𝒔

𝝅

𝟐𝒎
 

∴ 𝑬𝒏(𝒙) = ∫
𝒆−𝒙𝒕

𝒕𝒏
𝒅𝒕 ∶   𝑻𝒉𝒆  𝒆𝒙𝒑𝒐𝒏𝒆𝒏𝒕𝒊𝒂𝒍  𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒍

∞

𝟏

 

𝒏 = 𝟐 , 𝒌 = 𝟐, 𝒎 = 𝟐 ,   𝒂 = 𝟏 , 𝒃 = 𝟏 

Ω = ∫ (𝒙𝟐 𝐥𝐧 (𝒔𝒊𝒏𝟐(𝒙)) + 𝒙𝟐(𝟏 + 𝐬𝐢𝐧(𝒙𝟐))) 𝒅𝒙

𝝅
𝟐

𝟎

 

Ω = −
𝐥𝐧(𝟐)𝝅𝟑

𝟏𝟐
+
𝟑𝝅

𝟖
𝜻(𝟑) +

𝝅𝟑

𝟐𝟒
−
𝝅

𝟒
𝐜𝐨𝐬 (

𝝅𝟐

𝟒
) +

𝟏

𝟐
√
𝝅

𝟐
𝑪(√

𝝅

𝟐
) 

Solution 2 by Pratham Prasad-India 

𝛀 = ∫ (𝒙𝟐 𝐥𝐧(𝒔𝒊𝒏𝟐(𝒙)) + 𝒙𝟐(𝟏 + 𝐬𝐢𝐧 (𝒙𝟐)))

𝝅
𝟐

𝟎
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∫ (𝒙𝟐 𝐥𝐧(𝒔𝒊𝒏𝟐(𝒙)) + 𝒙𝟐(𝟏 + 𝐬𝐢𝐧 (𝒙𝟐)))

𝝅
𝟐

𝟎

= ∫ 𝒙𝟐 𝐥𝐧(𝒔𝒊𝒏𝟐(𝒙))

𝝅
𝟐

𝟎

𝒅𝒙 + ∫ 𝒙𝟐
𝝅
𝟐

𝟎

𝒅𝒙 + ∫ 𝒙𝟐
𝝅
𝟐

𝟎

𝐬𝐢𝐧(𝒙𝟐) 𝒅𝒙 = 

𝟐∫ 𝒙𝟐 𝐥𝐧(𝒔𝒊𝒏𝒙)

𝝅
𝟐

𝟎

𝒅𝒙 +
𝝅𝟑

𝟐𝟒
+ ∫ 𝒙𝟐

𝝅
𝟐

𝟎

𝐬𝐢𝐧(𝒙𝟐) 𝒅𝒙 = 

𝟐∫ 𝒙𝟐 (−𝒍𝒏(𝟐) −∑
𝐜𝐨𝐬(𝟐𝒌𝒙)

𝒌

∞

𝒌=𝟏

)

𝝅
𝟐

𝟎

𝒅𝒙 +
𝝅𝟑

𝟐𝟒
+ ∫ 𝒙𝟐

𝝅
𝟐

𝟎

𝐬𝐢𝐧(𝒙𝟐) 𝒅𝒙 = 

−𝟐 𝐥𝐧(𝟐)∫ 𝒙𝟐
𝝅
𝟐

𝟎

𝒅𝒙 − 𝟐∑
𝟏

𝒌
∫ 𝒙𝟐 𝐜𝐨𝐬(𝟐𝒙)

𝝅
𝟐

𝟎

𝒅𝒙

∞

𝒌=𝟏

+
𝝅𝟑

𝟐𝟒
+ ∫ 𝒙𝟐

𝝅
𝟐

𝟎

𝐬𝐢𝐧(𝒙𝟐) 𝒅𝒙 = 

−
𝐥𝐧(𝟐)𝝅𝟑

𝟏𝟐
− 𝟐∑

𝟏

𝒌
(
𝝅(−𝟏)𝒌

𝟒𝒌𝟐
)𝒅𝒙

∞

𝒌=𝟏

+
𝝅𝟑

𝟐𝟒
+∫ 𝒙𝟐

𝝅
𝟐

𝟎

𝐬𝐢𝐧(𝒙𝟐) 𝒅𝒙 = 

−
𝐥𝐧(𝟐)𝝅𝟑

𝟏𝟐
−
𝝅

𝟐
∑
(−𝟏)𝒌

𝒌𝟑

∞

𝒌=𝟏

+
𝝅𝟑

𝟐𝟒
+∫ 𝒙𝟐

𝝅
𝟐

𝟎

𝐬𝐢𝐧(𝒙𝟐) 𝒅𝒙 = 

−
𝐥𝐧(𝟐)𝝅𝟑

𝟏𝟐
+
𝟑𝝅

𝟖
𝜻(𝟑) +

𝝅𝟑

𝟐𝟒
+ ∫ 𝒙𝟐

𝝅
𝟐

𝟎

𝐬𝐢𝐧(𝒙𝟐) 𝒅𝒙 

𝑵𝒐𝒘, 

∫ 𝒙𝟐
𝝅
𝟐

𝟎

𝐬𝐢𝐧(𝒙𝟐) 𝒅𝒙 =
𝟏

𝟐
∫ 𝒙(𝟐𝒙

𝝅
𝟐

𝟎

𝐬𝐢𝐧(𝒙𝟐))𝒅𝒙 = [−
𝟏

𝟐
𝒙𝒄𝒐𝒔(𝒙𝟐)]

𝟎

𝝅
𝟐
+
𝟏

𝟐
∫ 𝐜𝐨𝐬 (𝒙𝟐)

𝝅
𝟐

𝟎

𝒅𝒙 = 

= −
𝝅

𝟒
𝐜𝐨𝐬 (

𝝅𝟐

𝟒
) +

𝟏

𝟐
[√
𝝅

𝟐
𝑪(√

𝟐

𝝅
𝒙)]

𝟎

𝝅
𝟐

= −
𝝅

𝟒
𝐜𝐨𝐬 (

𝝅𝟐

𝟒
) +

𝟏

𝟐
√
𝝅

𝟐
𝑪(√

𝝅

𝟐
) 

𝝍 = ∫ (𝒙𝟐 𝐥𝐧(𝒔𝒊𝒏𝟐(𝒙)) + 𝒙𝟐(𝟏 + 𝐬𝐢𝐧 (𝒙𝟐)))

𝝅
𝟐

𝟎

 

𝛀 = −
𝐥𝐧(𝟐)𝝅𝟑

𝟏𝟐
+
𝟑𝝅

𝟖
𝜻(𝟑) +

𝝅𝟑

𝟐𝟒
−
𝝅

𝟒
𝐜𝐨𝐬 (

𝝅𝟐

𝟒
) +

𝟏

𝟐
√
𝝅

𝟐
𝑪(√

𝝅

𝟐
) 

Solution 3 by Shobhit Jain-India 

𝜴 = ∫𝒙𝟐 𝒍𝒏(𝒔𝒊𝒏𝟐𝒙)𝒅𝒙

𝝅
𝟐

𝟎

+∫𝒙𝟐𝒅𝒙

𝝅
𝟐

𝟎

+∫𝒙𝟐𝒔𝒊𝒏(𝒙𝟐)𝒅𝒙

𝝅
𝟐

𝟎

 

= ∫𝟐𝒙𝟐 𝒍𝒏(𝟐𝒔𝒊𝒏𝒙)𝒅𝒙

𝝅
𝟐

𝟎

+ (𝟏 − 𝟐𝒍𝒏𝟐)∫ 𝒙𝟐𝒅𝒙

𝝅
𝟐

𝟎

+
𝟏

𝟐
∫ 𝒙𝒔𝒊𝒏(𝒙𝟐)𝟐𝒙𝒅𝒙

𝝅
𝟐

𝟎
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=⏟
𝜽=𝟐𝒙

𝟏

𝟒
∫𝜽𝟐 𝒍𝒏(𝟐𝒔𝒊𝒏(

𝜽

𝟐
))𝒅𝜽

𝝅

𝟎

+ (𝟏 − 𝟐𝒍𝒏𝟐)
𝝅𝟑

𝟐𝟒
+
𝟏

𝟐
∫𝒙𝒔𝒊𝒏(𝒙𝟐)𝒅(𝒙𝟐)

𝝅
𝟐

𝟎

 

= −
𝟏

𝟒
∑
𝟏

𝒏
∫𝜽𝟐 𝐜𝐨𝐬(𝒏𝜽)𝒅𝜽

𝝅

𝟎⏟          
𝑰𝟏

∞

𝒏=𝟏

+ (𝟏 − 𝟐𝒍𝒏𝟐)
𝝅𝟑

𝟐𝟒
−
𝟏

𝟐
∫𝒙𝒅[𝒄𝒐𝒔(𝒙𝟐)]

𝝅
𝟐

𝟎⏟          
𝑰𝟐

 

𝑰𝟏 = ∫𝜽
𝟐 𝐜𝐨𝐬(𝒏𝜽)𝒅𝜽

𝝅

𝟎

= [
𝜽𝟐 𝐬𝐢𝐧(𝒏𝜽)

𝒏
+ 𝟐

𝜽𝐜𝐨𝐬(𝒏𝜽)

𝒏𝟐
− 𝟐

𝐬𝐢𝐧(𝒏𝜽)

𝒏𝟑
]
𝟎

𝝅

=
𝟐𝝅𝐜𝐨𝐬(𝒏𝝅)

𝒏𝟐
=
𝟐𝝅(−𝟏)𝒏

𝒏𝟐
 

𝑰𝟐 = ∫𝒙𝒅[𝒄𝒐𝒔(𝒙
𝟐)]

𝝅
𝟐

𝟎

=
𝝅

𝟐
𝒄𝒐𝒔 (

𝝅𝟐

𝟒
) −∫ 𝒄𝒐𝒔(𝒙𝟐)𝒅𝒙

𝝅
𝟐

𝟎

=
𝝅

𝟐
𝒄𝒐𝒔(

𝝅𝟐

𝟒
) − √

𝝅

𝟐
𝑪 (
𝝅

𝟐
) 

⟹𝜴 = −
𝟏

𝟒
∑
𝟐𝝅(−𝟏)𝒏

𝒏𝟑

∞

𝒏=𝟏

+ (𝟏 − 𝟐𝒍𝒏𝟐)
𝝅𝟑

𝟐𝟒
−
𝟏

𝟐
(
𝝅

𝟐
𝒄𝒐𝒔 (

𝝅𝟐

𝟒
) − √

𝝅

𝟐
𝑪 (
𝝅

𝟐
)) 

=
𝝅

𝟐
𝜼(𝟑) + (𝟏 − 𝟐𝒍𝒏𝟐)

𝝅𝟑

𝟐𝟒
−
𝝅

𝟒
𝒄𝒐𝒔 (

𝝅𝟐

𝟒
) + √

𝝅

𝟖
𝑪 (
𝝅

𝟐
) 

 

𝜴 =
𝟑𝝅

𝟖
𝜻(𝟑) + (𝟏 − 𝟐𝒍𝒏𝟐)

𝝅𝟑

𝟐𝟒
−
𝝅

𝟒
𝒄𝒐𝒔 (

𝝅𝟐

𝟒
) + √

𝝅

𝟖
𝑪(
𝝅

𝟐
) 

 
NOTES: 

𝜼(𝒙) − 𝑫𝒊𝒓𝒊𝒄𝒉𝒍𝒆𝒕′𝒔 𝑬𝒕𝒂 𝑭𝒖𝒏𝒄𝒕𝒊𝒐𝒏  
 

𝜼(𝒙) = (𝟏 − 𝟐𝟏−𝒙)𝜻(𝒙) 
 

𝜻(𝒙) − 𝑹𝒊𝒆𝒎𝒂𝒏𝒏′𝒔 𝒁𝒆𝒕𝒂 𝑭𝒖𝒏𝒄𝒕𝒊𝒐𝒏 
 

𝑪(𝒙) − 𝑭𝒓𝒆𝒔𝒆𝒏𝒆𝒍′𝒔 𝒄𝒐𝒔𝒊𝒏𝒆 𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒍 𝒇𝒖𝒏𝒄𝒕𝒊𝒐𝒏 
 

𝑪(𝒙) = √
𝟐

𝝅
∫𝒄𝒐𝒔(𝒕𝟐)𝒅𝒕

𝒙

𝟎

=
𝟏

𝟐
∫ 𝑱
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𝟏
𝟐
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𝑱
−
𝟏
𝟐

(𝒕) = √
𝟐

𝝅𝒕
𝐜𝐨𝐬(𝒕) − 𝑩𝒆𝒔𝒔𝒆𝒍′𝒔 𝒄𝒐𝒔𝒊𝒏𝒆 𝒇𝒖𝒏𝒄𝒕𝒊𝒐𝒏 
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 It’s nice to be important but more important it’s to be nice. 
At this paper works a TEAM. 

This is RMM TEAM. 

To be continued! 

Daniel Sitaru 

 

 

 


